leffers	on County Public Schools														
Bid Tabula	ntion														
Event ID: JO															
Date Bids R	rate: March 5, 2024 Received: December 5, 2024														
Contract Pe	eriod: March 5, 2024 through February 28, 2025 No renewal option														
	: The Board will draw lots to break the tie for Item Nos.	95, 124, 144 & 162													
Item								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
Number	Item/Service	Description	Commodity Code		No Bid	иом	Quantity	Provider	Part Number	Price	Total Price	Notes	Supplier Notes	Award Status	Award Notes
001	Board, dry erase, white, 9" x 12", two-sided, board is blank on one side and skip-a-line ruled on the other,	Flipside #19034 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1515040-2012413	Cascade School Supplies	No	1 - Each Purchase	8634	Cascade Brand	116848	\$0.79	\$6,820.86		Cascade Brands 116848		REJECT - did not submit sample for evaluation.
	with marker.														
001	Board, dry erase, white, 9" x 12", two-sided, board is	Flipside #19034 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED	1515040-2012413	NATIONAL ART &	No	1 - Each	8634	EXTRIC	912R	\$1.48	\$12,778.32				REJECT - sample submitted is not equal, does not have
	blank on one side and skip-a-line ruled on the other, with marker.	PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES		Purchase									marker.
L									<u></u>					<u> </u>	
001	Board, dry erase, white, 9" x 12", two-sided, board is blank on one side and skip-a-line ruled on the other,	Flipside #19034 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1515040-2012413	Complete Printer Source	No	1 - Each Purchase	8634	Flipside Products	FLP19034	\$3.25	\$28,060.50				
	with marker.	,													
														Awarded	
001	Board, dry erase, white, 9" x 12", two-sided, board is	Flipside #19034 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED	1515040-2012413	School Specialty LLC	No	1 - Each	8634	FLIPSIDE	19034	\$3.34	\$28,837.56		2010561		
	blank on one side and skip-a-line ruled on the other,	PRODUCT, NO SAMPLE IS REQUIRED.		,,		Purchase				70.0	¥=0,001.00				
	with marker.														
001	Board, dry erase, white, 9" x 12", two-sided, board is		1515040-2012413	PYRAMID SCHOOL	No	1 - Each	8634	FLIPSIDE	19034	\$3.95	\$34,104.30				
	blank on one side and skip-a-line ruled on the other, with marker.	PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		Purchase									
								FLIPSIDE	10077	44.55	***				
002	Board, dry erase, magnetic, white, 9" x 12" two-sided, plain dry erase board both sides.	Flipside #10077 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1515040-2014355	SCHOOL SUPPLIES	No	1 - Each Purchase	4728	FLIPSIDE	100//	\$3.75	\$17,730.00				
														Awarded	
002	Board, dry erase, magnetic, white, 9" x 12" two-sided,	Flipside #10077 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED	1515040-2014355		No	1 - Each	4728	Flipside Products	FLP10077	\$3.99	\$18,864.72				
	plain dry erase board both sides.	PRODUCT, NO SAMPLE IS REQUIRED.		Source		Purchase									
002	Board, dry erase, magnetic, white, 9" x 12" two-sided, plain dry erase board both sides.	Flipside #10077 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1515040-2014355	Cascade School Supplies	No	1 - Each Purchase	4728	Cascade Brand	027935	\$4.19	\$19,810.32		Cascade Brands 027935		
	, , , , , , , , , , , , , , , , , , , ,			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,											
002	Board, dry erase, magnetic, white, 9" x 12" two-sided,	Flipside #10077 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED	1515040-2014355	School Specialty LLC	No	1 - Each	4728	FLIPSIDE	10077	\$4.20	\$19,857.60		288529		
	plain dry erase board both sides.	PRODUCT, NO SAMPLE IS REQUIRED.				Purchase									
002	Board, dry erase, magnetic, white, 9" x 12" two-sided, plain dry erase board both sides.	Flipside #10077 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1515040-2014355	John R Green Co	No	1 - Each Purchase	4728	FLIPSIDE-10077	09307	\$4.33	\$20,472.24				
	positiony cross source both sides.	TROODER, NO STAFFLE IS REQUIRED.				- Granase									
002	Board do oraco magnetic white 0" 42" to	Flipside #10077 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED	1515040, 2014255	DADWID CONOC.	No	1 - Each	4728	FLIPSIDE	10077	\$4.95	\$23,403.60				
002	plain dry erase, magnetic, white, 9" x 12" two-sided, plain dry erase board both sides.	PRODUCT, NO SAMPLE I DOARD. IT BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1313040-2014355	PRODUCTS PRODUCTS	140	1 - Each Purchase	4/28	FLIPSIDE	100//	54.95	\$25,4U5.BU				

002	Board, dry erase, magnetic, white, 9" x 12" two-sided, plain dry erase board both sides.	Flipside #10077 or equal. SAMPLE = 1 board. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1515040-2014355	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	4728	LAKESHORE	JJ386 Baseline on one side	\$6.50	\$30,732.00	Please reference "Per Quote #36611" on all purchase orders.	Double-Sided Learn to Print Write & Wipe Board TERMS: NET 30	
003	Book, phone message, 11" x 5 1/2", white original with carboniess canary duplicate, 4/page with shaded check boxes, form size 5" x 2 3/4", 400 sets/book.	Tops #4003 or equal. SAMPLE = 1 booklet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690075-1719355	Complete Printer Source	No	1 - Each Purchase	53	TOPS	TOP4003	\$4.00	\$212.00			Awarded
003	Book, phone message, 11" x 5 1/2", white original with carbonless canary duplicate, 4/page with shaded check boxes, form size 5" x 2 3/4", 400 sets/book.	Tops #4003 or equal. SAMPLE = 1 booklet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690075-1719355	Cascade School Supplies	No	1 - Each Purchase	53	Cascade Brand	031692	\$4.23	\$224.19			
003	Book, phone message, 11" x 5 1/2", white original with carbonless canary duplicate, 4/page with shaded check boxes, form size 5" x 2 3/4", 400 sets/book.	Tops #4003 or equal. SAMPLE = 1 booklet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690075-1719355	John R Green Co	No	1 - Each Purchase	53	TOPS-SC1154D	16075	\$4.28	\$226.84		DIFFERENT BRAND	
003	Book, phone message, 11" x 5 1/2", white original with carbonless canary duplicate, 4/page with shaded check boxes, form size 5" x 2 3/4", 400 sets/book.	Tops #4003 or equal. SAMPLE = 1 booklet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690075-1719355	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	53	TOPS	4003	\$4.59	\$243.27			
003	Book, phone message, 11" x 5 1/2", white original with carbonless canary duplicate, 4/page with shaded check boxes, form size 5" x 2 3/4", 400 sets/book.	Tops #4003 or equal. SAMPLE = 1 booklet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690075-1719355	School Specialty LLC	No	1 - Each Purchase	53	TOPS	4003	\$5.27	\$279.31		075191	
003	Book, phone message, 11" x 5 1/2", white original with carbonless canary duplicate, 4/page with shaded check boxes, form size 5" x 2 3/4", 400 sets/book.	Tops #4003 or equal. SAMPLE = 1 booklet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690075-1719355	Kerr Office Group, Inc.	No	1 - Each Purchase	53	ТОР	4003	\$6.50	\$344.50			
004	Carpet, rug, calendar, colorful and multifunctional, ideal for imaginative and cognitive play.	Great for teaching days of the week and months of the year, 8" * x 13 * 4". Carpets For Kids \$133 or equal. Lifetime abrasive wear warranty, lifetime anti-microbial protection warranty, advanced anti-static protection no-fault serge warranty, 100% made in 10.5 A., KIDply backing, CFK's patiented KIDply backing, Meets NFPA 253, Class If fire code requirements. Cradle to Cradle certified. Green Label Plus: All Carpets for Kids carpets meet the CRI's Green Label Plus certification. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. PLEASE SEND DESCRIPTIVE LITERATURE INCLUDING PICTURE.			No	1 - Each Purchase	101	CARPETS FOR KIDS	1134	\$382.78	\$38,660.78		066923	Awarded
004	Carpet, rug, calendar, colorful and multifunctional, ideal for imaginative and cognitive play.	Great for teaching days of the week and months of the year, 8" * 13 4" * 13 4". Carpets For Kib #1334 or equal. Lifetime abrasive wear warranty, lifetime anti-microbial protection warranty, advanced anti-static protection no-fault serge warranty, 100% made in 10.5 A, KIDply backing, ErK's patiented KIDply backing, Meets NFPA 253, Class If fire code requirements. Cradle to Cradle certified. Green table Plaus all carpets for Kids carpets meet the CRIS Tecen Label Plus certification. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. PLEASE SEND DESCRIPTIVE LITERATURE INCLUDING PICTURE.		Supplies	No	1 - Each Purchase	101	Carpet For Kids	1134 CAS099009		\$42,976.51			
004	Carpet, rug, calendar, colorful and multifunctional, ideal for imaginative and cognitive play.	Great for teaching days of the week and months of the year, 8" at 3.1" at Carpets For Kide \$13.9 or qual. Lifetime abrais wear warranty, lifetime anti-microbial protection warranty, advanced anti-static protection no-fault serge warranty, 100% made in U.S.A., Klipply backing. CFK's paterted Klipply backing, Mets NFA 253, Class life code requirements. Cradle to Cradle certified. Green Label Plus: All carpets for Kids carpets meet the CRI's Green Label Plus: Certification. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. PLEASE SEND DESCRIPTIVE LITERATURE INCLUDING PICTURE.		John R Green Co	No	1 - Each Purchase	101	CARPET 4 KIDS-1134	94576	\$439.74	\$44,413.74			
004	Carpet, rug, calendar, colorful and multifunctional, ideal for imaginative and cognitive play.	Great for teaching days of the week and months of the year, 8' 4" x 13' 4". Carpets For Kds #1134 or equal. Lifetime abrasive wear warranty, lifetime anti-microbial protection warranty, avanced anti-static protection no-fault serge warranty, 100% made in U.S.A., Klūphy backing. CFK's patented Klūphy backing. Meds NFPA 253, Class 1 fire code requirements. Cradle to Cradle certified. Green Label Plus: All carpets for Kids carpets meet the CRI's Green Label Plus: Certification. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. PLEASE SEND DESCRIPTIVE LITERATURE INCLUDING PICTURE.	1525150-1718550	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	101	BRUMLOW MILLS INC	DD497 9x12, Numbers & Letters Rug	\$510.57	\$51,567.57	Please reference "Per Quote #36611" on all purchase orders.	Numbers & Letters Activity Carpet 9' x 12' TERMS: NET 30	

005	Chalk, stick, white, 3 3/16" x 3/8", 12 sticks/box. AP	Crayola #50-1402 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED	2500120-1651090	School Specialty LLC	No	1 - 12 Count	243	CRAYOLA	50-1402	\$0.40	\$97.20	008034		1
	Certified, anti-dust, non-toxic.	PRODUCT, NO SAMPLE IS REQUIRED.		,		Box					*******			
													Awarded	
005	Chalk, stick, white, 3 3/16" x 3/8", 12 sticks/box. AP Certified, anti-dust, non-toxic.	Crayola #50-1402 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500120-1651989	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	243	CRAYOLA	50-1402	\$0.41	\$99.63			
005	Chalk, stick, white, 3 3/16" x 3/8", 12 sticks/box. AP Certified, anti-dust, non-toxic.	Crayola #50-1402 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500120-1651989	John R Green Co	No	1 - 12 Count Box	243	CRAYOLA-1402	09010	\$0.56	\$136.08			
	Certified, anti-dust, non-toxic.	PRODUCT, NO SAMPLE IS REQUIRED.				Box								
005	Chalk, stick, white, 3 3/16" x 3/8", 12 sticks/box. AP	Crayola #50-1402 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED	2500120-1651989		No	1 - 12 Count	243	Crayola	1402 CAS012153	\$0.63	\$153.09			
	Certified, anti-dust, non-toxic.	PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Box								
005	Chalk, stick, white, 3 3/16" x 3/8", 12 sticks/box. AP	Crayola #50-1402 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED	2500120-1651000	Complete Printer	No	1 - 12 Count	243	Crayola	CYO501402	\$0.69	\$167.67			
303	Certified, anti-dust, non-toxic.	PRODUCT, NO SAMPLE IS REQUIRED.		Source	.40	Box	243	Crayola	2.0301402	50.05	\$237.07			
006	Classpack, crayons, construction paper, regular size, 400 crayons (16 different colors - 25 of each color).	Crayola #52-1617 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012770	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 400 Count Pack	85	CRAYOLA	52-1617	\$33.90	\$2,881.50			
													Awarded	
006	Classpack, crayons, construction paper, regular size,	Crayola #52-1617 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012770		No	1 - 400	85	Crayola	CYO521617	\$38.19	\$3,246.15			
	400 crayons (16 different colors - 25 of each color).	SAMPLE IS REQUIRED.		Source		Count Pack								
006	Classpack, crayons, construction paper, regular size,	Crayola #52-1617 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012770	John R Green Co	No	1 - 400	85	CRAYOLA-1617	43028	\$39.30	\$3,340.50			
000	400 crayons (16 different colors - 25 of each color).	SAMPLE IS REQUIRED.	1110000 1011//0	John W Green Co		Count Pack	03	CINTODA 1017	43020	\$33.30	\$3,340.30			
006	Classpack, crayons, construction paper, regular size, 400 crayons (16 different colors - 25 of each color).	Crayola #52-1617 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012770	PYRAMID SCHOOL PRODUCTS	No	1 - 400 Count Pack	85	CRAYOLA	52-1617	\$39.95	\$3,395.75			
006	Classpack, crayons, construction paper, regular size,	Crayola #52-1617 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012770	School Specialty LLC	No	1 - 400	85	CRAYOLA	52-1617	\$39.98	\$3,398.30	078640		
	400 crayons (16 different colors - 25 of each color).	SAMPLE IS REQUIRED.				Count Pack								
006	Classpack, crayons, construction paper, regular size,	Crayola #52-1617 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012770	Cascade School	No	1 - 400	85	Crayola	521617	\$41.25	\$3,506.25			
	400 crayons (16 different colors - 25 of each color).	SAMPLE IS REQUIRED.		Supplies		Count Pack			CAS022786					
007	Classpack, crayons, regular size, 800 crayons (16 different colors - 50 of each color).	Crayola #52-8016 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012769	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 800 Count Pack	313	CRAYOLA	52-8016	\$39.12	\$12,244.56			
													Awarded	
													Awarded	
007	Classpack, crayons, regular size, 800 crayons (16 different colors - 50 of each color).	Crayola #52-8016 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012769	PYRAMID SCHOOL PRODUCTS	No	1 - 800 Count Pack	313	CRAYOLA	52-8016	\$39.25	\$12,285.25			
	unrerent colors - 50 of each colory.	SAIVIFLE IS REQUIRED.		PRODUCIS		Count Pack								

Accordance of the Company of the C	007	Classpack, crayons, regular size, 800 crayons (16	Crayola #52-8016 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000 2012760	Cohool Coosialty LLC	No	1 - 800	313	CRAYOLA	52-8016	\$39.26	\$12,288.38		424363	1	1
Company Comp	007			1220000-2012703	School Specialty EEC	140		313	CIGIOLA	32-0010	333.20	\$12,200.30		424303		
March Marc																
March Marc																
Company Comp																
Company Comp	007	Classpack, crayons, regular size, 800 crayons (16	Cravola #52-8016 or equal IE BIDDING THE APPROVED PRODUCT. NO	1220000-2012769	Complete Printer	No	1 - 800	313	Cravola	CYO528016	\$50.49	\$15.803.37				
## Street Annual Services of Authorized Control (1977) 1000 1	007			1220000-2012703		140		313	Crayola	C10328010	330.43	\$13,003.37				
## Street Annual Services of Authorized Control (1977) 1000 1																
## Street Annual Services of Authorized Control (1977) 1000 1																
## Street Annual Services of Authorized Control (1977) 1000 1																
## Street Annual Services of Authorized Control (1977) 1000 1	207	Shared and a state of the state	Canada MEZ GOAC as asset IF DIDDING THE ADDROVED DODDING THE	4330000 3043750	take B Course Co		4 000	242	CD AVOL A COAS	44050	653.53	646 754 76				
200 Count from cape in Elizabeta Count Allert cape Count A	007			1220000-2012769	John K Green Co	NO		313	CRAYULA-8016	44058	\$53.52	\$16,751.76				
Control Cont																
Control Cont																
Control Cont																
200	007			1220000-2012769		No		313	Crayola		\$54.12	\$16,939.56				
### AMERICA STOCK STOCK COLUMN AND ASSESSED ASSESSED AND ASSESSED ASSESSED ASSESSED ASSESSED AND ASSESSED ASSE		,														
### AMERICA STOCK STOCK COLUMN AND ASSESSED ASSESSED AND ASSESSED ASSESSED ASSESSED ASSESSED AND ASSESSED ASSE																
### AMERICA STOCK STOCK COLUMN AND ASSESSED ASSESSED AND ASSESSED ASSESSED ASSESSED ASSESSED AND ASSESSED ASSE																
### AMERICA STOCK STOCK COLUMN AND ASSESSED ASSESSED AND ASSESSED ASSESSED ASSESSED ASSESSED AND ASSESSED ASSE	L				<u> </u>						<u> </u>	<u></u>			<u> </u>	<u> </u>
252 Chapter, retainer, containing, workside, 250 melonics Chapter of a 200 melonic of	007			1220000-2012769		No		313	LAKESHORE	VX818	\$55.79	\$17,462.27				
Compact America, Controlling workship, 200 minors Compact Readon or copied in Broad in Processing and Proce		unterent colors - 50 or each color).	SMINIFEE IS REQUIRED.		iviaterials, LLC		Count Pack							COIOI DUX TERMIS: NET 30		
SAMPLE SECURITY SAMPLE SEC																
SAMPLE SECURITY SAMPLE SEC																
SAMPLE SECURITY SAMPLE SEC																
Columnic	008			1220000-2012771		No		279	CRAYOLA	52-8200	\$49.78	\$13,888.62				REJECT - did not submit sample for evaluation.
Bid Reference cates - 2 of search cates SAMPLE OR REQUESTION THE PROPOSED PRODUCT, NO. 120000 2012772 School Specially LE. No. 2.200 279 OAMPLA 38-8200 593.87 534,856.75 1334428		(8 different colors - 25 of each color).	SAMPLE IS REQUIRED.		SCHOOL SUPPLIES		Count Pack									
Bid Reference cases - 2 of search cases Search County Se																
Bid Reference cases - 2 of search cases Search County Se																
March Marc																
March Marc	008	Classpack, markers, conical tip, washable, 200 markers	Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012771	PYRAMID SCHOOL	No	1 - 200	279	CRAYOLA	58-8200	\$49.99	\$13,947.21				
Company Comp																
Company Comp																
Count Pack Cou															Awarded	
Court Pack Cou																
Count Pack Cou	008	Classnack markers conical tin washable 200 markers	Cravals #59,9200 or equal IE BIDDING THE ADDROVED DRODUCT NO	1220000-2012771	School Specialty LLC	No	1 - 200	270	CRAVOLA	50.0200	¢52.25	¢14 056 75		1224629		
Guisspack, markers, concist tip, washable, 200 markers BidDING THE APPROVED PRODUCT, NO 1220000-2012771 John R Green Co No 1-200 Court Pack SAMPLE S REQUIRED.	008			1220000-2012771	School Specialty LLC	140		2/3	CIGIOLA	38-8200	333.23	\$14,030.73		1334020		
Guistgack, markers, concist tip, wealthable, 200 markers BidDING THE APPROVED PRODUCT, NO 1220000-2012772 Listenbore Learning No 1-200 Count Peck SAMPLE IS REQUIRED. SAMPLE IS REQU																
Guisspack, markers, concist tip, washable, 200 markers BidDING THE APPROVED PRODUCT, NO 1220000-2012771 John R Green Co No 1-200 Court Pack SAMPLE S REQUIRED.																
Guisspack, markers, concist tip, washeble, 200 markers British REQUIRED. Source Court Pack Court Pack Court Pack Court Pack Gefferent colors - 25 of each color). SAMPLE SEQUIRED. Source Court Pack Court																
Guisspack, markers, concist tip, washeble, 200 markers British REQUIRED. Source Court Pack Court Pack Court Pack Court Pack Gefferent colors - 25 of each color). SAMPLE SEQUIRED. Source Court Pack Court											***	*				
OB Classpack, markers, conical tip, weakhable, 200 markers (it different colors - 25 of each color). Cayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED. Cayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED. Cayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED. Cayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED. Cayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED. Cancer Pack Out Pack Out Pack Cayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED. Court Pack Out Pac	008			1220000-2012771		No		279	Crayola	CYO588200	\$69.49	\$19,387.71				
Count Pack Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO		,														
Count Pack Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, markers, conical tip, mon-washable, 256 Cayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012771 Cascade School Count Pack Cascade School Count Pack Cascade School Count Pack Cascade School Count Pack Cascade School Cascade																
Count Pack Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, markers, conical tip, mon-washable, 256 Cayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012771 Cascade School Count Pack Cascade School Count Pack Cascade School Count Pack Cascade School Count Pack Cascade School Cascade																
Count Pack Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, markers, conical tip, mon-washable, 256 Cayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012771 Cascade School Count Pack Cascade School Count Pack Cascade School Count Pack Cascade School Count Pack Cascade School Cascade																
O08 Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (7 rayola #58-8200 or equal. If BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Classpack, markers, conical tip, washable, 200 markers (7 rayola #58-8200 or equal. If BIDDING THE APPROVED PRODUCT, NO 1220000-2012771 Cascade School Supplies (7 rayola #58-8201 or equal. If BIDDING THE APPROVED PRODUCT, NO 1220000-2012772 PYRAMID SCHOOL NO 1 - 256 434 CRAYOLA 58-8201 S48-89 S21,218.26	008			1220000-2012771	John R Green Co	No		279	CRAYOLA-8200	08284	\$69.79	\$19,471.41				
(8 different colors - 25 of each color). SAMPLE IS REQUIRED. Materials, LLC Count Pack Markers - Class Pack TERMS: NET 30 ONB Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO Supplies ONB Classpack, markers, conical tip, non-washable, 256 Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012772 PYRAMID SCHOOL NO 1 - 256 434 CRAYOLA S8-8201 S48.89 S21,218.26		(8 different colors - 25 of each color).	SAMPLE IS REQUIRED.				Count Pack									
(8 different colors - 25 of each color). SAMPLE IS REQUIRED. Materials, LLC Count Pack Markers - Class Pack TERMS: NET 30 ONB Classpack, markers, conical tip, washable, 200 markers (8 different colors - 25 of each color). Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO Supplies ONB Classpack, markers, conical tip, non-washable, 256 Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012772 PYRAMID SCHOOL NO 1 - 256 434 CRAYOLA S8-8201 S48.89 S21,218.26																
(8 different colors - 25 of each color). SAMPLE IS REQUIRED. Materials, LLC Count Pack Markers - Class Pack TERMS: NET 30 Markers - Class Pack TERMS: NET 30 Over 1																
(8 different colors - 25 of each color). SAMPLE IS REQUIRED. Materials, LLC Count Pack Markers - Class Pack TERMS: NET 30 Markers - Class Pack TERMS: NET 30 Over 1																
O08 Classpack, markers, conical tip, washable, 200 markers (Solid Research Color). Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012771 Cascade School Supplies No 1-200 Count Pack Cast 700 Count Pack	008			1220000-2012771		No		279	LAKESHORE	JJ439	\$74.39	\$20,754.81				
Crayola #58-8200 or equal. IF BIDDING THE APPROVED PRODUCT, NO Supplies Count Pack Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012771 Cascade School Supplies Count Pack Cascade School Count Pack Cascade Sch		(8 different colors - 25 of each color).	SAMPLE IS REQUIRED.		Materials, LLC		Count Pack									
(8 different colors - 25 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS170229 OUR Pack CAS17022													orders.	30		
(8 different colors - 25 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS170229 OUR Pack CAS17022																
(8 different colors - 25 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS170229 OUR Pack CAS170229																
(8 different colors - 25 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS170229 OUR Pack CAS170229	008			1220000-2012771	Cascade School	No		279	Crayola		\$74.56	\$20,802.24				
		(8 different colors - 25 of each color).					Count Pack			CAS170229						
	000	Clarenack markers conicel tie near weekeld. 255	Cravela #59,9201 or equal IE DIDDING THE ADDROVED DROPLICE NO	1220000 201277	DABAWID CCHOC.	No	1.356	424	CRAYOLA	EQ.0304	\$40.00	\$21,210,20				
	009			1220000-2012//2		NO		434	CRATULA	30-6ZUI	\$48.89	\$21,218.26				

009	Classpack, markers, conical tip, non-washable, 256 markers (16 different colors - 16 of each color).	Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012772	School Specialty LLC	No	1 - 256 Count Pack	434	CRAYOLA	58-8201	\$49.90	\$21,656.60		207192	Awarded	Awarded - based on reciprocal preference for resident bidders applied against Pyramid School Products Inc as stated in the Kentucky Model Procurement Code per KRS45A.494. PREFERENCE
009	Classpack, markers, conical tip, non-washable, 256 markers (16 different colors - 16 of each color).	Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012772	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 256 Count Pack	434	CRAYOLA	52-8201	\$53.80	\$23,349.20				
009	Classpack, markers, conical tip, non-washable, 256 markers (16 different colors - 16 of each color).	Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012772	John R Green Co	No	1 - 256 Count Pack	434	CRAYOLA-8201	08136	\$66.72	\$28,956.48				
009	Classpack, markers, conical tip, non-washable, 256 markers (16 different colors - 16 of each color).	Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012772	Cascade School Supplies	No	1 - 256 Count Pack	434	Crayola	588201 CAS150090	\$67.41	\$29,255.94				
009	Classpack, markers, conical tip, non-washable, 256 markers (16 different colors - 16 of each color).	Crayola #58-8201 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012772	Complete Printer Source	No	1 - 256 Count Pack	434	Crayola	CYO588201	\$67.49	\$29,290.66				
010	Classpack, markers, fine tip, non-washable, 200 markers (10 different colors - 20 of each color).	Crayola #58-8210 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012773	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 200 Count Pack	181	CRAYOLA	52-8210	\$42.78	\$7,743.18			Awarded	
010	Classpack, markers, fine tip, non-washable, 200 markers (10 different colors - 20 of each color).	Crayola #58-8210 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012773	PYRAMID SCHOOL PRODUCTS	No	1 - 200 Count Pack	181	CRAYOLA	58-8210	\$42.85	\$7,755.85				
010	Classpack, markers, fine tip, non-washable, 200 markers (10 different colors - 20 of each color).	Crayola #58-8210 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		School Specialty LLC		1 - 200 Count Pack	181	CRAYOLA	58-8210	\$44.99	\$8,143.19		207193		
010	Classpack, markers, fine tip, non-washable, 200 markers (10 different colors - 20 of each color).	Crayola #58-8210 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012773	Lakeshore Learning Materials, LLC	No	1 - 200 Count Pack	181	LAKESHORE	LASS3	\$55.79	\$10,097.99	Please reference "Per Quote #36611" on all purchase orders.	Best-Buy Broad-Tip Markers - Class Pack TERMS: NET 30		
010	Classpack, markers, fine tip, non-washable, 200 markers (10 different colors - 20 of each color).	Crayola #58-8210 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012773	Supplies	No	1 - 200 Count Pack	181	Crayola	588210 CAS000476	\$57.42	\$10,393.02				
010	Classpack, markers, fine tip, non-washable, 200 markers (10 different colors - 20 of each color).	Crayola #58-8210 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source	No	1 - 200 Count Pack	181	Crayola	CYO588210	\$59.49	\$10,767.69				
010	Classpack, markers, fine tip, non-washable, 200 markers (10 different colors - 20 of each color).	Crayola #58-8210 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		John R Green Co	No	1 - 200 Count Pack	181	CRAYOLA-8210	08143	\$59.76					
011	Classpack, markers, multicultural, conical tip, washable, 240 markers (24 different colors - 10 of each color).	Crayola #58-8228 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012774	PYRAMID SCHOOL PRODUCTS	No	1 - 240 Count Pack	53	CRAYOLA	58-8228	\$53.65	\$2,843.45			Awarded	

The content of the	March Marc	_	T													
A	10 10 10 10 10 10 10 10	011	Classpack, markers, multicultural, conical tip, washable. 240 markers (24 different colors - 10 of each		1220000-2012774		No		53	CRAYOLA	58-8228	\$53.67	\$2,844.51			
March Marc	March Marc															
March Marc	March Marc															
March Marc	March Marc															
March Marc	March Marc															
March Marc	March Marc	011	Classpack, markers, multicultural, conical tip.	Cravola #58-8228 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012774	John R Green Co	No	1 - 240	53	CRAYOLA-8228	08823	\$57.30	\$3.036.90			
March Application Applic	Second Content		washable, 240 markers (24 different colors - 10 of each									******	40,000			
March Address Addres	No. Column Colu		color).													
March Address Addres	No. Column Colu															
March Marc	No. Company															
March Marc	No. Company															
13 Compact or part of the date of the compact o	Total	011	Classpack, markers, multicultural, conical tip,	Crayola #58-8228 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012774	Complete Printer	No	1 - 240	53	Crayola	CYO588228	\$59.99	\$3,179.47			
13	100 100			SAMPLE IS REQUIRED.		Source		Count Pack								
Accordance Control of Control			color).													
Accordance Control of Control																
Accordance Control of Control																
Accordance Control of Control																
Compact State	Section Compare Comp	011			1220000-2012774	School Specialty LLC	No		53	CRAYOLA	58-8228	\$63.24	\$3,351.72	2090273		
Second Content Content of Content Conten	Second Content of Co			SAIVIPLE IS REQUIRED.				Count Pack								
Second Content Content of Content Conten	Second Content of Co															
Second Content Content of Content Conten	Second Content of Co	1												1		
Second Content Content of Content Conten	Second Content of Co	1												1		
Second Content Content of Content Conten	Second Content of Co	011	Classnack markers multicultural conical tie	Cravela #58,8778 or equal IF RIDDING THE ADDROVED DRODUCT NO	1220000-2012774	Cascado School	No	1.240	52	Cravola	588220	ÇEE EA	\$3 576 67			
Column C	Company Comp	011			2220000-2012//4		140		-55	CrayUld		JUD.34	23,320.02	1		
Contract	Application Contribute Co	1												1		
Description Control	Application Contribute Co	1												1		
Contract	Application Contribute Co	1										1				
Contract	Application Contribute Co	1												1		
Contract	Application Contribute Co	012	Classpack, oil pastels, jumbo size sticks. 336 oil pastels	Crayola #52-4629 or equal. IF BIDDING THE APPROVED PRODUCT. NO	1220000-2012775	PYRAMID SCHOOL	No	1 - 336	52	CRAYOLA	52-4629	\$30.05	\$1,562.60			
Compared and compared protections and compared and comp	Second Content											******	*-,			
Compared and compared protections and compared and comp	Second Content															
Count Pask Cou	102 Cestpack, of parties, jumbs see stocks, 35d of parties, jumbs see stoc														Awarded	
Court Pack County Pack C	102 Cestpack, of parties, jumbs see stocks, 35d of parties, jumbs see stoc															
Count Pask Cou	102 Cestpack, of parties, jumbs see stocks, 35d of parties, jumbs see stoc															
Contract	1.1 1.2 1.2	012	Classpack, oil pastels, jumbo size sticks, 336 oil pastels		1220000-2012775	John R Green Co	No	1 - 336	52	CRAYOLA-4629	49015	\$32.38	\$1,683.76			
(12 officient colors - 28 of each color). SAMPLE 6 REQUIRED. SCHOOL SUPPLES Count Pack Count Pack	Classpeek, oil passels, jumbos ser stocks, 138 oil passels, 138 oil passels		(12 different colors - 28 of each color).	SAMPLE IS REQUIRED.				Count Pack								
(12 officient colors - 28 of each color). SAMPLE 6 REQUIRED. SCHOOL SUPPLES Count Pack Count Pack	Classpeek, oil passels, jumbos ser stocks, 138 oil passels, 138 oil passels															
(12 officient colors - 28 of each color). SAMPLE 6 REQUIRED. SCHOOL SUPPLES Count Pack Count Pack	Classpeek, oil passels, jumbos ser stocks, 138 oil passels, 138 oil passels															
(12 officient colors - 28 of each color). SAMPLE 6 REQUIRED. SCHOOL SUPPLES Count Pack Count Pack	Classpeek, oil passels, jumbos ser stocks, 138 oil passels, 138 oil passels															
(12 officient colors - 28 of each color). SAMPLE 6 REQUIRED. SCHOOL SUPPLES Count Pack Count Pack	Classpeek, oil passels, jumbos ser stocks, 138 oil passels, 138 oil passels															
13.2 Classpeck, of pastete, jumbs are stocks, 356 of pastetes Caryola 62-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO. 1200000-2812773 Complete Printer. No. 1-356 52 Crayola Croyola 62-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO. 1200000-2812773 School Specialty LEC. No. 1-356 52 Crayola Crayola 62-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO. 1200000-2812773 School Specialty LEC. No. 1-356 52 Crayola Crayola 62-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO. 1200000-2812775 School Specialty LEC. No. 1-356 52 Crayola Crayola 62-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO. 1200000-2812775 Catalab School No. 1-356 52 Crayola Crayola 62-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO. 1200000-2812775 Catalab School No. 1-356 52 Crayola Crayola 62-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO. 1200000-2812775 Catalab School No. 1-356 52 Crayola Crayola 62-4629 S36.56 S2.057.22 S36.56 S2.057.22 S36.56 S36.56 S36.56 S36.56 S36.57 S36.56 S36.56 S36.57 S36.56	0.2. Classpeck, oil pasteris, jumino size statos, 318 oil pasteris, ju	012			1220000-2012775		No		52	CRAYOLA	54-4629	\$33.80	\$1,757.60			
Count Pick Cou	Count Pack Cou		(12 different colors - 28 of each color).	SAMPLE IS REQUIRED.		SCHOOL SUPPLIES		Count Pack								
Count Pack Cou	Count Pack Cou															
Count Pack Cou	Count Pack Cou															
Count Pack Cou	Count Pack Cou															
Count Pack Cou	Count Pack Cou															
012 Classpeck, oil pastels, jumbo size sticks, 336 oil pastels Crayola #52-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012775 School Specialty-LLC No 1-336 S2 CMAYOLA S2-4629 S36.34 S1,889.68 405788	012 Classpack, oil pastels, jumbo size sticks, 336 oil pastels Crayda #52-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012775 School Specialty LLC No 1-336 S2 CRAYDLA S2-4629 S36.34 S1,889.68 405788 405788	012			1220000-2012775		No		52	Crayola	CYO524629	\$34.29	\$1,783.08			
12 different colors - 28 of each color). SAMPLE IS REQUIRED. Count Pack Count Pack Count Pack Count Pack Count Pack Cascade School (12 different colors - 28 of each color). Cascade School (12 differe	Count Pack Cou		(12 different colors - 28 of each color).	SAIVIPLE IS REQUIRED.		Source		Count Pack								
12 different colors - 28 of each color). SAMPLE IS REQUIRED. Count Pack Count Pack Count Pack Count Pack Count Pack Cascade School (12 different colors - 28 of each color). Cascade School (12 differe	Count Pack Cou															
12 different colors - 28 of each color). SAMPLE IS REQUIRED. Count Pack Count Pack Count Pack Count Pack Count Pack Cascade School (12 different colors - 28 of each color). Cascade School (12 differe	Count Pack Cou															
12 different colors - 28 of each color). SAMPLE IS REQUIRED. Count Pack Count Pack Count Pack Count Pack Count Pack Cascade School (12 different colors - 28 of each color). Cascade School (12 differe	Count Pack Cou															
12 different colors - 28 of each color). SAMPLE IS REQUIRED. Count Pack Count Pack Count Pack Count Pack Count Pack Cascade School (12 different colors - 28 of each color). Cascade School (12 differe	Count Pack Cou	043	Classock ail postale jumb - ' 1' 225 - ''	Crouple #E2 4620 or equal E DIDDING TUE ADDROVED DDGG	1220000 2012777	Sehaal Saratahari	N	1 220		CDAYOLA	E2 4520	636.34	ć1 000 C0	405700		
012 Classpack, oil pastels, jumbo size sticks, 336 oil pastels (12 different colors - 28 of each color). Crayola #52-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012775 Cascade School Supplies Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 PRODUCT, NO 1-462 310 CRAYOLA 68-8462 S53.77 S16,668.70 216783	O12 Classpack, oil pastels, jumbo size sticks, 336 oil pastels (12 different colors - 28 of each color). Crayola #52-4629 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO Sechol Speciality ILC. No 1 - 462 310 CRAYOLA 68-8462 S53.77 516,668.70 216783	012	(12 different colors - 28 of each color).		1220000-2012/75	school specialty LLC	NO		52	CRAYOLA	52-4629	\$36.34	\$1,889.68	405/88		
(12 different colors - 28 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS022785 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO Awarded D13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 550.00 \$15,500.00 Awarded Awarded	(12 different colors - 28 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS022785 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO PRODUCTS Awarded CRAYOLA 68-8462 SS0.00 S15,500.00 Awarded CRAYOLA 68-8462 SS0.07 S16,668.70 216783		,													
(12 different colors - 28 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS022785 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO Awarded Awarded CAS022785 Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 PYRAMID SCHOOL PRODUCTS Ount Pack CRAYOLA 68-8462 S50.00 S15,500.00 Awarded	(12 different colors - 28 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS022785 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO PRODUCTS Awarded CRAYOLA 68-8462 SS0.00 S15,500.00 Awarded CRAYOLA 68-8462 SS0.07 S16,668.70 216783															
(12 different colors - 28 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS022785 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO Awarded Awarded CAS022785 Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 PYRAMID SCHOOL PRODUCTS Ount Pack CRAYOLA 68-8462 S50.00 S15,500.00 Awarded	(12 different colors - 28 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS022785 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO PRODUCTS Awarded CRAYOLA 68-8462 SS0.00 S15,500.00 Awarded CRAYOLA 68-8462 SS0.07 S16,668.70 216783															
(12 different colors - 28 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS022785 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO Awarded D13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 550.00 \$15,500.00 Awarded Awarded	(12 different colors - 28 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS022785 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO PRODUCTS Awarded CRAYOLA 68-8462 SS0.00 S15,500.00 Awarded CRAYOLA 68-8462 SS0.07 S16,668.70 216783															
(12 different colors - 28 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS022785 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO Awarded D13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 550.00 \$15,500.00 Awarded Awarded	(12 different colors - 28 of each color). SAMPLE IS REQUIRED. Supplies Count Pack CAS022785 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO PRODUCTS Awarded CRAYOLA 68-8462 SS0.00 S15,500.00 Awarded CRAYOLA 68-8462 SS0.07 S16,668.70 216783	012	Classpack, oil pastels, jumbo size sticks, 336 oil pastels	Cravola #52-4629 or equal. IF BIDDING THE APPROVED PRODUCT NO	1220000-2012775	Cascade School	No	1 - 336	52	Cravola	524629	\$39.56	\$2,057.12			
013 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO PRODUCTS Awarded 013 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 PYRAMID SCHOOL PRODUCTS No 1 - 462 Ount Pack Awarded 013 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 553.77 516,668.70 216783	013 Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color). Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 PYRAMID SCHOOL PRODUCTS Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783	011								2.27010		, 23.30	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			
(14 different colors - 33 of each color). SAMPLE IS REQUIRED. PRODUCTS Count Pack Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783	(14 different colors - 33 of each color). SAMPLE IS REQUIRED. PRODUCTS Count Pack Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 120000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783															
(14 different colors - 33 of each color). SAMPLE IS REQUIRED. PRODUCTS Count Pack Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783	(14 different colors - 33 of each color). SAMPLE IS REQUIRED. PRODUCTS Count Pack Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 120000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783															
(14 different colors - 33 of each color). SAMPLE IS REQUIRED. PRODUCTS Count Pack Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783	(14 different colors - 33 of each color). SAMPLE IS REQUIRED. PRODUCTS Count Pack Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 120000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783															
(14 different colors - 33 of each color). SAMPLE IS REQUIRED. PRODUCTS Count Pack Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783	(14 different colors - 33 of each color). SAMPLE IS REQUIRED. PRODUCTS Count Pack Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 120000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783															
(14 different colors - 33 of each color). SAMPLE IS REQUIRED. PRODUCTS Count Pack Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 1220000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783	(14 different colors - 33 of each color). SAMPLE IS REQUIRED. PRODUCTS Count Pack Awarded O13 Classpack, pencils, colored, presharpened, 462 pencils Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO 120000-2012776 School Specialty LLC No 1 - 462 310 CRAYOLA 68-8462 \$53.77 \$16,668.70 216783	013		Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012776		No		310	CRAYOLA	68-8462	\$50.00	\$15,500.00			
013 Classpack, pencils, colored, presharpened, 462 pencils	013 Classpack, pencils, colored, presharpened, 462 pencils	1		SAMPLE IS REQUIRED.		PRODUCTS		Count Pack								
013 Classpack, pencils, colored, presharpened, 462 pencils	013 Classpack, pencils, colored, presharpened, 462 pencils	1														
		1													Awarded	
		1														
		L			<u> </u>							<u> </u>				
(14 ariterent colors3 of each color). SAMPLE IS REQUIRED. Count Pack	(14 different colors - 35 of each color). SAMPLE IS REQUIRED. Count Pack	013			1220000-2012776	School Specialty LLC	No		310	CRAYOLA	68-8462	\$53.77	\$16,668.70	 216783		
·		1	(14 different colors - 33 of each color).	SAMPLE IS REQUIRED.				Count Pack								
]		1														
		1														
	ı i i i i i i i i i i i i i i i i i i i	1														
·		1												1		

013	Classpack, pencils, colored, presharpened, 462 pencils	Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012776	NATIONAL ART &	No	1 - 462	310	CRAYOLA	68-8462	\$54.68	\$16,950.80			1
	(14 different colors - 33 of each color).	SAMPLE IS REQUIRED.		SCHOOL SUPPLIES		Count Pack								
013	Classpack, pencils, colored, presharpened, 462 pencils	Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012776	Cascade School	No	1 - 462	310	Crayola	688462	\$60.24	\$18,674.40			
	(14 different colors - 33 of each color).	SAMPLE IS REQUIRED.		Supplies		Count Pack			CAS180333					
013	Classpack, pencils, colored, presharpened, 462 pencils	Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO	1220000-2012776	John R Green Co	No	1 - 462	310	CRAYOLA-8462	06636	\$64.87	\$20,109.70			
013	(14 different colors - 33 of each color).	SAMPLE IS REQUIRED.	1220000-2012770	John K Green Co	NO	Count Pack	310	CIATOLA-8402	00030	304.87	320,103.70			

013	Classpack, pencils, colored, presharpened, 462 pencils (14 different colors - 33 of each color).	Crayola #68-8462 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012776	Complete Printer Source	No	1 - 462 Count Pack	310	Crayola	CYO688462	\$67.29	\$20,859.90			
014	Cleaner, whiteboard dry erase surface, 8-oz. spray bottle, AP Certified non-toxic formula conforms to	EXPO Sanford #81803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2000125-2012749	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 8 Ounce Bottle	2191	EXPO	81803	\$1.99	\$4,360.09			
	ASTM D4263.												Awarded	
													Awarueu	
014	Cleaner, whiteboard dry erase surface, 8-oz. spray bottle, AP Certified non-toxic formula conforms to	EXPO Sanford #81803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2000125-2012749	Complete Printer Source	No	1 - 8 Ounce Bottle	2191	Sanford	SAN81803	\$2.79	\$6,112.89			
	ASTM D4263.													
014	Cleaner, whiteboard dry erase surface, 8-oz. spray bottle, AP Certified non-toxic formula conforms to	EXPO Sanford #81803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2000125-2012749	PYRAMID SCHOOL PRODUCTS	No	1 - 8 Ounce Bottle	2191	EXPO	81803	\$2.95	\$6,463.45			
	ASTM D4263.	SAMPLE IS REQUIRED.		PRODUCTS		bottle								
014	Cleaner, whiteboard dry erase surface, 8-oz. spray bottle, AP Certified non-toxic formula conforms to	EXPO Sanford #81803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2000125-2012749	John R Green Co	No	1 - 8 Ounce Bottle	2191	EXPO-81803	09450	\$3.03	\$6,638.73			
	ASTM D4263.	SAMPLE IS REQUIRED.				Bottle								
014	Cleaner, whiteboard dry erase surface, 8-oz. spray bottle, AP Certified non-toxic formula conforms to	EXPO Sanford #81803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2000125-2012749		No	1 - 8 Ounce Bottle	2191	SAN	81803	\$3.28	\$7,186.48			
	ASTM D4263.	SAMPLE IS REQUIRED.		Inc.		Bottle								
014	Cleaner, whiteboard dry erase surface, 8-oz. spray	EXPO Sanford #81803 or equal. IF BIDDING THE APPROVED PRODUCT, NO	2000125-2012749		No	1 - 8 Ounce	2191	Newell Brands/Expo	81803 CAS107108	\$3.43	\$7,515.13			
	bottle, AP Certified non-toxic formula conforms to ASTM D4263.	SAMPLE IS REQUIRED.		Supplies		Bottle								
014	Cleaner, whiteboard dry erase surface, 8-oz. spray	EXPO Sanford #81803 or equal. IF BIDDING THE APPROVED PRODUCT, NO	2000125-2012749	School Specialty LLC	No	1 - 8 Ounce	2191	EXPO	81803	\$3.43	\$7,515.13	059634		
	bottle, AP Certified non-toxic formula conforms to ASTM D4263.	SAMPLE IS REQUIRED.				Bottle								
015		Universal #40304 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE	5690240-1150098	NATIONAL ART &	No	1 - Each	3961	EXTRIC	5612	\$0.99	\$3,921.39			
	letter size 8 1/2" x 11", actual size 9"W x 13"H.	IS REQUIRED.		SCHOOL SUPPLIES		Purchase								
													Awarded	
015	Clipboard, hardboard, brown, 1 1/4" clip capacity,	Universal #40304 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE	5690240-1150098	School Specialty LLC	No	1 - Each	3961	SCHOOL SMART	1272480	\$1.00	\$3,961.00	1272480		
	letter size 8 1/2" x 11", actual size 9"W x 13"H.	IS REQUIRED.		,		Purchase								
]						

015	Clipboard, hardboard, brown, 1 1/4" clip capacity, letter size 8 1/2" x 11", actual size 9"W x 13"H.	Universal #40304 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690240-1150098	John R Green Co	No	1 - Each Purchase	3961	CLIPMALL-66172	14311	\$1.02	\$4,040.22	9" X 12 1/2"- DIFFERENT BRAND		
015	Clipboard, hardboard, brown, 1 1/4" clip capacity,	Universal #40304 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE	5690240-1150098	PYRAMID SCHOOL	No	1 - Each	3961	PYRAMID	1162437	\$1.19	\$4,713.59			
	letter size 8 1/2" x 11", actual size 9"W x 13"H.	is required.		PRODUCTS		Purchase					,,			
015	Clipboard, hardboard, brown, 1 1/4" clip capacity, letter size 8 1/2" x 11", actual size 9"W x 13"H.	Universal #40304 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690240-1150098	Cascade School Supplies	No	1 - Each Purchase	3961	Cascade Brand	120840	\$1.25	\$4,951.25	Cascade Brand 120840		
015	Clipboard, hardboard, brown, 1 1/4" clip capacity, letter size 8 1/2" x 11", actual size 9"W x 13"H.	Universal #40304 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690240-1150098	Complete Printer Source	No	1 - Each Purchase	3961	Universal	UNV40304	\$1.39	\$5,505.79			
015	Clipboard, hardboard, brown, 1 1/4" clip capacity, letter size 8 1/2" x 11", actual size 9"W x 13"H.	Universal #40304 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690240-1150098	Kerr Office Group,	No	1 - Each Purchase	3961	BSN	65637	\$1.45	\$5,743.45			
	ence see of 2 x 12 , builds size 5 W x 25 in	o neconico.				rarenase								
016	Clipboard, letter size plastic high capacity clip, SAE and metric ruler edge, 1" clip capacity, approx. size 9" x 13".	Available colors: black, blue, green, red, purple and yellow. Color will be specified at time of purchase order. SAMPLE = 1 clipboard. Saunders #216XX or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690240-2013897	John R Green Co	No	1 - Each Purchase	2534	SAUNDERS-21601	57444	\$4.38	\$11,098.92		Awarded	
016	Clipboard, letter size plastic high capacity clip, SAE and metric ruler edge, 1" clip capacity, approx. size 9" x 13".	Available colors: black, blue, green, red, purple and yellow. Color will be specified at time of purchase order. SAMPLE = 1 clipboard. Saunders #216XX or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690240-2013897	Complete Printer Source	No	1 - Each Purchase	2534	Saunders	SAU216XX	\$4.81	\$12,188.54			
016	Clipboard, letter size plastic high capacity clip, SAE and metric ruler edge, 1" clip capacity, approx. size 9" x 13".	Available colors: black, blue, green, red, purple and yellow. Color will be specified at time of purchase order. SAMPLE = 1 clipboard. Saunders #216XX or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690240-2013897	Kerr Office Group, Inc.	No	1 - Each Purchase	2534	SAU	216XX	\$6.79	\$17,205.86			
017	Crayons, construction paper, wax, 3 5/8" x 5/16", 16- count tuck box, assorted colors, AP Certified non-toxic, conforms to ASTM D4236.	Crayola #52-5817 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425603	PYRAMID SCHOOL PRODUCTS	No	1 - 16 Count Box	479	CRAYOLA	52-3463	\$2.39	\$1,144.81	24 COUNT BOX		REJECT - item no longer available.
017	Crayons, construction paper, wax, 3 5/8" x 5/16", 16- count tuck box, assorted colors, AP Certified non-toxic, conforms to ASTM D4236.	Crayola #52-5817 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425603	John R Green Co	No	1 - 16 Count Box	479	CRAYOLA-3463	43023	\$2.55	\$1,221.45	16-COUNT IS DISCONTINUED BY CRAYOLA. 24-COUNT SUBSTITUTE		REJECT - item no longer available.
017	Crayons, construction paper, wax, 3 5/8" x 5/16", 16- count tuck box, assorted colors, AP Certified non-toxic, conforms to ASTM D4236.	Crayola #52-5817 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425603	Complete Printer Source	No	1 - 16 Count Box	479	Crayola	CYO523463	\$2.69	\$1,288.51			REJECT - item no longer available.
018	Crayons, dry erase, washable, 8 vibrant colors, no odor, won't dry out, easily wipes off with E-Z erase mitt included, built-in sharpener in box, AP Certified non-toxic.	Crayola #98-5200 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369371	PYRAMID SCHOOL PRODUCTS	No	1 - 8 Count Box	239	CRAYOLA	98-5200	\$2.63	\$628.57		Awarded	
018	Crayons, dry erase, washable, 8 vibrant colors, no odor, won't dry out, easily wiges off with E-Z erase mitt included, built-in sharperer in box, AP Certified non-toxic.	Crayola #98-5200 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369371	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 8 Count Box	239	CRAYOLA	98-5200	\$2.78	\$664.42			

040	Course de course de bla O Sharehadan a andre	County 100 5200 as a seed CAMPLE At her US DIDDING THE ADDROVED	4220450 4250274	Consoliste Briston	N .	4 00	220	Cla	GVOODE 200	63.00	6744.64				
018	Crayons, dry erase, washable, 8 vibrant colors, no odor, won't dry out, easily wipes off with E-Z erase mitt included, built-in sharpener in box, AP Certified non-toxic.	Crayola #98-5200 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369371	Complete Printer Source	No	1 - 8 Count Box	239	Crayola	CYO985200	\$2.99	\$714.61				
018	Crayons, dry erase, washable, 8 vibrant colors, no odor, won't dry out, easily wipes off with E-Z erase mitt included, built-in sharpener in box, AP Certified non-toxic.	Crayola #98-5200 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369371	John R Green Co	No	1 - 8 Count Box	239	CRAYOLA-5200	43133	\$3.17	\$757.63				
018	Crayons, dry erase, washable, 8 vibrant colors, no odor, won't dry out, easily wipes off with E-Z erase mitt included, built-in sharpener in box, AP Certified non-toxic.	Crayola #98-5200 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369371	School Specialty LLC	No	1 - 8 Count Box	239	CRAYOLA	98-5200	\$3.41	\$814.99		1334811		
018	Crayons, dry erase, washable, 8 vibrant colors, no odor, won't dry out, easily wipes off with E-Z erase mitt included, built-in sharpener in box, AP Certified non-toxic.	Crayola #99-5200 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369371	Cascade School Supplies	No	1 - 8 Count Box	239	Crayola	985200 CAS028768	\$3.49	\$834.11				
019	Crayons, wax, anti-roll, triangular, large size, 4" long, 1/2" dia, 8-color box. Double wrapped with color name on label, non-toxic, AP Seal, conforms to ASTM D4236.	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52- 4008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1700674	PYRAMID SCHOOL PRODUCTS	No	1 - 8 Count Box	767	CRAYOLA	52-4008	\$1.10	\$843.70			Awarded	
019	Crayons, wax, anti-roll, triangular, large size, 4" long, 1/2" dia, 8-color box. Double wrapped with color name on label, non-toxic, AP Seal, conforms to ASTM D4236.	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52- 4008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1700674	School Specialty LLC	No	1 - 8 Count Box	767	CRAYOLA	52-4008	\$1.29	\$989.43		1290464		
019	Crayons, wax, anti-roll, triangular, large size, 4" long, 1/2" dia, 8-color box. Double wrapped with color name on label, non-toxic, AP Seal, conforms to ASTM D4236.	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52- 4008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1700674	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 8 Count Box	767	CRAYOLA	52-4008	\$1.48	\$1,135.16				
019	Crayons, wax, anti-roll, triangular, large size, 4" long, 1/2" dia., 8-color box. Double wrapped with color name on label, non-toxic, AP Seal, conforms to ASTM D4236.	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52- 4008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1700674	Complete Printer Source	No	1 - 8 Count Box	767	Crayola	CYO524008	\$1.66	\$1,273.22				
019	Crayons, wax, anti-roll, triangular, large size, 4" long, 1/2" dia., 8-color box. Double wrapped with color name on label, non-toxic, AP Seal, conforms to ASTM D4236.	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52- 4008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1700674	John R Green Co	No	1 - 8 Count Box	767	CRAYOLA-4008	43002	\$1.75	\$1,342.25				
019	Crayons, wax, anti-roll, triangular, large size, 4" long, 1/2" dia, 8-color box. Double wrapped with color name on label, non-toxic, AP Seal, conforms to ASTM D4236.	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52- 4008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1700674	Cascade School Supplies	No	1 - 8 Count Box	767	Crayola	524008 CAS028528	\$1.92	\$1,472.64				
019	Crayons, wax, anti-roll, triangular, large size, 4" long, 1/2" dia, 8-color box. Double wrapped with color name on label, non-toxic, AP Seal, conforms to ASTM D4236.	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52- 4008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1700674	Lakeshore Learning Materials, LLC	No	1 - 8 Count Box	767	LAKESHORE	VX275 Jumbo	\$3.62	\$2,776.54	Please reference "Per Quote #36611" on all purchase orders.	Lakeshore 8-Color Jumbo Crayons - Student Pack TERMS: NET 30		
020	Crayons, wax, large size, 4" long, 7/16" dia., 8-multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: apricot, black, burnt sienna, mahogany, peach, sepia, tan and white.	Crayola #52-0134 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715867	odp BUSINESS SOLUTIONS, LLC	No	1 - 8 Count Box	1789	SP RICHARDS	DIX00000	\$0.49	\$876.61	0.49	SP RICHARDS		REJECT - did not submit sample for evaluation.
020	Crayons, wax, large size, 4" long, 7/16" dia., 8-multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: apricot, black, burnt sienna, mahogany, peach, sepia, tan and white.	Crayola #52-0134 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715867	School Specialty LLC	No	1 - 8 Count Box	1789	SCHOOL SMART	2091969	\$0.52	\$930.28	CRAYOLA 8CT MULT. DISCONTINUED-2022	2091969		REJECT - sample submitted is not equal, does contain white.

020	Crayons, wax, large size, 4" long, 7/16" dia, 8-multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: apricot, black, burnt sienna, mahogany, peach, sepia, tan and white.	Crayola #52-0134 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715867	SCHOOL SUPPLIES	No	1 - 8 Count Box	1789	CRAYOLA	52-0134	\$4.72	\$8,444.08			Awarded	
020	Crayons, wax, large size, 4" long, 7/16" dia, 8-multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: apricot, black, burnt sienna, mahogany, peach, sepia, tan and white.	Crayola #52-0134 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715867	PYRAMID SCHOOL PRODUCTS	No	1 - 8 Count Box	1789	CRAYOLA	52-0134	\$5.09	\$9,106.01				
020	Crayons, wax, large size, 4" long, 71/5" dia, 8- multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: apricot, black, burnt sienna, mahogany, peach, sepia, tan and white.	Crayola #52-0134 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715867	John R Green Co	No	1 - 8 Count Box	1789	CRAYOLA-0134	43025	\$5.60	\$10,018.40				
020	Crayons, wax, large size, 4" long, 7/16" dia., 8- multicultural color box. Double wrapped with color name on label, non-toxic, AP Eacl conforms to ASTM D4236. Colors: apricot, black, burnt sienna, mahogany, peach, sepia, tan and white.	Crayola #52-0134 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715867	Complete Printer Source	No	1 - 8 Count Box	1789	Crayola	CYO520134	\$5.99	\$10,716.11				
020	Crayons, wax, large size, 4" long, 71/5" dia, 8- multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: apricot, black, burnt sienna, mahogany, peach, sepia, tan and white.	Crayola #52-0134 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies	No	1 - 8 Count Box	1789	Crayola	520134 CAS038924	\$6.87	\$12,290.43		24 colors per pack		
021	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236.	Crayola #52-0108 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715866	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Count Box	2188	CRAYOLA	52-0108	\$1.19	\$2,603.72			Awarded	
021	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236.	Crayola #52-0108 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715866	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 24 Count Box	2188	CRAYOLA	52-0108	\$1.32	\$2,888.16				
021	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236.	Crayola #52-0108 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715866	School Specialty LLC	No	1 - 24 Count Box	2188	CRAYOLA	52-0108	\$1.33	\$2,910.04		2090274		
021	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236.	Crayola #52-0108 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715866	John R Green Co	No	1 - 24 Count Box	2188	CRAYOLA-0108	41360	\$1.55	\$3,391.40				
021	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- multicultural color box. Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236.	Crayola #52-0108 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1715866	Complete Printer Source	No	1 - 24 Count Box	2188	Crayola	CYO520108	\$1.69	\$3,697.72				
022	Dispenser, tape, 1" core, will accept 1/2" or 3/4" wide rolls, desk type, to accommodate 2,592" roll, black, chip proof plastic, weighted base, 1" core.	SAMPLE = 1 ea. UNV15001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630002-1371617	odp BUSINESS SOLUTIONS, LLC	No	1 - Each Purchase	2628	S.P. RICHARDS	BSN32952	\$0.78	\$2,049.84	0.78	S.P. RICHARDS		REJECT - did not submit sample for evaluation.
022	Dispenser, tape, 1" core, will accept 1/2" or 3/4" wide rolls, desk type, to accommodate 2,592" roll, black, chip proof plastic, weighted base, 1" core.	SAMPLE = 1 ea. UNV15001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630002-1371617	School Specialty LLC	No	1 - Each Purchase	2628	SCHOOL SMART	040617	\$1.44	\$3,784.32		040617	Awarded	
022	Dispenser, tape, 1" core, will accept 1/2" or 3/4" wide rolls, desk type, to accommodate 2,592" roll, black, chip proof plastic, weighted base, 1" core.	SAMPLE = 1 ea. UNV15001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630002-1371617	Complete Printer Source	No	1 - Each Purchase	2628	Universal	UNV15001	\$1.60	\$4,204.80				

022	Dispenser, tape, 1" core, will accept 1/2" or 3/4" wide rolls, desk type, to accommodate 2,592" roll, black, chip proof plastic, weighted base, 1" core.	SAMPLE = 1 ea. UNV15001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630002-1371617	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	2628	PYRAMID	1111582	\$1.95	\$5,124.60			
022	Dispenser, tape, 1" core, will accept 1/2" or 3/4" wide rolls, desk type, to accommodate 2,592" roll, black, chip proof plastic, weighted base, 1" core.	SAMPLE = 1 ea. UNV15001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630002-1371617	Cascade School Supplies	No	1 - Each Purchase	2628	Cascade Brand	123221	\$2.61	\$6,859.08	Cascade Brand 123221		
022	Dispenser, tape, 1" core, will accept 1/2" or 3/4" wide rolls, desk type, to accommodate 2,592" roll, black, chip proof plastic, weighted base, 1" core.	SAMPLE = 1 ea. UNV15001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630002-1371617	John R Green Co	No	1 - Each Purchase	2628	3M-SCOTCH-C-38	12223	\$3.00	\$7,884.00	DIFFERENT BRAND		
023	Dispenser, tape, 3" core, will accept 1/2" or 3/4" wide rolls, desk type, to accommodate 2,592" roll, black, chip proof plastic, weighted base. 3" core.	SAMPLE = 1 ea. SAMPLE REQUIRED AND SPECIFICATION SHEET.	7630002-1150409	School Specialty LLC	No	1 - Each Purchase	126	SCHOOL SMART	081904	\$2.62	\$330.12	081904	Awarded	
023	Dispenser, tape, 3" core, will accept 1/2" or 3/4" wide rolls, desk type, to accommodate 2,592" roll, black, chip proof plastic, weighted base. 3" core.	SAMPLE = 1 ea. SAMPLE REQUIRED AND SPECIFICATION SHEET.	7630002-1150409	Cascade School Supplies	No	1 - Each Purchase	126	Cascade Brand	123222	\$4.83	\$608.58	Cascade Brand 123222		
023	Dispenser, tape, 3" core, will accept 1/2" or 3/4" wide rolls, desk type, to accommodate 2,592" roll, black, chip proof plastic, weighted base. 3" core.	SAMPLE = 1 ea. SAMPLE REQUIRED AND SPECIFICATION SHEET.	7630002-1150409	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	126	PYRAMID	2125425	\$4.95	\$623.70			
023	Dispenser, tape, 3" core, will accept 1/2" or 3/4" wide rolls, desk type, to accommodate 2,592" roll, black, chip proof plastic, weighted base. 3" core.	SAMPLE = 1 ea. SAMPLE REQUIRED AND SPECIFICATION SHEET.	7630002-1150409	John R Green Co	No	1 - Each Purchase	126	CHARLES LEONARD- 81300	12209	\$5.39	\$679.14	DIFFERENT BRAND		
024	Dough, modeling Play-Doh super color pack, 3 oz.	ASSORTED COLORS. Set/20, conforms to ASTM D-4236. Play-Doh #A7924 or equal. SAMPLE = 1 Pack.	1220000-2014356	School Specialty LLC	No	1 - 20 Count Pack	609	PLAY-DOH	A7924	\$18.80	\$11,449.20	1503530	Awarded	
025	Easel, double, one board for chalk, adjustable wood frame with washable, durable plastic trays, approx. 48" high to fold flat for storage.	Crestline #37335 or equal. IF NOT BIDDING THE APPROVED PRODUCT, PLEASE SEND DESCRIPTIVE LITERATURE.	1200366-1700710	School Specialty LLC	No	1 - Each Purchase	44	CRESTLINE	17335	\$47.00	\$2,068.00	1532513	Awarded	
025	Easel, double, one board for chalk, adjustable wood frame with washable, durable plastic trays, approx. 48" high to fold flat for storage.	Crestline #127335 or equal. IF NOT BIDDING THE APPROVED PRODUCT, PLEASE SEND DESCRIPTIVE LITERATURE.	1200366-1700710	Complete Printer Source	No	1 - Each Purchase	44	Flipside Products	CRS17335	\$51.60	\$2,270.40			
025	Easel, double, one board for chalk, adjustable wood frame with washable, durable plastic trays, approx. 48" high to fold flat for storage.	Crestline #17335 or equal. IF NOT BIDDING THE APPROVED PRODUCT, PLEASE SEND DESCRIPTIVE LITERATURE.	1200366-1700710	John R Green Co	No	1 - Each Purchase	44	FLIPSIDE-17335	09151	\$62.81	\$2,763.64			
025	Easel, double, one board for chalk, adjustable wood frame with washable, durable plastic trays, approx. 48" high to fold flat for storage.	Crestline #17335 or equal. IF NOT BIDDING THE APPROVED PRODUCT, PLEASE SEND DESCRIPTIVE LITERATURE.	1200366-1700710	Cascade School Supplies	No	1 - Each Purchase	44	Flipside Products 2	17335 CAS038357	\$64.65	\$2,844.60			
025	Easel, double, one board for chalk, adjustable wood frame with washable, durable plastic trays, approx. 48" high to fold flat for storage.	Crestline #17335 or equal. IF NOT BIDDING THE APPROVED PRODUCT, PLEASE SEND DESCRIPTIVE LITERATURE.	1200366-1700710	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	44	CRESTLINE	17335	\$69.00	\$3,036.00			

026	Envelope, Booklet, white with gummed side flaps, 9" x	Quality Park #37113 or equal. SAMPLE = 2 envelopes. IF BIDDING THE	5690280-1733158	Complete Printer	No	1 - 100	15	TOPS	QUA37113	\$22.51	\$337.65			
020	6°, 100/box. Reinforced seams, 24 lb., SFI Certified.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	3030280-1733136	Source	NO	Count Box	. D	1073	QUASTIIS	J22.31	<i>\$337.</i> 03		Awarded	
026	Envelope, Booklet, white with gummed side flaps, 9" x 6", 100/box. Reinforced seams, 24 lb., SFI Certified.	Quality Park #37113 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1733158	Cascade School Supplies	No	1 - 100 Count Box	15	Standard Envelope	WW40003 CAS025793	\$22.72	\$340.80	Standard Envelope WW40003 Sold 500 per box		
026	Envelope, Booklet, white with gummed side flaps, 9" x 6", 100/box. Reinforced seams, 24 lb., SFI Certified.	Quality Park #37113 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1733158	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	15	QUALITY PARK	37113	\$24.95	\$374.25			
026	Envelope, Booklet, white with gummed side flaps, 9" x 6", 100/box. Reinforced seams, 24 lb., SFI Certified.	Quality Park #37113 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1733158	John R Green Co	No	1 - 100 Count Box	15	TOPS-37113	03003	\$29.64	\$444.60	DIFFERENT BRAND		
026	Envelope, Booklet, white with gummed side flaps, 9" x 6", 100/box. Reinforced seams, 24 lb., 5FI Certified.	Quality Park #37113 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1733158	School Specialty LLC	No	1 - 100 Count Box	15	QUALITY PARK	37113	\$60.78	\$911.70	1066393		
027	Envelope, Booklet, white, 13" x 10" with gummed side opening, 28 lb., 100/box.	Quality Park #37613 or equal. SAMPLE = 2 envelopes. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1733160	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	26	QUALITY PARK	37613	\$39.95	\$1,038.70			
027	Envelope, Booklet, white, 13" x 10" with gummed side opening, 28 lb., 100/box.	Quality Park #37613 or equal. SAMPLE = 2 envelopes. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1733160	Complete Printer Source	No	1 - 100 Count Box	26	TOPS	QUA37613	\$41.29	\$1,073.54		Awarded	Awarded - based on reciprocal preference for resident bidders applied against Pyramid School Products Inc. as stated in the Kentucky Model Procurement Code per KRS45A.494. PREFERENCE.
027	Envelope, Booklet, white, 13" x 10" with gummed side opening, 28 lb., 100/box.	Quality Park #37613 or equal. SAMPLE = 2 envelopes. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1733160	Cascade School Supplies	No	1 - 100 Count Box	26	Tops Products	37613 CAS032071	\$50.21	\$1,305.46			
027	Envelope, Booklet, white, 13" x 10" with gummed side opening, 28 lb., 100/box.	Quality Park #37613 or equal. SAMPLE = 2 envelopes. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1733160	John R Green Co	No	1 - 100 Count Box	26	TOPS-37613	03432	\$53.00	\$1,378.00	DIFFERENT BRAND		
027	Envelope, Booklet, white, 13" x 10" with gummed side opening, 28 lb., 100/box.	Quality Park #37613 or equal. SAMPLE = 2 envelopes. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1733160	School Specialty LLC	No	1 - 100 Count Box	26	QUALITY PARK	37613	\$110.94	\$2,884.44	1066395		
028	Envelope, Catalog, Kraft with gummed flaps, 6" x 9", 500/box. Reinforced seams, 28 lb., SFI Certified.	Quality Park #40765 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1099743	School Specialty LLC	No	1 - 500 Count Box	103	SCHOOL SMART	2013914	\$37.10	\$3,821.30	2013914	Awarded	
028	Envelope, Catalog, Kraft with gummed flaps, 6" x 9", 500/box. Reinforced seams, 28 lb., SFI Certified.	Quality Park #40765 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1099743	PYRAMID SCHOOL PRODUCTS	No	1 - 500 Count Box	103	QUALITY PARK	40765	\$51.95	\$5,350.85			
028	Envelope, Catalog, Kraft with gummed flaps, 6" x 9", 500/box. Reinforced seams, 28 lb., 5Fi Certified.	Quality Park #40765 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1099743	Complete Printer Source	No	1 - 500 Count Box	103	TOPS	QUA40765	\$53.29	\$5,488.87			

028	Envelope, Catalog, Kraft with gummed flaps, 6" x 9",	Quality Park #40765 or equal. SAMPLE = 2 envelopes. IF BIDDING THE	5690280-1099743 John R Gr	reen Co No	1 - 500	103	ISCHOLAR-#1	17128	\$91.35	\$9,409.05	100/BOX ONLYDIFFERENT		
028	500/box. Reinforced seams, 28 lb., SFI Certified.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	3030200-1039743	leen co No	Count Box	103	ischoentwi	17126	391.33	<i>\$5,</i> 405.05	BRAND		
029	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 9" x 12", 100/box. Reinforced seams, 28 lb., SFI Certified.	UNV #35.264 or equal. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1157948 School Spec	cialty LLC No	1 - 100 Count Box	345	SCHOOL SMART	2013917	\$11.83	\$4,081.35	2013917	Awarded	
029	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 5° x 12°, 100/box. Reinforced seams, 28 lb., SFI Certified.	UNV #35264 or equal. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1157948 Complete Souri		1 - 100 Count Box	345	Universal	UNV35264	\$13.79	\$4,757.55			
029	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 9° x 12°, 100/box. Reinforced seams, 28 lb., SFI Certified.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1157948 PYRAMID 9	UCTS	1 - 100 Count Box	345	QUALITY PARK	KGL90990	\$15.95	\$5,502.75			
029	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong claps, 9°s 12°s, 100/Dox. Reinforced seams, 28 lb., SFI Certified.	UNV #35254 or equal. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	Suppl		1 - 100 Count Box	345	Tops Products/Quality Park	37890 CAS120443	\$18.77	\$6,475.65	Tops Products/Quality Park 37890		
029	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 9° x 12°, 100/box. Reinforced seams, 28 lb., SFI Certified.	UNV #35264 or equal. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1157948 John R Gr	reen Co No	1 - 100 Count Box	345	ISCHOLAR-10 1/2	17084	\$22.46	\$7,748.70	DIFFERENT BRAND		
030	Envelope, Catalog, Kraft with self-adhesive closure, 9" x 12", reinforced seams, 28 lb., 100/box, SFI certified.	Quality Park #43567 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 6 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-2013141 School Spec	cialty LLC No	1 - 100 Count Box	178	SCHOOL SMART	2013913	\$17.11	\$3,045.58	2013913	Awarded	
030	Envelope, Catalog, Kraft with self-adhesive closure, 9" x 12", reinforced seams, 28 lb., 100/box, SFI certified.	Quality Park #43567 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 6 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-2013141 Complete Soun		1 - 100 Count Box	178	TOPS	QUA43567	\$21.99	\$3,914.22			
030	Envelope, Catalog, Kraft with self-adhesive closure, 9" x 12", reinforced seams, 28 lb., 100/box, SFI certified.	Quality Park #43567 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 6 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-2013141 PYRAMID 9		1 - 100 Count Box	178	QUALITY PARK	43567	\$24.95	\$4,441.10			
030	Envelope, Catalog, Kraft with self-adhesive closure, 9" x 12", reinforced seams, 28 lb., 100/box, SFI certified.	Quality Park #43567 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 6 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-2013141 Cascade : Suppl		1 - 100 Count Box	178	Tops Products	43567 CAS033192	\$27.03	\$4,811.34			
030		Quality Park #43567 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 6 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-2013141 John R Gr	reen Co No	1 - 100 Count Box	178	ISCHOLAR-43567	17233	\$28.03	\$4,989.34	DIFFERENT BRAND		
031	Ervelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 10" x 13", 100/box. Reinforced seams, 28 lb., SFI Certified.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			1 - 100 Count Box	250	SCHOOL SMART	2013915	\$13.99	\$3,497.50	2013915		REJECT- did not submit sample for evaluation.
031	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 10" x 13", 100/box. Reinforced seams, 28 lb., SFI Certified.	UNV #35267 or equal. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1150507 Complete Sourd		1 - 100 Count Box	250	Universal	UNV35267	\$15.29	\$3,822.50		Awarded	

031	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 10" x 13", 100/box. Reinforced seams, 28 lb., SFI Certified.	UNV #35267 or equal. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1150507	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	250	QUALITY PARK	KGL90997	\$17.95	\$4,487.50				
031	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 10" x 13", 100/box. Reinforced seams, 28 lb., SFI Certified.	UNV #35267 or equal. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1150507	John R Green Co	No	1 - 100 Count Box	250	ISCHOLAR-97	17053	\$20.55	\$5,137.50		DIFFERENT BRAND		
	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 10" x 13", 100/box. Reinforced seams, 28 lb., SFI Certified.	UNV #35267 or equal. QUOTE 100 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1150507	Supplies	No	1 - 100 Count Box	250	Tops Products/Quality Park	37897 CAS120446	\$22.45	\$5,612.50	Tops	Products/Quality Park 37897		
	x 13", reinforced seams, 28 lb., 100/box, SFI certified.	Quality Park #43767 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 6 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 100 Count Box	195	SCHOOL SMART	2013912	\$19.89			2013912	Awarded	
032		Quality Park #43767 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 6 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-2013142	Complete Printer Source	No	1 - 100 Count Box	195	TOPS	QUA43767	\$24.69	\$4,814.55				
032		Quality Park #43767 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 6 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-2013142	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	195	QUALITY PARK	43767	\$25.95	\$5,060.25				
	x 13", reinforced seams, 28 lb., 100/box, SFI certified.					Count Box									
032	Envelope, Catalog, Kraft with self-adhesive closure, 10* x 13", reinforced seams, 28 lb., 100/box, SFI certified.	Quality Park #43767 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 6 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-2013142	Cascade School Supplies	No	1 - 100 Count Box	195	Tops Products	43767 CAS030979	\$29.93	\$5,836.35				
032	Envelope, Catalog, Kraft with self-adhesive closure, 10" x 13", reinforced seams, 28 lb., 100/box, SFI certified.	Quality Park #43767 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 6 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-2013142	John R Green Co	No	1 - 100 Count Box	195	ISCHOLAR-43767	17235	\$32.94	\$6,423.30		DIFFERENT BRAND		
033	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 12" x 15 1/2", 100/box. Reinforced seams, 28 lb., SFI Certified.	envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1150516	School Specialty LLC	No	1 - 100 Count Box	211	SCHOOL SMART	2013902	\$20.11	\$4,243.21		2013902	Awarded	
	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 12" x 15 1/2", 100/box. Reinforced seams, 28 lb., SFI Certified.	envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1150516	Source	No	1 - 100 Count Box	211	Universal	UNV35270	\$24.69	\$5,209.59				
	eyelet and two prong clasp. 12" x 15 1/2", 100/box. Reinforced seams, 28 lb., SFI Certified.	Universal #35270 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		Count Box	211	QUALITY PARK	KGL90910	\$24.95					
	Envelope, Catalog, Kraft with gummed flaps, reinforced eyelet and two prong clasp. 12" x 15 1/2", 100/box. Reinforced seams, 28 lb., SFI Certified. Envelope, Catalog, Kraft with gummed flaps, reinforced	envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		John R Green Co	No	1 - 100 Count Box	211	ISCHOLAR-110	17055 37910 CAS120449	\$29.12			DIFFERENT BRAND		
USS	Envelope, Catalog, Kraft with gummed Haps, reinforced eyelet and two prong clasp. 12 x 15 12/2*, 100/box. Reinforced seams, 28 lb., SFI Certified.	Universal #35270 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	3090/280-1150516	Cascade School Supplies	No	1 - 100 Count Box	211	Tops Products/Quality Park	57910 CAS12U449	\$33.93	\$7,159.23	Tops	Products/Quality Park 37910		

034	Envelope, Interoffice, Kraft with string and button	Universal #63568 or equal. SAMPLE = 2 envelopes. IF BIDDING THE	5600290-1710221	School Specialty LLC	No	1 - 100	34	SCHOOL SMART	2013921	\$27.67	\$940.78		2013921		
	closure, 10" x 13", 100/pox. Reinforced seams, 28 lb., two sided, five column: Date, Deliver To, Department, Sent By, Department. Ink color: Black. SFI Certified.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	Count Box	3						201322	Awarded	
034	Envelope, Interoffice, Kraft with string and button closure, 10" x 13", 100/Dox. Reinforced seams, 28 lb., two sided, five column: Date, Deliver To, Department, Sent By, Department. Ink color: Black. SFI Certified.	Universal #63568 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1719321	Complete Printer Source	No	1 - 100 Count Box	34	Universal	UNV63568	\$33.89	\$1,152.26				
034	Envelope, Interoffice, Kraft with string and button closure, 10" x 13", 100/box. Reinforced seams, 28 lb., two sided, five column: Date, Deliver To, Department, Sent By, Department. Ink color: Black. SFI Certified.	Universal #63568 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1719321	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	34	QUALITY PARK	63561	\$38.95	\$1,324.30				
034	Envelope, interoffice, Kraft with string and button closure, 10" x 13", 100/box. Reinforced seams, 28 lb., two sided, five column: Date, Deliver To, Department, Sent By, Department. Ink color: Black. SFI Certified.	Universal #63568 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1719321	Cascade School Supplies	No	1 - 100 Count Box	34	Tops Products/Quality Park	63562 CAS120391	\$43.88	\$1,491.92		Tops Products/Quality Park 63562		
034	Envelope, Interoffice, Kraft with string and button closure, 10" x 13", 100/box. Reinforced seams, 28 lb., two sided, five column: Date, Deliver To, Department, Sent By, Department. Ink color: Black. SFI Certified.	Universal #63568 or equal. SAMPLE = 2 envelopes. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1719321		No	1 - 100 Count Box	34	ISCHOLAR-63561	17140	\$51.58	\$1,753.72		DIFFERENT BRAND		
035	Eraser, art gum, 2" x 1", beige, non-toxic, AP Seal, dual purpose, erases and cleans, 12/box.	Sanford Prismacolor #73030. NO SUBSTITUTE.	5690320-1371644	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	99	SANFORD	73030	\$5.39	\$533.61			Awarded	
035	Eraser, art gum, 2" x 1", beige, non-toxic, AP Seal, dual purpose, erases and cleans, 12/box.	Sanford Prismacolor #73030. NO SUBSTITUTE.	5690320-1371644	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	99	SANFORD PRISMACOLOR	73030	\$6.12	\$605.88				
035	Eraser, art gum, 2" x 1", beige, non-toxic, AP Seal, dual purpose, erases and cleans, 12/box.	Sanford Prismacolor #73030. NO SUBSTITUTE.	5690320-1371644	Complete Printer Source	No	1 - 12 Count Box	99	Sanford	SAN73030	\$6.34	\$627.66				
035	Eraser, art gum, 2" x 1", beige, non-toxic, AP Seal, dual purpose, erases and cleans, 12/box.	Sanford Prismacolor #73030. NO SUBSTITUTE.	5690320-1371644	School Specialty LLC	No	1 - 12 Count Box	99	PRISMACOLOR	73030	\$7.59	\$751.41		035315		
035	Eraser, art gum, 2" x 1", beige, non-toxic, AP Seal, dual purpose, erases and cleans, 12/box.	Sanford Prismacolor #73030. NO SUBSTITUTE.	5690320-1371644	Cascade School Supplies	No	1 - 12 Count Box	99	Tops Products/Quality Park	73030 CAS037526	\$7.69	\$761.31				
036	Eraser, art, oval soft, white, non-toxic, latex free, 12/box.	Factis #0V12. NO SUBSTITUTE.	5690320-2012777	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	163	FACTIS	OV12	\$9.39	\$1,530.57			Awarded	
036	Eraser, art, oval soft, white, non-toxic, latex free, 12/box.	Factis #0V12. NO SUBSTITUTE.	5690320-2012777	School Specialty LLC	No	1 - 12 Count Box	163	FACTIS	OV-12	\$10.51	\$1,713.13		2003206		
037	Eraser, dry erase, soft pile, 5 1/8" wide, washable; use soap and water to clean.	Sanford EXPO #81505 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012099	odp BUSINESS SOLUTIONS, LLC	No	1 - Each Purchase	3079	OFFICE DEPOT	WD-16000103	\$0.67	\$2,062.93	0.67	OFFICE DEPOT		REJECT - did not submit sample for evaluation

037	Eraser, dry erase, soft pile, 5 1/8" wide, washable; use soap and water to clean.	Sanford EXPO #8150S or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012099	NATIONAL ART & SCHOOL SUPPLIES	No	1 - Each Purchase	3079	EXPO	81505	\$1.31	\$4,033.49			Awarded	
037	Eraser, dry erase, soft pile, 5 1/8" wide, washable; use soap and water to clean.	Sanford EXPO #81505 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012099	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	3079	SANFORD EXPO	81505	\$1.79	\$5,511.41				
037	Eraser, dry erase, soft pile, 5 1/8" wide, washable; use soap and water to clean.	Sanford EXPO #81505 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012099	Complete Printer Source	No	1 - Each Purchase	3079	Sanford	SAN81505	\$2.09	\$6,435.11				
037	Eraser, dry erase, soft pile, 5 1/8" wide, washable; use soap and water to clean.	Sanford EXPO #81505 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012099	John R Green Co	No	1 - Each Purchase	3079	EXPO-81505	09416	\$2.42	\$7,451.18				
037	Eraser, dry erase, soft pile, 5 1/8" wide, washable; use soap and water to clean.	Sanford EXPO #81505 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012099	Cascade School Supplies	No	1 - Each Purchase	3079	Newell Brands/Expo	81505 CAS190062	\$2.74	\$8,436.46				
037	Eraser, dry erase, soft pile, 5 1/8" wide, washable; use soap and water to clean.	Sanford EXPO #81505 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012099	School Specialty LLC	No	1 - Each Purchase	3079	EXPO	81505	\$2.74	\$8,436.46		076878		
037	Eraser, dry erase, soft pile, 5 1/8" wide, washable; use soap and water to clean.	Sanford EXPO #81505 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012099	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	3079	LAKESHORE	ZW886 EACH	\$3.71	\$11,423.09	Please reference "Per Quote #36611" on all purchase	Write & Wipe Board Eraser TERMS: NET 30	:	
												orders.			
038	Eraser, dry erase, student, felt, 2" x 2", 12/pack.	Flipside FLP #30009 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690320-2013143	Cascade School Supplies	No	1 - 12 Count Pack	2172	Cascade Brand	033380	\$6.32	\$13,727.04		Cascade Brand 033380		REJECT - did not submit sample for evaluation
038	Eraser, dry erase, student, felt, 2" x 2", 12/pack.	Flipside FLP #30009 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690320-2013143	John R Green Co	No	1 - 12 Count Pack	2172	FLIPSIDE-30009	09075	\$7.57	\$16,442.04			Awarded	
038	Eraser, dry erase, student, felt, 2" x 2", 12/pack.	Flipside FLP #30009 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690320-2013143	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Pack	2172	FLIPSIDE	30009	\$8.95	\$19,439.40				
038	Eraser, dry erase, student, felt, 2" x 2", 12/pack.	Flipside FLP #30009 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690320-2013143	Complete Printer Source	No	1 - 12 Count Pack	2172	Flipside Products	FLP30009	\$9.29	\$20,177.88				
038	Eraser, dry erase, student, felt, 2" x 2", 12/pack.	Flipside FLP #30009 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED	5690320-2013143		No	1 - 12 Count	2172	FLIPSIDE	30009	\$10.68	\$23,196.96				
		PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES		Pack									
038	Eraser, dry erase, student, felt, 2" x 2", 12/pack.	Flipside FLP#30009 or equal. SAMPLE = 1 eraser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690320-2013143	School Specialty LLC	No	1 - 12 Count Pack	2172	FLIPSIDE	30009	\$11.45	\$24,869.40		1401885		

039	Eraser, pencil, cap, premium, non-smudge, soft and pliable, fits all standard pencils, will not tear paper, 144/box.	Papermate #73015 or equal. SAMPLE = 6 erasers. IF BIDDING THE APPROVED 5690320-1065 PRODUCT, NO SAMPLE IS REQUIRED.	odp BUSINESS SOLUTIONS, LLC	No	1 - 144 Count Box	1816	OFFICE DEPOT	RW279624	\$0.84	\$1,525.44	0.84	OFFICE DEPOT		REJECT - did not submit sample for evaluation.
039	Eraser, pencil, cap, premium, non-smudge, soft and pliable, fits all standard pencils, will not tear paper, 144/box.	Papermate #73015 or equal. SAMPLE = 6 erasers. IF BIDDING THE APPROVED 5690320-1065 PRODUCT, NO SAMPLE IS REQUIRED.	561 School Specialty LLC	C No	1 - 144 Count Box	1816	SCHOOL SMART	020754	\$2.08	\$3,777.28		020754		REJECT - Item bid is not equal, wall thickness of cap not acceptable.
039		Papermate #73015 or equal. SAMPLE = 6 erasers. IF BIDDING THE APPROVED 5690320-1065		No	1 - 144	1816	PAPERMATE	73015	\$3.69	\$6,701.04				
	pliable, fits all standard pencils, will not tear paper, 144/box.	PRODUCT, NO SAMPLE IS REQUIRED.	PRODUCTS		Count Box								Awarded	
039	Eraser, pencil, cap, premium, non-smudge, soft and pliable, fits all standard pencils, will not tear paper, 144/box.	Papermate #73015 or equal. SAMPLE = 6 erasers. IF BIDDING THE APPROVED 5690320-1065 PRODUCT, NO SAMPLE IS REQUIRED.	SCHOOL SUPPLIES		1 - 144 Count Box	1816	SANFROD PRISMACOLOR	73015	\$4.09	\$7,427.44				
039	Eraser, pencil, cap, premium, non-smudge, soft and pliable, fits all standard pencils, will not tear paper, 144/box.	Papermate #73015 or equal. SAMPLE = 6 erasers. IF BIDDING THE APPROVED 5690320-1065 PRODUCT, NO SAMPLE IS REQUIRED.	Complete Printer Source	No	1 - 144 Count Box	1816	Sanford	PAP73015	\$4.42	\$8,026.72				
039	Eraser, pencil, cap, premium, non-smudge, soft and pilable, fits all standard pencils, will not tear paper, 144/box.	Papermate #73015 or equal. SAMPLE = 6 erasers. IF BIDDING THE APPROVED 5690320-1065 PRODUCT, NO SAMPLE IS REQUIRED.	John R Green Co	No	1 - 144 Count Box	1816	NEWELL/PAPERMAT E-73015	57827	\$5.11	\$9,279.76				
039	Eraser, pencil, cap, premium, non-smudge, soft and pliable, fits all standard pencils, will not tear paper,	Papermate #73015 or equal. SAMPLE = 6 erasers. IF BIDDING THE APPROVED 5690320-1065 PRODUCT, NO SAMPLE IS REQUIRED.	661 Cascade School Supplies	No	1 - 144 Count Box	1816	Newell Brands	73015 CAS035128	\$5.90	\$10,714.40				
	piaule, its an standard perions, will not ceal paper, 144/box.	Product, to share is negotial.	Jupplies		Count Box									
040	Eraser, pencil, large, soft pink, 2" x 1" x 3/8" approx., smudge resistant, latex free, 12/box.	Papermate Pink Pearl #70521 or equal. SAMPLE = 3 erasers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	738 NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	2538	EXTRIC	G100	\$1.01	\$2,563.38				REJECT - insufficient information supplied for evaluation purposes. Sample does not indicate that it is latex free.
040	Eraser, pencil, large, soft pink, 2"x1" x3/8" approx., smudge resistant, latex free, 12/box.	Papermate Pink Pearl #70521 or equal. SAMPLE = 3 erasers. IF BIDDING THE 6990320-1425 APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	738 School Specialty LLC	No No	1 - 12 Count Box	2538	SCHOOL SMART	077356	\$1.25	\$3,172.50		077356	Awarded	
040	Eraser, pencil, large, soft pink, 2" x 1" x 3/8" approx., smudge resistant, latex free, 12/box.	Papermate Pink Pearl #70521 or equal. SAMPLE = 3 erasers. IF BIDDING THE 690320-1425 APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	PRODUCTS	No	1 - 12 Count Box	2538	PYRAMID	3570397	\$1.49	\$3,781.62				
040	Eraser, pencil, large, soft pink, 2" x 1" x 3/8" approx., smudge resistant, latex free, 12/box.	Papermate Pink Pearl #70521 or equal. SAMPLE = 3 erasers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. 5690320-1425	John R Green Co	No	1 - 12 Count Box	2538	CHARLES LEONARD- 71502	07036	\$2.03	\$5,152.14		DIFFERENT BRAND		
040	Eraser, pencil, large, soft pink, 2" x 1" x 3/8" approx., smudge resistant, latex free, 12/box.	Papermate Pink Pearl #70521 or equal. SAMPLE = 3 erasers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	738 Complete Printer Source	No	1 - 12 Count Box	2538	Sanford	PAP70521	\$5.19	\$13,172.22				
040	Eraser, pencil, large, soft pink, 2"x 1" x 3/8" approx., smudge resistant, latex free, 12/box.	Papermate Pink Pearl #70521 or equal. SAMPLE = 3 erasers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	738 Cascade School Supplies	No	1 - 12 Count Box	2538	Newell Brands/Papermate	70521 CAS022153	\$6.79	\$17,233.02				

	1											1		
041	Flag, Post-II, assorted colors, 1" x 13/4", removable, repositionable, pop up disperer, 200 flags (50 ach bright blue, bright green, bright pink, and bright purple), includes highlighter with 50 flags.	Post-It #MMM-680-PPBGVA or equal. SAMPLE = 1 pad each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2013144	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 250 Count Pack	761	3M POST IT	680-PPBGVA	\$6.77	\$5,151.97		Awarded	
041	Flag, Post-II, assorted colors, 1" x 1 3/4", removable, repositionable, pop up disperser, 200 flags (50 ach bright blue, bright green, bright pink, and bright purple), includes highlighter with 50 flags.	Post-It #MMM-680-PPBGVA or equal. SAMPLE = 1 pad each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2013144	PYRAMID SCHOOL PRODUCTS	No	1 - 250 Count Pack	761	3M	680-PPBGVA	\$7.79	\$5,928.19			
041	Flag, Post-It, assorted colors, 1" x 1 3/4", removable, repositionable, pop up dispenser, 200 flags (50 each bright blue, bright green, pribit pink, and bright purple), includes highlighter with 50 flags.	Post-It #MMM-680-PP9GVA or equal. SAMPLE = 1 pad each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2013144	Complete Printer Source	No	1 - 250 Count Pack	761	ЗМ	MMM680PPBGVA	\$8.89	\$6,765.29			
041	repositionable, pop up dispenser, 200 flags (50 each bright blue, bright green, bright pink, and bright purple), includes highlighter with 50 flags.	Post-It #MMM-680-PP9GVA or equal. SAMPLE = 1 pad each color. If BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 250 Count Pack	761	POST-IT	680-PPBGVA	\$9.15	\$6,963.15	1329899		
041	Flag. Post-II, assorted colors, 1" x 1 3/4", removable, repositionable, pop up disperser, 200 flags (50 ach bright blue, bright green, bright pink, and bright purple), includes highlighter with 50 flags.	Post-It #MMM-680-PPBGVA or equal. SAMPLE = 1 pad each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2013144	Cascade School Supplies	No	1 - 250 Count Pack	761	3M Commercial/Post it	680PPBGVA CAS028047	\$10.13	\$7,708.93			
042	Fluid, correction, white, quick drying, foam applicator, offers premium coverage, spill-resistant, 20-ml. bottle.	BIC-WOFEC or equal. SAMPLE = 1 bottle. If BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690380-1140447	NATIONAL ART & SCHOOL SUPPLIES	No	1 - Each Bottle	1858	BIC	WOFEC	\$0.96	\$1,783.68		Awarded	
042	Fluid, correction, white, quick drying, foam applicator, offers premium coverage, spill-resistant, 20-ml. bottle.	BIC-WOFEC or equal. SAMPLE = 1 bottle. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690380-1140447	Complete Printer Source	No	1 - Each Bottle	1858	BIC	BICWOFEC	\$1.09	\$2,025.22			
042	Fluid, correction, white, quick drying, foam applicator, offers premium coverage, spill-resistant, 20-ml. bottle.	BIC-WOFEC or equal. SAMPLE = 1 bottle. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690380-1140447	John R Green Co	No	1 - Each Bottle	1858	BIC-WOFEC12	05419	\$1.10	\$2,043.80			
042	Fluid, correction, white, quick drying, foam applicator, offers premium coverage, spill-resistant, 20-ml. bottle.	BIC-WOFEC or equal. SAMPLE = 1 bottle. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690380-1140447	School Specialty LLC	No	1 - Each Bottle	1858	BIC	WOFEC12	\$1.12	\$2,080.96	061419		
042	Fluid, correction, white, quick drying, foam applicator, offers premium coverage, spill-resistant, 20-ml. bottle.	BIC-WOFEC or equal. SAMPLE = 1 bottle. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690380-1140447	PYRAMID SCHOOL PRODUCTS	No	1 - Each Bottle	1858	BIC	WOFEC	\$1.29	\$2,396.82			
042	Fluid, correction, white, quick drying, foam applicator, offers premium coverage, spill-resistant, 20-ml. bottle.		5690380-1140447	Cascade School Supplies	No	1 - Each Bottle	1858	Bic USA	WOFEC12 CAS164111	\$1.36	\$2,526.88			
043	Folder, file, assorted colors, letter size,1/3 cut, reinforced two ply tab, 11 point colored stock, interior grid (blue, green, lavender, orange, red and yellow). 100/box.	Pendaffex #PTXR152 1/3 ASST or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source	No	1 - 100 Count Box		TOPS	PFXR15213ASST	\$29.22	\$11,600.34		Awarded	
043	Folder, file, assorted colors, letter size,1/3 cut, reinforced two ply tab, 11 point colored stock, interior grid (blue, green, lavender, orange, red and yellow). 100/box.	Pendaflex #PFXR152 1/3 ASST or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012415	Cascade School Supplies	No	1 - 100 Count Box	397	Tops Products	15213 CAS019544	\$30.40	\$12,068.80			

043	Folder, file, assorted colors, letter size, 1/3 c ut, reinforced two ply tab, 11 point colored stock, interior grid (blue, green, lavender, orange, red and yellow). 100/box.	Pendaflex #PFXR152 1/3 ASST or equal. SAMPLE = 3 folders. IF BIDDING THE S APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012415	John R Green Co	No	1 - 100 Count Box	397	TOPS/PENDAFLEX- R15213ASST	58070	\$30.94	\$12,283.18				
043	Folder, file, assorted colors, letter size,1/3 cut, reinforced two ply tab, 11 point colored stock, interior grid (blue, green, lavender, orange, red and yellow). 100/box.	Pendaflex #PFXR152 1/3 ASST or equal. SAMPLE = 3 folders. IF BIDDING THE SAPPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012415	School Specialty LLC	No	1 - 100 Count Box	397	PENDAFLEX	R152 1/3 ASST	\$37.23	\$14,780.31		1436451		
044	Folder, file, manila, letter size, end tab, 1/3 cut, 100/box, for shelf filing systems, 11 point double ply style, reinforced double thick tab.	PRODUCT, NO SAMPLE IS REQUIRED.		Complete Printer Source	No	1 - 100 Count Box	38	Smead	SMD24134	\$29.09	\$1,105.42			Awarded	
044	Folder, file, manila, letter size, end tab, 1/3 cut, 100/box, for shelf filing systems, 11 point double ply style, reinforced double thick tab.	Smead #24134 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED 5 PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 100 Count Box	38	SMEAD-24134	10147	\$38.53					
045	Folder, file, manila, letter size, end tab, straight cut, 100/bx, for shelf filing systems, 11 point double ply style, reinforced double thick tab.	Smead #24110 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED 5 PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1719329	Cascade School Supplies	No	1 - 100 Count Box	97	Cascade Brand	121265	\$7.27	\$705.19		Cascade Brand 121265		REJECT - did not submit sample for evaluation.
045	Folder, file, manila, letter size, end tab, straight cut, 100/box, for shelf filing systems, 11 point double ply style, reinforced double thick tab.	Smead #24110 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED SPRODUCT, NO SAMPLE IS REQUIRED.	5690400-1719329	odp BUSINESS SOLUTIONS, LLC	No	1 - 100 Count Box	97	SMEAD MFG CO	ET2-150L	\$18.11	\$1,756.67	18.11	SMEAD MFG CO		REJECT - did not submit sample for evaluation.
045	Folder, file, manila, letter size, end tab, straight cut, 100/box, for shelf filing systems, 11 point double ply style, reinforced double thick tab.	Smead #24110 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED 5 PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1719329	Complete Printer Source	No	1 - 100 Count Box	97	Smead	SMD24110	\$29.79	\$2,889.63			Awarded	
045	Folder, file, manila, letter size, end tab, straight cut, 100/box, for shelf filing systems, 11 point double ply style, reinforced double thick tab.	Smead #24110 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1719329	John R Green Co	No	1 - 100 Count Box	97	SMEAD-24110	10148	\$32.00	\$3,104.00				
046	Folder, file, manila, letter size, top two ply tab, 1/3 cut.	Smead #10334 or equal. 11 point two ply tab, tab 1/2" high, front panel undercut, 11 pt. manila stock, scored panel for 3/4" expansion, top corners rounded front and back, 10/00x. SAMPLE 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1097361	odp BUSINESS SOLUTIONS, LLC	No	1 - 100 Count Box	529	SMEAD MFG CO	10334	\$16.41	\$8,680.89	16.41	SMEAD MFG CO	Awarded	
046	Folder, file, manila, letter size, top two ply tab, 1/3 cut.	undercut, 11 pt. manila stock, scored panel for 3/a" expansion, top corners rounded front and back, 10,00 ko. XAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1097361	Source	No	1 - 100 Count Box	529	TOPS	PFXR75213	\$19.29	\$10,204.41				
046	Folder, file, manila, letter size, top two ply tab, 1/3 cut.	Smead #10334 or equal. 11 point two ply tab, tab 1/2" high, front panel 5 undercut, 11 pt. manila stock, scored panel for 3/4" expansion, top corners rounded front and back, 100/box. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1097361	John R Green Co	No	1 - 100 Count Box	529	SMEAD-10334	10334	\$24.23	\$12,817.67				
	Folder, file, manila, letter size, top two ply tab, 1/5 cut.	undercut, 11 pt. manila stock, scored panel for 3/4" expansion, top corners rounded front and back, 100/box. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Complete Printer Source John R Green Co	No No	1 - 100 Count Box	72	Smead SMEAD-10356	SMD10356	\$27.89	\$2,008.08			Awarded	
047	runce, inc, maine, rester size, top two pry tao, 1/s cut.	Smead #10356 or equal. 11 point two pty tab, tab 1/2" nigh, front panel undercut, 11 pt. manila stock, scored panel for 3/4" expansion, top corners rounded front and back, 100/box. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2020400-1004288	JUIII N GFEEN CO	140	1 - 100 Count Box	72	3WEAU-1U33b	10149	,52U.38	\$2,187.3b				

048	Folder, file, manila, letter size, 1/5 assorted cut, top single ply tab, 11 point, 100/box.	Smead #10350 or equal. SAMPLE = 3 folders. IF BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1715376	Cascade School Supplies	No	1 - 100 Count Box	87	Cascade Brand	121280	\$7.67	\$667.29		Cascade Brand 121280		REJECT- did not submit sample for evaluation.
048	Folder, file, manila, letter size, 1/5 assorted cut, top single ply tab, 11 point, 100/box.	Smead #10350 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1715376	School Specialty LLC	No	1 - 100 Count Box	87	SCHOOL SMART	015744	\$9.66	\$840.42		015744		
														Awarded	
048	Folder, fille, manila, letter size, 1/5 assorted cut, top single ply tab, 11 point, 100/box.	Smead #10350 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1715376	Complete Printer Source	No	1 - 100 Count Box	87	TOPS	PFX75215	\$13.79	\$1,199.73				
048	Folder, file, manila, letter size, 1/5 assorted cut, top single ply tab, 11 point, 100/box.	Smead #10350 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1715376	John R Green Co	No	1 - 100 Count Box	87	SMEAD-10350	10350	\$18.86	\$1,640.82				
049	Folder, file, manila, letter size, 1/3 assorted cut, top single ply tab, 11 point, 100/box.	Smead #10330 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371715	School Specialty LLC	No	1 - 100 Count Box	614	SCHOOL SMART	015741	\$6.49	\$3,984.86		015741	Awarded	
049	Folder, file, manila, letter size, 1/3 assorted cut, top single ply tab, 11 point, 100/box.	Smead #10330 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371715	Cascade School Supplies	No	1 - 100 Count Box	614	Cascade Brand	121278	\$7.42	\$4,555.88		Cascade Brand 121278		
049	Folder, file, manila, letter size, 1/3 assorted cut, top single ply tab, 11 point, 100/box.	Smead #10330 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371715	Complete Printer Source	No	1 - 100 Count Box	614	Smead	SMD10330	\$14.69	\$9,019.66				
049	Folder, file, manila, letter size, 1/3 assorted cut, top single ply tab, 11 point, 100/box.	Smead #10330 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371715	John R Green Co	No	1 - 100 Count Box	614	SMEAD-10330	10330	\$15.36	\$9,431.04				
050	Folder, file, manila, legal size, top two ply tab, 1/3 cut.	Smead #15334 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1069632	Cascade School Supplies	No	1 - 100 Count Box	23	Cascade Brand	121288	\$9.42	\$216.66		Cascade Brand 121288		REJECT- did not submit sample for evaluation.
050	Folder, file, manila, legal size, top two ply tab, 1/3 cut.	PRODUCT, NO SAMPLE IS REQUIRED.		SOLUTIONS, LLC	No	1 - 100 Count Box	23	SMEAD MFG CO	15334	\$18.59	\$427.57	18.59	SMEAD MFG CO	Awarded	
050	Folder, file, manila, legal size, top two ply tab, 1/3 cut.	Smead #15334 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1069632	Complete Printer Source	No	1 - 100 Count Box	23	TOPS	PFXR75313	\$25.19	\$579.37				
050	Folder, file, manila, legal size, top two ply tab, 1/3 cut.	Smead #15334 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1069632	John R Green Co	No	1 - 100 Count Box	23	SMEAD-15334	15334	\$28.77	\$661.71				
050	Folder, file, manila, legal size, top two ply tab, 1/3 cut.	Smead #15334 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1069632	School Specialty LLC	No	1 - 100 Count Box	23	SMEAD	SMD15334	\$46.20	\$1,062.60		1068671		

051	Folder, file, manila, letter size, straight cut, top two ply tab 15/16" high, scored panel for 3/4" expansion, 11 point manila stock, 100/box.	Smead #10310 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1069614	Cascade School Supplies	No	1 - 100 Count Box	43	Cascade Brand	121275	\$7.67	\$329.81	Cascade Brand 121275	REJECT - did not submit sample for evaluation.
051	Folder, file, manila, letter size, straight cut, top two ply tab 15/16" high, scored panel for 3/4" expansion, 11 point manila stock, 100/box.	Smead #10310 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1069614	School Specialty LLC	No	1 - 100 Count Box	43	SMEAD	SMD10300	\$23.00	\$989.00	2049717	REJECT - item bid is not equal, top single ply tab not acceptable.
051	Folder, file, manila, letter size, straight cut, top two ply tab 15/16" high, scored panel for 3/4" expansion, 11 point manila stock, 100/box.	Smead #10310 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1069614	Complete Printer Source	No	1 - 100 Count Box	43	Smead	SMD10310	\$24.89	\$1,070.27	Awar	rded
051	Folder, file, manila, letter size, straight cut, top two ply tab 15/16" high, scored panel for 3/4" expansion, 11 point manila stock, 100/box.	Smead #10310 or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1069614	John R Green Co	No	1 - 100 Count Box	43	SMEAD-10310	10150	\$30.43	\$1,308.49		
052	Folder, hanging file, legal size, 1/3 cut, two-tone standard green, 11 point stock, with poly tabs and inserts, 25/box.	Smead #64135 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371671	Cascade School Supplies	No	1 - 25 Count Box	50	Cascade Brand	121668	\$12.58	\$629.00	Cascade Brand 121668	REJECT - did not submit sample for evaluation.
052	Folder, hanging file, legal size, 1/3 cut, two-tone standard green, 11 point stock, with poly tabs and inserts, 25/box.	Smead #64135 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371671	School Specialty LLC	No	1 - 25 Count Box	50	SCHOOL SMART	070320	\$13.30	\$665.00	070320	rded
052	Folder, hanging file, legal size, 1/3 cut, two-tone standard green, 11 point stock, with poly tabs and inserts, 25/box.	Smead #64135 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371671	Complete Printer Source	No	1 - 25 Count Box	50	Smead	SMD64135	\$18.99	\$949.50		
052	Folder, hanging file, legal size, 1/3 cut, two-tone standard green, 11 point stock, with poly tabs and inserts, 25/box.	Smead #64135 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371671	John R Green Co	No	1 - 25 Count Box	50	SMEAD-64135	64135	\$21.13	\$1,056.50		
053	Folder, hanging file, letter size, 1/3 cut. Two-tone standard green, 11 point stock, coated rod tips, with 2" tabs and inserts, 25/box.	Smead #64035 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371653	School Specialty LLC	No	1 - 25 Count Box	552	SCHOOL SMART	070314	\$7.89	\$4,355.28	070314 Awai	rded
053	Folder, hanging file, letter size, 1/3 cut. Two-tone standard green, 11 point stock, coated rod tips, with 2" tabs and inserts, 25/box.	Smead #64035 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371653	Cascade School Supplies	No	1 - 25 Count Box	552	Cascade Brand	121666	\$9.98	\$5,508.96	Cascade Brand 121666	
053	Folder, hanging file, letter size, 1/3 cut. Two-tone standard green, 11 point stock, coated rod tips, with 2" tabs and inserts, 25/box.	Smead #64035 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371653	Complete Printer Source	No	1 - 25 Count Box	552	Smead	SMD64035	\$14.99	\$8,274.48		
053	Folder, hanging file, letter size, 1/3 cut. Two-tone standard green, 11 point stock, coated rod tips, with 2" tabs and inserts, 25/box.	Smead #64035 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371653	John R Green Co	No	1 - 25 Count Box	552	SMEAD-64035	64035	\$16.63	\$9,179.76		
054	Folder, hanging file, letter size, 1/5 cut. Two-tone standard green, 11 point stock, coated rod tips, with 2" tabs and inserts, 25/box.	Smead #64055 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371662	School Specialty LLC	No	1 - 25 Count Box	155	SCHOOL SMART	070311	\$8.25	\$1,278.75	070311 Awar	rded

054	Folder, hanging file, letter size, 1/5 cut. Two-tone standard green, 11 point stock, coated rod tips, with 2" tabs and inserts, 25/box.	Smead #64055 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371662	Cascade School Supplies	No	1 - 25 Count Box	155	Cascade Brand	121667	\$8.85	\$1,371.75		Cascade Brand 121667		
054	Folder, hanging file, letter size, 1/5 cut. Two-tone standard green, 11 point stock, coated rod tips, with 2" tabs and inserts, 25/box.	Smead #64055 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371662	Complete Printer Source	No	1 - 25 Count Box	155	Smead	SMD64055	\$12.99	\$2,013.45				
054		Smead #64055 or equal. SAMPLE = 5 folders. IF BIDDING THE APPROVED	5000400 4374553	John R Green Co	N-	4.25.5	155	SMEAD-64055	64055	\$15.19	62.254.45				
054	Folder, hanging file, letter size, 1/5 cut. Two-tone standard green, 11 point stock, coated rod tips, with 2" tabs and inserts, 25/box.	Smead #64U55 OF equal. SAMPLE = 5 TORIES. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1371662	John K Green Co	No	1 - 25 Count Box	155	SWEAU-04055	64055	\$15.19	\$2,354.45				
055	Frame, hanging file frame, for letter rails for extra support, notched every size folder, aluminum, thick steel side 1/2" from 24" to 27", individually boxed.	Charles Leonard #950 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1145568	John R Green Co	No	1 - 1 Each Set	186	CLIPMALL-HFLTS	13231	\$4.49	\$835.14		DIFFERENT BRAND	Awarded	
055	Frame, hanging file frame, for letter rails for extra support, notched every size folder, aluminum, thick steel side 1/2" from 24" to 27", individually boxed.	Charles Leonard #950 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1145568	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Set	186	LEONARD	950	\$4.95	\$920.70				
055	Frame, hanging file frame, for letter rails for extra support, notched every size folder, aluminum, thick steel side 1/2" from 24" to 27", individually boxed.	Charles Leonard #950 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1145568	Cascade School Supplies	No	1 - 1 Each Set	186	Cascade Brand	121671	\$5.20	\$967.20				
056	Glue,white, 128 oz., plastic bottle.	Elmer's #E340 or equal.	2500265-1371082	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 128 Ounce Bottle	76	ELMERS	E340	\$14.52	\$1,103.52			Awarded	
056	Glue,white, 128 oz., plastic bottle.	Elmer's #E340 or equal.	2500265-1371082	School Specialty LLC	No	1 - 128 Ounce Bottle	76	ELMERS	E340	\$15.83	\$1,203.08		2102327		
056	Glue,white, 128 oz., plastic bottle.	Elmer's #E340 or equal.	2500265-1371082	John R Green Co	No	1 - 128 Ounce Bottle	76	ELMERS-E340NR	18157	\$15.89	\$1,207.64				
056	Glue,white, 128 oz., plastic bottle.	Elmer's #E340 or equal.	2500265-1371082	PYRAMID SCHOOL PRODUCTS	No	1 - 128 Ounce Bottle	76	ELMER'S	E340	\$15.95	\$1,212.20				
056	Glue,white, 128 oz., plastic bottle.	Elmer's #E340 or equal.	2500265-1371082	Lakeshore Learning Materials, LLC	No	1 - 128 Ounce Bottle	76	CERTIFIED COLOR CORP.	RS264 EACH	\$16.73	\$1,271.48	Please reference "Per Quote #36611" on all purchase orders.	Best-Buy School Glue - Gallon TERMS: NET 30		
056	Glue,white, 128 oz., plastic bottle.	Elmer's #E340 or equal.	2500265-1371082	Cascade School Supplies	No	1 - 128 Ounce Bottle	76	Newell Brands/Elmers	E340NR CAS120677	\$18.22	\$1,384.72				
056	Glue,white, 128 oz., plastic bottle.	Elmer's #E340 or equal.	2500265-1371082	Complete Printer Source	No	1 - 128 Ounce Bottle	76	Sanford	EPIE340	\$18.89	\$1,435.64				

					,		,								
057	Glue stick, 0.74 oz., clear application.	Saunders #UHU 99649. NO SUBSTITUTE.	2500265-2012778	odp BUSINESS SOLUTIONS, LLC	No	1 - Each Purchase	7116	SP RICHARDS	BSN15787	\$0.00	\$0.00	0	SP RICHARDS		
057	Glue stick, 0.74 oz., clear application.	Saunders #UHU 99649. NO SUBSTITUTE.	2500265-2012778	NATIONAL ART & SCHOOL SUPPLIES	No	1 - Each Purchase	7116	SAUNDERS	UHU 99649	\$0.92	\$6,546.72				
														Awarded	
057	Glue stick, 0.74 oz., clear application.	Saunders #UHU 99649. NO SUBSTITUTE.	2500265-2012778	PYRAMID SCHOOL	No	1 - Each	7116	UHU	99649	\$0.99	\$7,044.84				
				PRODUCTS		Purchase									
057	Glue stick, 0.74 oz., clear application.	Saunders #UHU 99649. NO SUBSTITUTE.	2500265-2012778	Complete Printer	No	1 - Each	7116	Staedtler-Mars	SAU99649	\$1.04	\$7,400.64				
				Source		Purchase									
				[
057	Glue stick, 0.74 oz., clear application.	Saunders #UHU 99649. NO SUBSTITUTE.	2500265-2012779	John R Green Co	No	1 - Each	7116	STAEDTLER-MARS-	18178	\$1.31	\$9,321.96				
] 33.			2012//6			Purchase		99649			,522.50				
I															
				ļ	<u> </u>										
057	Glue stick, 0.74 oz., clear application.	Saunders #UHU 99649. NO SUBSTITUTE.	2500265-2012778	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	7116	LAKESHORE	TT506 EACH	\$1.48	\$10,531.68	Please reference "Per Quote #36611" on all purchase	Lakeshore Jumbo Glue Stick TERMS: NET 30		
												orders.			
L				<u> </u>		<u></u>				<u> </u>	<u> </u>				
057	Glue stick, 0.74 oz., clear application.	Saunders #UHU 99649. NO SUBSTITUTE.	2500265-2012778		No	1 - Each Purchase	7116	Staedtler/UHU	99649 CAS018619	\$1.79	\$12,737.64				
				Supplies		Pulcilase									
057	Glue stick, 0.74 oz., clear application.	Saunders #UHU 99649. NO SUBSTITUTE.	2500265-2012778	School Specialty LLC	No	1 - Each	7116	UHU	9U-99649	\$1.84	\$13,093.44		247232		
						Purchase									
058	Index, binder, 8 1/2" x 11", BIG insertable tabs, easy to	Avery #23280 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT,	5690420-1371751	odp BUSINESS	No	1 - 5 Count	6026	Avery	11900	\$0.58	\$3,495.08	0.58	Avery		REJECT - did not submit sample for evaluation.
	print inserts compatible with laser and inkjet printers,	NO SAMPLE OR SPECIFICATION SHEET IS REQUIRED.		SOLUTIONS, LLC		Set					.,,		,		, , , , , , , , , , , , , , , , , , , ,
	tabs are 50% bigger than traditional tabs, 3-hole punched, double copper reinforced holes, 5 leaf sets,														
	with 2" colored tabs.														
050	Index bindex 0.1/2" u.14" DIC to a black	Avery #23280 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT,	E600430 437477	NATIONAL AST S	,	1.50	6036	A)/50V	22200	60.70	£4 700 35				
058	Index, binder, 8 1/2" x 11", BIG insertable tabs, easy to print inserts compatible with laser and inkjet printers,	Avery #23280 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE OR SPECIFICATION SHEET IS REQUIRED.	3090420-13/1/51	SCHOOL SUPPLIES	No	1 - 5 Count Set	6026	AVERY	23280	\$0.78	\$4,700.28				
	tabs are 50% bigger than traditional tabs, 3-hole														
	punched, double copper reinforced holes, 5 leaf sets, with 2" colored tabs.													Awarded	
058	Index, binder, 8 1/2" x 11", BIG insertable tabs, easy to print inserts compatible with laser and inkjet printers,	Avery #23280 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE OR SPECIFICATION SHEET IS REQUIRED.	5690420-1371751	Cascade School Supplies	No	1 - 5 Count Set	6026	Avery Products	23281 CAS028404	\$0.89	\$5,363.14		Avery Products 23281		
	tabs are 50% bigger than traditional tabs, 3-hole	NO SAMPLE OR SPECIFICATION SHEET IS REQUIRED.		Supplies		Set									
	punched, double copper reinforced holes, 5 leaf sets, with 2" colored tabs.														
	with 2 colored tabs.														
058		Avery #23280 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT,	5690420-1371751		No	1 - 5 Count	6026	Avery	AVE23280	\$0.91	\$5,483.66				
	print inserts compatible with laser and inkjet printers, tabs are 50% bigger than traditional tabs, 3-hole	NO SAMPLE OR SPECIFICATION SHEET IS REQUIRED.		Source		Set									
	punched, double copper reinforced holes, 5 leaf sets,														
	with 2" colored tabs.														
058	Index, binder, 8 1/2" x 11", BIG insertable tabs. easy to	Avery #23280 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT,	5690420-1371751	PYRAMID SCHOOL	No	1 - 5 Count	6026	AVERY	23280	\$1.49	\$8,978.74				
	print inserts compatible with laser and inkjet printers,	NO SAMPLE OR SPECIFICATION SHEET IS REQUIRED.		PRODUCTS		Set									
	tabs are 50% bigger than traditional tabs, 3-hole punched, double copper reinforced holes, 5 leaf sets,														
	with 2" colored tabs.														

059	Label, multi-purpose, self-adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of 10 labels, 30 labels/sheet, 100 sheets/box.	Maco #ML3000 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690460-1719727	Complete Printer Source	No	1 - 100 Sheet Box	729	Avery	AVE30600	\$7.49	\$5,460.21			REJECT- did not submit sample for evaluation.
059	Label, multi-purpose, self-adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of 10 labels, 30 labels/sheet, 100 sheets/box.	Maco #ML3000 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690460-1719727	School Specialty LLC	No	1 - 100 Sheet Box	729	AVERY	30600	\$8.14	\$5,934.06	1502914		REJECT - did not submit sample for evaluation.
059	Label, multi-purpose, self-adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of	Maco #ML3000 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690460-1719727	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Sheet Box	729	MACO	ML3000	\$12.95	\$9,440.55			
	10 labels, 30 labels/sheet, 100 sheets/box.												Awarded	
059	Label, multi-purpose, self-adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of 10 labels, 30 labels/sheet, 100 sheets/box.	Maco #ML3000 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690460-1719727	John R Green Co	No	1 - 100 Sheet Box	729	MACO CHARTPAK- MML-3000	34225	\$13.06	\$9,520.74			
059	Label, multi-purpose, self-adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of 10 labels, 30 labels/sheet, 100 sheets/box.	Maco #ML3000 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690460-1719727	Cascade School Supplies	No	1 - 100 Sheet Box	729	Avery Products	5160 CAS029642	\$42.41	\$30,916.89	Avery Products 5160		
	20 macs, 30 macs/sinces, 200 macs/soci													
060	Label, multi-purpose, self adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of	AVERY #5160. NO SUBSTITUTE.	5690460-1150561	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 100 Sheet Box	220	AVERY	5160	\$23.96	\$5,271.20			
	10 labels, 30 labels/sheet, 100 sheets/box.												Awarded	
060	Label, multi-purpose, self adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of 10 labels, 30 labels/sheet, 100 sheets/box.	AVERY #5160. NO SUBSTITUTE.	5690460-1150561	Complete Printer Source	No	1 - 100 Sheet Box	220	Avery	AVE5160	\$26.29	\$5,783.80			
	To labels, 30 labels/sneet, 100 sneets/box.													
060	Label, multi-purpose, self adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of 10 labels, 30 labels/sheet, 100 sheets/box.	AVERY #5160. NO SUBSTITUTE.	5690460-1150561	John R Green Co	No	1 - 100 Sheet Box	220	AVERY-05160	14535	\$34.51	\$7,592.20			
060	Label, multi-purpose, self adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of	AVERY #5160. NO SUBSTITUTE.	5690460-1150561	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Sheet Box	220	AVERY	5160	\$34.95	\$7,689.00			
	10 labels, 30 labels/sheet, 100 sheets/box.													
060	Label, multi-purpose, self adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of	AVERY #5160. NO SUBSTITUTE.	5690460-1150561	School Specialty LLC	No	1 - 100 Sheet Box	220	AVERY	5160	\$39.46	\$8,681.20	067673		
	10 labels, 30 labels/sheet, 100 sheets/box.													
060	Label, multi-purpose, self adhesive, 1" x 2 5/8", white, compatible with laser and inkjet printers, 3 columns of	AVERY#5160. NO SUBSTITUTE.	5690460-1150561	Cascade School Supplies	No	1 - 100 Sheet Box	220	Avery Products	5160 CAS029642	\$42.42	\$9,332.40			
	10 labels, 30 labels/sheet, 100 sheets/box.													
061	Label, multi-purpose, self-adhesive, removable, 4" x 6", white, 40/package.	Avery #05454 or equal. SAMPLE = 1 pkg. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690460-1371797	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 40 Sheet Pack	159	AVERY	5454	\$3.88	\$616.92			
													Awarded	
061	Label, multi-purpose, self-adhesive, removable, 4" x 6", white, 40/package.	Avery #05454 or equal. SAMPLE = 1 pkg. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690460-1371797	Complete Printer Source	No	1 - 40 Sheet Pack	159	Avery	AVE05454	\$4.09	\$650.31			

061	Label, multi-purpose, self-adhesive, removable, 4" x 6",	Avery #05454 or equal. SAMPLE = 1 pkg. IF BIDDING THE APPROVED	5690460-1371797	School Specialty LLC	No	1 - 40 Sheet	159	AVERY	5454	\$7.55	\$1,200.45		1117995		
	white, 40/package.	PRODUCT, NO SAMPLE IS REQUIRED.				Pack									
062	Label, multipurpose, self-adhesive, 2" x 4", compatible with laser, inkjet printer and most office machines, 10	Universal #UNV80107 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690460-2013146	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Sheet Box	387	AVERY	30603	\$7.29	\$2,821.23				
	labels/sheet, 100 sheets/box.														
														Awarded	
062	Label, multipurpose, self-adhesive, 2" x 4", compatible	Universal #UNV80107 or equal. SAMPLE = 2 sheets. IF BIDDING THE	5690460-2013146	John R Green Co	No	1 - 100	387	AVERY-30603	14548	\$7.78	\$3,010.86		DIFFERENT BRAND		
	with laser, inkjet printer and most office machines, 10	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Sheet Box				**	44,520.00				
	labels/sheet, 100 sheets/box.														
062	Label, multipurpose, self-adhesive, 2" x 4", compatible	Universal #UNV80107 or equal. SAMPLE = 2 sheets. IF BIDDING THE	5690460-2013146	School Specialty LLC	No	1 - 100	387	AVERY	30603	\$8.14	\$3,150.18		1502917		
	with laser, inkjet printer and most office machines, 10 labels/sheet, 100 sheets/box.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Sheet Box									
062	Label, multipurpose, self-adhesive, 2" x 4", compatible with laser, inkjet printer and most office machines, 10	Universal #UNV80107 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690460-2013146	Complete Printer Source	No	1 - 100 Sheet Box	387	Universal	UNV80107	\$8.89	\$3,440.43				
	labels/sheet, 100 sheets/box.														
062	Label, multipurpose, self-adhesive, 2" x 4", compatible	Universal #UNV80107 or equal. SAMPLE = 2 sheets. IF BIDDING THE	5690460-2013146	Cascade School	No	1 - 100	387	Adhesive Label	37600C	\$13.10	\$5,069.70		Adheslive Label 37600C		
	with laser, inkjet printer and most office machines, 10 labels/sheet, 100 sheets/box.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Sheet Box			CAS121048						
	indexity street, 200 streets, 50x.														
063	Marker, coloring, conical tip, original formula, draws both thick and thin lines, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7708 or equal. IF BIDDING THE APPROVED PRODUCT, NO	5690500-1685063	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 8 Count Box	14384	CRAYOLA	59-7708	\$1.56	\$22,439.04				
	both thick and thin lines, o-color box.	SAMPLE IS REQUIRED.		SCHOOL SUFFEILS		Box									
														Awarded	
063	Manual and a second sec	Charles also blad blackers and class of all and all	F.COOF.OO 4.COF.OC.3	PYRAMID SCHOOL		1 - 8 Count	14384	CRAYOLA	58-7708	\$1.64	\$23,589.76				
063	Marker, coloring, conical tip, original formula, draws both thick and thin lines, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7708 or equal. IF BIDDING THE APPROVED PRODUCT, NO	5690500-1685063	PRODUCTS	No	Box	14384	CRAYULA	58-7708	\$1.64	\$23,589.76				
		SAMPLE IS REQUIRED.													
063	Marker, coloring, conical tip, original formula, draws	Classic colors: black, blue, brown, green, orange, red, violet and yellow.	5690500-1685063	School Specialty LLC	No	1 - 8 Count	14384	CRAYOLA	58-7708	\$1.65	\$23,733.60		008148		
	both thick and thin lines, 8-color box.	Crayola #58-7708 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Box									
063	Marker, coloring, conical tip, original formula, draws both thick and thin lines, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7708 or equal. IF BIDDING THE APPROVED PRODUCT, NO	5690500-1685063	odp BUSINESS SOLUTIONS, LLC	No	1 - 8 Count Box	14384	Crayola	58-7708	\$2.15	\$30,925.60	2.15	Crayola		
1		SAMPLE IS REQUIRED.													
063	Marker, coloring, conical tip, original formula, draws	Classic colors: black, blue, brown, green, orange, red, violet and yellow.	5690500-1685063	Cascade School	No	1 - 8 Count	14384	Crayola	7708 CAS122059	\$2.35	\$33,802.40				
	both thick and thin lines, 8-color box.	Crayola #58-7708 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Box									
1		Some CE of REQUIRED.													
1															
063	Marker, coloring, conical tip, original formula, draws both thick and thin lines, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7708 or equal. IF BIDDING THE APPROVED PRODUCT, NO	5690500-1685063	Complete Printer Source	No	1 - 8 Count Box	14384	Crayola	CYO587708	\$2.39	\$34,377.76				
1	Does disk and that thes, o-color box.	SAMPLE IS REQUIRED.		Source		500									
1															
1															
063	Marker, coloring, conical tip, original formula, draws	Classic colors: black, blue, brown, green, orange, red, violet and yellow.	5690500.1695063	John R Green Co	No	1 . 8 Count	14204	CRAYOLA-7708	08237	\$2.44	\$35,096.96				
003	both thick and thin lines, 8-color box.	Crayola #58-7708 or equal. IF BIDDING THE APPROVED PRODUCT, NO	2020200-1002003	John K dreen CO	140	Box	14304	CIATOLA-7708	00237	44.24	23,050,050				
		SAMPLE IS REQUIRED.													
1															
	1		-1	1	1			1	1		1	1			

			т				_				1	1			
063	Marker, coloring, conical tip, original formula, draws both thick and thin lines, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7708 or equal. It #10DING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1685063	Lakeshore Learning Materials, LLC	No	1 - 8 Count Box	14384	LAKESHORE	JJ438 EACH	\$3.71	\$53,364.64	Please reference "Per Quote #36611" on all purchase orders.	Best-Buy Washable Broad-Tip Markers - Student Pack TERMS: NET 30		
064	Marker, coloring, fine tip, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow.	5690500-1700793	NATIONAL ART &	No.	1 - 8 Count	3332	CRAYOLA	58-7709	\$1.54	\$5,131.28				
064	marker, coloring, the tip, s-color box.	Classic cords: block one, brown, green, orange, reo, violet and yellow. Crayola #58-7709 or equal. If EDIDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1700793	SCHOOL SUPPLIES	No	Box	3332	CRAYOLA	58-7709	\$1.54	\$5,131.28			Awarded	
064	Marker, coloring, fine tip, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7709 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1700793	PYRAMID SCHOOL PRODUCTS	No	1 - 8 Count Box	3332	CRAYOLA	58-7709	\$1.64	\$5,464.48				
064	Marker, coloring, fine tip, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7709 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1700793	School Specialty LLC	No	1 - 8 Count Box	3332	CRAYOLA	58-7709	\$1.65	\$5,497.80		008172		
064	Marker, coloring, fine tip, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7709 or equal. If BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1700793	odp BUSINESS SOLUTIONS, LLC	No	1 - 8 Count Box	3332	Crayola	58-7709	\$2.15	\$7,163.80	2.15	Crayola		
064	Marker, coloring, fine tip, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7709 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1700793	Complete Printer Source	No	1 - 8 Count Box	3332	Crayola	CYO587709	\$2.39	\$7,963.48				
064	Marker, coloring, fine tip, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7709 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1700793	John R Green Co	No	1 - 8 Count Box	3332	CRAYOLA-7709	08236	\$2.43	\$8,096.76				
064	Marker, coloring, fine tip, 8-color box.	Classic colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7709 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1700793	Cascade School Supplies	No	1 - 8 Count Box	3332	Crayola	7709 CAS121722	\$2.80	\$9,329.60				
065	Marker, dry erase, chisel tip, low odor. 4-color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (Imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80074 or egual. SAMPLE = 1 Sou. FI BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1662137	PYRAMID SCHOOL PRODUCTS	No	1 - 4 Count Box	3635	SANFORD	80074	\$2.99	\$10,868.65			Awarded	
065	Marker, dry erase, chisel tip, low odor. 4-color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80074 or epul. SAMPLE 1 S No. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1662137	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 4 Count Box	3635	SANFORD	80074	\$3.14	\$11,413.90				
065	(black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (Imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80074 or egual. SAMPLE = 1 SON. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		SOLUTIONS, LLC	No	1 - 4 Count Box	3635	NEWELL BRANDS	80074	\$3.22	\$11,704.70	3.22	NEWELL BRANDS		
065	(black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (Imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80074 or egual. SAMPLE = 15 No. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		1 - 4 Count Box		Sanford	SAN80074	\$3.69	\$13,413.15				
065	Marker, dry erase, chisel tip, low odor. 4-color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80074 or egual. SAMPLE 1 5 No. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1662137	John R Green Co	No	1 - 4 Count Box	3635	EXPO-80074	08176	\$4.54	\$16,502.90				

									, ,		,				
065	Marker, dry erase, chisel tip, low odor. 4-color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled St dry erase (imprinted on marker). AP Certified, not-noice conforms ASTIM D4236. Sanford #80074 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1662137	Lakeshore Learning Materials, LLC	No	1 - 4 Count Box	3635	LAKESHORE	DD106	\$4.64	\$16,866.40	Please reference "Per Quote #36611" on all purchase orders.	Write & Wipe Broad-Tip Markers - Set of 4 Colors TERMS: NET 30		
065	Marker, dry erase, chisel tip, low odor. 4-color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Cetrified, non-toxic conforms to ASTM D4236. Sanford #80074 or equal. SAMPLE - 15 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1662137	Cascade School Supplies	No	1 - 4 Count Box	3635	Newell Brands/Expo	80074 CAS131176	\$5.16	\$18,756.60				
065	Marker, dry erase, chisel tip, low odor. 4-color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80074 or equal. SAMPLE - 15 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1662137	School Specialty LLC	No	1 - 4 Count Box	3635	EXPO	80074	\$5.16	\$18,756.60		175136		
066	Marker, dry erase, chisel tip, low odor, 16/box, assorted colors, (1 aqua, 2 black, 2 blue, 1 brown, 2 green, 1 lime, 1 orange, 1 pink, 1 plum, 1 pumpkin, 1 purple, 2 red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #81045 or equal. SAMPLE = 1 Dox. IBIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1715874	odp BUSINESS SOLUTIONS, LLC	No	1 - 16 Count Box	1247	NEWELL BRANDS	81045	\$12.49	\$15,575.03	12.49	NEWELL BRANDS	Awarded	
066	Marker, dry erase, chisel tip, low odor, 16/box, assorted colors, (1 aqua, 2 black, 2 blue, 1 brown, 2 green, 1 lime, 1 orange, 1 pink, 1 plum, 1 pumpkin, 1 purple, 2 red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #812045 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES	No	1 - 16 Count Box	1247	SANFORD	81045	\$13.47	\$16,797.09				
066	Marker, dry erase, chisel tip, low odor, 16/box, assorted colors, (1 aqua, 2 black, 2 blue, 1 brown, 2 green, 1 lime, 1 orange, 1 pink, 1 plum, 1 pumpkin, 1 purple, 2 red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Cettlfied, non-toxic conforms to ASTM D4236. Sanford #81045 or equal. SAMPLE 1 box. IBIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1715874	Complete Printer Source	No	1 - 16 Count Box	1247	Sanford	SAN81045	\$14.89	\$18,567.83				
066	Marker, dry erase, chisel tip, low odor, 16/box, assorted colors, (1 aqua, 2 black, 2 blue, 1 brown, 2 green, 1 lime, 1 orange, 1 pink, 1 plum, 1 pumpkin, 1 purple, 2 red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #81045 or equal. SAMPLE 1 box. IE BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1715874	PYRAMID SCHOOL PRODUCTS	No	1 - 16 Count Box	1247	SANFORD	81045	\$14.95	\$18,642.65				
066	Marker, dry erase, chisel tip, low odor, 16/box, assorted colors, (1 aqua, 2 black, 2 blue, 1 brown, 2 green, 1 lime, 1 orange, 1 pink, 1 plum, 1 pumpkin, 1 purple, 2 red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #81045 or equal. SAMPLE = 1 Dox. IB IBIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1715874	John R Green Co	No	1 - 16 Count Box	1247	EXPO-81045	08902	\$18.02	\$22,470.94				
066	Marker, dry erase, chisel tip, low odor, 16/box, assorted colors, (1 aqua, 2 black, 2 blue, 1 brown, 2 green, 1 lime, 1 orange, 1 pink, 1 plum, 1 pumpkin, 1 purple, 2 red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #81045 or equal. SAMPLE = 1 Dox. IB IBIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1715874	School Specialty LLC	No	1 - 16 Count Box	1247	EXPO	81045	\$19.65	\$24,503.55		389845		
066	Marker, dry erase, chisel tip, low odor, 16/box, assorted colors, (1 aqua, 2 black, 2 blue, 1 brown, 2 green, 1 lime, 1 orange, 1 pink, 1 plum, 1 pumpkin, 1 purple, 2 red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #81045 or equal. SAMPLE 1 box. IE BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1715874	Cascade School Supplies	No	1 - 16 Count Box	1247	Newell Brands/Expo	81045 CAS030249	\$20.95	\$26,124.65				
		Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80001 or equal. SAMPLE - 15 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES	No	1 - 12 Count Box	6206	SANFORD	80001	\$7.29	\$45,241.74			Awarded	
067	Marker, dry erase, chisel tip, low odor, 12/box. BLACK.	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80001 or equal. SAMPLE - 15 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1715869	PRODUCTS	No	1 - 12 Count Box	6206	SANFORD	80001	\$8.95	\$55,543.70				
067	Marker, dry erase, chisel tip, low odor, 12/box. BLACK.	Skip free marking, great erasability, quick drying ink. Markers must be labeled 56 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80001 or equal. SAMPLE 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1715869	odp BUSINESS SOLUTIONS, LLC	No	1 - 12 Count Box	6206	NEWELL BRANDS	80001	\$9.28	\$57,591.68	9.28	NEWELL BRANDS		

_	·	,		,											
067	Marker, dry erase, chisel tip, low odor, 12/box. BLACK.	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80001 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715869	Complete Printer Source	No	1 - 12 Count Box	6206	Sanford	SAN80001	\$10.89	\$67,583.34				
067	Marker, dry erase, chisel tip, low odor, 12/box. BLACK.	Skip free marking, great erasability, quick dyring ink. Markres must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80001 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715869	Cascade School Supplies	No	1 - 12 Count Box	6206	Newell Brands/Expo2	80001 CAS024047	\$12.78	\$79,312.68				
067	Marker, dry erase, chisel tip, low odor, 12/box. BLACK.	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80001 or equal. SAMPLE 15 DOX. IF BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715869	John R Green Co	No	1 - 12 Count Box	6206	EXPO-80001	08790	\$14.40	\$89,366.40				
067	Marker, dry erase, chisel tip, low odor, 12/box. BLACK.	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #80001 or equal. SAMPLE : 1 box. IF BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715869	School Specialty LLC	No	1 - 12 Count Box	6206	EXPO	80001	\$15.26	\$94,703.56		1333744		
068	Marker, dry erase, fine tip, low odor, 12/box.	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Available colors: black, blue and red. Color will be specified at time of purchase order, Sanford #860XX or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-2013147	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	7756	SANFORD	8600X	\$7.69	\$59,643.64			Awarded	
068	Marker, dry erase, fine tip, low odor, 12/box.	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Available colors: black, blue and red. Color will be specified at time of purchase order, Sanford #860XX or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-2013147	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	7756	SANFORD	86001	\$7.89	\$61,194.84				
068	Marker, dry erase, fine tip, low odor, 12/box.	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Available colors: black, blue and red. Color will be specified at time of purchase order. Sanford #860XX or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-2013147	Complete Printer Source	No	1 - 12 Count Box	7756	Sanford	SAN860XX	\$10.09	\$78,258.04				
068	Marker, dry erase, fine tip, low odor, 12/box.	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Available colors: black, blue and red. Color will be specified at time of purchase order. Sanford #860XX or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-2013147	John R Green Co	No	1 - 12 Count Box	7756	EXPO-86001	08786	\$12.36	\$95,864.16				
068	Marker, dry erase, fine tip, low odor, 12/box.	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Available colors: black, blue and red. Color will be specified at time of purchase order. Sanford #860XX or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-2013147	Cascade School Supplies	No	1 - 12 Count Box	7756	Newell Brands/Expo2	860** CAS0317**	\$12.78	\$99,121.68		Specify Color At Order: 031798 Blue, 031796 Black, 031782 Red		
068	Marker, dry erase, fine tip, low odor, 12/box.	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Available colors: black, blue and red. Color will be specified at time of purchase order, Sanford #860XX or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-2013147	School Specialty LLC	No	1 - 12 Count Box	7756	EXPO	86001	\$13.08	\$101,448.48		1333748		
069	Marker, dry erase, fine tip, low odor. 4 color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86074 or equal. SAMPLE : a box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1677011	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 4 Count Box	2240	SANFORD	86074	\$2.52	\$5,644.80			Awarded	
069	Marker, dry erase, fine tip, low odor. 4 color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86074 or equal. SAMPLE : 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1677011	PYRAMID SCHOOL PRODUCTS	No	1 - 4 Count Box	2240	SANFORD	86074	\$2.69	\$6,025.60				
069	Marker, dry erase, fine tip, low odor. 4 color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86074 or equal. SAMPLE : 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1677011	odp BUSINESS SOLUTIONS, LLC	No	1 - 4 Count Box	2240	NEWELL BRANDS	86674	\$2.97	\$6,652.80	2.97	NEWELL BRANDS		

069	Marker, dry erase, fine tip, low odor. 4 color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86074 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1677011	Complete Printer Source	No	1 - 4 Count Box	2240	Sanford	SAN86074	\$3.09	\$6,921.60				
069	Marker, dry erase, fine tip, low odor. 4 color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (Imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86074 or equal. SAMPLE : 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1677011	Lakeshore Learning Materials, LLC	No	1 - 4 Count Box	2240	LAKESHORE	DD103	\$3.71	\$8,310.40	Please reference "Per Quote #36611" on all purchase orders.	Write & Wipe Thin-Line Markers - Set of 4 Colors TERMS: NET 30		
069	Marker, dry erase, fine tip, low odor. 4 color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86074 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1677011	Cascade School Supplies	No	1 - 4 Count Box	2240	Newell Brands/Expo	86074 CAS150196	\$3.74	\$8,377.60				
069	Marker, dry erase, fine tip, low odor. 4 color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86074 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1677011	John R Green Co	No	1 - 4 Count Box	2240	EXPO-86074	08837	\$3.75	\$8,400.00				
069	Marker, dry erase, fine tip, low odor. 4 color box (black, blue, green and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86074 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1677011	School Specialty LLC	No	1 - 4 Count Box	2240	ЕХРО	86074	\$4.09	\$9,161.60		175139		
070	Marker, dry erase, fine tip, low odor, 12 color set (aqua, black, blue, brown, green, lime, orange, pink, plum, pumpkin, purple and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (Imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86603 or equal. SAMPLE = 1 Dox. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-2013148	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Set	1449	SANFORD	86603	\$8.15	\$11,809.35			Awarded	
070	Marker, dry erase, fine tip, low odor, 12 color set (aqua, black, blue, brown, green, lime, orange, pink, plum, pumpkin, purple and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86603 or equal. SAMPLE = 1 Dox. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-2013148	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Set	1449	SANFORD	86603	\$8.59	\$12,446.91				
070	Marker, dry erase, fine tip, low odor, 12 color set (aqua, black, blue, brown, green, lime, orange, pink, plum, pumpkin, purple and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (Imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86603 or equal. SAMPLE = 1 Dox. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-2013148	odp BUSINESS SOLUTIONS, LLC	No	1 - 12 Count Set	1449	NEWELL BRANDS	86603	\$9.28	\$13,446.72		NEWELL BRANDS		
070	Marker, dry erase, fine tip, low odor, 12 color set (aqua, black, blue, brown, green, lime, orange, pink, plum, pumpkin, purple and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86603 or equal. SAMPLE = 1 Dox. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-2013148	Complete Printer Source	No	1 - 12 Count Set	1449	Sanford	SAN86603	\$9.78	\$14,171.22				
070	Marker, dry erase, fine tip, low odor, 12 color set (aqua, black, blue, brown, green, lime, orange, pink, plum, pumpkin, purple and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (Imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86603 or equal. SAMPLE = 1 Dox. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-2013148	John R Green Co	No	1 - 12 Count Set	1449	EXPO-86603	08919	\$11.92	\$17,272.08				
	(aqua, black, blue, brown, green, lime, orange, pink, plum, pumpkin, purple and red).	Skip free marking, great erasability, quick drying ink. Markers must be labeled 5 dry erase (imprinted on marker). AP Certified, non-toxic conforms to ASTM D4236. Sanford #86603 or equal. SAMPLE = 1 box. IF BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 12 Count Set	1449	ЕХРО	86603	\$13.01	\$18,851.49		389847		
	will not bleed through flip chart paper or presentation board, non-squeak bullet tip, low odor formula, bright vivid color,	box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Materials, LLC		1 - 8 Count Box		LAKESHORE	11336	\$2.78	\$3,007.96	Please reference "Per Quote #36611" on all purchase orders.	Student Pack TERMS: NET 30		Reject - did not submit sample for evaluation.
071	Marker, flip chart, bullet tip, water-based ink formula will not bleed through flip chart paper or presentation board, non-squeak bullet tip, low odor formula, bright vivid color,		690500-2012408	odp BUSINESS SOLUTIONS, LLC	No	1 - 8 Count Box	1082	NEWELL BRANDS	22480	\$4.96	\$5,366.72	4.96	NEWELL BRANDS	Awarded	

071	Marker, flip chart, bullet tip, water-based ink formula will not bleed through flip chart paper or presentation board, non-squeak bullet tip, low odor formula, bright vivid color,	AP Certified non-toxic, 8 markers per box (2 black, 1 blue, 1 brown, 1 green, 1 5500500 magenta, 1 congae and 1 red). Sharpie ISAN22480PD or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2012408	PYRAMID SCHOOL PRODUCTS	No	1 - 8 Count Box	1082	SANFORD	22480PP	\$5.39	\$5,831.98				
071	Marker, flip chart, bullet tip, water-based ink formula will not bleed through flip chart paper or presentation board, non-squeak bullet tip, low odor formula, bright vivid color,	AP Certified non-toxic, 8 markers per box (2 black, 1 blue, 1 brown, 1 green, 1 5690500 magenta, 1 orange and 1 red). Sharpie MSANZ2480PP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2012408	Complete Printer Source	No	1 - 8 Count Box	1082	Sanford	SAN22480PP	\$6.19	\$6,697.58				
071	Marker, flip chart, bullet tip, water-based ink formula will not bleed through flip chart paper or presentation board, non-squeak bullet tip, low oder formula, bright vivid color,	AP Certified non-toxic, 8 markers per box (2 black, 1 blue, 1 brown, 1 green, 1 magenta, 1 orange and 1 red). Sharpie #SANZ2480PP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		NATIONAL ART & SCHOOL SUPPLIES	No	1 - 8 Count Box	1082	SANFORD	22480PP	\$6.36	\$6,881.52				
071	Marker, flip chart, bullet tip, water-based ink formula will not bleed through flip chart paper or presentation board, non-squeak bullet tip, low odor formula, bright vivid color,	AP Certified non-toxic, 8 markers per box (2 black, 1 blue, 1 brown, 1 green, 1 magenta, 1 orange and 1 red). Sharpie #SAN22480PP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2012408	John R Green Co	No	1 - 8 Count Box	1082	SANFORD/SHARPIE- 22480PP	08273	\$7.05	\$7,628.10				
071	Marker, flip chart, bullet tip, water-based ink formula will not bleed through flip chart paper or presentation board, non-squeak bullet tip, low oder formula, bright vivid color,	AP Certified non-toxic, 8 markers per box (2 black, 1 blue, 1 brown, 1 green, 1 magenta, 1 orange and 1 red). Sharpie #SAN22480PP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2012408	Cascade School Supplies	No	1 - 8 Count Box	1082	Newell Brands/Sharpie	22480PP CAS168771	\$7.97	\$8,623.54				
072	Marker, highlighter, retractable, chisel tip, assorted colors (blue, green, pink, orange and yellow).	ACMI approved non-toxic. Sanford #28175PP or equal. SAMPLE = 1 set. IF SBIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2012425	odp BUSINESS SOLUTIONS, LLC	No	1 - 5 Count Box	1363	BIC CORP	BLP51W-AST	\$1.28	\$1,744.64	1.28	BIC CORP		REJECT - did not submit sample for evaluation.
072	Marker, highlighter, retractable, chisel tip, assorted colors (blue, green, pink, orange and yellow).	ACMI approved non-toxic. Sanford #28175PP or equal. SAMPLE = 1 set. IF 5690500 BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2012425	PYRAMID SCHOOL PRODUCTS	No	1 - 5 Count Box	1363	SANFORD	28175PP	\$3.72	\$5,070.36			Awarded	
072	Marker, highlighter, retractable, chisel tip, assorted colors (blue, green, pink, orange and yellow).	ACMI approved non-toxic. Sanford #28175PP or equal. SAMPLE = 1 set. IF SBIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2012425	Complete Printer Source	No	1 - 5 Count Box	1363	Sanford	SAN28175PP	\$4.34	\$5,915.42				
072	Marker, highlighter, retractable, chisel tip, assorted colors (blue, green, pink, orange and yellow).	ACMI approved non-toxic. Sanford #28175PP or equal. SAMPLE = 1 set. IF 5690500 BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		NATIONAL ART & SCHOOL SUPPLIES	No	1 - 5 Count Box	1363	SANFORD	28175PP	\$4.60	\$6,269.80				
072	Marker, highlighter, retractable, chisel tip, assorted colors (blue, green, pink, orange and yellow).	ACMI approved non-toxic. Sanford #28175PP or equal. SAMPLE = 1 set. IF 5690500 BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2012425	John R Green Co	No	1 - 5 Count Box	1363	SANFORD/SHARPIE- 28175PP	08188	\$5.41	\$7,373.83				
072	Marker, highlighter, retractable, chisel tip, assorted colors (blue, green, pink, orange and yellow).	ACMI approved non-toxic. Sanford #28175PP or equal. SAMPLE = 1 set. IF S690500 BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2012425	Cascade School Supplies	No	1 - 5 Count Box	1363	Newell Brands/Sharpie	28175PP CAS037160	\$5.55	\$7,564.65				
072	Marker, highlighter, retractable, chisel tip, assorted colors (blue, green, pink, orange and yellow).	ACMI approved non-toxic. Sanford #28175PP or equal. SAMPLE = 1 set. IF S690500 BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 5 Count Box	1363	SHARPIE	28175PP	\$5.90	\$8,041.70		081764		
073	Marker, highlighter, assorted colors, liquid pen style, chisel tip, visible ink supply, loop feature allows attachment to 3 ring binder, 10/set	(berry, blue, coral, fluorescent green, fluorescent orange, fluorescent pink, fluorescent yellow, indigo, purple and red). Sharpie #SANZ4415PP or equal. SAMPLE 1 set. IF BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2013149	odp BUSINESS SOLUTIONS, LLC	No	1 - 10 Count Set	456	NEWELL BRANDS	24415	\$8.17	\$3,725.52	8.17	NEWELL BRANDS	Awarded	

073	Marker, highlighter, assorted colors, liquid pen style, chisel tip, sisble ink supply, loop feature allows attachment to 3 ring binder, 10/set	(berry, blue, coral, fluorescent green, fluorescent orange, fluorescent pink, fluorescent yellow, indigo, punjed and red!). Sharije ESAN24415PP or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2013149	Complete Printer Source	No	1 - 10 Count Set	456	Sanford	SAN24415PP	\$8.68	\$3,958.08			
073	Marker, highlighter, assorted colors, liquid pen style,	(berry, blue, coral, fluorescent green, fluorescent orange, fluorescent pink, 569050	00-2013149	PYRAMID SCHOOL	No	1 - 10 Count	456	SANFORD	24415PP	\$8.69	\$3,962.64			
0/3	chisel tip, ringing intel, associated colors, one feature allows chisel tip, ribble ink supply, loop feature allows attachment to 3 ring binder, 10/set	The Approved Product, No Sample is Required. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2013149	PRODUCTS	No	Set	450	SANIOND	24423FF	38.03	\$3,302.04			
073	Marker, highlighter, assorted colors, liquid pen style, chisel tip, visible ink supply, loop feature allows attachment to 3 ring binder, 10/set	(berry, blue, coral, fluorescent green, fluorescent orange, fluorescent pink, fluorescent yellow, indigo, purple and red. Sharpie #SANZ4415PP or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2013149	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 10 Count Set	456	SANFORD	24415PP	\$8.95	\$4,081.20			
073	Marker, highlighter, assorted colors, liquid pen style, chisel tip, visible ink supply, loop feature allows attachment to 3 ring binder, 10/set	(berry, blue, coral, fluorescent green, fluorescent orange, fluorescent pink, fluorescent yellow, indigo, purple and red). Sharpie #SAN24415PP or equal. SAMME = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2013149	John R Green Co	No	1 - 10 Count Set	456	SANFORD/SHARPIE- 24415PP	09502	\$10.61	\$4,838.16			
073	Marker, highlighter, assorted colors, liquid pen style,		00-2013149	School Specialty LLC	No	1 - 10 Count	456	SHARPIE	24415PP	\$11.57	\$5,275.92	 409254		
	chisel tip, visible ink supply, loop feature allows attachment to 3 ring binder, 10/set	fluorescent yellow, indigo, purple and red). Sharpie #SAN24415PP or equal. SAMPLE 1 = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Set								
073	Marker, highlighter, assorted colors, liquid pen style, chiest lip, visible ink supply, loop feature allows attachment to 3 ring binder, 10/set	(berry, blue, coral, fluorescent green, fluorescent orange, fluorescent pink, fluorescent yellow, indigo, punple and red). Sharple ESAN24415PP or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2013149	Cascade School Supplies	No	1 - 10 Count Set	456	Newell Brands/Sharpie	24415PP CAS027306	\$12.34	\$5,627.04			
074	Marker, highlighter, tank style, chisel tip, 6/box,	assorted colors (blue, purple, fluorescent: green, orange, pink and yellow) with Smear Guard. School Smart #1354258 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2012779	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 6 Count Box	1704	EXTRIC	10713	\$1.98	\$3,373.92			REJECT - sample submitted is not equal, does not have purple.
074	Marker, highlighter, tank style, chisel tip, 6/box,	assorted colors (blue, purple, fluorescent: green, orange, pink and yellow) with Smear Guard. School Smart #1354258 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2012779	School Specialty LLC	No	1 - 6 Count Box	1704	SCHOOL SMART	1354258	\$2.05	\$3,493.20	1354258	Awarded	
074	Marker, highlighter, tank style, chisel tip, 6/box,	assorted colors (blue, purple, fluorescent: green, orange, pink and yellow) with Smear Guard. School Smart #1354258 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2012779	John R Green Co	No	1 - 6 Count Box	1704	LIQUI-MARK-56007	08539	\$2.23	\$3,799.92	DIFFERENT BRAND		
074	Marker, highlighter, tank style, chisel tip, 6/box,	assorted colors (blue, purple, fluorescent: green, orange, pink and yellow) with Smear Guard. School Smart #1354258 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2012779	PYRAMID SCHOOL PRODUCTS	No	1 - 6 Count Box	1704	LIQUIMARK	56007	\$2.29	\$3,902.16			
074	Marker, highlighter, tank style, chisel tip, 6/box,	assorted colors (blue, purple, fluorescent: green, orange, pink and yellow) with Smear Guard. School Smart #1354258 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2012779	Cascade School Supplies	No	1 - 6 Count Box	1704	Liqui-Mark	16006 CAS024583	\$2.35	\$4,004.40	Liqui-Mark 16006 Pocket		
074	Marker, highlighter, tank style, chisel tip, 6/box,	assorted colors (blue, purple, fluorescent: green, orange, pink and yellow) with Smear Guard. School Smart #1354258 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source	No	1 - 6 Count Box		Sanford	SAN25876PP	\$2.89	\$4,924.56			
075	Marker, highlighter, tank style, chisel tip, yellow with Smear Guard, 12/box.	Sanford Sharpie #25005 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00-2012780	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	402	SANFORD	25005	\$4.68	\$1,881.36		Awarded	

075	Marker, highlighter, tank style, chisel tip, yellow with Smear Guard, 12/box.	Sanford Sharple #25005 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-2012780	Complete Printer Source	No	1 - 12 Count Box	402	Sanford	SAN25005	\$5.59	\$2,247.18				
075	Marker, highlighter, tank style, chisel tip, yellow with Smear Guard, 12/box.	Sanford Sharple #25005 or equal. IF BIDDING THE APPROVED PRODUCT, NO 5	6690500-2012780	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	402	SANFORD SHARPIE	25005	\$5.62	\$2,259.24				
075	Marker, highlighter, tank style, chisel tip, yellow with Smear Guard, 12/box.	Sanford Sharple #25005 or equal. IF BIDDING THE APPROVED PRODUCT, NO 5 SAMPLE IS REQUIRED.	6690500-2012780	John R Green Co	No	1 - 12 Count Box	402	SANDFORD/SHARPI E-25005	57610	\$6.36	\$2,556.72				
075	Marker, highlighter, tank style, chisel tip, yellow with Smear Guard, 12/box.	Sanford Sharpie #25005 or equal. IF BIDDING THE APPROVED PRODUCT, NO 5 SAMPLE IS REQUIRED.	6690500-2012780	School Specialty LLC	No	1 - 12 Count Box	402	SHARPIE	25005	\$7.20	\$2,894.40		077281		
075	Marker, highlighter, tank style, chisel tip, yellow with Smear Guard, 12/box.	Sanford Sharpie #25005 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	6690500-2012780	Cascade School Supplies	No	1 - 12 Count Box	402	Newell brands	25005 CAS023578	\$7.87	\$3,163.74				
076	Marker, permanent, chisel tip, 5.3 mm wide. BLACK.	Makes a broad or fine line on most surfaces. The ink is permanent on most 5 surfaces, quick drying and is fade and water resistant. Oval barrel will not roll on flat surfaces. ACML AP Certified 12/box. Sanford Sharple 83201 or equal. SAMPLE = 2 markers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	6690500-1715868	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	835	EXTRIC	425-BK	\$6.58	\$5,494.30				REJECT - sample submitted is not equal, does not have oval barrel.
076	Marker, permanent, chisel tip, 5.3 mm wide. BLACK.	Makes a broad or fine line on most surfaces. The ink is permanent on most 5 surfaces, quick drying and is fade and water resistant. Oval barrel will not roll on flat surfaces. ACML AP Certified 1.2/plox. Sanford Sharpie 83201 or equal. SAMPLE = 2 markers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	6690500-1715868	odp BUSINESS SOLUTIONS, LLC	No	1 - 12 Count Box	835	NEWELL BRANDS	38201	\$7.40	\$6,179.00	7.4	NEWELL BRANDS	Awarded	
076	Marker, permanent, chisel tip, 5.3 mm wide. BLACK.	Makes a broad or fine line on most surfaces. The ink is permanent on most 5 surfaces, guick drying and is fade and water resistant. Oval barrel will not roll on flat surfaces. ACML AP Certified. 12/box. Sanford Sharpie 83201 or equal. SAMPLE = 2 markers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1715868	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	835	SANFORD	38201	\$8.49	\$7,089.15				
076	Marker, permanent, chisel tip, 5.3 mm wide. BLACK.	Makes a broad or fine line on most surfaces. The ink is permanent on most 5 surfaces, quick drying and is fade and water resistant. Oval barrel will not roll on flat surfaces. ACML AP Certified 1.2/plox. Sanford Sharpie 83201 or equal. SAMPLE = 2 markers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	6690500-1715868	Complete Printer Source	No	1 - 12 Count Box	835	Sanford	SAN38201	\$8.99	\$7,506.65				
076	Marker, permanent, chisel tip, 5.3 mm wide. BLACK.	Makes a broad or fine line on most surfaces. The ink is permanent on most 5 surfaces, quick drying and is fade and water resistant. Oval barrel will not roll on flat surfaces. ACML AP Certified. 12/plox. Sanford Sharpie 83201 or equal. SAMPLE = 2 markers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	6690500-1715868	John R Green Co	No	1 - 12 Count Box	835	SANFORD/SHARPIE- 38201	08712	\$10.20	\$8,517.00				
076	Marker, permanent, chisel tip, 5.3 mm wide. BLACK.	Makes a broad or fine line on most surfaces. The ink is permanent on most 5 surfaces, quick drying and is fade and water resistant. Oval barrel will not roll on flat surfaces. ACML AP Certificial 12/box. Sanford Sharple 83201 or equal. SAMPLE = 2 markers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	6690500-1715868	School Specialty LLC	No	1 - 12 Count Box	835	SHARPIE	38201	\$10.80	\$9,018.00		1333733		
076	Marker, permanent, chisel tip, 5.3 mm wide. BLACK.	Makes a broad or fine line on most surfaces. The ink is permanent on most surfaces, quick drying and is fade and water resistant. Oval barrel will not roll on flat surfaces. ACMI AP Certified. 12/box. Sanford Sharple #38201 or equal. SAMPLE = 2 markers. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	6690500-1715868	Cascade School Supplies	No	1 - 12 Count Box	835	Newell Brands/Sharpie	38201 CAS031835	\$11.80	\$9,853.00				
077	Marker, permanent, chisel tip, 8-color box.	The ink is waterproof, smear proof and fade resistant, anti-roll body design. ACMI AP Certified non-toxic. Colors: black, blue, green, lime, orange, purple, red and turquoise. Sanford Sharpie #38250PP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	690500-1707283	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 8 Count Box	1048	EXTRIC	425-8	\$4.80	\$5,030.40				Reject - did not submit sample for evaluation.

077	Marker, permanent, chisel tip, 8-color box.	The link is waterproof, smear proof and flade resistant, anti-roll body design. ACMI AP Certified non-toxic. Color: Slack, blue, green, lime, orange, put- ged and turquoise. Sanford Sharpie R88250PP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707283	odp BUSINESS SOLUTIONS, LLC	No	1 - 8 Count Box	1048	NEWELL BRANDS	38250	\$5.04	\$5,281.92	5.04	NEWELL BRANDS	Awarded
077	Marker, permanent, chisel tip, 8-color box.	The ink is waterproof, smear proof and fade resistant, anti-roll body design. ACMI AP Certified non-toxic. Colors: black, blue, green, lime, carage, purple, red and turquoise. Sanford Sharpie #38250PP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707283	PYRAMID SCHOOL PRODUCTS	No	1 - 8 Count Box	1048	SANFORD SHARPIE	38250PP	\$5.69	\$5,963.12			
077	Marker, permanent, chisel tip, 8-color box.	The ink is waterproof, smear proof and fade resistant, anti-roll body design. ACMI AP Certified non-toxic. Colors: black, blue, green, lime, orange, purple, red and turquoise. Sanford Sharpie #82350PP or equal. SAMPLE 1 blox. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707283	Complete Printer Source	No	1 - 8 Count Box	1048	Sanford	SAN38250PP	\$5.89	\$6,172.72			
077	Marker, permanent, chisel tip, 8-color box.	The ink is waterproof, smear proof and fade resistant, anti-roll body design. ACMI AP Certified non-toxic. Colors: black, blue, green, lime, orange, purple, red and turquoise. Sanford Sharpie #83250PP or equil. SAMPLE 1 blox. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707283	John R Green Co	No	1 - 8 Count Box	1048	SANFORD/SHARPIE- 38250PP	08133	\$6.72	\$7,042.56			
077	Marker, permanent, chisel tip, 8-color box.	The ink is waterproof, smear proof and fade resistant, anti-roll body design. ACM AP Certified non-toxic. Colors: black, blue, green, lime, orange, purple, red and turquoise. Sanford Sharpie #83250PP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707283	School Specialty LLC	No	1 - 8 Count Box	1048	SHARPIE	38250	\$7.14	\$7,482.72		402353	
077	Marker, permanent, chisel tip, 8-color box.	The ink is waterproof, smear proof and fade resistant, anti-roll body design. ACM AP Certified non-toxic. Colors: black, blue, green, lime, orange, purple, red and turquoise. Sanford Sharpie #83250PP or equal. SAMPLE 1 blox. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707283	Lakeshore Learning Materials, LLC	No	1 - 8 Count Box	1048	LAKESHORE	DD188	\$7.43	\$7,786.64	Please reference "Per Quote #36611" on all purchase orders.	Permanent Thin-Line Markers - Set of 8 Colors TERMS: NET 30	
077	Marker, permanent, chisel tip, 8-color box.	The ink is waterproof, smear proof and fade resistant, anti-roll body design. ACMI AP Certified non-toxic. Colors: black, blue, green, lime, orange, purple, red and turquoise. Sanford Sharpie #38250PP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707283	Cascade School Supplies	No	1 - 8 Count Box	1048	Newell Brands/Sharpie	38250PP CAS036790	\$7.81	\$8,184.88			
078	Marker, permanent, ultra fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick dying and is fade and water resistant. AP Certified, non-toxic. 12/box. Sanford Sharpie #37001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-2012781	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	676	SANFORD SHARPIE	37001	\$6.88	\$4,650.88			Awarded
078	Marker, permanent, ultra fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic. 12/box. Sanford Sharpie #37001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-2012781	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	676	SANFORD SHARPIE	37001	\$6.95	\$4,698.20			
078	Marker, permanent, ultra fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic. 12/box. Sanford Sharpie #37001 or equal. IF BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Complete Printer Source	No	1 - 12 Count Box	676	Sanford	SAN37001	\$7.79	\$5,266.04			
078	Marker, permanent, ultra fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic. 12/box. Sanford Sharpie #37001 or equal. IF BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 12 Count Box	676	37001		\$10.32				
078	Marker, permanent, ultra fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic. 12/box. Sanford Sharpie #37001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 12 Count Box	676	SHARPIE	37001	\$10.63	\$7,185.88		077415	
078	Marker, permanent, ultra fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic. 12/box. Sanford Sharpie #37001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-2012781	Cascade School Supplies	No	1 - 12 Count Box	676	Newell Brands/Sharpie	37001 CAS023581	\$11.62	\$7,855.12			

079	Marker, permanent, fine point, 8-color box. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic.	Colors: black, blue, brown, green, orange, pumple, red and yellow. Sanford Sharpie #30078 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715872	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 8 Count Box	625	SANFORD SHARPIE	30078	\$4.27	\$2,668.75			Awarded	
079		Sharpie #30078 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PYRAMID SCHOOL PRODUCTS	No	1 - 8 Count Box	625	SANFORD SHARPIE	30078	\$4.89	\$3,056.25				
079	Marker, permanent, fine point, 8-color box. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic.	Colors: black, blue, brown, green, orange, purple, red and yellow. Sanford Sharpie #30078 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715872	Complete Printer Source	No	1 - 8 Count Box	625	Sanford	SAN30078	\$5.29	\$3,306.25				
079	Marker, permanent, fine point, 8-color box. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic.	Colors: black, blue, brown, green, orange, purple, red and yellow. Sanford Sharpie #30078 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715872	John R Green Co	No	1 - 8 Count Box	625	SANFORD/SHARPIE- 30078	08179	\$6.65	\$4,156.25				
079	Marker, permanent, fine point, 8-color box. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic.	Colors: black, blue, brown, green, orange, purple, red and yellow. Sanford Sharpie #30078 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715872	School Specialty LLC	No	1 - 8 Count Box	625	SHARPIE	30078	\$6.91	\$4,318.75		002133		
079	Marker, permanent, fine point, 8-color box. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic.	Colors: black, blue, brown, green, orange, purple, red and yellow. Sanford Sharpie #30078 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715872	Lakeshore Learning Materials, LLC	No	1 - 8 Count Box	625	LAKESHORE	DD188	\$7.43	\$4,643.75	Please reference "Per Quote #36611" on all purchase orders.	Permanent Thin-Line Markers - Set of 8 Colors TERMS: NET 30		
079	Marker, permanent, fine point, 8-color box. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic.	Colors: black, blue, brown, green, orange, purple, red and yellow. Sanford Sharpie #30078 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715872	Cascade School Supplies	No	1 - 8 Count Box	625	Newell Brands/Sharpie	30078 CAS168917	\$7.55	\$4,718.75				
080	Marker, permanent, fine point, 24 color set. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP certified, non-toxic.	Colors: almond, aqua, berry, black, blue, boysenberry, brown, green, illac, lime, magenta, mint, navy, orange, peach, pink, pink lemonade, purple, red, sky blue, sale gray, tangerine, turquoise blue and yellow. Sanford Sharpie #75846 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707284	odp BUSINESS SOLUTIONS, LLC	No	1 - 24 Count Set	691	NEWELL BRANDS	75846	\$13.63	\$9,418.33	13.63	NEWELL BRANDS	Awarded	
080	Marker, permanent, fine point, 24 color set. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP certified, non-toxic.	lime, magenta, mint, navy, orange, peach, pink, pink lemonade, purple, red, sky blue, sale gray, tangerine, turquoise blue and yellow. Sanford Sharpie #75846 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707284	SCHOOL SUPPLIES	No	1 - 24 Count Set		SANFORD SHARPIE	75846	\$13.94	\$9,632.54				
080	Marker, permanent, fine point, 24 color set. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP certified, non-toxic.	lime, magenta, mint, navy, orange, peach, pink, pink lemonade, purple, red, sky blue, sale gray, tangerine, turquoise blue and yellow. Sanford Sharpie #75846 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PYRAMID SCHOOL PRODUCTS		1 - 24 Count Set		SANFORD SHARPIE	75846	\$13.95	\$9,639.45				
	permanent on most surfaces, quick drying and is fade and water resistant. AP certified, non-toxic.	Colors: almond, aqua, berry, black, blue, boysenberry, brown, green, iliac, lime, magenta, mint, navy, orange, peach, pink, pink lemonade, purple, red, sky blue, slate gray, tangerine, turquoise blue and yellow. Sanford Sharpie #75846 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		1 - 24 Count Set		Sanford	SAN75846	\$14.99					
	Marker, permanent, fine point, 24 color set. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP certified, non-toxic.	lime, magenta, mint, navy, orange, peach, pink, pink lemonade, purple, red, sky blue, stade gray, tangerine, turquoise blue and yellow. Sanford Sharpie #75846 or equal. If BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Set		75846			\$13,274.11				
080	Marker, permanent, fine point, 24 color set. The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP certified, non-toxic.	Colors: almond, aqua, berry, black, blue, boysenberry, brown, green, iliac, lime, magenta, mint, navy, orange, peach, pink, pink lemonade, purple, red, sky blue, slate gray, tangerine, turquoise blue and yellow. Sanford Sharpie #75846 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707284	School Specialty LLC	No	1 - 24 Count Set	691	SHARPIE	75846	\$20.45	\$14,130.95		079673		

080	Marker, permanent, fine point, 24 color set. The ink is permanent on most surfaces, poick drying and is fade and water resistant. AP certified, non-toxic.	Colors: almond, agua, berry, black, blue, boysenberry, brown, green, illac, lime, magenta, mint, nay, orange, peach, plink, pink lemonade, purple, red, sky blue, slate gray, tangerine, turquoise blue and yellow. Sanford Sharpie #75846 or cgual. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1707284	Cascade School Supplies	No	1 - 24 Count Set	691	Newell Brands/Sharpie	1949557 CAS028753	\$22.35	\$15,443.85				
081	Marker, permanent, fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water	5690500-1715873	NATIONAL ART &	No	1 - 12 Count	2174	SANFORD SHARPIE	30001	\$6.30	\$13,696.20				
		resistant. AP Certified, non-toxic. Sanford Sharple #30001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES		Box								Awarded	
081	Marker, permanent, fine point, BLACK, original Sharple.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toks. Sanford Shapie #800001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715873	odp BUSINESS SOLUTIONS, LLC	No	1 - 12 Count Box	2174	NEWELL BRANDS	30001	\$6.65	\$14,457.10	6.65	NEWELL BRANDS		
081	Marker, permanent, fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic. Sanford Sharpie #30001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715873	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	2174	SANFORD SHARPIE	30001	\$6.95	\$15,109.30				
081	Marker, permanent, fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic. Sanford Sharpie #30001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715873	Complete Printer Source	No	1 - 12 Count Box	2174	Sanford	SAN30001	\$7.99	\$17,370.26				
081	Marker, permanent, fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic. Sanford Sharple #30001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715873	John R Green Co	No	1 - 12 Count Box	2174	SANFORD/SHARPIE- 30001	08501	\$10.32	\$22,435.68				
081	Marker, permanent, fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic. Sanford Sharpie #30001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715873	School Specialty LLC	No	1 - 12 Count Box	2174	SHARPIE	30001	\$10.63	\$23,109.62		077399		
081	Marker, permanent, fine point, BLACK, original Sharpie.	The ink is permanent on most surfaces, quick drying and is fade and water resistant. AP Certified, non-toxic. Sanford Sharple #30001 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1715873	Cascade School Supplies	No	1 - 12 Count Box	2174	Newell Brands/Sharpie	30001 CAS015854	\$11.62	\$25,261.88				
082	Notebook, composition, college ruled, 9 3/4" x 7 1/2",	Tops #63796 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED	5690560-2011731		No	1 - 100	18927	TEAMADE	TM230804	\$0.00	\$0.00	0	TEAMADE INTERNATIONAL INC		REJECT- did not submit sample for evaluation.
	wireless sewn binding, black/white marble cover, 100 sheets.	PRODUCT, NO SAMPLE IS REQUIRED.		SOLUTIONS, LLC		Sheet Book		INTERNATIONAL INC							
082	Notebook, composition, college ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops #63796 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011731	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Sheet Book	18927	PYRAMID	1715143	\$1.20	\$22,712.40				REJECT- did not submit sample for evaluation.
082	Notebook, composition, college ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops #63796 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011731	Cascade School Supplies	No	1 - 100 Sheet Book	18927	Dixon Ticonderoga	37106 CAS033473	\$1.35	\$25,551.45		Dixon Ticonderoga 37106		REJECT- did not submit sample for evaluation.
082	Notebook, composition, college ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops:#63796 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011731	John R Green Co	No	1 - 100 Sheet Book	18927	TOPS-63796	63796	\$1.73	\$32,743.71			Awarded	
082	Notebook, composition, college ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops #63796 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011731	Complete Printer Source	No	1 - 100 Sheet Book	18927	TOPS	TOP63796	\$1.89	\$35,772.03				

082	Notebook, composition, college ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops #63796 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011731	School Specialty LLC	No	1 - 100 Sheet Book	18927	ROARING SPRINGS	77264	\$2.10	\$39,746.70		2003141		
083	Notebook, composition, quad ruled, 9 3/4" x 7 1/2", wireless sewn binding, extra hard cover, black/white marble cover, 100 sheets.	Pacon #MMK37103 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2012097	odp BUSINESS SOLUTIONS, LLC	No	1 - 100 Sheet Book	4917	CHANGJIANG PAPER HK IND LTD	CJV2003	\$0.63	\$3,097.71	0.63	CHANGJIANG PAPER HK IND LTD		REJECT- did not submit sample for evaluation.
083	Notebook, composition, quad ruled, 9 3/4" x 7 1/2", wireless sewn binding, extra hard cover, black/white marble cover, 100 sheets.	Pacon #MMK37103 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2012097	Complete Printer Source	No	1 - 100 Sheet Book	4917	Pacon	PACMMK37103	\$1.49	\$7,326.33			Awarded	
083	Notebook, composition, quad ruled, 9.3/4" x 7.1/2", wireless sewn binding, extra hard cover, black/white marble cover, 100 sheets.	Pacon #MMK37103 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2012097	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Sheet Book	4917	PACON	MMK37103	\$1.69	\$8,309.73				
083	Notebook, composition, quad ruled, 9 3/4" x 7 1/2", wireless sewn binding, extra hard cover, black/white marble cover, 100 sheets.	Pacon #MMK37103 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2012097	School Specialty LLC	No	1 - 100 Sheet Book	4917	PACON	37103	\$1.99	\$9,784.83		1603757		
083	Notebook, composition, quad ruled, 9 3/4" x 7 1/2", wireless sewn binding, extra hard cover, black/white marble cover, 100 sheets.	Pacon #MMK37103 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2012097	Cascade School Supplies	No	1 - 100 Sheet Book	4917	Roaring Springs	77255 CAS029386	\$2.85	\$14,013.45		Roaring Springs 77255		
083	Notebook, composition, quad ruled, 9 3/4" x 7 1/2", wireless sewn binding, extra hard cover, black/white marble cover, 100 sheets.	Pacon #MMK37103 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2012097	John R Green Co	No	1 - 100 Sheet Book	4917	PACON- PMMK37103	04019	\$3.59	\$17,652.03				
084	Notebook, composition, wide ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops #63795 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011732	odp BUSINESS SOLUTIONS, LLC	No	1 - 100 Sheet Book	39980	TEAMADE INTERNATIONAL INC	TM230803	\$0.66	\$26,386.80	0.66	TEAMADE INTERNATIONAL INC		REJECT- did not submit sample for evaluation.
084	Notebook, composition, wide ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops #63795 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011732	Cascade School Supplies	No	1 - 100 Sheet Book	39980	Cascade Brand	033470	\$0.79	\$31,584.20		Cascade Brand 033470		REJECT- did not submit sample for evaluation.
084	Notebook, composition, wide ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops #63795 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011732	School Specialty LLC	No	1 - 100 Sheet Book	39980	SCHOOL SMART	026029	\$1.18	\$47,176.40		026029	Awarded	
084	Notebook, composition, wide ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops #63795 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011732	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Sheet Book	39980	PYRAMID	1715176	\$1.19	\$47,576.20				
084	Notebook, composition, wide ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops #63795 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011732	John R Green Co	No	1 - 100 Sheet Book	39980	TOPS-63795	63795	\$1.73	\$69,165.40				
084	Notebook, composition, wide ruled, 9 3/4" x 7 1/2", wireless sewn binding, black/white marble cover, 100 sheets.	Tops #63795 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2011732	Complete Printer Source	No	1 - 100 Sheet Book	39980	TOPS	TOP63795	\$1.89	\$75,562.20				

084	Notebook, composition, wide ruled, 9 3/4" x 7 1/2",	Tops #63795 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED	E600E60 2011777	Lakeshore Learning	No	1 - 100	39980	Sargent	FG445	\$2.78	\$111,144.40	Please reference "Der Ouete	Classic Composition Book TERMS:		
064	wireless sewn binding, black/white marble cover, 100 sheets.	PRODUCT, NO SAMPLE IS REQUIRED.	3090300-2011/32	Materials, LLC	NO	Sheet Book	39960	Sargent	FG445	\$2.76	\$111,144.40	#36611" on all purchase orders.	NET 30		
085	Notebook, composition primary journal, firm sewn binding blank space for drawing, primary ruled lines, 9 3/4" x 7 1/2", 100 sheets.	Pacon Mead #09554 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	4600515-2013898	odp BUSINESS SOLUTIONS, LLC	No	1 - 100 Sheet Book	14328	TEAMADE INTERNATIONAL INC	TM230805	\$0.66	\$9,456.48	0.66	TEAMADE INTERNATIONAL INC		REJECT- did not submit sample for evaluation.
	5/4 X / 1/2 , 100 Sileets.							IIVC							
085	Notebook, composition primary journal, firm sewn binding blank space for drawing, primary ruled lines, 9	Pacon Mead #09554 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	4600515-2013898	School Specialty LLC	No	1 - 100 Sheet Book	14328	PACON	2426	\$2.18	\$31,235.04		1398068		
	3/4" x 7 1/2", 100 sheets.													Awarded	
085	Notebook, composition primary journal, firm sewn binding blank space for drawing, primary ruled lines, 9 3/4" x 7 1/2", 100 sheets.	Pacon Mead #09554 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	4600515-2013898	Cascade School Supplies	No	1 - 100 Sheet Book	14328	Roaring Springs	97228 CAS030604	\$2.42	\$34,673.76		Roaring Springs 97228		
	3/4 X / 1/2 , 100 sireets.														
085	Notebook, composition primary journal, firm sewn binding blank space for drawing, primary ruled lines, 9 3/4" x 7 1/2", 100 sheets.	Pacon Mead #09554 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	4600515-2013898	Lakeshore Learning Materials, LLC	No	1 - 100 Sheet Book	14328	Sargent	FG445	\$2.78	\$39,831.84	Please reference "Per Quote #36611" on all purchase orders.	Classic Composition Book TERMS: NET 30		
	3/4 * / 2/2 , 100 310003.											orders.			
085	Notebook, composition primary journal, firm sewn binding blank space for drawing, primary ruled lines, 9	Pacon Mead #09554 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	4600515-2013898	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Sheet Book	14328	MEAD	09554	\$2.95	\$42,267.60				
	3/4" x 7 1/2", 100 sheets.														
085	Notebook, composition primary journal, firm sewn binding blank space for drawing, primary ruled lines, 9	Pacon Mead #09554 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	4600515-2013898	Complete Printer Source	No	1 - 100 Sheet Book	14328	Mead	MEA09554	\$2.99	\$42,840.72				
	3/4" x 7 1/2", 100 sheets.														
085	Notebook, composition primary journal, firm sewn binding blank space for drawing, primary ruled lines, 9 3/4" x 7 1/2", 100 sheets.	Pacon Mead #09554 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	4600515-2013898	John R Green Co	No	1 - 100 Sheet Book	14328	MEAD-09554	01469	\$4.64	\$66,481.92				
	5/4 X / 1/2 , 100 Sileets.														
086	Notebook, spiral, 10 1/2" x 8", side binding, college	3 hole punched, one subject, snag proof wire, sheet perforation for easy clean	5690560-2002135	odp BUSINESS	No	1 - 70 Sheet	18117	CHANGJIANG PAPER	CJV202212	\$0.57	\$10,326.69	0.57	CHANGJIANG PAPER HK IND LTD		REJECT- did not submit sample for evaluation.
080	ruled, 70 sheets,	removal. Tops #65021 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	3030300-2002133	SOLUTIONS, LLC	140	Book	10117	HK IND LTD	GVZ0ZZIZ	30.37	\$10,320.09	0.37	CHANGIANG PAPENTIK ING ETD		REFER GO INCLUDING SAITIPLE OF EVALUATION.
086	Notebook, spiral, 10 1/2" x 8", side binding, college ruled, 70 sheets,	3 hole punched, one subject, snag proof wire, sheet perforation for easy clean removal. Tops #65021 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2002135	Cascade School Supplies	No	1 - 70 Sheet Book	18117	Cascade Brand	032274	\$0.79	\$14,312.43		Cascade Brand 032274		REJECT- did not submit sample for evaluation.
086	Notebook, spiral, 10 1/2" x 8", side binding, college ruled, 70 sheets,	3 hole punched, one subject, snag proof wire, sheet perforation for easy clean removal. Tops #65021 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2002135	School Specialty LLC	No	1 - 70 Sheet Book	18117	SCHOOL SMART	085420	\$0.99	\$17,935.83		085420		REJECT - sample submitted is not equal, does not have sheet perforation.
		, , , , , , , , , , , , , , , , , , , ,													
086	Notebook, spiral, 10 1/2" x 8", side binding, college	3 hole punched, one subject, snag proof wire, sheet perforation for easy clean	5690560-2002135		No	1 - 70 Sheet	18117	TOPS	65022	\$1.14	\$20,653.38				
	ruled, 70 sheets,	removal. Tops #65021 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		Book								Awarded	
086		3 hole punched, one subject, snag proof wire, sheet perforation for easy clean	5690560-2002135	John R Green Co	No		18117	ISCHOLAR-78102	01465	\$1.28	\$23,189.76		DIFFERENT BRAND		
	ruled, 70 sheets,	removal. Tops #65021 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Book									

086	Notebook, spiral, 10 1/2" x 8", side binding, college	3 hole punched, one subject, snag proof wire, sheet perforation for easy clean	5690560-2002135	Complete Printer	No	1 - 70 Sheet	18117	TOPS	TOP65021	\$1.42	\$25,726.14				
	ruled, 70 sheets,	removal. Tops #65021 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Book				,	,,				
086	Notebook, spiral, 10 1/2" x 8", side binding, college ruled, 70 sheets,	3 hole punched, one subject, snag proof wire, sheet perforation for easy clean removal. Tops #65021 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-2002135	Lakeshore Learning Materials, LLC	No	1 - 70 Sheet Book	18117	Sargent	FG465	\$2.78	\$50,365.26	Please reference "Per Quote #36611" on all purchase orders.	Classic Primary Composition Book TERMS: NET 30		
087	Notebook, spiral, 10 1/2" x 8", side binding, wide ruled, 70 sheets, 3 hole punched, one subject, snag proof wire, sheet perforation for easy clean removal.	Tops #65000 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1715876	Cascade School Supplies	No	1 - 70 Sheet Book	35485	Cascade Brand	030608	\$0.82	\$29,097.70		Cascade Brand 030608		REJECT - did not submit sample for evaluation.
087	Notebook, spiral, 10 1/2" x 8", side binding, wide ruled, 70 sheets, 3 hole punched, one subject, snag proof wire, sheet perforation for easy clean removal.	Tops #65000 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 70 Sheet Book		ROARING SPRINGS	77070	\$0.96	\$34,065.60		2088359	Awarded	
087	Notebook, spiral, 10 1/2" x 8", side binding, wide ruled, 70 sheets, 3 hole punched, one subject, snag proof wire, sheet perforation for easy clean removal.	Tops #65000 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1715876	John R Green Co	No	1 - 70 Sheet Book	35485	KURTZ BROS-78101	01125	\$1.06	\$37,614.10		DIFFERENT BRAND		
087	Notebook, spiral, 10 1/2" x 8", side binding, wide ruled, 70 sheets, 3 hole punched, one subject, snag proof wire, sheet perforation for easy clean removal.	Tops #65000 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1715876	PYRAMID SCHOOL PRODUCTS	No	1 - 70 Sheet Book	35485	TOPS	65002	\$1.14	\$40,452.90				
087	Notebook, spiral, 10 1/2" x 8", side binding, wide ruled, 70 sheets, 3 hole punched, one subject, snag proof wire, sheet perforation for easy clean removal.	Tops #65000 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1715876	Complete Printer Source	No	1 - 70 Sheet Book	35485	TOPS	TOP65000	\$1.39	\$49,324.15				
088	Notebook, spiral, top wirebound, 3" x 5", 15-lb. bond paper, white, narrow ruled. 50 sheets/notebook, 12 notebooks/pkg. Snag-proof wire, sturdy covers in assorted colors.	Tops:#8050 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1103040	Cascade School Supplies	No	12 - 50 Sheet Books	157	Cascade Brand	036738	\$8.51	\$1,336.07		Cascade Brand 036738		REJECT - did not submit sample for evaluation.
088	Notebook, spiral, top wirebound, 3" x 5", 15-lb. bond paper, white, narrow ruled. 50 sheets/notebook, 12 notebooks/pkg. Snag-proof wire, sturdy covers in assorted colors.	Tops #8050 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1103040	School Specialty LLC	No	12 - 50 Sheet Books	157	SCHOOL SMART	085209	\$11.16	\$1,752.12	PRICED AS PK/12, SOLD AS EACH. MFG CASE 72	085209		REJECT - does not provide assorted colors requested per bid specifications.
088	Notebook, spiral, top wirebound, 3" x 5", 15-lb. bond paper, white, narrow ruled. 50 sheets/notebook, 12 notebooks/pkg. Snag-proof wire, sturdy covers in assorted colors.	Tops #8050 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1103040	John R Green Co	No	12 - 50 Sheet Books	157	ROARING SPRING- 14016	57557	\$11.64	\$1,827.48		DIFFERENT BRAND	Awarded	
089	rule, green, minimum 80-sheet count, spiral binding, ruled with red center line.	Universal #86920 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		SOLUTIONS, LLC	No	1 - 80 Sheet Book	4090	TOPS PRODUCTS LLC	8021EA	\$0.00	\$0.00	0	TOPS PRODUCTS LLC		REJECT - did not submit sample for evaluation.
089	Notebook, stenographic, 6" x 9", 16-lb. paper, gregg rule, green, minimum 80-sheet count, spiral binding, ruled with red center line.	Universal #86920 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1097405	Complete Printer Source	No	1 - 80 Sheet Book	4090	Universal	UNV86920	\$0.79	\$3,231.10			Awarded	
089	Notebook, stenographic, 6" x 9", 16-lb. paper, gregg rule, green, minimum 80-sheet count, spiral binding, ruled with red center line.	Universal #86920 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1097405	Cascade School Supplies	No	1 - 80 Sheet Book	4090	Cascade Brand	110466	\$0.84	\$3,435.60		Cascade Brand 110466		

089	Notebook, stenographic, 6" x 9", 16-lb. paper, gregg rule, green, minimum 80-sheet count, spiral binding, ruled with red center line.	Universal #86920 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1097405	School Specialty LLC	No	1 - 80 Sheet Book	4090	SCHOOL SMART	085292	\$0.99	\$4,049.10		085292		
089	Notebook, stenographic, 6" x 9", 16-lb. paper, gregg rule, green, minimum 80-sheet count, spiral binding, ruled with red center line.	Universal #86920 or equal. SAMPLE = 1 notebook. IF BIDDING THE APPROVED 3 PRODUCT, NO SAMPLE IS REQUIRED.	5690560-1097405	John R Green Co	No	1 - 80 Sheet Book	4090	KURTZ BROS-91880	79070	\$2.19	\$8,957.10				
090	Pad, easel, padded, self-stick, 25" x 30", ruled, yellow, 30 sheets/pad.	Premium paper, canary yellow with faint blue lines, resists marker bleed- through, sticks to most surfaces and can be repositioned, sturdy backcard with handle, universal slot fits most easel stands. Post-It 3M #561 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012096	odp BUSINESS SOLUTIONS, LLC	No	2 - 30 Sheet Pads	840	ЗМ СО	561SS	\$19.69	\$16,539.60	19.69	зм со	Awarded	Awarded - based on price per pad.
090	Pad, easel, padded, self-stick, 25" x 30", ruled, yellow, 30 sheets/pad.	Premium paper, canary yellow with faint blue lines, resists marker bleed- through, sticks to most surfaces and can be repositioned, sturty backcard with handle, universal slot fits most easel stands. Post-it 3M #561 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012096	NATIONAL ART & SCHOOL SUPPLIES	No	2 - 30 Sheet Pads	840	3M POST IT	561	\$42.28	\$35,515.20				
090	Pad, easel, padded, self-stick, 25" x 30", ruled, yellow, 30 sheets/pad.	Premium paper, canary yellow with faint blue lines, resists marker bleed- through, sticks to most surfaces and can be repositioned, sturdy backcard with handle, universal slot fits most easel stands. Post-it 3M #561 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012096	Complete Printer Source	No	2 - 30 Sheet Pads	840	ЗМ	MMM561	\$45.00	\$37,800.00				
090	Pad, easel, padded, self-stick, 25" x 30", ruled, yellow, 30 sheets/pad.	Premium paper, canary yellow with faint blue lines, resists marker bleed- through, sticks to most surfaces and can be repositioned, sturdy backcard with handle, universal slot fits most easel stands. Post-it 3M #561 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012096	Cascade School Supplies	No	2 - 30 Sheet Pads	840	3M Commercial	561 CAS032119	\$45.32	\$38,068.80				
090	Pad, easel, padded, self-stick, 25" x 30", ruled, yellow, 30 sheets/pad.	Premium paper, canary yellow with faint blue lines, resists marker bleed- through, sticks to most surfaces and can be repositioned, sturdy backcard with handle, universal slot fits most easel stands. Post-it 3M #561 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012096	School Specialty LLC	No	2 - 30 Sheet Pads	840	POST IT	561	\$58.02	\$48,736.80		1438937		
090	Pad, easel, padded, self-stick, 25" x 30", ruled, yellow, 30 sheets/pad.	Premium paper, canary yellow with faint blue lines, resists marker bleed- through, sticks to most surfaces and can be repositioned, sturdy backcard with handle, universal slot fits most easel stands. Post-it 3M #561 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012096	PYRAMID SCHOOL PRODUCTS	No	2 - 30 Sheet Pads	840	ЗМ	561	\$59.95	\$50,358.00				
091	Pad, easel, padded, self-stick, 25" x 30", unruled, white, 30 sheets/pad.	Premium paper, bright white, resists marker bleed-through, sticks to most surfaces and can be repositioned, study backcard with handle, universal slot fits most easel stands. Post-it 8759 or equal. QUIDT 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012095	odp BUSINESS SOLUTIONS, LLC	No	2 - 30 Sheet Pads	1606	3M CO	559-SS	\$19.24	\$30,899.44	19.24	3М СО	Awarded	Awarded - based on price per pad.
091	Pad, easel, padded, self-stick, 25" x 30", unruled, white, 30 sheets/pad.	Premium paper, bright white, resists marker bleed-through, sticks to most surfaces and can be repositioned, study backcard with handle, universal slot fits most easel stands. Post-18 MF559 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012095	NATIONAL ART & SCHOOL SUPPLIES	No	2 - 30 Sheet Pads	1606	3M POST IT	559	\$41.69	\$66,954.14				
091	Pad, easel, padded, self-stick, 25" x 30", unruled, white, 30 sheets/pad.	Premium paper, bright white, resists marker bleed-through, sticks to most surfaces and can be repositioned, sturdy backcard with handle, universal slot fits most easel stands. Post-18 MR 559 or equal. QUOTE 2 PAP ACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012095	Complete Printer Source	No	2 - 30 Sheet Pads	1606	ЗМ	MMM559	\$45.40	\$72,912.40				
091	Pad, easel, padded, self-stick, 25" x 30", unruled, white, 30 sheets/pad.	Premium paper, bright white, resists marker bleed-through, sticks to most surfaces and can be repositioned, sturdy backcard with handle, universal slot fits most easel stands. Post-is 184 HES9 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012095	Cascade School Supplies	No	2 - 30 Sheet Pads	1606	3M COmmercial/Post It	559 CAS032105	\$48.74	\$78,276.44				
091	Pad, easel, padded, self-stick, 25" x 30", unruled, white, 30 sheets/pad.	Premium paper, bright white, resists marker bleed-through, sticks to most surfaces and can be repositioned, sturdy backcard with handle, universal slot fits most easel stands. Post-it 3M #559 or equal. QUITE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012095	PYRAMID SCHOOL PRODUCTS	No	2 - 30 Sheet Pads	1606	ЗМ	559	\$52.95	\$85,037.70				

091	Pad, easel, padded, self-stick, 25"x 30", unruled, white, 30 sheets/pad.	Premium paper, bright white, resists marker bleed-through, sticks to most surfaces and can be repositioned, sturdy backcard with handle, university of the most easel stands. Post-it 3M #559 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		School Specialty LLC	No	2 - 30 Sheet Pads	1606	POST IT	559	\$56.69	\$91,044.14		1437330		
092	Pad, easel, padded, self-stick, 25" x 30", white with blue grid, 30 sheets/pad.	Premium paper resists marker bleed-through, sticks to most surfaces and can be repositioned. Sturdy backcard with handle, universal slots fits most easel stands. Post-H 3M #560 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		odp BUSINESS SOLUTIONS, LLC	No	2 - 30 Sheet Pads	445	3М СО	560SS	\$20.35	\$9,055.75	20.35	зм со	Awarded	Awarded - based on price per pad.
092	Pad, easel, padded, self-stick, 25" x 30", white with blue grid, 30 sheets/pad.	Premium paper resists marker bleed-through, sticks to most surfaces and can be repositioned. Sturdy backcard with handle, universal slots fits most easel stands. Post-it 3M #560 or equal. QUIOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		NATIONAL ART & SCHOOL SUPPLIES	No	2 - 30 Sheet Pads	445	3M POST IT	560	\$42.87	\$19,077.15				
092	Pad, easel, padded, self-stick, 25" x 30", white with blue grid, 30 sheets/pad.	Premium paper resists marker bleed-through, sticks to most surfaces and can be repositioned. Sturdy backcard with handle, universal slots fits most easel stands. Post-it 3M #560 or equal. QUIOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1679044	Complete Printer Source	No	2 - 30 Sheet Pads	445	ЗМ	MMM560	\$45.50	\$20,247.50				
092	Pad, easel, padded, self-stick, 25" x 30", white with blue grid, 30 sheets/pad.	Premium paper resists marker bleed-through, sticks to most surfaces and can be repositioned. Sturdy backcard with hughdle, universal slots fits most easel stands. Post-t 3M #560 or equal. QUOTE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies	No	2 - 30 Sheet Pads	445	3M Commercial	560 CAS034015	\$49.65	\$22,094.25				
092	Pad, easel, padded, self-stick, 25" x 30", white with blue grid, 30 sheets/pad.	Premium paper resists marker bleed-through, sticks to most surfaces and can be repositioned. Sturdy backcard with handle, universal slots fits most easel stands. Post-it 3M #560 or equal. QUITE 2 PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1679044	PYRAMID SCHOOL PRODUCTS	No	2 - 30 Sheet Pads	445	3M	560	\$52.95	\$23,562.75				
092	Pad, easel, padded, self-stick, 25" x 30", white with blue grid, 30 sheets/pad.	Premium paper resists marker bleed-through, sticks to most surfaces and can be repositioned. Sturdy backcard with handle, universal slots fits most easel stands. Post-tt 3M #560 or equal. QUITEZ PAD PACK ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		School Specialty LLC	No	2 - 30 Sheet Pads	445	POST IT	560	\$58.02	\$25,818.90		1438936		
093	Pad, message, "While You Were Out", 50 sheets/pad, 12 pads/pkg, 5 1/2" x 4 1/4". Tops #3002P or equal.	SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1150463	Complete Printer Source	No	12 - 50 Sheet Pads	53	TOPS	TOP3002P	\$3.69	\$195.57			Awarded	
093	Pad, message, "While You Were Out", 50 sheets/pad, 12 pads/pkg, 5 1/2" x 4 1/4". Tops #3002P or equal.	SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1150463	John R Green Co	No	12 - 50 Sheet Pads	53	TOPS-9711D	16046	\$3.77	\$199.81		DIFFERENT BRAND		
093	Pad, message, "While You Were Out", 50 sheets/pad, 12 pads/pkg, 5 1/2" x 4 1/4". Tops #3002P or equal.	SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1150463	PYRAMID SCHOOL PRODUCTS	No	12 - 50 Sheet Pads	53	TOPS	3002P	\$3.89	\$206.17				
093	Pad, message, "While You Were Out", 50 sheets/pad, 12 pads/pkg, 5 1/2" x 4 1/4". Tops #3002P or equal.	SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1150463	Cascade School Supplies	No	12 - 50 Sheet Pads	53	Tops Products	9711D CAS022912	\$4.47	\$236.91		Tops Products 9711D		
093	Pad, message, "While You Were Out", 50 sheets/pad, 12 pads/pkg, 5 1/2" x 4 1/4". Tops #3002P or equal.	SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1150463	School Specialty LLC	No	12 - 50 Sheet Pads	53	TOPS	3002P	\$4.98	\$263.94		075189		
094	Pad, Post-It-Notes, assorted colors, 3" x 3", plain 100 sheet/pad, 14 pads/pack.	SFI Chain of Custody Certified. (Capetown), #MMMM654-14AN or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012761	NATIONAL ART & SCHOOL SUPPLIES	No	14 - 100 Sheet Pads	1045	3M POST IT	654-14AN	\$12.89	\$13,470.05			Awarded	

		SFI Chain of Custody Certified. (Capetown), #MMM654-14AN or equal. IF			1								
094	Pad, Post-It-Notes, assorted colors, 3" x 3", plain 100 sheet/pad, 14 pads/pack.	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012761	PYRAMID SCHOOL PRODUCTS	No	14 - 100 Sheet Pads	1045	3M	654-14AN	\$13.49	\$14,097.05		
004	Pad, Post-It-Notes, assorted colors, 3" x 3", plain 100	SFI Chain of Custody Certified. (Capetown), #MMM654-14AN or equal. IF	F600610 2012761	Complete Brinter	No	14 - 100	1045	3M	MMM65414AN	\$13.80	\$14,421.00		
094	sheet/pad, 14 pads/pack.	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012761	Source Source	No	Sheet Pads	1045	SIVI	WWW65414AN	\$13.80	\$14,421.00		
094	Pad, Post-It-Notes, assorted colors, 3" x 3", plain 100 sheet/pad, 14 pads/pack.	SFI Chain of Custody Certified. (Capetown), #MMM654-14AN or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012761	John R Green Co	No	14 - 100 Sheet Pads	1045	3M POST IT-654- 14AN	12063	\$15.13	\$15,810.85		
	5.10.04 p. 2.7 p. 2.07 p. 2.07												
094	Pad, Post-It-Notes, assorted colors, 3" x 3", plain 100 sheet/pad, 14 pads/pack.	SFI Chain of Custody Certified. (Capetown), #MMM654-14AN or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012761	School Specialty LLC	No	14 - 100 Sheet Pads	1045	POST IT	654-14AN	\$15.90	\$16,615.50	336769	
	sneet/pau, 14 paus/pack.	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Sileet Paus							
094		SFI Chain of Custody Certified. (Capetown), #MMM654-14AN or equal. IF	5690610-2012761	Cascade School	No	14 - 100	1045	3M	654-14AN	\$18.58	\$19,416.10		
	sheet/pad, 14 pads/pack.	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Sheet Pads		Commercial/Post It	CAS023944				
095	Pad, Post-It-Notes, yellow, 1 1/2" x 2".	3M Post-It #6539 or equal. 100 sheet/pad, 12 pads/pack. SFI Certified.	5690610-1659892		No	12 - 100	1351	3M POST IT	6539	\$1.25	\$1,688.75		The Board will draw lots to break the tie.
		SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES		Sheet Pads							
		REQUIRED.											
095	Pad, Post-It-Notes, yellow, 1 1/2" x 2".	3M Post-It #6539 or equal. 100 sheet/pad, 12 pads/pack. SFI Certified.	5690610-1659892	PYRAMID SCHOOL	No	12 - 100	1351	3M	6539	\$1.25	\$1,688.75		The Board will draw lots to break the tie.
093	rad, rost-it-Notes, yellow, 1 1/2 x 2 .	SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS	3030010-1033632	PRODUCTS	NO	Sheet Pads	1331	Sivi	0339	J1.23	31,000.73		The board will draw locs to break the tie.
		REQUIRED.											
095	Pad, Post-It-Notes, yellow, 1 1/2" x 2".	3M Post-It #6539 or equal. 100 sheet/pad, 12 pads/pack. SFI Certified. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS	5690610-1659892	Complete Printer Source	No	12 - 100 Sheet Pads	1351	3M	MMM6539YW	\$1.34	\$1,810.34		
		REQUIRED.											
095	Pad, Post-It-Notes, yellow, 1 1/2" x 2".	3M Post-It #6539 or equal. 100 sheet/pad, 12 pads/pack. SFI Certified. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS	5690610-1659892	Cascade School Supplies	No	12 - 100 Sheet Pads	1351	3M Commercial/Highlan	6539 CAS119124	\$2.34	\$3,161.34		
		REQUIRED.		Supplies		Sileet Faus		d					
1				1				1					
1													
095	Pad, Post-It-Notes, yellow, 1 1/2" x 2".	3M Post-It #6539 or equal. 100 sheet/pad, 12 pads/pack. SFI Certified.	5690610-1659892	School Specialty LLC	No	12 - 100	1351	HIGHLAND POST IT	6539	\$4.80	\$6,484.80	042195	
1		SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		1		Sheet Pads		1					
1				1				1					
1				1				1					
1													
095	Pad, Post-It-Notes, yellow, 1 1/2" x 2".	3M Post-It #6539 or equal. 100 sheet/pad, 12 pads/pack. SFI Certified.	5690610-1659892	John R Green Co	No	12 - 100	1351	3M POST IT-653	12536	\$5.59	\$7,552.09		-
1		SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS		1		Sheet Pads		1					
1		REQUIRED.		1				1					
1				1				1					
1													
096	Pad, Post-it-Notes, yellow, 3" x 3". 100 sheet/nad. 12	3M Post-It #MMM6549YW or equal. IF BIDDING THE APPROVED PRODUCT,	5690610-1659893	PYRAMID SCHOOL	No	12 - 100	1843	3M	6549YW	\$2.27	\$4,183.61		
	pads/pack. SFI Certified,	NO SAMPLE IS REQUIRED.		PRODUCTS		Sheet Pads							
												Aw	varded
	2-12-14-14-14-14-14-14-14-14-14-14-14-14-14-	24.5	5500545	NATION		42	40.0	314 8 5 5 5	65.0	67.11	A4 4		
096	Pad, Post-It-Notes, yellow, 3" x 3". 100 sheet/pad, 12 pads/pack. SFI Certified,	3M Post-It #MMM6549YW or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1659893	NATIONAL ART & SCHOOL SUPPLIES	No	12 - 100 Sheet Pads	1843	3M POST IT	6549	\$2.44	\$4,496.92		

096	Pad Post-It-Notes vollow 2" v 2" 100 sheet/pad 12	3M Post-It #MMM6549YW or equal. IF BIDDING THE APPROVED PRODUCT,	5600610.1650902	Complete Printer	No	12 - 100	1843	3M	MMM6549YW	\$2.67	\$4,920.81			
030	pads/pack. SFI Certified,	NO SAMPLE IS REQUIRED.	3030010 1033033	Source		Sheet Pads	1043	3111	11111110343111	\$2.07	\$4,520.01			
096	Pad, Post-It-Notes, yellow, 3" x 3". 100 sheet/pad, 12 pads/pack. SFI Certified,	3M Post-It #MMM6549YW or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1659893	School Specialty LLC	No	12 - 100 Sheet Pads	1843	POST IT	6549	\$3.64	\$6,708.52	077320		
	F, F,													
096	Pad. Post-It-Notes, vellow, 3" x 3", 100 sheet/pad, 12	3M Post-It #MMM6549YW or equal. IF BIDDING THE APPROVED PRODUCT,	5690610-1659893	John R Green Co	No	12 - 100	1843	3M HIGHLAND-	58151	\$4.37	\$8,053.91			
	pads/pack. SFI Certified,	NO SAMPLE IS REQUIRED.				Sheet Pads		6549YE		,	, , , , , , ,			
096	Pad, Post-It-Notes, yellow, 3" x 3". 100 sheet/pad, 12 pads/pack. SFI Certified,	3M Post-It #MMM6549YW or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1659893	Cascade School Supplies	No	12 - 100 Sheet Pads	1843	3M Commercial/Highlan	6549 CAS153127	\$5.19	\$9,565.17			
								d						
097	Pad, Post-It-Notes, assorted colors, 4" x 4" lined, super				No	6 - 90 Sheet	908	3M POST IT	675-65SUC	\$10.67	\$9,688.36			
	sticky, 90 sheets/pad, 6 pads/pack.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES		Pads								
													Awarded	
	Prod Broth Makes accepts 1 1 2 2 2 2 2 2		FC00C40 :	DVD A LAID COLLECT		5 05 21	000	200	Par 200110	A4	640			
097	Pad, Post-It-Notes, assorted colors, 4" x 4" lined, super sticky, 90 sheets/pad, 6 pads/pack.	SFI Certified, Rio De Janeiro #MMM-675-6SSUC or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1684544	PRODUCTS	No	6 - 90 Sheet Pads	908	3M	675-6SSUC	\$11.29	\$10,251.32			
097	Pad, Post-It-Notes, assorted colors, 4" x 4" lined, super		5690610-1684544		No	6 - 90 Sheet	908	3M	MMM6756SSUC	\$11.44	\$10,387.52			
	sticky, 90 sheets/pad, 6 pads/pack.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Pads								
097	Pad, Post-It-Notes, assorted colors, 4" x 4" lined, super	SFI Certified, Rio De Janeiro #MMM-675-6SSUC or equal. IF BIDDING THE	ECO0C10 1684E44	John R Green Co	No	6 - 90 Sheet	908	3M POST IT-675-	12546	\$12.83	\$11,649.64			
097	sticky, 90 sheets/pad, 6 pads/pack.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	3030010-1004344	John K Green Co	NO	Pads	300	655UC	12346	312.03	311,049.04			
097	Pad, Post-It-Notes, assorted colors, 4" x 4" lined, super	SFI Certified, Rio De Janeiro #MMM-675-6SSUC or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-1684544	School Specialty LLC	No	6 - 90 Sheet	908	POST IT	675-6SSUC	\$13.38	\$12,149.04	086845		
	sticky, 90 sheets/pad, 6 pads/pack.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Pads								
097	Pad, Post-It-Notes, assorted colors, 4" x 4" lined, super	SFI Certified, Rio De Janeiro #MMM-675-6SSUC or equal. IF BIDDING THE	5690610-1684544	Cascade School	No	6 - 90 Sheet	908	3M	6756SSUC	\$15.33	\$13,919.64			
1	sticky, 90 sheets/pad, 6 pads/pack.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Pads		Commercial/Post It	CAS030072		,			
098	Pad, Post-It-Notes, yellow, 4" x 6" lined, 100 sheets/pad, 5 pads/pack, recyclable.	SFI Chain of Custody Certified, #MMM-660-5PK or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		NATIONAL ART & SCHOOL SUPPLIES		5 - 100 Sheet Pads	734	3M POST IT	660-5PK	\$9.28	\$6,811.52			
													Awarded	
098		SFI Chain of Custody Certified, #MMM-660-5PK or equal. SAMPLE = 1 pad. IF	5690610-2012416		No	5 - 100	734	3M	660-5PK	\$10.19	\$7,479.46			
	sheets/pad, 5 pads/pack, recyclable.	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		Sheet Pads								
	2.4 2.4 4.4 4.4 4.4 4.4 4.4 4.4 4.4 4.4		FC00C40	Complete T. C.				2	MMM6605PK	A	A7 (*** **			
098	Pad, Post-It-Notes, yellow, 4" x 6" lined, 100 sheets/pad, 5 pads/pack, recyclable.	SFI Chain of Custody Certified, #MMM-660-5PK or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012416	Complete Printer Source	No	5 - 100 Sheet Pads	734	3M	MMM6605PK	\$10.39	\$7,626.26			

098	Pad, Post-It-Notes, yellow, 4" x 6" lined, 100 sheets/pad, 5 pads/pack, recyclable.	SFI Chain of Custody Certified, #MMM-660-5Pk or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012416	John R Green Co	No	5 - 100 Sheet Pads	734	3M-660-5SSCY	12070	\$11.88	\$8,719.92				
098	Pad, Post-It-Notes, yellow, 4" x 6" lined, 100 sheets/pad, 5 pads/pack, recyclable.	SFI Chain of Custody Certified, #MMM-660-5PK or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012416	School Specialty LLC	No	5 - 100 Sheet Pads	734	POST IT	660-SPK	\$12.13	\$8,903.42		1571908		
098	Pad, Post-It-Notes, yellow, 4" x 6" lined, 100 sheets/pad, 5 pads/pack, recyclable.	SFI Chain of Custody Certified, #MMM-660-SPK or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012416	Cascade School Supplies	No	5 - 100 Sheet Pads	734	3M Commercial/Post It	660 CAS034049	\$13.90	\$10,202.60				
099	Pad, Post-it-Notes pop-up refilis, assorted colors, 3" x 3" plain, 100 sheet/pad, 12 pads/pack.	SFI Chain of Custody Certified, (Capetown), #MMMR330-12AN or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012760	odp BUSINESS SOLUTIONS, LLC	No	12 - 100 Sheet Pads	1425	3М СО	R330-N-ALT	\$12.51	\$17,826.75	12.51	зм со		REJECT- item bid is not Capetown.
099	Pad, Post-It-Notes pop-up refills, assorted colors, 3" x 3" plain, 100 sheet/pad, 12 pads/pack.	SFI Chain of Custody Certified, (Capetown), #MMMR330-12AN or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012760	NATIONAL ART & SCHOOL SUPPLIES	No	12 - 100 Sheet Pads	1425	3M POST IT	R330-12AN	\$12.79	\$18,225.75				
200	Col Data National City and the National City		5500540 2042750	BYDAMID SSUGGI	N-	42,400	4425	3M	2220 4241	642.40	640 222 25			Awarded	
099	Pad, Post-It-Notes pop-up refilis, assorted colors, 3" x 3" plain, 100 sheet/pad, 12 pads/pack.	SFI Chain of Custody Certified, (Capetown), #MMMMR330-12AN or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012/60	PRODUCTS	No	12 - 100 Sheet Pads	1425	3M	R330-12AN	\$13.49	\$19,223.25				
099	Pad, Post-it-Notes pop-up refilis, assorted colors, 3" x 3" plain, 100 sheet/pad, 12 pads/pack.	SFI Chain of Custody Certified, (Capetown), #MMMR330-12AN or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012760	Complete Printer Source	No	12 - 100 Sheet Pads	1425	3M	MMMR33012AN	\$13.92	\$19,836.00				
099	Pad, Post-It-Notes pop-up refills, assorted colors, 3" x 3" plain, 100 sheet/pad, 12 pads/pack.	SFI Chain of Custody Certified, (Capetown), #MMMR330-12AN or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012760	John R Green Co	No	12 - 100 Sheet Pads	1425	3M POST IT-R330- 12AN	12426	\$15.26	\$21,745.50				
099	Pad, Post-It-Notes pop-up refills, assorted colors, 3" x 3" plain, 100 sheet/pad, 12 pads/pack.	SFI Chain of Custody Certified, (Capetown), #MMMR330-12AN or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012760	School Specialty LLC	No	12 - 100 Sheet Pads	1425	POST IT	R330-12AN	\$16.35	\$23,298.75		076150		
099	Pad, Post-It-Notes pop-up refills, assorted colors, 3" x 3" plain, 100 sheet/pad, 12 pads/pack.	SFI Chain of Custody Certified, (Capetown), #MMMR330-12AN or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012760	Cascade School Supplies	No	12 - 100 Sheet Pads	1425	3M Commercial/Post It	R330-12AN CAS034574	\$18.74	\$26,704.50				
100	Pad, Post-It-Notes pop-up refilis, yellow, 3" x 3", plain, recyclable, 100 sheets/pad. (value pack includes 14 pads yellow, 4 pads bright colors).	SFI Chain of Custody Certified, #MMMR-330-144B or equal (dispenser not included). SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012412	NATIONAL ART & SCHOOL SUPPLIES	No	18 - 100 Sheet Pads	397	3M POST IT	R330-144B	\$13.28	\$5,272.16			Awarded	
100	Pad, Post-It-Notes pop-up refilis, yellow, 3" x 3", plain, recyclable, 100 sheets/pad. (value pack includes 14 pads yellow, 4 pads bright colors).	SFI Chain of Custody Certified, #MMMR-330-144B or equal (dispenser not included). SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012412	PYRAMID SCHOOL PRODUCTS	No	18 - 100 Sheet Pads	397	3M	R330-144B	\$14.95	\$5,935.15				
100	Pad, Post-It-Notes pop-up refilis, yellow, 3" x 3", plain, recyclable, 100 sheets/pad. (value pack includes 14 pads yellow, 4 pads bright colors).	SFI Chain of Custody Certified, #MMMR-330-1448 or equal (dispenser not included). SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012412	Complete Printer Source	No	18 - 100 Sheet Pads	397	3M	MMMR330144B	\$15.61	\$6,197.17				

			T	T					T					
100	Pad, Post-It-Notes pop-up refills, yellow, 3" x, 3", plain, recyclable, 100 sheets/pad. (value pack includes 14 pads yellow, 4 pads bright colors).	SFI Chain of Custody Certified, #MMMR:330-1448 or equal (dispenser not included). SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012412	John R Green Co	No	18 - 100 Sheet Pads	397	3M POST IT-R330- 14-4B	57539	\$16.42	\$6,518.74			
100	Pad, Post-It-Notes pop-up refilis, yellow, 3" x 3", plain, recyclable, 100 sheets/pad. (value pack includes 14 pads yellow, 4 pads bright colors).	SFI Chain of Custody Certified, #MMMR-330-144B or equal (dispenser not included). SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012412	School Specialty LLC	No	18 - 100 Sheet Pads	397	POST IT	R330-14-4B	\$17.11	\$6,792.67	1327810		
101	Pad dispenser, Post-It-Notes for 3" x 3" pop-up notes, weighted.	Post-it #MMMDS3308K or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012762	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	472	ЗМ	DS330BK	\$7.29	\$3,440.88		Awarded	
	weighted.	Post-It #MMMD53308K or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source	No	1 - 1 Each Purchase	472	ЗМ	MMMDS330BK	\$7.89	\$3,724.08			
101	Pad dispenser, Post-It-Notes for 3" x 3" pop-up notes, weighted.	Post-It #MMMD5330BK or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012762	John R Green Co	No	1 - 1 Each Purchase	472	3M POST IT-DS330- BK	12094	\$8.10	\$3,823.20			
101	Pad dispenser, Post-it-Notes for 3" x 3" pop-up notes, weighted.	Post-It #MMMD5330BK or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012762	School Specialty LLC	No	1 - 1 Each Purchase	472	POST IT	DS-330-BK	\$8.50	\$4,012.00	1571911		
101	Pad dispenser, Post-it-Notes for 3" x 3" pop-up notes, weighted.	Post-It #MMMD5330BK or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690610-2012762	Cascade School Supplies	No	1 - 1 Each Purchase	472	3M Commercial	WD330BK CAS163697	\$8.88	\$4,191.36	3M Commercial WD330BK		
102	Paint, washable, multicultural assorted skin tone colors, 8 oz. 9/set.	Crayola #54-2314A or equal.	1220600-2014365	Complete Printer Source	No	1 - 9 Count Set	14	Crayola	CYO542314A	\$3.39	\$47.46		Awarded	
102	Paint, washable, multicultural assorted skin tone colors, 8 oz. 9/set.	Crayola #54-2314A or equal.	1220600-2014365	John R Green Co	No	1 - 9 Count Set	14	CRAYOLA-2314	42420	\$15.65	\$219.10			
102	Paint, washable, multicultural assorted skin tone colors, 8 oz. 9/set.	Crayola #54-2314A or equal.	1220600-2014365	PYRAMID SCHOOL PRODUCTS	No	1 - 9 Count Set	14	CRAYOLA	54-2314	\$15.95	\$223.30			
102	Paint, washable, multicultural assorted skin tone colors, 8 oz. 9/set.	Crayola #54-2314A or equal.	1220600-2014365	School Specialty LLC	No	1 - 9 Count Set	14	CRAYOLA	54-2314	\$17.05	\$238.70	2102431		
	Paint, watercolor. 8-color set. 8 oval pans containing semi-moist paint chromatically arranged and then black and brown at the ends (black, red, orange, yellow, green, blue, violet and brown).	a #7 Taklon brush that holds a point. Non-toxic, AP Seal, conforms to ASTM D4236. Crayola Water Color Set #53-0030 or equal. I #3IDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		1 - 8 Count Set	6912	CRAYOLA	53-0080	\$1.75	\$12,096.00		Awarded	
103	Paint, watercolor. 8-color set. 8 oval pans containing semi-most paint chromatically arranged and then black and brown at the ends (black, red, orange, yellow, green, blue, violet and brown).	individual pans encased in plastic and individual pan refils available. Includes a #7 Taklon brush that holds a point. Non-toxic, AF Seal, conforms to ASTM D4236. Crayol Water Color Set #53-0000 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220600-1370145	School Specialty LLC	No	1 - 8 Count Set	6912	CRAYOLA	53-0080	\$1.90	\$13,132.80	007560		

_															
103	Paint, watercolor. 8-color set. 8 oval pans containing semi-most paint chromatically arranged and then black and brown at the ends (black, red, orange, yellow, green, blue, violet and brown).	Individual pans encased in plastic and individual pan refilis available. Includes a #7 Taklom brush that holds a point. Non-toxic, AP Seal, conforms to ASTM D4236. Crayola Water Color Set #53-0080 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220600-1370145	odp BUSINESS SOLUTIONS, LLC	No	1 - 8 Count Set	6912	DIXON TICONDEROGA CO	00800	\$2.02	\$13,962.24	2.02	DIXON TICONDEROGA CO		
103	Paint, watercolor. 8-color set. 8 oval pans containing semi-moist paint chromatically arranged and then black and brown at the ends (black, red, orange, yellow, green, blue, violet and brown).	Individual pans encased in plastic and individual pan refills available. Includes a #7 Taklon brush that holds a point. Non-toxic, AP Seal, conforms to ASTM D4236. Crayola Water Color Set #53-0080 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220600-1370145	Lakeshore Learning Materials, LLC	No	1 - 8 Count Set	6912	CRAYOLA, LLC	BS525	\$2.78	\$19,215.36	Please reference "Per Quote #36611" on all purchase orders.	Washable Watercolor Set TERMS: NET 30		
103	Paint, watercolor. 8-color set. 8 oval pans containing semi-moist paint chromatically arranged and then black and brown at the ends (black, red, orange, yellow, green, blue, violet and brown).	Individual pans encased in plastic and individual pan refills available. Includes a #7 Taklon brush that holds a point. Non-toxic, AP Seal, conforms to ASTM D4236. Crayola Water Color Set #53-0080 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220600-1370145	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 8 Count Set	6912	CRAYOLA	53-0080	\$3.10	\$21,427.20				
103	Paint, watercolor. 8-color set. 8 oval pans containing semi-moist paint chromatically arranged and then black and brown at the ends (black, red, orange, yellow, green, blue, violet and brown).	Individual pans encased in plastic and individual pan refilis available. Includes a #7 Taklon brush that holds a point. Non-toxic, AP Seal, conforms to ASTM D4236. Crayola Water Color Set #33-0080 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		1 - 8 Count Set	6912	Crayola	CYO530080	\$3.39	\$23,431.68				
103	Paint, watercolor. 8-color set. 8 oval pans containing semi-most paint chromatically arranged and then black and brown at the ends (black, red, orange, yellow, green, blue, violet and brown).	Individual pans encased in plastic and individual pan refilis available. Includes at 7T Taklom brush that holds a point. Non-toxic, AP Seal, conforms to ASTM D4236. Craycola Water Color Set #53-0080 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220600-1370145	John R Green Co	No	1 - 8 Count Set	6912	CRAYOLA-0080	44006	\$3.42	\$23,639.04				
103	Paint, watercolor. 8-color set. 8 oval pans containing semi-moist paint chromatically arranged and then black and brown at the ends (black, red, orange, yellow, green, blue, violet and brown).	Individual pans encased in plastic and individual pan refills available. Includes a #7 Taklon brush that holds a point. Non-toxic, AP Seal, conforms to ASTM D4236. Crayola Water Color Set #53-0880 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220600-1370145	Cascade School Supplies	No	1 - 8 Count Set	6912	Crayola	0080 CAS182622	\$3.70	\$25,574.40				
104	Paper, construction, 9" x 12", 58 lb. Multicultural Assortment.	Pacon Sunworks #9509 or equal.	5760160-2014372	School Specialty LLC	No	1 - 50 Sheet Pack	941	PACON PRANG	9509-12	\$1.45	\$1,364.45		409340	Awarded	
104	Paper, construction, 9" x 12", 58 lb. Multicultural Assortment.	Pacon Sunworks #9509 or equal.	5760160-2014372	Complete Printer Source	No	1 - 50 Sheet Pack	941	Pacon	PAC9509	\$1.49	\$1,402.09				
104	Paper, construction, 9" x 12", 58 lb. Multicultural Assortment.	Pacon Sunworks #9509 or equal.	5760160-2014372	John R Green Co	No	1 - 50 Sheet Pack	941	PACON-P9509	37022	\$1.78	\$1,674.98				
104	Paper, construction, 9" x 12", 58 lb. Multicultural Assortment.	Pacon Sumworks #9509 or equal.	5760160-2014372	Cascade School Supplies	No	1 - 50 Sheet Pack	941	Dixon Ticonderoga	P9509 CAS132431	\$3.11	\$2,926.51				
	Paper, construction, 9" x 12", 58 lb. Multicultural Assortment.			Lakeshore Learning Materials, LLC		Pack		Pacon	LC383	\$8.36		Please reference "Per Quote #36611" on all purchase orders.	People Colors® Craft Paper TERMS: NET 30		
105	Paper, construction, 100% sulphite, 9" x 12", 76 lb., Smart-Stack Assortment, 240 sheet/pack	(40 each white; 30 each black, festive green, scarlet and yellow; 20 each orange and royal blue; 10 each pink, sky blue, violet and warm brown). Pacon Tru-Ray #6586 or equal.		Source	No	1 - 240 Sheet Pack	498	Pacon	PAC6586	\$10.69	\$5,323.62		14007	Awarded	
105	Paper, construction, 100% sulphite, 9" x 12", 76 lb., Smart-Stack Assortment, 240 sheet/pack	(40 each white; 30 each black, festive green, scarlet and yellow; 20 each orange and royal blue; 10 each pink, sky blue, violet and warm brown). Pacon Tru-Ray #6586 or equal.	5/60160-1730478	School Specialty LLC	No	1 - 240 Sheet Pack	498	PACON TRU RAY	6586	\$10.77	\$5,363.46		1439765		

_	1	I												
105	Paper, construction, 100% sulphite, 9" x 12", 76 lb., Smart-Stack Assortment, 240 sheet/pack	(40 each white; 30 each black, festive green, scarlet and yellow; 20 each orange and royal blue; 10 each pink, sky blue, violet and warm brown). Pacon Tru-Ray #6586 or equal.	5760160-1730478	John R Green Co	No	1 - 240 Sheet Pack	498	PACON-P6586	37012	\$11.62	\$5,786.76			
106	Paper, construction, 100% sulphite, 12" x 18", 76 lb.,	(20 each white; 15 each black, festive green, scarlet and yellow; 10 each	5760160-1730483	School Specialty LLC	No	1 - 120	196	PACON TRU RAY	6587	\$10.95	\$2,146.20	1439766		
	Smart-Stack Assortment, 120 sheet/pack	orange and royal blue; 5 each pink, sky blue, violet and warm brown). Pacon Tru-Ray #6587 or equal.				Sheet Pack							Awarded	
106	Paper, construction, 100% sulphite, 12" x 18", 76 lb., Smart-Stack Assortment, 120 sheet/pack	(20 each white; 15 each black, festive green, scarlet and yellow; 10 each orange and royal blue; 5 each pink, sky blue, violet and warm brown). Pacon Tru-Ray #6587 or equal.	5760160-1730483	John R Green Co	No	1 - 120 Sheet Pack	196	PACON-P6587	37013	\$11.62	\$2,277.52			
106	Paper, construction, 100% sulphite, 12" x 18", 76 lb., Smart-Stack Assortment, 120 sheet/pack	orange and royal blue; 5 each pink, sky blue, violet and warm brown). Pacon Tru-Ray #6587 or equal.		Complete Printer Source	No	1 - 120 Sheet Pack	196	Pacon	PAC6587	\$11.89	\$2,330.44			
107	Paper, construction, groundwood, 9" x 12", 58 lb, Smart-Stack Assortment, 300 sheet/pack	(50 each white; 40 each holiday green and scarlet; 30 each blue and yellow, 25 each black and yellow-orange; and 15 each brown, 16, hink, sky blue and violet) Pacon Sunworks #6525 or equal.	5/60160-1/30484	Cascade School Supplies	No	1 - 300 Sheet Pack	296	Dixon Ticonderoga	CONO1300 CAS030823	\$7.72	\$2,285.12			REJECT- did not submit sample for evaluation.
107	Paper, construction, groundwood, 9" x 12", 58 lb., Smart-Stack Assortment, 300 sheet/pack	(50 each white; 40 each holiday green and scarlet; 30 each blue and yellow; 25 each black and yellow-orange; and 15 each brown, pink, sky blue and violet) Pacon Sunworks #6525 or equal.	5760160-1730484	School Specialty LLC	No	1 - 300 Sheet Pack	296	PACON PRANG	6525	\$8.15	\$2,412.40	336373	Awarded	
107	Paper, construction, groundwood, 9" x 12", 58 lb., Smart-Stack Assortment, 300 sheet/pack	[50 each white; 40 each holiday green and scarlet; 30 each blue and yellow; 25 each black and yellow-orange; and 15 each brown, pink, sky blue and violet) Pacon Sunworks #6525 or equal.	5760160-1730484	Complete Printer Source	No	1 - 300 Sheet Pack	296	Pacon	PAC6525	\$8.19	\$2,424.24			
107	Paper, construction, groundwood, 9" x 12", 58 lb., Smart-Stack Assortment, 300 sheet/pack	[50 each white; 40 each holiday green and scarlet; 30 each blue and yellow; 25 each black and yellow-orange; and 15 each brown, pink, sky blue and violet) Pacon Sunworks #6525 or equal.	5760160-1730484	John R Green Co	No	1 - 300 Sheet Pack	296	PACON-P6525	37048	\$9.89	\$2,927.44			
108	Paper, construction, groundwood, 12" x 18", 58 lb., Smart-Stack Assortment, 150 sheet/pack	(40 each white; 20 each holiday green and scarlet; 15 each blue and yellow; 10 each black and yellow-orange; 5 each brown, pink, sky blue and violet). Pacon Sunworks #6526 or equal.	5760160-1730485	School Specialty LLC	No	1 - 150 Sheet Pack	169	PACON PRANG	6526	\$8.79	\$1,485.51	090206	Awarded	
108	Paper, construction, groundwood, 12" x 18", 58 lb., Smart-Stack Assortment, 150 sheet/pack	(40 each white; 20 each holiday green and scarlet; 15 each blue and yellow; 10 each black and yellow-orange; 5 each brown, pink, sky blue and violet). Pacon Sunworks #6526 or equal.	5760160-1730485	Complete Printer Source	No	1 - 150 Sheet Pack	169	Pacon	PAC6526	\$8.89	\$1,502.41			
	Smart-Stack Assortment, 150 sheet/pack	(40 each white; 20 each holiday green and scarlet; 15 each blue and yellow; 10 each black and yellow-orange; 5 each brown, pink, sky blue and violet). Pacon Sunworks #6526 or equal.				1 - 150 Sheet Pack		PACON-P6526	37049	\$9.89	\$1,671.41			
108	Smart-Stack Assortment, 150 sheet/pack	(40 each white; 20 each holiday green and scarlet; 15 each blue and yellow; 10 each black and yellow-orange; 5 each brown, pink, sky blue and violet). Pacon Sunworks #6526 or equal.		Supplies	No	1 - 150 Sheet Pack		Dixon Ticonderoga	001218250 CAS031289	\$10.28	\$1,737.32	Dixon Ticonderoga 001218250 Sold 250 Sheets per pack		
109	Paper, contact, clear, adhesive, 18" x 50' roll.	Kittrich #50F-750-01 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5785200-1533228	Cascade School Supplies	No	1 - 1 Each Roll	70	Kittrich Corp	25750 CAS118935	\$17.78	\$1,244.60	Kittrich Corp 25750 18 X 60'		REJECT - did not submit sample for evaluation.

109	Paper, contact, clear, adhesive, 18" x 50' roll.	Kittrich #50F-750-01 or equal. IF BIDDING THE APPROVED PRODUCT, NO	E795200.1522220	School Specialty LLC	No	1 - 1 Each	70	KITTRICH	50F-750	\$21.47	\$1,502.90		2093495		
103	raper, contact, elear, daneste, 10 × 30 foil.	SAMPLE IS REQUIRED.	3703200 1333220	School Specialty EEC		Roll	,,,	Kirnacii	301 730	ÿ21.47	\$1,502.50		2033433		
														Augusta	
														Awarded	
109	Paper, contact, clear, adhesive, 18" x 50' roll.	Kittrich #50F-750-01 or equal. IF BIDDING THE APPROVED PRODUCT, NO	5785200-1533228	Lakeshore Learning	No	1 - 1 Each	70	Lakeshore	CA722	\$27.89	\$1,952.30	Please reference "Per Quote	Clear Adhesive Roll - 50' x 18"		
103	raper, contact, elear, daneste, 10 × 30 foil.	SAMPLE IS REQUIRED.	3703200 1333220	Materials, LLC		Roll	,,,	Edicariore	COLL	\$27.03	\$1,552.50	#36611" on all purchase	TERMS: NET 30		
												orders.			
110	Paper, drawing, bogus, 18" x 24", 80 lb. only, gray, one	American Paper #818G250 or equal. SAMPLE = 5 sheets. IF BIDDING THE	5760100.1651050	School Specialty LLC	No	1 - 250	41	APC	818G250	\$20.16	\$826.56		206342		
110	side smooth, one side rough, heavy weight, fibrous, for	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	3760100-1631030	scrioor specialty LLC	NO	Sheet Pack	41	APC	8180230	\$20.16	\$020.30		200342		
	dry media including charcoal, chalk and pastels (not gray construction), 250 sheets/pkg.														
	gray construction), 230 sneets/pkg.													Awarded	
110	Paper, drawing, bogus, 18" x 24", 80 lb. only, gray, one side smooth, one side rough, heavy weight, fibrous, for	American Paper #818G250 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760100-1651050	John R Green Co	No	1 - 250 Sheet Pack	41	AMERICAN PAPER- 818G250	35203	\$21.96	\$900.36				
	dry media including charcoal, chalk and pastels (not	·													
	gray construction), 250 sheets/pkg.														
110	Paper, drawing, bogus, 18" x 24", 80 lb. only, gray, one side smooth, one side rough, heavy weight, fibrous, for	American Paper #818G250 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760100-1651050	Complete Printer Source	No	1 - 250 Sheet Pack	41	American Paper Converters	AMP818G250	\$24.89	\$1,020.49				
	dry media including charcoal, chalk and pastels (not	AT NOTED FROM THE IS REQUIRED.		Jource		Silect Fack		Converters							
	gray construction), 250 sheets/pkg.														
111		American Paper #ARP0518M, Pacon #4118 or equal. SAMPLE = 1 sheet. IF	5760220-1077329	School Specialty LLC	No	1 - 500	22	SAX	085552	\$21.31	\$468.82		085552		
	and finish, rough texture, 500 sheets/ream.	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Sheet Ream									
														Awarded	
111	Paper, drawing, manila, 18" x 24", 50 lb., uniform color	American Paper #ARP0518M, Pacon #4118 or equal. SAMPLE = 1 sheet. IF	5760220-1077329	John R Green Co	No	1 - 500	22	AMERICAN PAPER-	35053	\$23.74	\$522.28				
	and finish, rough texture, 500 sheets/ream.	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Sheet Ream		518M							
111	Danas describe manila 19" v 24" FO lb. uniform salas	American Paper #ARP0518M, Pacon #4118 or equal. SAMPLE = 1 sheet. IF	E760230 4077230	Complete Printer	No	1 - 500	22	American Paper	AMPARP0518M	\$24.89	\$547.58				
111	and finish, rough texture, 500 sheets/ream.	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	3760220-1077329	Source	NO	Sheet Ream	22	Converters	AWIPARPOSION	324.09	\$347.36				
111	Paper, drawing, manila, 18" x 24", 50 lb., uniform color and finish, rough texture, 500 sheets/ream.	American Paper #ARP0518M, Pacon #4118 or equal. SAMPLE = 1 sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760220-1077329	Cascade School Supplies	No	1 - 500 Sheet Ream	22	American Paper	518M CAS110919	\$25.87	\$569.14				
112		American Paper #818M or equal. SAMPLE = 1 sheet. IF YOU ARE BIDDING THE	5760220-1371939		No	1 - 500	18	American Paper	AMP818M	\$30.89	\$556.02				
	extra heavy, 500 sheets/ream.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Sheet Ream		Converters							
														Awarded	
113		American Paper #ARP0618W, Pacon #4718 or equal. THIS NOTE APPLIES TO	5760220-1426586	John R Green Co	No	1 - 500		AMERICAN PAPER-	35009	\$35.14	\$1,546.16				
	sulphite with medium texture.	ITEM NOS. 113 through 114: All media surface. Erasable. For all dry media.				Sheet Ream		618W							
		500 sheets/ream. SAMPLE = 1 sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												Awarded	
														Awarded	
113	Paper, drawing, white, 18" x 24", 60 lb. Pure white	American Paper #ARP0618W, Pacon #4718 or equal. THIS NOTE APPLIES TO	5760220-1426586	Complete Printer	No	1 - 500	44	American Paper	AMPARP0618M	\$36.15	\$1,590.60				
113	sulphite with medium texture.	ITEM NOS. 113 through 114: All media surface. Erasable. For all dry media.		Source	.40	Sheet Ream		Converters	/ POOLOW!	250.13	72,550.00				
		500 sheets/ream. SAMPLE = 1 sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
		Some Control													
113	Paper, drawing, white, 18" x 24", 60 lb. Pure white sulphite with medium texture.	American Paper #ARP0618W, Pacon #4718 or equal. THIS NOTE APPLIES TO ITEM NOS. 113 through 114: All media surface. Erasable. For all dry media.	5760220-1426586	Cascade School Supplies	No	1 - 500 Sheet Ream		Dixon Ticonderoga	618W CAS110769	\$44.76	\$1,969.44				
	Suprice with medium texture.	500 sheets/ream. SAMPLE = 1 sheet. IF BIDDING THE APPROVED PRODUCT,		Supplies		Since Realli									
1		NO SAMPLE IS REQUIRED.													
1															

113	Paper, drawing, white, 18" x 24", 60 lb. Pure white sulphite with medium texture.	American Paper BARPOGISW, Pacon #4718 or equal. THIS NOTE APPLIES TO ITEM NOS. 113 through 114: All media surface. Erasable. For all dry media. 500 sheets/ream. SAMPLE 1 sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760220-1426586	School Specialty LLC	No	1 - 500 Sheet Ream	44	PACON	4718	\$45.01	\$1,980.44		1401316		
114	Paper, drawing, white, 18" x 24", 80 lb. Pure white sulphite with medium texture.	American Paper #ARP0818W, Pacon #4818 or equal. SAMPLE = 1 sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760220-1426595	Complete Printer Source	No	1 - 500 Sheet Ream	102	American Paper Converters	AMPARP0818W	\$48.19	\$4,915.38			Awarded	
114	Paper, drawing, white, 18" x 24", 80 lb. Pure white sulphite with medium texture.	American Paper MARP0818W, Pacon M4818 or equal. SAMPLE = 1 sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760220-1426595	John R Green Co	No	1 - 500 Sheet Ream	102	AMERICAN PAPER- 818W	35024	\$48.71	\$4,968.42				
114	Paper, drawing, white, 18" x 24", 80 lb. Pure white sulphite with medium texture.	American Paper #ARP0818W, Pacon #4818 or equal. SAMPLE = 1 sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760220-1426595	School Specialty LLC	No	1 - 500 Sheet Ream	102	SCHOOL SMART	087811	\$49.06	\$5,004.12		087811		
114	Paper, drawing, white, 18" x 24", 80 lb. Pure white sulphite with medium texture.	American Paper #ARP0818W, Pacon #4818 or equal. SAMPLE = 1 sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760220-1426595	Cascade School Supplies	No	1 - 500 Sheet Ream	102	Dixon Ticonderoga	4818 CAS110789	\$57.22	\$5,836.44				
115	Paper, finger paint, 16" x 22", 60 lb., 100 sheets/pkg. Glossy white paper, extra strong, coated on both sides, non-absorbent, resists running, smearing and bleeding.	Pacon #5316 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760260-1426648	John R Green Co	No	1 - 100 Sheet Pack	159	AMERICAN PAPER- 1622	35086	\$4.76	\$756.84		DIFFERENT BRAND	Awarded	
115	Paper, finger paint, 16" x 22", 60 lb., 100 sheets/pkg. Glossy white paper, extra strong, coated on both sides, non-absorbent, resists running, smearing and bleeding.	Pacon #5316 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760260-1426648	Cascade School Supplies	No	1 - 100 Sheet Pack	159	American Paper	1622 CAS111045	\$5.75	\$914.25		American Paper 1622		
115	Paper, finger paint, 16" x 22", 60 lb., 100 sheets/pkg. Glossy white paper, extra strong, coated on both sides, non-absorbent, resists running, smearing and bleeding.	Pacon #5316 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760260-1426648	School Specialty LLC	No	1 - 100 Sheet Pack	159	SCHOOL SMART	085376	\$5.79	\$920.61		085376		
115	Paper, finger paint, 16" x 22", 60 lb., 100 sheets/pkg. Glossy white paper, extra strong, coated on both sides, non-absorbent, resists running, smearing and bleeding.	Pacon #5316 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760260-1426648	Complete Printer Source	No	1 - 100 Sheet Pack	159	Pacon	PAC5316	\$9.49	\$1,508.91				
	Paper, finger paint, 16" x 22", 60 lb., 100 sheets/pkg. Glossy white paper, extra strong, coated on both sides, non-absorbent, resists running, smearing and bleeding.	Pacon #5316 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Lakeshore Learning Materials, LLC		1 - 100 Sheet Pack	159	PACON	TA5316	\$11.15	\$1,772.85	Please reference "Per Quote #36611" on all purchase orders.	Fingerpaint Paper TERMS: NET 30		
116	Paper, graph, 3 hole, 8 1/2 "x 11", double sided, 1/4" blue ruling, 16 lb., white, 500 sheets/ream.	Pacon #2414 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760370-2013150	School Specialty LLC	No	1 - 500 Sheet Ream	604	SCHOOL SMART	086667	\$4.80	\$2,899.20		086667	Awarded	
116	Paper, graph, 3 hole, 8 1/2 "x 11", double sided, 1/4" blue ruling, 16 lb., white, 500 sheets/ream.	Pacon #2414 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760370-2013150	Complete Printer Source	No	1 - 500 Sheet Ream	604	Pacon	PAC2414	\$5.89	\$3,557.56				
116	Paper, graph, 3 hole, 8 1/2 "x 11", double sided, 1/4" blue ruling, 16 lb., white, 500 sheets/ream.	Pacon #2414 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760370-2013150	Lakeshore Learning Materials, LLC	No	1 - 500 Sheet Ream	604	Pacon	TA342 W/o Holes	\$12.08	\$7,296.32	Please reference "Per Quote #36611" on all purchase orders.	1/4" Graphing Paper - 500 Sheets TERMS: NET 30		

117	Paper, kraft, brown, wrapping/shipping paper, 36" x 1000" roll, 50 lb. Rolls are durable and strong. Use for art projects, backgrounds or wrapping. Recycled and recyclable.	Pacon #5836 or equal. SAMPLE = 1 piece, approx. 8" x 10". IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	769 Complete Printi Source	er No	1 - 1000 Foot Roll	21	Pacon	PAC5836	\$46.19	\$969.99			Awarded	
117	Paper, kraft, brown, wrapping/shipping paper, 36" x 1000" roll, 50 lb. Rolls are durable and strong. Use for art projects, backgrounds or wrapping. Recycled and recyclable.	Pacon #5836 or equal. SAMPLE = 1 piece, approx. 8" x 10". IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	769 School Specialty	LLC No	1 - 1000 Foot Roll	21	PACON	5836	\$47.01	\$987.21		1392540		
117	Paper, kraft, brown, wrapping/shipping paper, 36" x 1000' roll, 50 lb. Rolls are durable and strong. Use for art projects, backgrounds or wapping. Recycled and recyclable.	Pacon #5836 or equal. SAMPLE = 1 piece, approx. 8" x 10". IF BIDDING THE S760600-165 APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	769 John R Green C	co No	1 - 1000 Foot Roll	21	PACON-P5836	12505	\$48.84	\$1,025.64				
117	Paper, kraft, brown, wrapping/shipping paper, 36" x 1000' roll, 50 lb. Rolls are durable and strong. Use for art projects, backgrounds or wapping. Recycled and recyclable.	Pacon #5836 or equal. SAMPLE = 1 piece, approx. 8" x 10". IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. 5760600-165	769 Cascade Schoo Supplies	ol No	1 - 1000 Foot Roll	21	Dixon Ticonderoga	5836 CAS116758	\$53.51	\$1,123.71				
117	Paper, kraft, brown, wrapping/shipping paper, 36" x 1000' roll, 50 lb. Rolls are durable and strong. Use for art projects, backgrounds or wapping. Recycled and recyclable.	Pacon #5836 or equal. SAMPLE = 1 piece, approx. 8" x 10". IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	769 Lakeshore Learn Materials, LLC		1 - 1000 Foot Roll	21	PACON	LX9950	\$83.69	\$1,757.49	Please reference "Per Quote #36611" on all purchase orders.	Craft Butcher Paper Roll TERMS: NET 30		
118	Paper, kraft, white, 40 lb., 36" x 1000' roll, all-purpose paper. Use for murals, collages, finger painting, table covers and craft projects. Recycled and recyclable.	Pacon #5636 or equal. SAMPLE = 1 piece, approx. 8" x 10". IF BIDDING THE S760290-171 APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	518 Complete Printi Source	er No	1 - 1000 Foot Roll	10	Pacon	PAC5636	\$48.59	\$485.90			Awarded	
118	Paper, kraft, white, 40 lb., 36" x 1000" roll, all-purpose paper. Use for murals, collages, finger painting, table covers and craft projects. Recycled and recyclable.	Pacon #5636 or equal. SAMPLE = 1 piece, approx. 8" x 10". IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	518 Cascade Schoo Supplies	ol No	1 - 1000 Foot Roll	10	American Paper	4WH CAS115554	\$54.34	\$543.40		American Paper 4WH		
118	Paper, kraft, white, 40 lb., 36" x 1000" roll, all-purpose paper. Use for murals, collages, finger painting, table covers and craft projects. Recycled and recyclable.	Pacon #5636 or equal. SAMPLE = 1 piece, approx. 8" x 10". IF BIDDING THE S760290-171 APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	John R Green C	co No	1 - 1000 Foot Roll	10	PACON-P5636	57299	\$72.64	\$726.40				
118	Paper, kraft, white, 40 lb., 36" x 1000" roll, all-purpose paper. Use for murals, collages, finger painting, table covers and craft projects. Recycled and recyclable.	Pacon #5636 or equal. SAMPLE = 1 piece, approx. 8" x 10". IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	518 Lakeshore Learn Materials, LLC		1 - 1000 Foot Roll	10	PACON	LX9990	\$92.99	\$929.90	Please reference "Per Quote #36611" on all purchase orders.	White Butcher Paper Roll TERMS: NET 30		
119	Paper, looseleaf, 3 hole, college ruled, 8" x 10 1/2", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	Pacon BMMK09204, Roaring Springs #20051 or equal. SAMME = 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMME IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	151 Cascade Schoo Supplies	ol No	1 - 1 Each Pack	829	Dixon Ticonderoga/Pacon	MMK09221 CAS108825	\$1.40	\$1,160.60		Dixon Ticonderoga/Pacon MMK09221 Sold 100 sheets per pack		REJECT- did not submit sample for evaluation.
119	Paper, looseleaf, 3 hole, college ruled, 8" x 10 1/2", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	Pacon #MMK09204, Roaring Springs #20051 or equal. SAMPLE = 6 sheets. IF 5760370-201 BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.			1 - 1 Each Pack	829	C-LINE	22031	\$1.85	\$1,533.65	PK/100	2044705		
119	Paper, looseleaf, 3 hole, college ruled, 8" x 10 1/2", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	Pacon #MMK09204, Roaring Springs #20051 or equal. SAMPLE = 6 sheets. IF 5760370-201 BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	151 Complete Printi Source	er No	1 - 1 Each Pack	829	Pacon	PACMMK09204	\$3.04	\$2,520.16		200/PK	Awarded	Awarded -based on lowest price per sheet.
119	Paper, looseleaf, 3 hole, college ruled, 8" x 10 1/2", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	Pacon #MMK09204, Roaring Springs #20051 or equal. SAMPLE = 6 sheets. IF 5760370-201 BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	John R Green C	Co No	1 - 1 Each Pack	829	PACON- PMMK09204	50097	\$3.66	\$3,034.14		200 SHEETS		

120	Paper, looseleaf, 3 hole, wide ruled, 8" x 10 1/2", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	Pacon #MMK09201, Roaring Springs #20020 or equal. SAMPLE = 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIZED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field. Specify no. of sheets per pack.	5760370-2013152	Cascade School Supplies	No	1 - 1 Each Pack	2933	American Paper	09201 CAS108824	\$1.16	\$3,402.28		Sold 100 sheets per pack		
120	Paper, looseleaf, 3 hole, wide ruled, 8" x 10 1/2", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	Pacon #MMK09201, Roaring Springs #20020 or equal. SAMPLE = 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	5760370-2013152	Complete Printer Source	No	1 - 1 Each Pack	2933	Pacon	PACMMK09201	\$1.69	\$4,956.77		100/РК		
	bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	Pacon #MMK09201, Roaring Springs #20020 or equal. SAMPLE = 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.				1 - 1 Each Pack	2933	PACON- PMMK09201	50098	\$1.72	\$5,044.76		100 SHEETS		
120	Paper, looseleaf, 3 hole, wide ruled, 8" x 10 1/2", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	Pacon MMM09201, Roaring Springs #20020 or equal. SAMPLE = 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	5760370-2013152	School Specialty LLC	No	1 - 1 Each Pack	2933	SCHOOL SMART	085285	\$1.90	\$5,572.70	PK/200	085285	Awarded	Awarded - based on lowest price per sheet.
121	Paper, looseleaf, 3 hole, college ruled, 8 1/2" x 11", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	APC #140P-100, Pacon #MMKX09212, Roaring Springs #83911 or equal. SAMPLE = 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	5760370-1731017	Complete Printer Source	No	1 - 1 Each Pack	2830	American Paper Converters	AMP140P100	\$1.49	\$4,216.70		100/РК		
121	Paper, looseleaf, 3 hole, college ruled, 8 1/2" x 11", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	APC #140P-100, Pacon MMMX09212, Roaring Springs #83931 or equal. SAMPLE = 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer, Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	5760370-1731017	John R Green Co	No	1 - 1 Each Pack	2830	AMERICAN PAPER- APC140P100	59337	\$1.76	\$4,980.80		100 SHEETS		
121	Paper, looseleaf, 3 hole, college ruled, 8 1/2" x 11", white bond, approx. 15 lb. basis weight, ruled two sides allike with red margin lines.	APC #140P-100, Pacon MMMX09212, Roaring Springs #83931 or equal. SAMPLE = 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer, Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	5760370-1731017	School Specialty LLC	No	1 - 1 Each Pack	2830	SCHOOL SMART	085289	\$1.99	\$5,631.70	PK/200	085289	Awarded	Awarded - based on lowest price per sheet.
122	Paper, Joseleaf, 3 hole, wide ruled, 8 1/2" x 11", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	APC #130P100, Roaning Springs #83928 or equal. SAMPLE is 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	5760370-1423427	odp BUSINESS SOLUTIONS, LLC	No	1 - 1 Each Pack	4495	PT PABRIK KERTAS TJIWI KIMIA T	LL0175488	\$0.82	\$3,685.90	0.82	PT PABRIK KERTAS TJIWI KIMIA T		REJECT- did not submit sample for evaluation.
	Paper, looseleaf, 3 hole, wide ruled, 8 1/2" x 11", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	APC 4130P100, Roaning Springs M83928 or equal. SAMPLE 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	5760370-1423427	Complete Printer Source	No	1 - 1 Each Pack	4495	American Paper Converters	AMP130P100	\$1.49	\$6,697.55		100/PK		
122	Paper, looseleaf, 3 hole, wide ruled, 8 1/2" x 11", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	APC 4130P100, Roaning Springs R83928 or equal. SAMPLE 6 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	5760370-1423427	John R Green Co	No	1 - 1 Each Pack	4495	AMERICAN PAPER- APC-130P100	59336	\$1.76	\$7,911.20		100 SHEETS		
122	Paper, looseleaf, 3 hole, wide ruled, 8 1/2" x 11", white bond, approx. 15 lb. basis weight, ruled two sides alike with red margin lines.	APC #130P100, Roaring Springs #83928 or equal. SAMPLE = 6 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. NOTE: Package quantity may vary per manufacturer. Price will be evaluated per sheet. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: Specify no. of sheets per pack.	5760370-1423427	School Specialty LLC	No	1 - 1 Each Pack	4495	APC	130P	\$4.87	\$21,890.65		245332	Awarded	Awarded - based on price per sheet.
123	Paper, parchment, 8 1/2" x 11", 24 lb. weight. IVORY.	Laser, inkjet and copier compatible, acid and lignin-free, 100 sheets/pk. Southworth #P984CK or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2012411	Complete Printer Source	No	1 - 100 Sheet Pack	37	Neenah	SOUP984CK	\$19.09	\$706.33			Awarded	
124	Paper, posterboard 11" x 14", 5 sheets/pkg. WHITE.	Pacon #5417 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760420-2014373	Complete Printer Source	No	1 - 5 Sheet Pack	1468	Pacon	PAC5417	\$1.36	\$1,996.48				The Board will draw lots to break the tie.

124	Paper nosterhoard 11" v 14" 5 sheets/nkg WHITE	Pacon #5417 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS	5760420-2014373	John R Green Co	No	1 - 5 Sheet	1468	PACON-P5417	50118	\$1.36	\$1,996.48				The Board will draw lots to break the tie.
124	Taper, posteroona 11 × 14 , 5 sheets) ping. White.	REQUIRED.	3700420 2014373	John N Green Co		Pack	1400	1710011 3417	30110	\$1.50	\$1,550.40				The board will are wide to break the de.
125	Pen, overhead projection, fine point, 4-color set.	Colors: black, blue, green and red. Ink provides clear, bright images, will not	2500520-1678621	John R Green Co	No	1 - 4 Count	42	OHP LIQUI-MARK-	08240	\$2.12	\$89.04		DIFFERENT BRAND		REJECT- item bid is not equal, felt point not acceptable.
123	ren, overhead projection, time point, 4 color sec	fade or bubble under intense lamp heat, smooth writing, erases with a damp cloth. AP Certified Non-toxic. EXPO Vis-a-vis #16074 or equal. SAMPLE = 1	2300320 1070021	John II Green co		Set		12004	00240	72.12	303.04		SIT EXERT SIGNAS		nezer tem sio s not equal, tet point not deceptaise.
		set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
125	Pen, overhead projection, fine point, 4-color set.	Colors: black, blue, green and red. Ink provides clear, bright images, will not fade or bubble under intense lamp heat, smooth writing, erases with a damp	2500520-1678621	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 4 Count Set	42	EXPO VIS A VIS	16074	\$3.28	\$137.76				
		cloth. AP Certified Non-toxic. EXPO Vis-a-vis #16074 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												Awarded	
														Awarueu	
125	Pen, overhead projection, fine point, 4-color set.	Colors: black, blue, green and red. Ink provides clear, bright images, will not fade or bubble under intense lamp heat, smooth writing, erases with a damp	2500520-1678621	Complete Printer Source	No	1 - 4 Count Set	42	Sanford	SAN2134341	\$4.29	\$180.18				
		cloth. AP Certified Non-toxic. EXPO Vis-a-vis #16074 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
125	Pen, overhead projection, fine point, 4-color set.	Colors: black, blue, green and red. Ink provides clear, bright images, will not fade or bubble under intense lamp heat, smooth writing, erases with a damp	2500520-1678621	Cascade School Supplies	No	1 - 4 Count Set	42	Newell Brands/Vis-A Vis	2134341 CAS121949	\$5.41	\$227.22		Newell Brands/Vis-A-Vis 2134341		
		rade or bubble under intense lamp neat, smooth writing, erases with a damp cloth. AP Certified Non-toxic. EXPO Vis-a-vis #16074 or equal. SAMPLE = 1 set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Jupplies		Ser		VIS	CA3121343						
		JEE SIDDING THE AFFROYED FRODUCT, NO SAMPLE IS REQUIRED.													
125	Pen, overhead projection, fine point, 4-color set.	Colors: black, blue, green and red. Ink provides clear, bright images, will not	2500520-1678621		No	1 - 4 Count	42	Liquimark	VC441 Set/8	\$9.29	\$390.18	Please reference "Per Quote #36611" on all purchase	Wet-Erase Markers TERMS: NET 30		
		fade or bubble under intense lamp heat, smooth writing, erases with a damp cloth. AP Certified Non-toxic. EXPO Vis-a-vis #16074 or equal. SAMPLE = 1		Materials, LLC		Set						#36611" on all purchase orders.			
		set. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
126		Water-based ink, bleed through resistant formula, AP certified. Paper Mate or	5690660-2013156		No	1 - 12 Count	1094	NEWELL BRANDS	74423	\$9.52	\$10,414.88	9.52	NEWELL BRANDS		REJECT- did not submit sample for evaluation.
	guard tip, quick drying, assorted colors.	equal. SAMPLE REQUIRED.		SOLUTIONS, LLC		Pack									
126	Pen, porous point, medium point, 12 color pack, point	Water-based ink, bleed through resistant formula, AP certified. Paper Mate or	5690660-2013156	PYRAMID SCHOOL	No	1 - 12 Count	1094	PAPERMATE	74423	\$10.71	\$11,716.74				
110	guard tip, quick drying, assorted colors.	equal. SAMPLE REQUIRED.	3030000 1013130	PRODUCTS		Pack	1034	TAT ENWENTE	74423	310.71	\$11,710.74				
														Awarded	
126	December of the section of the A2 of the section of the	Water-based ink, bleed through resistant formula, AP certified. Paper Mate or	5500550 2042455	NATIONAL ART 0	No	1 - 12 Count	1094	PAPERMATE	74423	\$11.48	\$12,559.12				
126	guard tip, quick drying, assorted colors.	equal. SAMPLE REQUIRED.	5690660-2013156	SCHOOL SUPPLIES	NO	Pack	1094	PAPERMATE	74423	\$11.48	\$12,559.12				
126	Pen, porous point, medium point, 12 color pack, point guard tip, quick drying, assorted colors.	Water-based ink, bleed through resistant formula, AP certified. Paper Mate or equal. SAMPLE REQUIRED.	5690660-2013156	Cascade School Supplies	No	1 - 12 Count Pack	1094	Newell Brands/Papermate	74423 CAS033360	\$12.93	\$14,145.42		Newell Brands/Papermate 74423		
126	Pen, porous point, medium point, 12 color pack, point guard tip, quick drying, assorted colors.	Water-based ink, bleed through resistant formula, AP certified. Paper Mate or equal. SAMPLE REQUIRED.	5690660-2013156	Complete Printer Source	No	1 - 12 Count Pack	1094	Sanford	PAP74423	\$13.89	\$15,195.66				
		·													
127	Pencil, colored, pre-sharpened, 50 color set, 7" long in tuck box.	Crayola #68-4050 or equal.	1220680-1701653	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Count Set	637	CRAYOLA	68-4050	\$5.99	\$3,815.63				
	www.MON					500									
														Awarded	
127	Pencil, colored, pre-sharpened, 50 color set, 7" long in	Crayola #68-4050 or equal.	1220680-1701653	NATIONAL ART &	No	1 - 50 Count	637	CRAYOLA	68-4050	\$6.59	\$4,197.83				
	tuck box.			SCHOOL SUPPLIES		Set									
1							1	1							

427	Development and the second State of Allice in	County IICO 1050 account	4220000 4704052	School Specialty LLC		4 50 5	627	CRAVOLA	50.4050	65.50	64 204 20	T.	424005		
127	Pencil, colored, pre-sharpened, 50 color set, 7" long in tuck box.	Crayola #68-4050 or equal.	1220680-1701653	School Specialty LLC	No	1 - 50 Count Set	637	CRAYOLA	68-4050	\$6.60	\$4,204.20		424986		
127	Pencil, colored, pre-sharpened, 50 color set, 7" long in	Crayola #68-4050 or equal.	1220680-1701653		No	1 - 50 Count	637	Crayola	CYO684050	\$7.49	\$4,771.13				
	tuck box.			Source		Set									
127	Pencil, colored, pre-sharpened, 50 color set, 7" long in tuck box.	Crayola #68-4050 or equal.	1220680-1701653	John R Green Co	No	1 - 50 Count Set	637	CRAYOLA-4050	06663	\$7.72	\$4,917.64				
127	Pencil, colored, pre-sharpened, 50 color set, 7" long in	Crayola #68-4050 or equal.	1220680-1701653	Cascade School	No	1 - 50 Count	637	Crayola	684050	\$8.98	\$5,720.26				
	tuck box.			Supplies		Set			CAS027931						
128	Pencil, multicultural colored, pre-sharpened, 24 color set.	Crayola #68-4607 or equal.	1220680-2014374	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Count Set	790	CRAYOLA	68-4607	\$2.95	\$2,330.50				
	381.			PRODUCTS		Set									
														Awarded	
128	Pencil, multicultural colored, pre-sharpened, 24 color	Crayola #68-4607 or equal.	1220680-2014374	NATIONAL ART &	No	1 - 24 Count	790	CRAYOLA	68-4607	\$3.20	\$2,528.00				
	set.			SCHOOL SUPPLIES		Set				75.25	¥=,=====				
128	Pencil, multicultural colored, pre-sharpened, 24 color	Crayola #68-4607 or equal.	1220680-2014374	School Specialty LLC	No	1 - 24 Count	790	CRAYOLA	68-4607	\$3.20	\$2,528.00		2090275		
	set.					Set									
128	Pencil, multicultural colored, pre-sharpened, 24 color	Crayola #68-4607 or equal.	1220680-2014374	John R Green Co	No	1 - 24 Count	790	CRAYOLA-4607	41358	\$3.49	\$2,757.10				
120	set.	Crayula #66-4607 or equal.	1220000-2014374	John K Green Co	NO	Set Set	790	CRATOLA-4607	41550	\$5.49	\$2,757.10				
128	Pencil, multicultural colored, pre-sharpened, 24 color	Crayola #68-4607 or equal.	1220680-2014374	Complete Printer	No	1 - 24 Count	790	Crayola	CYO684607	\$3.69	\$2,915.10				
	set.			Source		Set									
430	Doneil multicultural colors days days days	Cravela MCQ CCCC	1220690 204 427	Cassado Saland	,	1 24 0	700	Consists	694697	64.33	63.443.00				
128	Pencil, multicultural colored, pre-sharpened, 24 color set.	Crayola #68-4607 or equal.	1220680-2014374	Cascade School Supplies	No	1 - 24 Count Set	790	Crayola	684607 CAS037915	\$4.32	\$3,412.80				
129		Universal #24264 or equal. SAMPLE = 6 pencils. IF BIDDING THE APPROVED	5690680-2013157		No	1 - 144	695	PYRAMID	1743855	\$4.89	\$3,398.55				
	woodcase, presharpened, 144/box.	PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		Count Box									
1									I						
														Awarded	
129	Pencil, golf/compass, #2, no eraser, mini 3 1/2", woodcase, presharpened, 144/box.	Universal #24264 or equal. SAMPLE = 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2013157	Cascade School Supplies	No	1 - 144 Count Box	695	Liqui-Mark	66971 CAS018601	\$9.10	\$6,324.50		Liqui-Mark 66971		
1	woodcase, presidipened, 144/00x.	FRODUCT, NO SAMPLE IS REQUIRED.		Jupplies		Count BUX			I						
129	Pencil, golf/compass, #7, no eraser, mini 3 1/7"	Universal #24264 or equal. SAMPLE = 6 pencils. IF BIDDING THE APPROVED	5690680-2013157	Complete Printer	No	1 - 144	695	Universal	UNV24264	\$9.47	\$6,581.65				
1	woodcase, presharpened, 144/box.	PRODUCT, NO SAMPLE IS REQUIRED.		Source		Count Box				, J,	7-,501.05				
1									I						
1									I						

	T							1					1		
129	Pencil, golf/compass, #2, no eraser, mini 3 1/2", woodcase, presharpened, 144/box.	Universal #24264 or equal. SAMPLE = 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2013157	School Specialty LLC	No	1 - 144 Count Box	695	DIXON	14998	\$10.05	\$6,984.75		020898		
129	Pencil, golf/compass, #2, no eraser, mini 3 1/2",	Universal #24264 or equal. SAMPLE = 6 pencils. IF BIDDING THE APPROVED	5690680-2013157	John R Green Co	No	1 - 144	695	DIXON/TICONDERO	79066	\$10.98	\$7,631.10		DIFFERENT BRAND		
	woodcase, presharpened, 144/box.	PRODUCT, NO SAMPLE IS REQUIRED.				Count Box		GA-14998							
130	Pencil, mechanical, rubber grip, 0.7 mm black lead with		5690680-1732291		No	1 - 12 Count	1273	BIC CORP	MP11	\$2.20	\$2,800.60	2.2	BIC CORP		REJECT- did not submit sample for evaluation.
	eraser and pocket clip, assorted colored barrels, non- refillable, 12/box.	PRODUCT, NO SAMPLE IS REQUIRED.		SOLUTIONS, LLC		Box									
130	Pencil, mechanical, rubber grip, 0.7 mm black lead with eraser and pocket clip, assorted colored barrels, non-	Bic Matic #MPG11 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1732291	Cascade School Supplies	No	1 - 12 Count Box	1273	Bic USA	MP11 CAS026439	\$3.81	\$4,850.13				REJECT- did not submit sample for evaluation.
	refillable, 12/box.	PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		ВОХ									
130	Pencil, mechanical, rubber grip, 0.7 mm black lead with eraser and pocket clip, assorted colored barrels, non-	Bic Matic #MPG11 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1732291	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	1273	BIC	MPG11	\$4.27	\$5,435.71				
	refillable, 12/box.														
														Awarded	
130	Pencil, mechanical, rubber grip, 0.7 mm black lead with	Bic Matic #MPG11 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED	5690680-1732291	PYRAMID SCHOOL	No	1 - 12 Count	1273	BIC	MPG11	\$4.69	\$5,970.37				
130	eraser and pocket clip, assorted colored barrels, non-	PRODUCT, NO SAMPLE IS REQUIRED.	3030080-1732231	PRODUCTS	140	Box	12/3	bic	WIFGII	54.05	\$3,570.37				
	refillable, 12/box.														
130	Pencil, mechanical, rubber grip, 0.7 mm black lead with	Bic Matic #MPG11 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED	5690680-1732291	Complete Printer	No	1 - 12 Count	1273	BIC	BICMPG11	\$4.80	\$6,110.40				
	eraser and pocket clip, assorted colored barrels, non-	PRODUCT, NO SAMPLE IS REQUIRED.		Source		Box									
	refillable, 12/box.														
130	Pencil, mechanical, rubber grip, 0.7 mm black lead with		5690680-1732291	John R Green Co	No	1 - 12 Count	1273	BIC-MP611-BLK	06020	\$5.28	\$6,721.44				
	eraser and pocket clip, assorted colored barrels, non- refillable, 12/box.	PRODUCT, NO SAMPLE IS REQUIRED.				Box									
	13														
130	Pencil, mechanical, rubber grip, 0.7 mm black lead with		5690680-1732291	School Specialty LLC	No	1 - 12 Count	1273	BIC	MPG11	\$5.56	\$7,077.88		077229		
	eraser and pocket clip, assorted colored barrels, non- refillable, 12/box.	PRODUCT, NO SAMPLE IS REQUIRED.				Box									
131	Pencil, writing, beginner 3.6 mm black lead, pencil diameter 13/32", no eraser, easy to hold for	Dixon #13080 or equal. SAMPLE= 2 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1713725	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	370	DIXON	13080	\$3.20	\$1,184.00				
	kindergarteners and first graders.														
														Awarded	
1															
131	Pencil, writing, beginner 3.6 mm black lead, possil	Dixon #13080 or equal. SAMPLE= 2 pencils. IF BIDDING THE APPROVED	5690680-1713775	School Specialty LLC	No	1 - 12 Count	370	DIXON	13080	\$3.30	\$1,221.00		1004651		
151	diameter 13/32", no eraser, easy to hold for	PRODUCT, NO SAMPLE S REQUIRED.	5090000-1/15/25	School Specialty LLC	140	Box	3/0	DIAUN	13000	02.در	£1,221.UU		1004031		
	kindergarteners and first graders.														
131	Pencil, writing, beginner 3.6 mm black lead, pencil	Dixon #13080 or equal. SAMPLE= 2 pencils. IF BIDDING THE APPROVED	5690680-1713725	John R Green Co	No	1 - 12 Count	370	DIXON/TICONDERO	06118	\$3.42	\$1,265.40				
	diameter 13/32", no eraser, easy to hold for kindergarteners and first graders.	PRODUCT, NO SAMPLE IS REQUIRED.				Box		GA-13080							
	kindergarteners dilu ilist giduers.														
131	Pencil, writing, beginner 3.6 mm black lead, pencil	Dixon #13080 or equal. SAMPLE= 2 pencils. IF BIDDING THE APPROVED	5690680-1713725		No	1 - 12 Count	370	DIXON	13080	\$3.52	\$1,302.40				
	diameter 13/32", no eraser, easy to hold for kindergarteners and first graders.	PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES		Box									
1															
						•								•	

131	Pencil, writing, beginner 3.6 mm black lead, pencil diameter 13/32", no eraser, easy to hold for kindergarteners and first graders.	Dixon #13080 or equal. SAMPLE= 2 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1713725	Complete Printer Source	No	1 - 12 Count Box	370	Dixon Ticonderoga	DIX13080	\$3.69	\$1,365.30				
131	Pencil, writing, beginner 3.6 mm black lead, pencil	Dixon #13080 or equal. SAMPLE= 2 pencils. IF BIDDING THE APPROVED	5690680-1713725		No	1 - 12 Count	370	Dixon Ticonderoga	13080 CAS148816	\$3.75	\$1,387.50				
	diameter 13/32", no eraser, easy to hold for kindergarteners and first graders.	PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Box									
131	Pencil, writing, beginner 3.6 mm black lead, pencil diameter 13/32", no eraser, easy to hold for	Dixon #13080 or equal. SAMPLE= 2 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1713725	Lakeshore Learning Materials, LLC	No	1 - 12 Count Box	370	Lakeshore	MN10	\$6.50	\$2,405.00	Please reference "Per Quote #36611" on all purchase	Easy-Grip Triangular Pencils - Set of 12 TERMS: NET 30		
	kindergarteners and first graders.											orders.			
132	Pencil, writing, intermediate, 3.6 mm black lead, pencil diameter 11/32", no eraser.	Musgrave #2020 or equal. SAMPLE = 2 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1426942	John R Green Co	No	1 - 12 Count Box	186	MUSGRAVE-2020	06140	\$2.36	\$438.96				
														Awarded	
132	Pencil, writing, intermediate, 3.6 mm black lead, pencil diameter 11/32", no eraser.	Musgrave #2020 or equal. SAMPLE = 2 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1426942	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	186	MUSGRAVE	2020	\$2.39	\$444.54				
132	Pencil, writing, intermediate, 3.6 mm black lead, pencil diameter 11/32", no eraser.	Musgrave #2020 or equal. SAMPLE = 2 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1426942	Cascade School Supplies	No	1 - 12 Count Box	186	Dixon Ticonderoga	13040 CAS148821	\$3.17	\$589.62		Dixon Ticonderoga 13040		
133	Pencil, writing, No. 2, HB, pre-sharpened, 12/pk. with latex-free eraser, commercial grade yellow wood case,	Dixon Oriole #12886 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012748	odp BUSINESS SOLUTIONS, LLC	No	1 - 12 Count Pack	26662	CHINA FIRST PENCIL CO LTD	11001539	\$0.69	\$18,396.78	0.69	CHINA FIRST PENCIL CO LTD		REJECT- did not submit sample for evaluation.
	bonded, break-resistant black core, PMA Certified Non- toxic.														
133	Pencil, writing, No. 2, HB, pre-sharpened, 12/pk. with latex-free eraser, commercial grade yellow wood case, bonded, break-resistant black core, PMA Certified Nontoxic.	Dixon Oriole #12886 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012748	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Pack	26662	DIXON ORIOLE	12886	\$1.15	\$30,661.30			Awarded	
133	Pencil, writing, No. 2, HB, pre-sharpened, 12/pk, with later-free eraser, commercial grade yellow wood case, bonded, break-resistant black core, PMA Certified Non-toxic.	Dixon Oriole #12886 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012748	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Pack	26662	DIXON	12886	\$1.22	\$32,527.64				
133	Pencil, writing, No. 2, HB, pre-sharpened, 12/pk. with	Dixon Oriole #12886 or equal. IF BIDDING THE APPROVED PRODUCT, NO	5690680-2012748	School Specialty LLC	No	1 - 12 Count	26662	DIXON	12886	\$1.28	\$34,127.36		069839		
	latex-free eraser, commercial grade yellow wood case, bonded, break-resistant black core, PMA Certified Non- toxic.	SAMPLE IS REQUIRED.				Pack									
133	Pencil, writing, No. 2, HB, pre-sharpened, 12/pk. with latex-free eraser, commercial grade yellow wood case, bonded, break-resistant black core, PMA Certified Non-toxic.	Dixon Oriole #12886 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012748	John R Green Co	No	1 - 12 Count Pack	26662	DIXON/ORIOLE- 12886	06041	\$1.41	\$37,593.42				
133	Pencil writing No 2 LID are sharehard 42/at with	Dixon Oriole #12886 or equal. IF BIDDING THE APPROVED PRODUCT, NO	5690680-2012748	Careado Sabasi	No	1 - 12 Court	26662	Dixon Ticonderoga	12006 (45025020	\$1.48	\$39,459.76				
133	Pencil, writing, No. 2, HB, pre-sharpened, 12/pk, with latex-free eracer, commercial grade yellow wood case, bonded, break-resistant black core, PMA Certified Non- toxic.	Dixon Oriole #12886 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	J-09U08U-2U12/48	Cascade School Supplies	NO	1 - 12 Count Pack	20062	ווגסח IIconderoga	12880 CASU25829	\$1.48	\$39,459.76				
133	Pencil, writing, No. 2, HB, pre-sharpened, 12/pk. with latex-free eraser, commercial grade yellow wood case, bonded, break-resistant black core, PMA Certified Non-toxic.	Dixon Oriole #12886 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012748	Complete Printer Source	No	1 - 12 Count Pack	26662	Dixon Ticonderoga	DIX12886	\$1.54	\$41,059.48				

	T														
133	Pencil, writing, No. 2, HB, pre-sharpened, 12/pk. with latex-free eraser, commercial grade yellow wood case,	Dixon Oriole #12886 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012748	Lakeshore Learning Materials, LLC	No	1 - 12 Count Pack	26662	Lakeshore	SU28 Unsharpened	\$2.78	\$74,120.36	Please reference "Per Quote #36611" on all purchase	Standard #2 Pencils - Set of 12 TERMS: NET 30		
	bonded, break-resistant black core, PMA Certified Non-											orders.			
	toxic.														
134	Pencil, writing, No. 2, with eraser , 12/pk. Premium	Dixon Ticonderoga #13882. NO SUBSTITUTE.	5690680-2012752	NATIONAL ART &	No	1 - 12 Count	11569	DIXON	13882	\$1.57	\$18,163.33				
	cedar barrel, yellow hexagon-shape barrel, easy to			SCHOOL SUPPLIES		Pack									
	sharpen, PMA Certified Non-toxic.														
														Awarded	
134	Pencil, writing, No. 2, with eraser , 12/pk. Premium	Dixon Ticonderoga #13882. NO SUBSTITUTE.	5690680-2012752	PYRAMID SCHOOL	No	1 - 12 Count	11569	DIXON	13882	\$1.59	\$18,394.71				
	cedar barrel, yellow hexagon-shape barrel, easy to sharpen, PMA Certified Non-toxic.			PRODUCTS		Pack		TICONDEROGA							
134	Pencil, writing, No. 2, with eraser, 12/pk. Premium cedar barrel, yellow hexagon-shape barrel, easy to	Dixon Ticonderoga #13882. NO SUBSTITUTE.	5690680-2012752	Cascade School Supplies	No	1 - 12 Count Pack	11569	Dixon Ticonderoga	138882 CAS148766	\$1.75	\$20,245.75				
	sharpen, PMA Certified Non-toxic.			Supplies		rack			CA3148700						
134	Pencil, writing, No. 2, with eraser , 12/pk. Premium	Dixon Ticonderoga #13882. NO SUBSTITUTE.	5690680, 2012752	School Specialty LLC	No	1 - 12 Count	11569	DIXON	13882	\$1.79	\$20,708.51		017646		
134	cedar barrel, yellow hexagon-shape barrel, easy to	Dixon reconcerego #25002. NO 500511101E.	233000-2012/32	DINOOI Specialty EEC		Pack	11303	S.MOIV	13002	J1.75	920,700.JI		027040		
	sharpen, PMA Certified Non-toxic.														
134	Pencil, writing, No. 2, with eraser , 12/pk. Premium	Dixon Ticonderoga #13882. NO SUBSTITUTE.	5690680-2012752	Complete Printer	No	1 - 12 Count	11569	Dixon Ticonderoga	DIX13882	\$2.19	\$25,336.11				
	cedar barrel, yellow hexagon-shape barrel, easy to			Source		Pack									
	sharpen, PMA Certified Non-toxic.														
134	Pencil, writing, No. 2, with eraser , 12/pk. Premium	Dixon Ticonderoga #13882. NO SUBSTITUTE.	5690680-2012752	John R Green Co	No	1 - 12 Count	11569	DIXON/TICONDERO	06044	\$2.30	\$26,608.70				
	cedar barrel, yellow hexagon-shape barrel, easy to					Pack		GA-13882							
	sharpen, PMA Certified Non-toxic.														
135	Pencil, writing, No. 2 medium soft. Yellow, high quality	PMA Certified Non-toxic. Dixon #14402 or equal. SAMPLE= 6 pencils. IF	5690680-1150338		No	1 - 12 Count	40253	DIXON	14402	\$0.72	\$28,982.16	0.72	DIXON TICONDEROGA CO		
	wood case, 100% real wood with a quality Yellow, high quality wood case, 100% real wood with a quality	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		SOLUTIONS, LLC		Pack		TICONDEROGA CO							
	graphite core, latex free eraser, 12/pk.													Asserted	
														Awarded	
135	Pencil, writing, No. 2 medium soft. Yellow, high quality		5690680-1150338	PYRAMID SCHOOL	No	1 - 12 Count	40253	PYRAMID	1743780	\$0.79	\$31,799.87				
	wood case, 100% real wood with a quality Yellow, high quality wood case, 100% real wood with a quality	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		Pack									
	graphite core, latex free eraser, 12/pk.														
1					1			1							
1								1							
								L		L					
135	Pencil, writing, No. 2 medium soft. Yellow, high quality wood case, 100% real wood with a quality Yellow, high	PMA Certified Non-toxic. Dixon #14402 or equal. SAMPLE= 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1150338	School Specialty LLC	No	1 - 12 Count Pack	40253	SCHOOL SMART	083276	\$0.79	\$31,799.87		083276		
1	quality wood case, 100% real wood with a quality Yellow, high	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				rdCK		1							
	graphite core, latex free eraser, 12/pk.														
1								1							
1					1			1							
L	Paradi antica Na Paradia Coming	DAA Control No. 100 MA	F.CO.CO	NATION : : :		4 43 7	40	purez:e	44:00	40.00	422.222.2				
135	Pencil, writing, No. 2 medium soft. Yellow, high quality wood case, 100% real wood with a quality Yellow, high	PMA Certified Non-toxic. Dixon #14402 or equal. SAMPLE= 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1150338	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Pack	40253	EXTRIC	14420	\$0.80	\$32,202.40				
1	quality wood case, 100% real wood with a quality				1	. sen		1							
1	graphite core, latex free eraser, 12/pk.							1							
1								1							
1								1							
125	Pencil, writing, No. 2 medium soft. Yellow, high quality	PMA Certified Non-toxic. Dixon#14402 or equal. SAMPLE= 6 pencils. IF	5690680,1150220	John R Green Co	No	1 - 12 Count	40353	DIXON-14402	14402	\$0.86	\$34,617.58				
133	wood case, 100% real wood with a quality Yellow, high	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2030000-1130338	John K Green CO	140	Pack	40233	DIAGIN-14402	14402	90.00	01.75,⊷در				
1	quality wood case, 100% real wood with a quality	•			1			1							
1	graphite core, latex free eraser, 12/pk.							1							
1					1			1							
1					1			1							
135	Pencil, writing, No. 2 medium soft. Yellow, high quality	PMA Certified Non-toxic. Dixon#14402 or equal. SAMPLE= 6 pencils. IF	5690680-1150329	Complete Printer	No	1 - 12 Count	40252	Dixon Ticonderoga	DIX14402	\$0.96	\$38,642.88				
133	wood case, 100% real wood with a quality Yellow, high	BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source	.40	Pack	70233		DIALMADZ	JJ.30	230,04Z.00				
1	quality wood case, 100% real wood with a quality	•						1							
1	graphite core, latex free eraser, 12/pk.				1			1							
1								1							
1								1							
						1	1	1		1	1	l .		1	

							_		1		т .	1		,	
135	Pencii, writing, No. 2 medium soft. Yellow, high quality wood case, 100% real wood with a quality Yellow, high quality wood case, 100% real wood with a quality graphite core, latex free eraser, 12/pk.	PMA Certified Non-toxic. Dixon #14402 or equal. SAMPLE=6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1150338	Cascade School Supplies	No	1 - 12 Count Pack	40253	Dixon Ticonderoga	14402 CAS155275	\$1.43	\$57,561.79				
135	Pencil, writing, No. 2 medium soft. Yellow, high quality wood case, 100% real wood with a quality Yellow, high quality wood case, 100% real wood with a quality graphite core, latex free eraser, 12/pk.	PMA Certified Non-toxic. Dixon #14402 or equal. SAMPLE= 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1150338	Lakeshore Learning Materials, LLC	No	1 - 12 Count Pack	40253	LAROSE INDUSTRIES LLC,	SU28	\$2.78	\$111,903.34	Please reference "Per Quote #36611" on all purchase orders.	Standard #2 Pencils - Set of 12 TERMS: NET 30		
136	Pencil, writing, No. 2 1/2, medium soft. Yellow, first rate, commercial grade, wood cased, bonded for break resistant writing with a high quality pink eraser, 12/pk.	PMA Certified Non-toxic. Dixon Oriole #12875 or equal. SAMPLE= 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1372312	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Pack	5716	DIXON ORIOLE	12875	\$1.14	\$6,516.24				
136	Pencil, writing, No. 21/2, medium soft: Yellow, first rate, commercial grade, wood cased, bonded for break resistant writing with a high quality pink eraser, 12/pk.	PMA Certified Non-toxic. Dixon Oriole #12875 or equal. SAMPLE-6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 12 Count Pack		DIXON	12875	\$1.15	\$6,573.40		053688	Awarded	Awarded - based on reciprocal preference for resident bidders applied against Pyramid School Products Inc. as stated in the Kentucky Model Procurement Code per KRS45A.494. PREFERENCE
136	Pencil, writing, No. 2 1/2, medium soft. Yellow, first rate, commercial grade, wood cased, bonded for break resistant writing with a high quality pink eraser, 12/pk.	PMA Certified Non-toxic. Dixon Oriole #12875 or equal. SAMPLE-6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES	No	1 - 12 Count Pack	5716	DIXON	12875	\$1.24	\$7,087.84				
136	Pencil, writing, No. 21/2, medium soft 'Vellow, first rate, commercial grade, wood cased, bonded for break resistant writing with a high quality pink eraser, 12/pk.	PMA Certified Non-toxic. Dixon Oriole #12875 or equal. SAMPLEs 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1372312	John R Green Co	No	1 - 12 Count Pack	5716	DIXON-12875	12875	\$1.31	\$7,487.96				
136	Pencil, writing, No. 2 1/2, medium soft. Yellow, first rate, commercial grade, wood cased, bonded for break resistant writing with a high quality pink eraser, 12/pk.	PMA Certified Non-toxic. Dixon Oriole #12875 or equal. SAMPLE= 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1372312	Complete Printer Source	No	1 - 12 Count Pack	5716	Dixon Ticonderoga	DIX12875	\$1.39	\$7,945.24				
136	Pencil, writing, No. 2 1/2, medium soft. Yellow, first rate, commercial grade, wood cased, bonded for break resistant writing with a high quality pink eraser, 12/pk.	PMA Certified Non-toxic. Dixon Oriole #12875 or equal. SAMPLE= 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1372312	Cascade School Supplies	No	1 - 12 Count Pack	5716	Dixon Ticonderoga	12875 CAS024772	\$1.48	\$8,459.68				
136	Pencil, writing, No. 2 1/2, medium soft. Yellow, first rate, commercial grade, wood cased, bonded for break resistant writing with a high quality pink eraser, 12/pk.	PMA Certified Non-toxic. Dixon Oriole #12875 or equal. SAMPLE= 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Materials, LLC	No	1 - 12 Count Pack	5716	LAROSE INDUSTRIES LLC,	SU28	\$2.78	\$15,890.48	Please reference "Per Quote #36611" on all purchase orders.	Standard #2 Pencils - Set of 12 TERMS: NET 30		
137	Pencil, writing, No. 3, hard. Yellow, satin smooth finish enhances writing comfort.	Exclusive graphite core formula gives extra smooth performance. Crafted with premium wood from well managed forests. Top quality, lates free eraser provides easy, clean corrections. Finish contains Microban anti-microbial protection to inhibit the growth of odor and stain causing bacteria on the pencil. PMA Certified Non-toxic. Dixon Ticonderoga #13383 or equal. SAMPLE- 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1150347	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Pack	1540	DIXON TICONDEROGA	13883	\$1.85	\$2,849.00			Awarded	
137	Pencil, writing, No. 3, hard. Yellow, satin smooth finish enhances writing comfort.	Exclusive graphite core formula gives extra smooth performance. Crafted with premium wood from well managed forests. Top quality, later free eraser provides easy, clean corrections. Finish contains Microban anti-microbial protection to inhibit the growth of odor and stain causing bacteria on the pencil. PMA Certified Non-toxic. Dixon Ticonderoga #13383 or equal. SAMPLE- 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1150347	John R Green Co	No	1 - 12 Count Pack	1540	DIXON/TICONDERO GA-13883	13883	\$2.07	\$3,187.80				
	enhances writing comfort.	Exclusive graphite core formula gives extra smooth performance. Crafted with premium wood from well managed forests. Top quality, later free eraser provides easy, clean corrections. Finish contains Microban anti-microbial protection to inhibit the growth of odor and stain causing bacteria on the pencil. PMA certified Non-toxic. Dison Ticondergoa 17338 or equal. SAMPLE 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 12 Count Pack		DIXON	13883	\$2.15	\$3,311.00		017649		
137	Pencil, writing, No. 3, hard. Yellow, salin smooth finish enhances writing comfort.	Exclusive graphite core formula gives extra smooth performance. Crafted with premium wood from well managed forests. Top quality, latex free eraser provides easy, clean corrections. Finish contains Microban anti-microbial protection to inhibit the growth of odor and stain causing bacteria on the pencil. PMA Certified Non-toxic. Dion Ticondergoa 91333 or equal. SAMPLE 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-1150347	Complete Printer Source	No	1 - 12 Count Pack	1540	Dixon Ticonderoga	DIX13883	\$2.19	\$3,372.60				

137	Pencil, writing, No. 3, hard. Yellow, satin smooth finish enhances writing comfort.	Exclusive graphite core formula gives extra smooth performance. Crafted with premium wood from well managed forests. To guality, lates free eraser provides easy, clean corrections. Finish contains Microban anti-microbal protection to inhibit the growth of odor and stain causing bacteria on the pencil. PMA Certified Non-toxic. Obton Ticonderoga #13383 or equal. SMAPLE 6 pencils. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Cascade School Supplies	No	1 - 12 Count Pack	1540	Dixon Ticonderoga	13883 CAS008781	\$2.68	\$4,127.20				
138	Pencil box, small, polypropylene plastic, lid locks firmly in place, approximate size 8 1/2" x 5" x 2".	Bazic #840 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2013158	Cascade School Supplies	No	1 - 1 Each Purchase	4438	Cascade Brand	014210	\$0.98	\$4,349.24		Cascade Brand 014210		REJECT - did not submit sample for evaluation.
138	in place, approximate size 8 1/2" x 5" x 2".	Bazic #840 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 1 Each Purchase	4438	BAZIC-840	40236	\$0.99	\$4,393.62			Awarded	
138	Pencil box, small, polypropylene plastic, lid locks firmly in place, approximate size 8 1/2" x 5" x 2".	Bazic #840 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2013158	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	4438	BAZIC	840	\$1.24	\$5,503.12				
138	Pencil box, small, polypropylene plastic, lid locks firmly in place, approximate size 8 1/2" x 5" x 2".	Bazic #840 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2013158	School Specialty LLC	No	1 - 1 Each Purchase	4438	SCHOOL SMART	1574181	\$1.26	\$5,591.88		1574181		
138	Pencil box, small, polypropylene plastic, lid locks firmly in place, approximate size 8 1/2" x 5" x 2".	Bazic #840 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2013158	Complete Printer Source	No	1 - 1 Each Purchase	4438	Bazic	BAZ840	\$1.69	\$7,500.22				
138	Pencil box, small, polypropylene plastic, lid locks firmly in place, approximate size 8 1/2" x 5" x 2".	Bazic #840 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2013158	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	4438	LEONARD	76305	\$1.95	\$8,654.10				
138	Pencil box, small, polypropylene plastic, lid locks firmly in place, approximate size 8 1/2" x 5" x 2".	Bazic #840 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2013158	Lakeshore Learning Materials, LLC	No	1 - 1 Each Purchase	4438	Lakeshore	VR152	\$3.71	\$16,464.98	Please reference "Per Quote #36611" on all purchase orders.	Snap-Shut Pencil Box TERMS: NET 30		
139	Pencil box, large, polypropylene plastic, lid locks firmly in place, large enough to hold a ruler, approximate size 12 3/8" x 5" x 2 1/4".	Bazic #850 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012764	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	699	BAZIC	850	\$1.78	\$1,244.22			Awarded	
	Pencil box, large, polypropylene plastic, lid locks firmly in place, large enough to hold a ruler, approximate size 12 3/8" x 5" x 2 1/4".	REQUIRED.			No	1 - 1 Each Purchase	699	BAZIC-850	30332	\$1.88	\$1,314.12				
139	Pencil box, large, polypropylene plastic, lid locks firmly in place, large enough to hold a ruler, approximate size 12 3/8" x 5" x 2 1/4".	Bazic #850 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012764	Cascade School Supplies	No	1 - 1 Each Purchase	699	Cascade Brand	036243	\$2.24	\$1,565.76				
139	Pencil box, large, polypropylene plastic, lid locks firmly in place, large enough to hold a ruler, approximate size 12 3/8" x 5" x 2 1/4".	Bazic #850 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012764	Complete Printer Source	No	1 - 1 Each Purchase	699	Bazic	BAZ850	\$2.59	\$1,810.41				
139	Pencil box, large, polypropylene plastic, lid locks firmly in place, large enough to hold a ruler, approximate size 12 3/8" x 5" x 2 1/4".	Bazic #850 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012764	School Specialty LLC	No	1 - 1 Each Purchase	699	SCHOOL SMART	1574182	\$2.70	\$1,887.30		1574182		

140	Pencil holder, 5/8" x 2 5/8", non-toxic material, adheres to most surfaces without causing damage.	Tops Pen Pal or equal, SAMPLE = 2 holders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2013183	John R Green Co	No	1 - 1 Each Purchase	4551	TOPS-PENPAL-1	57585	\$0.88	\$4,004.88			Awarded	
140	Pencil holder, 5/8" x 2 5/8", non-toxic material, adheres to most surfaces without causing damage.	Tops Pen Pal or equal. SAMPLE = 2 holders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2013183	Complete Printer Source	No	1 - 1 Each Purchase	4551	TOPS	TOPPENPAL1	\$0.96	\$4,368.96				
141	Pencil pouch, nylon, reinforced metal holes to fit most standard 3 ring binders, clear window for viewing contents, no-snag zipper closure, approximate size 10" x 6 3/4".	Bazic #803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012763	odp BUSINESS SOLUTIONS, LLC	No	1 - 1 Each Purchase	19634	NINGBO SNS IMP AND EXP CO LTD	PPCW201401	\$0.00	\$0.00	0	NINGBO SNS IMP AND EXP CO LTD		REJECT - did not submit sample for evaluation.
141	Pencil pouch, nylon, reinforced metal holes to fit most standard 3 ring binders, clear window for viewing contents, no-snag zipper closure, approximate size 10" x 6 3/4".	Bazic #803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012763	Cascade School Supplies	No	1 - 1 Each Purchase	19634	Cascade Brand	020742	\$0.69	\$13,547.46		Cascade Brand 020742 11 1/2 X 6 1/2		REJECT - did not submit sample for evaluation.
141	Pencil pouch, nylon, reinforced metal holes to fit most standard 3 ring binders, clear window for viewing contents, no-snag zipper closure, approximate size 10" x 6 3/4".	Bazic #803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012763	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	19634	BAZIC	803	\$0.84	\$16,492.56			Awarded	
141	Pencil pouch, nylon, reinforced metal holes to fit most standard 3 ring binders, clear window for viewing contents, no-snag zipper closure, approximate size 10" x 6 3/4".	Bazic #803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012763	John R Green Co	No	1 - 1 Each Purchase	19634	BAZIC-803	57586	\$0.91	\$17,866.94				
141	Pencil pouch, nylon, reinforced metal holes to fit most standard 3 ring binders, clear window for viewing contents, no-snag zipper closure, approximate size 10" x 6 3/4".	Bazic #803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012763	Complete Printer Source	No	1 - 1 Each Purchase	19634	Bazic	BAZ803	\$1.39	\$27,291.26				
141	Pencil pouch, nylon, reinforced metal holes to fit most standard 3 ring binders, clear window for viewing contents, no-snag zipper closure, approximate size 10" x 6 3/4".	Bazic #803 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690680-2012763	Lakeshore Learning Materials, LLC	No	1 - 1 Each Purchase	19634	Lakeshore	GG834	\$7.43	\$145,880.62	Please reference "Per Quote #36611" on all purchase orders.	See-Inside Storage Pouch TERMS: NET 30		
142	Pocket, dry erase, reusable, 9" x 12", assorted colors, 25/box.	C Line #40620 or equal.	5690800-2014375	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 25 Count Box	613	C-LINE	40620	\$23.28	\$14,270.64			Awarded	
142	Pocket, dry erase, reusable, 9" x 12", assorted colors, 25/box.	C Line #40620 or equal.	5690800-2014375	Cascade School Supplies	No	1 - 25 Count Box	613	Cascade Brand	037155	\$25.40	\$15,570.20		Cascade Brand 037155 Sold 30 per box		
142	Pocket, dry erase, reusable, 9" x 12", assorted colors, 25/box.	C Line #40620 or equal.	5690800-2014375	Complete Printer Source	No	1 - 25 Count Box	613	C-Line	CL140620	\$27.19	\$16,667.47				
142	Pocket, dry erase, reusable, 9" x 12", assorted colors, 25/box.	C Line #40520 or equal.	5690800-2014375	John R Green Co	No	1 - 25 Count Box	613	C-LINE-40820	09012	\$27.19	\$16,667.47				
142	Pocket, dry erase, reusable, 9" x 12", assorted colors, 25/box.	C Line #40620 or equal.	5690800-2014375	PYRAMID SCHOOL PRODUCTS	No	1 - 25 Count Box	613	C-LINE	40620	\$27.95	\$17,133.35				

142	Pocket, dry erase, reusable, 9" x 12", assorted colors,	C Line #40620 or equal.	E600800 201427E	School Specialty LLC	No	1 - 25 Count	613	CLINE	40620	\$32.41	\$19,867.33		1437849		
142	25/box.	C Line #40020 or equal.	3030000-2014373	School Specialty LLC	140	Box	013	CLINE	40020	332.41	\$15,007.33		1437043		
142	Pocket, dry erase, reusable, 9" x 12", assorted colors, 25/box.	C Line #40620 or equal.	5690800-2014375	Lakeshore Learning Materials, LLC	No	1 - 25 Count	613	Lakeshore	GG379 Set/30	\$55.79	\$34,199.27	Please reference "Per Quote #36611" on all purchase	Reusable Write & Wipe Pocket - Set of 30 TERMS: NET 30		
	23/00%			Waterials, LLC		BOX						orders.	Set of 30 TERMS. NET 30		
143	Portfolio, 2 pocket poly, holds sheets up to 8 1/2" x	Bazic #3158, Oxford #89308, CLI32950 or equal. IF BIDDING THE APPROVED	5600695,2012900	Cascade School	No	1 - 25 Count	1553	Tops	57402 CAS170003	\$3.44	\$5,342.32		Tops Products/Oxford 57402 Dark		REJECT - did not submit sample for evaluation.
143	11", assorted colors, business card slot resists tearing,	PRODUCT, NO SAMPLE IS REQUIRED.	3030003 2013033	Supplies		Box	1333	Products/Oxford	37402 013170003	\$3.44	73,342.32		Blue ONLY Sold per Each		nester did not submit sumple for evaluation.
	25/box.														
143	Portfolio, 2 pocket poly, holds sheets up to 8 1/2" x 11", assorted colors, business card slot resists tearing,	Bazic #3158, Oxford #89308, CLI32950 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-2013899	Complete Printer Source	No	1 - 25 Count Box	1553	C-Line	CLI32950	\$6.34	\$9,846.02				
	25/box.	TROSCE, NO SAMELE IS REGULED.		Source		DOX									
														Awarded	
143	Portfolio, 2 pocket poly, holds sheets up to 8 1/2" x	Bazic #3158, Oxford #89308, CLI32950 or equal. IF BIDDING THE APPROVED	5690685-2013899	PYRAMID SCHOOL	No	1 - 25 Count	1553	C-LINE	32950	\$7.95	\$12,346.35				
	11", assorted colors, business card slot resists tearing, 25/box.	PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		Box									
	2.5/00%.														
L															
143	Portfolio, 2 pocket poly, holds sheets up to 8 1/2" x 11", assorted colors, business card slot resists tearing,	Bazic #3158, Oxford #89308, CLi32950 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-2013899	John R Green Co	No	1 - 25 Count Box	1553	BAZIC-3158	3158	\$13.75	\$21,353.75				
	25/box.	TROSCE, NO SAMELE IS REGULED.				DOX									
144	Portfolio, 8 pocket, sheet size 11" x 8 1/2", embossed	Oxford #ESS99656 or equal. SAMPLE = 1 Portfolio. IF BIDDING THE	5690685-2013159	Complete Printer	No	1 - 1 Each	1880	TOPS	OXF99656	\$2.96	\$5,564.80				The Board will draw lots to break the tie.
	leather grain, comb binding opens flat, heavyweight	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Purchase				,	,,,,,				
	stock, SFI certified, assorted color pockets.														
144	Portfolio, 8 pocket, sheet size 11" x 8 1/2", embossed leather grain, comb binding opens flat, heavyweight	Oxford #ESS99656 or equal. SAMPLE = 1 Portfolio. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-2013159	John R Green Co	No	1 - 1 Each Purchase	1880	TOPS-99656	57082	\$2.96	\$5,564.80				The Board will draw lots to break the tie.
	stock, SFI certified, assorted color pockets.	AT NOVED FRODUCT, NO 37411 EE 13 REQUIRED.				i di ciidac									
144	Portfolio, 8 pocket, sheet size 11" x 8 1/2", embossed	Oxford #ESS99656 or equal. SAMPLE = 1 Portfolio. IF BIDDING THE	5690685-2013159	Cascade School	No	1 - 1 Each	1880	Tops	99656 CAS028298	\$3.53	\$6,636.40				
	leather grain, comb binding opens flat, heavyweight stock, SFI certified, assorted color pockets.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Purchase		Products/Oxford		, , , , ,	,,,,,,				
	stock, 311 certified, assorted color pockets.														
144	Portfolio, 8 pocket, sheet size 11" x 8 1/2", embossed leather grain, comb binding opens flat, heavyweight	Oxford #ESS99656 or equal. SAMPLE = 1 Portfolio. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-2013159	School Specialty LLC	No	1 - 1 Each Purchase	1880	OXFORD	99656	\$3.70	\$6,956.00		024715		
	stock, SFI certified, assorted color pockets.	AFFROYED FRODUCT, NO SMIVIPLE IS REQUIRED.				ruicilase									
145	Protector, sheet, top loading, 8 1/2" x 11" inserts,	print/images won't transfer from inserts, reinforced binding edge, heavy	5690800-1372563	Cascade School	No	1 - 100	904	Cascade Brand	022942	\$5.50	\$4,972.00		Cascade Brand 022942		REJECT - did not submit sample for evaluation.
		gauge, clear, 100/box. C-Line #62028 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT		Supplies		Count Box				,					
	polypropylene, acid free, archival quality,	SAINIFICE = 2 SHEELS. IF DIDDING THE APPROVED PRODUCT													
L															
145	Protector, sheet, top loading, 8 1/2" x 11" inserts, three hole punched for unpunched sheets, non-glare,	print/images won't transfer from inserts, reinforced binding edge, heavy gauge, clear, 100/box. C-Line #62028 or equal. QUOTE 100 COUNT BOX ONLY.	5690800-1372563	School Specialty LLC	No	1 - 100 Count Box	904	BUSINESS SOURCE	74550	\$8.35	\$7,548.40		1599657		REJECT- item bid is not equal, item does not state it is archival quality per specifications.
	polypropylene, acid free, archival quality,	SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT				COURT DOX									oremon quanty per specifications.
145	Protector, sheet, top loading, 8 1/2" x 11" inserts,	print/images won't transfer from inserts, reinforced binding edge, heavy	5690800-1372563	NATIONAL ART &	No	1 - 100	904	C-LINE	62028	\$8.53	\$7,711.12				
	three hole punched for unpunched sheets, non-glare,	gauge, clear, 100/box. C-Line #62028 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT		SCHOOL SUPPLIES		Count Box				,					
	polypropylene, acid free, archival quality,	SAMPLE = 2 SNEETS. IF BIDDING THE APPROVED PRODUCT												Awarded	
L															
					_					_	_				

145	Protector, sheet, top loading, 8:1/2" x 1.1" inserts, three hole punched for unpunched sheets, non-glare, polypropylene, acid free, archival quality,	print/Images won't transfer from inserts, reinforced binding edge, heavy gauge, clear, 100/box. C-Line #62208 or equal. OLUCH 200 COLUNT BOX ONLY. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT	5690800-1372563	Complete Printer Source	No	1 - 100 Count Box	904	C-Line	CL162028	\$8.99	\$8,126.96			
145	Protector, sheet, top loading, 8.1/2" x 11" inserts, three hole punched for unpunched sheets, non-glare, polypropylene, acid free, archival quality,	print/images won't transfer from inserts, reinforced binding edge, heavy gauge, clear, 100/box. C-Line #62028 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT	5690800-1372563	John R Green Co	No	1 - 100 Count Box	904	C-LINE-62028	57148	\$10.82	\$9,781.28			
145	Protector, sheet, top loading, 8 1/2" x 11" inserts, three hole punched for unpunched sheets, non-glare, polypropylene, acid free, archival quality,	print/images won't transfer from inserts, reinforced binding edge, heavy gauge, clear, 100/box. C-Line #62028 or equal. QUOTE 100 COUNT BOX ONLY. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT		PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	904	C-LINE	62028	\$10.95	\$9,898.80			
146	Protractor, 6" ruler across bottom, clear plastic with open arc.	Sparco #01490 or equal. QUOTE 12 COUNT BOX ONLY. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220250-1726037	School Specialty LLC	No	1 - 12 Count Box	305	SCHOOL SMART	084410	\$2.06	\$628.30	084410	Awarded	
146	Protractor, 6" ruler across bottom, clear plastic with open arc.	Sparco #01490 or equal. QUOTE 12 COUNT BOX ONLY. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220250-1726037	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	305	EXTRIC	1291	\$2.08	\$634.40			
146	Protractor, 6" ruler across bottom, clear plastic with open arc.	Sparco #01490 or equal. QUOTE 12 COUNT BOX ONLY. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220250-1726037	Cascade School Supplies	No	1 - 12 Count Box	305	Clipmall Stationary	77106 CAS154147	\$2.15	\$655.75	Clipmall Stationary 77106		
146	Protractor, 6" ruler across bottom, clear plastic with open arc.	Sparco #01490 or equal. QUOTE 12 COUNT BOX ONLY. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220250-1726037	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	305	PYRAMID	1111145	\$2.49	\$759.45			
146	Protractor, 6" ruler across bottom, clear plastic with open arc.	Sparco #01490 or equal. QUOTE 12 COUNT BOX ONLY. SAMPLE = 1 ea. F BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220250-1726037	John R Green Co	No	1 - 12 Count Box	305	CLIPMALL-63506	10117	\$2.75	\$838.75	DIFFERENT BRAND		
146	Protractor, 6" ruler across bottom, clear plastic with open arc.	Sparco #01490 or equal. QUOTE 12 COUNT BOX ONLY. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220250-1726037	Complete Printer Source	No	1 - 12 Count Box	305	Sparco	SPR01490	\$5.49	\$1,674.45			
147	Punch, one 1/4" hole, 5 sheet capacity.	Swingline #A7074005 or equal.	5690690-2014376	Cascade School Supplies	No	1 - 1 Each Purchase	473	Cascade Brand	119615	\$0.75	\$354.75	Cascade Brand 119615		REJECT - did not submit sample for evaluation.
147	Punch, one 1/4" hole, 5 sheet capacity.	Swingline #A7074005 or equal.	5690690-2014376	John R Green Co	No	1 - 1 Each Purchase	473	BAZIC-3201	3201	\$0.77	\$364.21			REJECT - did not submit sample for evaluation.
147	Punch, one 1/4" hole, 5 sheet capacity.	Swingline #A7074005 or equal.	5690690-2014376	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	473	PYRAMID	1111160	\$1.25	\$591.25		Awarded	
147	Punch, one 1/4" hole, 5 sheet capacity.	Swingline #A7074005 or equal.	5690690-2014376	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	473	EXTRIC	1292	\$1.33	\$629.09			

147	Punch, one 1/4" hole, 5 sheet capacity.	Swingline #A7074005 or equal.	5500500 204 4275	School Specialty LLC		1 - 1 Each	473	SCHOOL SMART	039423	\$1.35	\$638.55	1	039423		T
147	runch, one 1/4 hole, 5 sheet capacity.	Swingille #A/0/4005 of equal.	3090090-2014376	SCHOOL Specialty LLC	No	Purchase	4/3	SCHOOL SWART	039423	\$1.55	\$636.55		039423		
147	Punch, one 1/4" hole, 5 sheet capacity.	Swingline #A7074005 or equal.	5690690-2014376		No	1 - 1 Each	473	ACCO	SWIA7074005B	\$1.99	\$941.27				
				Source		Purchase									
148	Punch, three hole, 20 sheet capacity, no jam	Bostitch #220 or equal.	5690690-2014377	PYRAMID SCHOOL	No	1 - 1 Each	130	BOSTITCH	2220	\$13.05	\$1,696.50				
	technology, EZ squeeze.			PRODUCTS		Purchase				******	4-,				
														Awarded	
148	Punch, three hole, 20 sheet capacity, no jam	Bostitch #220 or equal.	5690690-2014377	NATIONAL ART &	No	1 - 1 Each	130	BOSTITCH	220	\$13.07	\$1,699.10				
	technology, EZ squeeze.			SCHOOL SUPPLIES		Purchase									
148	Punch, three hole, 20 sheet capacity, no jam	Bostitch #220 or equal.	5690690-2014377	Complete Printer	No	1 - 1 Each	130	AMAX	ACI2220	\$14.68	\$1,908.40				
	technology, EZ squeeze.		202-3//	Source		Purchase	-30			7.4.00	\$2,300.40				
148	Punch, three hole, 20 sheet capacity, no jam	Bostitch #220 or equal.	5690690-2014377	John R Green Co	No	1 - 1 Each	130	BOSTITCH-2220	11311	\$18.63	\$2,421.90		PAPER PRO-DIFFERENT MODEL-		
	technology, EZ squeeze.					Purchase							SAME BRAND		
148	Punch, three hole, 20 sheet capacity, no jam	Bostitch #220 or equal.	5690690-2014377	Cascade School	No	1 - 1 Each	130	Officemate	90098 CAS027182	\$22.71	\$2,952.30		Officemate 90098		
140	technology, EZ squeeze.	BOSTILLII #220 OI EQUAL	3030030-2014377	Supplies	140	Purchase	130	Officeffiate	30038 CA3027 182	322.71	\$2,552.50		Officentate 50056		
149	Punch, three hole, 40 sheet capacity, no jam	Bostitch #HP40 or equal.	5690690-2014378	PYRAMID SCHOOL	No	1 - 1 Each	116	BOSTITCH	HP40	\$23.25	\$2,697.00				
	technology, EZ squeeze.			PRODUCTS		Purchase									
														Awarded	
149	Punch, three hole, 40 sheet capacity, no jam	Bostitch #HP40 or equal.	5690690-2014378	NATIONAL ART &	No	1 - 1 Each	116	BOSTITCH	HP40	\$24.40	\$2,830.40				
	technology, EZ squeeze.			SCHOOL SUPPLIES		Purchase				******	4-,				
			<u> </u>			<u> </u>	L				<u> </u>			<u> </u>	
149	Punch, three hole, 40 sheet capacity, no jam	Bostitch #HP40 or equal.	5690690-2014378		No	1 - 1 Each	116	AMAX	BOSHP40	\$32.67	\$3,789.72				
	technology, EZ squeeze.			Source		Purchase									
149	Punch, three hole, 40 sheet capacity, no jam	Bostitch #HP40 or equal.	5690690-2014378	Cascade School	No	1 - 1 Each	116	AMAX Stanley	HP40 CAS038497	\$41.59	\$4,824.44				
"	technology, EZ squeeze.			Supplies		Purchase		Bostitch			. , .=				
			1			<u> </u>									
149	Punch, three hole, 40 sheet capacity, no jam	Bostitch #HP40 or equal.	5690690-2014378	John R Green Co	No	1 - 1 Each	116	OFFICEMATE-90100	11023	\$42.52	\$4,932.32		DIFFERENT BRAND		
	technology, EZ squeeze.					Purchase		H-D							
150	Remover stanle steel proper double jour provest	#CLI050 or equal. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO	5690730-1150106	Cascado School	No	1 - 1 Each	561	Cascade Brand	119723	\$0.39	\$218.79		Cascade Brand 119723		REJECT - did not submit sample for evaluation.
130	damage to paper, standard size, hard plastic grips.	SAMPLE IS REQUIRED.	5090730-1130196	Supplies	140	Purchase	301	Cascade brand	113/23	50.59	3210.79		Cascade Didilu 119725		

150	Remover, staple, steel prones, double laws prevent	#CLI050 or equal. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO	5690730-1150196	PYRAMID SCHOOL	No	1 - 1 Each	561	PYRAMID	1111384	\$0.43	\$241.23			
	damage to paper, standard size, hard plastic grips.	SAMPLE IS REQUIRED.		PRODUCTS		Purchase							Awarded	
150	Remover, staple, steel prongs, double jaws prevent damage to paper, standard size, hard plastic grips.	#CLI050 or equal. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690730-1150196	School Specialty LLC	No	1 - 1 Each Purchase	561	SCHOOL SMART	000189	\$0.44	\$246.84	000189		
150	Remover, staple, steel prongs, double jaws prevent damage to paper, standard size, hard plastic grips.	#CU050 or equal. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690730-1150196	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	561	EXTRIC	32002	\$0.45	\$252.45			
150	Remover, staple, steel prongs, double jaws prevent damage to paper, standard size, hard plastic grips.	#CLI050 or equal. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690730-1150196	Complete Printer Source	No	1 - 1 Each Purchase	561	Business Source	BSN65650	\$0.52	\$291.72			
150	Remover, staple, steel prongs, double jaws prevent damage to paper, standard size, hard plastic grips.	#CLI050 or equal. SAMPLE = 1 ea. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690730-1150196	John R Green Co	No	1 - 1 Each Purchase	561	CLI-050	11040	\$0.64	\$359.04			
151	Ruler, metric and inch (30cm, 12"), hardwood, gloss finish, metric on one side, inches on other,	11/18" wide, 1/16" graduations, rigid, beveled with metal edge and binder holes. Acme Westcott #10702 or equal. SAMPLE = 1 ruler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690780-1372536	Cascade School Supplies	No	1 - 1 Each Purchase	5698	Cascade Brand	170681	\$0.24	\$1,367.52	Cascade Brand 170681		REJECT - did not submit sample for evaluation.
151	Ruler, metric and inch (30cm, 12"), hardwood, gloss finish, metric on one side, inches on other,	11/18" wide, 1/16" graduations, rigid, beveled with metal edge and binder holes. Acme Westcott #10702 or equal. SAMPLE = 1 ruler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690780-1372536	John R Green Co	No	1 - 1 Each Purchase	5698	CLI-77120	10049	\$0.32	\$1,823.36	DIFFERENT BRAND	Awarded	
151	Ruler, metric and inch (30cm, 12"), hardwood, gloss finish, metric on one side, inches on other,	11/18" wide, 1/16" graduations, rigid, beveled with metal edge and binder holes. Acme Westcott #10702 or equal. SAMPLE = 1 ruler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690780-1372536	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	5698	EXTRIC	SK611	\$0.32	\$1,823.36			
151	Ruler, metric and inch (30cm, 12"), hardwood, gloss finish, metric on one side, inches on other,	11/18" wide, 1/16" graduations, rigid, beveled with metal edge and binder holes. Acme Westcott #10702 or equal. SAMPLE = 1 ruler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690780-1372536	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	5698	PYRAMID	1111715P	\$0.32	\$1,823.36			
151	Ruler, metric and inch (30cm, 12"), hardwood, gloss finish, metric on one side, inches on other,	11/18" wide, 1/16" graduations, rigid, beveled with metal edge and binder holes. Acme Westcott #10702 or equal. SAMPLE = 1 ruler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690780-1372536	Complete Printer Source	No	1 - 1 Each Purchase	5698	ACME	ACM10702	\$0.56	\$3,190.88			
152	Ruler, metric and inch (30cm, 12"), plastic, to be clear transparent (NO COLORS), metric on one side, inches on other.	QUOTE 12 COUNT BOX ONLY. Acme Westcott #13862 or equal. SAMPLE = 1 ruler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690780-1727375	John R Green Co	No	1 - 12 Count Box	228	CLI-77136	10020	\$2.82	\$642.96	DIFFERENT BRAND		REJECT- item bid is not acceptable equal.
152	Ruler, metric and inch (30cm, 12"), plastic, to be clear transparent (NO COLORS), metric on one side, inches on other.	QUOTE 12 COUNT BOX ONLY. Acme Westcott #13862 or equal. SAMPLE = 1 ruler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690780-1727375	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	228	LEONARD	77136	\$5.65	\$1,288.20			
152	Ruler, metric and inch (30cm, 12"), plastic, to be clear transparent (NO COLORS), metric on one side, inches on other.	QUOTE 12 COUNT BOX ONLY. Acme Westcott #13862 or equal. SAMPLE = 1 ruler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690780-1727375	Complete Printer Source	No	1 - 12 Count Box	228	ACME	ACM13862DZ	\$5.69	\$1,297.32		Awarded	Awarded - based on reciprocal preference for resident bidders applied against Pyramid School Products Inc. as stated in the Kentucky Model Procurement Code per KRS45A-494.

									1			1			
152	Ruler, metric and inch (30cm, 12"), plastic, to be clear transparent (NO COLORS), metric on one side, inches on other.	QUOTE 12 COUNT BOX ONLY. Acme Westcott #13862 or equal. SAMPLE = 1 ruler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690780-1727375	School Specialty LLC	No	1 - 12 Count Box	228	SAFT-T	4300912	\$5.90	\$1,345.20		180-9697		
153	Sand, play therapy. Natural white. 25 lb. box. Grain size 0.3-0.85 mm, inner poly bag.	Sandtastic #THER25 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2014379	School Specialty LLC	No	1 - 25 Pound Box	261	SANDTASTIK	THER25	\$19.75	\$5,154.75		1585332	Awarded	
153	Sand, play therapy. Natural white. 25 lb. box. Grain size 0.3-0.85 mm, inner poly bag.	Sandtastic #THER25 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2014379	Lakeshore Learning Materials, LLC	No	1 - 25 Pound Box	261	LAKESHORE	VS318	\$29.75	\$7,764.75	Please reference "Per Quote #36611" on all purchase orders.	Clean Sand - 25-Lb. Box TERMS: NET 30		
154	Scissors, child size, safety, interchangeable for left and right hands, rust proof blade with guarded blade tip, heavy duty plastic.	Acme #10545 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1703302	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	1567	PYRAMID	1733674	\$0.37	\$579.79			Awarded	
154	Scissors, child size, safety, interchangeable for left and right hands, rust proof blade with guarded blade tip, heavy duty plastic.	Acme #10545 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1703302	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	1567	EXTRIC	IM9416	\$0.39	\$611.13				
154	Scissors, child size, safety, interchangeable for left and right hands, rust proof blade with guarded blade tip, heavy duty plastic.	Acme #10545 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1703302	Cascade School Supplies	No	1 - 1 Each Purchase	1567	Cascade Brand	167508	\$0.66	\$1,034.22		Cascade Brand 167508		
154	Scissors, child size, safety, interchangeable for left and right hands, rust proof blade with guarded blade tip, heavy duty plastic.	Acme #10545 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1703302	Complete Printer Source	No	1 - 1 Each Purchase	1567	ACME	ACM10545	\$0.76	\$1,190.92				
154	Scissors, child size, safety, interchangeable for left and right hands, rust proof blade with guarded blade tip, heavy duty plastic.	Acme #10545 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1703302	John R Green Co	No	1 - 1 Each Purchase	1567	CLI-77512	10372	\$0.76	\$1,190.92		DIFFERENT BRAND		
154	Scissors, child size, safety, interchangeable for left and right hands, rust proof blade with guarded blade tip, heavy duty plastic.	Acme #10545 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1703302	Lakeshore Learning Materials, LLC	No	1 - 1 Each Purchase	1567	Lakeshore	GS454	\$1.85	\$2,898.95	Please reference "Per Quote #36611" on all purchase orders.	Safety Scissors TERMS: NET 30		
155	Scissors, student, pointed tip, 7" long, 2 3/4" cut, right or left hand, stainless steel blades, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages twelve and up.	Fiskars #194580-1021 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1371288	Cascade School Supplies	No	1 - 1 Each Purchase	3457	Fiskars Brands	153530 CAS030013	\$1.63	\$5,634.91		Fiskars Brands 153530		REJECT - did not submit sample for evaluation.
155	Scissors, student, pointed tip, 7" long, 2 3/4" cut, right or left hand, stainless steel blades, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages twelve and up.	Fiskars #194580-1021 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1371288	Complete Printer Source	No	1 - 1 Each Purchase	3457	Fiskars	FSK1294587096J	\$2.39	\$8,262.23			Awarded	
155	Scissors, student, pointed tip, 7" long, 2 3/4" cut, right or left hand, stainless steel blades, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages twelve and up.	Fiskars #194580-1021 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1371288	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	3457	FISKARS	1067667	\$2.59	\$8,953.63				
155	Scissors, student, pointed tip, 7" long, 2 3/4" cut, right or left hand, stainless steel blades, large finger loop and ergonomic thumb loop, attimicrobial handle, lifetime warranty, for ages twelve and up.	Fiskars #194580-1021 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1371288	School Specialty LLC	No	1 - 1 Each Purchase	3457	FISKARS	1068911	\$2.86	\$9,887.02		036080		

155	Scissors, student, pointed tip, 7" long, 2 3/4" cut, right or left hand, stainless steel blades, large finger loop and ergonomic thumb loop, artimicrobial handle, lifetime warranty, for ages twelve and up.	Fiskars #194580-1021 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED 250 PRODUCT, NO SAMPLE IS REQUIRED.	00720-1371288	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	3457	FISKARS	194580	\$2.88	\$9,956.16			
155	Scissors, student, pointed tip, 7" long, 2 3/4" cut, right or left hand, stainless steel blades, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages twelve and up.	Fiskars #194580-1021 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED 25C PRODUCT, NO SAMPLE IS REQUIRED.	00720-1371288	John R Green Co	No	1 - 1 Each Purchase	3457	FISKAR-1067667	10378	\$4.20	\$14,519.40	MANUFACTURER NUMBER CHANGED		
156	Scissors, teacher's, 8" long, bent handle, left or right hand, stainless steel blades, lightweight.	Fiskars #01004250J or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED 250 PRODUCT, NO SAMPLE IS REQUIRED	00720-1678627	Cascade School Supplies	No	1 - 1 Each Purchase	2153	Cascade Brand	034110	\$1.01	\$2,174.53	Cascade Brand 034110		REJECTdid not submit sample for evaluation.
156	Scissors, teacher's, 8" long, bent handle, left or right	Fiskars #01004250J or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED 255	00720-1678627	PYRAMID SCHOOL	No	1 - 1 Each	2153	PYRAMID	1016047	\$1.69	\$3,638.57			REJECT - sample submitted is not left or right hand as
	hand, stainless steel blades, lightweight.	PRODUCT, NO SAMPLE IS REQUIRED		PRODUCTS		Purchase								stated in bid specifications.
156	Scissors, teacher's, 8" long, bent handle, left or right hand, stainless steel blades, lightweight.	Fiskars #01004250J or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED 250 PRODUCT, NO SAMPLE IS REQUIRED	00720-1678627	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	2153	EXTRIC	13693	\$2.27	\$4,887.31			REJECT - sample submitted is not left or right hand as stated in bid specifications.
156	Scissors, teacher's, 8" long, bent handle, left or right hand, stainless steel blades, lightweight.	Fiskars #01004250J or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED 250 PRODUCT, NO SAMPLE IS REQUIRED	00720-1678627	School Specialty LLC	No	1 - 1 Each Purchase	2153	SCHOOL SMART	084851	\$2.48	\$5,339.44	084851	Awarded	
156	Scissors, teacher's, 8" long, bent handle, left or right hand, stainless steel blades, lightweight.	Fiskars #01004250J or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED 250 PRODUCT, NO SAMPLE IS REQUIRED	00720-1678627	Complete Printer Source	No	1 - 1 Each Purchase	2153	Fiskars	FSK01004250J	\$3.24	\$6,975.72			
156	Scissors, teacher's, 8" long, bent handle, left or right hand, stainless steel blades, lightweight.	Fiskars #01004250J or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED 250 PRODUCT, NO SAMPLE IS REQUIRED	00720-1678627	John R Green Co	No	1 - 1 Each Purchase	2153	FISKAR-1067262	10215	\$3.53	\$7,600.09	MANUFACTURER NUMBER IS DIFFERENT-8" STRAGHT PERFORMANCE SCISSOR		
157	Sharpener, pencil, electric, multi-hole, smart stop feature, non-skid feet, extra large shavings receptacle.	X-ACTO Teacherpro #1675 or equal. IF BIDDINGTHE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00760-2014380	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	961	X-ACTO	1675	\$37.98	\$36,498.78		Awarded	
157	Sharpener, pencil, electric, multi-hole, smart stop feature, non-skid feet, extra large shavings receptacle.	X-ACTO Teacherpro #1675 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00760-2014380	Complete Printer Source	No	1 - 1 Each Purchase	961	Sanford	EPI1675X	\$42.89	\$41,217.29			
157	Sharpener, pencil, electric, multi-hole, smart stop feature, non-skid feet, extra large shavings receptacle.	X-ACTO Teacherpro #1675 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00760-2014380	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	961	х-асто	1675	\$45.95	\$44,157.95			
157	Sharpener, pencil, electric, multi-hole, smart stop feature, non-skid feet, extra large shavings receptacle.	X-ACTO Teacherpro #1675 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00760-2014380	John R Green Co	No	1 - 1 Each Purchase	961	X-ACTO-1675X	07021	\$53.54	\$51,451.94			
157	Sharpener, pencil, electric, multi-hole, smart stop feature, non-skid feet, extra large shavings receptacle.	X-ACTO Teacherpro #1675 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	00760-2014380	School Specialty LLC	No	1 - 1 Each Purchase	961	X-ACTO	1675	\$54.15	\$52,038.15	2039320		

157	Sharpener, pencil, electric, multi-hole, smart stop feature, non-skid feet, extra large shavings receptacle.	X-ACTO Teacherpro #1675 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-2014380	Cascade School Supplies	No	1 - 1 Each Purchase	961	Newell Brands/X- Acto	1675X CAS029745	\$62.13	\$59,706.93				
157	Sharpener, pencil, electric, multi-hole, smart stop feature, non-skid feet, extra large shavings receptacle.	X-ACTO Teacherpro #1675 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-2014380	Lakeshore Learning Materials, LLC	No	1 - 1 Each Purchase	961	BOSTITCH	ES119	\$92.54	\$88,930.94	Please reference "Per Quote #36611" on all purchase orders.	Heavy-Duty Electric Pencil Sharpener TERMS: NET 30		
158	Sharpener, pencil, manual, 8 hole dial selector, brilliant metal finish, hardened helical cutters, wall or desk mount (screws included), die cast metal base with large steel shavings receptacle, 10 year warranty.	X-Acto KS #1031 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-1151239	School Specialty LLC	No	1 - 1 Each Purchase	227	X-ACTO	1031	\$10.00	\$2,270.00		380144	Awarded	
158	Sharpener, pencil, manual, 8 hole dial selector, brilliant metal finish, hardened helical cutters, wall or desk	X-Acto KS #1031 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED.	2500760-1151239	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	227	X-ACTO	KS1031	\$10.05	\$2,281.35				
	mount (screws included), die cast metal base with large steel shavings receptacle, 10 year warranty.	(NODEL), NO JAMELE D'INEQUINED.		PRODUCTS		ruicilase									
158	Sharpener, pencii, manual, 8 hole dial selector, brilliant metal finish, hardened helical cutters, wall or desk mount (screws included), die cast metal base with large steel shavings receptacle, 10 year warranty.	X-Acto KS #1031 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-1151239	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	227	X-ACTO	1031	\$10.06	\$2,283.62				
158	Sharpener, pencil, manual, 8 hole dial selector, brilliant metal finish, hardened helical cutters, wall or desk mount (screws included), die cast metal base with large steel shavings receptacle, 10 year warranty.	X-Acto KS #1031 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-1151239	John R Green Co	No	1 - 1 Each Purchase	227	X-ACTO- 07140MR/1031LMR	07105	\$10.64	\$2,415.28				
158	Sharpener, pencil, manual, 8 hole dial selector, brilliant metal finish, hardened helical cutters, wall or desk mount (screws included), die cast metal base with large steel shavings receptacle, 10 year warranty.	X-Acto KS #1031 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-1151239	Complete Printer Source	No	1 - 1 Each Purchase	227	Sanford	EPI1031LMR	\$11.29	\$2,562.83				
158	Sharpener, pencil, manual, 8 hole dial selector, brilliant metal finish, hardened helical cutters, wall or desk mount (screws included), die cast metal base with large steel shavings receptacle, 10 year warranty.	X-Acto KS #1031 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-1151239	Cascade School Supplies	No	1 - 1 Each Purchase	227	Newell Brands/X- Acto	1031LMR CAS172546	\$12.02	\$2,728.54				
159	Sharpener, pencil, manual, 8 hole pencil selector, dual hardened helical cutters, wall or desk mount (screws included), beavy duty metal construction, large shavings receptacle, 10 year warranty.	X-Acto Ranger 55 #1001 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-2011763	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	96	X-ACTO	1001	\$24.70	\$2,371.20			Awarded	
159	Sharpener, pencil, manual, 8 hole pencil selector, dual hardened helical cutters, wall or desk mount (screws included), heavy duty metal construction, large shavings receptacle, 10 year warranty.	X-Acto Ranger 55 #1001 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-2011763	School Specialty LLC	No	1 - 1 Each Purchase	96	X-ACTO	1001	\$24.80	\$2,380.80		380135		
159	Sharpener, pencil, manual, 8 hole pencil selector, dual hardened helical cutters, wall or desk mount (screws included), heavy duty metal construction, large shavings receptacle, 10 year warranty.	X-Acto Ranger 55 #1001 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-2011763	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	96	X-ACTO	RANGER 55 1001	\$24.89	\$2,389.44				
159	Sharpener, pencil, manual, 8 hole pencil selector, dual hardened helical cutters, wall or desk mount (screws included), heavy duty metal construction, large shavings receptacle, 10 year warranty.	X-Acto Ranger SS #1001 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-2011763	John R Green Co	No	1 - 1 Each Purchase	96	X-ACTO RANGER- 1001 #55	07101	\$25.44	\$2,442.24				
159	Sharpener, pencil, manual, 8 hole pencil selector, dual hardened helical cutters, wall or desk mount (screws included), heavy duty metal construction, large shavings receptacle, 10 year warranty.	X-Acto Ranger SS #1001 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-2011763	Cascade School Supplies	No	1 - 1 Each Purchase	96	Newell Brands/Bostitch	1001 CAS122068	\$28.89	\$2,773.44				

160	helical cutters, wall or desk mount (screws included), die cast metal base with lange steel shavings receptacle, for standard sized pencils, 10 year warranty.	PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES	No	1 - 1 Each Purchase	50	х-асто	L1041	\$14.88	\$744.00		Awarded	
160	Sharpener, pencil, manual, single hole, dual hardened helical cutters, wall or desk mount (screws included), die cast metal base with large steel shavings receptacle, for standard sized pencils, 10 year warranty.	X-Acto L #1041 or equal. SAMPLE = 1 sharpener. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500760-1151248	School Specialty LLC	No	1 - 1 Each Purchase	50	SCHOOL SMART	084835	\$16.98	\$849.00	084835		
161	Staple, 1/2", first quality, for heavy duty stapler, polished wire, packaged 5,000/box. In glued strip of 100.	Stanley Bostitch #58351/2-5M or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1666102	Cascade School Supplies	No	1 - 5000 Count Box	75	AMAX Stanley Bostitch	SB35 CAS119682	\$3.21	\$240.75			REJECT - did not submit sample for evaluation.
161	Staple, 1/2", first quality, for heavy duty stapler, polished wire, packaged 5,000/box. In glued strip of 100.	Stanley Bostitch #58351/2-5M or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1666102	PYRAMID SCHOOL PRODUCTS	No	1 - 5000 Count Box	75	BOSTTICH	SB35-1/2-5M	\$4.34	\$325.50		Awarded	
161	Staple, 1/2", first quality, for heavy duty stapler, polished wire, packaged 5,000/box. In glued strip of 100.	Stanley Bostitch #58351/2-5M or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1666102	Complete Printer Source	No	1 - 5000 Count Box	75	AMAX	BOSSB35125M	\$5.59	\$419.25			
161	Staple, 1/2", first quality, for heavy duty stapler, polished wire, packaged 5,000/box. In glued strip of 100.	Stanley Bostitch #58351/2-5M or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1666102	John R Green Co	No	1 - 5000 Count Box	75	BOSTITCH-50351/2- 5M	10039	\$5.73	\$429.75			
162	Staple, 1/4", first quality, polished wire, will fit all standard staplers, packaged 5,000/box in glued strips.	Stanley Bostitch #5851914CP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1189575	Cascade School Supplies	No	1 - 5000 Count Box	3210	Cascade Brand	119764	\$0.56	\$1,797.60	Cascade Brand 119764		REJECT - did not submit sample for evaluation.
162	Staple, 1/4", first quality, polished wire, will fit all standard staplers, packaged 5,000/box in glued strips.	Stanley Bostitch #5851914CP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1189575	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 5000 Count Box	3210	EXTRIC	7065	\$0.67	\$2,150.70			The Board will draw lots to break the tie.
162	Staple, 1/4", first quality, polished wire, will fit all standard staplers, packaged 5,000/box in glued strips.	Stanley Bostitch #5851914CP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1189575	PYRAMID SCHOOL PRODUCTS	No	1 - 5000 Count Box	3210	BOSTITCH	SBS19-1/4CP	\$0.67	\$2,150.70			The Board will draw lots to break the tie.
162	Staple, 1/4", first quality, poished wire, will fit all standard staplers, packaged 5,000/box in glued strips.	Stanley Bostitch #5B51914CP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1189575	School Specialty LLC	No	1 - 5000 Count Box	3210	BOSTITCH	SBS191 1/4CP	\$0.69	\$2,214.90	321841		
162	Staple, 1/4", first quality, polished wire, will fit all standard staplers, packaged 5,000/box in glued strips.	Stanley Bostitch #SBS1914CP or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1189575	John R Green Co	No	1 - 5000 Count Box	3210	BOSTITCH-SB5191	11470	\$0.90	\$2,889.00			
162	Staple, 1/4", first quality, polished wire, will fit all standard staplers, packaged 5,000/box in glued strips.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Complete Printer Source	No	1 - 5000 Count Box	3210	AMAX	BOSSBS1914CP	\$1.09	\$3,498.90			
163	Stapler, desktop, black, all metal construction, staples, pins and tacks,	20 sheet stapling capacity, inner rail for jam resistant stability, positive locking latch, staple supply indicator, 3 3/8" throat depth, full strip capacity, die cast base. Antimicrobial. Swingline Br307/474 Business or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1725854	School Specialty LLC	No	1 - 1 Each Purchase	859	BOSTITCH	B210-BLACK	\$6.71	\$5,763.89	1436350		REJECT - item bid is not equal, item is not all metal construction and does not have inner rail per specifications.

163	pins and tacks,	latch, staple supply indicator, 3 5/8" throat depth, full strip capacity, die cast base. Antimicrobiola. Swingline #SO704741 Busines or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	PRODUCTS	No	1 - 1 Each Purchase	859	SWINGLINE	74701	\$10.29	\$8,839.11			Awarded	
163	Stapler, desktop, black, all metal construction, staples, pins and tacks,	20 sheet stapling capacity, inner rail for jam resistant stability, positive locking febouards, and into the stability, positive locking febouards, and into the stable supply indicator, 3.5/8" throat depth, full strip capacity, die cast base. Antimicrobial. Swingline #57074741 Business or equal. SAMPLE 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	SCHOOL SUPPLIES	No	1 - 1 Each Purchase	859	SWINGLINE	7074741	\$11.90	\$10,222.10				
163	Stapler, desktop, black, all metal construction, staples, pins and tacks,	20 sheet stapling capacity, inner rail for jam resistant stability, positive locking fe90920-17256 latch, staple supply indicator, 3.5/8" throat depth, full strip capacity, die cast base. Antimicrobial. Swingline #57074741 Business or equal. SAMPLE 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	54 Complete Printer Source	No	1 - 1 Each Purchase	859	ACCO	SWI74741	\$14.59	\$12,532.81				
163	Stapler, desktop, black, all metal construction, staples, pins and tacks,	20 sheet stapling capacity, inner rail for jam resistant stability, positive locking fe90920-17256 latch, staple supply indicator, 3.5/8" throat depth, full strip capacity, die cast base. Antimicrobial. Swingline #57074741 Business or equal. SAMPLE 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	John R Green Co	No	1 - 1 Each Purchase	859	ACCO/SWINGLINE- S7074741G	10106	\$18.88	\$16,217.92				
163	Stapler, desktop, black, all metal construction, staples, pins and tacks,	20 sheet stapling capacity, inner rail for jam resistant stability, positive locking fe909820-17258 latch, staple supply indicator, 3 5/8" throat depth, full strip capacity, die cast base. Antimicrobial. Swingline #5070741 Business or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	Supplies	No	1 - 1 Each Purchase	859	Acco Brands/Swingline	74741 CAS032173	\$20.90	\$17,953.10				
164	Stapler, desktop, light duty, black, wide base and rubber slipper, opens for tacking ability, durable metal construction,	20 sheet stapling capacity, channel loading of a full strip of staples. Swingline #57040701 or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	98 odp BUSINESS SOLUTIONS, LLC	No	1 - 1 Each Purchase	1744	ACCO BRANDS USA LLC	S7040501B	\$3.57	\$6,226.08	3.57	ACCO BRANDS USA LLC		REJECT - did not submit sample for evaluation.
164	Stapler, desktop, light duty, black, wide base and rubber slipper, opens for tacking ability, durable metal construction,	20 sheet stapling capacity, channel loading of a full strip of staples. Swingline #57040701 or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	98 School Specialty LLC	. No	1 - 1 Each Purchase	1744	SCHOOL SMART	038178	\$4.98	\$8,685.12		038178		REJECT - sample submitted frequently catches/snags paper.
164	Stapler, desktop, light duty, black, wide base and rubber slipper, opens for tacking ability, durable metal construction,	20 sheet stapling capacity, channel loading of a full strip of staples. Swingline #87040701 or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	98 NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	1744	SWINGLINE	7040701	\$6.06	\$10,568.64			Awarded	
164	Stapler, desktop, light duty, black, wide base and rubber slipper, opens for tacking ability, durable metal construction,	20 sheet stapling capacity, channel loading of a full strip of staples. Swingline #57040701 or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	1744	SWINGLINE	40701	\$6.59	\$11,492.96				
164	Stapler, desktop, light duty, black, wide base and rubber slipper, opens for tacking ability, durable metal construction,	20 sheet stapling capacity, channel loading of a full strip of staples. Swingline #57040701 or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	98 Complete Printer Source	No	1 - 1 Each Purchase	1744	ACCO	SWIS7040701	\$7.29	\$12,713.76				
164	rubber slipper, opens for tacking ability, durable metal construction,	20 sheet stapling capacity, channel loading of a full strip of staples. Swingline #S7040701 or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	John R Green Co	No	1 - 1 Each Purchase	1744	ACCO/SWINGLINE- S7040701			\$15,207.68				
164	Stapler, desktop, light duty, black, wide base and rubber slipper, opens for tacking ability, durable metal construction,	20 sheet stapling capacity, channel loading of a full strip of staples. Swingline #57040701 or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	Supplies	No	1 - 1 Each Purchase	1744	Acco Brands/Swingline	44401 CAS119650				Acco Brands/Swingline 44401		
165	Stapler, heavy duty, rubber base, easy rear loading, strong arm, staples through	100 pages or more, guided staple feature with stroke control, adjustable paper guide, 1/4" to 31/4", loads 100 strip staples in 1/4", 3/8", 1/2" and 5/8", black or beige finish. Bosticht Bal30HDS or equal. SAMPLE 1 stapler. F BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Purchase	37	BOSTITCH	B310HDS	\$17.19	\$636.03			Awarded	

165	Stapler, heavy duty, rubber base, easy rear loading, strong arm, staples through	100 pages or more, guided staple feature with stroke control, adjustable page, guide, 1,4" to 3 1,4", loads 100 strp staples in 1,4", 3,8", 1,12" and 5,7", black or beige finish. Bostitch #8310HDS or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1374285	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Purchase	37	BOSTITCH	310HDS	\$24.25	\$897.25				
165	Stapler, heavy duty, rubber base, easy rear loading, strong arm, staples through	100 pages or more, guided staple feature with stroke control, adjustable pape guide, 1/4" to 3 1/4", loads 100 strip staples in 1/4", 3/8", 1/2" and 5/8", black or beige finish. Bostitch 8B310HDS or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1374285	Cascade School Supplies	No	1 - 1 Each Purchase	37	AMAX Stanley Bostitch	B310HDS CAS119667	\$25.33	\$937.21				
165	Stapler, heavy duty, rubber base, easy rear loading, strong arm, staples through	100 pages or more, guided staple feature with stroke control, adjustable pape guide, 1/4" to 3.1/4", loads 100 strip staples in 1/4", 3/8", 1/2" and 5/8", black or beige finish. Bosticht Ba301HDS or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1374285	Complete Printer Source	No	1 - 1 Each Purchase	37	AMAX	BOSB310HDS	\$27.59	\$1,020.83				
165	Stapler, heavy duty, rubber base, easy rear loading, strong arm, staples through	100 pages or more, guided staple feature with stroke control, adjustable pape; guide, 1/4" to 3 1/4", loads 100 strip staples in 1/4", 3/8", 1/2" and 5/8", black or beige finish. Bosticht Bai30HDS or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1374285	John R Green Co	No	1 - 1 Each Purchase	37	BOSTITCH-B310HDS	57108	\$28.23	\$1,044.51				
165	Stapler, heavy duty, rubber base, easy rear loading, strong arm, staples through	100 pages or more, guided staple feature with stroke control, adjustable pape: guide, 1/4" to 31/4", loads 100 strip staples in 1/4", 3/8", 1/2" and 5/8", black or beige finish. Bosticht Bai30HDG or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690820-1374285	School Specialty LLC	No	1 - 1 Each Purchase	37	BOSTITCH	B310HDS	\$33.28	\$1,231.36		025971		
166	Strip, sentence, dry erase, 3" x 24". ASSORTED COLORS (blue, pink and yellow), ruled 1 1/2" with red baseline and 3/4" dotted midline on dry erase side.	Dry erase surface on one side, 30/pk. Pacon #5186 or equal. SAMPLE = 1 strip. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012430	School Specialty LLC	No	1 - 30 Count Pack	319	PACON	5186	\$5.49	\$1,751.31		1369509	Awarded	
166	Strip, sentence, dry erase, 3" x 24". ASSORTED COLORS (blue, pink and yellow), ruled 1 1/2" with red baseline and 3/4" dotted midline on dry erase side.	Dry erase surface on one side, 30/pk. Pacon #5186 or equal. SAMPLE = 1 strip. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012430	PYRAMID SCHOOL PRODUCTS	No	1 - 30 Count Pack	319	PACON	5186	\$5.89	\$1,878.91				
166	Strip, sentence, dry erase, 3" x 24". ASSORTED COLORS (blue, pink and yellow), ruled 1 1/2" with red baseline and 3/4" dotted midline on dry erase side.	Dry erase surface on one side, 30/pk. Pacon #5186 or equal. SAMPLE = 1 strip. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012430	Cascade School Supplies	No	1 - 30 Count Pack	319	Dixon Ticonderoga	P5186 CAS027171	\$6.11	\$1,949.09				
166	Strip, sentence, dry erase, 3" x 24". ASSORTED COLORS (blue, pink and yellow), ruled 1 1/2" with red baseline and 3/4" dotted midline on dry erase side.	Dry erase surface on one side, 30/pk. Pacon #5186 or equal. SAMPLE = 1 strip. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012430	Complete Printer Source	No	1 - 30 Count Pack	319	Pacon	PAC5186	\$6.29	\$2,006.51				
166	Strip, sentence, dry erase, 3" x 24". ASSORTED COLORS (blue, pink and yellow), ruled 1 1/2" with red baseline and 3/4" dotted midline on dry erase side.	Dry erase surface on one side, 30/pk. Pacon #5186 or equal. SAMPLE = 1 strip. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012430	Lakeshore Learning Materials, LLC	No	1 - 30 Count Pack	319	Lakeshore	WS158 WHITE	\$9.29	\$2,963.51	Please reference "Per Quote #36611" on all purchase orders.	Write & Wipe White Sentence Strips TERMS: NET 30		
167		Dry erase surface on one side, 30/pk. Pacon #5185 or equal. SAMPLE = 1 strip. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		1 - 30 Count Pack	134	PACON	5185	\$4.79	\$641.86				
	Strip, sentence, dry erase, 3" x 24", white, ruled 1 1/2" with red baseline and 3/4" dotted midline on dry erase side.	Strip. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 30 Count Pack		PACON	5185	\$4.89	\$655.26		1369508	Awarded	Awarded to School Specialty, Inc. based on reciprocal preference for resident bidders applied against Pyramid School Products Inc. as stated in the Kentucky Model Procurement Code per KRS45A.494. PREFERENCE.
167	Strip, sentence, dry erase, 3" x 24", white, ruled 11/2" with red baseline and 3/4" dotted midline on dry erase side.	Dry erase surface on one side, 30/pk. Pacon #5185 or equal. SAMPLE = 1 strip. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012429	Complete Printer Source	No	1 - 30 Count Pack	134	Pacon	PAC5185	\$5.19	\$695.46				

167	Strip, sentence, dry erase, 3" x 24", white, ruled 1 1/2"	Dry erase surface on one side, 30/pk. Pacon #5185 or equal. SAMPLE = 1	2500200-2012429	Cascade School	No	1 - 30 Count	134	Dixon Ticonderoga	P5185 CAS019456	\$5.47	\$732.98				1
107	with red baseline and 3/4" dotted midline on dry erase		2300200-2012429	Supplies	140	Pack	154	Dixon riconderoga	F 3183 CA3013430	33.47	\$732.36				
	side.														
167	Strip, sentence, dry erase, 3" x 24", white, ruled 1 1/2"	Dry erase surface on one side, 30/pk. Pacon #5185 or equal. SAMPLE = 1	2500200-2012429	Lakeshore Learning	No	1 - 30 Count	134	Lakeshore	WS158	\$9.29	\$1,244.86	Please reference "Per Quote	Write & Wipe White Sentence		
107	with red baseline and 3/4" dotted midline on dry erase	strip. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2300200-2012429	Materials, LLC	140	Pack	154	Lakeshore	**3130	35.25	\$1,244.00	#36611" on all purchase	Strips TERMS: NET 30		
	side.											orders.			
450	Strip, sentence, tag board, 3" x 24", white, 1 1/2"	Pacon #5166 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS	2500200 2042747	Cascade School		1 - 100	coc	American Paper	9763 CAS131121	\$2.24	\$1,357.44		American Paper 9763		REJECT - did not submit sample for evaluation
168	guidline ruled with 3/4" dotted midline on one side and	REQUIRED.	2500200-2012/4/	Supplies	No	Count Pack	606	American Paper	9/63 CAS131121	\$2.24	\$1,357.44		American Paper 9763		REJECT - did not submit sample for evaluation
	single line ruled on the opposite side, 100/pack.														
168	Strip, sentence, tag board, 3" x 24", white, 1 1/2" guidline ruled with 3/4" dotted midline on one side and	Pacon #5166 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012747	School Specialty LLC	No	1 - 100 Count Pack	606	PACON	5166	\$2.71	\$1,642.26		316276		
	single line ruled on the opposite side, 100/pack.														
														Awarded	
168	Strip, sentence, tag board, 3" x 24", white, 1 1/2" guidline ruled with 3/4" dotted midline on one side and	Pacon #5166 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500200-2012747	Complete Printer Source	No	1 - 100 Count Pack	606	Pacon	PAC5166	\$2.89	\$1,751.34				
	single line ruled on the opposite side, 100/pack.			223.00		- COUR									
168	Strip, sentence, tag board, 3" x 24", white, 1 1/2"	Pacon #5166 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS	2500200-2012747		No	1 - 100	606	PACON	5166	\$2.95	\$1,787.70				
	guidline ruled with 3/4" dotted midline on one side and single line ruled on the opposite side, 100/pack.	REQUIRED.		PRODUCTS		Count Pack									
168	Strip, sentence, tag board, 3" x 24", white, 1 1/2"	Pacon #5166 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS	2500200-2012747	John R Green Co	No	1 - 100	606	PACON-P5166	53002	\$4.81	\$2,914.86				
	guidline ruled with 3/4" dotted midline on one side and	REQUIRED.				Count Pack									
	single line ruled on the opposite side, 100/pack.														
168	Strip, sentence, tag board, 3" x 24", white, 1 1/2"	Pacon #5166 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS	2500200-2012747	Lakeshore Learning	No	1 - 100	606	PACON	NF9763	\$6.50	\$3,939.00	Please reference "Per Quote	White Sentence Strips TERMS: NET		
100	guidline ruled with 3/4" dotted midline on one side and	REQUIRED.	2300200 2012747	Materials, LLC		Count Pack	000	TACON.	1113703	\$0.50	\$3,333.00	#36611" on all purchase	30		
	single line ruled on the opposite side, 100/pack.											orders.			
169	Tape, box sealing, EZ/sure start, clear, 1.88" x 54.6	commercial grade 2.5 mm thist, 21 lbs, nor inch width tonsile strongth	7620015 2012008	PYRAMID SCHOOL	No	1 - 1 Each	3100	SHURTECH	DUC299002	\$3.95	\$12,245.00				
109	yds., 3" core,	commercial grade, 2.6 mm thick, 31 lbs. per inch width tensile strength, polypropylene, meets US Postal regulations. Duck #299002 or equal. SAMPLE	7630013-2012098	PRODUCTS	NO	Roll	3100	SHUKTECH	D0C299002	\$5.95	\$12,245.00				
		= 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
														Awarded	
169	Tape, box sealing, EZ/sure start, clear, 1.88" x 54.6 yds., 3" core,	commercial grade, 2.6 mm thick, 31 lbs. per inch width tensile strength, polypropylene, meets US Postal regulations. Duck #299002 or equal. SAMPLE	7630015-2012098	Complete Printer Source	No	1 - 1 Each Roll	3100	Shurtech	DUC299002	\$4.63	\$14,353.00				
	, ,	= 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
1															
1															
1															
169	Tape, box sealing, EZ/sure start, clear, 1.88" x 54.6			Cascade School	No	1 - 1 Each	3100	3M	3850 CAS021806	\$6.76	\$20,956.00		3M Commercial/Scotch 2 X 60		
	yds., 3" core,	polypropylene, meets US Postal regulations. Duck #299002 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Roll		Commercial/Scotch					yards		
1															
170		2.6 mm thick, 31 lbs. per inch width tensile strength, acrylic, meets US Postal	7630015-2012786		No	1 - 1 Count	1630	SHURTECH	DUC1259457	\$4.79	\$7,807.70				
	with dispenser, 3" core,	regulations. Duck #1259457 or equal. SAMPLE = 1 roll with dispenser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		Pack									
		2.23/10 THE FILL OF ED THOUSELY, NO SAMPLE IS REQUIRED.												Awarded	
														Awarucu	
170	Tape, box sealing, EZ/sure start. clear. 1.88" x 60 v/s	2.6 mm thick, 31 lbs. per inch width tensile strength, acrylic, meets US Postal	7630015-2012786	Complete Printer	No	1 - 1 Count	1630	Shurtech	DUC1259457	\$5.29	\$8,622.70				
	with dispenser, 3" core,	regulations. Duck #1259457 or equal. SAMPLE = 1 roll with dispenser. IF		Source		Pack	2330			,5.25	, J, JLL. 7 J				
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													

170	Tana hay caaling 57/s ye start slees 1 99" y 60 yds	2.6 mm thick, 31 lbs. per inch width tensile strength, acrylic, meets US Postal	7620045 2012786	Cascade School	No	1 - 1 Count	1630	3M	3950RD	\$8.39	\$13,675.70		3M Commercial/Scotch 3950RD		
170	with dispenser, 3" core,	regulations. Duck #1259457 or equal. SAMPLE = 1 roll with dispenser. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7030013-2012760	Supplies	NO	Pack	1030	Commercial/Scotch	CAS038343	\$6.39	\$13,073.70		SW Commercialy Scotch 3930ND		
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
171	Tape, box sealing, clear, 1.88" x 54.6 yds., 3" core,	47 lbs. per inch width, tensile strength polypropelene, meets US Postal	7630015-2014381		No	1 - 1 Each	866	зм ѕсотсн	3750	\$4.48	\$3,879.68				
	heavy duty, 3.1mm thick,	regulations. Scotch #3750 or equal.		SCHOOL SUPPLIES		Roll									
														Awarded	
171	Tape, box sealing, clear, 1.88" x 54.6 yds., 3" core,	47 lbs. per inch width, tensile strength polypropelene, meets US Postal	7630015-2014381	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Roll	866	SCOTCH	3750CL	\$4.79	\$4,148.14				
	heavy duty, 3.1mm thick,	regulations. Scotch #3750 or equal.		PRODUCTS		Koli									
171	Tape, box sealing, clear, 1.88" x 54.6 yds., 3" core, heavy duty, 3.1mm thick,	47 lbs. per inch width, tensile strength polypropelene, meets US Postal regulations. Scotch #3750 or equal.	7630015-2014381	Complete Printer Source	No	1 - 1 Each Roll	866	3M	MMM3750	\$5.23	\$4,529.18				
171	Tape, box sealing, clear, 1.88" x 54.6 yds., 3" core,	47 lbs. per inch width, tensile strength polypropelene, meets US Postal	7630015-2014381	John R Green Co	No	1 - 1 Each	866	3M SCOTCH-3750	12421	\$5.67	\$4,910.22	1			
	heavy duty, 3.1mm thick,	regulations. Scotch #3750 or equal.				Roll									
171	Tape, box sealing, clear, 1.88" x 54.6 yds., 3" core,		7630015-2014381	School Specialty LLC	No	1 - 1 Each	866	SCOTCH	3750 2X60	\$6.31	\$5,464.46		040761		
	heavy duty, 3.1mm thick,	regulations. Scotch #3750 or equal.				Roll									
171	Tape, box sealing, clear, 1.88" x 54.6 yds., 3" core, heavy duty, 3.1mm thick,	47 lbs. per inch width, tensile strength polypropelene, meets US Postal regulations. Scotch #3750 or equal.	7630015-2014381	Cascade School Supplies	No	1 - 1 Each Roll	866	3M Commercial/Scotch	3750 CAS018777	\$6.33	\$5,481.78				
	neavy duty, 3.1mm thick,	regulations. Scotch #3730 of equal.		Supplies		Koli		Commercialy Scotch							
477	Towns and the Alella 2048. Company in the	Total control of the deliberation of the state of the book of the state of the stat	FC00040 44F0437	odp BUSINESS	No	1 - 1 Each	4835	BIC CORP	WOTAPP11	\$0.00	\$0.00	0	BIC CORP		
172	Tape, correction, white, 1/6" x 394". Correct mistakes instantly with no drying time. Correction tape covers	Translucent body provides visible tape supply. Rewinding knob, breakproof tape and an ergonomic applicator. Non-refillable. Tom Bow #68620 or equal.	5690910-1150427	SOLUTIONS, LLC	NO	Purchase	4835	BIC CORP	WUIAPPII	\$0.00	\$0.00	U	BIC CORP		
	typed and handwritten mistakes.	SAMPLE = 1 correction tape. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS													
		REQUIRED.													
172	Tape, correction, white, 1/6" x 394". Correct mistakes		5690910-1150427	Complete Printer	No	1 - 1 Each	4835	Tombow	TOM68620	\$1.80	\$8,703.00				
	instantly with no drying time. Correction tape covers typed and handwritten mistakes.	tape and an ergonomic applicator. Non-refillable. Tom Bow #68620 or equal. SAMPLE = 1 correction tape. IF BIDDING THE APPROVED PRODUCT, NO		Source		Purchase									
	-7/	SAMPLE IS												Awarded	
		REQUIRED.													
172	Tape, correction, white, 1/6" x 394". Correct mistakes	Translucent body provides visible tape supply. Rewinding knob, breakproof tape and an ergonomic applicator. Non-refillable. Tom Bow #68620 or equal.	5690910-1150427	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each	4835	TOMBOW	68620	\$1.89	\$9,138.15				
	instantly with no drying time. Correction tape covers typed and handwritten mistakes.	SAMPLE = 1 correction tape. IF BIDDING THE APPROVED PRODUCT, NO		PRODUCTS		Purchase									
		SAMPLE IS REQUIRED.													
										4.					
172		Translucent body provides visible tape supply. Rewinding knob, breakproof tape and an ergonomic applicator. Non-refillable. Tom Bow #68620 or equal.	5690910-1150427	School Specialty LLC	No	1 - 1 Each Purchase	4835	BIC	WOTAPP11	\$2.10	\$10,153.50		079593		
	typed and handwritten mistakes.	SAMPLE = 1 correction tape. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS													
		REQUIRED.													
172	Tape, correction, white, 1/6" x 394". Correct mistakes	Translucent body provides visible tape supply. Rewinding knob, breakproof	5690910-1150427	Cascade School	No	1 - 1 Each	4835	Tombow	68620 CAS018795	\$2.34	\$11,313.90				
	instantly with no drying time. Correction tape covers	tape and an ergonomic applicator. Non-refillable. Tom Bow #68620 or equal.		Supplies		Purchase									
	typed and handwritten mistakes.	SAMPLE = 1 correction tape. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS													
		REQUIRED.													
172		Translucent body provides visible tape supply. Rewinding knob, breakproof	5690910-1150427	John R Green Co	No		4835	TOMBOW-68620	05081	\$2.44	\$11,797.40				
	instantly with no drying time. Correction tape covers typed and handwritten mistakes.	tape and an ergonomic applicator. Non-refillable. Tom Bow #68620 or equal. SAMPLE = 1 correction tape. IF BIDDING THE APPROVED PRODUCT, NO				Purchase									
		SAMPLE IS REQUIRED.													
		REQUIRED.													
										_	_				

173	Tape, cellophane, 1/2" x 1,796", economy, transparent, glossy, sticks at a touch, 1" core	unwinds easily and will not break on the roll, for use in desk dispensers. 3M Highland #5910121296 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1070022	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Roll	2011	3M HIGHLAND	5910121296	\$0.47	\$945.17		Awarded	
173	Tape, cellophane, 1/2" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core	unwinds easily and will not break on the roll, for use in desk dispensers. 3M Highland #5910J21296 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1070022	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Roll	2011	3M HIGHLAND	5910121296	\$0.49	\$985.39			
173	Tape, cellophane, 1/2" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core	unwinds easily and will not break on the roll, for use in desk dispensers. 3M Highland #5910121296 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1070022	Complete Printer Source	No	1 - 1 Each Roll	2011	ЗМ	MMM591012129 6	\$0.57	\$1,146.27			
173	Tape, cellophane, 1/2" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core	unwinds easily and will not break on the roll, for use in desk dispensers. 3M Highland #5910121296 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1070022	School Specialty LLC	No	1 - 1 Each Roll	2011	HIGHLAND 3M	5910 1/2X36	\$0.58	\$1,166.38	040599		
173	Tape, cellophane, 1/2" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core	unwinds easily and will not break on the roll, for use in desk dispensers. 3M Highland #5910121296 or equal. SAMPLE = 1 roll. If BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1070022	Cascade School Supplies	No	1 - 1 Each Roll	2011	3M Commercial/Highlan d	59103M CAS123167	\$0.83	\$1,669.13			
173	Tape, cellophane, 1/2" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core	unwinds easily and will not break on the roll, for use in desk dispensers. 3M Highland #5910121296 or equal. SAMPLE = 1 roll. If BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1070022	John R Green Co	No	1 - 1 Each Roll	2011	3M HIGHLAND- 5910	12016	\$0.90	\$1,809.90			
174	Tape, cellophane, 3/4" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core, unwinds easily and will not break on the roll, for use in desk dispensers.	3M Highland #5910341296 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1374490	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Roll	3615	3M HIGHLAND	5910341296	\$0.61	\$2,205.15		Awarded	
174	Tape, cellophane, 3/4" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core, unwinds easily and will not break on the roll, for use in desk dispensers.	3M Highland #5910341296 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1374490	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Roll	3615	3M HIGHLAND	5910341296	\$0.69	\$2,494.35			
174	Tape, celiophane, 3/4" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core, unwinds easily and will not break on the roll, for use in desk dispensers.	3M Highland #5910341296 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1374490	School Specialty LLC	No	1 - 1 Each Roll	3615	HIGHLAND 3M	5910 3/4X36	\$0.80	\$2,892.00	040602		
174	Tape, cellophane, 3/4" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core, unwinds easily and will not break on the roll, for use in desk dispensers.	3M Highland #5910341296 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1374490	Complete Printer Source	No	1 - 1 Each Roll	3615	3M	MMM591034129 6	\$0.95	\$3,434.25			
174	Tape, cellophane, 3/4" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core, unwinds easily and will not break on the roll, for use in desk dispensers.	3M Highland #5910341296 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1374490	Cascade School Supplies	No	1 - 1 Each Roll	3615	3M Commercial/Highlan d	59103M CAS123167	\$1.21	\$4,374.15			
174	Tape, cellophane, 3/4" x 1,296", economy, transparent, glossy, sticks at a touch, 1" core, unwinds easily and will not break on the roll, for use in desk dispensers.	3M Highland #5910341296 or equal. SAMPLE = 1 roll. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630043-1374490	John R Green Co	No	1 - 1 Each Roll	3615	3M HIGHLAND- 5910	12017	\$1.29	\$4,663.35			
175	Tape, filament, 1" x 60 yds., general purpose, 170 lbs. in tensile strength, clear polypropylene backing reinforced with glass yam filaments with a synthetic rubber resin adhesive.	Scotch #897 or equal. SAMPLE = 1 roll with specification sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630015-1150605	John R Green Co	No	1 - 1 Each Roll	160	3M-897	12098	\$5.39	\$862.40		Awarded	

175	Tape, filament, 1" x 60 yds., general purpose, 170 lbs. in tensile strength, clear polypropylene backing reinforced with glass yarn filaments with a synthetic rubber resin adhesive.	Scotch #897 or equal. SAMPLE = 1 roll with specification sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630015-1150605	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Roll	160	scotch	897-1	\$6.79	\$1,086.40				
175	Tape, filament, 1" x 60 yds., general purpose, 170 lbs. in tensile strength, clear polypropylene backing reinforced with glass yarn filaments with a synthetic rubber resin a dhesive.	Scotch #897 or equal. SAMPLE = 1 roll with specification sheet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	7630015-1150605	Complete Printer Source	No	1 - 1 Each Roll	160	3M	MMM897	\$7.29	\$1,166.40				
176	Tape, magic transparent, 1/2" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200121296 or equal. THIS NOTE APPLIES TO ITEM NOS. 178 through 180: Resists cracking and yellowing with age, unwinds and tears easily, can be written on, resists moisture, 1" core.		PRODUCTS	No	1 - 1 Each Roll	1251	3M HIGHLAND	6200121296	\$0.57	\$713.07			Awarded	
176	Tape, magic transparent, 1/2" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200121296 or equal. THIS NOTE APPLIES TO ITEM NOS. 178 through 180: Resists cracking and yellowing with age, unwinds and tears easily, can be written on, resists moisture, 1° core.		SCHOOL SUPPLIES		1 - 1 Each Roll	1251	3M HIGHLAND	6200121296	\$0.65	\$813.15				
176	Tape, magic transparent, 1/2" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200121296 or equal. THIS NOTE APPLIES TO ITEM NOS. 178 through 180: Resists cracking and yellowing with age, unwinds and tears easily, can be written on, resists moisture, 1" core.	7630043-1374525	School Specialty LLC	No	1 - 1 Each Roll	1251	HIGHLAND 3M	6200 1/2X36	\$0.72	\$900.72				
176	Tape, magic transparent, 1/2" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200121296 or equal. THIS NOTE APPLIES TO TEM NOS. 178 through 180: Resists cracking and yellowing with age, unwinds and tears easily, can be written on, resists moisture, 1" core.	7630043-1374525	Complete Printer Source	No	1 - 1 Each Roll	1251	3M	MMM620012129 6	\$0.74	\$925.74				
176	Tape, magic transparent, 1/2" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200121296 or equal. THIS NOTE APPLIES TO ITEM NOS. 178 through 180: Resists cracking and yellowing with age, unwinds and tears easily, can be written on, resists moisture, 1" core.	7630043-1374525	Cascade School Supplies	No	1 - 1 Each Roll	1251	3M Commercial/Highlan d	6200 CAS163715	\$1.15	\$1,438.65				
176	Tape, magic transparent, 1/2" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200121296 or equal. THIS NOTE APPLIES TO ITEM NOS. 178 through 180: Resists cracking and yellowing with age, unwinds and tears easily, can be written on, resists moisture, 1" core.	7630043-1374525	John R Green Co	No	1 - 1 Each Roll	1251	3M HIGHLAND- 6200	12023	\$1.26	\$1,576.26				
177	Tape, magic transparent, 3/4" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200341296 or equal.	7630043-1070095	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Roll	6589	3M HIGHLAND	6200341296	\$0.65	\$4,282.85			Awarded	
177	Tape, magic transparent, 3/4" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200341296 or equal.	7630043-1070095	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Roll	6589	3M HIGHLAND	6200341296	\$0.75	\$4,941.75				
177	Tape, magic transparent, 3/4" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200341296 or equal.	7630043-1070095	odp BUSINESS SOLUTIONS, LLC	No	1 - 1 Each Roll	6589	3M COMPANY	1464686	\$0.79	\$5,205.31	0.79	3M COMPANY		
177	Tape, magic transparent, 3/4" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200341296 or equal.	7630043-1070095	Complete Printer Source	No	1 - 1 Each Roll	6589	3M	MMM620034129 6	\$0.99	\$6,523.11				
177	Tape, magic transparent, 3/4" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200341296 or equal.	7630043-1070095	School Specialty LLC	No	1 - 1 Each Roll	6589	HIGHLAND 3M	6200 3/4x36	\$0.99	\$6,523.11				

177					T	T			T		T		T		
1//	Tape, magic transparent, 3/4" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M Highland #6200341296 or equal.	7630043-1070095	Cascade School Supplies	No	1 - 1 Each Roll	6589	3M Commercial/Highlan	6200 CAS163716	\$1.50	\$9,883.50				
								d							
177	Tape, magic transparent, 3/4" x 1,296", a frost tape	3M Highland #6200341296 or equal.	7630043-1070095	John R Green Co	No	1 - 1 Each	6589	3M HIGHLAND-	12024	\$2.01	\$13,243.89				
1//	that becomes invisible when applied to most surfaces.	SWI Highland #0200341230 of equal.	7030043-1070093	John K Green Co	140	Roll	0303	6200	12024	\$2.01	\$13,243.03				
178	Tape, magic transparent, 1" x 1,296", a frost tape that	3M #810. NO SUBSTITUTE.	7630043-1374534	odp BUSINESS	No	1 - 1 Each	988	3M COMPANY	6200-3/4X1296	\$0.83	\$820.04	0.83	3M COMPANY		REJECT- substitute not acceptable.
1/6	becomes invisible when applied to most surfaces.	SWI #610. NO SUBSTITUTE.	7030043-1374334	SOLUTIONS, LLC	NO	Roll	300	SIVI COMPANT	6200-5/4X1296	30.63	\$620.04	0.65	SWI COMPANT		REJECT - Substitute not acceptable.
178	Tape, magic transparent, 1" x 1,296", a frost tape that	3M #810. NO SUBSTITUTE.	7630043-1374534	NATIONAL ART &	No	1 - 1 Each	988	3M	810-1	\$3.22	\$3,181.36				
1/6	becomes invisible when applied to most surfaces.	SWI #610. NO SUBSTITUTE.	7030043-1374334	SCHOOL SUPPLIES	NO	Roll	300	SIVI	810-1	\$5.22	\$5,161.50				
														Awarded	
178	Tape, magic transparent, 1" x 1,296", a frost tape that	3M #810. NO SUBSTITUTE.	7620042 4274524	PYRAMID SCHOOL	No	1 - 1 Each	988	3M	810	\$3.49	\$3,448.12				
1/8	becomes invisible when applied to most surfaces.	SIM HOLD. IND SUBSTITUTE.	7030043-1374534	PRODUCTS	NO	1 - 1 Each Roll	988	SIVI	910	53.49	33,448.12				
178	Tape, magic transparent, 1" x 1,296", a frost tape that	3M #810. NO SUBSTITUTE.	7620042 4274524	Complete Printer	No	1 - 1 Each	988	3M	MMM81011296	\$3.61	\$3,566.68				
1/8	becomes invisible when applied to most surfaces.	3M #810. NO SUBSTITUTE.	/630043-13/4534	Source Source	NO	Roll	988	SIVI	MMM81011296	\$3.61	\$3,566.68				
178	Tape, magic transparent, 1" x 1,296", a frost tape that becomes invisible when applied to most surfaces.	3M #810. NO SUBSTITUTE.	7630043-1374534	John R Green Co	No	1 - 1 Each Roll	988	3M SCOTCH-810	57549	\$3.66	\$3,616.08				
179	Tape, masking, 3/4" X 60" yds., general purpose.	THIS NOTE APPLIES TO ITEM NOS. 179 through 180: Natural colored crepe paper backing, rubber adhesive, 19 lbs. tensile strength, 4.4 mil. thickness,	7630040-1185177	PYRAMID SCHOOL PRODUCTS	No	1 - 1 Each Roll	2693	3M	2600-18A	\$1.05	\$2,827.65				
		instant adhesion, resists lifting or curling, conforms without tearing, resists slivering, yet hand tearable. Conforms to ASTM D330, D3759 and D3652. 3M													
		#2600 or equal. SAMPLE = 1 roll with specification sheet. IF BIDDING THE												Awarded	
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													

179	Tape, masking, 3/4" X 60" yds., general purpose.	THIS NOTE APPLIES TO ITEM NOS. 179 through 180: Natural colored crepe paper backing, rubber adhesive, 19 lbs. tensile strength, 4.4 mil. thickness,	7630040-1185177	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 1 Each Roll	2693	3M	2600-34	\$1.20	\$3,231.60				
		instant adhesion, resists lifting or curling, conforms without tearing, resists													
		slivering, yet hand tearable. Conforms to ASTM D330, D3759 and D3652. 3M #2600 or equal. SAMPLE = 1 roll with specification sheet. IF BIDDING THE													
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
					<u> </u>						*****				
179	Tape, masking, 3/4" X 60" yds., general purpose.	THIS NOTE APPLIES TO ITEM NOS. 179 through 180: Natural colored crepe paper backing, rubber adhesive, 19 lbs. tensile strength, 4.4 mil. thickness,	/630040-1185177	Complete Printer Source	No	1 - 1 Each Roll	2693	3M	MMM260018AEA	\$1.26	\$3,393.18				
		instant adhesion, resists lifting or curling, conforms without tearing, resists slivering, yet hand tearable. Conforms to ASTM D330, D3759 and D3652. 3M													
		slivering, yet hand tearable. Conforms to ASTM D330, D3759 and D3652. 3M #2600 or equal. SAMPLE = 1 roll with specification sheet. IF BIDDING THE													
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
							****				****				
179	Tape, masking, 3/4" X 60" yds., general purpose.	THIS NOTE APPLIES TO ITEM NOS. 179 through 180: Natural colored crepe paper backing, rubber adhesive, 19 lbs. tensile strength, 4.4 mil. thickness,	/630040-1185177	Cascade School Supplies	No	1 - 1 Each Roll	2693	3M Commercial	260018A CAS123276	\$1.46	\$3,931.78				
		instant adhesion, resists lifting or curling, conforms without tearing, resists													
		slivering, yet hand tearable. Conforms to ASTM D330, D3759 and D3652. 3M #2600 or equal. SAMPLE = 1 roll with specification sheet. IF BIDDING THE													
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
				-1 1- 1-			****								
179	Tape, masking, 3/4" X 60" yds., general purpose.	THIS NOTE APPLIES TO ITEM NOS. 179 through 180: Natural colored crepe paper backing, rubber adhesive, 19 lbs. tensile strength, 4.4 mil. thickness,	/630040-1185177	School Specialty LLC	No	1 - 1 Each Roll	2693	3M	101-18	\$1.47	\$3,958.71				
1		instant adhesion, resists lifting or curling, conforms without tearing, resists													
		slivering, yet hand tearable. Conforms to ASTM D330, D3759 and D3652. 3M #2600 or equal. SAMPLE = 1 roll with specification sheet. IF BIDDING THE													
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
179	Tape, masking, 3/4" X 60" yds., general purpose.	THIS NOTE APPLIES TO ITEM NOS. 179 through 180: Natural colored crepe paper backing, rubber adhesive, 19 lbs. tensile strength, 4.4 mil. thickness,	7630040-1185177	John R Green Co	No	1 - 1 Each Roll	2693	3M-2600	12126	\$1.54	\$4,147.22				
1		instant adhesion, resists lifting or curling, conforms without tearing, resists													
		slivering, yet hand tearable. Conforms to ASTM D330, D3759 and D3652. 3M #2600 or equal. SAMPLE = 1 roll with specification sheet. IF BIDDING THE													
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
L										<u></u>					
_					_				_		_				

180	Tape, masking, 1 1/2" x 60 yds., general purpose.	3M #2600 or equal.	7630040-1064806		No	1 - 1 Each	2190	3M COMPANY	26000-1	\$1.31	\$2,868.90	1.31	3M COMPANY		REJECT- did not submit sample for evaluation
				SOLUTIONS, LLC		Roll									
180	Tape, masking, 1 1/2" x 60 yds., general purpose.	3M #2600 or equal.	7630040-1064806	Cascade School Supplies	No	1 - 1 Each Roll	2190	Cascade Brand	007975	\$1.94	\$4,248.60		Cascade Brand 007975		REJECT- did not submit sample for evaluation
180	T	3M #2600 or equal.	7530040 4054005	NATIONAL ART &	No	1 - 1 Each	2190	3M	2600-112	\$2.03	\$4,445.70				
100	Tape, masking, 1 1/2" x 60 yds., general purpose.	SWI #2000 OI EQUAL.	7030040-1004600	SCHOOL SUPPLIES	NO	Roll	2190	SIVI	2000-112	\$2.03	34,443.70				
														Awarded	
180	Tape, masking, 1 1/2" x 60 yds., general purpose.	3M #2600 or equal.	7630040-1064806	Complete Printer	No	1 - 1 Each	2190	3M	MMM260036A	\$2.09	\$4,577.10				
				Source		Roll									
180	Tape, masking, 1 1/2" x 60 yds., general purpose.	3M #2600 or equal.	7630040-1064806	PYRAMID SCHOOL	No	1 - 1 Each	2190	3M	2600-36	\$2.09	\$4,577.10				
				PRODUCTS		Roll									
180	Tape, masking, 1 1/2" x 60 yds., general purpose.	3M #2600 or equal.	7630040-1064806	John R Green Co	No	1 - 1 Each Roll	2190	3M-2600	12128	\$2.49	\$5,453.10				
180	Tone marking 1.1/2" u CO ude ganeral number	3M #2600 or equal.	7630040 1064906	School Specialty LLC	No	1 - 1 Each	2190	3M	101-36	\$2.88	\$6,307.20		1461991		
180	Tape, masking, 1 1/2" x 60 yds., general purpose.	SWI #2600 or equal.	7630040-1064806	School Specialty LLC	NO	Roll	2190	SIVI	101-36	\$2.88	\$6,307.20		1461991		
181	Wristband, Tyvek, 3/4" x 10", with adhesive closure,	Available colors: blue, green, orange, purple, red, and yellow. Color will be	4600015-2013161	PYRAMID SCHOOL	No	1 - 100	985	BAUMGARTENS	850XX	\$6.95	\$6,845.75				
	sequentially numbered, 100/pack.	specified at time of purchase order. Baumgarten Sicurix #850XX or equal. SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE		PRODUCTS		Count Pack									
		IS REQUIRED.												Awarded	
181	Wristband, Tyvek, 3/4" x 10", with adhesive closure,		4600015-2013161		No	1 - 100	985	Baumgartens	BAU850XX	\$7.49	\$7,377.65				
	sequentially numbered, 100/pack.	specified at time of purchase order. Baumgarten Sicurix #850XX or equal. SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE		Source		Count Pack									
		IS REQUIRED.													
181	Wristband, Tyvek, 3/4" x 10", with adhesive closure, sequentially numbered, 100/pack.	Available colors: blue, green, orange, purple, red, and yellow. Color will be specified at time of purchase order. Baumgarten Sicurix #850XX or equal.	4600015-2013161	John R Green Co	No	1 - 100 Count Pack	985	C-LINE-89102	14756	\$7.75	\$7,633.75		DIFFERENT BRAND		
1		SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
1															
1															
181	Wristband, Tyvek, 3/4" x 10", with adhesive closure.	Available colors: blue, green, orange, purple, red, and yellow. Color will be	4600015-2013161	School Specialty LLC	No	1 - 100	985	SICURIX	850XX	\$8.68	\$8,549.80		077814		
	sequentially numbered, 100/pack.	specified at time of purchase order. Baumgarten Sicurix #850XX or equal.				Count Pack									
1		SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
1															
1															
181	Wristband, Tyvek, 3/4" x 10", with adhesive closure,	Available colors: blue, green, orange, purple, red, and yellow. Color will be	4600015-2013161		No	1 - 100	985	C-Line Products	8910* CAS0353**	\$9.28	\$9,140.80		C-Line Products 8910* Specify		
	sequentially numbered, 100/pack.	specified at time of purchase order. Baumgarten Sicurix #850XX or equal. SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE		Supplies		Count Pack							color at order: 035326 yellow, 035327 purple, 035328 orange,		
		IS REQUIRED.											035329 green, 035330 red. 035331 blue		
1															
	-														
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Harr			
182-184	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Provider	Part Number	Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
_		· · · · · · · · · · · · · · · · · · ·			_	_	_	· · · · · · · · · · · · · · · · · · ·		_		·			· · · · · · · · · · · · · · · · · · ·

182	Badge, "Hello My Name Is". BLUE.	Leonard #93515 or equal. THIS NOTE APPLIES TO ITEM NOS. 182 through 184. Pressure sensitive. Protective backing peels from adhesive, 2 1/4" x 3 3/8". 100/box. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690900-1649792	Kerr Office Group, Inc.	No	1 - 100 Count Box	540	СП	93515	1.13	610.2			Awarded	
183	Badge, "Hello My Name Is". GREEN.	Leonard #93525 or equal.	5690900-1150632	Kerr Office Group, Inc.	No	1 - 100 Count Box	201	СП	93525	1.13	227.13			Awarded	
184	Badge, "Hello My Name Is". RED.	Leonard #93535 or equal.	5690900-1649791	Kerr Office Group, Inc.	No	1 - 100 Count Box	221	СП	93535	1.13	249.73			Awarded	
182	Badge, "Hello My Name Is". BLUE.	Leonard #93515 or equal. THIS NOTE APPLIES TO ITEM NOS. 182 through 184. Pressure sensitive. Protective backing peels from adhesive, 2 J/4" x 3 J/8". 100/box. SAMPLE = 1 box. IF BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690900-1649792	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 100 Count Box	540	EXTRIC	10629	1.49	804.6				
183	Badge, "Hello My Name Is". GREEN.	Leonard #93525 or equal.	5690900-1150632	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 100 Count Box	201	EXTRIC	10630	1.49	299.49				
184	Badge, "Hello My Name Is". RED.	Leonard #93535 or equal.	5690900-1649791	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 100 Count Box	221	EXTRIC	10628	1.49	329.29				
182	Badge, "Hello My Name Is". BLUE.	Leonard #93515 or equal. THIS NOTE APPLIES TO ITEM NOS. 182 through 184. Pressure sensitive. Protective backing peels from adhesive, 2 1/4" x 3 3/8". 100/box. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690900-1649792	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	540	LEONARD	93515	1.59	858.6				
183	Badge, "Hello My Name Is". GREEN.	Leonard #93525 or equal.	5690900-1150632	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	201	LEONARD	93525	1.59	319.59				
184	Badge, "Hello My Name Is". RED.	Leonard #93535 or equal.	5690900-1649791	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	221	LEONARD	93535	1.59	351.39				
182	Badge, "Hello My Name Is". BLUE.	Leonard #93515 or equal. THIS NOTE APPLIES TO ITEM NOS. 182 through 184. Pressure sensitive. Protective backing peels from adhesive, 2 1/4" x 3 3/8". 100/box. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690900-1649792	John R Green Co	No	1 - 100 Count Box	540	CLI-93515	14564	1.61	869.4				
183	Badge, "Hello My Name Is". GREEN.	Leonard #93525 or equal.	5690900-1150632	John R Green Co	No	1 - 100 Count Box	201	CLI-LEO-93525	57606	1.72	345.72				
184	Badge, "Hello My Name Is". RED.	Leonard #93535 or equal.	5690900-1649791	John R Green Co	No	1 - 100 Count Box	221	CLI-93535	14563	1.61	355.81				
182	Badge, "Hello My Name Is". BLUE.	Leonard #93515 or equal. THIS NOTE APPLIES TO ITEM NOS. 182 through 184. Pressure sensitive. Protective backing peels from adhesive, 2 1/4" x 3 3/8". 100/box. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690900-1649792	Complete Printer Source	No	1 - 100 Count Box	540	Charles Leonard	LEO93515	1.61	869.4				
183	Badge, "Hello My Name Is". GREEN.	Leonard #93525 or equal.	5690900-1150632	Complete Printer Source	No	1 - 100 Count Box	201	Charles Leonard	LEO93525	1.72	345.72				
184	Badge, "Hello My Name Is". RED.	Leonard #93535 or equal.	5690900-1649791	Complete Printer Source	No	1 - 100 Count Box	221	Charles Leonard	LEO93535	1.72	380.12				
182	Badge, "Hello My Name Is". BLUE.	Leonard #93515 or equal. THIS NOTE APPLIES TO ITEM NOS. 182 through 184. Pressure sensitive. Protective backing peels from adhesive, 2 1/4" x 3 3/8". 100/box. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690900-1649792	Cascade School Supplies	No	1 - 100 Count Box	540	Charles Leonard	93515 CAS121242	1.67	901.8				
183	Badge, "Hello My Name Is". GREEN.	Leonard #93525 or equal.	5690900-1150632	Cascade School Supplies	No	1 - 100 Count Box	201	Charles Leonard	93525 CAS014183	1.67	335.67				
184	Badge, "Hello My Name Is". RED.	Leonard #93535 or equal.	5690900-1649791	Cascade School Supplies	No	1 - 100 Count Box	221	Charles Leonard	93535 CAS013906	1.67	369.07				
Lot Item Number 185-190	Item/Service	Description	Commodity Code		No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
185	Band, rubber, No. 18 - 3" L x 1/16" W, natural tan. Alliance Advantage #26189 or equal.	THIS NOTE APPLIES TO ITEM NOS. 185 through 190. Sturdy band, high tensile strength, firm stretch, 1/4# box. SAMPLE = 12 rubber bands. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690020-1150570	Cascade School Supplies	No	125 Pound Pack	183	Cascade Brand	120202	0.95	173.85		Cascade Brand 120202		Reject - incomplete coverage for Lot Item Nos. 185 thru 190.
186	Band, rubber, No. 19 - 3 1/2" L x 1/16" W, natural tan.	Alliance Advantage #26199 or equal.	5690020-1372509	Cascade School Supplies	No	125 Pound Pack	308	Cascade Brand	002634	1.04	320.32		Cascade Brand 002634		Reject - incomplete coverage for Lot Item Nos. 185 thru 190.

187	Band, rubber, No. 32 - 3" L x 1/8" W, natural tan.	Alliance Advantage #26329 or equal.	5690020-1150589	Cascade School Supplies	No	125 Pound Pack	306	Cascade Brand	120203	0.95	290.7	Cascade Brand 120203		Reject - incomplete coverage for Lot Item Nos. 185 thru 190.
188	Band, rubber, No. 33 - 3 1/2" L x 1/8" W, natural tan.	Alliance Advantage #26339 or equal.	5690020-1372518	Cascade School Supplies	Yes									Reject - incomplete coverage for Lot Item Nos. 185 thru 190.
189	Band, rubber, No. 64 - 3 1/2" L x 1/4" W, natural tan.	Alliance Advantage #26649 or equal.	5690020-1069356	Cascade School Supplies	No	125 Pound Pack	247	Cascade Brand	120204	0.95	234.65	Cascade Brand 120204		Reject - incomplete coverage for Lot Item Nos. 185 thru 190.
190	Band, rubber, No. 117 - 7" L x 1/8" W, natural tan	Alliance Advantage #27405 or equal.	5690020-2012758	Cascade School Supplies	No	125 Pound Pack	321	Cascade Brand	121185	0.94	301.74	Cascade Brand 121185 Sold 12 per package		Reject - incomplete coverage for Lot Item Nos. 185 thru 190.
185	Band, rubber, No. 18 - 3" L x 1/16" W, natural tan. Alliance Advantage #26189 or equal.	THIS NOTE APPLIES TO ITEM NOS. 185 through 190. Sturdy band, high tensile strength, firm stretch, 1/4# box. SAMPLE = 12 rubber bands. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690020-1150570	PYRAMID SCHOOL PRODUCTS	No	125 Pound Pack	183	LEONARD	56218	0.9	164.7			Reject - did not submit sample for all items for evaluation for Lot Item Nos. 185 thru 190.
186	Band, rubber, No. 19 - 3 1/2" L x 1/16" W, natural tan.	Alliance Advantage #26199 or equal.	5690020-1372509	PYRAMID SCHOOL PRODUCTS	No	125 Pound Pack	308	LEONARD	56219	0.9	277.2			Reject - did not submit sample for all items for evaluation for Lot item Nos. 185 thru 190.
187	Band, rubber, No. 32 - 3" L x 1/8" W, natural tan.	Alliance Advantage #26329 or equal.	5690020-1150589	PYRAMID SCHOOL PRODUCTS	No	125 Pound Pack	306	LEONARD	56232	0.9	275.4			Reject - did not submit sample for all items for evaluation for Lot Item Nos. 185 thru 190.
188	Band, rubber, No. 33 - 3 1/2" L x 1/8" W, natural tan.	Alliance Advantage #26339 or equal.	5690020-1372518	PYRAMID SCHOOL PRODUCTS	No	125 Pound Pack	518	LEONARD	56233	0.9	466.2			Reject - did not submit sample for all items for evaluation for Lot Item Nos. 185 thru 190.
189	Band, rubber, No. 64 - 3 1/2" L x 1/4" W, natural tan.	Alliance Advantage #26649 or equal.	5690020-1069356	PYRAMID SCHOOL PRODUCTS	No	125 Pound Pack	247	LEONARD	56264	0.9	222.3			Reject - did not submit sample for all items for evaluation for Lot Item Nos. 185 thru 190.
190	Band, rubber, No. 117 - 7" L x 1/8" W, natural tan	Alliance Advantage #27405 or equal.	5690020-2012758	PYRAMID SCHOOL PRODUCTS	No	125 Pound Pack	321	LEONARD	56217	0.9	288.9			Reject - did not submit sample for all items for evaluation for Lot Item Nos. 185 thru 190.
185	Band, rubber, No. 18 - 3" L x 1/16" W, natural tan. Alliance Advantage #26189 or equal.	THIS NOTE APPLIES TO ITEM NOS. 185 through 190. Sturdy band, high tensile strength, firm stretch, 1/4# box. SAMPLE = 12 rubber bands. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690020-1150570	John R Green Co	No	125 Pound Pack	183	ALLIANCE-18	11313	0.9	164.7		Awarded	
186	Band, rubber, No. 19 - 3 1/2" L x 1/16" W, natural tan.	Alliance Advantage #26199 or equal.	5690020-1372509	John R Green Co	No	125 Pound Pack	308	ALLIANCE-19	57587	0.9	277.2		Awarded	
187	Band, rubber, No. 32 - 3" L x 1/8" W, natural tan.	Alliance Advantage #26329 or equal.	5690020-1150589	John R Green Co	No	125 Pound Pack	306	ALLIANCE-32	11314	0.9	275.4		Awarded	
188	Band, rubber, No. 33 - 3 1/2" L x 1/8" W, natural tan.	Alliance Advantage #26339 or equal.	5690020-1372518	John R Green Co	No	125 Pound Pack	518	ALLIANCE-33	11315	0.9	466.2		Awarded	
189	Band, rubber, No. 64 - 3 1/2" L x 1/4" W, natural tan.	Alliance Advantage #26649 or equal.	5690020-1069356	John R Green Co	No	125 Pound Pack	247	ALLIANCE-64	57588	0.9	222.3		Awarded	
190	Band, rubber, No. 117 - 7" L x 1/8" W, natural tan	Alliance Advantage #27405 or equal.	5690020-2012758	John R Green Co	No	125 Pound Pack	321	ALLIANCE-117B	11326	1.05	337.05		Awarded	
185	Band, rubber, No. 18 - 3" L x 1/16" W, natural tan. Alliance Advantage #26189 or equal.	THIS NOTE APPLIES TO ITEM NOS. 185 through 190. Sturdy band, high tensile strength, firm stretch, 1/4# box. SAMPLE = 12 rubber bands. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690020-1150570	Kerr Office Group, Inc.	No	125 Pound Pack	183	ALL	26189	1.17	214.11			
186	Band, rubber, No. 19 - 3 1/2" L x 1/16" W, natural tan.	Alliance Advantage #26199 or equal.	5690020-1372509	Kerr Office Group, Inc.	No	125 Pound Pack	308	ALL	26199	1.17	360.36			
187	Band, rubber, No. 32 - 3" L x 1/8" W, natural tan.	Alliance Advantage #26329 or equal.	5690020-1150589	Kerr Office Group, Inc.	No	125 Pound Pack	306	ALL	26329	1.17	358.02			
188	Band, rubber, No. 33 – 3 1/2" L x 1/8" W, natural tan.	Alliance Advantage #26339 or equal.	5690020-1372518	Kerr Office Group, Inc.	No	125 Pound Pack	518	ALL	26339	1.17	606.06			
					1	1				1				

189	Band, rubber, No. 64 - 3 1/2" L x 1/4" W, natural tan.	Alliance Advantage #26649 or equal.	5690020-1069356	Kerr Office Group, Inc.	No	125 Pound Pack	247	ALL	26649	1.17	288.99				
190	Band, rubber, No. 117 - 7" L x 1/8" W, natural tan	Alliance Advantage #27405 or equal.	5690020-2012758	Kerr Office Group, Inc.	No	125 Pound Pack	321	ALL	27405	3.63	1165.23				
185	Band, rubber, No. 18 - 3" L x 1/16" W, natural tan. Alliance Advantage #26189 or equal.	THIS NOTE APPLIES TO ITEM NOS. 185 through 190. Sturdy band, high tensile strength, firm stretch, 1/4# box. SAMPLE = 12 rubber bands. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690020-1150570	Complete Printer Source	No	125 Pound Pack	183	Alliance Rubber	ALL26189	1.99	364.17				
186	Band, rubber, No. 19 - 3 1/2" L x 1/16" W, natural tan.	Alliance Advantage #26199 or equal.	5690020-1372509	Complete Printer Source	No	125 Pound Pack	308	Alliance Rubber	ALL26199	1.99	612.92				
187	Band, rubber, No. 32 - 3" L x 1/8" W, natural tan.	Alliance Advantage #26329 or equal.	5690020-1150589	Complete Printer Source	No	125 Pound Pack	306	Alliance Rubber	ALL26329	1.99	608.94				
188	Band, rubber, No. 33 - 3 1/2" L x 1/8" W, natural tan.	Alliance Advantage #26339 or equal.	5690020-1372518	Complete Printer Source	No	125 Pound Pack	518	Alliance Rubber	ALL26339	1.99	1030.82				
189	Band, rubber, No. 64 - 3 1/2" L x 1/4" W, natural tan.	Alliance Advantage #26649 or equal.	5690020-1069356	Complete Printer Source	No	125 Pound Pack	247	Alliance Rubber	ALL26649	1.99	491.53				
190	Band, rubber, No. 117 - 7" L x 1/8" W, natural tan	Alliance Advantage #27405 or equal.	5690020-2012758	Complete Printer Source	No	125 Pound Pack	321	Alliance Rubber	ALL27409	1.99	638.79				
\vdash				-	+	+ =	H	 							
Lot Item Number 191-194	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
191	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 1" capacity,	Samsill Series #13 or equal. THIS NOTE APPLIES TO ITEM NOS. 191 through 194. Standard open and close triggers on the top and bottom of the spine, two opaque interior pockets. Available colors: black, blue, burgundy, green, grey, orange, purple, red, white and yellow. Color will be specified at time of purchase order. SAMPLE = 1 binder for each size. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. SPECIFY AVAILABLE COLORS IN VENDOR RESPONSE ITEM NOTES FIELD.	5690040-13/1484	Cascade School Supplies	No	1 - Each Purchase	5369	Cascade Brand	1188**	1.08	5798.52		Cascade Brand 1188** Specify Color At Order: 118889 Black, 118892 Red, 003916 White, 118891 Blue, 118893 Green, 012232 Gray		Reject - did not submit sample for evaluation.
192	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 1 1/2" capacity.	Samsill Series #115 or equal.	5690040-1150436	Cascade School Supplies	No	1 - Each Purchase	1139	Cascade Brand	005468	1.68	1913.52		Cascade Brand 005468 Blue ONLY		Reject - did not submit sample for evaluation.
193		Samill Series #116 or equal. THIS NOTE APPLES TO ITEM NOS. 195 through 196. Standard open and close triggers on the top and bottom of the spine, two opaque interior pockets. Available colors: black, blue, burgundy, green, grey, purple, red and white. Color will be specified at the time of purchase order. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Cascade School Supplies	No	1 - Each Purchase	1312	Cascade Brand	0057**	1.95	2558.4		Cascade Brand 0057** Specify Color At Order: 005468 Blue, 011159 Green, 005470 Black, 011158 Red		Reject - did not submit sample for evaluation.
194	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 3" capacity	Samsill Series #118 or equal.	5690040-1150445	Cascade School Supplies	No	1 - Each Purchase	230	Cascade Brand	149919	3.4	782		Cascade Brand 149919 Black ONLY		Reject - did not submit sample for evaluation.
191	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 1" capacity,	Samill Series #13 or equal. THIS NOTE APPLES TO ITEM NOS. 391 through 194. Standard open and close triggers on the top and bottom of the spine, two opaque interior pockets. Available colors: black, blue, burgundy, green, grey, orange, purple, red, white and yellow. Color will be specified at time of purchase order. SAMPLE = 1 binder for each size. IE BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. SPECIFY AVAILABLE COLORS IN VENDOR RESPONSE ITEM NOTES FIELD.	5690040-1371484	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	5369	SAMSILL	11300BK 11302BL	1.79	9610.51		BLACK AND BLUE ONLY	Awarded	
192	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 1 1/2" capacity.	Samsill Series #115 or equal.	5690040-1150436	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	1139	SAMSILL	11500BK 11502BL	2.39	2722.21		BLACK AND BLUE ONLY	Awarded	

193	Binder, 3 round ring, durable viny! to hold 8 1/2" x 11" paper, 2" capacity.	Samill Series #116 or equal. THIS NOTE APPLES TO ITEM NOS. 195 through 196. Standard open and Cubes triggers on the top and hostom of the spine, two opaque interior pockets. Available colors: black, blue, burgundy, green, grey, purple, red and white. Color will be specified at the time of purchase order. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690040-1371493	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	1312	SAMSILL	11600BK 11602BL	2.65	3476.8	BLACK AND BLUE ONLY	Awarded
194	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 3" capacity	Samsill Series #118 or equal.		PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	230	SAMSILL	11800BK 11802BL	4.19	963.7	BLACK AND BLUE ONLY	Awarded
191	Binder, 3 round ring, durable viny to hold 8 1/2" x 11" paper, 1" capacity,	Samsill Series #13 or equal. THIS NOTE APPLIST TO ITEM NOS. 191 through 194. Standard open and close triggers on the top and hottom of the spin wo opaque interior pockets. Available colors: black, blue, burgundy, green, grey, orange, purple, red, white and yellow. Color will be specified at time of purchase order. SAMPLE = 1 binder for each size. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. SPECIFY AVAILABLE COLORS IN VENDOR RESPONSE ITEM NOTES FIELD.	5690040-1371484	John R Green Co	No	1 - Each Purchase	5369	SAMSILL-11300C	11300	1.9	10201.1	BLACK AVAILABLE ONLY	
192	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 1 1/2" capacity.	Samsill Series #115 or equal.	5690040-1150436	John R Green Co	No	1 - Each Purchase	1139	SAMSILL-11500C	11500	2.66	3029.74	BLACK AVAILABLE ONLY	
193	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 2" capacity.	Samsill Series #116 or equal. THIS NOTE APPLIES TO ITEM NOS. 195 through 196. Standard open and close triggers on the top and bottom of the spine, two opaque interior pockets. Available cloris: black, blue, buggundy, green, grey, purple, red and white. Color will be specified at the time of purchase order. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		John R Green Co	No	1 - Each Purchase	1312	SAMSILL-11600C	11600	3.03	3975.36	BLACK AVAILABLE ONLY	
	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 3" capacity	Samsill Series #118 or equal.	5690040-1150445		No	1 - Each Purchase	230	SAMSILL-11800C	11800	5.24	1205.2	BLACK AVAILABLE ONLY	
191	paper, 1" capacity,	Samill Series #13 or equal. THIS NOTE APPLIST OI TEM NOS. 191 through 194. Standard open and close triggers on the top and not bottom of the spine, two opaque interior pockets. Available colors: black, blue, burgundy, green, grey, orange, purple, red, white and yellow. Color will be specified at time of purchase order. SAMPLE = 1 inder for each size. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. SPECIFY AVAILABLE COLORS IN VENDOR RESPONSE ITEM NOTES FIELD.	5690040-1371484	Kerr Office Group, Inc.	No	1 - Each Purchase	5369	SAM	113XX	1.91	10254.79		
192	Binder, 3 round ring, durable viny! to hold 8 1/2" x 11" paper, 1 1/2" capacity.	Samsill Series #115 or equal.	5690040-1150436	Kerr Office Group, Inc.	No	1 - Each Purchase	1139	SAM	115XX	3.11	3542.29		
193	Binder, 3 round ring, durable viny! to hold 8 1/2" x 11" paper, 2" capacity.	Samill Series #1.16 or equal. THIS NOTE APPLIST OI TEM NOS. 195 through 196. Standard open and close triggers on the top and bottom of the spine, two opaque interior pockets. Available colors: black, blue, burgundy, green, grey, purple, red and white. Color will be specified at the time of purchase order. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690040-1371493	Kerr Office Group, Inc.	No	1 - Each Purchase	1312	SAM	116XX	3.59	4710.08		
194	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 3" capacity	Samsill Series #118 or equal.	5690040-1150445	Kerr Office Group, Inc.	No	1 - Each Purchase	230	SAM	118XX	5.71	1313.3		
191	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 1" capacity,	Samsill Series #113 or equal. THIS NOTE APPLIES TO ITEM NOS. 191 through 194. Standard open and close triggers on the top and bottom of the spine, two opaque interior potects. Available colors: black, blue, burgundy, green, grey, orange, purple, red, white and yellow. Color will be specified at time of purchase order. SAMPLE = 1 binder for each size. FIBDIONIC THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. SPECIFY AVAILABLE COLORS IN VENDOR RESPONSE ITEM NOTES FIELD.		Complete Printer Source	No	1 - Each Purchase	5369	Samsill	SAM113XX	2.29	12295.01		

192	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 1 1/2" capacity.	Samsill Series #115 or equal.	5690040-1150436	Complete Printer Source	No	1 - Each Purchase	1139	Samsill	SAM115XX	3.29	3747.31				
193	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 2" capacity.	196. Standard open and close triggers on the top and bottom of the spine, two	5690040-1371493	Complete Printer Source	No	1 - Each Purchase	1312	Samsill	SAM116XX	3.69	4841.28				
		opaque interior pockets. Available colors: black, blue, burgundy, green, grey, purple, red and white. Color will be specified at the time of purchase order. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
194	Binder, 3 round ring, durable vinyl to hold 8 1/2" x 11" paper, 3" capacity	Samsill Series #118 or equal.	5690040-1150445	Complete Printer Source	No	1 - Each Purchase	230	Samsill	SAM118XX	6.29	1446.7				
Lot Item															
Number 195-198	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
195			5690040-2012428		No	1 - Each Purchase	5387	Cascade Brand	170371 White, 025847 Black	1.15	6195.05	Notes	Cascade Brand Black and White ONLY	Award Status	Reject - did not submit sample for evaluation.
196	Binder, view/presentation, 3 round ring, poly to hold 8	Samsill Series #185 or equal.	5690040-2012427		No	1 - Each	1671	Cascade Brand	015797	1.62	2707.02		Cascade Brand 015797		Reject - did not submit sample for evaluation.
	1/2" x 11" paper, 1 1/2" capacity.			Supplies		Purchase									
197	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 2" capacity.	Samsill Series #185 or equal.	5690040-2012426	Cascade School Supplies	No	1 - Each Purchase	1628	Cascade Brand	150005	1.97	3207.16		Cascade Brand 150005		Reject - did not submit sample for evaluation.
198	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 3" capacity.	Samsill Series #185 or equal.	5690040-1723023	Cascade School Supplies	No	1 - Each Purchase	469	Cascade Brand	014457	3.07	1439.83		Cascade Brand 014457		Reject - did not submit sample for evaluation.
195	Binder, view/presentation, 3 round ring, poly to hold 8		5690040-2012428		No	1 - Each	5387	SAMSILL	1853X	1.89	10181.43		BLACK AND WHITE ONLY		
	1/2" x 11" paper, 1" capacity.	198. Nonstick clear overlay on front, back and spine, locking round ring, two inside pockets front and back. Available colors: black, red and white. Color will be specified at time of purchase order. SAMPLE = 1 binder of each size. IF YOU ARE BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED, SPCIFY AVAILABLE COLORS IN VENDOR RESPONSE ITEM NOTES FIELD.		PRODUCTS		Purchase								Awarded	
196	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 1 1/2" capacity.	Samsill Series #185 or equal.	5690040-2012427	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	1671	SAMSILL	1855X	2.4	4010.4		BLACK AND WHITE ONLY		
														Awarded	
197	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 2" capacity.	Samsill Series #185 or equal.	5690040-2012426	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	1628	SAMSILL	1856X	2.65	4314.2		BLACK AND WHITE ONLY		
														Awarded	
198	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 3" capacity.	Samsill Series #185 or equal.	5690040-1723023	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	469	SAMSILL	1858X	4.09	1918.21		BLACK AND WHITE ONLY		
														Awarded	

						,							
195	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 1" capacity.	Samsill Series #18.8 or equal. THIS NOTE APPLIES TO ITEM NOS. 195 through 138. Nonstick clear overlay on front, back and spine, locking round ring with inside pockets front and back. Available colors: black, red and white. Color will be specified at time of purchase order. SAMPLE = 1 blidned red each size. I/OU ARE BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. SPECIFY AVAILABLE COLORS IN VENDOR RESPONSE ITEM NOTES FIELD.		John R Green Co	No	1 - Each Purchase	5387	KURTZ BROS-03039	03039	2.34	12605.58	DIFFERENT BRAND AVAILABLE IN WHITE, BLACK, BURGUNDY, BLUE, GRAY AND RED.	
196	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 1 1/2" capacity.	Samsill Series #185 or equal.	5690040-2012427	John R Green Co	No	1 - Each Purchase	1671	KURTZ BROS-03198	03198	3.53	5898.63	DIFFERENT BRAND AVAILABLE IN BLACK AND WHITE	
197	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 2" capacity.	Samsill Series #185 or equal.	5690040-2012426	John R Green Co	No	1 - Each Purchase	1628	KURTZ BROS-03086	03086	4.48	7293.44	DIFFERENT BRAND AVAILABLE IN WHITE, BLACK AND BLUE	
198	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 3" capacity.	Samsill Series #185 or equal.	5690040-1723023	John R Green Co	No	1 - Each Purchase	469	KURTZ BROS-03089	03089	6.09	2856.21	DIFFERENT BRAND AVAILABLE IN WHITE, BLACK AND BLUE	
195	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 1" capacity.	Samsill Series #185 or equal. THIS NOTE APPLIES TO ITEM NOS. 195 through 198. Nonstick clear overlay on front, back and spine, locking round ring, two inside pockets front and back. Available colors: black, red and white. Color will be specified at time of purchase order. SAMPLE = 1 binder of each size. It YOU ARE BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. SPECIFY AVAILABLE COLORS IN VENDOR RESPONSE ITEM NOTES FIELD.		Kerr Office Group, Inc.	No	1 - Each Purchase	5387	SAM	185XX	2.87	15460.69		
196	Binder, view/presentation, 3 round ring, poly to hold 8 $1/2^* \times 11^*$ paper, 1 $1/2^*$ capacity.	Samsill Series #185 or equal.	5690040-2012427	Kerr Office Group, Inc.	No	1 - Each Purchase	1671	SAM	185XX	3.92	6550.32		
197	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 2" capacity.	Samsill Series #185 or equal.	5690040-2012426	Kerr Office Group, Inc.	No	1 - Each Purchase	1628	SAM	185XX	4.48	7293.44		
198	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 3" capacity.	Samsill Series #185 or equal.	5690040-1723023	Kerr Office Group, Inc.	No	1 - Each Purchase	469	SAM	185XX	6.69	3137.61		
195	Binder, view/presentation, 3 round ring, poly to hold 8 $1/2^{\circ} \times 11^{\circ}$ paper, 1° capacity.	Samsill Series #185 or equal. THIS NOTE APPLIES TO ITEM NOS. 195 through 198. Nonstick clear overlay on front, back and spine, locking round ring, two inside pockets front and back. Available colors: black, red and white. Color inside pockets front and back. Available colors: black, red and white. Color inside pockets front and back. Available colors: black, red and white. Color in beginning to be a series of the series of the series of the series of the AVAILABLE COLORS IN VENDOR RESPONSE ITEM NOTES FIELD.		Complete Printer Source	No	1 - Each Purchase	5387	Samsill	SAM1853X	3.29	17723.23		
196	Binder, view/presentation, 3 round ring, poly to hold 8 $1/2^* \times 11^*$ paper, $1.1/2^*$ capacity.	Samsill Series #185 or equal.	5690040-2012427	Complete Printer Source	No	1 - Each Purchase	1671	Samsill	SAM1855X	4.49	7502.79		
197	Binder, view/presentation, 3 round ring, poly to hold 8 1/2" x 11" paper, 2" capacity.	Samsill Series #185 or equal.	5690040-2012426	Complete Printer Source	No	1 - Each Purchase	1628	Samsill	SAM1856X	5.29	8612.12		
198	Binder, view/presentation, 3 round ring, poly to hold 8	Samsill Series #185 or equal.	5690040-1723023	Complete Printer	No	1 - Each	469	Samsill	SAM1858X	7.49	3512.81		
170	binue, vew/presentation, 3 round ing, poy or mou a 1/2" x 11" paper, 3" capacity.	ournam various P Ad d VI Equal).		Source	.40	Purchase	703	H 13HH	S-0112020A	43	3322.01		
1	į		1	1	1	1	1	1		1		i l	1

					1	1		I			1				
Lot Item															
Number 199-200	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
199	Board, presentation, 48" x 36", white, tri-fold, single	Folds to 24" x 36". Pacon #3763 or equal. Quote 1 each only. SAMPLE = 1	1515040-1697187		No	1 - Each	4249	PAC	P3763	3.63	15423.87	Hotes	Supplier Notes	Awara Status	Andriotes
	wall corrugation.	board. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Inc.		Purchase								Awarded	
200	Board presentation header, white, corrugated with slots for use on 48" x 36" presentation boards.	Pacon #3761 or equal. SAMPLE = 1 header. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1515040-2012414	Kerr Office Group, Inc.	No	1 - Each Purchase	513	PAC	P3761	1.79	918.27				
	siots for use off 46 x 30 presentation boards.	PRODUCT, NO SAMPLE IS REQUIRED.		IIIC.		ruicilase								Awarded	
199	Board, presentation, 48" x 36", white, tri-fold, single	Folds to 24" x 36". Pacon #3763 or equal. Quote 1 each only. SAMPLE = 1	1515040-1697187	John R Green Co	No	1 - Each	4249	PACON-P3763	50001	3.76	15976.24				
199	wall corrugation.	board. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1313040-109/18/	John K Green Co	NO	Purchase	4249	PACON-P3763	30001	3.76	13976.24				
200	Board presentation header, white, corrugated with	Pacon #3761 or equal. SAMPLE = 1 header. IF BIDDING THE APPROVED	1515040-2012414	John R Green Co	No	1 - Each	513	PACON-P3761	57544	1.86	954.18				
	slots for use on 48" x 36" presentation boards.	PRODUCT, NO SAMPLE IS REQUIRED.				Purchase									
199	Board, presentation, 48" x 36", white, tri-fold, single	Folds to 24" x 36". Pacon #3763 or equal. Quote 1 each only. SAMPLE = 1	1515040-1697187	Complete Printer	No	1 - Each	4249	Pacon	PAC3763EA	3.99	16953.51				
	wall corrugation.	board. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Purchase									
200	Board presentation header, white, corrugated with slots for use on 48" x 36" presentation boards.	Pacon #3761 or equal. SAMPLE = 1 header. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1515040-2012414	Complete Printer Source	No	1 - Each Purchase	513	Pacon	PAC3761EA	1.39	713.07				
	side for asc off 40 x 30 presentation bounds.	THOSE I, NO SAIN EL 15 NEGOTIES.		Source		1 di ciidac									
199	Paralla secretaria (Ollo 2011 orbita del falla desla	Folds to 24" x 36". Pacon #3763 or equal. Quote 1 each only. SAMPLE = 1	1515040-1697187	Cascade School	No	1 - Each	4249	Dixon Ticonderoga	P3763 CAS029643	4.47	18993.03				
199	Board, presentation, 48" x 36", white, tri-fold, single wall corrugation.	board. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1313040-169/18/	Supplies	INO	1 - Each Purchase	4249	DIXUIT IICONderoga	F 3 703 CASU29043	4.47	10995.05				
200	Board presentation header, white, corrugated with	Pacon #3761 or equal. SAMPLE = 1 header. IF BIDDING THE APPROVED	1515040-2012414	Cascade School	No	1 - Each	513	Dixon Ticonderoga	3761 CAS114239	1.79	918.27				
	slots for use on 48" x 36" presentation boards.	PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Purchase									
Lot Item															
Number 201-213	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
201	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37136 or equal. THIS NOTE APPLIES TO ITEM NOS. 201	1220050-1649805	Complete Printer	No	1 - Each	180	Pacon	PAC37136	1.1	198				
	APPLE GREEN.	through 213. Solid color corrugated paper for bulletin boards. Fade-resistant. SAMPLE = 1 sample booklet. IF BIDDING THE APPROVED PRODUCT, NO		Source		Purchase								Awarded	
		SAMPLE IS REQUIRED.												Awarueu	
202	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37166 or equal.	1220050-1649807	Complete Printer	No	1 - Each	318	Pacon	PAC37166	1.65	524.7				
202	AZURE BLUE.	racon Bordette #5/100 or equal.	1220030-1649807	Source	NO	Purchase	310	Pacon	PAC37100	1.05	324.7				
														Awarded	
203	Border, pre-scalloped decorative, 2 1/4" x 50' roll. BLACK.	Pacon Bordette #37306 or equal.	1220050-1649810	Complete Printer Source	No	1 - Each Purchase	404	Pacon	PAC37306	1.65	666.6				
	BEACK.			Source		ruicilase								Awarded	
204	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37026 or equal.	1220050-1649799	Complete Printer	No	1 - Each	100	Pacon	PAC37026	1.65	165				
	BROWN.			Source		Purchase								A	
														Awarded	
205	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37146 or equal.	1220050-1649806	Complete Printer	No	1 - Each	121	Pacon	PAC37146	1.65	199.65				
203	EMERALD GREEN.	racon boractic iis/140 or equal.	1220030 1043000	Source	110	Purchase	12.1	1 00011	171037140	1.03	133.03				
														Awarded	
206	Border, pre-scalloped decorative, 2 1/4" x 50' roll. FLAME RED.	Pacon Bordette #37036 or equal.	1220050-1649800	Complete Printer Source	No	1 - Each Purchase	263	Pacon	PAC37036	1.65	433.95				
														Awarded	
207	Border, pre-scalloped decorative, 2 1/4" x 50' roll. NILE	Pacon Bordette #37126 or equal.	1220050-1649803	Complete Printer	No	1 - Each	154	Pacon	PAC37126	1.65	254.1				
	GREEN.			Source		Purchase								Awarded	
														arucu	
208	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37106 or equal.	1220050-1649802	Complete Printer	No	1 - Each	160	Pacon	PAC37106	1.65	264				
	ORANGE.			Source		Purchase									
														Awarded	
209	Border, pre-scalloped decorative, 2 1/4" x 50' roll. PINK.	Pacon Bordette #37266 or equal.	1220050-1649809	Complete Printer Source	No	1 - Each Purchase	156	Pacon	PAC37266	1.65	257.4				
														Awarded	
210	Border, pre-scalloped decorative, 2 1/4" x 50' roll. RICH	Pacon Bordette #37186 or equal.	1220050-1649808	Complete Printer	No	1 - Each	265	Pacon	PAC37186	1.65	437.25				
	BLUE.			Source		Purchase								Awarded	
211	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37336 or equal.	1220050-1649804	Complete Printer	No	1 - Each	217	Pacon	PAC37336	1.65	358.05				
	VIOLET.		1043004	Source		Purchase									
														Awarded	
212	Border, pre-scalloped decorative, 2 1/4" x 50' roll. WHITE.	Pacon Bordette #37016 or equal.	1220050-1369031	Complete Printer Source	No	1 - Each Purchase	353	Pacon	PAC37016	1.65	582.45				
	WillE.			Source		, archase								Awarded	
		I .								1					

												1	T		
213	Border, pre-scalloped decorative, 2 1/4" x 50' roll. CANARY YELLOW.	Pacon Bordette #37086 or equal.	1220050-1649801	Complete Printer Source	No	1 - Each Purchase	303	Pacon	PAC37086	1.65	499.95				
														Awarded	
201	Border, pre-scalloped decorative, 2 1/4" x 50' roll. APPLE GREEN.	Pacon Bordette #37136 or equal. THIS NOTE APPLIES TO ITEM NOS. 201 through 213. Solid color corrugated paper for bulletin boards. Fade-resistant.	1220050-1649805	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	180	PACON	37136	1.69	304.2				
	AFFEE GREEN.	SAMPLE = 1 sample booklet. IF BIDDING THE APPROVED PRODUCT, NO		PRODUCIS		Fulcilase									
		SAMPLE IS REQUIRED.													
202	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37166 or equal.	1220050-1649807	PYRAMID SCHOOL	No	1 - Each	318	PACON	37166	1.69	537.42				
	AZURE BLUE.			PRODUCTS		Purchase									
203	Border, pre-scalloped decorative, 2 1/4" x 50' roll. BLACK.	Pacon Bordette #37306 or equal.	1220050-1649810	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	404	PACON	37306	1.69	682.76				
204	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37026 or equal.	1220050-1649799	PYRAMID SCHOOL	No	1 - Each	100	PACON	37026	1.69	169				
	BROWN.			PRODUCTS		Purchase									
205	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37146 or equal.	1220050-1640906	PYRAMID SCHOOL	No	1 - Each	121	PACON	37146	1.69	204.49				
203	EMERALD GREEN.	Pacon bordette #37 140 or equal.	1220030-1043800	PRODUCTS	140	Purchase	121	PACON	3/140	1.03	204.43				
206	Border, pre-scalloped decorative, 2 1/4" x 50' roll. FLAME RED.	Pacon Bordette #37036 or equal.	1220050-1649800	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	263	PACON	37036	1.69	444.47				
						2.3.030									
207	Border, pre-scalloped decorative, 2 1/4" x 50' roll. NILE	Pacon Bordette #37126 or equal.	1220050-1649803	PYRAMID SCHOOL	No	1 - Each	154	PACON	37126	1.69	260.26				
	GREEN.			PRODUCTS		Purchase									
208	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37106 or equal.	1220050-1649802	PYRAMID SCHOOL	No	1 - Each	160	PACON	37266	1.69	270.4				
200	ORANGE.	r debit bordette #37 200 br equal.	1220030 1043002	PRODUCTS	140	Purchase	100	TACON.	37200	1.03	270.4				
209	Border, pre-scalloped decorative, 2 1/4" x 50' roll. PINK.	Pacon Bordette #37266 or equal.	1220050-1649809	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	156	PACON	37186	1.69	263.64				
	FINAL			PRODUCIS		Fulcilase									
210	Border, pre-scalloped decorative, 2 1/4" x 50' roll. RICH	Pacon Bordette #37186 or equal.	1220050-1649808		No	1 - Each	265	PACON	37336	1.69	447.85				
	BLUE.			PRODUCTS		Purchase									
211	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37336 or equal.	1220050-1649804	PYRAMID SCHOOL	No	1 - Each	217	PACON	37336	1.69	366.73				
	VIOLET.			PRODUCTS		Purchase									
212	Border, pre-scalloped decorative, 2 1/4" x 50' roll. WHITE.	Pacon Bordette #37016 or equal.	1220050-1369031	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	353	PACON	37016	1.69	596.57				
213	Border, pre-scalloped decorative, 2 1/4" x 50' roll. CANARY YELLOW.	Pacon Bordette #37086 or equal.	1220050-1649801	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	303	PACON	37086	1.69	512.07				
	CAIVANT TELLOW.			PRODUCIS		Purchase									
201	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37136 or equal. THIS NOTE APPLIES TO ITEM NOS. 201	1220050-1649805		No	1 - Each	180	Dixon Ticonderoga	P0037136	2	360				
1	APPLE GREEN.	through 213. Solid color corrugated paper for bulletin boards. Fade-resistant. SAMPLE = 1 sample booklet. IF BIDDING THE APPROVED PRODUCT, NO		Supplies		Purchase		1	CAS108807						
		SAMPLE = 1 Sample booket. In SIDDING THE APPROVED PRODUCT, NO													
202	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37166 or equal.	1220050-1649807	Cascade School	No	1 - Each	318	Dixon Ticonderoga	P0037166	2	636				
1	AZURE BLUE.			Supplies		Purchase	-10		CAS115731	1	-30				
1								1							
203	Border, pre-scalloped decorative, 2 1/4" x 50' roll. BLACK.	Pacon Bordette #37306 or equal.	1220050-1649810	Cascade School Supplies	No	1 - Each Purchase	404	Dixon Ticonderoga	P0037306 CAS115745	2	808				
1								1							
204	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37026 or equal.	1220050-1649799		No	1 - Each	100	Dixon Ticonderoga	P0037026	2	200				
	BROWN.			Supplies		Purchase			CAS115717						
1								1							
205	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37146 or equal.	1220050-1649806	Cascade School	No	1 - Each	121	Dixon Ticonderoga	P0037146	2	242				
	EMERALD GREEN.			Supplies		Purchase			CAS115729	1					
								L						1	
206	Border, pre-scalloped decorative, 2 1/4" x 50' roll. FLAME RED.	Pacon Bordette #37036 or equal.	1220050-1649800	Cascade School Supplies	No	1 - Each Purchase	263	Dixon Ticonderoga	P0037036 CAS115718	2	526				
1								1							
1								1							

207	Border, pre-scalloped decorative, 2 1/4" x 50' roll. NILE GREEN.	Pacon Bordette #37126 or equal.	1220050-1649803	Cascade School Supplies	No	1 - Each Purchase	154	Dixon Ticonderoga	P0037126 CAS115738	2	308		
208	Border, pre-scalloped decorative, 2 1/4" x 50' roll. ORANGE.	Pacon Bordette #37106 or equal.	1220050-1649802		No	1 - Each Purchase	160	Dixon Ticonderoga	P0037106 CAS115725	2	320		
	UNANGE.			Supplies		Purchase			CA3113723				
209	Border, pre-scalloped decorative, 2 1/4" x 50' roll. PINK.	Pacon Bordette #37266 or equal.	1220050-1649809	Cascade School Supplies	No	1 - Each Purchase	156	Dixon Ticonderoga	P0037266 CAS115742	1.56	243.36		
210	Border, pre-scalloped decorative, 2 1/4" x 50' roll. RICH	Pacon Bordette #37186 or equal.	1220050-1649808	Cascade School	No	1 - Each	265	Dixon Ticonderoga	P0037186	2	530		
	BLUE.			Supplies		Purchase			CAS115733				
211	Border, pre-scalloped decorative, 2 1/4" x 50' roll. VIOLET.	Pacon Bordette #37336 or equal.	1220050-1649804	Cascade School Supplies	No	1 - Each Purchase	217	Dixon Ticonderoga	P0037336 CAS115743	2	434		
212	Border, pre-scalloped decorative, 2 1/4" x 50' roll. WHITE.	Pacon Bordette #37016 or equal.	1220050-1369031	Cascade School Supplies	No	1 - Each Purchase	353	Dixon Ticonderoga	37010 CAS115716	2	706		
213	Border, pre-scalloped decorative, 2 1/4" x 50' roll. CANARY YELLOW.	Pacon Bordette #37086 or equal.	1220050-1649801	Cascade School Supplies	No	1 - Each Purchase	303	Dixon Ticonderoga	P0037086 CAS115723	2	606		
201	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37136 or equal. THIS NOTE APPLIES TO ITEM NOS. 201	1220050-1649805	John R Green Co	No	1 - Each	180	PACON-P0037056	39038	2.24	403.2	COLOR IS LIME	
201	APPLE GREEN.	through 213. Solid color corrugated paper for bulletin boards. Fade-resistant. SAMPLE = 1 sample booklet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Purchase	100	TACSAT GOSTOSC	33030	2.24	403.2	COLONIS LINE	
202	Border, pre-scalloped decorative, 2 1/4" x 50' roll. AZURE BLUE.	Pacon Bordette #37166 or equal.	1220050-1649807	John R Green Co	No	1 - Each Purchase	318	PACON-P0037166	39048	2.24	712.32		
203	Border, pre-scalloped decorative, 2 1/4" x 50' roll. BLACK.	Pacon Bordette #37306 or equal.	1220050-1649810	John R Green Co	No	1 - Each Purchase	404	PACON-P0037306	39051	2.24	904.96		
204	Border, pre-scalloped decorative, 2 1/4" x 50' roll. BROWN.	Pacon Bordette #37026 or equal.	1220050-1649799	John R Green Co	No	1 - Each Purchase	100	PACON-P0037026	39042	2.24	224		
205	Border, pre-scalloped decorative, 2 1/4" x 50' roll.	Pacon Bordette #37146 or equal.	1220050-1649806	John R Green Co	No	1 - Each	121	PACON-P0037146	39047	2.24	271.04		
203	EMERALD GREEN.	Pacon Doluctic #37,240 Or equal.	1220030-1049800	John K Green Co	NO	Purchase	121	PACON-1003/140	33047	2.24	271.04		
206	Border, pre-scalloped decorative, 2 1/4" x 50' roll. FLAME RED.	Pacon Bordette #37036 or equal.	1220050-1649800	John R Green Co	No	1 - Each Purchase	263	PACON-P0037036	39043	2.24	589.12		
207	Border, pre-scalloped decorative, 2 1/4" x 50' roll. NILE	Pacon Bordette #37126 or equal.	1220050-1649803	John R Green Co	No	1 - Each	154	PACON-P0037126	39046	2.24	344.96		
	GREEN.					Purchase							
208	Border, pre-scalloped decorative, 2 1/4" x 50' roll. ORANGE.	Pacon Bordette #37106 or equal.	1220050-1649802	John R Green Co	No	1 - Each Purchase	160	PACON-P0037106	39045	2.24	358.4		
209	Border, pre-scalloped decorative, 2 1/4" x 50' roll. PINK.	Pacon Bordette #37266 or equal.	1220050-1649809	John R Green Co	No	1 - Each Purchase	156	PACON-P0037266	39050	2.24	349.44		
210	Border, pre-scalloped decorative, 2 1/4" x 50' roll. RICH BLUE.	Pacon Bordette #37186 or equal.	1220050-1649808	John R Green Co	No	1 - Each Purchase	265	PACON-P0037186	39049	2.24	593.6		
211	Border, pre-scalloped decorative, 2 1/4" x 50' roll. VIOLET.	Pacon Bordette #37336 or equal.	1220050-1649804	John R Green Co	No	1 - Each Purchase	217	PACON-P0037336	39052	2.24	486.08		
212	Border, pre-scalloped decorative, 2 1/4" x 50' roll. WHITE.	Pacon Bordette #37016 or equal.	1220050-1369031	John R Green Co	No	1 - Each Purchase	353	PACON-P0037016	39041	2.24	790.72		
213	Border, pre-scalloped decorative, 2 1/4" x 50' roll. CANARY YELLOW.	Pacon Bordette #37086 or equal.	1220050-1649801	John R Green Co	No	1 - Each Purchase	303	PACON-P0037086	39044	2.24	678.72		

201	Border, pre-scalloped decorative, 2 1/4" x 50' roll. APPLE GREEN.	Pacon Bordette #37136 or equal. THIS NOTE APPLIES TO ITEM NOS. 201. through 213. Solid color corrugated paper for bulletin boards. Fade-resistant. SAMPLE = 1 sample booklet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220050-1649805	Kerr Office Group, Inc.	No	1 - Each Purchase	180	PAC	37136	2.59	466.2			
202	Border, pre-scalloped decorative, 2 1/4" x 50' roll. AZURE BLUE.	Pacon Bordette #37166 or equal.	1220050-1649807	Kerr Office Group, Inc.	No	1 - Each Purchase	318	PAC	37166	2.22	705.96			
203	Border, pre-scalloped decorative, 2 1/4" x 50' roll. BLACK.	Pacon Bordette #37306 or equal.	1220050-1649810	Kerr Office Group, Inc.	No	1 - Each Purchase	404	PAC	37306	2.22	896.88			
204	Border, pre-scalloped decorative, 2 1/4" x 50' roll. BROWN.	Pacon Bordette #37026 or equal.	1220050-1649799	Kerr Office Group, Inc.	No	1 - Each Purchase	100	PAC	37026	2.22	222			
205	Border, pre-scalloped decorative, 2 1/4" x 50' roll. EMERALD GREEN.	Pacon Bordette #37146 or equal.	1220050-1649806	Kerr Office Group, Inc.	No	1 - Each Purchase	121	PAC	37146	2.22	268.62			
206	Border, pre-scalloped decorative, 2 1/4" x 50' roll. FLAME RED.	Pacon Bordette #37036 or equal.	1220050-1649800	Kerr Office Group, Inc.	No	1 - Each Purchase	263	PAC	37036	2.22	583.86			
207	Border, pre-scalloped decorative, 2 1/4" x 50' roll. NILE GREEN.	Pacon Bordette #37126 or equal.	1220050-1649803	Kerr Office Group, Inc.	No	1 - Each Purchase	154	PAC	37126	2.22	341.88			
208	Border, pre-scalloped decorative, 2 1/4" x 50' roll. ORANGE.	Pacon Bordette #37106 or equal.	1220050-1649802	Kerr Office Group, Inc.	No	1 - Each Purchase	160	PAC	37106	2.22	355.2			
209	Border, pre-scalloped decorative, 2 1/4" x 50' roll. PINK.	Pacon Bordette #37266 or equal.	1220050-1649809	Kerr Office Group, Inc.	No	1 - Each Purchase	156	PAC	37266	2.22	346.32			
210	Border, pre-scalloped decorative, 2 1/4" x 50' roll. RICH BLUE.	Pacon Bordette #37186 or equal.	1220050-1649808	Kerr Office Group, Inc.	No	1 - Each Purchase	265	PAC	37186	2.22	588.3			
211	Border, pre-scalloped decorative, 2 1/4" x 50' roll. VIOLET.	Pacon Bordette #37336 or equal.	1220050-1649804	Kerr Office Group, Inc.	No	1 - Each Purchase	217	PAC	37336	2.22	481.74			
212	Border, pre-scalloped decorative, 2 1/4" x 50' roll. WHITE.	Pacon Bordette #37016 or equal.	1220050-1369031	Kerr Office Group, Inc.	No	1 - Each Purchase	353	PAC	37016	2.22	783.66			
213	Border, pre-scalloped decorative, 2 1/4" x 50' roll. CANARY YELLOW.	Pacon Bordette #37086 or equal.	1220050-1649801	Kerr Office Group, Inc.	No	1 - Each Purchase	303	PAC	37086	2.22	672.66			
201	Border, pre-scalloped decorative, 2 1/4" x 50' roll. APPLE GREEN.	Pacon Bordette #37136 or equal. THIS NOTE APPLIES TO ITEM NOS. 201 through 213. Solid color corrugated paper for bulletin boards. Fade-resistant. SAMPLE = 1 sample booklet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220050-1649805	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	180	PACON	BJ3700LM LIME GREEN	4.64	835.2	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Lime Green Scalloped Bordette® TERMS: NET 30	
202	Border, pre-scalloped decorative, 2 1/4" x 50' roll. AZURE BLUE.	Pacon Bordette #37166 or equal.		Lakeshore Learning Materials, LLC	No	1 - Each Purchase	318	PACON	BJ3700AB	4.64	1475.52	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Azure Blue Scalloped Bordette* TERMS: NET 30	
203	Border, pre-scalloped decorative, 2 1/4" x 50' roll. BLACK.	Pacon Bordette #37306 or equal.		Lakeshore Learning Materials, LLC	No	1 - Each Purchase	404	PACON	BJ3700BK	4.64	1874.56	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Black Scalloped Bordette® TERMS: NET 30	
204	Border, pre-scalloped decorative, 2 1/4" x 50' roll. BROWN.	Pacon Bordette #37026 or equal.		Lakeshore Learning Materials, LLC		1 - Each Purchase	100	PACON	BJ3700BK BLACK		464	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Black Scalloped Bordette® TERMS: NET 30	
205	Border, pre-scalloped decorative, 2 1/4" x 50' roll. EMERALD GREEN.	Pacon Bordette #37146 or equal.		Lakeshore Learning Materials, LLC	No	1 - Each Purchase	121	PACON	BJ3700EG	4.64	561.44	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Emerald Green Scalloped Bordette® TERMS: NET 30	
206	Border, pre-scalloped decorative, 2 1/4" x 50' roll. FLAME RED.	Pacon Bordette #37036 or equal.		Lakeshore Learning Materials, LLC	No	1 - Each Purchase	263	PACON	BJ3700FR	4.64	1220.32	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Flame Red Scalloped Bordette® TERMS: NET 30	
207	Border, pre-scalloped decorative, 2 1/4" x 50' roll. NILE GREEN.	Pacon Bordette #37126 or equal.	1220050-1649803	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	154	PACON	BJ3700EG EMERALD GREEN	4.64	714.56	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Emerald Green Scalloped Bordette® TERMS: NET 30	

208	Border, pre-scalloped decorative, 2 1/4" x 50' roll. ORANGE.	Pacon Bordette #37106 or equal.	1220050-1649802	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	160	PACON	BJ3700RG	4.64	742.4	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Orange Scalloped Bordette® TERMS: NET 30		
209	Border, pre-scalloped decorative, 2 1/4" x 50' roll. PINK.	Pacon Bordette #37266 or equal.	1220050-1649809	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	156	PACON	BJ3700VT VIOLET	4.64	723.84	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Violet Scalloped Bordette® TERMS NET 30		
210	Border, pre-scalloped decorative, 2 1/4" x 50' roll. RICH BLUE.	Pacon Bordette #37186 or equal.	1220050-1649808	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	265	PACON	BJ3700YB ROYAL BLUE	4.64	1229.6	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Royal Blue Scalloped Bordette® TERMS: NET 30		
211	Border, pre-scalloped decorative, 2 1/4" x 50' roll. VIOLET.	Pacon Bordette #37336 or equal.	1220050-1649804	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	217	PACON	BJ3700VT	4.64	1006.88	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Violet Scalloped Bordette® TERMS NET 30		
212	Border, pre-scalloped decorative, 2 1/4" x 50' roll. WHITE.	Pacon Bordette #37016 or equal.	1220050-1369031	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	353	PACON	BJ3700WT	4.64	1637.92	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	White Scalloped Bordette® TERMS: NET 30		
213	Border, pre-scalloped decorative, 2 1/4" x 50' roll. CANARY YELLOW.	Pacon Bordette #37086 or equal.	1220050-1649801	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	303	PACON	BJ3700CY	4.64	1405.92	Please reference "Per Lakeshore Quote #36613 " on all purchase orders.	Canary Yellow Scalloped Bordette® TERMS: NET 30		
Lot Item															
Number 214-216	Item/Service	Description	Commodity Code	Vendor Name	No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
214	Card, index, blank, 3" x 5", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #30 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 100 Each Pack	3243	Cascade Brand	121576	0.41	1329.63		Cascade Brand 121576		Reject - did not submit sample for evaluation.
215	Card, index, blank, 4" x 6", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #40 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150061	Cascade School Supplies	No	1 - 100 Each Pack	1371	Cascade Brand	121578	0.74	1014.54		Cascade Brand 121578		Reject - did not submit sample for evaluation.
216	Card, index, blank, 5" x 8", precision cut from 90 lb., medium weight,	White sulphite stock, film wrapped in 100's. Oxford #50 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1100427	Cascade School Supplies	No	1 - 100 Each Pack	494	Cascade Brand	121580	0.9	444.6		Cascade Brand 121580		Reject - did not submit sample for evaluation.
214	Card, index, blank, 3" x 5", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #30 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150043	School Specialty LLC	No	1 - 100 Each Pack	3243	SCHOOL SMART	088708	0.44	1426.92		088708	Awarded	
215	Card, index, blank, 4" x 6", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #40 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 100 Each Pack	1371	SCHOOL SMART	088712	0.78	1069.38		088712	Awarded	
216	Card, index, blank, 5" x 8", precision cut from 90 lb., medium weight,	White sulphite stock, film wrapped in 100's. Oxford #50 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 100 Each Pack	494	SCHOOL SMART	088714	1.24	612.56		088714	Awarded	
214	Card, index, blank, 3" x 5", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #30 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source	No	1 - 100 Each Pack	3243	TOPS	OXF30	0.55	1783.65				
215	Card, index, blank, 4" x 6", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #40 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source	No	1 - 100 Each Pack	1371	TOPS	OXF40	1.09	1494.39				
216	Card, index, blank, 5" x 8", precision cut from 90 lb., medium weight,	White sulphite stock, film wrapped in 100's. Oxford #50 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Complete Printer Source	No	1 - 100 Each Pack	494	TOPS	OXF50	1.89	933.66		0455051		
214	Card, index, blank, 3" x 5", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #30 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 100 Each Pack	3243	KURTZ BROS-03500	13003	0.49	1589.07		DIFFERENT BRAND		
215	medium weight	White sulphite stock, film wrapped in 100's. Oxford #40 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 100 Each Pack		KURTZ BROS-04602		1.17	1604.07		DIFFERENT BRAND		
216	medium weight,	White sulphite stock, film wrapped in 100's. Oxford #50 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 100 Each Pack	494	KURTZ BROS-05804		2.12	1047.28		DIFFERENT BRAND		
214	Card, index, blank, 3" x 5", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #30 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Inc.	No	1 - 100 Each Pack	3243	OXF	30	1.13	3664.59				
215	Card, index, blank, 4" x 5", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #40 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Inc.	No	1 - 100 Each Pack	1371	OXF	40	2.13	2920.23				
216	Card, index, blank, 5" x 8", precision cut from 90 lb., medium weight,	White sulphite stock, film wrapped in 100's. Oxford #50 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1100427	Kerr Office Group, Inc.	No	1 - 100 Each Pack	494	OXF	50	3.2	1580.8				

Lot Item															
Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
217-219 217	Item/Service Card, index, ruled, 3" x 5", precision cut from 90 lb.,	Description White sulphite stock, film wrapped in 100's. Oxford #31 or equal. SAMPLE = 5	5690180-1150034		No Bid No	1 - 100	Quantity 5295	Provider Cascade Brand	Part Number 121577	O.4	Total Price 2118	Notes	Supplier Notes Cascade Brand 121577	Award Status	Award Notes Reject - did not submit sample for evaluation.
	medium weight	cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Count Pack									, , , , , , , , , , , , , , , , , , , ,
218	Card, index, ruled, 4" x 6", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #41 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150052	Cascade School Supplies	No	1 - 100 Count Pack	2059	Cascade Brand	121579	0.63	1297.17		Cascade Brand 121579		Reject - did not submit sample for evaluation.
219	Card, index, ruled, 5" x 8", precision cut from 90 lb., medium weight	White sulphite stock film wrapped in 100's. Oxford #51 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150070	Cascade School Supplies	No	1 - 100 Count Pack	816	Cascade Brand	121581	0.98	799.68		Cascade Brand 121581		Reject - did not submit sample for evaluation.
217	Card, index, ruled, 3" x 5", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #31 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150034	School Specialty LLC	No	1 - 100 Count Pack	5295	SCHOOL SMART	088706	0.44	2329.8		088706	Awarded	
218	Card, index, ruled, 4" x 6", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #41 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150052	School Specialty LLC	No	1 - 100 Count Pack	2059	SCHOOL SMART	088710	0.78	1606.02		088710	Awarded	
219	Card, index, ruled, 5" x 8", precision cut from 90 lb., medium weight	White sulphite stock film wrapped in 100's. Oxford #51 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150070	School Specialty LLC	No	1 - 100 Count Pack	816	SCHOOL SMART	088713	1.24	1011.84		088713	Awarded	
217	Card, index, ruled, 3" x 5", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #31 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150034	John R Green Co	No	1 - 100 Count Pack	5295	KURTZ BROS-03501	13002	0.49	2594.55		DIFFERENT BRAND		
218	Card, index, ruled, 4" x 6", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #41 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150052	John R Green Co	No	1 - 100 Count Pack	2059	KURTZ BROS-04603	13031	1.17	2409.03		DIFFERENT BRAND		
219	Card, index, ruled, 5" x 8", precision cut from 90 lb., medium weight	White sulphite stock film wrapped in 100's. Oxford #51 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150070	John R Green Co	No	1 - 100 Count Pack	816	KURTZ BROS-05805	13061	1.97	1607.52		DIFFERENT BRAND		
217	Card, index, ruled, 3" x 5", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #31 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150034	Complete Printer Source	No	1 - 100 Count Pack	5295	TOPS	OXF31	0.55	2912.25				
218	Card, index, ruled, 4" x 6", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #41 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150052	Complete Printer Source	No	1 - 100 Count Pack	2059	TOPS	OXF41	1.09	2244.31				
219	Card, index, ruled, 5" x 8", precision cut from 90 lb., medium weight	White sulphite stock film wrapped in 100's. Oxford #51 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150070	Complete Printer Source	No	1 - 100 Count Pack	816	TOPS	OXF51	1.89	1542.24				
217	Card, index, ruled, 3" x 5", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #31 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150034	Kerr Office Group, Inc.	No	1 - 100 Count Pack	5295	OXF	31	1.17	6195.15				
218	Card, index, ruled, 4" x 6", precision cut from 90 lb., medium weight	White sulphite stock, film wrapped in 100's. Oxford #41 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150052	Kerr Office Group, Inc.	No	1 - 100 Count Pack	2059	OXF	41	1.93	3973.87				
219	Card, index, ruled, 5" x 8", precision cut from 90 lb., medium weight	White sulphite stock film wrapped in 100's. Oxford #51 or equal. SAMPLE = 5 cards. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690180-1150070	Kerr Office Group, Inc.	No	1 - 100 Count Pack	816	OXF	51	3.09	2521.44				
Number 220-221	Item/Service Cement, rubber, 4-oz. container with brush,	Description All purpose, clear, rubs clean, non-wrinkling, acid free, photo safe. ACMI CL	Commodity Code 2500100-1370985	Vendor Name School Specialty LLC	No Bid	UOM 1 - 4 Ounce	Quantity 166	Manufacturer / Provider ELMERS	Manufacturer Part Number E904	Unit Bid Price	Total Price 315.4	Vendor Response Item Notes	Supplier Notes 055935	Award Status	Award Notes
	professional quality.	Certified. Elmers #E904 or equal. SAMPLE = (1) 4-oz. bt. I. F BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2300100 1370303	School Specialty EEC	110	Bottle	100	ELIVERS	2504	1.3	515.4		033333	Awarded	
221	Cement, rubber, 8-oz. container, with brush, professional quality.	All purpose, clear, rubs clean, non-wrinkling, acid free and photo safe. ACMI C Certified. Elmers #EPI231 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	L 2500100-2010091	School Specialty LLC	No	1 - 8 Ounce Bottle	290	ELMERS	231	3.7	1073		001335	Awarded	
220	Cement, rubber, 4-oz. container with brush, professional quality.	All purpose, clear, rubs clean, non-wrinkling, acid free, photo safe. ACMI CL Certified. Elmers #E904 or equal. SAMPLE = (1) 4-oz. btl. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500100-1370985	Cascade School Supplies	No	1 - 4 Ounce Bottle	166	Newell Brands/Elmers	E904 CAS120686	2.24	371.84				
221	Cement, rubber, 8-oz. container, with brush, professional quality.	All purpose, clear, rubs clean, non-wrinkling, acid free and photo safe. ACMI C Certified. Elmers #EPI231 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Cascade School Supplies	No	1 - 8 Ounce Bottle	290	Newell Brands/Elmers	00231 CAS120684	4.47	1296.3				
220	Cement, rubber, 4-oz. container with brush, professional quality.	All purpose, clear, rubs clean, non-wrinkling, acid free, photo safe. ACMI CL Certified. Elmers #E904 or equal. SAMPLE = (1) 4-oz. btl. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500100-1370985	John R Green Co	No	1 - 4 Ounce Bottle	166	ELMERS-E904	18134	1.83	303.78				
			1												

221	Cement, rubber, 8-oz. container, with brush, professional quality.	All purpose, clear, rubs clean, non-wrinkling, acid free and photo safe. ACMI CL Certified. Elmers #EPI231 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500100-2010091	John R Green Co	No	1 - 8 Ounce Bottle	290	SPEEDBALL-150	18138	4.92	1426.8		DIFFERENT BRAND		
220	Cement, rubber, 4-oz. container with brush, professional quality.	All purpose, clear, rubs clean, non-wrinkling, acid free, photo safe. ACMI CL Certified. Elmers #E904 or equal. SAMPLE = (1) 4-oz. btl. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500100-1370985	Kerr Office Group, Inc.	No	1 - 4 Ounce Bottle	166	EPI	E904	3.05	506.3				
221	Cement, rubber, 8-oz. container, with brush, professional quality.	All purpose, clear, rubs clean, non-wrinkling, acid free and photo safe. ACMI CL Certified. Elmers #EPI231 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500100-2010091	Kerr Office Group, Inc.	No	1 - 8 Ounce Bottle	290	EPI	231	4.92	1426.8				
220	Cement, rubber, 4-oz. container with brush, professional quality.	All purpose, clear, rubs clean, non-wrinkling, acid free, photo safe. ACMI CL Certified. Elmers #E904 or equal. SAMPLE = (1) 4-oz. btl. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500100-1370985	PYRAMID SCHOOL PRODUCTS	No	1 - 4 Ounce Bottle	166	ELMER'S	E904	2.19	363.54				
221	Cement, rubber, 8-oz. container, with brush, professional quality.	All purpose, clear, rubs clean, non-wrinkling, acid free and photo safe. ACMI CL Certified. Elmers #EPI231 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500100-2010091	PYRAMID SCHOOL PRODUCTS	No	1 - 8 Ounce Bottle	290	BEST TEST	150	5.95	1725.5				
Lot Item															
Number 222-223	Item/Service	Description	Commodity Code		No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
222	resistant, 150 sheet capacity (12/box).	ACCO #72610 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 12 Count Box	191	CHARLES LEONARD- 401	11415	0.72	137.52		DIFFERENT BRAND	Awarded	
	resistant, 100 sheet capacity (50/box).	ACCO #72620 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 50 Count Box		CHARLES LEONARD- 402	11416	1.17	188.37		DIFFERENT BRAND	Awarded	
222	Clamps, metal wire large 2 5/8" butterfly shape, rust resistant, 150 sheet capacity (12/box).	ACCO #72610 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2013895	Cascade School Supplies	No	1 - 12 Count Box	191	Cascade Brand	119016	0.82	156.62		Cascade Brand 119016		
223	resistant, 100 sheet capacity (50/box).	ACCO #72620 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies	No	1 - 50 Count Box	161	Cascade Brand	119017	1.34	215.74		Cascade Brand 119017		
222	Clamps, metal wire large 2 5/8" butterfly shape, rust resistant, 150 sheet capacity (12/box).	ACCO #72610 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2013895	School Specialty LLC	No	1 - 12 Count Box	191	OFFICEMATE	99966	1.05	200.55		000066		
223	resistant, 100 sheet capacity (50/box).	ACCO #72620 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 50 Count Box	161	OFFICEMATE	99957	1.72	276.92		000069		
222	resistant, 150 sheet capacity (12/box).	ACCO #72610 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS	No	1 - 12 Count Box	191	LEONARD	401	1.19	227.29				
223	resistant, 100 sheet capacity (50/box).	ACCO #72620 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS	No	1 - 50 Count Box	161	LEONARD	402	1.95	313.95				
222	resistant, 150 sheet capacity (12/box).	ACCO #72610 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. ACCO #72620 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS		SCHOOL SUPPLIES	No	1 - 12 Count Box 1 - 50 Count	191	ACCO	72610 72620	1.32	252.12				
223	resistant, 100 sheet capacity (50/box).	ACCO #72610 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. ACCO #72610 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS		SCHOOL SUPPLIES	No No	Box 1 - 12 Count	191	ACCO	ACC72610	2.41	284.59				
	resistant, 150 sheet capacity (12/box).	REQUIRED. ACCO #72620 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS		Source	No	Box 1 - 50 Count	161	ACCO	ACC72620	2.59	416.99				
222	resistant, 100 sheet capacity (50/box).	REQUIRED. ACCO #72610 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS ACCO #72610 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS		Source	No	Box 1 - 12 Count	191	ACC	72610	2.36	450.76				
222	resistant, 150 sheet capacity (12/box).	ACCO #72620 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. ACCO #72620 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS		Inc.	No	Box 1 - 50 Count	161	ACC	72610	2.36	379.96				
	Clamps, metal wire small 1 1/2" butterfly shape, rust resistant, 100 sheet capacity (50/box).	ACCO #72520 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2020040-2013896	Inc.	NO	Box	101	ALL	72620	2.30	3/9.90				
Lot Item															
Number 224-227	Item/Service	Description		Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
224	Clip, binder, large, 2" width, 1" cap, 12/box. UNV #10220 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 12 Count Box	1452	SCHOOL SMART	2133009	1.46	2119.92		2133009	Awarded	
225	Clip, binder, medium, 1 1/4" width, 5/8" cap, 12/box. UNV #10210 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733504	School Specialty LLC	No	1 - 12 Count Box	2863	SCHOOL SMART	2132999	0.6	1717.8		2132999	Awarded	

226	Clip, binder, mini, 5/8" width, 1/4" cap, 12/box. UNV #10199 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012750	School Specialty LLC	No	1 - 12 Count Box	991	SCHOOL SMART	2133014	0.23	227.93	2133014		
													Awarded	
227	Clip, binder, small, 3/4" width, 3/8" cap, 12/box. UNV #10200 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		School Specialty LLC		1 - 12 Count Box	1694	SCHOOL SMART	2133007	0.28	474.32	2133007	Awarded	
224	Clip, binder, large, 2" width, 1" cap, 12/box. UNV #10220 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733505	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	1452	PYRAMID	1116075	1.55	2250.6			
225	Clip, binder, medium, 1 1/4" width, 5/8" cap, 12/box. UNV #10210 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733504	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	2863	PYRAMID	1110667	0.65	1860.95			
226	Clip, binder, mini, 5/8" width, 1/4" cap, 12/box. UNV #10199 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012750	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	991	LEONARD	50001	0.3	297.3			
227	Clip, binder, small, 3/4" width, 3/8" cap, 12/box. UNV #10200 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012089	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	1694	PYRAMID	1199660	0.3	508.2			
224	Clip, binder, large, 2" width, 1" cap, 12/box. UNV #10220 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733505	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	1452	EXTRIC	BC100	1.6	2323.2			
225	Clip, binder, medium, 1 1/4" width, 5/8" cap, 12/box. UNV #10210 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733504	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	2863	EXTRIC	BC050	0.68	1946.84			
226	Clip, binder, mini, 5/8" width, 1/4" cap, 12/box. UNV #10199 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012750	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	991	EXTRIC	BC010	0.22	218.02			
227	Clip, binder, small, 3/4" width, 3/8" cap, 12/box. UNV #10200 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012089	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	1694	EXTRIC	BC020	0.28	474.32			
224	Clip, binder, large, 2" width, 1" cap, 12/box. UNV #10220 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733505	Cascade School Supplies	No	1 - 12 Count Box	1452	Cascade Brand	109451	1.83	2657.16	Cascade Brand 109451		
225	Clip, binder, medium, 1 1/4" width, 5/8" cap, 12/box. UNV #10210 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733504	Cascade School Supplies	No	1 - 12 Count Box	2863	Cascade Brand	109450	0.75	2147.25	Cascade Brand 109450		
226	Clip, binder, mini, 5/8" width, 1/4" cap, 12/box. UNV #10199 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012750	Cascade School Supplies	No	1 - 12 Count Box	991	Cascade Brand	028861	0.3	297.3	Cascade Brand 028861		
227	Clip, binder, small, 3/4" width, 3/8" cap, 12/box. UNV #10200 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012089	Cascade School Supplies	No	1 - 12 Count Box	1694	Cascade Brand	109449	0.3	508.2	Cascade Brand 109449		
224	Clip, binder, large, 2" width, 1" cap, 12/box. UNV #10220 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733505	Kerr Office Group, Inc.	No	1 - 12 Count Box	1452	BSN	36552	1.92	2787.84			
225	Clip, binder, medium, 1 1/4" width, 5/8" cap, 12/box. UNV #10210 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733504	Kerr Office Group, Inc.	No	1 - 12 Count Box	2863	BSN	36551	0.7	2004.1			
226	Clip, binder, mini, 5/8" width, 1/4" cap, 12/box. UNV #10199 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012750	Kerr Office Group, Inc.	No	1 - 12 Count Box	991	BSN	65364	0.29	287.39			
227	Clip, binder, small, 3/4" width, 3/8" cap, 12/box. UNV #10200 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012089	Kerr Office Group, Inc.	No	1 - 12 Count Box	1694	BSN	36550	0.33	559.02			
224	Clip, binder, large, 2" width, 1" cap, 12/box. UNV #10220 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733505	Complete Printer Source	No	1 - 12 Count Box	1452	Universal	UNV10220	1.89	2744.28			
225	Clip, binder, medium, 1 1/4" width, 5/8" cap, 12/box. UNV #10210 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733504	Complete Printer Source	No	1 - 12 Count Box	2863	Universal	UNV10210	0.79	2261.77			
226	Clip, binder, mini, 5/8" width, 1/4" cap, 12/box. UNV #10199 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012750	Complete Printer Source	No	1 - 12 Count Box	991	Universal	UNV10199	0.36	356.76			
227	Clip, binder, small, 3/4" width, 3/8" cap, 12/box. UNV #10200 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2012089	Complete Printer Source	No	1 - 12 Count Box	1694	Universal	UNV10200	0.29	491.26			
224	Clip, binder, large, 2" width, 1" cap, 12/box. UNV #10220 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733505	John R Green Co	No	1 - 12 Count Box	1452	CLI-BC10	11418	2.05	2976.6	DIFFERENT BRAND		
225	Clip, binder, medium, 1 1/4" width, 5/8" cap, 12/box. UNV #10210 or equal.	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1733504	John R Green Co	No	1 - 12 Count Box	2863	CLI-BC05	11420	0.84	2404.92	DIFFERENT BRAND		

226	Clip, binder, mini, 5/8" width, 1/4" cap, 12/box. UNV	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO	5690640-2012750	John R Green Co	No	1 - 12 Count	991	CHARLES LEONARD-	11081	0.31	307.21		DIFFERENT BRAND		
	#10199 or equal.	SAMPLE IS REQUIRED.				Box		50001							
227	Clip, binder, small, 3/4" width, 3/8" cap, 12/box. UNV	QUOTE 12 COUNT BOX ONLY. IF BIDDING THE APPROVED PRODUCT, NO	5690640-2012089	John R Green Co	No	1 - 12 Count	1694	CLI-BC02	03442	0.43	728.42		DIFFERENT BRAND		
	#10200 or equal.	SAMPLE IS REQUIRED.				Вох		02. 2002							
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
228-230 228	Clip, paper, No. 1, with rounded ends and smooth	Description CLI #201E or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED	5690640-1371546		No Bid No	1 - 100	Quantity 4121	Provider Cascade Brand	Part Number 118996	O.24	989.04	Notes	Supplier Notes Cascade brand 118996	Award Status	Award Notes Reject - did not submit sample for evaluation.
	edges, wire nickeled 100/box, 1 1/4".	PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Count Box									
229	Clip, paper, No. 2, with rounded ends and smooth edges, wire nickeled, 100/box. 2" jumbo.	CLI #301E or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1150534	Cascade School Supplies	No	1 - 100 Count Box	4019	Cascade Brand	191193	0.64	2572.16		Cascade Brand 191193		Reject - did not submit sample for evaluation.
230	Clip, paper, No.3, with rounded ends and smooth	CLI #501 or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED	5690640-1371555		No	1 - 100	1080	Cascade Brand	109448	0.37	399.6		Cascade Brand 109448		Reject - did not submit sample for evaluation.
	edges, wire nickeled, 100/box. 15/16".	PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Count Box									
228	Clip, paper, No. 1, with rounded ends and smooth edges, wire nickeled 100/box, 1 1/4".	CLI #201E or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1371546	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	4121	CLI	201E	0.25	1030.25				
														Awarded	
229	Clip, paper, No. 2, with rounded ends and smooth	CLI #301E or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED	5690640-1150534	PYRAMID SCHOOL	No	1 - 100	4019	CLI	301E	0.64	2572.16				
	edges, wire nickeled, 100/box. 2" jumbo.	PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		Count Box								Awarded	
	Clienter N. 2 with a second second		5500540	DVD A A UF		4	40	6	FG -	0.77	42. 2				
230	Clip, paper, No.3, with rounded ends and smooth edges, wire nickeled, 100/box. 15/16".	CLI #501 or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1371555	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	1080	CLI	501	0.39	421.2				
														Awarded	
228	Clip, paper, No. 1, with rounded ends and smooth	CLI #201E or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED	5690640-1371546	John R Green Co	No	1 - 100	4121	CLI-#1/201E	11401	0.27	1112.67				
	edges, wire nickeled 100/box, 1 1/4".	PRODUCT, NO SAMPLE IS REQUIRED.				Count Box									
220	Clares No. 2 with residue design and residue at the	CU WOOD TO THE CAMPIE A buy (400) IS DEPONIS THE APPROVED	5500540 4450534	Inha B Carra Ca	N -	4 400	4040	CU 204 F	44405	0.67	3503.73				
229	Clip, paper, No. 2, with rounded ends and smooth edges, wire nickeled, 100/box. 2" jumbo.	CLI #301E or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1150534	John R Green Co	No	1 - 100 Count Box	4019	CLI-301-E	11405	0.67	2692.73				
230	Clip, paper, No.3, with rounded ends and smooth	CLI #501 or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED	5690640-1371555	John R Green Co	No	1 - 100	1080	CLI-3/501	11402	0.41	442.8				
	edges, wire nickeled, 100/box. 15/16".	PRODUCT, NO SAMPLE IS REQUIRED.				Count Box									
228	Clip, paper, No. 1, with rounded ends and smooth	CLI #201E or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED	5690640-1271546	Kerr Office Group,	No	1 - 100	4121	BSN	65638	0.25	1030.25				
220	edges, wire nickeled 100/box, 1 1/4".	PRODUCT, NO SAMPLE IS REQUIRED.	3030040 1371340	Inc.		Count Box	4111	5514	03030	0.23	1030:23				
229	Clip, paper, No. 2, with rounded ends and smooth edges, wire nickeled, 100/box. 2" jumbo.	CLI #301E or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-1150534	Kerr Office Group, Inc.	No	1 - 100 Count Box	4019	BSN	65639	0.79	3175.01				
230	Clip. paper. No.3. with rounded ends and smooth	CLI #501 or equal. SAMPLE = 1 box (100). IF BIDDING THE APPROVED	5690640-1371555	Kerr Office Group.	No	1 - 100	1080	ACC	72320	0.75	810				
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
231-232 231	Crayons, wax, large size, 4" long, 7/16" dia., 8-color	Description Double wrapped with color name on label, non-toxic, AP Seal conforms to	1220160-1369406		No Bid No	UOM 1 - 8 Count	Quantity 2449	Provider CRAYOLA	Part Number 52-0080	Price 0.66	Total Price 1616.34	Notes	Supplier Notes	Award Status	Award Notes
	box.	ASTM D4236. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52-0080 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED		PRODUCTS		Box									
		PRODUCT, NO SAMPLE IS REQUIRED.												Awarded	
L															
232	Crayons, wax, large size, 4" long, 7/16" dia., 16-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, carnation pink, green, magenta,	1220160-1425587	PYRAMID SCHOOL PRODUCTS	No	1- 16 Count Box	610	CRAYOLA	52-0336	2.27	1384.7				
		maize, orange, peach, purple, red, turquoise-blue, white, yellow, yellow-green and yellow-orange. Crayola #52-0336 or equal. SAMPLE = 1 box. IF BIDDING												Awarded	
		THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
231	Crayons, wax, large size, 4" long, 7/16" dia., 8-color	Double wrapped with color name on label, non-toxic, AP Seal conforms to	1220160-1369406	School Specialty LLC	No	1 - 8 Count	2449	CRAYOLA	52-0080	0.79	1934.71		007542		
	box.	ASTM D4236. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52-0080 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED		,		Box									
		PRODUCT, NO SAMPLE IS REQUIRED.													
232	Crayons, wax, large size, 4" long, 7/16" dia., 16-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, carnation pink, green, magenta,	1220160-1425587	School Specialty LLC	No	1- 16 Count Box	610	CRAYOLA	52-0336	2.59	1579.9		007551		
		maize, orange, peach, purple, red, turquoise-blue, white, yellow, yellow-green and yellow-orange. Crayola #52-0336 or equal. SAMPLE = 1 box. IF BIDDING													
		THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													

231	Crayons, wax, large size, 4" long, 7/16" dia., 8-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52-0080 or equal. SAMPLE = I box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369406	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 8 Count Box	2449	CRAYOLA	52-0080	1.52	3722.48				
232	Crayons, wax, large size, 4" long, 7/16" dia., 16-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, carnation pink, green, magenta, maize, orange, peach, purple, red, furquoise-blue, white, yellow, yellow-green and yellow-orange. Crayola #52-0336 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425587	NATIONAL ART & SCHOOL SUPPLIES	No	1- 16 Count Box	610	CRAYOLA	52-0336	2.97	1811.7				
231	Crayons, wax, large size, 4" long, 7/16" dia., 8-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52-0080 or equal. SAMPLE = 1 box. IF BIOING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369406	Complete Printer Source	No	1 - 8 Count Box	2449	Crayola	CYO520080	1.69	4138.81				
	Crayons, wax, large size, 4" long, 7/16" dia., 16-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM 04236. Colors: black, blue, blown, carnation pink, green, magnat, maize, orange, peach, purple, red, turquoise-blue, white, yellow, yellow-green and yellow-orange. Crayola #52-0336 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Complete Printer Source	No	1- 16 Count Box	610	Crayola	CYO520336	3.26	1988.6				
231	Crayons, wax, large size, 4" long, 7/16" dia., 8-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52-0080 or equal. SAMPLE = I box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369406	John R Green Co	No	1 - 8 Count Box	2449	CRAYOLA-0080	43034	1.82	4457.18				
232	Crayons, wax, large size, 4" long, 7/16" dia., 16-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, carnation pink, green, magenta, mailer, enzage, peach, purple, et al, ruquoise-blue, white, yellow, yellow-green and yellow-orange. Crayola #52-0336 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425587	John R Green Co	No	1- 16 Count Box	610	CRAYOLA-0336	43007	3.35	2043.5				
231	Crayons, wax, large size, 4" long, 7/16" dia., 8-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52-0080 or equal. SAMPLE = I box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369406	Cascade School Supplies	No	1 - 8 Count Box	2449	Crayola	80 CAS182577	1.83	4481.67				
232	Crayons, wax, large size, 4" long, 7/16" dia., 16-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, carnation print, green, magenta, maize, orange, peach, purple, red, turquoise-blue, white, yellow, yellow-green and yellow-orange. Crayola #52-0336 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425587	Cascade School Supplies	No	1- 16 Count Box	610	Crayola	336 CAS182579	3.68	2244.8				
231	Crayons, wax, large size, 4" long, 7/16" dia., 8-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #52-0080 or equal. SAMPLE = I box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369406	Kerr Office Group, Inc.	No	1 - 8 Count Box	2449	СУО	52-0080	1.63	3991.87				
232	Crayons, wax, large size, 4" long, 7/16" dia., 16-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Colors: black, blue, brown, carnation pink, green, magenta, maize, orange, peach, purple, red, turquoise-blue, white, yellow, yellow-green and yellow-orange. Crayola #52-0336 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425587	Kerr Office Group, Inc.	No	1- 16 Count Box	610	СУО	52-0336	5.07	3092.7				
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
233-237	Item/Service	Description Description Description	Commodity Code		No Bid	UOM 1 8 Count	Quantity	Provider	Part Number	Price	Total Price	Notes	Supplier Notes	Award Status	Award Notes
233	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 8- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Craydla #52-0060 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PYRAMID SCHOOL PRODUCTS	No	1 - 8 Count Box	10258	CRAYOLA	52-3008	0.3	3077.4			Awarded	
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 16- color box.	ASTM D4236. Crayola #52-0016 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		1 - 16 Count Box		CRAYOLA	52-3016	0.49	6630.68			Awarded	
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- color box.	ASTM D4236. Crayola #52-0024 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS	No	1 - 24 Count Box		CRAYOLA	52-3024	0.78	22604.4			Awarded	
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 48- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0048 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PYRAMID SCHOOL PRODUCTS	No	1 - 48 Count Box		CRAYOLA 52-0048		1.59	448.38			Awarded	
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 64- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0064 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS	No	1 - 64 Count Box	242	CRAYOLA	52-0064	2.33	563.86			Awarded	
233	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 8- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369433	School Specialty LLC	No	1 - 8 Count Box	10258	CRAYOLA	52-0008	0.36	3692.88		007503		

234	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 16- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0016 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369442	School Specialty LLC	No	1 - 16 Count Box	13532	CRAYOLA	52-0016	0.58	7848.56	007512		
235	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0024 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369451	School Specialty LLC	No	1 - 24 Count Box	28980	CRAYOLA	52-0024	0.91	26371.8	007521		
236	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 48- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0048 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425578	School Specialty LLC	No	1 - 48 Count Box	282	CRAYOLA	52-0048	2.1	592.2	007536		
237	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 64- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0064 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1533200	School Specialty LLC	No	1 - 64 Count Box	242	CRAYOLA	52-0064	2.7	653.4	007539		
233	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 8- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369433	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 8 Count Box	10258	CRAYOLA	52-0008	0.58	5949.64			
234	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 16- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0016 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369442	SCHOOL SUPPLIES	No	1 - 16 Count Box	13532	CRAYOLA	52-0016	0.99	13396.68			
235	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0024 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369451	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 24 Count Box	28980	CRAYOLA	52-0024	1.32	38253.6			
236	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 48- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0048 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425578	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 48 Count Box	282	CRAYOLA	52-0048	2.76	778.32			
237	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 64- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0064 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		NATIONAL ART & SCHOOL SUPPLIES	No	1 - 64 Count Box	242	CRAYOLA	52-0064	2.88	696.96			
233	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 8- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369433	Source	No	1 - 8 Count Box	10258	Crayola	CYO520008	0.69	7078.02			
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 16- color box.	ASTM D4236. Crayola #52-0016 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369442	Source	No	1 - 16 Count Box	13532	Crayola	CYO520016	1.29	17456.28			
235	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0024 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369451	Source	No	1 - 24 Count Box	28980	Crayola	CYO520024	1.49	43180.2			
236	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 48- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0048 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425578	Source	No	1 - 48 Count Box	282	Crayola	CYO520048	3.19	899.58			
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 64- color box.	ASTM D4236. Crayola #52-0064 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		1 - 64 Count Box	242	Crayola	CYO520064	3.69	892.98			
233	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 8- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Kerr Office Group, Inc.	No	1 - 8 Count Box	10258	СУО	52-0008	1.4	14361.2			
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 16- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0016 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Inc.	No	1 - 16 Count Box	13532	СУО	00016	1.24	16779.68			
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0024 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Kerr Office Group, Inc.	No	1 - 24 Count Box	28980	CYO	52-0024	1.44	41731.2			
	color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0048 or equal. SAMPLE 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Inc.		1 - 48 Count Box		СУО	52-0048	3.05	860.1			
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 64- color box.	ASTM D4236. Crayola #52-0064 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Kerr Office Group, Inc.	No	1 - 64 Count Box		СУО	52-0064	3.36	813.12			
233	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 8- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-000s or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 8 Count Box	10258	CRAYOLA-3008	43001	0.76	7796.08			
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 16- color box.	ASTM D4236. Crayola #52-0016 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 16 Count Box			43005	1.3	17591.6			
235	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0024 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369451	John R Green Co	No	1 - 24 Count Box	28980	CRAYOLA-3024	43009	1.79	51874.2			

236															
	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 48- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0048 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425578	John R Green Co	No	1 - 48 Count Box	282	CRAYOLA-0048	43011	3.46	975.72				
237	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 64- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0064 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1533200	John R Green Co	No	1 - 64 Count Box	242	CRAYOLA-0064	43012	3.79	917.18				
233	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 8- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369433	Cascade School Supplies	No	1 - 8 Count Box	10258	Crayola	523008 CAS182572	0.77	7898.66				
234	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 16- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0016 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369442	Cascade School Supplies	No	1 - 16 Count Box	13532	Crayola	523016 CAS182574	1.49	20162.68				
235	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0024 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369451	Cascade School Supplies	No	1 - 24 Count Box	28980	Crayola	523024 CAS182575	1.73	50135.4				
236	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 48- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0048 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425578	Cascade School Supplies	No	1 - 48 Count Box	282	Crayola	520048 CAS019149	3.67	1034.94				
237	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 64- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0064 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1533200	Cascade School Supplies	No	1 - 64 Count Box	242	Crayola	520064 CAS100666	4.04	977.68				
233	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 8-color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0008 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369433	Lakeshore Learning Materials, LLC	No	1 - 8 Count Box	10258	LAKESHORE	VX271 EACH	1.11	11386.38	Please reference "Per Quote #36609 " on all purchase orders.	Lakeshore Standard Crayons - 8 Pack TERMS: NET 30		Reject - incomplete coverage for Lot Item Nos. 233 thru 237.
234	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 16- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0016 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369442	Lakeshore Learning Materials, LLC	Yes										Reject - incomplete coverage for Lot Item Nos. 233 thru 237.
235	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 24- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0024 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1369451	Lakeshore Learning Materials, LLC	Yes										Reject - incomplete coverage for Lot Item Nos. 233 thru 237.
236	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 48- color box.	Double wrapped with color name on label, non-toxic, AP Seal conforms to ASTM D4236. Crayola #52-0048 or equal. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220160-1425578	Lakeshore Learning Materials, LLC	Yes										Reject - incomplete coverage for Lot Item Nos. 233 thru 237.
237	Crayons, wax, regular size, 3 5/8" long, 5/16" dia., 64- color box.	ASTM D4236. Crayola #52-0064 or equal. SAMPLE = 1 box. IF BIDDING THE	1220160-1533200	Lakeshore Learning Materials, LLC	Yes										Reject - incomplete coverage for Lot Item Nos. 233 thru 237.
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
Lot Item		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
Number	Ham/Sanvica		Commodity Code	Vendor Name	No Rid	LIOM		Manufacturer /	Manufacturer Part Number	Unit Bid	Total Price	Vendor Response Item	Sumplier Notes	Award Status	Award Notice
	Item/Service Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE.	Description Crayola #57-0015-042 or equal. SAMPLE = 1 bucket.	Commodity Code 1220000-2014357	Vendor Name PYRAMID SCHOOL PRODUCTS	No Bid	UOM 1 - 3 Pound Container	Quantity 241	Manufacturer / Provider CRAYOLA	Manufacturer Part Number 57-0015-42	Unit Bid Price 6.49	Total Price 1564.09	Vendor Response Item Notes	Supplier Notes	Award Status Awarded	Award Notes
238-243 238 238	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN.	Description Crayola #57-0015-042 or equal. SAMPLE = 1 bucket. Crayola #57-0015-044 or equal. SAMPLE = 1 bucket.	1220000-2014357 1220000-2014358	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No	1 - 3 Pound Container 1 - 3 Pound Container	241 149	Provider CRAYOLA CRAYOLA	97-0015-42 57-0015-42	6.49 6.49	1564.09 967.01		Supplier Notes		Award Notes
238 239 240	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE.	Description Crayola #57-0015-042 or equal. SAMPLE = 1 bucket. Crayola #57-0015-044 or equal. SAMPLE = 1 bucket. Crayola #57-0015-036 or equal. SAMPLE = 1 bucket.	1220000-2014357 1220000-2014358 1220000-2014359	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No	1 - 3 Pound Container 1 - 3 Pound Container 1 - 3 Pound Container	241 149 137	Provider CRAYOLA CRAYOLA CRAYOLA	57-0015-42 57-0015-42 57-0015-36	6.49 6.49	967.01 889.13		Supplier Notes	Awarded	Award Notes
238 239 240 241	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE. Dough, modeling reusable, 3 lb. resealable plastic bucket, RED.	Description Crayola #57-0015-042 or equal. SAMPLE = 1 bucket. Crayola #57-0015-044 or equal. SAMPLE = 1 bucket. Crayola #57-0015-036 or equal. SAMPLE = 1 bucket. Crayola #57-0015-038 or equal. SAMPLE = 1 bucket.	1220000-2014357 1220000-2014358 1220000-2014359 1220000-2014360	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No No	1 - 3 Pound Container 1 - 3 Pound Container 1 - 3 Pound Container 1 - 3 Pound Container	241 241 149 137 141	Provider CRAYOLA CRAYOLA CRAYOLA CRAYOLA	97-0015-42 57-0015-42 57-0015-36 57-0015-38	6.49 6.49 6.49	967.01 889.13		Supplier Notes	Awarded Awarded	Award Notes
238-243 238-239 239 240 241	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE. Dough, modeling reusable, 3 lb. resealable plastic bucket, RED. Dough, modeling reusable, 3 lb. resealable plastic bucket, RED.	Description Crayola #57-0015-042 or equal. SAMPLE = 1 bucket. Crayola #57-0015-044 or equal. SAMPLE = 1 bucket. Crayola #57-0015-036 or equal. SAMPLE = 1 bucket. Crayola #57-0015-038 or equal. SAMPLE = 1 bucket. Crayola #57-0015-040 or equal. SAMPLE = 1 bucket.	1220000-2014357 1220000-2014358 1220000-2014359 1220000-2014360 1220000-2014361	PYRAMID SCHOOL PRODUCTS	No No No No	1 - 3 Pound Container 1 - 3 Pound Container 1 - 3 Pound Container 1 - 3 Pound Container 1 - 3 Pound Container	Quantity	Provider CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA	97-0015-42 57-0015-42 57-0015-36 57-0015-38 57-0015-40	6.49 6.49 6.49 6.49	967.01 889.13 915.09		Supplier Notes	Awarded Awarded	Award Notes
238-243 238 239 240 241 242	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE. Dough, modeling reusable, 3 lb. resealable plastic bucket, RED. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET.	Description Crayola #57-0015-042 or equal. SAMPLE = 1 bucket. Crayola #57-0015-044 or equal. SAMPLE = 1 bucket. Crayola #57-0015-036 or equal. SAMPLE = 1 bucket. Crayola #57-0015-038 or equal. SAMPLE = 1 bucket. Crayola #57-0015-040 or equal. SAMPLE = 1 bucket. Crayola #57-0015-040 or equal. SAMPLE = 1 bucket.	1220000-2014358 1220000-2014359 1220000-2014360 1220000-2014361 1220000-2014362	PYRAMID SCHOOL PRODUCTS	No No No No No	1 - 3 Pound Container 1 - 3 Pound Container	Quantity	Provider CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA	Part Number 57-0015-42 57-0015-42 57-0015-36 57-0015-36 57-0015-38 57-0015-34	6.49 6.49 6.49 6.49 6.49	967.01 889.13 915.09 876.15		Supplier Notes	Awarded Awarded Awarded Awarded	Award Notes
238-243 238 239 240 241 242 243	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE. Dough, modeling reusable, 3 lb. resealable plastic bucket, RED. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, RELUW.	Description Crayola #57-0015-042 or equal. SAMPLE = 1 bucket. Crayola #57-0015-044 or equal. SAMPLE = 1 bucket. Crayola #57-0015-036 or equal. SAMPLE = 1 bucket. Crayola #57-0015-038 or equal. SAMPLE = 1 bucket. Crayola #57-0015-040 or equal. SAMPLE = 1 bucket. Crayola #57-0015-040 or equal. SAMPLE = 1 bucket. Crayola #57-0015-042 or equal. SAMPLE = 1 bucket.	1220000-2014358 1220000-2014359 1220000-2014360 1220000-2014361 1220000-2014362 1220000-2014362	PYRAMID SCHOOL PRODUCTS John R Green Co	No No No No No No No No No	1 - 3 Pound Container 1 - 3 Pound Container	Quantity 241 149 137 141 135 132 241	Provider CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA	97-0015-42 57-0015-42 57-0015-36 57-0015-36 57-0015-38 57-0015-40 57-0015-34	6.49 6.49 6.49 6.49 6.49 6.49 6.49	1564.09 967.01 889.13 915.09 876.15 856.68		Supplier Notes	Awarded Awarded Awarded Awarded Awarded	Award Notes
Number 238-243 238 239 240 241 242 243 238 239	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, GRANGE. Dough, modeling reusable, 3 lb. resealable plastic bucket, RED. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE.	Description Crayola #57-0015-042 or equal. SAMPLE = 1 bucket. Crayola #57-0015-044 or equal. SAMPLE = 1 bucket. Crayola #57-0015-036 or equal. SAMPLE = 1 bucket. Crayola #57-0015-038 or equal. SAMPLE = 1 bucket. Crayola #57-0015-040 or equal. SAMPLE = 1 bucket. Crayola #57-0015-044 or equal. SAMPLE = 1 bucket. Crayola #57-0015-042 or equal. SAMPLE = 1 bucket.	1220000-2014359 1220000-2014359 1220000-2014360 1220000-2014361 1220000-2014362 1220000-2014357 1220000-2014358	PYRAMID SCHOOL PRODUCTS John R Green Co	No	1 - 3 Pound Container 1 - 3 Pound Container	Quantity 241	Provider CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA-0015	Part Number 57-0015-42 57-0015-42 57-0015-36 57-0015-38 57-0015-40 57-0015-34 55108	6.49 6.49 6.49 6.49 6.49 6.49 6.67	1564.09 967.01 889.13 915.09 876.15 856.68 1607.47		Supplier Notes	Awarded Awarded Awarded Awarded Awarded	Award Notes
Number 238-243 238 239 240 241 242 243 238 239 240	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE. Dough, modeling reusable, 3 lb. resealable plastic bucket, RED. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN.	Description Crayola #57-0015-042 or equal. SAMPLE = 1 bucket. Crayola #57-0015-044 or equal. SAMPLE = 1 bucket. Crayola #57-0015-036 or equal. SAMPLE = 1 bucket. Crayola #57-0015-036 or equal. SAMPLE = 1 bucket. Crayola #57-0015-040 or equal. SAMPLE = 1 bucket.	1220000-2014359 1220000-2014359 1220000-2014360 1220000-2014361 1220000-2014362 1220000-2014357 1220000-2014358	PYRAMID SCHOOL PRODUCTS John R Green Co John R Green Co	No	1 - 3 Pound Container 1 - 3 Pound Container	149	Provider CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA-0015 CRAYOLA-0015	Part Number 57-0015-42 57-0015-42 57-0015-36 57-0015-38 57-0015-40 57-0015-34 55108 55109	6.49 6.49 6.49 6.49 6.49 6.49 6.67 6.67	1564.09 967.01 889.13 915.09 876.15 856.68 1607.47 993.83		Supplier Notes	Awarded Awarded Awarded Awarded Awarded	Award Notes
Number 238-243 238 239 240 241 242 243 239 240 241	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREN. Dough, modeling reusable, 3 lb. resealable plastic bucket, RED. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE.	Description	1220000-2014359 1220000-2014359 1220000-2014360 1220000-2014361 1220000-2014362 1220000-2014358 1220000-2014359	PYRAMID SCHOOL PRODUCTS John R Green Co John R Green Co John R Green Co	NO	1 - 3 Pound Container	Quantity 241	Provider CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA-0015 CRAYOLA-0015 CRAYOLA-0015	Part Number 57-0015-42 57-0015-42 57-0015-36 57-0015-36 57-0015-34 57-0015-34 55108 55109	6.49 6.49 6.49 6.49 6.49 6.49 6.67 6.67	1564.09 967.01 889.13 915.09 876.15 856.68 1607.47 993.83 913.79		Supplier Notes	Awarded Awarded Awarded Awarded Awarded	Award Notes
Number 238-243 238 239 240 241 242 243 238 239 240	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, CREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, RED. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET. Dough, modeling reusable, 3 lb. resealable plastic bucket, RELOW. Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE. Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, CREEN. Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE.	Description Crayola #57-0015-042 or equal. SAMPLE = 1 bucket. Crayola #57-0015-044 or equal. SAMPLE = 1 bucket. Crayola #57-0015-036 or equal. SAMPLE = 1 bucket. Crayola #57-0015-036 or equal. SAMPLE = 1 bucket. Crayola #57-0015-040 or equal. SAMPLE = 1 bucket.	1220000-2014359 1220000-2014359 1220000-2014360 1220000-2014361 1220000-2014362 1220000-2014358 1220000-2014359	PYRAMID SCHOOL PRODUCTS JOHN R Green CO John R Green CO John R Green CO	NO N	1 - 3 Pound Container 1 - 3 Pound Container	Quantity 241	Provider CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA CRAYOLA-0015 CRAYOLA-0015	Part Number 57-0015-42 57-0015-42 57-0015-36 57-0015-38 57-0015-40 57-0015-34 55108 55109	6.49 6.49 6.49 6.49 6.49 6.49 6.67 6.67	1564.09 967.01 889.13 915.09 876.15 856.68 1607.47 993.83		Supplier Notes	Awarded Awarded Awarded Awarded Awarded	Award Notes

238	Dough, modeling reusable, 3 lb. resealable plastic	Crayola #57-0015-042 or equal. SAMPLE = 1 bucket.	1220000-2014357	Complete Printer	No	1 - 3 Pound	241	Crayola	CYO570015042	6.87	1655.67				
250	bucket, BLUE.	Clayou 137 0023 042 0 Cquai. 3 km E2 - 2 dance.	122000 2014557	Source		Container	2-12	Cityola	010370013042	0.07	1033.07				
239	Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN.	Crayola #57-0015-044 or equal. SAMPLE = 1 bucket.	1220000-2014358	Complete Printer Source	No	1 - 3 Pound Container	149	Crayola	CYO570015044	6.87	1023.63				
240	Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE.	Crayola #57-0015-036 or equal. SAMPLE = 1 bucket.	1220000-2014359	Complete Printer Source	No	1 - 3 Pound Container	137	Crayola	CYO570015036	6.87	941.19				
241	Dough, modeling reusable, 3 lb. resealable plastic bucket, RED.	Crayola #57-0015-038 or equal. SAMPLE = 1 bucket.	1220000-2014360	Complete Printer Source	No	1 - 3 Pound Container	141	Crayola	CYO570015038	6.87	968.67				
242	Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET.	Crayola #57-0015-040 or equal. SAMPLE = 1 bucket.	1220000-2014361	Complete Printer Source	No	1 - 3 Pound Container	135	Crayola	CYO570015040	6.87	927.45				
243	Dough, modeling reusable, 3 lb. resealable plastic bucket, YELLOW.	Crayola #57-0015-034 or equal. SAMPLE = 1 bucket	1220000-2014362	Complete Printer Source	No	1 - 3 Pound Container	132	Crayola	CYO570015034	6.87	906.84				
238	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE.	Crayola #57-0015-042 or equal. SAMPLE = 1 bucket.	1220000-2014357	School Specialty LLC	No	1 - 3 Pound Container	241	CRAYOLA	57-0015-042	7.35	1771.35		391154		
239	Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN.	Crayola #57-0015-044 or equal. SAMPLE = 1 bucket.	1220000-2014358	School Specialty LLC	No	1 - 3 Pound Container	149	CRAYOLA	57-0015-044	7.35	1095.15		1006285		
240	Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE.	Crayola #57-0015-036 or equal. SAMPLE = 1 bucket.	1220000-2014359	School Specialty LLC	No	1 - 3 Pound Container	137	CRAYOLA	57-0015-036	7.35	1006.95		391145		
241	Dough, modeling reusable, 3 lb. resealable plastic bucket, RED.	Crayola #57-0015-038 or equal. SAMPLE = 1 bucket.	1220000-2014360	School Specialty LLC	No	1 - 3 Pound Container	141	CRAYOLA	57-0015-038	7.35	1036.35		391148		
242	Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET.	Crayola #57-0015-040 or equal. SAMPLE = 1 bucket.	1220000-2014361	School Specialty LLC	No	1 - 3 Pound Container	135	CRAYOLA	57-0015-040	7.35	992.25		391151		
243	Dough, modeling reusable, 3 lb. resealable plastic bucket, YELLOW.	Crayola #57-0015-034 or equal. SAMPLE = 1 bucket	1220000-2014362	School Specialty LLC	No	1 - 3 Pound Container	132	CRAYOLA	57-0015-034	7.35	970.2		391142		
238	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE.	Crayola #57-0015-042 or equal. SAMPLE = 1 bucket.	1220000-2014357	Cascade School Supplies	No	1 - 3 Pound Container	241	Crayola	001542 CAS180161	8.09	1949.69				
239	Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN.	Crayola #57-0015-044 or equal. SAMPLE = 1 bucket.	1220000-2014358	Cascade School Supplies	No	1 - 3 Pound Container	149	Crayola	001544 CAS180162	8.09	1205.41				
240	Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE.	Crayola #57-0015-036 or equal. SAMPLE = 1 bucket.	1220000-2014359	Cascade School Supplies	No	1 - 3 Pound Container	137	Crayola	153036 CAS180158	8.09	1108.33				
241	Dough, modeling reusable, 3 lb. resealable plastic bucket, RED.	Crayola #57-0015-038 or equal. SAMPLE = 1 bucket.	1220000-2014360	Cascade School Supplies	No	1 - 3 Pound Container	141	Crayola	001538 CAS180159	8.09	1140.69				
242	Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET.	Crayola #57-0015-040 or equal. SAMPLE = 1 bucket.	1220000-2014361	Cascade School Supplies	No	1 - 3 Pound Container	135	Crayola	001540 CAS180160	8.09	1092.15				
243	Dough, modeling reusable, 3 lb. resealable plastic bucket, YELLOW.	Crayola #57-0015-034 or equal. SAMPLE = 1 bucket	1220000-2014362	Cascade School Supplies	No	1 - 3 Pound Container	132	Crayola	001534 cAS180157	8.08	1066.56				
238	Dough, modeling reusable, 3 lb. resealable plastic bucket, BLUE.	Crayola #57-0015-042 or equal. SAMPLE = 1 bucket.	1220000-2014357	Lakeshore Learning Materials, LLC	No	1 - 3 Pound Container	241	LAKESHORE	AX4	12.08	2911.28	Please reference "Per Quote #36607 " on all purchase orders.	Lakeshore Dough Blue TERMS: NET 30		
239	Dough, modeling reusable, 3 lb. resealable plastic bucket, GREEN.	Crayola #57-0015-044 or equal. SAMPLE = 1 bucket.	1220000-2014358	Lakeshore Learning Materials, LLC	No	1 - 3 Pound Container	149	LAKESHORE	AX8	12.08	1799.92	Please reference "Per Quote #36607 " on all purchase orders.	Lakeshore Dough Green TERMS: NET 30		
240	Dough, modeling reusable, 3 lb. resealable plastic bucket, ORANGE.	Crayola #57-0015-036 or equal. SAMPLE = 1 bucket.	1220000-2014359	Lakeshore Learning Materials, LLC	No	1 - 3 Pound Container	137	LAKESHORE	AX14	12.08	1654.96	Please reference "Per Quote #36607 " on all purchase orders.	Lakeshore Dough Orange TERMS: NET 30		
241	Dough, modeling reusable, 3 lb. resealable plastic bucket, RED.	Crayola #57-0015-038 or equal. SAMPLE = 1 bucket.	1220000-2014360	Lakeshore Learning Materials, LLC	No	1 - 3 Pound Container	141	LAKESHORE	AX2	12.08	1703.28	#36607 " on all purchase orders.	Lakeshore Dough Red TERMS: NET 30		
242	Dough, modeling reusable, 3 lb. resealable plastic bucket, VIOLET.	Crayola #57-0015-040 or equal. SAMPLE = 1 bucket.	1220000-2014361	Lakeshore Learning Materials, LLC	No	1 - 3 Pound Container	135	LAKESHORE	AX16 PURPLE	12.08	1630.8	Please reference "Per Quote #36607 " on all purchase orders.	Lakeshore Dough Purple TERMS: NET 30		
243	Dough, modeling reusable, 3 lb. resealable plastic bucket, YELLOW.	Crayola #57-0015-034 or equal. SAMPLE = 1 bucket	1220000-2014362	Lakeshore Learning Materials, LLC	No	1 - 3 Pound Container	132	LAKESHORE	AX6	12.08	1594.56	Please reference "Per Quote #36607 " on all purchase orders.	Lakeshore Dough Yellow TERMS: NET 30		
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
244-246 244	Item/Service Envelope, No. 1, white woven bond, #6 3/4. Universal	Description THIS NOTE APPLIES TO ITEM NOS. 244 through 246. Business type, gummed	Commodity Code 5690280-1159713		No Bid	1 - 500	Quantity 54	Provider Standard Envelope	Part Number WW10002	Price 12.98	Total Price 700.92	Notes	Supplier Notes Standard Envelope WW10002	Award Status	Award Notes Reject - did not sumbit sample for evaluation.
244	Envelope, No. 1, white woven bond, #6 3/4. Universal #35206 or equal.	IHIS NOTE APPLIES 10 TIEM NOS. 244 through 246. Business type, gummed printer's flaps, first quality, 24-lb. stock, 500/box. SAMPLE = 1 envelope. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2030200-1123/13	Supplies	INO	Count Box	54	stanuaru Envelope	CAS120327	12.98	700.92		эланиаги спуеюре ww.10002		кејест - иш пог sumun sampie тог evaluation.
245	Envelope, No. 1, white woven bond, #9. Universal #35209 or equal.	SAMPLE = 1 envelope.	5690280-1371635	Cascade School Supplies	No	1 - 500 Count Box	46	Standard Envelope	WW10019 CAS120331	12.98	597.08		Standard Envelope WW10019		Reject - did not sumbit sample for evaluation.
246	Envelope, No. 1, white woven bond, #10. Universal #35210 or equal.	SAMPLE = 1 envelope.	5690280-1159722	Cascade School Supplies	No	1 - 500 Count Box	175	Standanrd Envelope	90020 CAS120333	8.27	1447.25		Standard Envelope 90020		Reject - did not sumbit sample for evaluation.
									1						

244	Envelope, No. 1, white woven bond, #6 3/4. Universal	THIS NOTE APPLIES TO ITEM NOS. 244 through 246. Business type, gummed	5600290.1150712	School Specialty LLC	No	1 - 500	54	SCHOOL SMART	2013888	11.16	602.64		2013888		
244	#35206 or equal.	THIS NOTE PAPELES TO THEM NOS. SEAP HITOURGE 1246. SUBMINES TYPE, IRRIBINITION printer's flags, first quality, 24-lb. Stock, 500/box. SAMPLE IS envelope. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	3090280-1139/13	scrioor specialty EEC	NO	Count Box	34	SCHOOL SWART	2013000	11.16	602.64		2013000	Awarded	
245	Envelope, No. 1, white woven bond, #9. Universal #35209 or equal.	SAMPLE = 1 envelope.	5690280-1371635	School Specialty LLC	No	1 - 500 Count Box	46	WESTERN STATES	1883	14.08	647.68		2023996	Awarded	
246	Envelope, No. 1, white woven bond, #10. Universal #35210 or equal.	SAMPLE = 1 envelope.	5690280-1159722	School Specialty LLC	No	1 - 500 Count Box	175	SCHOOL SMART	2013890	12.91	2259.25		2013890	Awarded	
244	Envelope, No. 1, white woven bond, #6 3/4. Universal #35206 or equal.	THIS NOTE APPLIES TO ITEM NOS. 244 through 246. Business type, gummed printer's flaps, first quality, 24-lb. stock, 500/box. SAMPLE = 1 envelope. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1159713	Complete Printer Source	No	1 - 500 Count Box	54	Universal	UNV35206	13.89	750.06				
245	Envelope, No. 1, white woven bond, #9. Universal #35209 or equal.	SAMPLE = 1 envelope.	5690280-1371635	Complete Printer Source	No	1 - 500 Count Box	46	Universal	UNV35209	24.49	1126.54				
246	Envelope, No. 1, white woven bond, #10. Universal #35210 or equal.	SAMPLE = 1 envelope.	5690280-1159722	Complete Printer Source	No	1 - 500 Count Box	175	Universal	UNV35210	18.89	3305.75				
244	Envelope, No. 1, white woven bond, #6 3/4. Universal #35206 or equal.	THIS NOTE APPLIES TO ITEM NOS. 244 through 246. Business type, gummed printer's flaps, first quality, 24-lb. stock, 500/box. SAMPLE = 1 envelope. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1159713	John R Green Co	No	1 - 500 Count Box	54	ISCHOLAR-6314	17002	13.85	747.9		DIFFERENT BRAND		
245	Envelope, No. 1, white woven bond, #9. Universal #35209 or equal.	SAMPLE = 1 envelope.	5690280-1371635	John R Green Co	No	1 - 500 Count Box	46	ISCHOLAR-9	17003	22.15	1018.9		DIFFERENT BRAND		
246	Envelope, No. 1, white woven bond, #10. Universal #35210 or equal.	SAMPLE = 1 envelope.	5690280-1159722	John R Green Co	No	1 - 500 Count Box	175	ISCHOLAR-10	17004	25.58	4476.5		DIFFERENT BRAND		
244	Envelope, No. 1, white woven bond, #6 3/4. Universal #35206 or equal.	THIS NOTE APPLIES TO ITEM NOS. 244 through 246. Business type, gummed printer's flaps, first quality, 24-lb. stock, 500/box. SAMPLE = 1 envelope. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690280-1159713	Kerr Office Group, Inc.	No	1 - 500 Count Box	54	BSN	42252	25	1350				
245	Envelope, No. 1, white woven bond, #9. Universal #35209 or equal.	SAMPLE = 1 envelope.	5690280-1371635	Kerr Office Group, Inc.	No	1 - 500 Count Box	46	BSN	04469	35.56	1635.76				
246	Envelope, No. 1, white woven bond, #10. Universal #35210 or equal.	SAMPLE = 1 envelope.	5690280-1159722	Kerr Office Group, Inc.	No	1 - 500 Count Box	175	BSN	04467	22.05	3858.75				
Lot Item															
Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
247-248	Item/Service Flag bracket, for classroom, 12" x 18" U.S. flag,	Description Spring clip, aluminum, holds flag firmly in place. Valley Forge #SB1-1 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500220-2012090	Cascade School Supplies	No Bid	1 - Each Purchase	Quantity 159	Provider Cascade Brand	Part Number 190921	Price 1.52	Total Price 241.68	Notes	Supplier Notes Cascade Brand 190921	Award Status	Award Notes Reject - did not sumbit sample for evaluation.
248	Flag, U.S., classroom, 12" x 18"	Mounted on 3/8" x 30" black staff with gold spear top, polyester. Valley Forge #12761000 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies	No	1 - Each Purchase	244	Flag Zone	1056274 CAS190825	1.34	326.96		Flag Zone 1056274		Reject - did not sumbit sample for evaluation.
247	Flag bracket, for classroom, 12" x 18" U.S. flag,	Spring clip, aluminum, holds flag firmly in place. Valley Forge #5B1-1 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500220-2012090	School Specialty LLC	No	1 - Each Purchase	159	SCHOOL SMART	016794	0.78	124.02		016794	Awarded	
248	Flag, U.S., classroom, 12" x 18"	Mounted on 3/8" x 30" black staff with gold spear top, polyester. Valley Forge #12761000 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500220-2012104	School Specialty LLC	No	1 - Each Purchase	244	ANNIN	041300	2.49	607.56		863009	Awarded	
247	Flag bracket, for classroom, 12" x 18" U.S. flag,	Spring clip, aluminum, holds flag firmly in place. Valley Forge #SB1-1 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500220-2012090	John R Green Co	No	1 - Each Purchase	159	CLI-91000	19170	1.46	232.14		DIFFERENT BRAND		
248	Flag, U.S., classroom, 12" x 18"	Mounted on 3/8" x 30" black staff with gold spear top, polyester. Valley Forge #12761000 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - Each Purchase		FLAGZONE-1049274		3.09	753.96		DIFFERENT BRAND		
247	Flag bracket, for classroom, 12" x 18" U.S. flag,	Spring clip, aluminum, holds flag firmly in place. Valley Forge #SB1-1 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500220-2012090	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	159	VALLEY FORGE	SB1-1 (00002400)	1.38	219.42				
248	Flag, U.S., classroom, 12" x 18"	Mounted on 3/8" x 30" black staff with gold spear top, polyester. Valley Forge #12761000 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500220-2012104	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	244	VALLEY FORGE	1276100	4.95	1207.8				
Lot Item Number 249-255	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
249	Folder, file, BLUE, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 BLU or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012091	Cascade School Supplies	No	1 - 100 Count Box	120	Cascade Brand	121639	9.07	1088.4		Cascade Brand 121639		Reject - did not sumbit sample for evaluation.

250	Folder, file, GREEN, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 BGR or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012094	Cascade School Supplies	No	1 - 100 Count Box	191	Cascade Brand	121640	9.07	1732.37	Cascade Brand 121640		Reject - did not sumbit sample for evaluation.
251	Folder, file, LAVENDER, letter size, 1/3 cut, reinforced top tab 100/box.	Pendaflex #PFXR152 1/3 LAV or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2014363	Cascade School Supplies	Yes									Reject - did not sumbit sample for evaluation.
252	Folder, file, ORANGE, letter size, 1/3 cut, reinforced top tab, 11 point colored stock Interior grid, 100/box.	Pendaflex HPFXR152 1/3 ORA or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1422400	Cascade School Supplies	No	1 - 100 Count Box	54	Cascade Brand	121643	9.07	489.78	Cascade Brand 121643		Reject - did not sumbit sample for evaluation.
253	Folder, file, PINK, letter size, 1/3 cut, reinforced top tab 100/box.	Pendaflex #PFXR152 1/3 PIN or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2014364	Cascade School Supplies	No	1 - 100 Count Box	58	Cascade Brand	121642	9.07	526.06	Cascade Brand 121642		Reject - did not sumbit sample for evaluation.
254	Folder, file, RED, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 RED or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012092	Cascade School Supplies	No	1 - 100 Count Box	133	Cascacde Brand	121638	9.07	1206.31	Cascade Brand 121638		Reject - did not sumbit sample for evaluation.
255	Folder, file, YELLOW, letter size, 1/3 cut Reinforced top tabs, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 YEL or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012093	Cascade School Supplies	No	1 - 100 Count Box	75	Cascade Brand	121641	9.07	680.25	Cascade Brand 121641		Reject - did not sumbit sample for evaluation.
249	Folder, file, BLUE, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 BLU or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012091	Complete Printer Source	No	1 - 100 Count Box	120	TOPS	PFXR15213BLU	26.34	3160.8		Awarded	
250	Folder, file, GREEN, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex HPFXR152 1/3 BGR or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012094	Complete Printer Source	No	1 - 100 Count Box	191	TOPS	PFXR15213BGR	26.34	5030.94		Awarded	
251	Folder, file, LAVENDER, letter size, 1/3 cut, reinforced top tab 100/box.	Pendaflex #PFXR152 1/3 LAV or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2014363	Complete Printer Source	No	1 - 100 Count Box	91	TOPS	PFXR15213LAV	26.34	2396.94		Awarded	
252	Folder, file, ORANGE, letter size, 1/3 cut, reinforced top tab, 11 point colored stock Interior grid, 100/box.	Pendaflex #PFXR152 1/3 ORA or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1422400	Complete Printer Source	No	1 - 100 Count Box	54	TOPS	PFXR15213ORA	26.34	1422.36		Awarded	
253	Folder, file, PINK, letter size, 1/3 cut, reinforced top tab 100/box.	Pendaflex #PFXR152 1/3 PIN or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2014364	Complete Printer Source	No	1 - 100 Count Box	58	TOPS	PFXR15213PIN	26.34	1527.72		Awarded	
254	Folder, file, RED, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 RED or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012092	Complete Printer Source	No	1 - 100 Count Box	133	TOPS	PFXR15213RED	26.34	3503.22		Awarded	
255	Folder, file, YELLOW, letter size, 1/3 cut Reinforced top tabs, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 YEL or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012093	Complete Printer Source	No	1 - 100 Count Box	75	TOPS	PFXR15213YEL	26.34	1975.5		Awarded	
249	Folder, file, BLUE, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 BLU or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012091	John R Green Co	No	1 - 100 Count Box	120	TOPS-R15213BLU	99084	27.92	3350.4			
250	Folder, file, GREEN, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 BGR or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012094	John R Green Co	No	1 - 100 Count Box	191	TOPS-R15213BGR	99083	27.92	5332.72			
251	Folder, file, LAVENDER, letter size, 1/3 cut, reinforced top tab 100/box.	Pendaflex #PFXR152 1/3 LAV or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2014363	John R Green Co	No	1 - 100 Count Box	91	TOPS-PFXR152	93301	27.91	2539.81			
252	Folder, file, ORANGE, letter size, 1/3 cut, reinforced top tab, 11 point colored stock Interior grid, 100/box.	Pendaflex #PFXR152 1/3 ORA or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-1422400	John R Green Co	No	1 - 100 Count Box	54	TOPS-R15213ORA	99085	27.92	1507.68			
253	Folder, file, PINK, letter size, 1/3 cut, reinforced top tab 100/box.	Pendaflex #PFXR152 1/3 PIN or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2014364	John R Green Co	No	1 - 100 Count Box	58	TOPS-PFXR152-PINK	93302	27.91	1618.78			
254	Folder, file, RED, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 RED or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012092	John R Green Co	No	1 - 100 Count Box	133	TOPS-R15213RED	99086	27.92	3713.36			
255	Folder, file, YELLOW, letter size, 1/3 cut Reinforced top tabs, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 YEL or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012093	John R Green Co	No	1 - 100 Count Box	75	TOPS-R15213YEL	99087	27.92	2094			
249	Folder, file, BLUE, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 BLU or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012091	School Specialty LLC	No	1 - 100 Count Box	120	PENDAFLEX	152 1/3BLU	28.67	3440.4	072854		
250	Folder, file, GREEN, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 BGR or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 100 Count Box	191	PENDAFLEX	152 1/3BGR	28.67	5475.97	072858		
251	Folder, file, LAVENDER, letter size, 1/3 cut, reinforced top tab 100/box.	Pendaflex #PFXR152 1/3 LAV or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2014363	School Specialty LLC	No	1 - 100 Count Box	91	PENDAFLEX	152 1/3LAV	28.67	2608.97	002866		
252	Folder, file, ORANGE, letter size, 1/3 cut, reinforced top tab, 11 point colored stock Interior grid, 100/box.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 100 Count Box	54	PENDAFLEX	152 1/30RA	28.67	1548.18	044510		
253	Folder, file, PINK, letter size, 1/3 cut, reinforced top tab 100/box.	Pendaflex #PFXR152 1/3 PIN or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2014364	School Specialty LLC	No	1 - 100 Count Box	58	PENDAFLEX	152 1/3PIN	28.67	1662.86	044507		
												 	_	

254	Folder, file, RED, letter size, 1/3 cut Reinforced top tab, 11 point colored stock, interior grid, 100/box.	Pendaflex #PFXR152 1/3 RED or equal. SAMPLE = 3 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690400-2012092	School Specialty LLC	No	1 - 100 Count Box	133	PENDAFLEX	152 1/3RED	28.67	3813.11		072861		
255	Folder, file, YELLOW, letter size, 1/3 cut Reinforced top		5690400-2012093	School Specialty LLC	No	1 - 100	75	PENDAFLEX	152 1/3YEL	28.67	2150.25		072864		
	tabs, 11 point colored stock, interior grid, 100/box.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Count Box									
Lot Item															
Number 256-257	Item/Service	Description	Commodity Code		No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
256	Glue stick, 0.24 oz., all purpose school glue, disappearing purple formula, washable, AP non-toxic ACMI certified.	PLEASE QUOTE PER EACH STICK. Elmer's #EPIESSS or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-2013145	NATIONAL ART & SCHOOL SUPPLIES	No	1 - Each Purchase	80660	ELMERS	EPIE555	0.32	25811.2			Awarded	
257	Glue stick, 0.24 oz., all purpose school glue for artwork, paper, fabric decorations and school projects, acid free, odorless and washable, AP non-toxic, ACMI Certified.	QUOTE PER STICK ONLY. Elmers #E501 or equal. SAMPLE = 1 stick. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-1697634	NATIONAL ART & SCHOOL SUPPLIES	No	1 - Each Purchase	29605	ELMERS	E501	0.32	9473.6			Awarded	
256	Glue stick, 0.24 oz., all purpose school glue, disappearing purple formula, washable, AP non-toxic ACMI certified.	PLEASE QUOTE PER EACH STICK. Elmer's #EPIESSS or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-2013145	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	80660	ELMER'S	E555 (NEW #2159452)	0.4	32264				
	paper, fabric decorations and school projects, acid free, odorless and washable, AP non-toxic, ACMI Certified.	QUOTE PER STICK ONLY. Elmers #E501 or equal. SAMPLE = 1 stick. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS	No	1 - Each Purchase	29605	ELMER'S	E501	0.4	11842				
256	Glue stick, 0.24 oz., all purpose school glue, disappearing purple formula, washable, AP non-toxic ACMI certified.	PLEASE QUOTE PRE EACH STICK. Elmer's #EPIESSS or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-2013145	Complete Printer Source	No	1 - Each Purchase	80660	Sanford	EPIESSSEA	0.44	35490.4				
257	Glue stick, 0.24 oz., all purpose school glue for artwork, paper, fabric decorations and school projects, acid free, odorless and washable, AP non-toxic, ACMI Certified.	QUOTE PER STICK ONLY. Elmers #ESO1 or equal SAMPLE = 1 stick. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-1697634	Complete Printer Source	No	1 - Each Purchase	29605	Sanford	EPIESO1EA	0.44	13026.2				
256	Glue stick, 0.24 oz., all purpose school glue, disappearing purple formula, washable, AP non-toxic ACMI certified.	PLEASE QUOTE PRE EACH STICK. Elmer's #EPIESSS or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-2013145	John R Green Co	No	1 - Each Purchase	80660	ELMERS-E514	18180	0.41	33070.6		.21OZ		
	Glue stick, 0.24 oz., all purpose school glue for artwork, paper, fabric decorations and school projects, acid free, odorless and washable, AP non-toxic, ACMI Certified.	QUOTE PER STICK ONLY. Elmers #ES01 or equal. SAMPLE = 1 stick. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - Each Purchase	29605	ELMERS-E510	18171	0.54	15986.7		.2102		
256	Glue stick, 0.24 oz., all purpose school glue, disappearing purple formula, washable, AP non-toxic ACMI certified.	PLEASE QUOTE PER EACH STICK. Elmer's #EPIESSS or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-2013145	Cascade School Supplies	No	1 - Each Purchase	80660	Newell Brands/Elmers	E514 CAS021281	0.49	39523.4		Elmers E514 Sold .21 Ounces		
257	Glue stick, 0.24 oz., all purpose school glue for artwork, paper, fabric decorations and school projects, acid free, odorless and washable, AP non-toxic, ACMI Certified.	QUOTE PER STICK ONLY. Elmers #ES01 or equal. SAMPLE = 1 stick. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies	No	1 - Each Purchase	29605	Newell Brands/Elmers	E510 CAS021449	0.49	14506.45		Elmers E510 Sold .21 Ounces		
256	Glue stick, 0.24 oz., all purpose school glue, disappearing purple formula, washable, AP non-toxic ACMI certified.	PLEASE QUOTE PRE EACH STICK. Elmer's #EPIESSS or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - Each Purchase	80660	ELMERS	2159542	0.5	40330	Priced as EA, Sold as PK/30. MFG # reflects PK/30	081455		
257	Glue stick, 0.24 oz., all purpose school glue for artwork, paper, fabric decorations and school projects, acid free, odorless and washable, AP non-toxic, ACMI Certified.	QUOTE PER STICK ONLY. Elmers #ES01 or equal. SAMPLE = 1 stick. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-1697634	School Specialty LLC	No	1 - Each Purchase	29605	ELMERS	E556	0.5	14802.5	Priced as EA, Sold as PK/30. MFG # reflects PK/30	081454		
256	Glue stick, 0.24 oz., all purpose school glue, disappearing purple formula, washable, AP non-toxic ACMI certified.	PLEASE QUOTE PRE EACH STICK. Elmer's #EPIESSS or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-2013145	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	80660	LAKESHORE	TT505 .280z	0.74	59688.4	Please reference "Per Quote #36598 " on all purchase orders.	Lakeshore Glue Stick TERMS: NET 30		
257	Glue stúck, 0.24 oz., all purpose school glue for artwork, paper, fabric decorations and school projects, acid free, odorless and washable, AP non-toxic, ACMI Certified.	QUOTE PER STICK ONLY. Elmers #ESO1 or equal. SAMPLE = 1 stick. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-1697634	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	29605	LAKESHORE	TT505 .28Oz	0.74	21907.7	Please reference "Per Quote #36598" on all purchase orders.	Lakeshore Glue Stick TERMS: NET 30		
Lot Item Number	hte			,,,,,		lic		Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item	6		
258-259 258	Hem/Service Glue, white, 4 oz., plastic bottle. Elmers #E304 or equal.	THIS NOTE APPLIES TO ITEM MOS. 258 through 259. Bonds to porous materials such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACMI Certified, AP non-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. If BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500265-1371046		No Bid	1 - 4 Ounce Bottle	1512	Provider ELMERS	E304	0.88	1330.56	Notes	Supplier Notes	Award Status Awarded	Award Notes
259	Glue, white, 7.625 oz. plastic bottle.	Elmers #E308 or equal.	2500265-1371055	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 7.625 Ounce Bottle	986	ELMERS	E308	1.14	1124.04			Awarded	
								1							

The control of the																	
Mark	258			2500265-1371046	School Specialty LLC	No		1512	ELMERS	E304	0.82	1239.84		008970			
ACCOUNT Control Cont		equai.					Bottle										
April																	
10			SAMPLE IS REQUIRED.														
10																	
Manual Continue	259	Glue, white, 7.625 oz. plastic bottle.	Elmers #E308 or equal.	2500265-1371055	School Specialty LLC	No		986	ELMERS	E308	1.48	1459.28		008973			
According to the Control of the Co																	
Mark Control Mark							Bottle										
Mark Control Mark																	
Mark Control Mark																	
Mark Control Mark	258	Glue, white, 4 oz., plastic bottle. Elmers #E304 or	THIS NOTE APPLIES TO ITEM NOS. 258 through 259. Bonds to porous materials	2500265-1371046	John R Green Co	No	1 - 4 Ounce	1512	ELMERS-E304NR	18153	0.84	1270.08					
## 1			such as paper and cloth, semi-porous materials such as wood and pottery,														
Mark																	
200 Convolute 12-in the part of the																	
10 10 10 10 10 10 10 10			SAMPLE IS REQUIRED.														
10 10 10 10 10 10 10 10	250	Glue white 7 625 or plactic bottle	Elmore #E209 or oqual	2500265-1271055	John P Green Co	No	1 - 7 625	096	ELMEDS ESUOND	10154	1.5	1470					
The content of the	233	dide, write, 7.023 02. plastic bottle.	Little13 #E300 01 equal.	2300203-1371033	John K Green Co	140		300	ELIVIERS-ESOCIAR	10154	1.5	1475					
### Approx 1981 - 1 1981 1							Bottle										
### Approx 1981 - 1 1981 1																	
### Approx 1981 - 1 1981 1																	
### Approx 1981 - 1 1981 1	350	Character A on allowin bottle Character #5204 on	THE NOTE ADDITION TO ITEMA NOT DESCRIBE A DESCRIPTION OF THE PROPERTY OF THE P	2500265 4274046	DVD 4 1 4 D CC I I OOI		4 40	4543	FLEADIC	5204	0.0	4350.0					
Accordance Control of Control	258			2500265-13/1046		No		1512	ELMER'S	E304	0.9	1360.8					
April Control Contro		equa.			THODOCIS		Dottic										
March Marc			BOTTLE ONLY. SAMPLE = 1 btl. IF BIDDING THE APPROVED PRODUCT, NO														
NOTICE 10 10 10 10 10 10 10 1			SAMPLE IS REQUIRED.														
NOTICE 10 10 10 10 10 10 10 1																	
Column	259	Glue, white, 7.625 oz. plastic bottle.	Elmers #E308 or equal.	2500265-1371055		No		986	ELMER'S	E308	1.46	1439.56					
March Marc					PRODUCTS												
200. 200.							Dottie										
200. 200.																	
200. 200.																	
Section Sect	258	Glue, white, 4 oz., plastic bottle. Elmers #E304 or		2500265-1371046	Cascade School	No		1512			0.92	1391.04					
Montanger Submitted Process Submitte		equal.			Supplies		Bottle		Brands/Elmers	CAS120678							
Source Frequency Company Nation			adjustable before setting, washable, ACMI Certified, AP non-toxic. QUOTE PER														
Clark wide, 74D or administration Complete Field Co																	
Supple S																	
Supple S	259	Glue, white, 7.625 oz. plastic bottle.	Elmers #E308 or equal.	2500265-1371055	Cascade School	No	1 - 7.625	986	Newell	E308NR	1.56	1538.16					
200 Column within 4 car. point indice three ABS of column within 4 car. point indice three ABS of column within 4 car. point indice three point control in 5 car. point in 5		,,															
Sub-part of Chip, sensing Sub-part of Sub-							Bottle										
Sub-part of Chip, sensing Sub-part of Sub-																	
Sub-part of Chip, sensing Sub-part of Sub-																	
Sub-part of Chip, sensing Sub-part of Sub-		Clue white 4 or plastic battle Elmore #E204 or	THIS NOTE ADDITIS TO ITEMANOS 250 Abrough 250 Bonds to passus materials							EDIE304	1 20	1050.49					
Septiment Sept	250																
SAMPLE SEQUENCY 1997 199	258			2500265-13/1046		No		1512	Sanford	EPIE3U4	1.23	1330.40					
Source S	258		such as paper and cloth, semi-porous materials such as wood and pottery,	2500265-13/1046		No		1512	Sanford	EPIE304	1.23	1330.40					
Source Outre Source Outre Source Sou	258		such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACMI Certified, AP non-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 btl. IF BIDDING THE APPROVED PRODUCT, NO	2500265-13/1046		No		1512	Sanford	EPIE3U4	1.13	1330.40					
Source Outre Source Outre Source Sou	258		such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACMI Certified, AP non-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 btl. IF BIDDING THE APPROVED PRODUCT, NO	2500265-13/1046		No		1512	Sanford	EPIE304	1.13	2550.40					
Lot tem Brain/Service Description Commonly Code Vendor Name No Set Use Commonly Code Vendor Name No Set Use Code Set Set Code Set Set Code Set Code		equal.	such as paper and cloth, semi-prorus materials such as wood and pottery, adjustable before setting, washable, ACMI cettifled, Pon-noticia, CQUPER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Bottle										
Column C		equal.	such as paper and cloth, semi-prorus materials such as wood and pottery, adjustable before setting, washable, ACMI cettifled, Pon-noticia, CQUPER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source Complete Printer		Bottle 1 - 7.625										
Sub-1964 State		equal.	such as paper and cloth, semi-prorus materials such as wood and pottery, adjustable before setting, washable, ACMI cettifled, Pon-noticia, CQUPER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source Complete Printer		Bottle 1 - 7.625 Ounce										
Sub-1964 State		equal.	such as paper and cloth, semi-prorus materials such as wood and pottery, adjustable before setting, washable, ACMI cettifled, Pon-noticia, CQUPER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source Complete Printer		Bottle 1 - 7.625 Ounce										
Sub-1964 State		equal.	such as paper and cloth, semi-prorus materials such as wood and pottery, adjustable before setting, washable, ACMI cettifled, Pon-noticia, CQUPER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source Complete Printer		Bottle 1 - 7.625 Ounce										
Sub-1964 State		equal.	such as paper and cloth, semi-prorus materials such as wood and pottery, adjustable before setting, washable, ACMI cettifled, Pon-noticia, CQUPER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source Complete Printer		Bottle 1 - 7.625 Ounce										
Sub-1964 State		equal.	such as paper and cloth, semi-prorus materials such as wood and pottery, adjustable before setting, washable, ACMI cettifled, Pon-noticia, CQUPER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source Complete Printer		Bottle 1 - 7.625 Ounce										
180-18 Marker; coloring, weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both For the coloring weak-balle; Conical lip, draws both Crayola #55-7800-042 or equal. For the coloring weak-balle; Conical lip, draws both For the co	259	equal.	such as paper and cloth, semi-prorus materials such as wood and pottery, adjustable before setting, washable, ACMI cettifled, Pon-noticia, CQUPER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source Complete Printer		Bottle 1 - 7.625 Ounce										
260 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 261 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 262 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 263 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 264 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 265 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 266 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 267 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 268 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 269 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 260 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 260 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 260 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 261 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 262 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLACE. 263 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BLCWN. 264 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BRCWN. 265 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BRCWN. 266 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BRCWN. 267 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BRCWN. 268 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BRCWN. 269 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BRCWN. 260 Marker, coloning, washable. Conical tip, draws both thick and thin lines. BRCWN. 260 Marker, coloning, washable. Conical tip, draws both thick and th	259	equal.	such as paper and cloth, semi-prorus materials such as wood and pottery, adjustable before setting, washable, ACMI cettifled, Pon-noticia, CQUPER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source Complete Printer		Bottle 1 - 7.625 Ounce		Sanford	EPIE308	2.14		Vendor Response Item				
Polypropries barrel, water based, will not bleed through most paper. Caps sidently, durable and selecting close of the paid and sentilated caps for safety, durable and is secure in barrel. Non-touce, APSeuc. Control 10, draws both touck. APSeuc. SAMME = 1 box. EPBIODNO THE APSEUDING THE APSEUD	259 Lot Item Number	equal. Glue, white, 7.625 oz. plastic bottle.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Pono-toxic, QUOTE PER BOTTLE ONLY. SAMPLE = 1 btl. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal.	2500265-1371055	Source Complete Printer Source Vendor Name	No No Bid	1 - 7.625 Ounce Bottle	986	Sanford Sanford	EPIE308	2.14 Unit Bid	2110.04		Supplier Notes	Award Status	Award No.	otes
identify color of ink and is printed on barred, can be revived if ago is let off, extended and vertical cap for set eff. 261 Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK. 262 Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE. 263 Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE. 3690500-1700786 MATIONAL ART & SCHOOL SUPPLIES AWARDERS. SERVICE.	Lot Item Number 260-268	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box,	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Description Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-	2500265-1371055	Source Complete Printer Source Vendor Name NATIONAL ART &	No No Bid	Bottle 1-7.625 Ounce Bottle UOM 1-8 Count	986 Quantity	Sanford Manufacturer / Provider	EPIE308 Manufacturer Part Number	2.14 Unit Bid	2110.04 Total Price		Supplier Notes	Award Status	Award No.	otes
extended and vertilated op for safety, durable in its secure in barret. Non-took A Page 2, SAMPLE = 15 securities. Non-took A Page 3, SAMPLE = 15 securi	Lot Item Number 260-268	equal. Giue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certified, Pron-toxic, QUOTE PER BOTTLE ONLY. SAMPLE = 1 btl. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Description Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7808 or equal. THIS NOTE APPLES TO ITEM NOS. 260 through 268.	2500265-1371055	Source Complete Printer Source Vendor Name NATIONAL ART &	No No Bid	Bottle 1-7.625 Ounce Bottle UOM 1-8 Count	986 Quantity	Sanford Manufacturer / Provider	EPIE308 Manufacturer Part Number	2.14 Unit Bid	2110.04 Total Price		Supplier Notes	Award Status	Award No	otes
Losis AP Seal, conforms to ASTM D4236 SAMPLE = 1 box. F BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Seposod-1700786 NATIONAL ART & SCHOOL SUPPLIES Security	Lot Item Number 260-268	equal. Giue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Ponn-toxic, QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Elmers #E308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7808 or equal. THIS NOTE APPLIES TO TEM NOS. 260 through 268. Polypropylene barrel, water-based, will not bleet through most paper. Caps	2500265-1371055	Source Complete Printer Source Vendor Name NATIONAL ART &	No No Bid	Bottle 1-7.625 Ounce Bottle UOM 1-8 Count	986 Quantity	Sanford Manufacturer / Provider	EPIE308 Manufacturer Part Number	2.14 Unit Bid	2110.04 Total Price		Supplier Notes		Award No	otes
261 Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK. Crayola #58-7800-051 or equal. 5690500-1700786 NATIONAL ART & SCHOOL SUPPLIES No 1-12 Count thick and thin lines. BLACK. Awarded Awarded Awarded Crayola #58-7800-042 or equal. S690500-1700784 NATIONAL ART & SCHOOL SUPPLIES No 1-12 Count thick and thin lines. BLUE. Crayola #58-7800-042 or equal. S690500-1700785 NATIONAL ART & No 1-12 Count thick and thin lines. BLUE. S690500-1700785 NATIONAL ART & No 1-12 Count thick and thin lines. BLUE. S690500-1700785 NATIONAL ART & No 1-12 Count thick and thin lines. BROWN.	Lot Item Number 260-268	equal. Giue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Pono-toxic, QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Elmers #E308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58- 7808 or equal. THIS NOTE, APPLIES TO TEM NOS. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps dentify color of ink and is printed on barrel, and revived if cap is left off,	2500265-1371055	Source Complete Printer Source Vendor Name NATIONAL ART &	No No Bid	Bottle 1-7.625 Ounce Bottle UOM 1-8 Count	986 Quantity	Sanford Manufacturer / Provider	EPIE308 Manufacturer Part Number	2.14 Unit Bid	2110.04 Total Price		Supplier Notes		Award No	otes
thick and thin lines. BLACK. SCHOOL SUPPLIES Box Awarded Crayola #58-7800-042 or equal. Crayola #58-7800-042 or equal. Crayola #58-7800-042 or equal. S690500-1700784 NATIONAL ART & SCHOOL SUPPLIES No 1-12 Count 15 CRAYOLA 7800-007 4-22 63.3 thick and thin lines. BROWN.	Lot Item Number 260-268	equal. Giue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Ponn-toxic, QUOTE PER BOTTLE ONLY, SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Elmers #E308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58- 7808 or equal. This NOTE APPLIES TO TEN NOS. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, catended and ventilated caps for safety, durable ink is secure in barrel. Non- catended and ventilated caps for safety, durable ink is secure in barrel. Non-	2500265-1371055	Source Complete Printer Source Vendor Name NATIONAL ART &	No No Bid	Bottle 1-7.625 Ounce Bottle UOM 1-8 Count	986 Quantity	Sanford Manufacturer / Provider	EPIE308 Manufacturer Part Number	2.14 Unit Bid	2110.04 Total Price		Supplier Notes		Award No	otes
thick and thin lines. BLACK. SCHOOL SUPPLIES Box Awarded Crayola #58-7800-042 or equal. Crayola #58-7800-042 or equal. Crayola #58-7800-042 or equal. S690500-1700784 NATIONAL ART & SCHOOL SUPPLIES No 1-12 Count 15 CRAYOLA 7800-007 4-22 63.3 thick and thin lines. BROWN.	Lot Item Number 260-268	equal. Giue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certified, Pron-tosic. QUTE PER BOTTLE ONLY. SAMPLE = 1 btl. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58-7808 or equal. THIS NOTE APPLIES TO TEM NOS. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, extended and ventilated caps for safety, durable in bis secure in barrel. Notice AP Sead, conforms to ASTM DAZS. SAMPLE = 1 box. IF BIDDING THE	2500265-1371055	Source Complete Printer Source Vendor Name NATIONAL ART &	No No Bid	Bottle 1-7.625 Ounce Bottle UOM 1-8 Count	986 Quantity	Sanford Manufacturer / Provider	EPIE308 Manufacturer Part Number	2.14 Unit Bid	2110.04 Total Price		Supplier Notes		Award No.	otes
Awarded Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE. Crayola #58-7800-042 or equal. 5690500-1700784 NATIONAL ART & SCHOOL SUPPLIES No 1-12 Count Box 1-12 Count Bo	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers ##308 or equal. Elmers ##308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #I58-7808 or equal. THIS NOTE APPLES TO TEM NOS. 250 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left of the color of	2500265-1371055 2500265-1371055 Commodity Code 5690500-1732292	Source Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES	No Bid	1-7.625 Ounce Bottle	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes		Award No.	otes
262 Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE. Crayola #58-7800-042 or equal. 5690500-1700784 NATIONAL ART & SCHOOL SUPPLIES No 1-12 Count Box Awarded Awarded Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE. Crayola #58-7800-042 or equal. 5690500-1700784 NATIONAL ART & SCHOOL SUPPLIES No 1-12 Count Box 1-12 Count Box Awarded	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Iten/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers ##308 or equal. Elmers ##308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #I58-7808 or equal. THIS NOTE APPLES TO TEM NOS. 250 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left of the color of	2500265-1371055 2500265-1371055 Commodity Code 5690500-1732292	Source Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & NATIONAL ART & SCHOOL SUPPLIES	No Bid No No	1 - 7.625 Ounce Bottle	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes		Award No	otes
262 Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE. Crayola #58-7800-042 or equal. 5690500-1700784 NATIONAL ART & SCHOOL SUPPLIES No 1-12 Count Box Awarded Awarded Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE. Crayola #58-7800-042 or equal. 5690500-1700784 NATIONAL ART & SCHOOL SUPPLIES No 1-12 Count Box 1-12 Count Box Awarded	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Iten/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers ##308 or equal. Elmers ##308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #I58-7808 or equal. THIS NOTE APPLES TO TEM NOS. 250 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left of the color of	2500265-1371055 2500265-1371055 Commodity Code 5690500-1732292	Source Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & NATIONAL ART & SCHOOL SUPPLIES	No Bid No No	1 - 7.625 Ounce Bottle	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes		Award No	otes
thick and thin lines. BLUE. SCHOOL SUPPLIES Box Awarded Awarded Awarded Awarded Awarded Trayola #58-7800-007 or equal. Crayola #58-7800-007 or equal. School Supplies NATIONAL ART & No 1-12 Count thick and thin lines. BROWN.	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Iten/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers ##308 or equal. Elmers ##308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #I58-7808 or equal. THIS NOTE APPLES TO TEM NOS. 250 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left of the color of	2500265-1371055 2500265-1371055 Commodity Code 5690500-1732292	Source Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & NATIONAL ART & SCHOOL SUPPLIES	No Bid No No	1 - 7.625 Ounce Bottle	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No.	otes
thick and thin lines. BLUE. SCHOOL SUPPLIES Box Awarded Awarded Awarded Awarded Awarded Trayola #58-7800-007 or equal. Crayola #58-7800-007 or equal. School Supplies NATIONAL ART & No 1-12 Count thick and thin lines. BROWN.	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Iten/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers ##308 or equal. Elmers ##308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #I58-7808 or equal. THIS NOTE APPLES TO TEM NOS. 250 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left of the color of	2500265-1371055 2500265-1371055 Commodity Code 5690500-1732292	Source Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & NATIONAL ART & SCHOOL SUPPLIES	No Bid No No	1 - 7.625 Ounce Bottle	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No	otes
thick and thin lines. BLUE. SCHOOL SUPPLIES Box Awarded Awarded Awarded Awarded Awarded Trayola #58-7800-007 or equal. Crayola #58-7800-007 or equal. School Supplies NATIONAL ART & No 1-12 Count thick and thin lines. BROWN.	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Iten/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers ##308 or equal. Elmers ##308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #I58-7808 or equal. THIS NOTE APPLES TO TEM NOS. 250 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left of the color of	2500265-1371055 2500265-1371055 Commodity Code 5690500-1732292	Source Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & NATIONAL ART & SCHOOL SUPPLIES	No Bid No No	1 - 7.625 Ounce Bottle	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No	otes
thick and thin lines. BLUE. SCHOOL SUPPLIES Box Awarded Awarded Awarded Awarded Awarded Trayola #58-7800-007 or equal. Crayola #58-7800-007 or equal. School Supplies NATIONAL ART & No 1-12 Count thick and thin lines. BROWN.	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Iten/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certifled, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers ##308 or equal. Elmers ##308 or equal. Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #I58-7808 or equal. THIS NOTE APPLES TO TEM NOS. 250 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left of the color of	2500265-1371055 2500265-1371055 Commodity Code 5690500-1732292	Source Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & NATIONAL ART & SCHOOL SUPPLIES	No Bid No No	1 - 7.625 Ounce Bottle	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No.	otes
Awarded Marker, coloring, washable. Conical tip, draws both thick and thin lines. BROWN. Crayola #58-7800-007 or equal. 5690500-1700785 NATIONAL ART & No SCHOOL SUPPLIES Box 1 - 12 Count Box	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Henn/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACMI cettified, Phon-toxic. QUOTE PER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Colors: black, blue, brown, green, portage, red, violet and yellow. Crayola #58-7808 or equal. THIS NOTE APPLES TO ITEM 50. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, sectended and ventilated caps for safety, durable in is secure in barrel. Non-toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No No No	Bottle 1-7.625 Ounce Bottle UOM 1-8 Count Box	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No	otes
263 Marker, coloring, washable. Conical tip, draws both thick and thin lines. BROWN. Crayola #58-7800-007 or equal. 5690500-1700785 NATIONAL ART & No 1 - 12 Count Box 1 - 12	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACMI cettified, Phon-toxic. QUOTE PER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Colors: black, blue, brown, green, portage, red, violet and yellow. Crayola #58-7808 or equal. THIS NOTE APPLES TO ITEM 50. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, sectended and ventilated caps for safety, durable in is secure in barrel. Non-toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No	otes
263 Marker, coloring, washable. Conical tip, draws both thick and thin lines. BROWN. Crayola #58-7800-007 or equal. 5690500-1700785 NATIONAL ART & No 1 - 12 Count Box 1 - 12	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACMI cettified, Phon-toxic. QUOTE PER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Colors: black, blue, brown, green, portage, red, violet and yellow. Crayola #58-7808 or equal. THIS NOTE APPLES TO ITEM 50. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, sectended and ventilated caps for safety, durable in is secure in barrel. Non-toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No.	otes
thick and thin lines. BROWN. SCHOOL SUPPLIES Box	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACMI cettified, Phon-toxic. QUOTE PER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Colors: black, blue, brown, green, portage, red, violet and yellow. Crayola #58-7808 or equal. THIS NOTE APPLES TO ITEM 50. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, sectended and ventilated caps for safety, durable in is secure in barrel. Non-toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No	otes
thick and thin lines. BROWN. SCHOOL SUPPLIES Box	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACMI cettified, Phon-toxic. QUOTE PER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Colors: black, blue, brown, green, portage, red, violet and yellow. Crayola #58-7808 or equal. THIS NOTE APPLES TO ITEM 50. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, sectended and ventilated caps for safety, durable in is secure in barrel. Non-toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No	stes
thick and thin lines. BROWN. SCHOOL SUPPLIES Box	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACMI cettified, Phon-toxic. QUOTE PER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Colors: black, blue, brown, green, portage, red, violet and yellow. Crayola #58-7808 or equal. THIS NOTE APPLES TO ITEM 50. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, sectended and ventilated caps for safety, durable in is secure in barrel. Non-toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No	otes
thick and thin lines. BROWN. SCHOOL SUPPLIES Box	259 Lot Item Number 260-268 260	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACMI cettified, Phon-toxic. QUOTE PER BOTILE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Colors: black, blue, brown, green, portage, red, violet and yellow. Crayola #58-7808 or equal. THIS NOTE APPLES TO ITEM 50. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, sectended and ventilated caps for safety, durable in is secure in barrel. Non-toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count	986 Quantity 13926	Sanford Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	Unit Bid Price 1.7	2110.04 Total Price 23674.2		Supplier Notes	Awarded	Award No	otes
	259 Lot Item Number 260-268 260 261	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certified, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Elmers #E308 or equal. Elmers #E308 or equal. Tible NOTE APPLES TO TEN NOS. 260 through 268. Polypropylene barrel, water-base, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if Cap is left off, extended and ventilated caps for safety, durable in his secure in barrel. Nontoxic AP Seal, Conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #I58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No Bid No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count Box	986 Quantity 13926 290	Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7 4.22	2110.04 Total Price 23674.2 1223.8		Supplier Notes	Awarded	Award No.	otes
Awarded	259 Lot Item Number 260-268 260 261	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certified, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Elmers #E308 or equal. Elmers #E308 or equal. Tible NOTE APPLES TO TEN NOS. 260 through 268. Polypropylene barrel, water-base, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if Cap is left off, extended and ventilated caps for safety, durable in his secure in barrel. Nontoxic AP Seal, Conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #I58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No Bid No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count Box 1-12 Count Box	986 Quantity 13926 290	Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7 4.22	2110.04 Total Price 23674.2 1223.8		Supplier Notes	Awarded	Award No.	otes
	259 Lot Item Number 260-268 260 261	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certified, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Elmers #E308 or equal. Elmers #E308 or equal. Tible NOTE APPLES TO TEN NOS. 260 through 268. Polypropylene barrel, water-base, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if Cap is left off, extended and ventilated caps for safety, durable in his secure in barrel. Nontoxic AP Seal, Conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #I58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No Bid No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count Box 1-12 Count Box	986 Quantity 13926 290	Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7 4.22	2110.04 Total Price 23674.2 1223.8		Supplier Notes	Awarded	Award No	otes
	259 Lot Item Number 260-268 260 261	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certified, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Elmers #E308 or equal. Elmers #E308 or equal. Tible NOTE APPLES TO TEN NOS. 260 through 268. Polypropylene barrel, water-base, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if Cap is left off, extended and ventilated caps for safety, durable in his secure in barrel. Nontoxic AP Seal, Conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #I58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No Bid No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count Box 1-12 Count Box	986 Quantity 13926 290	Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7 4.22	2110.04 Total Price 23674.2 1223.8		Supplier Notes	Awarded Awarded	Award No.	otes
	259 Lot Item Number 260-268 260 261	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certified, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Elmers #E308 or equal. Elmers #E308 or equal. Tible NOTE APPLES TO TEN NOS. 260 through 268. Polypropylene barrel, water-base, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if Cap is left off, extended and ventilated caps for safety, durable in his secure in barrel. Nontoxic AP Seal, Conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #I58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No Bid No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count Box 1-12 Count Box	986 Quantity 13926 290	Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7 4.22	2110.04 Total Price 23674.2 1223.8		Supplier Notes	Awarded Awarded	Award No.	otes
	259 Lot Item Number 260-268 260 261	equal. Glue, white, 7.625 oz. plastic bottle. Item/Service Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	such as paper and cloth, semi-porous materials such as wood and pottery, adjustable before setting, washable, ACM Certified, Pron-toxic. QUOTE PER BOTTLE ONLY. SAMPLE = 1 bit. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Elmers #E308 or equal. Elmers #E308 or equal. Elmers #E308 or equal. Tible NOTE APPLES TO TEN NOS. 260 through 268. Polypropylene barrel, water-base, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if Cap is left off, extended and ventilated caps for safety, durable in his secure in barrel. Nontoxic AP Seal, Conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Crayola #I58-7800-051 or equal.	2500265-1371055 Commodity Code 5690500-1732292 5690500-1700786	Complete Printer Source Vendor Name NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES NATIONAL ART & SCHOOL SUPPLIES	No Bid No Bid No No	Bottle 1-7.625 Ounce Bottle 1-8 Count Box 1-12 Count Box 1-12 Count Box	986 Quantity 13926 290	Manufacturer / Provider CRAYOLA CRAYOLA	Manufacturer Part Number 58-7808	2.14 Unit Bid Price 1.7 4.22	2110.04 Total Price 23674.2 1223.8		Supplier Notes	Awarded Awarded	Award No	otes

264	Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN.	Crayola #58-7800-044 or equal.	5690500-1700779	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	23	CRAYOLA	7800-044	4.22	97.06		Awarded	
265	Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE.	Crayola #58-7800-036 or equal.	5690500-1700780	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	22	CRAYOLA	7800-036	4.22	92.84		Awarded	
266	Marker, coloring, washable. Conical tip, draws both thick and thin lines. RED.	Crayola #58-7800-038 or equal.	5690500-1700782	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	29	CRAYOLA	7800-38	4.22	122.38		Awarded	
267	Marker, coloring, washable. Conical tip, draws both thick and thin lines. VIOLET.	Crayola #58-7800-040 or equal.	5690500-1700781	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	19	CRAYOLA	7800-040	4.22	80.18		Awarded	
268	Marker, coloring, washable. Conical tip, draws both thick and thin lines. YELLOW.	Crayola #58-7800-034 or equal.	5690500-1700783	SCHOOL SUPPLIES		1 - 12 Count Box	19	CRAYOLA	7800-34	4.22	80.18		Awarded	
260	Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable.	Colors: black, Dlue, Drown, green, orange, red, violet and yellow. Crayola #58- 7808 or equal. THIS NOTE APPLIES TO ITEM NOS. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel. can be revived if cap is left off, extended and ventilated caps for safety, durable in its secure in barrel. Non- toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1732292	School Specialty LLC	No	1 - 8 Count Box	13926	CRAYOLA	58-7808	1.77	24649.02	008196		
261	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	Crayola #58-7800-051 or equal.	5690500-1700786	School Specialty LLC	No	1 - 12 Count Box	290	CRAYOLA	58-7800-051	4.42	1281.8	1587167		
262	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	Crayola #58-7800-042 or equal.	5690500-1700784	School Specialty LLC	No	1 - 12 Count Box	14	CRAYOLA	58-7800-042	4.42	61.88	1587165		
263	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BROWN.	Crayola #58-7800-007 or equal.	5690500-1700785	School Specialty LLC	No	1 - 12 Count Box	15	CRAYOLA	58-7800-007	4.42	66.3	1587160		
264	Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN.	Crayola #58-7800-044 or equal.	5690500-1700779	School Specialty LLC	No	1 - 12 Count Box	23	CRAYOLA	58-7800-044	4.42	101.66	1587166		
265	Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE.	Crayola #58-7800-036 or equal.		School Specialty LLC		1 - 12 Count Box	22	CRAYOLA	58-7800-036	4.42	97.24	1587162		
266	Marker, coloring, washable. Conical tip, draws both thick and thin lines. RED.	Crayola #58-7800-038 or equal.	5690500-1700782	School Specialty LLC	No	1 - 12 Count Box	29	CRAYOLA	58-7800-038	4.42	128.18	1587163		

267	Marker, coloring, washable. Conical tip, draws both thick and thin lines. VIOLET.	Crayola #58-7800-040 or equal.	5690500-1700781	School Specialty LLC	No	1 - 12 Count Box	19	CRAYOLA	58-7800-040	4.42	83.98	1587164		
268	Marker, coloring, washable. Conical tip, draws both thick and thin lines. YELLOW.	Crayola #58-7800-034 or equal.	5690500-1700783	School Specialty LLC	No	1 - 12 Count Box	19	CRAYOLA	58-7800-034	4.42	83.98	1587161		
260	Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable.	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58- 7808 or equal. THIS NOTE APPLIESTO TIEM NOS. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, extended and ventilated caps for safety, durable nish is secure in barrel. Non- toxic AP Sed, conforms to ASTM D4236. SAMPLE = L box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1732292	PYRAMID SCHOOL PRODUCTS	No	1 - 8 Count Box	13926	CRAYOLA	58-7808	1.79	24927.54			
261	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	Crayola #58-7800-051 or equal.	5690500-1700786	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	290	CRAYOLA	58-7800-51	3.95	1145.5			
262	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	Crayola #58-7800-042 or equal.	5690500-1700784	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	14	CRAYOLA	58-7800-42	3.95	55.3			
263	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BROWN.	Crayola #58-7800-007 or equal.	5690500-1700785	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	15	CRAYOLA	58-7800-07	3.95	59.25			
264	Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN.	Crayola #58-7800-044 or equal.	5690500-1700779	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	23	CRAYOLA	58-7800-44	3.95	90.85			
265	Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE.	Crayola #58-7800-036 or equal.	5690500-1700780	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	22	CRAYOLA	58-7800-36	3.95	86.9			
266	Marker, coloring, washable. Conical tip, draws both thick and thin lines. RED.	Crayola #58-7800-038 or equal.	5690500-1700782	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	29	CRAYOLA	58-7800-38	3.95	114.55			
267	Marker, coloring, washable. Conical tip, draws both thick and thin lines. VIOLET.	Crayola #58-7800-040 or equal.	5690500-1700781	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	19	CRAYOLA	58-7800-40	3.95	75.05			
268	Marker, coloring, washable. Conical tip, draws both thick and thin lines. YELLOW.	Crayola #58-7800-034 or equal.	5690500-1700783	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	19	CRAYOLA	58-7800-34	3.95	75.05			
260	Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean washable.	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58- 7808 or equal. THIS NOTE APPLIES TO ITEM NOS. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps identify color of ink and is printed on barrel, can be revived if cap is left off, but not offer of the color of	5690500-1732292	John R Green Co	No	1 - 8 Count Box	13926	CRAYOLA-7808	08220	3.15	43866.9			

261	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	Crayola #58-7800-051 or equal.	5690500-1700786	John R Green Co	No	1 - 12 Count Box	290	CRAYOLA-7800	57538	4.86	1409.4				
262	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	Crayola #58-7800-042 or equal.	5690500-1700784	John R Green Co	No	1 - 12 Count Box	14	CRAYOLA-7800	57536	4.86	68.04				
263	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BROWN.	Crayola #58-7800-007 or equal.	5690500-1700785	John R Green Co	No	1 - 12 Count Box	15	CRAYOLA-7800	57531	4.86	72.9				
264	Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN.	Crayola #58-7800-044 or equal.	5690500-1700779	John R Green Co	No	1 - 12 Count Box	23	CRAYOLA-7800	57537	4.86	111.78				
	CHECK OF CHAIN MESS. CHEETS.					Box									
265	Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-036 or equal.	5690500-1700780	John R Green Co	No	1 - 12 Count	22	CRAYOLA-7800	57533	4.86	106.92				
	thick and thin lines. ORANGE.					Box									
266	Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-038 or equal.	5690500-1700782	John R Green Co	No	1 - 12 Count	29	CRAYOLA-7800	57534	4.86	140.94				
	thick and thin lines. RED.					Box									
267	Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-040 or equal.	5690500-1700781	John R Green Co	No	1 - 12 Count	19	CRAYOLA-7800	57535	4.86	92.34				
	thick and thin lines. VIOLET.	·				Вох									
268	Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-034 or equal.	5690500-1700783	John R Green Co	No	1 - 12 Count	19	CRAYOLA-7800	57532	4.86	92.34				
200	thick and thin lines. YELLOW.	clayou iso 7000 03-01 equal.	3030300 1700703	John N Green co		Box		CIUNIODA 7000	37332	4.50	32.34				
350	Made and the second to the sec		5500500 4732203	Consider Briston		4.05	42025	Consults	CYO587808	240	44423.94				
260	draws both thick and thin lines, classic ultra-clean washable.	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58- 7808 or equal. THIS NOTE APPLIES TO ITEM NOS. 260 through 268. Polypropylene barrel, water-based, will not bleed through most paper. Caps	5690500-1732292	Source	No	1 - 8 Count Box	13926	Crayola	C10587808	3.19	44423.94				
		identify color of ink and is printed on barrel, can be revived if cap is left off, extended and ventilated caps for safety, durable nib is secure in barrel. Non- toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE													
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
261	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLACK.	Crayola #58-7800-051 or equal.	5690500-1700786	Complete Printer Source	No	1 - 12 Count Box	290	Crayola	CYO587800051	4.99	1447.1				
262	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	Crayola #58-7800-042 or equal.	5690500-1700784	Complete Printer Source	No	1 - 12 Count Box	14	Crayola	CYO587800042	4.99	69.86				
263	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BROWN.	Crayola #58-7800-007 or equal.	5690500-1700785	Complete Printer Source	No	1 - 12 Count Box	15	Crayola	CYO587800007	4.99	74.85				
	1	1	1	i .	1	1	1	1		1	1	i .	i e	1	

			1		,							1		_
264	Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN.	Crayola #58-7800-044 or equal.	5690500-1700779	Complete Printer Source	No	1 - 12 Count Box	23	Crayola	CYO587800044	4.99	114.77			
265	Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE.	Crayola #58-7800-036 or equal.	5690500-1700780	Complete Printer Source	No	1 - 12 Count Box	22	Crayola	CYO587800036	4.99	109.78			
266	Marker, coloring, washable. Conical tip, draws both thick and thin lines. RED.	Crayola #58-7800-038 or equal.	5690500-1700782	Complete Printer Source	No	1 - 12 Count Box	29	Crayola	CYO587800038	4.99	144.71			
267	Marker, coloring, washable. Conical tip, draws both thick and thin lines. VIOLET.	Crayola #58-7800-040 or equal.	5690500-1700781	Complete Printer Source	No	1 - 12 Count Box	19	Crayola	CYO587800040	4.99	94.81			
1				1		1								
1				1		1								
	Made also with a second	County WED TOCK	F500F00	Complete Title	-	4.43.7		Con 1	CVOFOTTOTO	4	04.77			
268	Marker, coloring, washable. Conical tip, draws both thick and thin lines. YELLOW.	Crayola #58-7800-034 or equal.	5690500-1700783	Complete Printer Source	No	1 - 12 Count Box	19	Crayola	CYO587800034	4.99	94.81			
1				1		1				1				
1				1		1								
				<u> </u>										
260	Marker, coloring, washable. Conical tip, 8-color box, draws both thick and thin lines, classic ultra-clean	Colors: black, blue, brown, green, orange, red, violet and yellow. Crayola #58- 7808 or equal. THIS NOTE APPLIES TO ITEM NOS. 260 through 268.	5690500-1732292	Cascade School Supplies	No	1 - 8 Count Box	13926	Crayola	7808 CAS149598	3.64	50690.64			
	washable.	Polypropylene barrel, water-based, will not bleed through most paper. Caps		Заррисэ		DOX								
		identify color of ink and is printed on barrel, can be revived if cap is left off,												
		extended and ventilated caps for safety, durable nib is secure in barrel. Non- toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE												
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												
261	Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-051 or equal.	5690500-1700786		No	1 - 12 Count	290	Crayola	78009051	4.99	1447.1			
	thick and thin lines. BLACK.			Supplies		Box			CAS031702					
262	Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-042 or equal.	5690500-1700784		No	1 - 12 Count	: 14	Crayola	78009042	4.99	69.86			
262	Marker, coloring, washable. Conical tip, draws both thick and thin lines. BLUE.	Crayola #58-7800-042 or equal.	5690500-1700784	Cascade School Supplies	No	1 - 12 Count Box	: 14	Crayola	78009042 CAS031704	4.99	69.86			
262		Crayola #58-7800-042 or equal.	5690500-1700784		No		14	Crayola		4.99	69.86			
262		Crayola #58-7800-042 or equal.	5690500-1700784		No		14	Crayola		4.99	69.86			
262		Crayola #58-7800-042 or equal.	5690500-1700784		No		14	Crayola		4.99	69.86			
	thick and thin lines. BLUE.			Supplies		Box			CAS031704					
262	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-042 or equal. Crayola #58-7800-044 or equal.	5690500-1700784 5690500-1700779	Supplies Cascade School		Box		Crayola	CAS031704 78009044	4.99	69.86			
	thick and thin lines. BLUE.			Supplies		Box			CAS031704					
	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both			Supplies Cascade School		Box			CAS031704 78009044					
	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both			Supplies Cascade School		Box			CAS031704 78009044					
	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both			Supplies Cascade School		Box			CAS031704 78009044					
	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both		5690500-1700779	Supplies Cascade School Supplies		Box			CAS031704 78009044					
	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both			Cascade School Supplies Cascade School Cascade School		1 - 12 Count Box	. 23		78009044 CAS031706				Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN.	Crayola #58-7800-044 or equal.	5690500-1700779	Supplies Cascade School Supplies	No	1 - 12 Count Box	. 23	Crayola	78009044 CAS031706	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-044 or equal.	5690500-1700779	Cascade School Supplies Cascade School Cascade School	No	1 - 12 Count Box	. 23	Crayola	78009044 CAS031706	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-044 or equal.	5690500-1700779	Cascade School Supplies Cascade School Cascade School	No	1 - 12 Count Box	. 23	Crayola	78009044 CAS031706	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-044 or equal.	5690500-1700779	Cascade School Supplies Cascade School Cascade School	No	1 - 12 Count Box	. 23	Crayola	78009044 CAS031706	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both	Crayola #58-7800-044 or equal.	5690500-1700779 5690500-1700780	Cascade School Supplies Cascade School Supplies Cascade School Supplies	No	1 - 12 Count Box	. 23	Crayola	78009044 CAS031706	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE.	Crayola #58-7800-044 or equal.	5690500-1700779 5690500-1700780	Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box	23	Crayola	78009044 CAS031706 58780080 CAS031707	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal.	5690500-1700779 5690500-1700780	Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box	23	Crayola Crayola	78009044 CAS031706 587800080 CAS031707	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal.	5690500-1700779 5690500-1700780	Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box	23	Crayola Crayola	78009044 CAS031706 58780080 CAS031707	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal.	5690500-1700779 5690500-1700780	Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box	23	Crayola Crayola	78009044 CAS031706 58780080 CAS031707	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal.	5690500-1700779 5690500-1700780	Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box	23	Crayola Crayola	78009044 CAS031706 58780080 CAS031707	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal.	5690500-1700779 5690500-1700780	Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box	23	Crayola Crayola	78009044 CAS031706 58780080 CAS031707	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. RED.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal. Crayola #58-7800-038 or equal.	5690500-1700779 5690500-1700780 5690500-1700782	Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box 1 - 12 Count Box 1 - 12 Count Box	22 29	Crayola Crayola	78009044 CAS031706 587800080 CAS031707 78009038 CAS031703	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. BED.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal. Crayola #58-7800-038 or equal.	5690500-1700779 5690500-1700780 5690500-1700782	Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box 1 - 12 Count Box	22 29	Crayola Crayola Crayola	78009044 CAS031706 587800080 CAS031707 78009038 CAS031703	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. RED.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal. Crayola #58-7800-038 or equal.	5690500-1700779 5690500-1700780 5690500-1700782	Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box 1 - 12 Count Box 1 - 12 Count Box	22 29	Crayola Crayola Crayola	78009044 CAS031706 587800080 CAS031707 78009038 CAS031703	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. RED.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal. Crayola #58-7800-038 or equal.	5690500-1700779 5690500-1700780 5690500-1700782	Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box 1 - 12 Count Box 1 - 12 Count Box	22 29	Crayola Crayola Crayola	78009044 CAS031706 587800080 CAS031707 78009038 CAS031703	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. RED.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal. Crayola #58-7800-038 or equal.	5690500-1700779 5690500-1700780 5690500-1700782	Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box 1 - 12 Count Box 1 - 12 Count Box	22 29	Crayola Crayola Crayola	78009044 CAS031706 587800080 CAS031707 78009038 CAS031703	5.23	120.29		Crayola 587800080	
264	thick and thin lines. BLUE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. GREEN. Marker, coloring, washable. Conical tip, draws both thick and thin lines. ORANGE. Marker, coloring, washable. Conical tip, draws both thick and thin lines. RED.	Crayola #58-7800-044 or equal. Crayola #58-7800-036 or equal. Crayola #58-7800-038 or equal.	5690500-1700779 5690500-1700780 5690500-1700782	Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box 1 - 12 Count Box 1 - 12 Count Box	22 29	Crayola Crayola Crayola	78009044 CAS031706 587800080 CAS031707 78009038 CAS031703	5.23	120.29		Crayola 587800080	

268	Marker, coloring, washable. Conical tip, draws both thick and thin lines. YELLOW.	Crayola #58-7800-034 or equal.	5690500-1700783		No	1 - 12 Count Box	19	Crayola	780080 CAS031708	5.23	99.37				
	thick and thin lines. YELLOW.			Supplies		вох			CAS031708						
Lot Item															
Number 269-273	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
269	Marker, highlighter. BLUE. Bic #BL11-BE or equal.	THIS NOTE APPLIES TO ITEM NOS. 269 through 273. Transparent color that	5690500-1423561	NATIONAL ART &	No	1 - 12 Count		BIC	BL11-BE	3.87	3130.83	Notes	Supplier Notes	Awaru Status	Award Notes
		highlights important words or sentences, instant drying, non-toxic, will not penetrate paper, wedge-shaped tip for fine or heavy line, barrel color indicates		SCHOOL SUPPLIES		Box									
		ink color, pocket-style, 12/box. ONE COLOR PER BOX. SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												Awarded	
270	Marker, highlighter. GREEN.	Bic #BL11-GR or equal.	5690500-1693236	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	886	BIC	BL11-GR	3.87	3428.82				
														Awarded	
271	Marker, highlighter. ORANGE.	Bic #BL11-OR or equal.	5690500-1684462	NATIONAL ART &	No	1 - 12 Count	825	BIC	BL11-OR	3.87	3192.75				
				SCHOOL SUPPLIES		Box									
														Awarded	
272	Marker, highlighter. PINK.	Bic #BL11-PK or equal.	5690500-1680899	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	766	BIC	BL11-PK	3.87	2964.42				
														Awarded	
273	Marker, highlighter. YELLOW.	Bic #BL11-YW or equal.	5690500-1684071	NATIONAL ART &	No	1 - 12 Count	1672	BIC	BL11-YW	3.87	6470.64				
				SCHOOL SUPPLIES		Box									
														Awarded	
269	Marker, highlighter. BLUE. Bic #BL11-BE or equal.	THIS NOTE APPLIES TO ITEM NOS. 269 through 273. Transparent color that highlights important words or sentences, instant drying, non-toxic, will not	5690500-1423561	Complete Printer Source	No	1 - 12 Count Box	809	BIC	BICBL11BE	4.12	3333.08				
		penetrate paper, wedge-shaped tip for fine or heavy line, barrel color indicates ink color, pocket-style, 12/box. ONE COLOR PER BOX. SAMPLE = 2 of each													
		color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
270	Marker, highlighter. GREEN.	Bic #BL11-GR or equal.	5690500-1693236	Complete Printer	No	1 - 12 Count	886	BIC	BICBL11GN	4.12	3650.32				
				Source		Вох									
271	Marker, highlighter. ORANGE.	Bic #BL11-OR or equal.	5690500-1684462	Complete Printer Source	No	1 - 12 Count Box	825	BIC	BICBL11OE	4.12	3399				
272	Marker, highlighter. PINK.	Bic #BL11-PK or equal.	5690500-1680899	Complete Printer	No	1 - 12 Count	766	BIC	BICBL11PK	4.12	3155.92				
				Source		Вох									
273	Marker, highlighter. YELLOW.	Bic #BL11-YW or equal.	5690500-1684071	Complete Printer Source	No	1 - 12 Count Box	1672	BIC	BICBL11YW	4.12	6888.64				
269	Marker, highlighter. BLUE. Bic #BL11-BE or equal.	THIS NOTE APPLIES TO ITEM NOS. 269 through 273. Transparent color that	5690500-1423561	PYRAMID SCHOOL	No	1 - 12 Count	809	BIC	BL11BE	4.29	3470.61				
	·	highlights important words or sentences, instant drying, non-toxic, will not penetrate paper, wedge-shaped tip for fine or heavy line, barrel color indicates		PRODUCTS		Box									
		ink color, pocket-style, 12/box. ONE COLOR PER BOX. SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
L					L										
270	Marker, highlighter. GREEN.	Bic #BL11-GR or equal.	5690500-1693236	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	886	BIC	BL11GR	4.29	3800.94				
271	Marker, highlighter. ORANGE.	Bic #BL11-OR or equal.	5690500-1684462	PYRAMID SCHOOL	No	1 - 12 Count	825	BIC	BL11OR	4.29	3539.25				
				PRODUCTS		Box									

272	Marker highlighter DINIV	Die HDI 11 DV ex equal	5690500-1680899	PYRAMID SCHOOL	No	1 13 Count	766	BIC	DIATON	4.20	2206.14			1	
272	Marker, highlighter. PINK.	Bic #Bl.11-PK or equal.	1980899	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	766	RIC	BL11PK	4.29	3286.14				
273	Marker, highlighter. YELLOW.	Bic #BL11-YW or equal.	5690500-1684071	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	1672	BIC	BL11YW	4.29	7172.88				
269	Marker, highlighter. BLUE. Bic #BL11-BE or equal.	THIS NOTE APPLIES TO ITEM NOS. 269 through 273. Transparent color that highlights important words or sentences, instant drying, non-toxic, will not penetrate paper, wedge-shaped tip for fine or heavy line, barrel color indicates ink color, pocket-style, 12/box. ONE COLOR PER BOX. SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690500-1423561	Cascade School Supplies	No	1 - 12 Count Box	809	BIC USA	BL11 CAS031829	5.54	4481.86				
270	Marker, highlighter. GREEN.	Bic#BL11-GR or equal.	5690500-1693236	Cascade School Supplies	No	1 - 12 Count Box	886	BIC USA	BL11 CAS031825	5.54	4908.44				
271	Marker, highlighter. ORANGE.	Bic #BL11-OR or equal.	5690500-1684462	Cascade School Supplies	No	1 - 12 Count Box	825	BIC USA	BL11 CAS031827	5.54	4570.5				
272	Marker, highlighter. PINK.	Bic #BL11-PK or equal.	5690500-1680899	Cascade School Supplies	No	1 - 12 Count Box	766	BIC USA	BL11 CAS031826	5.54	4243.64				
273	Marker, highlighter. YELLOW.	Bic #BL11-YW or equal.	5690500-1684071	Cascade School Supplies	No	1 - 12 Count Box	1672	BIC USA	BL11 CAS026441	5.54	9262.88				
269	Marker, highlighter. BLUE. Bic #BL11-BE or equal.	THIS NOTE APPLIES TO ITEM NOS. 269 through 273. Transparent color that highlights important words or sentences, instant drying, non-toxic, will not penertare paper, wedge-shaped ip for fine or heavy line, barrel color indicates ink color, pocket-style, 12/box. ONE COLOR PER BOX. SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		School Specialty LLC	No	1 - 12 Count Box	809	BIC	BL11-BE	5.71	4619.39		1329756		
270	Marker, highlighter. GREEN.	Bic #BL11-GR or equal.	5690500-1693236	School Specialty LLC	No	1 - 12 Count Box	886	BIC	BL11-GN	5.71	5059.06		1357691		
271	Marker, highlighter. ORANGE.	Bic #BL11-OR or equal.	5690500-1684462	School Specialty LLC	No	1 - 12 Count Box	825	BIC	BL11-OR	5.71	4710.75		1357690		
272	Marker, highlighter. PINK.	Bic #BL11-PK or equal.	5690500-1680899	School Specialty LLC	No	1 - 12 Count Box	766	BIC	BL11-PK	5.71	4373.86		077280		
273	Marker, highlighter. YELLOW.	Bic #BL11-YW or equal.	5690500-1684071	School Specialty LLC	No	1 - 12 Count Box	1672	BIC	BL11-YW	5.71	9547.12		077279		
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
274-275 274	Item/Service Mat, art, pre-cut white, 6 ply, medium weight, no backs. Mat size 16" x 22" to fit art size 12" x 18". 50/pack.	Description STU-ART #MO-16C or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012782		No Bid Yes	иом	Quantity	Provider	Part Number	Price	Total Price	Notes	Supplier Notes	Award Status	Award Notes Reject - incomplete coverage for Lot Items 274 thru 275.
275	Mat, art, pre-cut white, 6 ply, medium weight, no backs. Mat size 22" x 28" to fit art size 18" x 24". 50/pack.	STU-ART #MO-22 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012783	Cascade School Supplies	No	1 - 50 Each Pack	5	Stu-Art	EC22 CAS142933	88.51	442.55		Stu-Art EC22 Sold 25 per Carton		Reject - incomplete coverage for Lot Items 274 thru 275.
274	Mat, art, pre-cut white, 6 ply, medium weight, no backs. Mat size $16" \times 22"$ to fit art size $12" \times 18"$. S0/pack.	STU-ART #MO-16C or equal: IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012782	School Specialty LLC	No	1 - 50 Each Pack	11	STU-ART	MO-16C	57.4	631.4		408482	Awarded	

275	Mat, art, pre-cut white, 6 ply, medium weight, no	STU-ART #MO-22 or equal. IF BIDDING THE APPROVED	1220000-2012783	School Specialty LLC	No	1 - 50 Each	5	STU-ART	MO-22	91.26	456.3		408485		
2/3	backs. Mat size 22" x 28" to fit art size 18" x 24". 50/pack.	PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012783	Scrioor Specialty EEC	NO	Pack	,	310-ARI	1010-22	31.20	430.3		400403	Awarded	
274	Mat, art, pre-cut white, 6 ply, medium weight, no backs. Mat size 16" x 22" to fit art size 12" x 18". 50/pack.	STU-ART #MO-16C or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012782	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Each Pack	11	STU-ART	M016C	69.95	769.45				
275	Mat, art, pre-cut white, 6 ply, medium weight, no backs. Mat size 22" x 28" to fit art size 18" x 24". 50/pack.	STU-ART #MO-22 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	1220000-2012783	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Each Pack	5	STU-ART	MO22	129	645				
			1												
Lot Item Number 276-278	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
276	Pad, legal, 5" x 8", 16-lb. paper, padded, jr. size.	Yellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg, Universal #46200 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145559	Cascade School Supplies	No	12 - 50 Sheet Pads	100	Cascade Brand	022868	3.53	353		Cascade Brand 022868		Reject - did not submit sample for evaluation.
277	Pad, legal, 8 1/2" x 11 3/4", 16-lb. paper, padded, letter size.	Yellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg, Universal #10630 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145540	Cascade School Supplies	No	12 - 50 Sheet Pads	210	Cascade Brand	015876	6.43	1350.3		Cascade Brand 015876		Reject - did not submit sample for evaluation.
278	Pad, legal, 8 1/2" x 14", 16-lb. paper, padded, legal size.	Vellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #40000 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145531	Cascade School Supplies	No	12 - 50 Sheet Pads	38	Cascade Brand	015877	8.22	312.36		Cascade Brand 015877		Reject - did not submit sample for evaluation.
276	Pad, legal, 5" x 8", 16-lb. paper, padded, jr. size.	Yellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #46200 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145559	School Specialty LLC	No	12 - 50 Sheet Pads	100	SCHOOL SMART	027439	5.3	530		027439	Awarded	
277	Pad, legal, 8 1/2" x 11 3/4", 16-lb. paper, padded, letter size.	Vellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg, Universal #10630 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145540	School Specialty LLC	No	12 - 50 Sheet Pads	210	SCHOOL SMART	027430	11.73	2463.3		027430	Awarded	
278	Pad, legal, 8 1/2" x 14", 16-lb. paper, padded, legal size.	Vellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg, Universal #40000 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145531	School Specialty LLC	No	12 - 50 Sheet Pads	38	SCHOOL SMART	027427	16.35	621.3		027427	Awarded	
276	Pad, legal, 5" x 8", 16-lb. paper, padded, jr. size.	Vellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #46200 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145559	John R Green Co	No	12 - 50 Sheet Pads	100	KURTZ BROS-95810	01303	10.21	1021				
277	Pad, legal, 8 1/2" x 11 3/4", 16-lb. paper, padded, letter size.	Yellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #10630 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145540	John R Green Co	No	12 - 50 Sheet Pads	210	KURTZ BROS-98110	01304	14.07	2954.7				
278	Pad, legal, 8 1/2" x 14", 16-lb. paper, padded, legal size.	Yellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #40000 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145531	John R Green Co	No	12 - 50 Sheet Pads	38	KURTZ BROS-98140	01301	17.68	671.84				
276	Pad, legal, 5" x 8", 16-lb. paper, padded, jr. size.	Yellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg, Universal #46200 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145559	Complete Printer Source	No	12 - 50 Sheet Pads	100	Universal	UNV46200	9.99	999				
277	Pad, legal, 8 1/2" x 11 3/4", 16-lb. paper, padded, letter size.	Yellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #10630 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145540	Complete Printer Source	No	12 - 50 Sheet Pads	210	Universal	UNV10630	13.99	2937.9				
278	Pad, legal, 8 1/2" x 14", 16-lb. paper, padded, legal size.	Yellow only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg, Universal #40000 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-1145531	Complete Printer Source	No	12 - 50 Sheet Pads	38	Universal	UNV40000	20.49	778.62				
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
279-281 279	Item/Service Pad, legal, 5" x 8", 16-lb. paper, padded, jr. size.	Description White only, ruled paper, chipborard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg, Universal #46300 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	Commodity Code 5760400-2012410		No Bid	12 - 50 Sheet Pads	Quantity 157	Provider Cascade Brand	Part Number 123687	97ice 3.53	Total Price 554.21	Notes	Supplier Notes Cascade Brand 123687	Award Status	Award Notes Reject - did not submit sample for evaluation.
280	Pad, legal, 8 1/2" x 11 3/4", 16-lb. paper, padded.	White only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #20630 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-2012409	Cascade School Supplies	No	12 - 50 Sheet Pads	279	Cascade Brand	005226	6.42	1791.18		Cascade Brand 005226		Reject - did not submit sample for evaluation.
281	Pad, legal, 8 1/2" x 14", 16-lb. paper, padded.	White only, ruled paper, chipboard backing, perforated for easy removal, 50 sheet/pad, 12 pads/pkg, Universal #45000 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-2012407	Cascade School Supplies	No	12 - 50 Sheet Pads	34	Cascade Brand	022870	8.42	286.28		Cascade Brand 022870		Reject - did not submit sample for evaluation.
279	Pad, legal, 5" x 8", 16-lb. paper, padded, jr. size.	White only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg, Universal #46300 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760400-2012410	School Specialty LLC	No	12 - 50 Sheet Pads	157	SCHOOL SMART	027445	5.3	832.1		027445	Awarded	

280	Pad, legal, 8 1/2" x 11 3/4", 16-lb. paper, padded.	White only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #20630 or equal. SAMPLE = 1 pad. IF	5760400-2012409	School Specialty LLC	No	12 - 50	279	SCHOOL SMART	027433	11.73	3272.67		027433		
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Sheet Pads								Awarded	
		SISSING THE ATTROVES TROOSET, NO SAMELE IS REGULED.												Awarded	
281	Pad, legal, 8 1/2" x 14", 16-lb. paper, padded.	White only, ruled paper, chipboard backing, perforated for easy removal, 50	5760400-2012407	School Specialty LLC	No	12 - 50	34	SCHOOL SMART	027442	16.35	555.9		027442		
		sheets/pad, 12 pads/pkg. Universal #45000 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Sheet Pads								Awarded	
		BIODING THE AFFROVED PRODUCT, NO SAMPLE IS REQUIRED.												Awardeu	
279	Pad, legal, 5" x 8", 16-lb. paper, padded, jr. size.	White only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #46300 or equal. SAMPLE = 1 pad. IF	5760400-2012410	Complete Printer Source	No	12 - 50 Sheet Pads	157	Universal	UNV46300	10.49	1646.93				
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Sileet Paus									
280	Pad, legal, 8 1/2" x 11 3/4", 16-lb. paper, padded.	White only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #20630 or equal. SAMPLE = 1 pad. IF	5760400-2012409	Complete Printer Source	No	12 - 50 Sheet Pads	279	Universal	UNV20630	13.89	3875.31				
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Silectidas									
204	Prof. forcet O. 4 (21) of 411 of 115 or consequently de-	White are address which and health a referred for any and 50	F750400 2042407	Complete Printer		42.50	24	Debrasel	11011/45000	40.00	670.66				
281	Pad, legal, 8 1/2" x 14", 16-lb. paper, padded.	White only, ruled paper, chipboard backing, perforated for easy removal, 50 sheets/pad, 12 pads/pkg. Universal #45000 or equal. SAMPLE = 1 pad. IF	5760400-2012407	Source Source	No	12 - 50 Sheet Pads	34	Universal	UNV45000	19.99	679.66				
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
279	Pad, legal, 5" x 8", 16-lb. paper, padded, jr. size.	White only, ruled paper, chipboard backing, perforated for easy removal, 50	5760400-2012410	John R Green Co	No	12 - 50	157	KURTZ BROS-65810	01320	10.42	1635.94				
	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	sheets/pad, 12 pads/pkg. Universal #46300 or equal. SAMPLE = 1 pad. IF				Sheet Pads	-								
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
280	Pad, legal, 8 1/2" x 11 3/4", 16-lb. paper, padded.	White only, ruled paper, chipboard backing, perforated for easy removal, 50	5760400-2012409	John R Green Co	No	12 - 50	279	KURTZ BROS-68110	01324	16.22	4525.38				
		sheets/pad, 12 pads/pkg. Universal #20630 or equal. SAMPLE = 1 pad. IF				Sheet Pads									
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
281	Pad, legal, 8 1/2" x 14", 16-lb. paper, padded.	White only, ruled paper, chipboard backing, perforated for easy removal, 50	5760400-2012407	John R Green Co	No	12 - 50	34	KURTZ BROS-68140	01321	20.92	711.28				
		sheets/pad, 12 pads/pkg. Universal #45000 or equal. SAMPLE = 1 pad. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Sheet Pads									
		DIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
					<u> </u>		L-				<u> </u>				
Lot Item															
Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
282-303	Item/Service	Description	Commodity Code		No Bid		Quantity	Provider CRAYOLA PREMIER	Part Number	Price	Total Price	Notes	Supplier Notes	Award Status Award Notes	
282	Paint, liquid tempera, 16 oz. BLACK. Crayola Premier #54-1216-051	THIS NOTE APPLIES TO ITEM NOS. 282 through 303. Water soluble, resin- based, non-separating, first quality, plastic translucent squeeze bottle with air-	1220600-1701247	PYRAMID SCHOOL PRODUCTS	No	1 - 16 Ounce	68	CRAYOLA PREMIER	1216-51	2.89	196.52				
	or equal.	tight, flip top sealed cap for easy dispensing, creamy consistency, highly		PRODUCIS		Bottle									
		opaque, intense, uniformly blended pigments that are formulated to dry to a													
		matte finish, will not chip, flake, or bleed through paper, freeze thaw stable, non toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 pint. IF BIDDING THE													
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED. IF SUBMITTING A SAMPLE,												Awarded	
		PLEASE DO NOT SEND BLACK OR WHITE FOR EVALUATION. RED, BLUE, GREEN													
		OR ORANGE IS PREFERRED.													
283	Paint, liquid tempera, 16 oz. BLUE.	Crayola Premier #54-1216-042 or equal.	1220600-1701248	PYRAMID SCHOOL PRODUCTS	No	1 - 16 Ounce	66	CRAYOLA PREMIER	1216-42	2.89	190.74				
283	Paint, liquid tempera, 16 oz. BLUE.	Crayola Premier #54-1216-042 or equal.	1220600-1701248	PYRAMID SCHOOL PRODUCTS	No	1 - 16 Ounce Bottle	66	CRAYOLA PREMIER	1216-42	2.89	190.74				
283	Paint, liquid tempera, 16 oz. BLUE.	Crayola Premier #54-1216-042 or equal.	1220600-1701248		No	Ounce	66	CRAYOLA PREMIER	1216-42	2.89	190.74			Awarded	
283	Paint, liquid tempera, 16 oz. BLUE.	Crayola Premier #54-1216-042 or equal.	1220600-1701248		No	Ounce	66	CRAYOLA PREMIER	1216-42	2.89	190.74			Awarded	
				PRODUCTS		Ounce Bottle								Awarded	
283	Paint, liquid tempera, 16 oz. BLUE. Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-042 or equal. Crayola Premier #54-1216-007 or equal.		PRODUCTS PYRAMID SCHOOL	No No	Ounce Bottle	66	CRAYOLA PREMIER CRAYOLA PREMIER	1216-42 1216-07	2.89	190.74			Awarded	
				PRODUCTS		Ounce Bottle									
				PRODUCTS PYRAMID SCHOOL		Ounce Bottle 1 - 16 Ounce								Awarded Awarded	
				PRODUCTS PYRAMID SCHOOL		Ounce Bottle 1 - 16 Ounce									
284	Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-007 or equal.	1220600-1701255	PRODUCTS PYRAMID SCHOOL PRODUCTS	No	Ounce Bottle 1 - 16 Ounce Bottle	44	CRAYOLA PREMIER	1216-07	2.89	127.16				
			1220600-1701255	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL		Ounce Bottle 1 - 16 Ounce Bottle 1 - 16									
284	Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-007 or equal.	1220600-1701255	PRODUCTS PYRAMID SCHOOL PRODUCTS	No	Ounce Bottle 1 - 16 Ounce Bottle 1 - 16 Ounce	44	CRAYOLA PREMIER	1216-07	2.89	127.16				
284	Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-007 or equal.	1220600-1701255	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL	No	Ounce Bottle 1 - 16 Ounce Bottle 1 - 16	44	CRAYOLA PREMIER	1216-07	2.89	127.16				
284	Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-007 or equal.	1220600-1701255	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL	No	Ounce Bottle 1 - 16 Ounce Bottle 1 - 16 Ounce	44	CRAYOLA PREMIER	1216-07	2.89	127.16			Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal.	1220600-1701255 1220600-1701251	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44	CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44	2.89	127.16			Awarded	
284	Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-007 or equal.	1220600-1701255 1220600-1701251	PRODUCTS PYRAMIO SCHOOL PRODUCTS PYRAMIO SCHOOL PRODUCTS	No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44	CRAYOLA PREMIER	1216-07	2.89	127.16		TO BE DISCONTINUED	Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal.	1220600-1701255 1220600-1701251	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44	CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44	2.89	127.16		TO BE DISCONTINUED	Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal.	1220600-1701255 1220600-1701251	PRODUCTS PYRAMIO SCHOOL PRODUCTS PYRAMIO SCHOOL PRODUCTS	No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44	CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44	2.89	127.16		TO BE DISCONTINUED	Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal.	1220600-1701255 1220600-1701251	PRODUCTS PYRAMIO SCHOOL PRODUCTS PYRAMIO SCHOOL PRODUCTS	No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44	CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44	2.89	127.16		TO BE DISCONTINUED	Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal.	1220600-1701255 1220600-1701251 1220600-1701252	PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	66	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74		TO BE DISCONTINUED	Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal.	1220600-1701255 1220600-1701251 1220600-1701252	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44	CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44	2.89	127.16		TO BE DISCONTINUED	Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal.	1220600-1701255 1220600-1701251 1220600-1701252	PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	66	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74		TO BE DISCONTINUED	Awarded Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal.	1220600-1701255 1220600-1701251 1220600-1701252	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	66	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74		TO BE DISCONTINUED	Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal.	1220600-1701255 1220600-1701251 1220600-1701252	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	66	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74		TO BE DISCONTINUED	Awarded Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA. Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal. Crayola Premier #54-1216-036 or equal.	1220600-1701255 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44 44 66 66 55 55	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74 106.93		TO BE DISCONTINUED	Awarded Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal.	1220600-1701255 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS	No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	66	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74		TO BE DISCONTINUED	Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA. Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal. Crayola Premier #54-1216-036 or equal.	1220600-1701255 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44 44 66 66 55 55	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74 106.93		TO BE DISCONTINUED	Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA. Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal. Crayola Premier #54-1216-036 or equal.	1220600-1701255 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS	No No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44 44 66 66 55 55	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74 106.93		TO BE DISCONTINUED	Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA. Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal. Crayola Premier #54-1216-036 or equal.	1220600-1701255 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS	No No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44 44 66 66 55 55	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74 106.93		TO BE DISCONTINUED	Awarded Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA. Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal. Crayola Premier #54-1216-036 or equal.	1220600-1701251 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS	No No No	Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle 1-16 Ounce Bottle	44 44 66 66 55 55	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74 106.93		TO BE DISCONTINUED	Awarded Awarded Awarded	
284	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA. Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal. Crayola Premier #54-1216-036 or equal.	1220600-1701251 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No No	Ounce Bottle 1-16 Ounce Bottle	44 44 66 66 55 55	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69	2.89	127.16 190.74 106.93		TO BE DISCONTINUED	Awarded Awarded Awarded	
284 285 286 287	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA. Paint, liquid tempera, 16 oz. ORANGE. Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal. Crayola Premier #54-1216-036 or equal. Crayola Premier #54-1216-038 or equal.	1220600-1701251 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS	No No No No	Ounce Bottle 1-16 Ounce Bottle	44 44 66 55 55 55 55 55 55 55 55 55 55 55 55	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69 1216-36	2.89	127.16 190.74 106.93		TO BE DISCONTINUED	Awarded Awarded Awarded	
284 285 286 287	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA. Paint, liquid tempera, 16 oz. ORANGE. Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal. Crayola Premier #54-1216-036 or equal. Crayola Premier #54-1216-038 or equal.	1220600-1701251 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No No No	Ounce Bottle 1-16 Ounce Bottle	44 44 66 55 55 55 55 55 55 55 55 55 55 55 55	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69 1216-36	2.89	127.16 190.74 106.93		TO BE DISCONTINUED	Awarded Awarded Awarded	
284 285 286 287	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA. Paint, liquid tempera, 16 oz. ORANGE. Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal. Crayola Premier #54-1216-036 or equal. Crayola Premier #54-1216-038 or equal.	1220600-1701251 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No No No	Ounce Bottle 1-16 Ounce Bottle	44 44 66 55 55 55 55 55 55 55 55 55 55 55 55	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69 1216-36	2.89	127.16 190.74 106.93		TO BE DISCONTINUED	Awarded Awarded Awarded Awarded	
284 285 286 287	Paint, liquid tempera, 16 oz. BROWN. Paint, liquid tempera, 16 oz. GREEN. Paint, liquid tempera, 16 oz. MAGENTA. Paint, liquid tempera, 16 oz. ORANGE. Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-007 or equal. Crayola Premier #54-1216-044 or equal. Crayola Premier #54-1216-069 or equal. Crayola Premier #54-1216-036 or equal. Crayola Premier #54-1216-038 or equal.	1220600-1701251 1220600-1701251 1220600-1701252 1220600-1701254	PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No No No	Ounce Bottle 1-16 Ounce Bottle	44 44 66 55 55 55 55 55 55 55 55 55 55 55 55	CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER CRAYOLA PREMIER	1216-07 1216-44 1216-69 1216-36	2.89	127.16 190.74 106.93		TO BE DISCONTINUED	Awarded Awarded Awarded Awarded	

290	Paint, liquid tempera, 16 oz. VIOLET.	Crayola Premier #54-1216-040 or equal.	1220600-1701256	PYRAMID SCHOOL PRODUCTS	No	1 - 16 Ounce	64	CRAYOLA PREMIER	1216-40	2.89	184.96			
						Bottle							Awarded	
								CRAYOLA PREMIER						
291	Paint, liquid tempera, 16 oz. WHITE.	Crayola Premier #54-1216-053 or equal.	1220600-1/01253	PYRAMID SCHOOL PRODUCTS	No	1 - 16 Ounce	88	CRAYOLA PREMIER	1216-53	2.89	254.32			
						Bottle							Awarded	
292	Paint, liquid tempera, 16 oz. YELLOW.	Crayola Premier #54-1216-034 or equal.	1220600-1/01250	PYRAMID SCHOOL PRODUCTS	No	1 - 16 Ounce	71	CRAYOLA PREMIER	1216-34	2.89	205.19			
						Bottle							Awarded	
293	Paint, liquid tempera, 32 oz. BLACK.	Crayola Premier #54-1232-051 or equal.	1220600-1701259	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce	73	CRAYOLA PREMIER	1232-51	4.59	335.07			
						Bottle							Awarded	
													Awarucu	
294	Paint, liquid tempera, 32 oz. BLUE.	Crayola Premier #54-1232-042 or equal.	1220600-1701260	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce	65	CRAYOLA PREMIER	1232-42	4.59	298.35			
						Bottle							A	
1													Awarded	
295	Paint, liquid tempera, 32 oz. BROWN.	Crayola Premier #54-1232-007 or equal.	1220600-1701266	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce	44	CRAYOLA PREMIER	1232-07	4.59	201.96			
1				FRODUCIS		Bottle								
1													Awarded	
1														
296	Paint, liquid tempera, 32 oz. GREEN.	Crayola Premier #54-1232-044 or equal.	1220600-1701263	PYRAMID SCHOOL	No	1 - 32	61	CRAYOLA PREMIER	1232-44	4.59	279.99			
				PRODUCTS		Ounce Bottle								
1													Awarded	
1														
297	Paint, liquid tempera, 32 oz. MAGENTA.	Crayola Premier #54-1232-069 or equal.	1220600-1701267		No	1 - 32	54	CRAYOLA PREMIER	1232-69	4.59	247.86	TO BE DISCONTINUED		
				PRODUCTS		Ounce Bottle								
													Awarded	
298	Paint, liquid tempera, 32 oz. ORANGE.	Crayola Premier #54-1232-036 or equal.	1220600-1701264	PYRAMID SCHOOL	No	1 - 32	61	CRAYOLA PREMIER	1232-69	4.59	279.99			
				PRODUCTS		Ounce Bottle								
													Awarded	
299	Paint, liquid tempera, 32 oz. RED.	Crayola Premier #54-1232-038 or equal.	1220600-1701261	PYRAMID SCHOOL	No	1 - 32	104	CRAYOLA PREMIER	1232-38	4.59	477.36			
				PRODUCTS		Ounce Bottle								
						Dottic							Awarded	
300	Paint, liquid tempera, 32 oz. TURQUOISE.	Crayola Premier #54-1232-048 or equal.	1220600-1701258	PYRAMID SCHOOL	No	1 - 32	62	CRAYOLA PREMIER	1232-48	4.59	284.58			
		·		PRODUCTS		Ounce Bottle								
1						bottle							Awarded	
1														
301	Paint, liquid tempera, 32 oz. VIOLET.	Crayola Premier #54-1232-040 or equal.	1220600-1701265	PYRAMID SCHOOL	No	1 - 32	57	CRAYOLA PREMIER	1232-40	4.59	261.63			
				PRODUCTS	_	Ounce								
						Bottle							Awarded	
1														
302	Paint, liquid tempera, 32 oz. WHITE.	Crayola Premier #54-1232-053 or equal.	1220600-1701269	PYRAMID SCHOOL	No	1 - 32	111	CRAYOLA PREMIER	1232-53	4.59	509.49			
302	runs, nqua competa, 32 02. WHILE.	Crayou resince 154-1252-055 or equal.		PRODUCTS		Ounce		- STATE OF THE INVIER	1232-33	4.55	509.49			
1						Bottle							Awarded	
1														
303	Paint, liquid tempera, 32 oz. YELLOW.	Crayola Premier #54-1232-034 or equal.	1220600-1701262	PYRAMID SCHOOL	No	1 - 32	71	CRAYOLA PREMIER	1232-34	4.59	325.89			
303	raint, inquia tempera, 32 UZ. TELLOVV.	Crayola Fremier #34-1252-034 Of equal.	1220000-1/01262	PRODUCTS	140	Ounce	/1	CARTOLA PACIVILER	1432*34	4.39	323.09			
1						Bottle							Awarded	
1														
202	Daint liquid tempera 16 cm DI ACV County	THIS NOTE ADDITISE TO ITEM NOS. 363 through 363 Michael	1220600 47047 :-	Cohool Constitution	N-	1	60	CDAYOLA	E4 1310 054	2.00	202.54	007830		
282	Paint, liquid tempera, 16 oz. BLACK. Crayola Premier #54-1216-051	based, non-separating, first quality, plastic translucent squeeze bottle with air-	1220600-1/01247	school specialty LLC	NO	1 - 16 Ounce	68	CRAYOLA	54-1216-051	2.98	202.64	00/830		
	or equal.	tight, flip top sealed cap for easy dispensing, creamy consistency, highly opaque, intense, uniformly blended pigments that are formulated to dry to a				Bottle								
		matte finish, will not chip, flake, or bleed through paper, freeze thaw stable,												
		non toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 pint. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. IF SUBMITTING A SAMPLE,												
		PLEASE DO NOT SEND BLACK OR WHITE FOR EVALUATION. RED, BLUE, GREEN OR ORANGE IS PREFERRED.												
		ON OWNIGE STREET ENNED.												

283	Paint, liquid tempera, 16 oz. BLUE.	Crayola Premier #54-1216-042 or equal.	1220600-1701248 School Specialty LLC	No	1 - 16 Ounce Bottle	66	CRAYOLA	54-1216-042	2.98	196.68		007833		
284	Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-007 or equal.	1220600-1701255 School Specialty LLC	No	1 - 16 Ounce Bottle	44	CRAYOLA	54-1216-007	2.98	131.12		007836		
285	Paint, liquid tempera, 16 oz. GREEN.	Crayola Premier #54-1216-044 or equal.	1220600-1701251 School Specialty LLC	No	1 - 16 Ounce Bottle	66	CRAYOLA	54-1216-044	2.98	196.68		007842		
286	Paint, liquid tempera, 16 oz. MAGENTA.	Crayola Premier #54-1216-069 or equal.	1220600-1701252 School Specialty LLC	No	1 - 16 Ounce Bottle	37	CRAYOLA	54-1216-069	2.98	110.26		007848		
287	Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-036 or equal.	1220600-1701254 School Specialty LLC	No	1 - 16 Ounce Bottle	55	CRAYOLA	54-1216-036	2.98	163.9		007851		
288	Paint, liquid tempera, 16 oz. RED.	Crayola Premier #54-1216-038 or equal.	1220600-1701249 School Specialty LLC	No	1 - 16 Ounce Bottle	51	CRAYOLA	54-1216-038	2.98	151.98		007857		
289	Paint, liquid tempera, 16 oz. TURQUOISE.	Crayola Premier #54-1216-048 or equal.	1220600-1701257 School Specialty LLC	No	1 - 16 Ounce Bottle	37	CRAYOLA	54-1216-048	2.98	110.26		007860		
290	Paint, liquid tempera, 16 oz. VIOLET.	Crayola Premier #54-1216-040 or equal.	1220600-1701256 School Specialty LLC	No	1 - 16 Ounce Bottle	64	CRAYOLA	54-1216-040	2.98	190.72		007863		
291	Paint, liquid tempera, 16 oz. WHITE.	Crayola Premier #54-1216-053 or equal.	1220600-1701253 School Specialty LLC	No	1 - 16 Ounce Bottle	88	CRAYOLA	54-1216-053	2.98	262.24		007866		
292	Paint, liquid tempera, 16 oz. YELLOW.	Crayola Premier #54-1216-034 or equal.	1220600-1701250 School Specialty LLC	No	1 - 16 Ounce Bottle	71	CRAYOLA	54-1216-034	2.98	211.58		007869		
293	Paint, liquid tempera, 32 oz. BLACK.	Crayola Premier #54-1232-051 or equal.	1220600-1701259 School Specialty LLC	No	1 - 32 Ounce Bottle	73	CRAYOLA	54-1232-051	5.59	408.07		007875		
294	Paint, liquid tempera, 32 oz. BLUE.	Crayola Premier #54-1232-042 or equal.	1220600-1701260 School Specialty LLC	No	1 - 32 Ounce Bottle	65	CRAYOLA	54-1232-042	5.59	363.35		007878		
295	Paint, liquid tempera, 32 oz. BROWN.	Crayola Premier #54-1232-007 or equal.	1220600-1701266 School Specialty LLC	No	1 - 32 Ounce Bottle	44	CRAYOLA	54-1232-007	5.59	245.96		007881		
296	Paint, liquid tempera, 32 oz. GREEN.	Crayola Premier #54-1232-044 or equal.	1220600-1701263 School Specialty LLC	No	1 - 32 Ounce Bottle	61	CRAYOLA	54-1232-044	5.59	340.99		007887		
297	Paint, liquid tempera, 32 oz. MAGENTA.	Crayola Premier #54-1232-069 or equal.	1220600-1701267 School Specialty LLC	No	1 - 32 Ounce Bottle	54	CRAYOLA	54-1232-069	0	0	SEE ATTACHED MFG DISC. LETTER	MFG DISCONTINUED		

298	Paint, liquid tempera, 32 oz. ORANGE.	Crayola Premier #54-1232-036 or equal.	1220600-1701264	School Specialty LLC	No	1 - 32 Ounce Bottle	61	CRAYOLA	54-1232-036	5.59	340.99	007893		
299	Paint, liquid tempera, 32 oz. RED.	Crayola Premier #54-1232-038 or equal.	1220600-1701261	School Specialty LLC	No	1 - 32 Ounce Bottle	104	CRAYOLA	54-1232-038	5.59	581.36	007899		
300	Paint, liquid tempera, 32 oz. TURQUOISE.	Crayola Premier #54-1232-048 or equal.	1220600-1701258	School Specialty LLC	No	1 - 32 Ounce Bottle	62	CRAYOLA	54-1232-048	5.59	346.58	007902		
301	Paint, liquid tempera, 32 oz. VIOLET.	Crayola Premier #54-1232-040 or equal.	1220600-1701265	School Specialty LLC	No	1 - 32 Ounce Bottle	57	CRAYOLA	54-1232-040	5.59	318.63	007905		
302	Paint, liquid tempera, 32 oz. WHITE.	Crayola Premier #54-1232-053 or equal.		School Specialty LLC		1 - 32 Ounce Bottle	111	CRAYOLA	54-1232-053	5.59	620.49	007908		
303	Paint, liquid tempera, 32 oz. YELLOW.			School Specialty LLC		1 - 32 Ounce Bottle	71	CRAYOLA	54-1232-034	5.59	396.89	007911		
282	Paint, liquid tempera, 16 oz. BLACK. Crayola Premier #54-1216-051 or equal.	THIS NOTE APPLIES TO ITEM NOS. 282 through 303. Water soluble, resin- based, non-separating, first quality, plastic transducers squeeze bottle with air- tight. filp top sealed cap for easy dispensing, creamy consistency, highly opaque, intense, uniformly blended pigments that are formulated to dry to a matte finish, will not chip, flake, or bleed through paper, freeze thaw stable, non toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 pint. H BIDDING THE APPROVED PROUCT, NO SAMPLE IS REQUIRED. IF SUBMITTING A SAMPLE, PLEASE DO NOT SEND BLACK OR WHITE FOR EVALUATION. RED, BLUE, GREEN OR ORANGE IS PREFERRED.		NATIONAL ART & SCHOOL SUPPLIES		1 - 16 Ounce Bottle	68	CRAYOLA	1216-51	3.88	263.84			
283	Paint, liquid tempera, 16 oz. BLUE.	Crayola Premier #54-1216-042 or equal.	1220600-1701248	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 16 Ounce Bottle	66	CRAYOLA	1216-042	3.88	256.08			
284	Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-007 or equal.	1220600-1701255	NATIONAL ART & SCHOOL SUPPLIES		1 - 16 Ounce Bottle	44	CRAYOLA	1216-007	3.88	170.72			
285	Paint, liquid tempera, 16 oz. GREEN.	Crayola Premier #54-1216-044 or equal.	1220600-1701251	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 16 Ounce Bottle	66	CRAYOLA	1216-044	3.88	256.08			
286	Paint, liquid tempera, 16 oz. MAGENTA.	Crayola Premier #54-1216-069 or equal.	1220600-1701252	NATIONAL ART & SCHOOL SUPPLIES		1 - 16 Ounce Bottle	37	CRAYOLA	1216-069	3.88	143.56			
287	Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-036 or equal.	1220600-1701254	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 16 Ounce Bottle	55	CRAYOLA	1216-036	3.88	213.4			
288	Paint, liquid tempera, 16 oz. RED.	Crayola Premier #54-1216-038 or equal.		NATIONAL ART & SCHOOL SUPPLIES	No	1 - 16 Ounce Bottle	51	CRAYOLA	1216-038	3.88	197.88			
289	Paint, liquid tempera, 16 oz. TURQUOISE.	Crayola Premier #54-1216-048 or equal.	1220600-1701257	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 16 Ounce Bottle	37	CRAYOLA	1216-048	3.88	143.56			
290	Paint, liquid tempera, 16 oz. VIOLET.	Crayola Premier #54-1216-040 or equal.	1220600-1701256	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 16 Ounce Bottle	64	CRAYOLA	1216-040	3.88	248.32			

291	Paint, liquid tempera, 16 oz. WHITE.	Crayola Premier #54-1216-053 or equal. 122060	0-1701253 NATIONAL ART & SCHOOL SUPPLIES	 1 - 16 Ounce Bottle	88 CRAY	DLA 12:	16-053	3.88	341.44		
292	Paint, liquid tempera, 16 oz. YELLOW.	Crayola Premier #54-1216-034 or equal. 122060	0-1701250 NATIONAL ART & SCHOOL SUPPLIES	1 - 16 Ounce Bottle	71 CRAY	DLA 12:	16-034	3.88	275.48		
293	Paint, liquid tempera, 32 oz. BLACK.	Crayola Premier #54-1232-051 or equal. 122060	0-1701259 NATIONAL ART & SCHOOL SUPPLIES	 1 - 32 Ounce Bottle	73 CRAY	DLA 12:	32-051	7.01	511.73		
294	Paint, liquid tempera, 32 oz. BLUE.	Crayola Premier #54-1232-042 or equal. 122060	0-1701260 NATIONAL ART & SCHOOL SUPPLIES	1 - 32 Ounce Bottle	65 CRAY	DLA 12:	32-042	7.01	455.65		
295	Paint, liquid tempera, 32 oz. BROWN.		0-1701266 NATIONAL ART & SCHOOL SUPPLIES	 1 - 32 Ounce Bottle	44 CRAY		32-007	7.01	308.44		
296	Paint, liquid tempera, 32 oz. GREEN.	Crayola Premier #54-1232-044 or equal. 122060	0-1701263 NATIONAL ART & SCHOOL SUPPLIES	1 - 32 Ounce Bottle	61 CRAY	DLA 12:	32-044	7.01	427.61		
297	Paint, liquid tempera, 32 oz. MAGENTA.		0-1701267 NATIONAL ART & SCHOOL SUPPLIES	 1 - 32 Ounce Bottle	54 CRAY	DLA 12:	32-069	7.01	378.54		
298	Paint, liquid tempera, 32 oz. ORANGE.	Crayola Premier #54-1232-036 or equal. 122060	0-1701264 NATIONAL ART & SCHOOL SUPPLIES	1 - 32 Ounce Bottle	61 CRAY	DLA 12:	32-036	7.01	427.61		
299	Paint, liquid tempera, 32 oz. RED.	Crayola Premier #54-1232-038 or equal. 122060	0-1701261 NATIONAL ART & SCHOOL SUPPLIES	 1 - 32 Ounce Bottle	104 CRAY	DLA 12:	32-038	7.01	729.04		
300	Paint, liquid tempera, 32 oz. TURQUOISE.	Crayola Premier #54-1232-048 or equal. 122060	0-1701258 NATIONAL ART & SCHOOL SUPPLIES	 1 - 32 Ounce Bottle	62 CRAY	DLA 12:	32-048	7.01	434.62		
301	Paint, liquid tempera, 32 oz. VIOLET.	Crayola Premier #54-1232-040 or equal. 122060	0-1701265 NATIONAL ART & SCHOOL SUPPLIES	 1 - 32 Ounce Bottle	57 CRAY	DLA 12:	32-040	7.01	399.57		
302	Paint, liquid tempera, 32 oz. WHITE.	Crayola Premier #54-1232-053 or equal. 122060	0-1701268 NATIONAL ART & SCHOOL SUPPLIES	1 - 32 Ounce Bottle	111 CRAY	DLA 12:	32-053	7.01	778.11		
303	Paint, liquid tempera, 32 oz. YELLOW.		0-1701262 NATIONAL ART & SCHOOL SUPPLIES	1 - 32 Ounce Bottle	71 CRAY			7.01	497.71		
282	Paint, liquid tempera, 16 oz. BLACK. Crayola Premier #54-1216-051 or equal.	THIS NOTE APPLIES TO ITEM NOS. 282 through 303. Water soluble, resinbased, non-separating, first quality, plastic translucent squeeze bottle with airtight, flip top sealed cap for easy dispensing, creamy consistency, highly opaque, intense, uniformly blended pigments that are formulated to dry to a matte finish, will not chip. flake, or bleed through paper, freeze than stable, non toxic AP Seal, conforms to ASTM D4236. SAMPIE = 1 pint. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. IF SUBMITTING A SAMPLE, PLEASE DO NOT SEND BLACK OR WHITE FOR EVALUATION. RED, BLUE, GREEN OR ORANGE IS PREFERRED.	0-1701247 Complete Printer Source	1 - 16 Ounce Bottle	68 Cray	ola CYOS4	41216051	5.99	407.32		
283	Paint, liquid tempera, 16 oz. BLUE.	Crayola Premier #54-1216-042 or equal. 122060	0-1701248 Complete Printer Source	1 - 16 Ounce Bottle	66 Cray	ola CYO54	41216042	5.99	395.34		

204	Daint liquid tempera 15 on DDOWN	Cravela Promise HEA 1215 007 or agual	1220000 1701255	Complete Brinter	No	1 16	44	Cravala	CV0541316007	F 00	262.56			
284	Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-007 or equal.	1220600-1701255	Complete Printer Source	No	1 - 16 Ounce Bottle	44	Crayola	CYO541216007	5.99	263.56			
285	Paint, liquid tempera, 16 oz. GREEN.	Crayola Premier #54-1216-044 or equal.	1220600-1701251	Complete Printer Source	No	1 - 16 Ounce Bottle	66	Crayola	CYO541216044	5.99	395.34			
286	Paint, liquid tempera, 16 oz. MAGENTA.	Crayola Premier #54-1216-069 or equal.	1220600-1701252	Complete Printer Source	No	1 - 16 Ounce Bottle	37	Crayola	CYO541216069	5.99	221.63			
287	Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-036 or equal.	1220600-1701254	Complete Printer Source	No	1 - 16 Ounce Bottle	55	Crayola	CYO541216036	5.99	329.45			
288	Paint, liquid tempera, 16 oz. RED.	Crayola Premier #54-1216-038 or equal.	1220600-1701249	Complete Printer Source	No	1 - 16 Ounce Bottle	51	Crayola	CYO541216038	5.99	305.49			
289	Paint, liquid tempera, 16 oz. TURQUOISE.	Crayola Premier #54-1216-048 or equal.	1220600-1701257	Complete Printer Source	No	1 - 16 Ounce Bottle	37	Crayola	CYO541216048	5.99	221.63			
290	Paint, liquid tempera, 16 oz. VIOLET.	Crayola Premier #54-1216-040 or equal.	1220600-1701256	Complete Printer Source	No	1 - 16 Ounce Bottle	64	Crayola	CYO541216040	5.99	383.36			
291	Paint, liquid tempera, 16 oz. WHITE.	Crayola Premier #54-1216-053 or equal.	1220600-1701253	Complete Printer Source	No	1 - 16 Ounce Bottle	88	Crayola	CYO541216053	5.99	527.12			
292	Paint, liquid tempera, 16 oz. YELLOW.	Crayola Premier #54-1216-034 or equal.	1220600-1701250	Complete Printer Source	No	1 - 16 Ounce Bottle	71	Crayola	CYO541216034	5.99	425.29			
293	Paint, liquid tempera, 32 oz. BLACK.	Crayola Premier #54-1232-051 or equal.	1220600-1701259	Complete Printer Source	No	1 - 32 Ounce Bottle	73	Crayola	CY0541232051	5.99	437.27			
294	Paint, liquid tempera, 32 oz. BLUE.	Crayola Premier #54-1232-042 or equal.	1220600-1701260	Complete Printer Source	No	1 - 32 Ounce Bottle	65	Crayola	CYO541232042	9.99	649.35			
295	Paint, liquid tempera, 32 oz. BROWN.	Crayola Premier #54-1232-007 or equal.	1220600-1701266	Complete Printer Source	No	1 - 32 Ounce Bottle	44	Crayola	CYO541232007	9.99	439.56			
296	Paint, liquid tempera, 32 oz. GREEN.	Crayola Premier #54-1232-044 or equal.	1220600-1701263	Complete Printer Source	No	1 - 32 Ounce Bottle	61	Crayola	CYO541232044	9.99	609.39			
297	Paint, liquid tempera, 32 oz. MAGENTA.	Crayola Premier #54-1232-069 or equal.	1220600-1701267	Complete Printer Source	No	1 - 32 Ounce Bottle	54	Crayola	CYO541232069	9.99	539.46			
298	Paint, liquid tempera, 32 oz. ORANGE.	Crayola Premier #54-1232-036 or equal.	1220600-1701264	Complete Printer Source	No	1 - 32 Ounce Bottle	61	Crayola	CYO541232036	9.99	609.39			

				1				1			1		-	
299	Paint, liquid tempera, 32 oz. RED.	Crayola Premier #54-1232-038 or equal.	1220600-1701261	Complete Printer Source	No	1 - 32 Ounce Bottle	104	Crayola	CYO541232038	9.99	1038.96			
300	Paint, liquid tempera, 32 oz. TURQUOISE.	Crayola Premier #54-1232-048 or equal.	1220600-1701258	Complete Printer Source	No	1 - 32 Ounce Bottle	62	Crayola	CYO541232048	9.99	619.38			
301	Paint, liquid tempera, 32 oz. VIOLET.	Crayola Premier #54-1232-040 or equal.	1220600-1701265	Complete Printer Source	No	1 - 32 Ounce Bottle	57	Crayola	CYO541232040	9.99	569.43			
302	Paint, liquid tempera, 32 oz. WHITE.	Crayola Premier #54-1232-053 or equal.	1220600-1701268	Complete Printer Source	No	1 - 32 Ounce Bottle	111	Crayola	CYO541232053	9.99	1108.89			
303	Paint, liquid tempera, 32 oz. YELLOW.	Crayola Premier #54-1232-034 or equal.	1220600-1701262	Complete Printer Source	No	1 - 32 Ounce Bottle	71	Crayola	CYO541232034	9.99	709.29			
282	Paint, liquid tempera, 16 oz. BLACK. Crayola Premier #54-1216-051 or equal.	THIS NOTE APPLIES TO ITEM NOS. 282 through 303. Water soluble, resin- based, non-separating, first quality, plastic translucent squeeze bottle with air- tight, fill pto sealed cap for easy dispensing, creamy consistency, lightly opaque, intense, uniformly blended pigments that are formulated to dry to a matte finish, will not chip, false, or bleded through paper, freeze than yat bale, non toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 pint. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE; IS REQUIRED. IF SUBMITTING A SAMPLE, PLEASE DO NOT SEND BLACK OR WHITE FOR EVALUATION. RED, BLUE, GREEN OR ORANGE IS PREFERRED.		John R Green Co	No	1 - 16 Ounce Bottle	68	CRAYOLA-1216	43643	5.81	395.08			
283	Paint, liquid tempera, 16 oz. BLUE.	Crayola Premier #54-1216-042 or equal.	1220600-1701248	John R Green Co	No	1 - 16 Ounce Bottle	66	CRAYOLA-1216	43626	5.81	383.46			
284	Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-007 or equal.	1220600-1701255	John R Green Co	No	1 - 16 Ounce Bottle	44	CRAYOLA-1216	43637	5.81	255.64			
285	Paint, liquid tempera, 16 oz. GREEN.	Crayola Premier #54-1216-044 or equal.	1220600-1701251	John R Green Co	No	1 - 16 Ounce Bottle	66	CRAYOLA-1216	43622	5.81	383.46			
286	Paint, liquid tempera, 16 oz. MAGENTA.	Crayola Premier #54-1216-069 or equal.	1220600-1701252	John R Green Co	No	1 - 16 Ounce Bottle	37	CRAYOLA-1216	43633	5.81	214.97			
287	Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-036 or equal.	1220600-1701254	John R Green Co	No	1 - 16 Ounce Bottle	55	CRAYOLA-1216	43617	5.81	319.55			
288	Paint, liquid tempera, 16 oz. RED.	Crayola Premier #54-1216-038 or equal.	1220600-1701249	John R Green Co	No	1 - 16 Ounce Bottle	51	CRAYOLA-1216	43611	5.97	304.47			
289	Paint, liquid tempera, 16 oz. TURQUOISE.	Crayola Premier #54-1216-048 or equal.	1220600-1701257	John R Green Co	No	1 - 16 Ounce Bottle	37	CRAYOLA-1216	43627	5.81	214.97			
290	Paint, liquid tempera, 16 oz. VIOLET.		1220600-1701256	John R Green Co	No	1 - 16 Ounce Bottle	64	CRAYOLA-1216	43631	5.81	371.84			
291	Paint, liquid tempera, 16 oz. WHITE.	Crayola Premier #54-1216-053 or equal.	1220600-1701253	John R Green Co	No	1 - 16 Ounce Bottle	88	CRAYOLA-1216	43641	5.81	511.28			

292	Paint, liquid tempera, 16 oz. YELLOW.	Crayola Premier #54-1216-034 or equal.	1220600-1701250	John R Green Co	No	1 - 16 Ounce Bottle	71	CRAYOLA-1216	43620	5.81	412.51		
293	Paint, liquid tempera, 32 oz. BLACK.	Crayola Premier #54-1232-051 or equal.	1220600-1701259	John R Green Co	No	1 - 32 Ounce Bottle	73	CRAYOLA-1232	43693	9.99	729.27		
294	Paint, liquid tempera, 32 oz. BLUE.	Crayola Premier #54-1232-042 or equal.	1220600-1701260	John R Green Co	No	1 - 32 Ounce Bottle	65	CRAYOLA-1232	43676	9.99	649.35		
295	Paint, liquid tempera, 32 oz. BROWN.	Crayola Premier #54-1232-007 or equal.	1220600-1701266	John R Green Co	No	1 - 32 Ounce Bottle	44	CRAYOLA-1232	43687	9.99	439.56		
296	Paint, liquid tempera, 32 oz. GREEN.	Crayola Premier #54-1232-044 or equal.	1220600-1701263	John R Green Co	No	1 - 32 Ounce Bottle	61	CRAYOLA-1232	43672	9.99	609.39		
297	Paint, liquid tempera, 32 oz. MAGENTA.	Crayola Premier #54-1232-069 or equal.	1220600-1701267	John R Green Co	No	1 - 32 Ounce Bottle	54	CRAYOLA-1216	43633	11.62	627.48	SIZE SPEC. UNAVAILABLE SUBSTITUTE 160Z	
298	Paint, liquid tempera, 32 oz. ORANGE.	Crayola Premier #54-1232-036 or equal.	1220600-1701264	John R Green Co	No	1 - 32 Ounce Bottle	61	CRAYOLA-1232	43667	9.99	609.39		
299	Paint, liquid tempera, 32 oz. RED.	Crayola Premier #54-1232-038 or equal.	1220600-1701261	John R Green Co	No	1 - 32 Ounce Bottle	104	CRAYOLA-1232	43661	9.99	1038.96		
300	Paint, liquid tempera, 32 oz. TURQUOISE.	Crayola Premier #54-1232-048 or equal.	1220600-1701258	John R Green Co	No	1 - 32 Ounce Bottle	62	CRAYOLA-1232	43677	9.99	619.38		
301	Paint, liquid tempera, 32 oz. VIOLET.	Crayola Premier #54-1232-040 or equal.	1220600-1701265	John R Green Co	No	1 - 32 Ounce Bottle	57	CRAYOLA-1232	43681	9.99	569.43		
302	Paint, liquid tempera, 32 oz. WHITE.	Crayola Premier #54-1232-053 or equal.	1220600-1701268	John R Green Co	No	1 - 32 Ounce Bottle	111	CRAYOLA-1232	43691	9.99	1108.89		
303	Paint, liquid tempera, 32 oz. YELLOW.	Crayola Premier #54-1232-034 or equal.	1220600-1701262	John R Green Co	No	1 - 32 Ounce Bottle	71	CRAYOLA-1232	43670	9.99	709.29		
282	Paint, liquid tempera, 16 oz. BLACK. Crayola Premier #54-1216-051 or equal.	THIS NOTE APPLIES TO ITEM NOS. 282 through 303. Water soluble, resinbased, non-separating, first quality, plastic translucent squeeze bottle with airtight, flip top sealed cap for easy dispensing, creamy consistency, highly opaque, intense, uniformly blended pigments that are formulated to dry to a matte finish, will not thip, flake, or bleed through paper, freeze than stable, not toxic AP Seal, conforms to ASTM D4236. SAMPLE = 1 pini. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. IF SUBMITTING A SAMPLE, PLEASE DO NOT SEND BLACK OR WHITE FOR EVALUATION. RED, BLUE, GREEN OR ORANGE IS PREFERRED.		Cascade School Supplies	No	1 - 16 Ounce Bottle	68	Crayola	121651 CAS131403	6.62	450.16		
283	Paint, liquid tempera, 16 oz. BLUE.	Crayola Premier #54-1216-042 or equal.	1220600-1701248	Cascade School Supplies	No	1 - 16 Ounce Bottle	66	Crayola	121642 CAS131407	6.62	436.92		
284	Paint, liquid tempera, 16 oz. BROWN.	Crayola Premier #54-1216-007 or equal.	1220600-1701255	Cascade School Supplies	No	1 - 16 Ounce Bottle	44	Crayola	121607 CAS131412	6.62	291.28		

285	Paint, liquid tempera, 16 oz. GREEN.	Crayola Premier #54-1216-044 or equal.	1220600-1701251	Cascade School	No	1 - 16	66	Crayola	121644	6.62	436.92			
				Supplies		Ounce Bottle		2.2,22	CAS131406					
286	Paint, liquid tempera, 16 oz. MAGENTA.	Crayola Premier #54-1216-069 or equal.	1220600-1701252		No	1 - 16	37	Crayola	121669	6.62	244.94			
				Supplies		Ounce Bottle			CAS131413					
287	Paint, liquid tempera, 16 oz. ORANGE.	Crayola Premier #54-1216-036 or equal.	1220600-1701254	Cascade School Supplies	No	1 - 16 Ounce	55	Crayola	121636 CAS131397	6.62	364.1			
						Bottle								
288	Paint, liquid tempera, 16 oz. RED.	Crayola Premier #54-1216-038 or equal.	1220600-1701249	Cascade School Supplies	No	1 - 16 Ounce	51	Crayola	121638 CAS131395	6.62	337.62			
						Bottle								
289	Paint, liquid tempera, 16 oz. TURQUOISE.	Crayola Premier #54-1216-048 or equal.	1220600-1701257	Cascade School Supplies	No	1 - 16 Ounce Bottle	37	Crayola	121648 CAS131405	6.62	244.94			
						bottle								
290	Paint, liquid tempera, 16 oz. VIOLET.	Crayola Premier #54-1216-040 or equal.	1220600-1701256	Cascade School	No	1 - 16	64	Crayola	121640	5.71	365.44			
230	raint, iiquid tempera, 10 02. VIOLET.	Crayola Frenite #34-1210-040 of equal.	1220000-1701230	Supplies	NO	Ounce Bottle		Crayola	CAS131401	3.71	303.44			
291	Paint, liquid tempera, 16 oz. WHITE.	Crayola Premier #54-1216-053 or equal.	1220600-1701253	Cascade School	No	1 - 16	88	Crayola	121653	6.62	582.56			
				Supplies		Ounce Bottle			CAS131404					
292	Paint, liquid tempera, 16 oz. YELLOW.	Crayola Premier #54-1216-034 or equal.	1220600-1701250		No	1 - 16	71	Crayola	121634	6.62	470.02			
				Supplies		Ounce Bottle			CAS131399					
293	Paint, liquid tempera, 32 oz. BLACK.	Crayola Premier #54-1232-051 or equal.	1220600-1701259	Cascade School Supplies	No	1 - 32 Ounce	73	Crayola	123251 CAS131438	10.15	740.95			
				332		Bottle								
294	Paint, liquid tempera, 32 oz. BLUE.	Crayola Premier #54-1232-042 or equal.	1220600-1701260	Cascade School Supplies	No	1 - 32 Ounce	65	Crayola	123242 CAS131442	11.23	729.95			
						Bottle								
295	Paint, liquid tempera, 32 oz. BROWN.	Crayola Premier #54-1232-007 or equal.	1220600-1701266	Cascade School Supplies	No	1 - 32 Ounce Bottle	44	Crayola	123207 CAS131447	11.23	494.12			
						bottle								
296	Paint, liquid tempera, 32 oz. GREEN.	Crayola Premier #54-1232-044 or equal.	1220600-1701263	Cascade School	No	1 - 32	61	Crayola	54123244	11.23	685.03			
250	Tomis inquio competes 32 02. ORLEIT.	Crayou realist 199-1292-044 of equal.	-220000-1/01203	Supplies		Ounce Bottle	01	Crayola	CAS131441	12.23	503.03			
297	Paint, liquid tempera, 32 oz. MAGENTA.	Crayola Premier #54-1232-069 or equal.	1220600-1701267	Cascade School	No	1 - 32	54	Crayola	123269	11.23	606.42			
				Supplies		Ounce Bottle			CAS131448					
298	Paint, liquid tempera, 32 oz. ORANGE.	Crayola Premier #54-1232-036 or equal.	1220600-1701264		No	1 - 32 Ounce	61	Crayola	123236 CAS131432	10.5	640.5			
				Supplies		Ounce Bottle			CA3231432					
299	Paint, liquid tempera, 32 oz. RED.	Crayola Premier #54-1232-038 or equal.	1220600-1701261	Cascade School Supplies	No	1 - 32 Ounce	104	Crayola	123238 CAS131430	10.15	1055.6			
						Bottle								

300	Paint, liquid tempera, 32 oz. TURQUOISE.	Crayola Premier #54-1232-048 or equal.	1220600-1701258	Cascade School	No	1 - 32	62	Crayola	123248	10.15	629.3				
300	. Jim, inquio tempera, 32 02. TONQOOIJE.	Grayou - Terrice 1997-1232-040 01 equal.		Supplies	0	Ounce Bottle	SZ.	Crayola	CAS131440	10.13	029.9				
						Bottle									
301	Paint, liquid tempera, 32 oz. VIOLET.	Crayola Premier #54-1232-040 or equal.	1220600-1701265		No	1 - 32	57	Crayola	123240	10.15	578.55				
				Supplies		Ounce Bottle			CAS131436						
302	Paint, liquid tempera, 32 oz. WHITE.	Crayola Premier #54-1232-053 or equal.	1220600-1701268	Cascade School Supplies	No	1 - 32 Ounce	111	Crayola	54123253 CAS131439	11.23	1246.53				
						Bottle									
303	Paint, liquid tempera, 32 oz. YELLOW.	Crayola Premier #54-1232-034 or equal.	1220600-1701262	Cascade School	No	1 - 32	71	Crayola	123234	11.23	797.33				
				Supplies		Ounce		3.2,0.2	CAS131434						
						Bottle									
Lot Item															
Number 304-313	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
304		THIS NOTE APPLIES TO ITEM NOS. 304 through 313. Washable, water soluble, resin-based, student quality, plastic translucent squeeze-bottle with air tight,			No	1 - 32 Ounce	73	CRAYOLA	54-3132-051	3.57	260.61		007704		
1	II #54-3132-051 or equal.	flip-top sealed cap for easy dispensing, creamy consistency, opaque, uniformly				Bottle									
1		blended pigments that are formulated to dry to a matte finish. Will not chip, flake or bleed through paper. Freeze thaw stable, non-toxic, AP Seal, conforms													
1		to ASTM D4236. SAMPLE = 1 pint. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. IF SUBMITTING A SAMPLE, PLEASE DO NOT SEND												Awarded	
1		BLACK OR WHITE. ACCEPTABLE COLORS ARE RED, BLUE, GREEN OR ORANGE.													
1															
305	Paint, liquid tempera. Economy grade, 32 oz. BLUE.	Crayola Artista II #54-3132-042 or equal.	1220600-1701223	School Specialty LLC	No	1 - 32	101	CRAYOLA	54-3132-042	3.57	360.57		007707		
-	,					Ounce Bottle									
						Bottle								Awarded	
306	Paint, liquid tempera. Economy grade, 32 oz. BROWN.	Crayola Artista II #54-3132-007 or equal.	1220600-1701230	School Specialty LLC	No	1 - 32	56	CRAYOLA	54-3132-007	3.57	199.92		007710		
1					-	Ounce									
1						Bottle								Awarded	
307	Paint, liquid tempera. Economy grade, 32 oz. GREEN.	Crayola Artista II #54-3132-044 or equal.	1220600-1701278	School Specialty LLC	No	1 - 32	96	CRAYOLA	54-3132-044	3.57	342.72		007716		
						Ounce Bottle					9.2				
1						DOLLIE								Awarded	
308	Paint, liquid tempera. Economy grade, 32 oz. ORANGE.	Crayola Artista II #54-3132-036 or equal.	1220600-1701229	School Specialty LLC	No	1 - 32	85	CRAYOLA	54-3132-036	3.57	303.45		007722		
1	· · · · · · · · · · · · · · · · · · ·					Ounce Bottle								Awardad	
						DOLLIE								Awarded	
309	Paint, liquid tempera. Economy grade, 32 oz. PEACH.	Crayola Artista II #54-3132-033 or equal.	1220600-1701233	School Specialty LLC	No	1 - 32	41	CRAYOLA	54-3132-033	0	0	SEE ATTACHED MFG DISC	MFG DISCONTINUED		
1	· · · · · · · · · · · · · · · · · · ·					Ounce Bottle						LETTER. SEND IN 2022 ALSO		Awarded	
1														Awarueu	
310	Paint, liquid tempera. Economy grade, 32 oz. RED.	Crayola Artista II #54-3132-038 or equal.	1220600-1701221	School Specialty LLC	No	1 - 32	101	CRAYOLA	54-3132-038	3.57	360.57		007725		
1						Ounce Bottle								Awarded	
1														Awarueu	
311	Paint, liquid tempera. Economy grade, 32 oz. VIOLET.	Crayola Artista II #54-3132-040 or equal.	1220600-1701222	School Specialty LLC	No	1 - 32	64	CRAYOLA	54-3132-040	3.57	228.48		007728		
1						Ounce Bottle								Awarded	
1														, , , , , , , , , , , , , , , , , , ,	
312	Paint, liquid tempera. Economy grade, 32 oz. WHITE.	Crayola Artista II #54-3132-053 or equal.	1220600-1701225	School Specialty LLC	No	1 - 32	105	CRAYOLA	54-3132-053	3.57	374.85		007731		
1						Ounce Bottle								Awarded	
1															
313	Paint, liquid tempera. Economy grade, 32 oz. YELLOW.	Crayola Artista II #54-3132-034 or equal.	1220600-1701226	School Specialty LLC	No	1 - 32	100	CRAYOLA	54-3132-034	3.57	357		007734		
1						Ounce Bottle								Awarded	
1															
304	Paint, liquid tempera. Economy grade, 32 oz. BLACK.		1220600-1701227		No	1 - 32	73	CRAYOLA ARTISTA	3132-51	3.49	254.77				
	Crayola Artista II #54-3132-051 or equal.	resin-based, student quality, plastic translucent squeeze-bottle with air tight, flip-top sealed cap for easy dispensing, creamy consistency, opaque, uniformly		PRODUCTS		Ounce Bottle									
		blended pigments that are formulated to dry to a matte finish. Will not chip, flake or bleed through paper. Freeze thaw stable, non-toxic, AP Seal, conforms													
		to ASTM D4236. SAMPLE = 1 pint. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. IF SUBMITTING A SAMPLE. PLEASE DO NOT SEND													
		SAMPLE IS REQUIRED. IF SUBMITTING A SAMPLE, PLEASE DO NOT SEND BLACK OR WHITE. ACCEPTABLE COLORS ARE RED, BLUE, GREEN OR ORANGE.													

305	Paint, liquid tempera. Economy grade, 32 oz. BLUE.	Crayola Artista II #54-3132-042 or equal.	1220600-1701223	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce Bottle	101	CRAYOLA ARTISTA	3132-42	3.49	352.49			
306	Paint, liquid tempera. Economy grade, 32 oz. BROWN.	Crayola Artista II #54-3132-007 or equal.	1220600-1701230	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce Bottle	56	CRAYOLA ARTISTA	3132-07	3.49	195.44			
307	Paint, liquid tempera. Economy grade, 32 oz. GREEN.	Crayola Artista II #54-3132-044 or equal.	1220600-1701228	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce Bottle	96	CRAYOLA ARTISTA	3132-44	3.49	335.04			
308	Paint, liquid tempera. Economy grade, 32 oz. ORANGE.	Crayola Artista II #54-3132-036 or equal.	1220600-1701229	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce Bottle	85	CRAYOLA ARTISTA	3132-36	3.49	296.65			
309	Paint, liquid tempera. Economy grade, 32 oz. PEACH.	Crayola Artista II #54-3132-033 or equal.	1220600-1701233	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce Bottle	41	CRAYOLA ARTISTA	3132-33	3.49	143.09	TO BE DISCONTINUED		
310	Paint, liquid tempera. Economy grade, 32 oz. RED.	Crayola Artista II #54-3132-038 or equal.	1220600-1701221	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce Bottle	101	CRAYOLA ARTISTA	3132-38	3.49	352.49			
311	Paint, liquid tempera. Economy grade, 32 oz. VIOLET.	Crayola Artista II #54-3132-040 or equal.	1220600-1701222	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce Bottle	64	CRAYOLA ARTISTA	3132-40	3.49	223.36			
312	Paint, liquid tempera. Economy grade, 32 oz. WHITE.	Crayola Artista II #54-3132-053 or equal.	1220600-1701225	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce Bottle	105	CRAYOLA ARTISTA	3132-53	3.49	366.45			
313	Paint, liquid tempera. Economy grade, 32 oz. YELLOW.	Crayola Artista II #54-3132-034 or equal.	1220600-1701226	PYRAMID SCHOOL PRODUCTS	No	1 - 32 Ounce Bottle	100	CRAYOLA ARTISTA	3132-34	3.49	349			
304	Paint, liquid tempera. Economy grade, 32 oz. BLACK. Crayola Artista II #54-3132-051 or equal.	THIS NOTE APPLIES TO ITEM NOS. 304 through 313. Washable, water soluble, resin-based, student quality, plastic translucent squeeze-bottle with air tright, flip-top sealed cap for easy dispersing, creamy consistency, opaque, uniformly blended pigments that are formulated to dry to a matte finish. Will not chip, flake or bleed through paper. Freeze thaw stable, non-toxic, AP Seal, control,	1220600-1701227	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 32 Ounce Bottle	73	CRAYOLA	3132-51	4.4	321.2			
305	Paint, liquid tempera. Economy grade, 32 oz. BLUE.	Crayola Artista II #54-3132-042 or equal.	1220600-1701223	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 32 Ounce Bottle	101	CRAYOLA	3132-42	4.4	444.4			
306	Paint, liquid tempera. Economy grade, 32 oz. BROWN.	Crayola Artista II #54-3132-007 or equal.	1220600-1701230	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 32 Ounce Bottle	56	CRAYOLA	3132-07	4.4	246.4			
307	Paint, liquid tempera. Economy grade, 32 oz. GREEN.	Crayola Artista II #54-3132-044 or equal.	1220600-1701228	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 32 Ounce Bottle	96	CRAYOLA	3132-44	4.4	422.4			
308	Paint, liquid tempera. Economy grade, 32 oz. ORANGE.	Crayola Artista II #54-3132-036 or equal.	1220600-1701229	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 32 Ounce Bottle	85	CRAYOLA	3132-36	4.4	374			
309	Paint, liquid tempera. Economy grade, 32 oz. PEACH.	Crayola Artista II #54-3132-033 or equal.	1220600-1701233	SCHOOL SUPPLIES	No	1 - 32 Ounce Bottle	41	CRAYOLA	3132-33	4.4	180.4			
310	Paint, liquid tempera. Economy grade, 32 oz. RED.	Crayola Artista II #54-3132-038 or equal.	1220600-1701221	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 32 Ounce Bottle	101	CRAYOLA	3132-38	4.4	444.4			
311	Paint, liquid tempera. Economy grade, 32 oz. VIOLET.	Crayola Artista II #54-3132-040 or equal.	1220600-1701222	SCHOOL SUPPLIES	No	1 - 32 Ounce Bottle	64	CRAYOLA	3132-40	4.4	281.6			
312	Paint, liquid tempera. Economy grade, 32 oz. WHITE.	Crayola Artista II #54-3132-053 or equal.	1220600-1701225	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 32 Ounce Bottle	105	CRAYOLA	3132-53	4.4	462			

			r									T	T	1	r	-
313	Paint, liquid tempera. Economy grade, 32 oz. YELLOW.	Crayola Artista II #54-3132-034 or equal.	1220600-1701226	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 32 Ounce Bottle	100	CRAYOLA	3132-34	4.4	440					
304	Paint, liquid tempera. Economy grade, 32 oz. BLACK. Crayola Artista II #54-3132-051 or equal.	THIS NOTE APPLIES TO ITEM NOS. 304 through 313. Washable, water soluble, resin-based, student quality, plastic translucent squeeze-bottle with air tight, flip-top sealed cap for easy dispensing, creamy consistency, opaque, uniformly blended pigments that are formulated to dry to a matte finish. Will not chipm, flake or bleed through paper. Freeze thaw stable, non-toxic, AP Seal, OCHION TOXIC, AP SEAL OCHION TOXIC, AP SEAL OF AND READ AND READ FOR TOXIC NO SAMPLE IS REQUIRED. IF SUBMITHING A SAMPLE, PLASE DO NOT SEAD BLACK OR WHITE. ACCEPTABLE COLORS ARE RED, BLUE, GREEN OR ORANGE.	1220600-1701227	John R Green Co	No	1 - 32 Ounce Bottle	73	CRAYOLA-3132	48693	4.99	364.27					
305	Paint, liquid tempera. Economy grade, 32 oz. BLUE.	Crayola Artista II #54-3132-042 or equal.	1220600-1701223	John R Green Co	No	1 - 32 Ounce Bottle	101	CRAYOLA-3132	48676	4.99	503.99					
306	Paint, liquid tempera. Economy grade, 32 oz. BROWN.	Crayola Artista II #54-3132-007 or equal.	1220600-1701230	John R Green Co	No	1 - 32 Ounce Bottle	56	CRAYOLA-3132	48687	4.99	279.44					
307	Paint, liquid tempera. Economy grade, 32 oz. GREEN.	Crayola Artista II #54-3132-044 or equal.	1220600-1701228	John R Green Co	No	1 - 32 Ounce Bottle	96	CRAYOLA-3132	48672	4.99	479.04					
308	Paint, liquid tempera. Economy grade, 32 oz. ORANGE.	Crayola Artista II #54-3132-036 or equal.	1220600-1701229	John R Green Co	No	1 - 32 Ounce Bottle	85	CRAYOLA-3132	48667	4.99	424.15					
309	Paint, liquid tempera. Economy grade, 32 oz. PEACH.	Crayola Artista II #54-3132-033 or equal.	1220600-1701233	John R Green Co	No	1 - 32 Ounce Bottle	41	PRANG-X10911	45208	4.29	175.89		DIFFERENT BRAND			
310	Paint, liquid tempera. Economy grade, 32 oz. RED.	Crayola Artista II #54-3132-038 or equal.	1220600-1701221	John R Green Co	No	1 - 32 Ounce Bottle	101	CRAYOLA-3132	48661	4.99	503.99					
311	Paint, liquid tempera. Economy grade, 32 oz. VIOLET.	Crayola Artista II #54-3132-040 or equal.	1220600-1701222	John R Green Co	No	1 - 32 Ounce Bottle	64	CRAYOLA-3132	48681	4.99	319.36					
312	Paint, liquid tempera. Economy grade, 32 oz. WHITE.	Crayola Artista II #54-3132-053 or équal.	1220600-1701225	John R Green Co	No	1 - 32 Ounce Bottle	105	CRAYOLA-3132	48691	4.99	523.95					
313	Paint, liquid tempera. Economy grade, 32 oz. YELLOW.	Crayola Artista II #54-3132-034 or equal.	1220600-1701226	John R Green Co	No	1 - 32 Ounce Bottle	100	CRAYOLA-3132	48670	4.99	499					
304	Paint, liquid tempera. Economy grade, 32 oz. BLACK. Crayola Artista II #54-3132-051 or equal.	THIS NOTE APPLIES TO ITEM NOS. 304 through 313. Washable, water soluble, resin-based, student quality, plastic translucent squeeze-bottle with air tight, flip-top sealed cap for easy dispersing, creamy consistency, opaque, uniformly blended pigments that are formulated to dry to a matter finish. Will not chip, it flake or bleed through paper. Freeze thaw stable, non-toxic, AF Seal, conforms to ASTM D4236. SAMPLE 1 Facility ITEM SAMPLE 1 FACES DO NOT SEND SAMPLE IS REQUIRED. IT SUBMITMEN ASAMPLE, IEASE DO NOT SEND BLACK OR WHITE. ACCEPTABLE COLORS ARE RED, BLUE, GREEN OR ORANGE.		Complete Printer Source	No	1 - 32 Ounce Bottle	73	Crayola	CY0543132051	4.99	364.27					
305	Paint, liquid tempera. Economy grade, 32 oz. BLUE.	Crayola Artista II #54-3132-042 or equal.	1220600-1701223	Complete Printer Source	No	1 - 32 Ounce Bottle	101	Crayola	CYO543132042	4.99	503.99					
306	Paint, liquid tempera. Economy grade, 32 oz. BROWN.	Crayola Artista II #54-3132-007 or equal.	1220600-1701230	Complete Printer Source	No	1 - 32 Ounce Bottle	56	Crayola	CYO543132007	4.99	279.44					
307	Paint, liquid tempera. Economy grade, 32 oz. GREEN.	Crayola Artista II #54-3132-044 or equal.	1220600-1701228	Complete Printer Source	No	1 - 32 Ounce Bottle	96	Crayola	CYO543132044	4.99	479.04					
308	Paint, liquid tempera. Economy grade, 32 oz. ORANGE.	Crayola Artista II #54-3132-036 or equal.	1220600-1701229	Complete Printer Source	No	1 - 32 Ounce Bottle	85	Crayola	CYO543132036	4.99	424.15					
309	Paint, liquid tempera. Economy grade, 32 oz. PEACH.	Crayola Artista II #54-3132-033 or equal.	1220600-1701233	Complete Printer Source	No	1 - 32 Ounce Bottle	41	Crayola	CYO543132033	4.99	204.59					

310	Paint, liquid tempera. Economy grade, 32 oz. RED.	Crayola Artista II #54-3132-038 or equal.	1220600-1701221	Complete Printer Source	No	1 - 32 Ounce Bottle	101	Crayola	CYO543132038	4.99	503.99				
311	Paint, liquid tempera. Economy grade, 32 oz. VIOLET.	Crayola Artista II #54-3132-040 or equal.	1220600-1701222	Complete Printer Source	No	1 - 32 Ounce Bottle	64	Crayola	CYO543132040	4.99	319.36				
312	Paint, liquid tempera. Economy grade, 32 oz. WHITE.	Crayola Artista II #54-3132-053 or equal.	1220600-1701225	Complete Printer Source	No	1 - 32 Ounce Bottle	105	Crayola	CYO543132053	4.99	523.95				
313	Paint, liquid tempera. Economy grade, 32 oz. YELLOW.	Crayola Artista II #54-3132-034 or equal.	1220600-1701226	Complete Printer Source	No	1 - 32 Ounce Bottle	100	Crayola	CYO543132034	4.99	499				
304	Paint, liquid tempera. Economy grade, 32 oz. BLACK. Crayola Artista II #54-3132-051 or equal.	THIS NOTE APPLES TO ITEM NOS. 304 through 313. Washable, water soluble, resin-based, student quality, plastic translucent squeeze-bottle with air tight, flip-top sealed cap for easy dispensing, creamy consistency, opaque, uniformly blended pigments that are formulated to dry to a matter finish. Will not chip, flake or bleed through paper. Freeze thaw stable, non-took, AP Seal, conforms to ASTM D4236. SAMPLE 1 FIGHT BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. IF SUBMITTING ASAMPLE, LEASE DO NOT SEND BLACK OR WHITE. ACCEPTABLE COLORS ARE RED, BLUE, GREEN OR ORANGE.	1220600-1701227	Cascade School Supplies	No	1 - 32 Ounce Bottle	73	Crayola	3132051 CAS130324	5.66	413.18				
305	Paint, liquid tempera. Economy grade, 32 oz. BLUE.	Crayola Artista II #54-3132-042 or equal.	1220600-1701223	Cascade School Supplies	No	1 - 32 Ounce Bottle	101	Crayola	3132042 CAS130325	5.66	571.66				
306	Paint, liquid tempera. Economy grade, 32 oz. BROWN.	Crayola Artista II #54-3132-007 or equal.	1220600-1701230	Cascade School Supplies	No	1 - 32 Ounce Bottle	56	Crayola	313207 CAS130326	5.66	316.96				
307	Paint, liquid tempera. Economy grade, 32 oz. GREEN.	Crayola Artista II #54-3132-044 or equal.	1220600-1701228	Cascade School Supplies	No	1 - 32 Ounce Bottle	96	Crayola	3132044 CAS130327	5.66	543.36				
308	Paint, liquid tempera. Economy grade, 32 oz. ORANGE.	Crayola Artista II #54-3132-036 or equal.	1220600-1701229	Cascade School Supplies	No	1 - 32 Ounce Bottle	85	Crayola	3132036 CAS130329	5.66	481.1				
309	Paint, liquid tempera. Economy grade, 32 oz. PEACH.	Crayola Artista II #54-3132-033 or equal.	1220600-1701233	Cascade School Supplies	No	1 - 32 Ounce Bottle	41	Crayola	543132033 CAS099009	5.66	232.06				
310	Paint, liquid tempera. Economy grade, 32 oz. RED.	Crayola Artista II #54-3132-038 or equal.	1220600-1701221	Cascade School Supplies	No	1 - 32 Ounce Bottle	101	Crayola	3132038 CAS130331	5.66	571.66				
311	Paint, liquid tempera. Economy grade, 32 oz. VIOLET.	Crayola Artista II #54-3132-040 or equal.	1220600-1701222	Cascade School Supplies	No	1 - 32 Ounce Bottle	64	Crayola	3132040 CAS130333	5.66	362.24				
312	Paint, liquid tempera. Economy grade, 32 oz. WHITE.	Crayola Artista II #54-3132-053 or equal.	1220600-1701225	Cascade School Supplies	No	1 - 32 Ounce Bottle	105	Crayola	3132053 CAS130334	5.66	594.3				
313	Paint, liquid tempera. Economy grade, 32 oz. YELLOW.	Crayola Artista II #54-3132-034 or equal.	1220600-1701226	Cascade School Supplies	No	1 - 32 Ounce Bottle	100	Crayola	3132034 CAS130335	5.66	566				
Lot Item															
Number 314-322	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
314	Paper, art project, 36" x 1000" roll, 40 lb. BLACK. Pacon Rainbow Kraft Duo-Finish #63300 or equal.	THIS NOTE APPLIES TO ITEM NOS. 314 through 322. Lightweight duo-finish kraft paper. One side is smooth and ideal for felt pen, finger paniting and fine line drawing. One "cotothy" side handles chalk, temper, watercolor or acrylic paints. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				1 - 1000 Foot Roll	19	RAINBOW KRAFT	63300	52.12	990.28		027282	Awarded	-
315	Paper, art project, 36" x 1000' roll, 40 lb. BROWN.	Pacon Rainbow Kraft Duo-Finish #63020 or equal.	5760210-1704147	School Specialty LLC	No	1 - 1000 Foot Roll	12	RAINBOW KRAFT	63020	46.88	562.56		027285	Awarded	

316	Paper, art project, 36" x 1000' roll, 40 lb. EMERALD	Pacon Rainbow Kraft Duo-Finish #63140 or equal.	5760210.1704151	School Specialty LLC	No	1 - 1000	14	RAINBOW KRAFT	63140	47.44	664.16	ı	027279		
310	GREEN.	Tocon named water 500" I Histi #05140 of equal.		23.00. Specialty CEC		Foot Roll			03140	-7.199	554.10		32/2/3		
														Awarded	
317	Paper, art project, 36" x 1000' roll, 40 lb. ORANGE.	Pacon Rainbow Kraft Duo-Finish #63100 or equal.	5/60210-1/04152	School Specialty LLC	No	1 - 1000 Foot Roll	10	RAINBOW KRAFT	63100	56.43	564.3		027294		
														Awarded	
														Awarueu	
318	Paper, art project, 36" x 1000' roll, 40 lb. PINK.	Pacon Rainbow Kraft Duo-Finish #63260 or equal.	5760210-1704148	School Specialty LLC	No	1 - 1000	8	RAINBOW KRAFT	63260	54.71	437.68		027297		
						Foot Roll									
														Awarded	
319	Paper, art project, 36" x 1000' roll, 40 lb. ROYAL BLUE.	Pacon Rainbow Kraft Duo-Finish #63200 or equal.	5760210-1704145	School Specialty LLC	No	1 - 1000	11	RAINBOW KRAFT	63200	56.43	620.73		082289		
						Foot Roll									
														Awarded	
320	Paper, art project, 36" x 1000' roll, 40 lb. SKY BLUE.	Pacon Rainbow Kraft Duo-Finish #63150 or equal.	5/60210-1/04153	School Specialty LLC	No	1 - 1000 Foot Roll	10	RAINBOW KRAFT	63150	55.57	555.7		076580		
														Awarded	
1														ucu	
L			<u> </u>	<u> </u>			<u></u>			<u>L</u>	<u> </u>				
321	Paper, art project, 36" x 1000' roll, 40 lb. WHITE.	Pacon Rainbow Kraft Duo-Finish #63000 or equal.	5760210-1704154	School Specialty LLC	No	1 - 1000 Foot Roll	23	RAINBOW KRAFT	63000	45.95	1056.85		027288		
						FUUT KOII									
1														Awarded	
1															
322	Paper, art project, 36" x 1000' roll, 40 lb. YELLOW.	Pacon Rainbow Kraft Duo-Finish #63080 or equal.	5760210-1704150	School Specialty LLC	No	1 - 1000	13	RAINBOW KRAFT	63080	56.43	733.59		027291		
						Foot Roll									
														Awarded	
314	Paper, art project, 36" x 1000' roll, 40 lb. BLACK. Pacon	THIS NOTE APPLIES TO ITEM NOS. 314 through 322. Lightweight duo-finish	5750340 4704443	Consulate Briston	No	1 - 1000	19	Pacon	PAC63300	52.12	990.28				
314	Rainbow Kraft Duo-Finish #63300 or equal.	kraft paper. One side is smooth and ideal for felt pen, finger painting and fine	3760210-1704142	Source	NO	Foot Roll	19	Pacon	PACOSSOU	32.12	990.28				
		line drawing. One "toothy" side handles chalk, tempera, watercolor or acrylic paints. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO													
		SAMPLE IS REQUIRED.													
315	Paper, art project, 36" x 1000' roll, 40 lb. BROWN.	Pacon Rainbow Kraft Duo-Finish #63020 or equal.	5760210-1704147	Complete Printer Source	No	1 - 1000 Foot Roll	12	Pacon	PAC63020	46.88	562.56				
				Source		T GOT NON									
316	Paper, art project, 36" x 1000' roll, 40 lb. EMERALD	Pacon Rainbow Kraft Duo-Finish #63140 or equal.	5760210-1704151	Complete Printer	No	1 - 1000	14	Pacon	PAC63140	62.88	880.32				
	GREEN.			Source		Foot Roll									
317	Paper, art project, 36" x 1000' roll, 40 lb. ORANGE.	Pacon Rainbow Kraft Duo-Finish #63100 or equal.	5760210-1704152	Complete Printer	No	1 - 1000	10	Pacon	PAC63100	56.43	564.3				
31,	, , , , , , , , , , , , , , , , , , , ,	220 min modelo di equal	1,04132	Source		Foot Roll				33.43					
318	Paper, art project, 36" x 1000' roll, 40 lb. PINK.	Pacon Rainbow Kraft Duo-Finish #63260 or equal.	5/60210-1704148	Complete Printer Source	No	1 - 1000 Foot Roll	8	Pacon	PAC63260	54.71	437.68				
319	Paper, art project, 36" x 1000' roll, 40 lb. ROYAL BLUE.	Pacon Rainbow Kraft Duo-Finish #63200 or equal.	5760210-1704145	Complete Printer	No	1 - 1000	11	Pacon	PAC63200	56.43	620.73				
				Source		Foot Roll									
320	Paper, art project, 36" x 1000' roll, 40 lb. SKY BLUE.	Pacon Rainbow Kraft Duo-Finish #63150 or equal.	5760210-1704153	Complete Printer	No	1 - 1000	10	Pacon	PAC63150	55.57	555.7				
				Source		Foot Roll									
	2000		5760346 · ·	Complete Title		4 (DACC	45.55	4055.55				
321	Paper, art project, 36" x 1000' roll, 40 lb. WHITE.	Pacon Rainbow Kraft Duo-Finish #63000 or equal.	5/60210-1/04154	Complete Printer Source	No	1 - 1000 Foot Roll	23	Pacon	PAC63000	45.95	1056.85				

322	Paper, art project, 36" x 1000' roll, 40 lb. YELLOW.	Pacon Rainbow Kraft Duo-Finish #63080 or equal.	5760210-1704150	Complete Printer Source	No	1 - 1000 Foot Roll	13	Pacon	PAC63080	56.43	733.59		
244	Development and a second will see the process process	THIS NOTE ADDRESS TO STEAM OF THE ADDRESS AND ADDRESS	5750240 4704442	Inha B Course Co		4 4000	40	P4 CON 1000C3300	20254	57.33	4007.37		
314	Paper, art project, 36" x 1000' roll, 40 lb. BLACK. Pacon Rainbow Kraft Duo-Finish #63300 or equal.	kraft paper. One side is smooth and ideal for felt pen, finger painting and fine		John R Green Co	No	1 - 1000 Foot Roll	19	PACON-P0063300	39254	57.23	1087.37		
		line drawing. One "toothy" side handles chalk, tempera, watercolor or acrylic paints. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO											
		SAMPLE IS REQUIRED.											
315	Paper, art project, 36" x 1000' roll, 40 lb. BROWN.	Pacon Rainbow Kraft Duo-Finish #63020 or equal.	5760210-1704147	John R Green Co	No	1 - 1000 Foot Roll	12	PACON-P0063020	39251	52.59	631.08		
316	Paper, art project, 36" x 1000' roll, 40 lb. EMERALD GREEN.	Pacon Rainbow Kraft Duo-Finish #63140 or equal.	5760210-1704151	John R Green Co	No	1 - 1000 Foot Roll	14	PACON-P0063140	39253	49.07	686.98		
317	Paper, art project, 36" x 1000' roll, 40 lb. ORANGE.	Pacon Rainbow Kraft Duo-Finish #63100 or equal.	5760210-1704152	John R Green Co	No	1 - 1000 Foot Roll	10	PACON-P0063100	39255	61.82	618.2		
1													
1													
318	Paper, art project, 36" x 1000' roll, 40 lb. PINK.	Pacon Rainbow Kraft Duo-Finish #63260 or equal.	5760210-1704148	John R Green Co	No	1 - 1000 Foot Roll	8	PACON-P0063260	39258	58.29	466.32		
1													
1													
1													
319	Paper, art project, 36" x 1000' roll, 40 lb. ROYAL BLUE.	Pacon Rainbow Kraft Duo-Finish #63200 or equal.	5760210-1704145	John R Green Co	No	1 - 1000 Foot Roll	11	PACON-P0063200	39266	66.64	733.04		
320	Paper, art project, 36" x 1000' roll, 40 lb. SKY BLUE.	Pacon Rainbow Kraft Duo-Finish #63150 or equal.	5760210-1704153	John R Green Co	No	1 - 1000 Foot Roll	10	PACON-P0063150	57282	68.42	684.2		
						1 oot non							
321	Paper, art project, 36" x 1000' roll, 40 lb. WHITE.	Pacon Rainbow Kraft Duo-Finish #63000 or equal.	5760210-1704154	John R Green Co	No	1 - 1000 Foot Roll	23	AMERICAN PAPER- 4WH	39250	48.87	1124.01	DIFFERENT BRAND	
						1 oot non		*****					
322	Paper, art project, 36" x 1000' roll, 40 lb. YELLOW.	Pacon Rainbow Kraft Duo-Finish #63080 or equal.	5760210-1704150	John R Green Co	No	1 - 1000 Foot Roll	13	PACON-P0063080	39252	62.09	807.17		
314	Paper, art project, 36" x 1000' roll, 40 lb. BLACK. Pacon Rainbow Kraft Duo-Finish #63300 or equal.	THIS NOTE APPLIES TO ITEM NOS. 314 through 322. Lightweight duo-finish kraft paper. One side is smooth and ideal for felt pen, finger painting and fine		Cascade School Supplies	No	1 - 1000 Foot Roll	19	Dixon Ticonderoga	P0063300 CAS115561	61.08	1160.52		
		line drawing. One "toothy" side handles chalk, tempera, watercolor or acrylic		эцриез		- COL NOIL			G-13113301				
		paints. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.											
315	Paper, art project, 36" x 1000' roll, 40 lb. BROWN.	Pacon Rainbow Kraft Duo-Finish #63020 or equal.	5760210-1704147	Cascade School Supplies	No	1 - 1000 Foot Roll	12	Dixon Ticonderoga	P0063020 CAS115555	54.24	650.88		
				эцриез		- COL NOIL			0.021000				
316	Paper, art project, 36" x 1000' roll, 40 lb. EMERALD GREEN.	Pacon Rainbow Kraft Duo-Finish #63140 or equal.	5760210-1704151	Cascade School Supplies	No	1 - 1000 Foot Roll	14	American Paper	4GR CAS115559	55.58	778.12	Holiday Green	
317	Paper, art project, 36" x 1000' roll, 40 lb. ORANGE.	Pacon Rainbow Kraft Duo-Finish #63100 or equal.	5760210-1704152	Cascade School Supplies	No	1 - 1000 Foot Roll	10	American Paper	4OR CAS115558	63.94	639.4	American Paper 4OR	
318	Paper, art project, 36" x 1000' roll, 40 lb. PINK.	Pacon Rainbow Kraft Duo-Finish #63260 or equal.	5760210-1704148	Cascade School Supplies	No	1 - 1000 Foot Roll	8	Dixon Ticonderoga	00663260 CAS115637	61.76	494.08		
									2.223037				

319	Paper, art project, 36" x 1000' roll, 40 lb. ROYAL BLUE.	Pacon Rainbow Kraft Duo-Finish #63200 or equal.	5760210-1704145	Cascade School	No	1 - 1000	11	American Paper	4BL CAS115560	57.51	632.61		American Paper 4BL Dark Blue			
313	Taper, are project, 50° × 1000° roil, 40° io. No. No. No.	racon rambow root bas initial worked of equal.	3700210 1704143	Supplies		Foot Roll		7 anchean raper	400 0/0113300	37.31	032.01		American raper 452 bank blac			
320	Paper, art project, 36" x 1000' roll, 40 lb. SKY BLUE.	Pacon Rainbow Kraft Duo-Finish #63150 or equal.	5760210-1704153	Cascade School Supplies	No	1 - 1000 Foot Roll	10	American Paper	4LBLO CAS115560	63.37	633.7		American Paper 4LBLO			
				Заррнез		T GOT NON										
321	Paper, art project, 36" x 1000' roll, 40 lb. WHITE.	Pacon Rainbow Kraft Duo-Finish #63000 or equal.	5760210-1704154	Cascade School	No	1 - 1000	23	American Paper	4WH CAS115554	54.34	1249.82		American Paper 4WH			
				Supplies		Foot Roll										
322	Paper, art project, 36" x 1000' roll, 40 lb. YELLOW.	Pacon Rainbow Kraft Duo-Finish #63080 or equal.	5760210-1704150	Cascade School Supplies	No	1 - 1000 Foot Roll	13	American Paper	4YL CAS115557	63.94	831.22		American Paper 4YL			
314	Paper, art project, 36" x 1000' roll, 40 lb. BLACK. Pacon	THIS NOTE APPLIES TO ITEM NOS. 314 through 322. Lightweight duo-finish	5760210-1704142	Lakeshore Learning	No	1 - 1000	19	PACON	LX9950 BROWN	83.69	1590.11	Please reference "Per	Craft Butcher Paper Roll TERMS:			
	Rainbow Kraft Duo-Finish #63300 or equal.	kraft paper. One side is smooth and ideal for felt pen, finger painting and fine line drawing. One "toothy" side handles chalk, tempera, watercolor or acrylic		Materials, LLC		Foot Roll						Lakeshore Quote "36602" on all purchase orders.	NET 30			
		paints. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.														
315	Paper, art project, 36" x 1000' roll, 40 lb. BROWN.	Pacon Rainbow Kraft Duo-Finish #63020 or equal.	5760210-170#1#7	Lakeshore Learning	No	1 - 1000	12	PACON	LX9950	83.69	1004.28	Please reference "Per	Craft Butcher Paper Roll TERMS:			
313	raper, are project, 30 × 1000 roll, 40 lb. bitOWN.	Facon Nambow Mart Buo-Hillsh #03020 of equal.	3700210-1704147	Materials, LLC	140	Foot Roll	12	PACON	EX3330	65.05	1004.28	Lakeshore Quote "36602" on all purchase orders.	NET 30			
316	Paper, art project, 36" x 1000' roll, 40 lb. EMERALD GREEN.	Pacon Rainbow Kraft Duo-Finish #63140 or equal.	5760210-1704151	Lakeshore Learning Materials, LLC	No	1 - 1000 Foot Roll	14	PACON	LX375GR GREEN	110.67	1549.38	Please reference "Per Lakeshore Quote "36602"	Duo-Finish® Butcher Paper Roll - Green TERMS: NET 30			
												on all purchase orders.				
317	Paper, art project, 36" x 1000' roll, 40 lb. ORANGE.	Pacon Rainbow Kraft Duo-Finish #63100 or equal.	5760210-1704152	Lakeshore Learning	No	1 - 1000	10	PACON	LX375YE YELLOW	110.67	1106.7	Please reference "Per	Duo-Finish® Butcher Paper Roll -			
				Materials, LLC		Foot Roll						Lakeshore Quote "36602" on all purchase orders.	Yellow TERMS: NET 30			
318	Paper, art project, 36" x 1000' roll, 40 lb. PINK.	Pacon Rainbow Kraft Duo-Finish #63260 or equal.	5760210.1704149	Lakeshore Learning	No	1 - 1000	0	PACON	LX375RD RED	110.67	885.36	Please reference "Per	Duo-Finish® Butcher Paper Roll -			
310	raper, art project, 56 x 1000 roll, 40 lb. rilvk.	racon rambow riant buo-rimsh #05200 of equal.	3760210-1704148	Materials, LLC	NO	Foot Roll	۰	PACON	LASTSRD RED	110.67	883.30	Lakeshore Quote "36602" on all purchase orders.	Red TERMS: NET 30			
												on an parenase orders.				
319	Paper, art project, 36" x 1000' roll, 40 lb. ROYAL BLUE.	Pacon Rainbow Kraft Duo-Finish #63200 or equal.	5760210-1704145	Lakeshore Learning Materials, LLC	No	1 - 1000 Foot Roll	11	PACON	LX375BU BLUE	110.67	1217.37	Please reference "Per Lakeshore Quote "36602"	Duo-Finish® Butcher Paper Roll - Blue TERMS: NET 30			
												on all purchase orders.				
320	Paper, art project, 36" x 1000' roll, 40 lb. SKY BLUE.	Pacon Rainbow Kraft Duo-Finish #63150 or equal.	5760210-1704153	Lakeshore Learning	No	1 - 1000	10	PACON	LX375BU BLUE	110.67	1106.7	Please reference "Per	Duo-Finish® Butcher Paper Roll -			
				Materials, LLC		Foot Roll						Lakeshore Quote "36602" on all purchase orders.	Blue TERMS: NET 30			
321	Paper, art project, 36" x 1000' roll, 40 lb. WHITE.	Pacon Rainbow Kraft Duo-Finish #63000 or equal.	5760210-1704154	Lakeshore Learning	No	1 - 1000	23	PACON	LX9990	92.99	2138.77	Please reference "Per	White Butcher Paper Roll TERMS:			
J21	. ===., are project, 30 × 1000 (01), 40 (0. WITHE.	racon number ware out i filiati #00000 or equal.		Materials, LLC		Foot Roll	2.5	. ACON	2.3330	J2.33	2130.77	Lakeshore Quote "36602" on all purchase orders.	NET 30			
												on on parchase orders.				
L																
322	Paper, art project, 36" x 1000' roll, 40 lb. YELLOW.	Pacon Rainbow Kraft Duo-Finish #63080 or equal.	5760210-1704150	Lakeshore Learning Materials, LLC	No	1 - 1000 Foot Roll	13	PACON	LX375YE	110.67	1438.71	Please reference "Per Lakeshore Quote "36602"	Duo-Finish® Butcher Paper Roll - Yellow TERMS: NET 30			
												on all purchase orders.				
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item				
323-330 323	Item/Service Paper, art project, 36" x 500' roll, 76 lb. BLACK. Pacon	Description THIS NOTE APPLIES TO ITEM NOS. 323 through 330. 100% vat dyed, sulphite	Commodity Code		No Bid	UOM 1 - 500 Foot	Quantity 29	PACON-P100600	Part Number 57559	Price 73.62	Total Price 2134.98	Notes	Supplier Notes	Award Status	Awar	d Notes
323	Decorol #100600 or equal.	FITS NOTE APPLIES TO TIEM NOS. 323 through 330. 100% var dyed, sulphite for superior strength and color vibrancy, durable surface takes all types of media on either side. For art projects, banners, murals and bulletin boards.	3,00210-1/160//	Joill K Green CO	NO	Roll	29	- ACON-PIOUBOU	3/339	/3.02	2134.98					
		media on eitner side. For art projects, banners, murais and builetin boards. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												Awarded		
		nequikeu.														

324	Paper, art project, 36" x 500' roll, 76 lb. BLUE.	Pacon Decorol #100597 or equal.	5760210-1650803	John R Green Co	No	1 - 500 Foot Roll	10	PACON-P100597	57560	75.64	756.4		Awarded	
325	Paper, art project, 36" x 500' roll, 76 lb. FESTIVE GREEN.	Pacon Decorol #100592 or equal.	5760210-1671146	John R Green Co	No	1 - 500 Foot Roll	12	PACON-P100592	57561	80.3	963.6		Awarded	
326	Paper, art project 36" x 500' roll, 76 lb., FESTIVE RED.	Pacon Decorol #100601 or equal.	5760210-1650804	John R Green Co	No	1 - 500 Foot Roll	18	PACON-P100601	57562	74.4	1339.2		Awarded	
327	Paper, art project, 36" x 500' roll, 76 lb. ORANGE.	Pacon Decorol #100590 or equal.	5760210-1650809	John R Green Co	No	1 - 500 Foot Roll	10	PACON-P100590	57563	71.68	716.8			
328	Paper, art project, 36" x 500' roll, 76 lb. SKY BLUE.	Pacon Decorol #100595 or equal.	5760210-1650805	John R Green Co	No	1 - 500 Foot Roll	12	PACON-P100595	57564	71.06	852.72		Awarded	
329	Paper, art project, 36" x 500' roll, 76 lb. WHITE.	Pacon Decorol #100599 or equal.	5760210-1371902	John R Green Co	No	1 - 500 Foot	34	PACON-P100599	57565	60.58	2059.72		Awarded	
323	Topic, are project, 30 × 300 °Cit, 70 to. William	George Section (1805) 5 G. Capali.	3700210 1371302	John Water Co		Roll	34	TACON 1200353	37363	30.30	2033.72		Awarded	
330	Paper, art project, 36" x 500' roll, 76 lb. YELLOW.	Pacon Decorol #100591 or equal.	5760210-1650802	John R Green Co	No	1 - 500 Foot Roll	18	PACON-P100591	57566	73.56	1324.08		Awarded	
323	Paper, art project, 36" x 500' roll, 76 lb. BLACK. Pacon Decorol #100600 or equal.	THIS NOTE APPLIES TO ITEM NOS. 323 through 330. 100% var dyed, sulphite for superior strength and color vibrancy, durable surface takes all types of media on either side. For art projects, banners, murals and bulletin boards. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Complete Printer Source	No	1 - 500 Foot Roll	29	Pacon	PAC100600	78.15	2266.35			
324	Paper, art project, 36" x 500' roll, 76 lb. BLUE.	Pacon Decorol #100597 or equal.	5760210-1650803	Complete Printer Source	No	1 - 500 Foot Roll	10	Pacon	PAC100597	91.89	918.9			
325	Paper, art project, 36" x 500' roll, 76 lb. FESTIVE GREEN.	Pacon Decorol #100592 or equal.	5760210-1671146	Complete Printer Source	No	1 - 500 Foot Roll	12	Pacon	PAC100592	99.89	1198.68			
326	Paper, art project 36" x 500' roll, 76 lb., FESTIVE RED.	Pacon Decorol #100601 or equal.	5760210-1650804	Complete Printer Source	No	1 - 500 Foot Roll	18	Pacon	PAC100601	89.99	1619.82			
327	Paper, art project, 36" x 500' roll, 76 lb. ORANGE.	Pacon Decorol #100590 or equal.	5760210-1650809	Complete Printer Source	No	1 - 500 Foot Roll	10	Pacon	PAC100590	89.99	899.9			
328	Paper, art project, 36" x 500' roll, 76 lb. SKY BLUE.	Pacon Decorol #100595 or equal.	5760210-1650805	Complete Printer Source	No	1 - 500 Foot Roll	12	Pacon	PAC100595	86.99	1043.88			
329	Paper, art project, 36" x 500' roll, 76 lb. WHITE.	Pacon Decorol #100599 or equal.	5760210-1371902	Complete Printer Source	No	1 - 500 Foot Roll	34	Pacon	PAC100599	84.99	2889.66			
330	Paper, art project, 36" x 500' roll, 76 lb. YELLOW.	Pacon Decorol #100591 or equal.	5760210-1650802	Complete Printer Source	No	1 - 500 Foot Roll	18	Pacon	PAC100591	87.49	1574.82			
323	Paper, art project, 36" x 500' roll, 76 lb. BLACK. Pacon Decorol #100600 or equal.	THIS NOTE APPLIES TO ITEM NOS. 323 through 330. 100% vat dyed, sulphite for superior strength and color vibrancy, durable surface takes all types of media on either side. For art projects, banners, murals and bulletin boards. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		School Specialty LLC	No	1 - 500 Foot Roll	29	PACON	100600	78.8	2285.2	055084		
324	Paper, art project, 36" x 500' roll, 76 lb. BLUE.	Pacon Decorol #100597 or equal.	5760210-1650803	School Specialty LLC	No	1 - 500 Foot Roll	10	PACON	100597	93.95	939.5	055072		
				1				1				1		

					1	,					1			
325	Paper, art project, 36" x 500' roll, 76 lb. FESTIVE GREEN.	Pacon Decorol #100592 or equal.	5760210-1671146	School Specialty LLC	No	1 - 500 Foot Roll	12	PACON	100592	103.66	1243.92		055057	
326	Paper, art project 36" x 500' roll, 76 lb., FESTIVE RED.	Pacon Decorol #100601 or equal.	5760210-1650804	School Specialty LLC	No	1 - 500 Foot	18	PACON	100601	89.86	1617.48		055087	
						Roll								
327	Paper, art project, 36" x 500' roll, 76 lb. ORANGE.	Pacon Decorol #100590 or equal.	5760210-1650809	School Specialty LLC	No	1 - 500 Foot Roll	10	PACON	100590	89.86	898.6		055051	
						KOII								
328	Paper, art project, 36" x 500' roll, 76 lb. SKY BLUE.	Pacon Decorol #100595 or equal.	5760210-1650805	School Specialty LLC	No	1 - 500 Foot	12	PACON	100595	84.64	1015.68		055066	
320	raper, are project, 50° x 500° ron, 70° lb. 5kr beec.	Tacon occord #100000 or equal.	3700210 1030003	School Specialty LLC	140	Roll		TACON.	100333	04.04	1013.00		055555	
329	Paper, art project, 36" x 500' roll, 76 lb. WHITE.	Pacon Decorol #100599 or equal.	5760210-1371902	School Specialty LLC	No	1 - 500 Foot	34	PACON	100599	84.86	2885.24		055081	
						Roll								
330	Paper, art project, 36" x 500' roll, 76 lb. YELLOW.	Pacon Decorol #100591 or equal.	5760210-1650802	School Specialty LLC	No	1 - 500 Foot Roll	18	PACON	100591	88.48	1592.64		055054	
						Koli								
1			1					I						
1			1			1	l	I						
1			+	1	-	1		 						
Lot Item														
Number 331-346	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes Awa	rd Status Award Notes
331	Paper, art tissue, 20" x 30" sheets, deluxe-grade,	THIS NOTE APPLIES TO ITEM NOS. 331 through 346. Water soluble, the color:			No	1 - 20 Sheet	308		88223 CAS115527		1148.84		Hygloss Products 88223	Reject - did not submit sample for evaluation.
	assorted color package, 20 sheets/poly bag. Pacon	"bleed" when moistened, deluxe grade tissue will cut, crinkle or fold without	t	Supplies		Pack								
	Spectra #58506 or equal.	tearing. PAPER MUST BE IN ORIGINAL POLY BAG FROM THE MANUFACTURES	₹.											
		CPSIA Certified. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												
222	2011 2011 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	APPLICATEL PARTY FOR A STANFAR	5760540-1701372	Cascade School		1 - 24 Sheet	25	Cascade Brand	115329	4.25	24.25		Cascade Brand 115329	Britan did and substitutionals for each of the
332	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	APPLE GREEN. Pacon Spectra #59122 or equal.	5/60540-1/013/2	Supplies	No	1 - 24 Sheet Pack	25	Cascade Brand	115329	1.25	31.25		Cascade Brand 115329	Reject - did not submit sample for evaluation.
	color package, 24 streets, pary bag.			Заррисэ		Tuck								
333	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	AZURE BLUE. Pacon Spectra #59102 or equal.	5760540-1701366		No	1 - 24 Sheet	33	Cascade Brand	115330	1.25	41.25		Cascade Brand 115330 Light Blue	Reject - did not submit sample for evaluation.
	color package, 24 sheets/poly bag.			Supplies		Pack								
334	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	BABY PINK. Pacon Spectra #59042 or equal.	5760540-1701353	Cascade School	No	1 - 24 Sheet	41	Cascade Brand	115326	1.25	51.25		Cascade Brand 115326	Reject - did not submit sample for evaluation.
334	color package, 24 sheets/poly bag.	BABT FINK. Facon Specia #33042 of equal.	3700340-1701333	Supplies	140	Pack	41	Cascade brand	113320	1.23	31.23		Cascade Brand 115320	Reject - did not submit sample for evaluation.
1														I
<u> </u>			1			1								
335	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	BLACK. Pacon Spectra #59142 or equal.	5760540-1701380		No	1 - 24 Sheet	24	Cascade Brand	115334	1.25	30		Cascade Brand 115334	Reject - did not submit sample for evaluation.
	color package, 24 sheets/poly bag.			Supplies		Pack								
1														I
1														I
1														I
336	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	CANARY. Pacon Spectra #59022 or equal.	5760540-1701345	Cascade School	No	1 - 24 Sheet	46	Cascade Brand	115328	1.25	57.5		Cascade Brand 115328	Reject - did not submit sample for evaluation.
I	color package, 24 sheets/poly bag.	· · · · · ·		Supplies		Pack								
I														
1														
				1										
							1	1	1		1	I .	1	
227	Paper att tirrup 20" v 20" sheets dahwa ass s	DARK DINK Brong Spectra MEGGET or acres	E760540 4704255	Carrada Sahari	No	1 . 24 Cha-+	60	Caccado Brond	115220	1 25	75		Cascado Brand 115220	Point - did not submit comple for evaluation
337	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	DARK PINK. Pacon Spectra #59052 or equal.	5760540-1701355	Cascade School Supplies	No	1 - 24 Sheet Pack	60	Cascade Brand	115338	1.25	75		Cascade Brand 115338	Reject - did not submit sample for evaluation.
337	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	DARK PINK. Pacon Spectra #59052 or equal.	5760540-1701355		No		60	Cascade Brand	115338	1.25	75		Cascade Brand 115338	Reject - did not submit sample for evaluation.
337		DARK PINK. Pacon Spectra #59052 or equal.	5760540-1701355		No		60	Cascade Brand	115338	1.25	75		Cascade Brand 115338	Reject - did not submit sample for evaluation.
337		DARK PINK. Pacon Spectra #59052 or equal.	5760540-1701355		No		60	Cascade Brand	115338	1.25	75		Cascade Brand 115338	Reject - did not submit sample for evaluation.
337			5760540-1701355		No		60		115338	1.25	75		Cascade Brand 115338	Reject - did not submit sample for evaluation.
	color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	DARK PINK. Pacon Spectra #59052 or equal. EMERALD GREEN. Pacon Spectra #59132 or equal.	5760540-1701355 5760540-1701369	Supplies Cascade School	No No	Pack 1 - 24 Sheet	60	Cascade Brand Cascade Brand	115338	1.25	75 26.25		Cascade Brand 115338 Cascade Brand 115331 Dark Green	Reject - did not submit sample for evaluation. Reject - did not submit sample for evaluation.
	color package, 24 sheets/poly bag.			Supplies		Pack								
	color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one			Supplies Cascade School		Pack 1 - 24 Sheet								
	color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one			Supplies Cascade School		Pack 1 - 24 Sheet								
	color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one			Supplies Cascade School		Pack 1 - 24 Sheet								
338	color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	EMERALD GREEN. Pacon Spectra #59132 or equal.	5760540-1701369	Supplies Cascade School Supplies	No	Pack 1 - 24 Sheet Pack	21	Cascade Brand	115331	1.25	26.25		Cascade Brand 115331 Dark Green	Reject - did not submit sample for evaluation.
338	color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one		5760540-1701369	Supplies Cascade School		Pack 1 - 24 Sheet	21							
338	color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	EMERALD GREEN. Pacon Spectra #59132 or equal.	5760540-1701369	Cascade School Supplies Cascade School	No	Pack 1 - 24 Sheet Pack 1 - 24 Sheet	21	Cascade Brand	115331	1.25	26.25		Cascade Brand 115331 Dark Green	Reject - did not submit sample for evaluation.
338	color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	EMERALD GREEN. Pacon Spectra #59132 or equal.	5760540-1701369	Cascade School Supplies Cascade School	No	Pack 1 - 24 Sheet Pack 1 - 24 Sheet	21	Cascade Brand	115331	1.25	26.25		Cascade Brand 115331 Dark Green	Reject - did not submit sample for evaluation.
338	color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	EMERALD GREEN. Pacon Spectra #59132 or equal.	5760540-1701369	Cascade School Supplies Cascade School	No	Pack 1 - 24 Sheet Pack 1 - 24 Sheet	21	Cascade Brand	115331	1.25	26.25		Cascade Brand 115331 Dark Green	Reject - did not submit sample for evaluation.
338	color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag. Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	EMERALD GREEN. Pacon Spectra #59132 or equal.	5760540-1701369	Cascade School Supplies Cascade School	No	Pack 1 - 24 Sheet Pack 1 - 24 Sheet	21	Cascade Brand	115331	1.25	26.25		Cascade Brand 115331 Dark Green	Reject - did not submit sample for evaluation.

340	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	NATIONAL BLUE. Pacon Spectra #59402 or equal.	5760540-1701364	Cascade School Supplies	No	1 - 24 Sheet Pack	17	Cascade Brand	115336	1.25	21.25		Cascade Brand 115336		Reject - did not submit sample for evaluation.
	color package, 24 streets/ poly bag.			заррисз		T GCK									
341	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	NATIONAL RED. Pacon Spectra #59182 or equal.	5760540-1701352		No	1 - 24 Sheet	33	Cascade Brand	115345	1.5	49.5		Cascade Brand 115345		Reject - did not submit sample for evaluation.
	color package, 24 sheets/poly bag.			Supplies		Pack									
342	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	ORANGE. Pacon Spectra #59162 or equal.	5760540-1078284	Cascade School	No	1 - 24 Sheet	53	Cascade Brand	115327	1.25	66.25		Cascade Brand 115327		Reject - did not submit sample for evaluation.
	color package, 24 sheets/poly bag.			Supplies		Pack									
343	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	PURPLE. Pacon Spectra #59072 or equal.	5760540-1701359	Cascade School	No	1 - 24 Sheet	34	Cascade Brand	115340	1.25	42.5		Cascade Brand 115340		Reject - did not submit sample for evaluation.
	color package, 24 sheets/poly bag.			Supplies		Pack									,
344	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	SEAL BROWN. Pacon Spectra #59232 or equal.	5760540-1701378	Cascade School	No	1 - 24 Sheet	15	Cascade Brand	115333	1.25	18.75	1	Cascade Brand 115333		Reject - did not submit sample for evaluation.
344	color package, 24 sheets/poly bag.	SEAL BROWN, Facon Spectra #33232 Of equal.	5/00340-1/015/8	Supplies	140	Pack	1.3	Cascade Didiid	113333	1.23	10.73		Cascade Didilu 115555		reject - did not submit sample for evaluation.
	· · · · · ·						1						1		
							1						1		
							1								
345	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	SPRING GREEN. Pacon Spectra #59112 or equal.	5760540-1701371	Cascade School Supplies	No	1 - 24 Sheet Pack	30	Cascade Brand	115329	1.25	37.5		Cascade Brand 115329 Light Green		Reject - did not submit sample for evaluation.
	color puchage, 2-7 streets) poly dag.			Заррпез		· uck	1						1		
							1						1		
							1						1		
					<u> </u>										
346	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	WHITE. Pacon Spectra #59002 or equal.	5760540-1650800		No	1 - 24 Sheet	46	Cascade Brand	115335	0.92	42.32		Cascade Brand 115335		Reject - did not submit sample for evaluation.
	color package, 24 sheets/poly bag.			Supplies		Pack									
331	Paper, art tissue, 20" x 30" sheets, deluxe-grade,	THIS NOTE APPLIES TO ITEM NOS. 331 through 346. Water soluble, the colors	5760540-1371868	John R Green Co	No	1 - 20 Sheet	308	PACON-P0058506	84975	2.62	806.96				
	assorted color package, 20 sheets/poly bag. Pacon	"bleed" when moistened, deluxe grade tissue will cut, crinkle or fold without				Pack									
	Spectra #58506 or equal.	tearing. PAPER MUST BE IN ORIGINAL POLY BAG FROM THE MANUFACTURER. CPSIA Certified. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED												Awarded	
		PRODUCT, NO SAMPLE IS REQUIRED.												Awarueu	
332	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	APPLE GREEN. Pacon Spectra #59122 or equal.	5760540-1701372	John R Green Co	No	1 - 24 Sheet	25	PACON-P0059122	38187	2.55	63.75				
	color package, 24 sheets/poly bag.					Pack									
														Awarded	
														Awarueu	
333	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	AZURE BLUE. Pacon Spectra #59102 or equal.	5760540-1701366	John R Green Co	No	1 - 24 Sheet	33	PACON-P0059102	57298	2.7	89.1				
333	color package, 24 sheets/poly bag.	Patota Basa. Facon Special #35102 of equal.	3700340 1701300	John It Green Co		Pack	33	17401110033102	37230	2	03.1				
														Awarded	
22.	Paner art tissue 2011 - 2011 - 1	DADY DINIV COMPANIES OF THE STATE OF THE STA	E760E40 47717	John P. Co.		1 210		DACON DOCUMENT	2040	2.55	101.5				
334	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	BABY PINK. Pacon Spectra #59042 or equal.	5760540-1701353	John R Green Co	No	1 - 24 Sheet Pack	41	PACON-P0059042	38184	2.55	104.55				
	, , , , , , , , , , , , , , , , , , , ,														
														Awarded	
335	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	BLACK. Pacon Spectra #59142 or equal.	5760540-1701380	John R Green Co	No	1 - 24 Sheet	24	PACON-P0059142	38189	2.55	61.2				
	color package, 24 sheets/poly bag.					Pack									
														Awarded	
336	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	CANARY. Pacon Spectra #59022 or equal.	5760540-1701345	John R Green Co	No	1 - 24 Sheet	46	PACON-P0059022	38182	2.55	117.3				
	color package, 24 sheets/poly bag.					Pack									
														Awarded	
337	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	DARK PINK. Pacon Spectra #59052 or equal.	5760540-1701355	John R Green Co	No	1 - 24 Sheet	60	PACON-P0059052	57609	2.55	153				
	color package, 24 sheets/poly bag.					Pack									
														Awarded	
338	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	EMERALD GREEN. Pacon Spectra #59132 or equal.	5760540-1701369	John R Green Co	No	1 - 24 Sheet	21	PACON-P0059132	38188	2.55	53.55				
	color package, 24 sheets/poly bag.					Pack									
														Awardod	
														Awarded	
					1										

220	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	AFRICA PLUE Prove Construction (CO242 construction)	F700F40 4704363	taka B Carra Ca		4 245h	26	DACON DO050343	20402	3.55	66.3			
339	Paper, art tissue, 20" x 30" sneets, deluxe-grade, one color package, 24 sheets/poly bag.	MEDIUM BLUE. Pacon Spectra #59342 or equal.	5760540-1701363	John R Green Co	No	1 - 24 Sheet Pack	26	PACON-P0059342	38193	2.55	66.3		Awarded	
340	Paper, art tissue, 20" x 30" sheets, deluxe:grade, one color package, 24 sheets/poly bag.	NATIONAL BLUE. Pacon Spectra #59402 or equal.	5760540-1701364	John R Green Co	No	1 - 24 Sheet Pack	17	PACON-P0059402	57545	2.55	43.35		Awarded	
341	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	NATIONAL RED. Pacon Spectra #59182 or equal.	5760540-1701352	John R Green Co	No	1 - 24 Sheet Pack	33	PACON-P0059182	38191	2.55	84.15		Awarded	
342	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	ORANGE. Pacon Spectra #59162 or equal.	5760540-1078284	John R Green Co	No	1 - 24 Sheet Pack	53	PACON-P0059162	38190	2.55	135.15		Awarded	
343	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	PURPLE. Pacon Spectra #59072 or equal.	5760540-1701359	John R Green Co	No	1 - 24 Sheet Pack	34	PACON-P0059072	38185	2.55	86.7		Awarded	
344	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	SEAL BROWN. Pacon Spectra #59232 or equal.	5760540-1701378	John R Green Co	No	1 - 24 Sheet Pack	15	PACON-P0059232	38192	2.55	38.25		Awarded	
345	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	SPRING GREEN. Pacon Spectra #59112 or equal.	5760540-1701371	John R Green Co	No	1 - 24 Sheet Pack	30	PACON-P0059112	38186	2.55	76.5		Awarded	
346	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	WHITE. Pacon Spectra #59002 or equal.	5760540-1650800	John R Green Co	No	1 - 24 Sheet Pack	46	PACON-P0059002	38181	2.13	97.98		Awarded	
331	Paper, art tissue, 20° x 30° sheets, deluxe-grade, assorted color package, 20 sheets/poly bag. Pacon Spectra #58506 or equal.	THIS NOTE APPLIES TO ITEM NOS. 331 through 346. Water soluble, the colors "bleed" when moistened, defuze grade itsus will cut, crinkle or fold without tearing. PAPER MUST 8E IN ORIGINAL POLY BAG FROM THE MANUFACTURER. CPSIA Certified. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760540-1371868	PYRAMID SCHOOL PRODUCTS	No	1 - 20 Sheet Pack	308	PACON	58506	2.69	828.52			
332	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	APPLE GREEN. Pacon Spectra #59122 or equal.	5760540-1701372	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Sheet Pack	25	PACON	59122	2.95	73.75			
333	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	AZURE BLUE. Pacon Spectra #59102 or equal.	5760540-1701366	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Sheet Pack	33	PACON	59102	2.95	97.35			
334	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	BABY PINK. Pacon Spectra #59042 or equal.	5760540-1701353	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Sheet Pack	41	PACON	59042	2.95	120.95			
335	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	BLACK. Pacon Spectra #59142 or equal.	5760540-1701380	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Sheet Pack	24	PACON	59142	2.95	70.8			
	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	CANARY. Pacon Spectra #59022 or equal.		PYRAMID SCHOOL PRODUCTS		1 - 24 Sheet Pack	46	PACON	59022	2.95	135.7			
337	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	DARK PINK. Pacon Spectra #59052 or equal.	5760540-1701355	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Sheet Pack	60	PACON	59132	2.95	177	TO BE DISCONTINUED		

338	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	EMERALD GREEN. Pacon Spectra #59132 or equal.	5760540-1701369	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Sheet Pack	21	PACON	59342	2.89	60.69			
339	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	MEDIUM BLUE. Pacon Spectra #59342 or equal.	5760540-1701363	PYRAMID SCHOOL	No	1 - 24 Sheet	26	PACON	59402	2.89	75.14			
	color package, 24 sheets/poly bag.			PRODUCTS		Pack								
240	Parametrizary 2011 2011 shorted deliver and	NATIONAL PLUE Province (Control MEDICO)	5750540 4704354	DVD A A AID CCUIDOU	No.	4 2456	47	DA CON	50403	2.00	40.43		TO BE DISCONTINUED	
340	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	NATIONAL BLUE. Pacon Spectra #59402 or equal.	5/60540-1/01364	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Sheet Pack	17	PACON	59402	2.89	49.13		TO BE DISCONTINUED	
341	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	NATIONAL RED. Pacon Spectra #59182 or equal.	5760540-1701352	PYRAMID SCHOOL	No	1 - 24 Sheet	33	PACON	59182	2.89	95.37		TO BE DISCONTINUED	
	color package, 24 sheets/poly bag.			PRODUCTS		Pack								
342	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	ORANGE. Pacon Spectra #59162 or equal.	5760540-1078284	PYRAMID SCHOOL	No	1 - 24 Sheet	53	PACON	59162	2.89	153.17	-		
	color package, 24 sheets/poly bag.			PRODUCTS		Pack								
1				[
1				[
343	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	PURPLE. Pacon Spectra #59072 or equal.	5760540-1701359	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Sheet Pack	34	PACON	59072	2.89	98.26			
1	and party out.					. Jen								
1				[
1														
344	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	SEAL BROWN. Pacon Spectra #59232 or equal.	5760540-1701378	PYRAMID SCHOOL	No	1 - 24 Sheet	15	PACON	59232	2.89	43.35			
	color package, 24 sheets/poly bag.			PRODUCTS		Pack								
345	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	SPRING GREEN. Pacon Spectra #59112 or equal.	5/60540-1/013/1	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Sheet Pack	30	PACON	59112	2.89	86.7			
346	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	WHITE. Pacon Spectra #59002 or equal.	5760540-1650800	PYRAMID SCHOOL	No	1 - 24 Sheet	46	PACON	59002	2.49	114.54			
	color package, 24 sheets/poly bag.			PRODUCTS		Pack								
331	Paper, art tissue, 20" x 30" sheets, deluxe-grade,	THIS NOTE APPLIES TO ITEM NOS. 331 through 346. Water soluble, the colors	5760540-1371868	Complete Printer	No	1 - 20 Sheet	308	Pacon	PAC58506	2.99	920.92			
	assorted color package, 20 sheets/poly bag. Pacon	"bleed" when moistened, deluxe grade tissue will cut, crinkle or fold without		Source		Pack								
	Spectra #58506 or equal.	tearing. PAPER MUST BE IN ORIGINAL POLY BAG FROM THE MANUFACTURER. CPSIA Certified. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED												
		PRODUCT, NO SAMPLE IS REQUIRED.												
332	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	APPLE GREEN. Pacon Spectra #59122 or equal.	5760540-1701372	Complete Printer Source	No	1 - 24 Sheet Pack	25	Pacon	PAC59122	3.19	79.75			
	3,,,,													
333	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	AZURE BLUE. Pacon Spectra #59102 or equal.	5760540-1701366		No	1 - 24 Sheet	33	Pacon	PAC59102	3.19	105.27			
	color package, 24 sheets/poly bag.			Source		Pack								
224	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	BABY PINK. Pacon Spectra #59042 or equal.	5760540 4704353	Complete Printer	No	1 - 24 Sheet	41	Pacon	PAC59042	3.19	130.79			
334	color package, 24 sheets/poly bag.	DADT FINN. FACUII SPECTTA #59042 OF equal.	5/00540-1/01353	Source Source	NO	1 - 24 Sheet Pack	41	Pacon	PAC59042	5.19	150.79			
335	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	BLACK. Pacon Spectra #59142 or equal.	5760540-1701380	Complete Printer	No	1 - 24 Sheet	24	Pacon	PAC59142	3.19	76.56			
	color package, 24 sheets/poly bag.			Source		Pack								
336	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	CANARY. Pacon Spectra #59022 or equal.	5760540-1701345	Complete Printer	No	1 - 24 Sheet	46	Pacon	PAC59022	3.19	146.74			
330	color package, 24 sheets/poly bag.	and a second sec	222.3 2702343	Source		Pack		. 30011			2.0.74			

337	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	DARK PINK. Pacon Spectra #59052 or equal.	5760540-1701355	Complete Printer	No	1 - 24 Sheet	60	Pacon	PAC59052	3.19	191.4				
	color package, 24 sheets/poly bag.			Source		Pack									
338	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	EMERALD GREEN. Pacon Spectra #59132 or equal.	5760540-1701369	Complete Printer Source	No	1 - 24 Sheet Pack	21	Pacon	PAC59132	3.19	66.99				
	color package, 24 sileets/ poly dag.			Source		Fack									
339	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	MEDIUM BLUE. Pacon Spectra #59342 or equal.	5760540-1701363	Complete Printer	No	1 - 24 Sheet	26	Pacon	PAC59342	3.19	82.94				
333	color package, 24 sheets/poly bag.	MEDION BEDE. Facon speed a 1939-12 of equal.	3700340 1701303	Source		Pack	20	1 00011	171033342	3.13	02.54				
340	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	NATIONAL BLUE. Pacon Spectra #59402 or equal.	5760540-1701364	Complete Printer	No	1 - 24 Sheet	17	Pacon	PAC59402	3.19	54.23				
	color package, 24 sheets/poly bag.			Source		Pack									
341	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	NATIONAL RED. Pacon Spectra #59182 or equal.	F760F40 17012F2	Complete Printer	No	1 - 24 Sheet	22	Pacon	PAC59182	3.19	105.27				
341	color package, 24 sheets/poly bag.	NATIONAL RED. Pacon spectra #59162 or equal.	3760340-1701332	Source	No	Pack	33	Pacon	PAC39162	5.19	105.27				
342	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	ORANGE. Pacon Spectra #59162 or equal.	5760540-1078284		No	1 - 24 Sheet	53	Pacon	PAC59162	3.19	169.07				
	color package, 24 sheets/poly bag.			Source		Pack									
	2011 2011	Number David Control	F760F46	Complete T. C.		4 24 5			DAGE	2	402.12				
343	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	PURPLE. Pacon Spectra #59072 or equal.	5760540-1701359	Complete Printer Source	No	1 - 24 Sheet Pack	34	Pacon	PAC59072	3.19	108.46				
344	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	SEAL BROWN. Pacon Spectra #59232 or equal.	5760540-1701378	Complete Printer	No	1 - 24 Sheet	15	Pacon	PAC59232	3.19	47.85				
	color package, 24 sheets/poly bag.			Source		Pack									
345	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one color package, 24 sheets/poly bag.	SPRING GREEN. Pacon Spectra #59112 or equal.	5760540-1701371	Complete Printer Source	No	1 - 24 Sheet Pack	30	Pacon	PAC59112	3.19	95.7				
346	Paper, art tissue, 20" x 30" sheets, deluxe-grade, one	WHITE. Pacon Spectra #59002 or equal.	5760540-1650800	Complete Printer	No	1 - 24 Sheet	46	Pacon	PAC59002	2.89	132.94				
	color package, 24 sheets/poly bag.			Source		Pack									
Lot Item								Manufacture	Manufacture	Hair Std		Vandas Barrers III			
Number 347-365	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
347	Paper, bulletin board, 48" x 50' roll, 50 lb. APPLE	THIS NOTE APPLIES TO ITEM NOS. 347 through 365. Premium, ultra fade-	5760220-1701575	School Specialty LLC		1 - 50 Foot	61	PACON FADELESS	57135	11.05	674.05		006159		
	GREEN. Pacon Fadeless #57135 or equal.	resistant bold, vibrant colors, acid free, paper is strong for folding, cuts cleanly and won't crack. CPSIA Certified, recyclable. SAMPLE = 1 swatchbook. IF				Roll								Augustan	
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												Awarded	
348	Paper, bulletin board, 48" x 50' roll, 50 lb. AZURE BLUE.	Pacon Fadeless #57165 or equal.	5760220-1701571	School Specialty LLC	No	1 - 50 Foot Roll	36	PACON FADELESS	57165	11.05	397.8		006165		
1						NOII								Awarded	
														Awarucu	
349	Paper, bulletin board, 48" x 50' roll, 50 lb. BLACK.	Pacon Fadeless #57305 or equal.	5760220-1701580	School Specialty LLC	No	1 - 50 Foot Roll	162	PACON FADELESS	57305	11.05	1790.1		006537		
				1				1						Awarded	
				1				1							
								l							
350	Paper, bulletin board, 48" x 50' roll, 50 lb. BRIGHT BLUE.	Pacon Fadeless #57175 or equal.	5760220-1701572	School Specialty LLC	No	1 - 50 Foot Roll	68	PACON FADELESS	57175	11.05	751.4		006828		
				1				1						Awarded	
				1				1							
354	Pages bullatin board 40% - 501 11 50 % pages	Decem Fordeless #E7365	E760330 30007:-	Cahaal Carrie 11 -	N -	1 505	24	DACON FARSI SCI	E7200	11.05	222.05		224745		
351	Paper, bulletin board, 48" x 50' roll, 50 lb. BRIGHT PURPLE.	Pacon Fadeless #57365 or equal.	ɔ/6U22U-2000712	School Specialty LLC	No	1 - 50 Foot Roll	21	PACON FADELESS	57365	11.05	232.05		221745		
														Awarded	
1			1	1				1			1	1			

352	Paper, bulletin board, 48" x 50' roll, 50 lb. BROWN.	Pacon Fadeless #57025 or equal.	5760220-1701579	School Specialty LLC	No	1 - 50 Foot Roll	34	PACON FADELESS	57025	11.05	375.7	006147	Awarded	
353	Paper, bulletin board, 48" x 50' roll, 50 lb. CANARY YELLOW.	Pacon Fadeless #57085 or equal.	5760220-1701563	School Specialty LLC	No	1 - 50 Foot Roll	91	PACON FADELESS	57085	11.05	1005.55	006153	Awarded	
354	Paper, bulletin board, 48" x 50' roll, 50 lb. EMERALD GREEN.	Pacon Fadeless #57145 or equal.	5760220-1701576	School Specialty LLC	No	1 - 50 Foot Roll	35	PACON FADELESS	57145	11.05	386.75	006162	Awarded	
355	Paper, bulletin board, 48" x 50' roll, 50 lb. FLAME RED.	Pacon Fadeless #57035 or equal.	5760220-1701567	School Specialty LLC	No	1 - 50 Foot Roll	79	PACON FADELESS	57035	11.05	872.95	006150	Awarded	
356	Paper, bulletin board, 48" x 50' roll, 50 lb. MAGENTA.	Pacon Fadeless #57345 or equal.	5760220-1701569	School Specialty LLC	No	1 - 50 Foot Roll	31	PACON FADELESS	57345	11.05	342.55	006827	Awarded	
357	Paper, bulletin board, 48" x 50' roll, 50 lb. NILE GREEN.	Pacon Fadeless #57125 or equal.	5760220-1701574	School Specialty LLC	No	1 - 50 Foot Roll	35	PACON FADELESS	57125	11.05	386.75	006534	Awarded	
358	Paper, bulletin board, 48" x 50' roll, 50 lb. ORANGE.	Pacon Fadeless #57105 or equal.	5760220-1701566	School Specialty LLC	No	1 - 50 Foot Roll	44	PACON FADELESS	57105	11.05	486.2	006156	Awarded	
359	Paper, bulletin board, 48" x 50' roll, 50 lb. PINK.	Pacon Fadeless #57265 or equal.	5760220-1701568	School Specialty LLC	No	1 - 50 Foot Roll	33	PACON FADELESS	57265	11.05	364.65	006171	Awarded	
360	Paper, bulletin board, 48" x 50' roll, 50 lb. RICH BLUE.	Pacon Fadeless #57185 or equal.	5760220-1701573	School Specialty LLC	No	1 - 50 Foot Roll	39	PACON FADELESS	57185	11.05	430.95	006168	Awarded	
361	Paper, bulletin board, 48" x 50' roll, 50 lb. ROYAL BLUE.	Pacon Fadeless #57205 or equal.	5760220-2000715	School Specialty LLC	No	1 - 50 Foot Roll	57	PACON FADELESS	57205	11.05	629.85	248000	Awarded	
362	Paper, bulletin board, 48" x 50' roll, 50 lb. SUNSET GOLD.	Pacon Fadeless #57885 or equal.	5760220-1701565	School Specialty LLC	No	1 - 50 Foot Roll	30	PACON FADELESS	57885	11.05	331.5	1369533	Awarded	
363	Paper, bulletin board, 48" x 50' roll, 50 lb. TEAL	Pacon Fadeless #57195 or equal.	5760220-2000711	School Specialty LLC	No	1 - 50 Foot Roll	46	PACON FADELESS	57195	11.05	508.3	221739	Awarded	
364	Paper, bulletin board, 48" x 50' roll, 50 lb. VIOLET.	Pacon Fadeless #57335 or equal.	5760220-1701570	School Specialty LLC	No	1 - 50 Foot Roll	45	PACON FADELESS	57335	11.05	497.25	006174	Awarded	
365	Paper, bulletin board, 48" x 50' roll, 50 lb. WHITE.	Pacon Fadeless #57015 or equal.		School Specialty LLC		1 - 50 Foot Roll	101	PACON FADELESS	57015	11.05	1116.05	006144	Awarded	
347	Paper, bulletin board, 48" x 50' roll, 50 lb. APPLE GREEN. Pacon Fadeless #57135 or equal.	THIS NOTE APPLIES TO ITEM NOS. 347 through 365. Premium, ultra fade- resistant bold, vibrant colors, acid free, paper is strong for folding, cuts cleanly, and won't crack. CPSIA Certified, recyclable. SAMPLE = 1 swartchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - 50 Foot Roll	61	PACON-P0057135	39188	11.47	699.67			
348	Paper, bulletin board, 48" x 50' roll, 50 lb. AZURE BLUE.	Pacon Fadeless #57165 or equal.	5760220-1701571	John R Green Co	No	1 - 50 Foot Roll	36	PACON-P0057165	39190	11.47	412.92			
349	Paper, bulletin board, 48" x 50' roll, 50 lb. BLACK.	Pacon Fadeless #57305 or equal.	5760220-1701580	John R Green Co	No	1 - 50 Foot Roll	162	PACON-P0057305	39193	12.6	2041.2			

350	Paper, bulletin board, 48" x 50' roll, 50 lb. BRIGHT BLUE.	Pacon Fadeless #57175 or equal.	5760220-1701572	John R Green Co	No	1 - 50 Foot Roll	68	PACON-P0057175	39192	11.47	779.96			
	BLUE.					Koli								
351	Paper, bulletin board, 48" x 50' roll, 50 lb. BRIGHT PURPLE.	Pacon Fadeless #57365 or equal.	5760220-2000712	John R Green Co	No	1 - 50 Foot Roll	21	PACON-P0057365	57292	13.08	274.68			
252	Paranchallatic hazari 40ll a 50l adil 50 lla PROVIN	David Fedding WE 702F annual	5750220 4704570	Inha B Course Co		4 505	24	DA CON DOOL 7035	57304	43.00	444.73			
352	Paper, bulletin board, 48" x 50' roll, 50 lb. BROWN.	Pacon Fadeless #57025 or equal.	5/60220-1/015/9	John R Green Co	No	1 - 50 Foot Roll	34	PACON-P0057025	57291	13.08	444.72			
353	Paper, bulletin board, 48" x 50' roll, 50 lb. CANARY	Pacon Fadeless #57085 or equal.	5760220-1701563	John R Green Co	No	1 - 50 Foot	91	PACON-P0057085	39184	11.47	1043.77			
***	YELLOW.					Roll								
354	Paper, bulletin board, 48" x 50' roll, 50 lb. EMERALD	Pacon Fadeless #57145 or equal.	5760220-1701576	John R Green Co	No	1 - 50 Foot	35	PACON-P0057145	39189	11.47	401.45			
	GREEN.					Roll								
355	Paper, bulletin board, 48" x 50' roll, 50 lb. FLAME RED.	Pacon Fadeless #57035 or equal.	5760220-1701567	John R Green Co	No	1 - 50 Foot	79	PACON-P0057035	39183	11.47	906.13			
						Roll								
356	Paper, bulletin board, 48" x 50' roll, 50 lb. MAGENTA.	Pacon Fadeless #57345 or equal.	5760220-1701569	John R Green Co	No	1 - 50 Foot Roll	31	PACON-P0057345	57287	13.08	405.48			
257	December 1 to 1 t	Barre Fedding #F742F	5750220 4704574	Inha B Carra Ca		4 505	35	PACON-P0057125	57264	43.00	457.0			
357	Paper, bulletin board, 48" x 50' roll, 50 lb. NILE GREEN.	Pacon Fadeless #57125 or equal.	5/60220-1/015/4	John R Green Co	No	1 - 50 Foot Roll	35	PACUN-PU05/125	5/264	13.08	457.8			
358	Paper, bulletin board, 48" x 50' roll, 50 lb. ORANGE.	Pacon Fadeless #57105 or equal.	5760220-1701566	John R Green Co	No	1 - 50 Foot	44	PACON-P0057105	39186	12.6	554.4			
						Roll								
359	Paper, bulletin board, 48" x 50' roll, 50 lb. PINK.	Pacon Fadeless #57265 or equal.	5760220-1701568	John R Green Co	No	1 - 50 Foot	33	PACON-P0057265	57294	13.08	431.64			
						Roll								
360	Paper, bulletin board, 48" x 50' roll, 50 lb. RICH BLUE.	Pacon Fadeless #57185 or equal.	5760220-1701573	John R Green Co	No	1 - 50 Foot Roll	39	PACON-P0057185	39191	11.47	447.33			
						KOII								
361	Paper, bulletin board, 48" x 50' roll, 50 lb. ROYAL BLUE.	Pacon Fadeless #57205 or equal.	5760220-2000715	John R Green Co	No	1 - 50 Foot Roll	57	PACON-P0057205	39182	11.44	652.08			
362	Paper, bulletin board, 48" x 50' roll, 50 lb. SUNSET	Pacon Fadeless #57885 or equal.	5760220-1701565	John R Green Co	No	1 - 50 Foot	30	PACON-P0057885	39177	12.29	368.7			
302	GOLD.		111111111111111111111111111111111111111	3,000,00		Roll	30							
363	Paper, bulletin board, 48" x 50' roll, 50 lb. TEAL.	Pacon Fadeless #57195 or equal.	5760220-2000711	John R Green Co	No	1 - 50 Foot	46	PACON-P0057195	57281	13.08	601.68			
						Roll								
364	Paper, bulletin board, 48" x 50' roll, 50 lb. VIOLET.	Pacon Fadeless #57335 or equal.	5760220-1701570	John R Green Co	No	1 - 50 Foot	45	PACON-P0057335	39185	11.47	516.15			
						Roll								
365	Paper, bulletin board, 48" x 50' roll, 50 lb. WHITE.	Pacon Fadeless #57015 or equal.	5760220-2000710	John R Green Co	No	1 - 50 Foot Roll	101	PACON-P0057015	39181	11.47	1158.47			
347	Paper, bulletin board, 48" x 50' roll, 50 lb. APPLE GREEN. Pacon Fadeless #57135 or equal.	THIS NOTE APPLIES TO ITEM NOS. 347 through 365. Premium, ultra fade- resistant bold, vibrant colors, acid free, paper is strong for folding, cuts cleanly	5760220-1701575	Cascade School Supplies	No	1 - 50 Foot Roll	61	Riteco	80107 CAS156086	11.77	717.97	Riteco 80107		
1		and won't crack. CPSIA Certified, recyclable. SAMPLE = 1 swatchbook. IF												
1		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												
1							l	1	1	1			1	

348	Paper, bulletin board, 48" x 50' roll, 50 lb. AZURE BLUE.	Pacon Fadeless #57165 or equal.	5760220-1701571	Cascade School Supplies	No	1 - 50 Foot Roll	36	Riteco	80077 CAS156088	11.77	423.72		Riteco 80077		
349	Paper, bulletin board, 48" x 50' roll, 50 lb. BLACK.	Pacon Fadeless #57305 or equal.	5760220-1701580	Cascade School	No	1 - 50 Foot	162	Riteco	80147 CAS156092	11.77	1906.74		Riteco 80147		
				Supplies		Roll									
350	Paper, bulletin board, 48" x 50' roll, 50 lb. BRIGHT	Pacon Fadeless #57175 or equal.	5760220-1701572	Cascade School	No	1 - 50 Foot	68	Riteco	80157 CAS156089	10.91	741.88		Riteco 80157		
	BLUE.			Supplies		Roll									
254	Page hallotic hazari 40ll a 50l adil 50 lh PRICUT	Pacon Fadeless #57365 or equal.	F760330 3000743	Consideration of		4 505	24	Diver Tirendense	20057365	44.77	247.47				
351	Paper, bulletin board, 48" x 50' roll, 50 lb. BRIGHT PURPLE.	Pacon radeless #57505 of equal.	5760220-2000712	Cascade School Supplies	No	1 - 50 Foot Roll	21	Dixon Ticonderoga	P0057365 CAS026972	11.77	247.17				
352	Paper, bulletin board, 48" x 50' roll, 50 lb. BROWN.	Pacon Fadeless #57025 or equal.	5760220-1701579		No	1 - 50 Foot	34	Riteco	80127 CAS156079	14.9	506.6		Riteco 80127		
				Supplies		Roll									
	December 1 to 1 t	Power Faddley ******	F760226	Count of the	L	4 555		P.	00047 6:		40	1	B14	1	
353	Paper, bulletin board, 48" x 50' roll, 50 lb. CANARY YELLOW.	Pacon Fadeless #57085 or equal.	5760220-1701563	Cascade School Supplies	No	1 - 50 Foot Roll	91	Riteco	80017 CAS156081	11.77	1071.07		Riteco 80017		
354	Paper, bulletin board, 48" x 50' roll, 50 lb. EMERALD	Pacon Fadeless #57145 or equal.	5760220-1701576	Cascade School	No	1 - 50 Foot	35	Riteco	80117 CAS156087	11.77	411.95		Riteco 80117	1	1
	GREEN.			Supplies		Roll									
355	Paper, bulletin board, 48" x 50' roll, 50 lb. FLAME RED.	Pacon Fadeless #57035 or equal.	5760220-1701567	Cascade School Supplies	No	1 - 50 Foot Roll	79	Riteco	80037 CAS156080	11.77	929.83		Riteco 80037		
				,											
356	Paper, bulletin board, 48" x 50' roll, 50 lb. MAGENTA.	Pacon Fadeless #57345 or equal.	5760220-1701569	Cascade School	No	1 - 50 Foot	31	Riteco	80167 CAS156096	11.77	364.87		Riteco 80167		
				Supplies		Roll									
357	Paper, bulletin board, 48" x 50' roll, 50 lb. NILE GREEN.	Pacon Fadeless #57125 or equal.	5760220-1701574	Cascade School Supplies	No	1 - 50 Foot Roll	35	Riteco	80097 CAS156085	11.77	411.95		Riteco 80097		
				Supplies		Koli									
358	Paper, bulletin board, 48" x 50' roll, 50 lb. ORANGE.	Pacon Fadeless #57105 or equal.	5760220-1701566	Cascade School	No	1 - 50 Foot	44	Riteco	80027 CAS156083	11.77	517.88		Riteco 80027		
				Supplies		Roll									
359	Paper, bulletin board, 48" x 50' roll, 50 lb. PINK.	Pacon Fadeless #57265 or equal.	5760220-1701568	Cascade School Supplies	No	1 - 50 Foot Roll	33	Riteco	80047 CAS156091	11.77	388.41		Riteco 80047		
				Supplies		Koli									
360	Paper, bulletin board, 48" x 50' roll, 50 lb. RICH BLUE.	Pacon Fadeless #57185 or equal.	5760220-1701573	Cascade School	No	1 - 50 Foot	39	Riteco	80087 CAS156090	10.91	425.49		Riteco 80087 Dark Blue		
	, , , , , , , , , , , , , , , , , , , ,			Supplies		Roll				-5.51			bur blue		
361	Paper, bulletin board, 48" x 50' roll, 50 lb. ROYAL BLUE.	Pacon Fadeless #57205 or equal.	5760220-2000715	Cascade School	No	1 - 50 Foot Roll	57	Dixon Ticonderoga	P0057205 CAS026968	14.9	849.3				
				Supplies		NOII			CASUZBYBS						
362	Paper, bulletin board, 48" x 50' roll, 50 lb. SUNSET	Pacon Fadeless #57885 or equal.	5760220-1701565	Cascade School	No	1 - 50 Foot	30	Dixon Ticonderoga	57885 CAS099000	14.9	447	+			
1	GOLD.			Supplies		Roll				1					
363	Paper, bulletin board, 48" x 50' roll, 50 lb. TEAL.	Pacon Fadeless #57195 or equal.	5760220-2000711		No	1 - 50 Foot Roll	46	Dixon	P0057195	14.9	685.4				
				Supplies		NOII		Ticonderoga/Pacon	CAS026967						
200	Pages hullatin heard 40" - FOI II FOI h 1871	Decem Endelses #57325	E760230 47045	Coread: Calara		1 505	**	Dir	90057 CASASSS	11.77	530.00		Ditess 90057 Promis		
364	Paper, bulletin board, 48" x 50' roll, 50 lb. VIOLET.	Pacon Fadeless #57335 or equal.	5760220-1701570	Cascade School Supplies	No	1 - 50 Foot Roll	45	Riteco	80057 CAS156095	11.77	529.65		Riteco 80057 Purple		
			1					1	1		1			1	1

365	Paper, bulletin board, 48" x 50' roll, 50 lb. WHITE.	Pacon Fadeless #57015 or equal.	5760220-2000710	Cascade School Supplies	No	1 - 50 Foot Roll	101	Riteco	80137 CAS156078	11.7	1181.7	Riteco 80137		
347	Paper, bulletin board, 48" x 50' roll, 50 lb. APPLE GREEN. Pacon Fadeless #57135 or equal.	THIS NOTE APPLIES TO ITEM NOS. 347 through 365. Premium, ultra fade- resistant bold, vibrant colors, acid free, paper is strong for folding, cuts cleanly and won't crack. CPSIA Certified, recyclable. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760220-1701575	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	61	PACON	57135	16.95	1033.95			
348	Paper, bulletin board, 48" x 50' roll, 50 lb. AZURE BLUE.	Pacon Fadeless #57165 or equal.	5760220-1701571	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	36	PACON	57165	16.95	610.2			
349	Paper, bulletin board, 48" x 50' roll, 50 lb. BLACK.	Pacon Fadeless #57305 or equal.	5760220-1701580	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	162	PACON	57305	16.95	2745.9			
350	Paper, bulletin board, 48" x 50' roll, 50 lb. BRIGHT BLUE.	Pacon Fadeless #571.75 or equal.	5760220-1701572	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	68	PACON	57175	16.95	1152.6			
351	Paper, bulletin board, 48" x 50' roll, 50 lb. BRIGHT PURPLE.	Pacon Fadeless #57365 or equal.	5760220-2000712	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	21	PACON	57365	16.95	355.95			
352	Paper, bulletin board, 48" x 50' roll, 50 lb. BROWN.	Pacon Fadeless #57025 or equal.	5760220-1701579	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	34	PACON	57025	16.95	576.3			
353	Paper, bulletin board, 48" x 50' roll, 50 lb. CANARY YELLOW.	Pacon Fadeless #57085 or equal.	5760220-1701563	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	91	PACON	57085	16.95	1542.45			
354	Paper, bulletin board, 48" x 50' roll, 50 lb. EMERALD GREEN.	Pacon Fadeless #57145 or equal.	5760220-1701576	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	35	PACON	57145	16.95	593.25			
355	Paper, bulletin board, 48" x 50" roll, 50 lb. FLAME RED.	Pacon Fadeless #57035 or equal.	5760220-1701567	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	79	PACON	57035	16.95	1339.05			
356	Paper, bulletin board, 48" x 50' roll, 50 lb. MAGENTA.	Pacon Fadeless #57345 or equal.	5760220-1701569	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	31	PACON	57346	16.95	525.45			
357	Paper, bulletin board, 48" x 50' roll, 50 lb. NILE GREEN.	Pacon Fadeless #57125 or equal.	5760220-1701574	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	35	PACON	57125	16.95	593.25			
358	Paper, bulletin board, 48" x 50' roll, 50 lb. ORANGE.	Pacon Fadeless #57105 or equal.	5760220-1701566	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	44	PACON	57105	16.95	745.8			
359	Paper, bulletin board, 48" x 50' roll, 50 lb. PINK.	Pacon Fadeless #57265 or equal.		PYRAMID SCHOOL PRODUCTS		1 - 50 Foot Roll	33	PACON	57265	16.95	559.35			
360	Paper, bulletin board, 48" x 50' roll, 50 lb. RICH BLUE.	Pacon Fadeless #57185 or equal.	5760220-1701573	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	39	PACON	57185	16.95	661.05			
361	Paper, bulletin board, 48" x 50' roll, 50 lb. ROYAL BLUE.	Pacon Fadeless #57205 or equal.		PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	57	PACON	57205	16.95	966.15			
362	Paper, bulletin board, 48" x 50' roll, 50 lb. SUNSET GOLD.	Pacon Fadeless #57885 or equal.	5760220-1701565	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	30	PACON	57885	16.95	508.5			

363	Paper, bulletin board, 48" x 50' roll, 50 lb. TEAL.	Pacon Fadeless #57195 or equal.	5760220-2000711	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	46	PACON	57195	16.95	779.7			
364	Paper, bulletin board, 48" x 50' roll, 50 lb. VIOLET.	Pacon Fadeless #57335 or equal.	5760220-1701570	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	45	PACON	57335	16.95	762.75			
365	Paper, bulletin board, 48" x 50' roll, 50 lb. WHITE.	Pacon Fadeless #57015 or equal.	5760220-2000710	PYRAMID SCHOOL PRODUCTS	No	1 - 50 Foot Roll	101	PACON	57015	16.95	1711.95			
347	Paper, bulletin board, 48" x 50' roll, 50 lb. APPLE GREEN. Pacon Fadeless #57135 or equal.	THIS NOTE APPLIES TO ITEM NOS. 347 through 365. Premium, ultra fade- resistant bold, vibrant colors, acif thep, paper is strong for folding, cuts cleanly, and won't crack. CPSIA Certified, recyclable. SAMPLE = 1 swarchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760220-1701575	Complete Printer Source	No	1 - 50 Foot Roll	61	Pacon	PAC57135	16.99	1036.39			
348	Paper, bulletin board, 48" x 50' roll, 50 lb. AZURE BLUE.	Pacon Fadeless #57165 or equal.	5760220-1701571	Complete Printer Source	No	1 - 50 Foot Roll	36	Pacon	PAC57165	19.99	719.64			
349	Paper, bulletin board, 48" x 50' roll, 50 lb. BLACK.	Pacon Fadeless #57305 or equal.	5760220-1701580	Complete Printer Source	No	1 - 50 Foot Roll	162	Pacon	PAC57305	16.99	2752.38			
350	Paper, bulletin board, 48" x 50' roll, 50 lb. BRIGHT BLUE.	Pacon Fadeless #57175 or equal.	5760220-1701572	Complete Printer Source	No	1 - 50 Foot Roll	68	Pacon	PAC57175	16.99	1155.32			
351	Paper, bulletin board, 48" x 50' roll, 50 lb. BRIGHT PURPLE.	Pacon Fadeless #57365 or equal.	5760220-2000712	Complete Printer Source	No	1 - 50 Foot Roll	21	Pacon	PAC57365	16.99	356.79			
352	Paper, bulletin board, 48" x 50' roll, 50 lb. BROWN.	Pacon Fadeless #57025 or equal.	5760220-1701579	Complete Printer Source	No	1 - 50 Foot Roll	34	Pacon	PAC57025	16.99	577.66			
353	Paper, bulletin board, 48" x 50' roll, 50 lb. CANARY YELLOW.	Pacon Fadeless #57085 or equal.	5760220-1701563	Complete Printer Source	No	1 - 50 Foot Roll	91	Pacon	PAC57085	16.99	1546.09			
354	Paper, bulletin board, 48" x 50' roll, 50 lb. EMERALD GREEN.	Pacon Fadeless #57145 or equal.	5760220-1701576	Complete Printer Source	No	1 - 50 Foot Roll	35	Pacon	PAC57145	16.99	594.65			
355	Paper, bulletin board, 48" x 50' roll, 50 lb. FLAME RED.	Pacon Fadeless #57035 or equal.	5760220-1701567	Complete Printer Source	No	1 - 50 Foot Roll	79	Pacon	PAC57035	16.99	1342.21			
356	Paper, bulletin board, 48" x 50' roll, 50 lb. MAGENTA.	Pacon Fadeless #57345 or equal.	5760220-1701569	Complete Printer Source	No	1 - 50 Foot Roll	31	Pacon	PAC57345	16.99	526.69			
357	Paper, bulletin board, 48" x 50' roll, 50 lb. NILE GREEN.	Pacon Fadeless #57125 or equal.	5760220-1701574	Complete Printer Source	No	1 - 50 Foot Roll	35	Pacon	PAC57125	16.99	594.65			
358	Paper, bulletin board, 48" x 50' roll, 50 lb. ORANGE.	Pacon Fadeless #57105 or equal.	5760220-1701566	Complete Printer Source	No	1 - 50 Foot Roll	44	Pacon	PAC57105	16.99	747.56			
359	Paper, bulletin board, 48" x 50' roll, 50 lb. PINK.	Pacon Fadeless #57265 or equal.	5760220-1701568	Complete Printer Source	No	1 - 50 Foot Roll	33	Pacon	PAC57265	16.99	560.67			
360	Paper, bulletin board, 48" x 50' roll, 50 lb. RICH BLUE.	Pacon Fadeless #57185 or equal.	5760220-1701573	Complete Printer Source	No	1 - 50 Foot Roll	39	Pacon	PAC57185	16.99	662.61			

Column C																
March Marc	361	Paper, bulletin board, 48" x 50' roll, 50 lb. ROYAL BLUE.	Pacon Fadeless #57205 or equal.	5760220-2000715		No		57	Pacon	PAC57205	16.99	968.43				
March Marc																
March Marc	262	Dance heller's board 401 - 501 and 50 h. CONST.	Programme and the second	5750320 4704565	Consider British	No.	4 505		B	DACE TOOK	45.00	500.7				
March Marc	362		racuii raueiess #37003 ui equai.	3760220-1701363		NO		30	Pacon	PAC37663	10.99	309.7				
March Marc																
March Marc	363	Paper, bulletin board, 48" v 50' roll, 50 lb, TEAL	Paron Fadeless #57195 or equal	5760220-2000711	Complete Printer	No	1 - 50 Foot	46	Pacon	PAC57195	16 99	781 54				
Total Mark	303	Paper, bulletill board, 40 × 30 foli, 30 lb. TEAL.	racon address #37133 or equal.	3700220-2000711		140		40	Facon	FAC3/133	10.55	761.34				
Total Mark																
Total Mark	364	Paper, bulletin board, 48" x 50' roll, 50 lb, VIOLET.	Pacon Fadeless #57335 or equal.	5760220-1701570	Complete Printer	No	1 - 50 Foot	45	Pacon	PAC57335	16.99	764.55				
The control of the																
The control of the																
Proc. Proc	365	Paper, bulletin board, 48" x 50' roll, 50 lb. WHITE.	Pacon Fadeless #57015 or equal.	5760220-2000710	Complete Printer	No	1 - 50 Foot	101	Pacon	PAC57015	16.99	1715.99				
COUNTY C					Source		Roll									
COUNTY C																
### Annual Process Control Con	347					No		61	PACON	TA301AG	22.31	1360.91				
Page Labert bown (27 CC Field, Mr. A. CASE SEAL Page Labert bown (27 CC Fie		GREEN. Pacon Fadeless #57135 or equal.	and won't crack. CPSIA Certified, recyclable. SAMPLE = 1 swatchbook. IF		Materials, LLC		Roll							47.25" x 50' TERMS: NET 30		
Manufacture			BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
April Apri	348	Paper, bulletin board, 48" x 50' roll, 50 lb. AZURE BLUE.	Pacon Fadeless #57165 or equal.	5760220-1701571		No		36	PACON		22.31	803.16	Please reference "Per Quote			
Manual Accordance Manu					Materials, LLC		Koll			BLUE				47.25" x 50" TERMS: NET 30		
Manual Accordance Manu																
Pages, buttern board, eff 150° eff, 50° eff, 5	349	Paper, bulletin board, 48" x 50' roll, 50 lb. BLACK.	Pacon Fadeless #57305 or equal.	5760220-1701580		No	1 - 50 Foot	162	PACON	TA301BK	22.31	3614.22				
Materials Mate					Waterials, EEC		Non							X 30 TENNS. NET 30		
Materials Mate																
135 Page, fullers based, 48° 50° oil, 50 is. BRIGHT Pages Tabeless 87755 or equal. 1700229-1800212 Linitation terring 10 1.5 for red 1.5 for r	350		Pacon Fadeless #57175 or equal.	5760220-1701572		No		68	PACON	TA301BB	22.31	1517.08				
Materials, LC Roll Materials, LC Roll																
Materials, LC Roll Materials, LC Roll																
1.50 Feet 1.50	351		Pacon Fadeless #57365 or equal.	5760220-2000712		No		21	PACON	TA301VT VIOLET	22.31	468.51				
Materials, LLC Field Field Materials, LLC Field													orders.			
Materials, LLC Field Field Materials, LLC Field																
Pager, billetin board, 48" x 57' roll, 50 lb, CANARY Paccor Fadeless 67/85 or equal. S760220-170350 Lakeshore Learning No 1 - 50' foot 50 lb PACON TAJOLICY 22.31 2000.21 Peace reference "Pir Cube Canary Yellow Fadeless 79/85 not TRAMS NET 30 Canary Yellow Fadeless 79/85 not TRAMS NET 30 PACON TAJOLICY 22.31 7700.25 Pager, bulletin board, 48" x 50' roll, 50 lb, MAGNITA. Paccor Fadeless 67/25 or equal. S760220-170350 Lakeshore Learning No 1 - 50' foot 70 PACON TAJOLICY 22.31 1702.25 Pager, bulletin board, 48" x 50' roll, 50 lb, MAGNITA. Paccor Fadeless 87/25 or equal. S760220-170350 Lakeshore Learning No 1 - 50' foot 30 PACON TAJOLICY 22.31 1702.24 Pager reference "Pir Cube 60' foot 60' f	352	Paper, bulletin board, 48" x 50' roll, 50 lb. BROWN.	Pacon Fadeless #57025 or equal.	5760220-1701579		No		34	PACON	TA301BR	22.31	758.54	#36577" on all purchase			
Materials, ILC Roll Pager, bulletin board, 48" x 50" roll, 50 lb. EMERALD Pacon Fadeless 67745 or equal. 5700220 3701576 Lakeshore Learning Roll S700220 3701576 Lakeshore Learning Ro													orders.			
Materials, ILC Roll Pager, bulletin board, 48" x 50" roll, 50 lb. EMERALD Pacon Fadeless 67745 or equal. 5700220 3701576 Lakeshore Learning Roll S700220 3701576 Lakeshore Learning Ro	252	Dance buildin board 49" v EO' vall EO lb CANADY	Dagon Endelses WE 700E or sound	E760220 1701E62	Labachara Lagraina	No	1 F0 Feet	01	DACON	TA301CV	22.24	2020.24	Please reference "Der Quete	Canani Vallau Fadalass® Danas Ball		
2.5 Paper, bulletin board, 48" x 50" roll, 50 lb. EMERALD Pacon Fadeless #57145 or equal. 5760220 1701576 Lakehore Learning Molerals, LLC No. 1 - 50 Foot 79 PACON TA301EG 22.31 2782.85 TEMSS NET 30 1.5	333		racuit radeless #37005 of equal.	3760220-1701363		NO		91	PACON	IASUICI	22.51	2030.21	#36577" on all purchase			
SEEN. Materials, LLC Roll SH6577" on all purchase orders. Roll - 47.25" x 50" TEMS: NET 30 Roll - 47.25 x 50" TEMS: NET 30 Roll - 47.25" x 50"													orders.			
SEEN. Materials, LLC Roll SH6577" on all purchase orders. Roll - 47.25" x 50" TEMS: NET 30 Roll - 47.25 x 50" TEMS: NET 30 Roll - 47.25" x 50"	354	Paper, bulletin board, 48" x 50' roll, 50 lb, EMERALD	Pacon Fadeless #57145 or equal.	5760220-1701576	Lakeshore Learning	No	1 - 50 Foot	35	PACON	TA301EG	22.31	780.85	Please reference "Per Quote	Emerald Green Fadeless® Paper		
355 Paper, bulletin board, 48° x 50' roll, 50 lb. FLAME RED. Pacon Fadeless #57035 or equal. 5760220-1701567 Lakeshore Learning Materials, LLC 8760220-1701567 Lakeshore Learning Materials, LLC 8760220-1701569 Lakeshore Learning Materials, LLC 8760220-17015	-												#36577" on all purchase			
### Materials, LLC ### Roll ### S07 roll, 50 lb. MAGENTA. Pacon Fadeless #57345 or equal. \$760220-1701569 Lakeshore Learning Materials, LLC ### Roll ### R																
Paper, bulletin board, 48" x 50" roll, 50 lb. MAGENTA. Pacon Fadeless #57345 or equal. 5760220-1701569 Lakeshore Learning Materials, LLC Roll 7801 780220-1701569 Lakeshore Learning Materials, LLC 880577" on all purchase orders. 78010	355	Paper, bulletin board, 48" x 50' roll, 50 lb. FLAME RED.	Pacon Fadeless #57035 or equal.	5760220-1701567	Lakeshore Learning	No	1 - 50 Foot	79	PACON	TA301FR	22.31	1762.49	Please reference "Per Quote	Flame Red Fadeless® Paper Roll -		
356 Paper, bulletin board, 48" x 50" roll, 50 lb. MAGENTA. Pacon Fadeless #57345 or equal. 5760220-1701569 Lakeshore Learning Materials, LLC Roll 3760220-1701569 Lakeshore Learning Materials, LLC No 1 - 50 Foot Roll A7.25" x 50" TERMS: NET 30 or equal. 5760220-1701574 Lakeshore Learning Materials, LLC No 1 - 50 Foot Roll A7.25" x 50" TERMS: NET 30 or equal. 5760220-1701574 Lakeshore Learning Materials, LLC No 1 - 50 Foot Roll A7.25" x 50" TERMS: NET 30 or equal. 5760220-1701574 Lakeshore Learning Materials, LLC No 1 - 50 Foot Roll A7.25" x 50" TERMS: NET 30 or equal. 5760220-1701566 Lakeshore Learning Materials, LLC Roll 7760220-1701566 Lakeshore Learning Materials, LLC Roll 780.85 Please reference "Per Quote Roll Green Fadeless" Paper Roll - 47.25" x 50" TERMS: NET 30 or equal. 780.85 Paper, bulletin board, 48" x 50" roll, 50 lb. ORANGE. 780.85 Paper, bulletin board, 48" x 50" roll, 50 lb. ORANGE. 880.85 Paper, bulletin board, 48" x 50" roll, 50 lb. ORANGE. 880.85 Paper Roll - 47.25" x 50" TERMS: NET 30 or equal. 880.85 Paper Roll - 47.25" x 50" TERMS: NET 30 or equal.					Materials, LLC		Roll							47.25" x 50' TERMS: NET 30		
#36577" on all purchase orders. #47.25" x 50" TERMS: NET 30 #725" x 50" TERMS: NET 30																
357 Paper, bulletin board, 48" x 50" roll, 50 lb. NILE GREEN. Pacon Fadeless #57125 or equal. 5760220-1701574 Lakeshore Learning Materials, LLC 8760220-1701574 Lakeshore Learning Materials, LLC 801 1 - 50 Foot Roll 22.31 780.85 Please reference "Per Quote #36577" on all purchase orders. 801 - 47.25" x 50" TERMS: NET 30 Please reference "Per Quote High Septiment of the properties o	356	Paper, bulletin board, 48" x 50' roll, 50 lb. MAGENTA.	Pacon Fadeless #57345 or equal.	5760220-1701569		No		31	PACON	TA301VT VIOLET	22.31	691.61				
Materials, LLC Roll EMERALD GREEN #36577" on all purchase orders. #36577" on all purchase orders. #3657					Materials, LLC		Roll							47.25" x 50' TERMS: NET 30		
Materials, LLC Roll EMERALD GREEN #36577" on all purchase orders. #36577" on all purchase orders. #3657																
358 Paper, bulletin board, 48" x 50' roll, 50 lb. ORANGE. Pacon Fadeless #57105 or equal. 5760220-1701566 Lakeshore Learning No 1 - 50 Foot 44 PACON TA301RG 22.31 981.64 Please reference "Per Quote #85577" on all purchase 47.25 x 50' TERMS. NET 30	357	Paper, bulletin board, 48" x 50' roll, 50 lb. NILE GREEN.	Pacon Fadeless #57125 or equal.	5760220-1701574		No		35	PACON		22.31	780.85				
Materials, LLC Roll #36577" on all purchase 47.25 x 50' TERMS: NET 30					iviaterials, LLC		NOII			EIVIERALD GREEN				NOIL 47.25 X 30 TERMS: NET 30		
Materials, LLC Roll #36577" on all purchase 47.25 x 50' TERMS: NET 30																
	358	Paper, bulletin board, 48" x 50' roll, 50 lb. ORANGE.	Pacon Fadeless #57105 or equal.	5760220-1701566		No		44	PACON	TA301RG	22.31	981.64				

359	Paper, bulletin board, 48" x 50' roll, 50 lb. PINK.	Pacon Fadeless #57265 or equal.	5760220-1701568	Lakeshore Learning Materials, LLC	No	1 - 50 Foot Roll	33	PACON	TA301VT VIOLET	22.31	736.23	Please reference "Per Quote #36577" on all purchase orders.	Violet Fadeless® Paper Roll - 47.25" x 50' TERMS: NET 30		
360	Paper, bulletin board, 48" x 50' roll, 50 lb. RICH BLUE.	Pacon Fadeless #57185 or equal.	5760220-1701573	Lakeshore Learning Materials, LLC	No	1 - 50 Foot Roll	39	PACON	TA301YB ROYAL BLUE	22.31	870.09	Please reference "Per Quote #36577" on all purchase orders.	Royal Blue Fadeless® Paper Roll - 47.25" x 50' TERMS: NET 30		
361	Paper, bulletin board, 48" x 50' roll, 50 lb. ROYAL BLUE.	Pacon Fadeless #57205 or equal.	5760220-2000715	Lakeshore Learning Materials, LLC	No	1 - 50 Foot Roll	57	PACON	TA301YB	22.31	1271.67	Please reference "Per Quote #36577" on all purchase orders.	Royal Blue Fadeless® Paper Roll - 47.25" x 50' TERMS: NET 30		
362	Paper, bulletin board, 48" x 50' roll, 50 lb. SUNSET GOLD.	Pacon Fadeless #57885 or equal.	5760220-1701565	Lakeshore Learning Materials, LLC	No	1 - 50 Foot Roll	30	PACON	TA301CY CANARY YELLOW	22.31	669.3	Please reference "Per Quote #36577" on all purchase orders.	Canary Yellow Fadeless® Paper Rol - 47.25" x 50' TERMS: NET 30		
363	Paper, bulletin board, 48" x 50' roll, 50 lb. TEAL.	Pacon Fadeless #57195 or equal.	5760220-2000711	Lakeshore Learning Materials, LLC	No	1 - 50 Foot Roll	46	PACON	TA301LB LIGHT BLUE	22.31	1026.26	Please reference "Per Quote #36577" on all purchase orders.	Light Blue Fadeless® Paper Roll - 47.25" x 50' TERMS: NET 30		
364	Paper, bulletin board, 48" x 50' roll, 50 lb. VIOLET.	Pacon Fadeless #57335 or equal.	5760220-1701570	Lakeshore Learning Materials, LLC	No	1 - 50 Foot Roll	45	PACON	TA301VT VIOLET	22.31	1003.95	Please reference "Per Quote #36577" on all purchase orders.	Violet Fadeless® Paper Roll - 47.25" x 50' TERMS: NET 30		
365	Paper, bulletin board, 48" x 50' roll, 50 lb. WHITE.	Pacon Fadeless #57015 or equal.	5760220-2000710	Lakeshore Learning Materials, LLC	No	1 - 50 Foot Roll	101	PACON	TA301WT	22.31	2253.31	Please reference "Per Quote #36577" on all purchase orders.	White Fadeless* Paper Roll - 47.25" x 50' TERMS: NET 30		
Lab the second															
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
366-367	Paper, card/cover stock, 8 1/2" x 11", 65 lb. weight,	Description Copier, inkjet and laser printer compatible, acid free for archival quality,	Commodity Code	Vendor Name School Specialty LLC	No Bid	1 - 250	Quantity 414	Provider PACON ARRAY	Part Number 101199	Price 19.88	Total Price 8230.32	Notes	Supplier Notes 1439847	Award Status	Award Notes
300	assorted lively colors, 250 sheet pack	Colpiet, inspect and asset printer Companions, acturater or a numerical region, but in the year or ange, lemon yellow, lime, marine blue, pumpkin, rojo red and violet). Pacon #101199 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	3760240-2012737	SCHOOL SPECIALLY LEC	NO	Sheet Pack	414	PACON ARRAY	101199	19.00	6230.32		1433047	Awarded	
367	Paper, card/cover stock, 8 1/2" x 11", 65 lb. weight, assorted pastel colors, 250 sheet pack	Copier, nişte and laser printer compatible, acid free for archival quality, (blue, canary, green, hot pink, lemon yellow, iliac, marine blue, pink, turquoise and violet). Pacon #101195 or equal. I: BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2012759	School Specialty LLC	No	1 - 250 Sheet Pack	340	PACON ARRAY	101195	19.88	6759.2		1439851	Awarded	
366	Paper, card/cover stock, 8 1/2" x 11", 65 lb. weight, assorted lively colors, 250 sheet pack	Copier, Inkjet and laser printer compatible, acid free for archival quality, (colbalt blue, emerald green, hot pink, hyper orange, Jemon yellow, lime, marine blue, pumpkin, rojo red and violet). Pacon #101199 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2012757	Complete Printer Source	No	1 - 250 Sheet Pack	414	Pacon	PAC101199	21.49	8896.86				
367	Paper, card/cover stock, 8 1/2" x 11", 65 lb. weight, assorted pastel colors, 250 sheet pack	Copier, inkjet and laser printer compatible, acid free for archival quality, (blue, canary, green, hot pink, lemon yellow, lilac, marine blue, pink, turquoise and violet). Pacon #101195 or equal. FIB DIDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2012759	Complete Printer Source	No	1 - 250 Sheet Pack	340	Pacon	PAC101195	21.09	7170.6				
366	Paper, card/cover stock, 8.1/2" x 11", 65 lb. weight, assorted lively colors, 250 sheet pack	Copier, inkjet and laser printer compatible, acid free for archival quality, (colbalt blue, emerald green, hot pink, hyper orange, lemon yellow, lime, marine blue, pumpkin, rojo red and violet). Pacon 101199 or cupal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2012757	John R Green Co	No	1 - 250 Sheet Pack	414	PACON-P101199	04088	21.91	9070.74				
367	Paper, card/cover stock, 8.1/2" x 11", 65 lb. weight, assorted pastel colors, 250 sheet pack	Copier, inkjet and laser printer compatible, acid free for archival quality, (blue, canary, green, hot pink, lemon yellow, lilac, marine blue, pink, turquoise and violet). Pacon #101195 or equal. IE BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2012759	John R Green Co	No	1 - 250 Sheet Pack	340	PACON-P101195	04087	21.91	7449.4				
366	Paper, card/cover stock, 8 1/2" x 11", 65 lb. weight, assorted lively colors, 250 sheet pack	Copier, inkjet and laser printer compatible, acid free for archival quality, (colbalt blue, emerald green, hot pink, hyper orange, lemon yellow, lime, marine blue, pumpkin, rojo red and violel; Pacon 8101199 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2012757	PYRAMID SCHOOL PRODUCTS	No	1 - 250 Sheet Pack	414	PACON	101199	23.95	9915.3				
367	Paper, card/cover stock, 8.1/2" x 11", 65 lb. weight, assorted pastel colors, 250 sheet pack	Copier, inkjet and laser printer compatible, acid free for archival quality, (blue, canary, green, hot pink, lemon yellow, lilac, marine blue, pink, turquoise and violet). Pacon #101195 or equal. El BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2012759	PYRAMID SCHOOL PRODUCTS	No	1 - 250 Sheet Pack	340	PACON	101195	23.95	8143				
								1							
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
	Item/Service	Description	Commodity Code	Vendor Name	No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes

368	Paper, card/cover stock, 8 1/2" x 11", 67 lb. weight. BLUE.	Acid free archival quality. 250 sheets/pk, laser and inkjet guaranteed performance. Wausau #82321 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-2012100 John R Gree	ı Co No	1 - 250 Sheet Pack	124	NEENAH-82321	04047	10.31	1278.44			Awarded	
369	Paper, card/cover stock, 8 1/2" x 11", 67 lb. weight. GREEN.	Acid free archival quality. 250 sheets/pk., laser and inkjet guaranteed performance. Wausau #82351 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-2012102 John R Gree	i Co No	1 - 250 Sheet Pack	116	NEENAH-82351	04048	10.31	1195.96			Awarded	
370	Paper, card/cover stock, 8 1/2" x 11", 67 lb. weight. WHITE.	Acid free archival quality. 250 sheets/pk, laser and inkjet guaranteed performance, 94 brightness rating. Wausau #80211 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-2012103 John R Gree	CO No	1 - 250 Sheet Pack	1162	NEENAH-80211	04049	10.01	11631.62			Awarded	
371	Paper, card/cover stock, 8 1/2" x 11", 67 lb. weight. YELLOW.	Acid free archival quality. 250 sheets/pk, laser and inkjet guaranteed performance. Wausau #82331 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-2012101 John R Gree	CO No	1 - 250 Sheet Pack	111	NEENAH-82331	04050	10.31	1144.41			Awarded	
368	Paper, card/cover stock, 8 1/2" x 11", 67 lb. weight. BLUE.	Acid free archival quality. 250 sheets/pk, laser and inkjet guaranteed performance. Wausau #82321 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-2012100 Complete Pr Source	nter No	1 - 250 Sheet Pack	124	Neenah	WAU82321	7.53	933.72				
369	Paper, card/cover stock, 8 1/2" x 11", 67 lb. weight. GREEN.	Acid free archival quality. 250 sheets/pk., laser and inkjet guaranteed performance. Wausau #82351 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-2012102 Complete Pr Source	nter No	1 - 250 Sheet Pack	116	Neenah	WAU82351	7.53	873.48				
370	Paper, card/cover stock, 8 1/2" x 11", 67 lb. weight. WHITE.	Acid free archival quality. 250 sheets/pk., laser and inkjet guaranteed performance, 94 brightness rating. Wausau #80211 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-2012103 Complete Pr Source	nter No	1 - 250 Sheet Pack	1162	Neenah	WAU80211	10.89	12654.18				
371	Paper, card/cover stock, 8 1/2" x 11", 67 lb. weight. YELLOW.	Acid free archival quality, 250 sheets/pk, laser and inkjet guaranteed performance. Wausau #82331 or equal. SAMPLE = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-2012101 Complete Pr Source	nter No	1 - 250 Sheet Pack	111	Neenah	WAU82331	7.53	835.83				
10														
Lot Item Number 372-375	Item/Service	Description Commo	lity Code Vendor Na	ne No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
372	BLUE.	250 sheets/pk., laser and inkjet guaranteed. Wausau #49521 or equal. SAMPLE S760240 = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-2012403 Complete Pr Source	nter No	1 - 250 Sheet Pack	54	Neenah	WAU49521	13.25	715.5			Awarded	
	Paper, card/cover stock, 8 1/2" x 11", 110 lb. weight. GREEN.	250 sheets/pk, laser and inkjet guaranteed. Wausau #49561 or equal. SAMPLE 5760240 = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	Source		1 - 250 Sheet Pack	30	Neenah	WAU49561	13.25	397.5			Awarded	
	Paper, card/cover stock, 8 1/2" x 11", 110 lb. weight. WHITE. Paper, card/cover stock, 8 1/2" x 11", 110 lb. weight.	250 sheets/pk, laser and inkjet guaranteed. Wausau #40411 or equal. SAMPLE 5760240 = 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. 250 sheets/pk, laser and inkjet guaranteed. Wausau #49541 or equal. SAMPLE 5760240	Source		1 - 250 Sheet Pack	754	Neenah Neenah	WAU40411 WAU49541	12.99	9794.46 848			Awarded	
	YELLOW.	250 sheets, Jpc., wase also impet guaranteed. Wausau #49521 or equal. SAMPLE 15760240 250 sheets, Jpc., laser and inkjet guaranteed. Wausau #49521 or equal. SAMPLE 15760240	Source		Sheet Pack	54	NEENAH-49521	04051	13.58	733.32			Awarded	
	BLUE.	= 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. 250 sheets/pk., laser and inkjet guaranteed. Wausau #49561 or equal. SAMPLE 5760240			Sheet Pack	30	NEENAH-49561	04052	13.58	407.4				
	GREEN.	= 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. 250 sheets/pk., laser and inkjet guaranteed. Wausau #40411 or equal. SAMPLE 5760240			Sheet Pack	754	NEENAH-40411	04053	13.29	10020.66				
	WHITE.	= 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. 250 sheets/pk., laser and inkjet guaranteed. Wausau #49541 or equal. SAMPLE 5760240			Sheet Pack	64	NEENAH-49541	04054	13.58	869.12				
	YELLOW.	= 2 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	John Gree		Sheet Pack		1,1,1,1,1,1	2.034	23.30					
Lot Item Number							Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
376-377	Item/Service Paper, chart, 24" x 32", individual sheets, 100/pkg., 1" plain ruled.	Description Common American Paper #9738 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	dity Code Vendor Na -1703866 School Special		1 - 100 Sheet Pack	Quantity 456	Provider APC	Part Number 9738	Price 11.39	Total Price 5193.84	Notes	Supplier Notes 1285050	Award Status Awarded	Award Notes
377	Paper, chart, 24" x 32", individual sheets, 100/pkg., 1 1/2" guide-ruled.	American Paper #9739 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-1703868 School Special	cy LLC No	1 - 100 Sheet Pack	130	APC	9739	11.39	1480.7		1285051	Awarded	
376	Paper, chart, 24" x 32", individual sheets, 100/pkg., 1" plain ruled.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	-1703866 Complete Pr Source	nter No	1 - 100 Sheet Pack	456	American Paper Converters	AMP9738	11.89	5421.84				
377	Paper, chart, 24" x 32", individual sheets, 100/pkg., 1 1/2" guide-ruled.	American Paper #9739 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. 5760440	-1703868 Complete Pr Source	nter No	1 - 100 Sheet Pack	130	American Paper Converters	AMP9739	11.89	1545.7				

376	Paper, chart, 24" x 32", individual sheets, 100/pkg., 1" plain ruled.	American Paper #9738 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1703866	John R Green Co	No	1 - 100 Sheet Pack	456	AMERICAN PAPER- 9738	79055	15.41	7026.96				
<u>377</u>	Paper, chart, 24" x 32", individual sheets, 100/pkg., 1 1/2" guide-ruled.	American Paper #9739 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1703868	John R Green Co	No	1 - 100 Sheet Pack	130	AMERICAN PAPER- 9739	57530	11.13	1446.9				
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
378-379 378	Item/Service Paper, chart, 24" x 32", tablet, white bond, spiral	Description Pacon #74610 or equal. SAMPLE = 1 tablet. IF BIDDING THE APPROVED	2500830-1703611		No Bid	UOM 1 - 25 Sheet	Quantity 498	Provider American Paper	Part Number APS2410	Price 3.78	Total Price 1882.44	Notes	Supplier Notes American Paper APS2410	Award Status	Award Notes Reject - did not submit sample for evaluation.
	bound, stiff back, 1" ruled, 2-hole punch 25 sheets/tablet.	PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		Pad			CAS166393						
379	Paper, chart, 24" x 32", tablet, white bond, spiral bound, stiff back, 1 1/2" ruled, 2-hole punch 25 sheets/tablet, 3/4" guideline and 1/2" skip space.	Pacon #74710 or equal. SAMPLE = 1 tablet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500830-1703612	Cascade School Supplies	No	1 - 25 Sheet Pad	653	American Paper	APS2415 CAS166399	3.78	2468.34		American Paper APS2415		Reject - did not submit sample for evaluation.
378	Paper, chart, 24" x 32", tablet, white bond, spiral bound, stiff back, 1" ruled, 2-hole punch 25 sheets/tablet.	Pacon #74610 or equal. SAMPLE = 1 tablet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500830-1703611	School Specialty LLC	No	1 - 25 Sheet Pad	498	PACON	74610	3.93	1957.14		006339	Awarded	
379	Paper, chart, 24" x 32", tablet, white bond, spiral bound, stiff back, 1 1/2" ruled, 2-hole punch 25 sheets/tablet, 3/4" guideline and 1/2" skip space.	Pacon #74710 or equal. SAMPLE = 1 tablet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500830-1703612	School Specialty LLC	No	1 - 25 Sheet Pad	653	PACON	74710	4.1	2677.3		1457443	Awarded	
378	Paper, chart, 24" x 32", tablet, white bond, spiral bound, stiff back, 1" ruled, 2-hole punch 25 sheets/tablet.	Pacon #74610 or equal. SAMPLE = 1 tablet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500830-1703611	Complete Printer Source	No	1 - 25 Sheet Pad	498	Pacon	PAC74610	4.69	2335.62				
379	Paper, chart, 24" x 32", tablet, white bond, spiral bound, stiff back, 1 1/2" ruled, 2-hole punch 25 sheets/tablet, 3/4" guideline and 1/2" skip space.	Pacon #74710 or equal. SAMPLE = 1 tablet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500830-1703612	Complete Printer Source	No	1 - 25 Sheet Pad	653	Pacon	PAC74710	4.74	3095.22				
378	Paper, chart, 24" x 32", tablet, white bond, spiral bound, stiff back, 1" ruled, 2-hole punch 25 sheets/tablet.	Pacon #74610 or equal. SAMPLE = 1 tablet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500830-1703611	John R Green Co	No	1 - 25 Sheet Pad	498	PACON-P0074610	20035	6.21	3092.58				
379	Paper, chart, 24" x 32", tablet, white bond, spiral bound, stiff back, 1 1/2" ruled, 2-hole punch 25 sheets/tablet, 3/4" guideline and 1/2" skip space.	Pacon #74710 or equal. SAMPLE = 1 tablet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500830-1703612	John R Green Co	No	1 - 25 Sheet Pad	653	PACON-74710	50146	7.77	5073.81				
378	Paper, chart, 24" x 32", tablet, white bond, spiral bound, stiff back, 1" ruled, 2-hole punch 25 sheets/tablet.	Pacon #74610 or equal. SAMPLE = 1 tablet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500830-1703611	Lakeshore Learning Materials, LLC	No	1 - 25 Sheet Pad	498	PACON	BJ7461	15.8	7868.4	Please reference "Per Quote #36571 " on all purchase orders.	1" Ruled Portrait Chart Tablet - 24" x 32" TERMS: NET 30		
379	Paper, chart, 24" x 32", tablet, white bond, spiral bound, stiff back, 1 1/2" ruled, 2-hole punch 25 sheets/tablet, 3/4" guideline and 1/2" skip space.	Pacon #74710 or equal. SAMPLE = 1 tablet. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500830-1703612	Lakeshore Learning Materials, LLC	No	1 - 25 Sheet Pad	653	PACON	BJ7471	15.8	10317.4	Please reference "Per Quote #36571 " on all purchase orders.	1 1/2" Ruled Portrait Chart Tablet - 24" x 32" TERMS: NET 30		
Lot Item Number 380-396	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
380	Paper, construction, 100% sulphite, 9" x 12", 76 lb. STANDARD ASSORTED PACKAGE (black, blue, dark frown, festive green, orange, jink, red, sky blue, white and yellow). Pacon Tru-Ray #103031 or equal.	THIS NOTE APPLIES TO ITEM NOS. 380 through 396. 50 sheet/pkg, fade resistant, longer stronger fiber for paper tough enough to be scored, folded and curled without cracking and tearing, Acid free, 100% vat dyed. Each package MUST be marked with full description, i.e., 100% sulphiles, size, color, etc. SAMPLE = 1 swatchbook. If BIDINIS THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		School Specialty LLC		1 - 50 Sheet Pack	752	PACON TRU-RAY	103031	2.02	1519.04		054054	Awarded	
381	Paper, construction, 100% sulphite, 9" x 12", 76 lb. BRIGHT ASSORTED PACKAGE	(atomic blue, brilliant lime, festive green, festive red, gold, magenta, pumpkin, shocking pink, turquoise and violet). Pacon Tru-Ray #102940 or equal.	5760160-1649956	School Specialty LLC	No	1 - 50 Sheet Pack	511	PACON TRU-RAY	102940	2.06	1052.66		247968	Awarded	
382	Paper, construction, 100% sulphite, 9" x 12", 76 lb. COOL ASSORTED PACKAGE	(blue, brilliant lime, dark green, festive green, light green, lilac, royal blue, sky blue, turquoise and violet). Pacon Tru-Ray #102942 or equal.	5760160-1649960	School Specialty LLC	No	1 - 50 Sheet Pack	332	PACON TRU-RAY	102942	2.09	693.88		1398098	Awarded	
383	Paper, construction, 100% sulphite, 9" x 12", 76 lb. WARM ASSORTED PACKAGE	(electric orange, festive red, gold, holiday red, light yellow, orange, pink, pumpkin, shocking pink and yellow). Pacon Tru-Ray #102947 or equal.	5760160-1701384	School Specialty LLC	No	1 - 50 Sheet Pack	265	PACON TRU-RAY	102947	2.09	553.85		1398064	Awarded	
384	Paper, construction, 100% sulphite, 9" x 12", 76 lb. BLACK.	Pacon Tru-Ray #103029 or equal.	5760160-1649941	School Specialty LLC	No	1 - 50 Sheet Pack	500	PACON TRU-RAY	103029	1.59	795		1006763	Awarded	

385	Paper, construction, 100% sulphite, 9" x 12", 76 lb. BLUE.	Pacon Tru-Ray #103022 or equal.	5/60160-1649945	School Specialty LLC	No	1 - 50 Sheet Pack	405	PACON TRU-RAY	103022	1.8	729		054027		
														Awarded	
386	Paper, construction, 100% sulphite. 9" x 12", 76 lb.	Pacon Tru-Ray #103024 or equal.	5760160-2014366	School Specialty LLC	No	1 - 50 Sheet	95	PACON TRU-RAY	103024	1.66	157.7		054033		
300	DARK BROWN.	racon na nay m203024 or equal.	3700100 2014300	School Specialty Lee	140	Pack	33	TACON INC ION	103024	1.00	237.7		034033		
														Awarded	
387	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103027 or equal.	5760160-2014367	School Specialty LLC	No	1 - 50 Sheet	163	PACON TRU-RAY	103027	1.66	270.58		054042		
	GRAY.					Pack									
														Awarded	
388	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #102960 or equal.	5760160-1649938	School Specialty LLC	No	1 - 50 Sheet	442	PACON TRU-RAY	102960	1.95	861.9		216777		
	HOLIDAY GREEN.	,		,		Pack									
														Awarded	
389	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #102993 or equal.	5760160-1649939	School Specialty LLC	No	1 - 50 Sheet	507	PACON TRU-RAY	102993	1.84	932.88		216775		
	HOLIDAY RED.					Pack		'							
														Awarded	
390	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103002 or equal.	5760160-1649943	School Specialty LLC	No	1 - 50 Sheet	317	PACON TRU-RAY	103002	1.8	570.6		053964		
	ORANGE.	,		, , ,		Pack									
														Awarded	
391	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103012 or equal.	5760160-2014369	School Specialty LLC	No	1 - 50 Sheet	441	PACON TRU-RAY	103012	1.77	780.57		053997		
331	PINK.	ration rid hay #103012 or equal.	3700100 2014303	School Specialty LLC	140	Pack		TACON INC ION	103012	2.77	700.37		033337		
														Awarded	
392	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103019 or equal.	5760160.1640046	School Specialty LLC	No	1 - 50 Sheet	249	PACON TRU-RAY	103019	1.92	478.08		054411		
332	PURPLE.	Facon Hu-hay #103013 or equal.	3700100-1043340	School Specialty EEC	140	Pack	243	PACON ING-NAT	103013	1.32	476.00		034411		
														Awarded	
393	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103013 or equal.	5760160.2014270	School Specialty LLC	No	1 - 50 Sheet	251	PACON TRU-RAY	103013	1.8	451.8		054000		
333	SHOCKING PINK.	racon munay #103013 or equal.	3700100-2014370	School Specialty LLC	140	Pack	231	PACON ING-NAT	103013	1.0	431.0		034000		
														Awarded	
394	Paper construction 100% sulphits 0" u 13" 75 "	Pagen Tru-Pay #102025 or onvol	5760160 1640012	School Specialty LLC	N-	1 - 50 Sheet	284	PACON TRU-RAY	103025	1.55	471.44		054036		
394	Paper, construction, 100% sulphite, 9" x 12", 76 lb. WARM BROWN.	Pacon Tru-Ray #103025 or equal.	3700100-1049942	scrious specialty LLC	No	1 - 50 Sheet Pack	264	PACON INU-KAY	103025	1.66	4/1.44		U34U3B		
														Awarded	
395	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103026 or equal.	E760160 45405 : :	School Specialty LLC	N-	1 50.05	1222	DACON TRUE DAY	103026	1.41	1878.12		1006764		
395	Paper, construction, 100% sulphite, 9" x 12", 76 lb. WHITE.	racon nu-nay #103026 or equal.	3700100-1049944	scrious specialty LLC	140	1 - 50 Sheet Pack	1552	PACON INU-KAY	103026	1.41	10/8.12		1000/64		
														Awarded	
396	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103004 or equal.	5760160 1640010	School Specialty LLC	No	1 - 50 Sheet	434	PACON TRU-RAY	103004	1.77	768.18		053970		
396	Paper, construction, 100% sulphite, 9" x 12", 76 lb. YELLOW.	racon nu-nay #103004 or equal.	3/00100-1049940	scrious specialty LLC	140	1 - 50 Sheet Pack	434	PACON INU-KAY	105004	1.//	/06.18		U339/U		
														Awarded	
380	Paper, construction, 100% sulphite, 9" x 12", 76 lb. STANDARD ASSORTED PACKAGE (black, blue, dark	THIS NOTE APPLIES TO ITEM NOS. 380 through 396. 50 sheet/pkg. fade resistant, longer stronger fiber for paper tough enough to be scored, folded	5760160-1077445	John R Green Co	No	1 - 50 Sheet Pack	752	PACON/TRU-RAY- 00SC-103031	37099	2.09	1571.68				
	brown, festive green, orange, pink, red, sky blue, white	and curled without cracking and tearing. Acid free, 100% vat dyed. Each				PdCK		003C-103031							
	and yellow). Pacon Tru-Ray #103031 or equal.	package MUST be marked with full description, i.e., 100% sulphite, size, color,													
		etc. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO													
		SAMPLE IS REQUIRED.													

381	Paper, construction, 100% sulphite, 9" x 12", 76 lb. BRIGHT ASSORTED PACKAGE	(atomic blue, brilliant lime, festive green, festive red, gold, magenta, pumpkin, shocking pink, turquisce and violet). Pacon Tru-Ray #102940 or equal.	5760160-1649956	John R Green Co	No	1 - 50 Sheet Pack	511	PACON/TRU-RAY- P102940	37599	2.09	1067.99			
382	Paper, construction, 100% sulphite, 9" x 12", 76 lb. COOL ASSORTED PACKAGE	(blue, brilliant lime, dark green, festive green, light green, lilac, royal blue, sky blue, turquoise and violet). Pacon Tru-Ray #102942 or equal.	5760160-1649960	John R Green Co	No	1 - 50 Sheet Pack	332	PACON/TRU-RAY- P102942	37084	2.22	737.04			
383	Paper, construction, 100% sulphite, 9" x 12", 76 lb. WARM ASSORTED PACKAGE	(electric orange, festive red, gold, holiday red, light yellow, orange, pink, pumpkin, shocking pink and yellow). Pacon Tru-Ray #102947 or equal.	5760160-1701384	John R Green Co	No	1 - 50 Sheet Pack	265	PACON/TRU-RAY- P102947	37085	2.27	601.55			
384	Paper, construction, 100% sulphite, 9" x 12", 76 lb. BLACK.	Pacon Tru-Ray #103029 or equal.	5760160-1649941	John R Green Co	No	1 - 50 Sheet Pack	500	PACON/TRU-RAY- 57SC-103029	37081	2.09	1045			
385	Paper, construction, 100% sulphite, 9" x 12", 76 lb. BLUE.	Pacon Tru-Ray #103022 or equal.	5760160-1649945	John R Green Co	No	1 - 50 Sheet Pack	405	PACON/TRU-RAY- 33SC-103022	37030	1.96	793.8			
386	Paper, construction, 100% sulphite. 9" x 12", 76 lb. DARK BROWN.	Pacon Tru-Ray #103024 or equal.	5760160-2014366	John R Green Co	No	1 - 50 Sheet Pack	95	PACON/TRU-RAY- 50SC-103024	37017	2.02	191.9			
387	Paper, construction, 100% sulphite, 9" x 12", 76 lb. GRAY.	Pacon Tru-Ray #103027 or equal.	5760160-2014367	John R Green Co	No	1 - 50 Sheet Pack	163	PACON/TRU-RAY- 55SC-103027	37010	1.9	309.7			
388	Paper, construction, 100% sulphite, 9" x 12", 76 lb. HOLIDAY GREEN.	Pacon Tru-Ray #102960 or equal.	5760160-1649938	John R Green Co	No	1 - 50 Sheet Pack	442	PACON/TRU-RAY- 18SC-102960	37033	2.21	976.82			
389	Paper, construction, 100% sulphite, 9" x 12", 76 lb. HOLIDAY RED.	Pacon Tru-Ray #102993 or equal.	5760160-1649939	John R Green Co	No	1 - 50 Sheet Pack	507	PACON/TRU-RAY- 84SC-102993	37029	2.21	1120.47			
390	Paper, construction, 100% sulphite, 9" x 12", 76 lb. ORANGE.	Pacon Tru-Ray #103002 or equal.	5760160-1649943	John R Green Co	No	1 - 50 Sheet Pack	317	PACON/TRU-RAY- 3SC-103002	37060	2.1	665.7			
391	Paper, construction, 100% sulphite, 9" x 12", 76 lb. PINK.	Pacon Tru-Ray #103012 or equal.	5760160-2014369	John R Green Co	No	1 - 50 Sheet Pack	441	PACON/TRU-RAY- 14SC-103012	37026	1.94	855.54			
392	Paper, construction, 100% sulphite, 9" x 12", 76 lb. PURPLE.	Pacon Tru-Ray #103019 or equal.	5760160-1649946	John R Green Co	No	1 - 50 Sheet Pack	249	PACON/TRU-RAY- 23SC-103019	37071	1.97	490.53			
393	Paper, construction, 100% sulphite, 9" x 12", 76 lb. SHOCKING PINK.	Pacon Tru-Ray #103013 or equal.	5760160-2014370	John R Green Co	No	1 - 50 Sheet Pack	251	PACON/TRU-RAY- P103013	37021	2.09	524.59			

												1	_	
394	Paper, construction, 100% sulphite, 9" x 12", 76 lb. WARM BROWN.	Pacon Tru-Ray #103025 or equal.	5760160-1649942	John R Green Co	No	1 - 50 Sheet Pack	284	PACON/TRU-RAY- 51SC-103025	37016	1.97	559.48			
395	Paper, construction, 100% sulphite, 9" x 12", 76 lb. WHITE.	Pacon Tru-Ray #103026 or equal.	5760160-1649944	John R Green Co	No	1 - 50 Sheet Pack	1332	PACON/TRU-RAY- 53SC-103026	37080	1.9	2530.8			
396	Paper, construction, 100% sulphite, 9" x 12", 76 lb. YELLOW.	Pacon Tru-Ray #103004 or equal.		John R Green Co	No	1 - 50 Sheet Pack	434	PACON/TRU-RAY- 5SC-103004	37050	1.96	850.64			
380	Paper, construction, 100% sulphite, 9" x 12", 76 lb. STANDARD ASSORTED PACKAGE (black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103031 or equal.	THIS NOTE APPLIES TO ITEM NOS. 380 through 396. 50 sheet/pkg, fade resistant, longer stronger fiber for paper tough enough to be scored, folded and curled without cracking and tearing. Acid free, 100% vat dyed. Each package MUST be marked with full description, i.e., 100% sulphite, size, color, etc. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760160-1077445	Complete Printer Source	No	1 - 50 Sheet Pack	752	Pacon	PAC103031	2.39	1797.28			
381	Paper, construction, 100% sulphite, 9" x 12", 76 lb. BRIGHT ASSORTED PACKAGE	(atomic blue, brilliant lime, festive green, festive red, gold, magenta, pumpkin, shocking pink, turquoise and violet). Pacon Tru-Ray #102940 or equal.	5760160-1649956	Complete Printer Source	No	1 - 50 Sheet Pack	511	Pacon	PAC102940	2.49	1272.39			
382	Paper, construction, 100% sulphite, 9" x 12", 76 lb. COOL ASSORTED PACKAGE	(blue, brilliant lime, dark green, festive green, light green, lilac, royal blue, sky blue, turquoise and violet). Pacon Tru-Ray #102942 or equal.	5760160-1649960	Complete Printer Source	No	1 - 50 Sheet Pack	332	Pacon	PAC102942	2.44	810.08			
383	Paper, construction, 100% sulphite, 9" x 12", 76 lb. WARM ASSORTED PACKAGE	(electric orange, festive red, gold, holiday red, light yellow, orange, pink, pumpkin, shocking pink and yellow). Pacon Tru-Ray #102947 or equal.	5760160-1701384	Complete Printer Source	No	1 - 50 Sheet Pack	265	Pacon	PAC102947	2.44	646.6			
384	Paper, construction, 100% sulphite, 9" x 12", 76 lb. BIACK.	Pacon Tru-Ray #103029 or equal.	5760160-1649941	Complete Printer Source	No	1 - 50 Sheet Pack	500	Pacon	PAC103029	2.09	1045			
385	Paper, construction, 100% sulphite, 9" x 12", 76 lb. BLUE.	Pacon Tru-Ray #103022 or equal.	5760160-1649945	Complete Printer Source	No	1 - 50 Sheet Pack	405	Pacon	PAC103022	2.39	967.95			
386	Paper, construction, 100% sulphite. 9" x 12", 76 lb. DARK BROWN.	Pacon Tru-Ray #103024 or equal.	5760160-2014366	Complete Printer Source	No	1 - 50 Sheet Pack	95	Pacon	PAC103024	2.39	227.05			
387	Paper, construction, 100% sulphite, 9" x 12", 76 lb. GRAY.	Pacon Tru-Ray #103027 or equal.	5760160-2014367	Complete Printer Source	No	1 - 50 Sheet Pack	163	Pacon	PAC103027	2.39	389.57			
388	Paper, construction, 100% sulphite, 9" x 12", 76 lb. HOLIDAY GREEN.	Pacon Tru-Ray #102960 or equal.	5760160-1649938	Complete Printer Source	No	1 - 50 Sheet Pack	442	Pacon	PAC102960	2.39	1056.38			
389	Paper, construction, 100% sulphite, 9" x 12", 76 lb. HOUDAY RED.	Pacon Tru-Ray #102993 or equal.	5760160-1649939	Complete Printer Source	No	1 - 50 Sheet Pack	507	Pacon	PAC102993	2.39	1211.73			

	,													
390	Paper, construction, 100% sulphite, 9" x 12", 76 lb. ORANGE.	Pacon Tru-Ray #103002 or equal.	5760160-1649943	Complete Printer Source	No	1 - 50 Sheet Pack	317	Pacon	PAC103002	2.39	757.63			
	ORANGE.			Source		Pack								
391	Paper, construction, 100% sulphite, 9" x 12", 76 lb. PINK.	Pacon Tru-Ray #103012 or equal.	5760160-2014369	Complete Printer Source	No	1 - 50 Sheet Pack	441	Pacon	PAC103012	2.39	1053.99			
	11111			Source		ruck								
								_						
392	Paper, construction, 100% sulphite, 9" x 12", 76 lb. PURPLE.	Pacon Tru-Ray #103019 or equal.	5760160-1649946	Complete Printer Source	No	1 - 50 Sheet Pack	249	Pacon	PAC103019	2.39	595.11			
393	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103013 or equal.	5760160-2014370	Complete Printer	No	1 - 50 Sheet	251	Pacon	PAC103013	2.39	599.89		-	
293	SHOCKING PINK.	Pacon Tru-Nay #103013 or equal.	3760160-2014370	Source	NO	Pack	251	Pacon	PACIUSUIS	2.39	399.09			
1					1									
1					1									
394	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103025 or equal.	5760160-1649947	Complete Printer	No	1 - 50 Sheet	284	Pacon	PAC103025	2.39	678.76			+
1 334	WARM BROWN.		1043542	Source		Pack		. 22011			2.3.70			
1					1									
1					1									
1					1									
395	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103026 or equal.	5760160-1649944	Complete Printer	No	1 - 50 Sheet	1332	Pacon	PAC103026	2.39	3183.48			
	WHITE.			Source		Pack								
396	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103004 or equal.	5760160-1649940		No	1 - 50 Sheet	434	Pacon	PAC103004	2.39	1037.26			
	YELLOW.			Source		Pack								
380	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	THIS NOTE APPLIES TO ITEM NOS. 380 through 396. 50 sheet/pkg. fade	5760160-1077445		No	1 - 50 Sheet	752	Dixon Ticonderoga	P103031	2.41	1812.32			
	STANDARD ASSORTED PACKAGE (black, blue, dark brown, festive green, orange, pink, red, sky blue, white	resistant, longer stronger fiber for paper tough enough to be scored, folded and curled without cracking and tearing. Acid free, 100% vat dyed. Each		Supplies		Pack			CAS016486					
	and yellow). Pacon Tru-Ray #103031 or equal.	package MUST be marked with full description, i.e., 100% sulphite, size, color,												
		etc. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO												
		SAMPLE IS REQUIRED.												
381	Paper, construction, 100% sulphite, 9" x 12", 76 lb. BRIGHT ASSORTED PACKAGE	(atomic blue, brilliant lime, festive green, festive red, gold, magenta, pumpkin, shocking pink, turquoise and violet).	5760160-1649956	Cascade School Supplies	No	1 - 50 Sheet Pack	511	Dixon Ticonderoga	P102940 CAS032327	2.41	1231.51			
	BRIGHT ASSURTED PACKAGE	Pacon Tru-Ray #102940 or equal.		Supplies		PdLK			CA3032327					
	Barrer and a second sec	Heles helles helles ded over factors	F750456	Count 5		4 50 51	200	Diversity :	D40== -=		007.17			
382	Paper, construction, 100% sulphite, 9" x 12", 76 lb. COOL ASSORTED PACKAGE	(blue, brilliant lime, dark green, festive green, light green, lilac, royal blue, sky blue, turquoise and violet). Pacon Tru-Ray #102942 or equal.	5/60160-1649960	Cascade School Supplies	No	1 - 50 Sheet Pack	332	Dixon Ticonderoga	P102942 CAS032329	2.41	800.12			
		, and the second		оприсо										
383	Paper construction 100% sulphite 9" v 12" 76 lb	(electric orange, festive red, gold, holiday red, light yellow, orange, pink,	5760160-1701394	Cascade School	No	1 - 50 Sheet	265	Dixon Ticonderoga	P102947	2.41	638.65			
363	WARM ASSORTED PACKAGE	pumpkin, shocking pink and yellow). Pacon Tru-Ray #102947 or equal.	2,00100-1,01364	Supplies	.40	Pack	233	_ Mon riconderoga	CAS032331	2.41	033.03			
384	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103029 or equal.	5760160-1649941	Cascade School	No	1 - 50 Sheet	500	Dixon Ticonderoga	P103029	2.41	1205			
	BLACK.			Supplies		Pack			CAS016488					
385	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #103022 or equal.	5760160-1649945	Cascade School	No	1 - 50 Sheet	405	Dixon Ticonderoga	P103022	2.41	976.05			
	BLUE.			Supplies		Pack			CAS016491					

386	Paper, construction, 100% sulphite. 9" x 12", 76 lb.	Pacon Tru-Ray #103024 or equal.	5760160-2014366	Cascade School	No	1 - 50 Sheet	95	Dixon Ticonderoga	P103024	2.41	228.95				
	DARK BROWN.			Supplies		Pack			CAS016496						
387	Paper, construction, 100% sulphite, 9" x 12", 76 lb. GRAY.	Pacon Tru-Ray #103027 or equal.	5760160-2014367	Cascade School Supplies	No	1 - 50 Sheet Pack	163	Dixon Ticonderoga	P103027 CAS016505	2.41	392.83				
388	Paper, construction, 100% sulphite, 9" x 12", 76 lb. HOLIDAY GREEN.	Pacon Tru-Ray #102960 or equal.	5760160-1649938	Cascade School Supplies	No	1 - 50 Sheet Pack	442	Dixon Ticonderoga	P102960 CAS018787	2.41	1065.22				
389	Paper, construction, 100% sulphite, 9" x 12", 76 lb.	Pacon Tru-Ray #102993 or equal.	5760160-1649939	Cascade School	No	1 - 50 Sheet	507	Dixon Ticonderoga	P102993	2.41	1221.87				
	HOLIDAY RED.			Supplies		Pack			CAS018791						
390	Paper, construction, 100% sulphite, 9" x 12", 76 lb. ORANGE.	Pacon Tru-Ray #103002 or equal.	5760160-1649943	Cascade School Supplies	No	1 - 50 Sheet Pack	317	Dixon Ticonderoga	P103002 CAS016494	2.41	763.97				
391	Paper, construction, 100% sulphite, 9" x 12", 76 lb. PINK.	Pacon Tru-Ray #103012 or equal.	5760160-2014369	Cascade School Supplies	No	1 - 50 Sheet Pack	441	Dixon Ticonderoga	P103012 CAS016495	2.41	1062.81				
392	Paper, construction, 100% sulphite, 9" x 12", 76 lb. PURPLE.	Pacon Tru-Ray #103019 or equal.	5760160-1649946	Cascade School Supplies	No	1 - 50 Sheet Pack	249	Dixon Ticonderoga	P103019 CAS016513	2.41	600.09				
393	Paper, construction, 100% sulphite, 9" x 12", 76 lb. SHOCKING PINK.	Pacon Tru-Ray #103013 or equal.	5760160-2014370	Cascade School Supplies	No	1 - 50 Sheet Pack	251	Dixon Ticonderoga	P103013 CAS018788	2.41	604.91				
394	Paper, construction, 100% sulphite, 9" x 12", 76 lb. WARM BROWN.	Pacon Tru-Ray #103025 or equal.	5760160-1649942	Cascade School Supplies	No	1 - 50 Sheet Pack	284	Dixon Ticonderoga	103025 CAS016501	2.41	684.44				
395	Paper, construction, 100% sulphite, 9" x 12", 76 lb. WHITE.	Pacon Tru-Ray #103026 or equal.	5760160-1649944	Cascade School Supplies	No	1 - 50 Sheet Pack	1332	Dixon Ticonderoga	P103026 CAS016487	2.41	3210.12				
396	Paper, construction, 100% sulphite, 9" x 12", 76 lb. YELLOW.	Pacon Tru-Ray #103004 or equal.	5760160-1649940	Cascade School Supplies	No	1 - 50 Sheet Pack	434	Dixon Ticonderoga	P103004 CAS016489	2.41	1045.94				
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
397-409 397	Item/Service Paper, construction, 100% sulphite, 12" x 18", 76 lb. BRIGHT ASSORTED PACKAGE	Description (atomic blue, brilliant lime, festive green, festive red, gold, magenta, pumpkin, shocking pink, turquois e and violet). Pacon Tru-Ray #102941 or equal.	5760160-1701392	Vendor Name School Specialty LLC	No Bid	1 - 50 Sheet Pack		PACON TRU-RAY	Part Number 102941	4.06	Total Price 604.94	Notes	Supplier Notes 247969	Award Status Awarded	Award Notes
398	Paper, construction, 100% sulphite, 12" x 18", 76 lb. COOL ASSORTED PACKAGE	(blue, brilliant lime, dark green, festive green, light green, liac, royal blue, sky blue, turquoise and violet). Pacon Tru-Ray #102943 or equal.	5760160-1701385	School Specialty LLC	No	1 - 50 Sheet Pack	122	PACON TRU-RAY	102943	4.19	511.18		1398063	Awarded	

399	Paper, construction, 100% sulphite, 12" x 18", 76 lb. STANDARD ASSORTED PACKAGE	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103063 or equal.	5760160-1077472	School Specialty LLC	No	1 - 50 Sheet Pack	509	PACON TRU-RAY	103063	3.95	2010.55	054156	Awarded	
400	Paper, construction, 100% sulphite, 12" x 18", 76 lb. WARM ASSORTED PACKAGE	(electric orange, festive red, gold, holiday red, light yellow, orange, pink, pumpkin, shocking pink and yellow). Pacon Tru-Ray #102948 or equal.	5760160-1722101	School Specialty LLC	No	1 - 50 Sheet Pack	103	PACON TRU-RAY	102948	4.19	431.57	1398065	Awarded	
401	Paper, construction, 100% sulphite, 12" x 18", 76 lb. BLACK.	Pacon Tru-Ray #103061 or equal.	5760160-1649950	School Specialty LLC	No	1 - 50 Sheet Pack	198	PACON TRU-RAY	103061	3.05	603.9	054150	Awarded	
402	Paper, construction, 100% sulphite, 12" x 18", 76 lb. BLUE.	Pacon Tru-Ray #103054 or equal.	5760160-1649954	School Specialty LLC	No	1 - 50 Sheet Pack	119	PACON TRU-RAY	103054	3.64	433.16	054129	Awarded	
403	Paper, construction, 100% sulphite, 12" x 18", 76 lb. HOLIDAY GREEN.	Pacon Tru-Ray #102961 or equal.	5760160-1649947	School Specialty LLC	No	1 - 50 Sheet Pack	115	PACON TRU-RAY	102961	3.72	427.8	216778	Awarded	
404	Paper, construction, 100% sulphite, 12" x 18", 76 lb. HOLIDAY RED.	Pacon Tru-Ray #102994 or equal.	5760160-1649948	School Specialty LLC	No	1 - 50 Sheet Pack	98	PACON TRU-RAY	102994	3.48	341.04	216776	Awarded	
405	Paper, construction, 100% sulphite, 12" x 18", 76 lb. ORANGE.	Pacon Tru-Ray #103034 or equal.	5760160-1649952	School Specialty LLC	No	1 - 50 Sheet Pack	75	PACON TRU-RAY	103034	3.49	261.75	054063	Awarded	
406	Paper, construction, 100% sulphite, 12" x 18", 76 lb. PURPLE.	Pacon Tru-Ray #103051 or equal.	5760160-1649955	School Specialty LLC	No	1 - 50 Sheet Pack	52	PACON TRU-RAY	103051	3.61	187.72	054414	Awarded	
407	Paper, construction, 100% sulphite, 12" x 18", 76 lb. WARM BROWN.	Pacon Tru-Ray #103057 or equal.	5760160-1649951	School Specialty LLC	No	1 - 50 Sheet Pack	60	PACON TRU-RAY	103057	3.21	192.6	054138	Awarded	
408	Paper, construction, 100% sulphite, 12" x 18", 76 lb. WHITE.	Pacon Tru-Ray #103058 or equal.	5760160-1649953	School Specialty LLC	No	1 - 50 Sheet Pack	646	PACON TRU-RAY	103058	2.81	1815.26	054141	Awarded	
409	Paper, construction, 100% sulphite, 12" x 18", 76 lb. YELLOW.	Pacon Tru-Ray #103036 or equal.	5760160-1649949	School Specialty LLC	No	1 - 50 Sheet Pack	51	PACON TRU-RAY	103036	3.45	175.95	054069	Awarded	
397	Paper, construction, 100% sulphite, 12" x 18", 76 lb. BRIGHT ASSORTED PACKAGE	(atomic blue, brilliant lime, festive green, festive red, gold, magenta, pumpkin, shocking pink, turquoise and violet). Pacon Tru-Ray #102941 or equal.	5760160-1701392	John R Green Co	No	1 - 50 Sheet Pack	149	PACON/TRU-RAY- P102941	37699	3.93	585.57			
398	Paper, construction, 100% sulphite, 12" x 18", 76 lb. COOL ASSORTED PACKAGE	(blue, brilliant lime, dark green, festive green, light green, ilac, royal blue, sky blue, turquoise and violet). Pacon Tru-Ray #102943 or equal.	5760160-1701385	John R Green Co	No	1 - 50 Sheet Pack	122	PACON/TRU-RAY- P102943	37184	4.04	492.88			
399	Paper, construction, 100% sulphite, 12" x 18", 76 lb. STANDARD ASSORTED PACKAGE	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103063 or equal.	5760160-1077472	John R Green Co	No	1 - 50 Sheet Pack	509	PACON/TRU-RAY- 00SC-103063	37199	4.37	2224.33			
400	Paper, construction, 100% sulphite, 12" x 18", 76 lb. WARM ASSORTED PACKAGE	(electric orange, festive red, gold, holiday red, light yellow, orange, pink, pumpkin, shocking pink and yellow). Pacon Tru-Ray #102948 or equal.	5760160-1722101	John R Green Co	No	1 - 50 Sheet Pack	103	PACON/TRU-RAY- P102948	37185	4.04	416.12			
401	Paper, construction, 100% sulphite, 12" x 18", 76 lb. BLACK.	Pacon Tru-Ray #103061 or equal.	5760160-1649950	John R Green Co	No	1 - 50 Sheet Pack	198	PACON/TRU-RAY- 57SC-103061	37181	4.11	813.78			
402	Paper, construction, 100% sulphite, 12" x 18", 76 lb. BLUE.	Pacon Tru-Ray #103054 or equal.	5760160-1649954		No	1 - 50 Sheet Pack	119	PACON/TRU-RAY- 33SC-103054	37130	3.93	467.67			
403	Paper, construction, 100% sulphite, 12" x 18", 76 lb. HOLIDAY GREEN.	Pacon Tru-Ray #102961 or equal.	5760160-1649947	John R Green Co	No	1 - 50 Sheet Pack	115	PACON/TRU-RAY- 18SC-102961	37133	4.16	478.4			
	Paper, construction, 100% sulphite, 12" x 18", 76 lb. HOLIDAY RED.	Pacon Tru-Ray #102994 or equal.	5760160-1649948	John R Green Co	No	1 - 50 Sheet Pack	98	PACON/TRU-RAY- 84SC-102994	37129	3.9	382.2			
405	Paper, construction, 100% sulphite, 12" x 18", 76 lb. ORANGE.	Pacon Tru-Ray #103034 or equal.	5760160-1649952	John R Green Co	No	1 - 50 Sheet Pack	75	PACON/TRU-RAY- 3SC-103034	37160	3.92	294			

406	Paper, construction, 100% sulphite, 12" x 18", 76 lb. PURPLE.	Pacon Tru-Ray #103051 or equal.	5760160-1649955	John R Green Co	No	1 - 50 Sheet Pack	52	PACON/TRU-RAY- 23SC-103051	37171	3.93	204.36			
407	Paper, construction, 100% sulphite, 12" x 18", 76 lb. WARM BROWN.	Pacon Tru-Ray #103057 or equal.	5760160-1649951	John R Green Co	No	1 - 50 Sheet Pack	60	PACON/TRU-RAY- 51SC-103057	37116	3.6	216			
408	Paper, construction, 100% sulphite, 12" x 18", 76 lb. WHITE.	Pacon Tru-Ray #103058 or equal.	5760160-1649953	John R Green Co	No	1 - 50 Sheet Pack	646	PACON/TRU-RAY- 53SC-103058	37180	3.87	2500.02			
409	Paper, construction, 100% sulphite, 12" x 18", 76 lb. YELLOW.	Pacon Tru-Ray #103036 or equal.	5760160-1649949	John R Green Co	No	1 - 50 Sheet Pack	51	PACON/TRU-RAY- 5SC-103036	37150	3.86	196.86			
397	Paper, construction, 100% sulphite, 12" x 18", 76 lb. BRIGHT ASSORTED PACKAGE	(atomic blue, brilliant lime, festive green, festive red, gold, magenta, pumpkin, shocking pink, turquoise and violet). Pacon Tru-Ray #102941 or equal.	5760160-1701392	Complete Printer Source	No	1 - 50 Sheet Pack	149	Pacon	PAC102941	4.89	728.61			
398	Paper, construction, 100% sulphite, 12" x 18", 76 lb. COOL ASSORTED PACKAGE	(blue, brilliant lime, dark green, festive green, light green, lilac, royal blue, sky blue, turquoise and violet). Pacon Tru-Ray #102943 or equal.	5760160-1701385	Complete Printer Source	No	1 - 50 Sheet Pack	122	Pacon	PAC102943	4.89	596.58			
399	Paper, construction, 100% sulphite, 12" x 18", 76 lb. STANDARD ASSORTED PACKAGE	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103063 or equal.	5760160-1077472	Complete Printer Source	No	1 - 50 Sheet Pack	509	Pacon	PAC103063	4.69	2387.21			
400	Paper, construction, 100% sulphite, 12" x 18", 76 lb. WARM ASSORTED PACKAGE	(electric orange, festive red, gold, holiday red, light yellow, orange, pink, pumpkin, shocking pink and yellow). Pacon Tru-Ray #102948 or equal.	5760160-1722101	Complete Printer Source	No	1 - 50 Sheet Pack	103	Pacon	PAC102948	4.89	503.67			
401	Paper, construction, 100% sulphite, 12" x 18", 76 lb. BLACK.	Pacon Tru-Ray #103061 or equal.	5760160-1649950	Complete Printer Source	No	1 - 50 Sheet Pack	198	Pacon	PAC103061	3.69	730.62			
402	Paper, construction, 100% sulphite, 12" \times 18", 76 lb. BLUE.	Pacon Tru-Ray #103054 or equal.	5760160-1649954	Complete Printer Source	No	1 - 50 Sheet Pack	119	Pacon	PAC103054	4.19	498.61			
403	Paper, construction, 100% sulphite, 12" x 18", 76 lb. HOLIDAY GREEN.	Pacon Tru-Ray #102961 or equal.	5760160-1649947	Complete Printer Source	No	1 - 50 Sheet Pack	115	Pacon	PAC102961	4.49	516.35			
404	Paper, construction, 100% sulphite, 12" x 18", 76 lb. HOLIDAY RED.	Pacon Tru-Ray #102994 or equal.	5760160-1649948	Complete Printer Source	No	1 - 50 Sheet Pack	98	Pacon	PAC102994	3.99	391.02			
405	Paper, construction, 100% sulphite, 12" x 18", 76 lb. ORANGE.	Pacon Tru-Ray #103034 or equal.	5760160-1649952	Complete Printer Source	No	1 - 50 Sheet Pack	75	Pacon	PAC103034	4.19	314.25			
406	Paper, construction, 100% sulphite, 12" x 18", 76 lb. PURPLE.	Pacon Tru-Ray #103051 or equal.	5760160-1649955	Complete Printer Source	No	1 - 50 Sheet Pack	52	Pacon	PAC103051	4.29	223.08			
407	Paper, construction, 100% sulphite, 12" x 18", 76 lb. WARM BROWN.	Pacon Tru-Ray #103057 or equal.	5760160-1649951	Complete Printer Source	No	1 - 50 Sheet Pack	60	Pacon	PAC103057	3.79	227.4			
408	Paper, construction, 100% sulphite, 12" x 18", 76 lb. WHITE.	Pacon Tru-Ray #103058 or equal.	5760160-1649953	Complete Printer Source	No	1 - 50 Sheet Pack	646	Pacon	PAC103058	3.49	2254.54			
409	Paper, construction, 100% sulphite, 12" x 18", 76 lb. YELLOW.	Pacon Tru-Ray #103036 or equal.	5760160-1649949	Complete Printer Source	No	1 - 50 Sheet Pack	51	Pacon	PAC103036	3.89	198.39			
397	Paper, construction, 100% sulphite, 12" x 18", 76 lb. BRIGHT ASSORTED PACKAGE	(atomic blue, brilliant lime, festive green, festive red, gold, magenta, pumpkin, shocking pink, turquoise and violet). Pacon Tru-Ray #102941 or equal.	5760160-1701392	Cascade School Supplies	No	1 - 50 Sheet Pack	149	Dixon Ticonderoga	P102941 CAS032328	4.77	710.73			
398	Paper, construction, 100% sulphite, 12" x 18", 76 lb. COOL ASSORTED PACKAGE	(blue, brilliant lime, dark green, festive green, light green, lilac, royal blue, sky blue, turquoise and violet). Pacon Tru-Ray #102943 or equal.		Supplies	No	1 - 50 Sheet Pack	122	Dixon Ticonderoga	P102943 CAS032330	4.77	581.94			
399	Paper, construction, 100% sulphite, 12" x 18", 76 lb. STANDARD ASSORTED PACKAGE	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103063 or equal.	5760160-1077472	Cascade School Supplies	No	1 - 50 Sheet Pack	509	Dixon Ticonderoga	P103063 CAS016517	4.77	2427.93			

				1								1		1	
400	Paper, construction, 100% sulphite, 12" x 18", 76 lb. WARM ASSORTED PACKAGE	(electric orange, festive red, gold, holiday red, light yellow, orange, pink, pumpkin, shocking pink and yellow). Pacon Tru-Ray #102948 or equal.	5760160-1722101	Cascade School Supplies	No	1 - 50 Sheet Pack	103	Dixon Ticonderoga	P102948 CAS032332	4.77	491.31				
			5760160-1649950	Cascade School											
401	Paper, construction, 100% sulphite, 12" x 18", 76 lb. BLACK.	Pacon Tru-Ray #103061 or equal.	5760160-1649950	Supplies	No	1 - 50 Sheet Pack	198	Dixon Ticonderoga	P103061 CAS016519	4.77	944.46				
402	Daniel	David To David March 1	F750450 45400F4	Consideration of		4 5056	440	Dixon Ticonderoga	D402054	4.77	567.63				
402	Paper, construction, 100% sulphite, 12" x 18", 76 lb. BLUE.	Pacon Tru-Ray #103054 or equal.	5760160-1649954	Cascade School Supplies	No	1 - 50 Sheet Pack	119	Dixon Hoonderoga	P103054 cAS016522	4.77	567.63				
403	Paper, construction, 100% sulphite, 12" x 18", 76 lb. HOLIDAY	Pacon Tru-Ray #102961 or equal.	5760160-1649947	Cascade School Supplies	No	1 - 50 Sheet Pack	115	Dixon Ticonderoga	P102961 CAS017714	4.77	548.55				
	GREEN.														
404	Paper, construction, 100% sulphite, 12" x 18", 76 lb. HOLIDAY RED.	Pacon Tru-Ray #102994 or equal.	5760160-1649948	Cascade School Supplies	No	1 - 50 Sheet Pack	98	Dixon Ticonderoga	P102994 CAS017710	4.77	467.46				
405	Paper, construction, 100% sulphite, 12" x 18", 76 lb. ORANGE.	Pacon Tru-Ray #103034 or equal.	5760160-1649952	Cascade School Supplies	No	1 - 50 Sheet Pack	75	Dixon Ticonderoga	P103034 CAS016525	4.77	357.75				
406	Paper, construction, 100% sulphite, 12" x 18", 76 lb.	Pacon Tru-Ray #103051 or equal.	5760160-1649955		No	1 - 50 Sheet	52	Dixon Ticonderoga	P103051	4.77	248.04				
	PURPLE.			Supplies		Pack			CAS016544						
407	Paper, construction, 100% sulphite, 12" x 18", 76 lb.	Pacon Tru-Ray #103057 or equal.	5760160-1649951		No	1 - 50 Sheet	60	Dixon Ticonderoga	P103057	4.77	286.2				
	WARM BROWN.			Supplies		Pack			CAS016532						
408	Paper, construction, 100% sulphite, 12" x 18", 76 lb.	Pacon Tru-Ray #103058 or equal.	5760160-1649953		No	1 - 50 Sheet	646	Dixon Ticonderoga	P103058	4.77	3081.42				
	WHITE.			Supplies		Pack			CAS016518						
409	Paper, construction, 100% sulphite, 12" x 18", 76 lb.	Pacon Tru-Ray #103036 or equal.	5760160-1649949		No	1 - 50 Sheet	51	Dixon Ticonderoga	P103036	4.77	243.27				
	YELLOW.			Supplies		Pack			CAS016520						
1															
Lot Item															
Number	Itom/Sarvira	Description	Commodity Code	Vendor Name	No Bid	HOM	Quantity	Manufacturer /	Manufacturer	Unit Bid	Total Price	Vendor Response Item	Supplier Notes	Award Status	Award Notes
		Description [black, blue, dark brown, festive green, orange, pink, red, sky blue, white and	Commodity Code 5760160-1077365		No Bid	1 - 50 Sheet	Quantity 60	Manufacturer / Provider PACON TRU RAY	Manufacturer Part Number 103095	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes 054933	Award Status	Award Notes
Number 410-430								Provider	Part Number	Price					Award Notes
Number 410-430	Paper, construction, 100% sulphite, 18" x 24", 76 lb.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and				1 - 50 Sheet		Provider	Part Number	Price				Award Status Awarded	Award Notes
Number 410-430	Paper, construction, 100% sulphite, 18" x 24", 76 lb.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and	5760160-1077365		No	1 - 50 Sheet		Provider	Part Number	Price					Award Notes
410-430 410	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal.	5760160-1077365	School Specialty LLC	No	1 - 50 Sheet Pack	60	Provider PACON TRU RAY	103095	8.74	524.4		054933	Awarded	Award Notes
410-430 410	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal.	5760160-1077365	School Specialty LLC	No	1 - 50 Sheet Pack	60	Provider PACON TRU RAY	103095	8.74	524.4		054933		Award Notes
Number 410-430 410	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal.	5760160-1077365 5760160-1649959	School Specialty LLC School Specialty LLC	No No	1 - 50 Sheet Pack 1 - 50 Sheet Pack	95	Provider PACON TRU RAY PACON TRU RAY	103095 103093	8.74 6.76	524.4 642.2		054933 054939	Awarded	Award Notes
410-430 410	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal.	5760160-1077365 5760160-1649959	School Specialty LLC	No No	1 - 50 Sheet Pack	60	Provider PACON TRU RAY	103095	8.74	524.4		054933	Awarded Awarded	Award Notes
Number 410-430 410	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal.	5760160-1077365 5760160-1649959	School Specialty LLC School Specialty LLC	No No	1 - 50 Sheet Pack 1 - 50 Sheet Pack 1 - 50 Sheet	95	Provider PACON TRU RAY PACON TRU RAY	103095 103093	8.74 6.76	524.4 642.2		054933 054939	Awarded	Award Notes
Number 410-430 410 411 411	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal.	5760160-1077365 5760160-1649959 5760160-1649963	School Specialty LLC School Specialty LLC School Specialty LLC	No No	1 - 50 Sheet Pack 1 - 50 Sheet Pack 1 - 50 Sheet Pack	95	PROVIDER PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093	6.76 7.22	524.4 642.2 259.92		054933 054939 054927	Awarded Awarded	Award Notes
Number 410-430 410	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal.	5760160-1077365 5760160-1649959 5760160-1649963	School Specialty LLC School Specialty LLC	No No	1 - 50 Sheet Pack 1 - 50 Sheet Pack 1 - 50 Sheet	95	Provider PACON TRU RAY PACON TRU RAY	103095 103093	8.74 6.76	524.4 642.2		054933 054939	Awarded Awarded	Award Notes
Number 410-430 410 411	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal.	5760160-1077365 5760160-1649959 5760160-1649963	School Specialty LLC School Specialty LLC School Specialty LLC	No No	1 - 50 Sheet Pack 1 - 50 Sheet Pack 1 - 50 Sheet Pack	95	PROVIDER PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093	6.76 7.22	524.4 642.2 259.92		054933 054939 054927	Awarded Awarded	Award Notes
Number 410-430 410 411 411 412	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103427 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389	School Specialty LLC School Specialty LLC School Specialty LLC School Specialty LLC	No No No	1 - 50 Sheet Pack	95	PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086	8.74 6.76 7.22	524.4 642.2 259.92 245.48		054933 054939 054927 011163	Awarded Awarded	Award Notes
Number 410-430 410 411	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389	School Specialty LLC School Specialty LLC School Specialty LLC	No No No	1 - 50 Sheet Pack	95	PROVIDER PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093	6.76 7.22	524.4 642.2 259.92		054933 054939 054927	Awarded Awarded	Award Notes
Number 410-430 410 411 411 412	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103427 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389	School Specialty LLC School Specialty LLC School Specialty LLC School Specialty LLC	No No No	1 - 50 Sheet Pack	95	PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086	8.74 6.76 7.22	524.4 642.2 259.92 245.48		054933 054939 054927 011163	Awarded Awarded	Award Notes
Number 410-430 410 411 411 412	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103427 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389	School Specialty LLC School Specialty LLC School Specialty LLC School Specialty LLC	No No No	1 - 50 Sheet Pack	95	PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086	8.74 6.76 7.22	524.4 642.2 259.92 245.48		054933 054939 054927 011163	Awarded Awarded Awarded	Award Notes
Number 410-430 410 411 411 412	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103427 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400	School Specialty LLC School Specialty LLC School Specialty LLC School Specialty LLC	No No No	1 - 50 Sheet Pack	95	PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086	8.74 6.76 7.22	524.4 642.2 259.92 245.48		054933 054939 054927 011163	Awarded Awarded Awarded	Award Notes
Number 410-430 410 411 411 412 413	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103427 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400	School Specialty LLC School Specialty LLC School Specialty LLC School Specialty LLC	No No No	1 - 50 Sheet Pack	95 36 34	PACON TRU RAY PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086	6.76 7.22 7.22	524.4 642.2 259.92 245.48		054933 054939 054927 011163	Awarded Awarded Awarded	Award Notes
Number 410-430 410 411 411 412 413	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103427 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400	School Specialty LLC School Specialty LLC School Specialty LLC School Specialty LLC	No No No	1 - 50 Sheet Pack	95 36 34	PACON TRU RAY PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086	6.76 7.22 7.22	524.4 642.2 259.92 245.48		054933 054939 054927 011163	Awarded Awarded Awarded Awarded Awarded	Award Notes
Number 410-430 410 411 411 412 413	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103427 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400 5760160-2008729	School Specialty LLC School Specialty LLC School Specialty LLC School Specialty LLC	No No No No No	1 - 50 Sheet Pack	95 36 34	PACON TRU RAY PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086	6.76 7.22 7.22	524.4 642.2 259.92 245.48		054933 054939 054927 011163	Awarded Awarded Awarded Awarded Awarded	Award Notes
410-430 410 411 411 412 413	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400 5760160-2008729	School Specialty LLC	No No No No No	1 - 50 Sheet Pack	95 95 36 34	PACON TRU RAY PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086 103427 103088	7.22 7.22 7.98	524.4 642.2 259.92 245.48 46.48		054933 054939 054927 011163 055248	Awarded Awarded Awarded Awarded Awarded Awarded	Award Notes
410-430 410 411 411 412 413	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400 5760160-2008729	School Specialty LLC	No No No No No	1 - 50 Sheet Pack	95 95 36 34	PACON TRU RAY PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086 103427 103088	7.22 7.22 7.98	524.4 642.2 259.92 245.48 46.48		054933 054939 054927 011163 055248	Awarded Awarded Awarded Awarded Awarded	Award Notes
410-430 410 411 411 412 413 414 415	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400 5760160-2008729 5760160-1724305	School Specialty LLC	No N	1 - 50 Sheet Pack	95 36 34 7 7 23 29	PACON TRU RAY PACON TRU RAY PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086 103427 103088	7.22 7.22 7.22 7.22 7.22	524.4 642.2 259.92 245.48 46.48		054933 054939 054927 011163 055248 054924	Awarded Awarded Awarded Awarded Awarded Awarded	Award Notes
410-430 410 411 411 412 413 414	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400 5760160-2008729 5760160-1724305	School Specialty LLC	No N	1 - 50 Sheet Pack	95 95 36 34	PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086 103427 103088	7.22 7.22 7.98	524.4 642.2 259.92 245.48 46.48		054933 054939 054927 011163 055248	Awarded Awarded Awarded Awarded Awarded Awarded	Award Notes
410-430 410 411 411 412 413 414 415	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400 5760160-2008729 5760160-1724305	School Specialty LLC	No N	1 - 50 Sheet Pack 1 - 50 Sheet Pack	95 36 34 7 7 23 29	PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086 103427 103088	7.22 7.22 7.22 7.22 7.22	524.4 642.2 259.92 245.48 46.48		054933 054939 054927 011163 055248 054924	Awarded Awarded Awarded Awarded Awarded Awarded	Award Notes
410-430 410 411 411 412 413 414 415	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED. Paper, construction, 100% sulphite, 18" x 24", 76 lb. GRAY.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103070 or equal. Pacon Tru-Ray #103070 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400 5760160-1724305 5760160-1724306	School Specialty LLC School Specialty LLC	No N	1 - 50 Sheet Pack	95 36 34 7 7 23 29 29	PACON TRU RAY PACON TRU RAY	103095 103095 103095 103093 103086 103427 103088 103433	7.22 7.22 7.22 7.22 6.64	524.4 642.2 259.92 245.48 46.48 183.54		054933 054939 054927 011163 055248 054924 054945	Awarded Awarded Awarded Awarded Awarded Awarded	Award Notes
410-430 410 411 411 412 413 414 415	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400 5760160-1724305 5760160-1724306	School Specialty LLC	No N	1 - 50 Sheet Pack 1 - 50 Sheet Pack	95 36 34 7 7 23 29	PACON TRU RAY PACON TRU RAY	103095 103095 103093 103086 103427 103088	7.22 7.22 7.22 7.22 7.22	524.4 642.2 259.92 245.48 46.48		054933 054939 054927 011163 055248 054924	Awarded Awarded Awarded Awarded Awarded Awarded	Award Notes
410 411 411 412 413 414 415 416 417	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103070 or equal. Pacon Tru-Ray #103070 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400 5760160-1724305 5760160-1724306	School Specialty LLC School Specialty LLC	No N	1 - 50 Sheet Pack 1 - 50 Sheet Pack	95 36 34 7 7 23 29 29	PACON TRU RAY PACON TRU RAY	103095 103095 103095 103093 103086 103427 103088 103433	7.22 7.22 7.22 7.22 6.64	524.4 642.2 259.92 245.48 46.48 183.54		054933 054939 054927 011163 055248 054924 054945	Awarded Awarded Awarded Awarded Awarded Awarded	Award Notes
410 410 411 411 412 413 414 415 416	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE. Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME. Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED. Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED.	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal. Pacon Tru-Ray #103093 or equal. Pacon Tru-Ray #103086 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103088 or equal. Pacon Tru-Ray #103070 or equal. Pacon Tru-Ray #103070 or equal.	5760160-1077365 5760160-1649959 5760160-1649963 5760160-1701389 5760160-1701400 5760160-1724305 5760160-1724306	School Specialty LLC School Specialty LLC	No N	1 - 50 Sheet Pack 1 - 50 Sheet Pack	95 36 34 7 7 23 29 29	PACON TRU RAY PACON TRU RAY	103095 103095 103095 103093 103086 103427 103088 103433	7.22 7.22 7.22 7.22 6.64	524.4 642.2 259.92 245.48 46.48 183.54		054933 054939 054927 011163 055248 054924 054945	Awarded Awarded Awarded Awarded Awarded Awarded Awarded Awarded	Award Notes

		Pacon Tru-Ray #103064 or equal.				T		T T		1				
419	Paper, construction, 100% sulphite, 18" x 24", 76 lb. MAGENTA.	Pacon Iru-Ray #103064 or equal.	5/60160-1/01383	School Specialty LLC	No	1 - 50 Sheet Pack	17	PACON TRU RAY	103064	7.08	120.36	801271	Awarded	
420	Paper, construction, 100% sulphite, 18" x 24", 76 lb. ORANGE.	Pacon Tru-Ray #103066 or equal.	5760160-1649961	School Specialty LLC	No	1 - 50 Sheet Pack	16	PACON TRU RAY	103066	7.22	115.52	054936	Awarded	
421	Paper, construction, 100% sulphite, 18" x 24", 76 lb. PINK.	Pacon Tru-Ray #103076 or equal.	5760160-1701393	School Specialty LLC	No	1 - 50 Sheet Pack	10	PACON TRU RAY	103076	7.08	70.8	011145	Awarded	
422	Paper, construction, 100% sulphite, 18" x 24", 76 lb. PURPLE.	Pacon Tru-Ray #103083 or equal.	5760160-1649964	School Specialty LLC	No	1 - 50 Sheet Pack	13	PACON TRU RAY	103083	7.98	103.74	011175	Awarded	
423	Paper, construction, 100% sulphite, 18" x 24", 76 lb. ROYAL BLUE.	Pacon Tru-Ray #103081 or equal.	5760160-1724307	School Specialty LLC	No	1 - 50 Sheet Pack	13	PACON TRU RAY	103081	7.22	93.86	011115	Awarded	
424	Paper, construction, 100% sulphite, 18" x 24", 76 lb. SHOCKING PINK.	Pacon Tru-Ray #103077 or equal.	5760160-1724308	School Specialty LLC	No	1 - 50 Sheet Pack	13	PACON TRU RAY	103077	7.22	93.86	055245	Awarded	
425	Paper, construction, 100% sulphite, 18" x 24", 76 lb. SKY BLUE.	Pacon Tru-Ray #103080 or equal.	5760160-1701397	School Specialty LLC	No	1 - 50 Sheet Pack	35	PACON TRU RAY	103080	6.64	232.4	055239	Awarded	
426	Paper, construction, 100% sulphite, 18" x 24", 76 lb. TURQUOISE.	Pacon Tru-Ray #103071 or equal.	5760160-1724311	School Specialty LLC	No	1 - 50 Sheet Pack	32	PACON TRU RAY	103071	7.98	255.36	801283	Awarded	
427	Paper, construction, 100% sulphite, 18" x 24", 76 lb. VIOLET.	Pacon Tru-Ray #103073 or equal.	5760160-1701390	School Specialty LLC	No	1 - 50 Sheet Pack	7	PACON TRU RAY	103073	7.08	49.56	801292	Awarded	
428	Paper, construction, 100% sulphite, 18" x 24", 76 lb. WARM BROWN.	Pacon Tru-Ray #103089 or equal.	5760160-1724312	School Specialty LLC	No	1 - 50 Sheet Pack	6	PACON TRU RAY	103089	6.64	39.84	054930	Awarded	
429	Paper, construction, 100% sulphite, 18" x 24", 76 lb. WHITE.	Pacon Tru-Ray #103090 or equal.	5760160-1649962	School Specialty LLC	No	1 - 50 Sheet Pack	138	PACON TRU RAY	103090	5.61	774.18	054918	Awarded	
430	Paper, construction, 100% sulphite, 18" x 24", 76 lb. YELLOW.	Pacon Tru-Ray #103068 or equal.	5760160-1649958	School Specialty LLC	No	1 - 50 Sheet Pack	17	PACON TRU RAY	103068	7.08	120.36	054921	Awarded	
410	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white and yellow). Pacon Tru-Ray #103095 or equal.	5760160-1077365	Complete Printer Source	No	1 - 50 Sheet Pack	60	Pacon	PAC103095	9.99	599.4			
411	Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK.	Pacon Tru-Ray #103093 or equal.	5760160-1649959	Complete Printer Source	No	1 - 50 Sheet Pack	95	Pacon	PAC103093	7.89	749.55			
412	Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE.	Pacon Tru-Ray #103086 or equal.	5760160-1649963	Complete Printer Source	No	1 - 50 Sheet Pack	36	Pacon	PAC103086	8.99	323.64			
413	Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME.	Pacon Tru-Ray #103427 or equal.	5760160-1701389	Complete Printer Source	No	1 - 50 Sheet Pack	34	Pacon	PAC103427	9.99	339.66			
414	Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN.	Pacon Tru-Ray #103088 or equal.	5760160-1701400	Complete Printer Source	No	1 - 50 Sheet Pack	7	Pacon	PAC103088	8.79	61.53			
415	Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN.	Pacon Tru-Ray #103070 or equal.	5760160-2008729	Complete Printer Source	No	1 - 50 Sheet Pack	23	Pacon	PAC103070	9.99	229.77			
416	Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED.	Pacon Tru-Ray #103433 or equal.	5760160-1724305	Complete Printer Source	No	1 - 50 Sheet Pack	29	Pacon	PAC103433	8.99	260.71			
417	Paper, construction, 100% sulphite, 18" x 24", 76 lb. GRAY.	Pacon Tru-Ray #103091 or equal.	5760160-1724306	Complete Printer Source	No	1 - 50 Sheet Pack	24	Pacon	PAC103091	8.99	215.76			

418	Paper, construction, 100% sulphite, 18" x 24", 76 lb. HOLIDAY RED.	Pacon Tru-Ray #102995 or equal.	5760160-1649957	Complete Printer Source	No	1 - 50 Sheet Pack	15	Pacon	PAC102995	8.99	134.85			
419	Paper, construction, 100% sulphite, 18" x 24", 76 lb. MAGENTA.	Pacon Tru-Ray #103064 or equal.	5760160-1701383	Complete Printer Source	No	1 - 50 Sheet Pack	17	Pacon	PAC103064	9.99	169.83			
420	Paper, construction, 100% sulphite, 18" x 24", 76 lb. ORANGE.	Pacon Tru-Ray #103066 or equal.	5760160-1649961	Complete Printer Source	No	1 - 50 Sheet Pack	16	Pacon	PAC103066	8.99	143.84			
421	Paper, construction, 100% sulphite, 18" x 24", 76 lb. PINK.	Pacon Tru-Ray #103076 or equal.	5760160-1701393	Complete Printer Source	No	1 - 50 Sheet Pack	10	Pacon	PAC103076	8.99	89.9			
422	Paper, construction, 100% sulphite, 18" x 24", 76 lb. PURPLE.	Pacon Tru-Ray #103083 or equal.	5760160-1649964	Complete Printer Source	No	1 - 50 Sheet Pack	13	Pacon	PAC103083	9.99	129.87			
423	Paper, construction, 100% sulphite, 18" x 24", 76 lb. ROYAL BLUE.	Pacon Tru-Ray #103081 or equal.	5760160-1724307	Complete Printer Source	No	1 - 50 Sheet Pack	13	Pacon	PAC103081	9.99	129.87			
424	Paper, construction, 100% sulphite, 18" x 24", 76 lb. SHOCKING PINK.	Pacon Tru-Ray #103077 or equal.	5760160-1724308	Complete Printer Source	No	1 - 50 Sheet Pack	13	Pacon	PAC103077	9.69	125.97			
425	Paper, construction, 100% sulphite, 18" x 24", 76 lb. SKY BLUE.	Pacon Tru-Ray #103080 or equal.	5760160-1701397	Complete Printer Source	No	1 - 50 Sheet Pack	35	Pacon	PAC103080	8.49	297.15			
426	Paper, construction, 100% sulphite, 18" x 24", 76 lb. TURQUOISE.	Pacon Tru-Ray #103071 or equal.	5760160-1724311	Complete Printer Source	No	1 - 50 Sheet Pack	32	Pacon	PAC103071	9.99	319.68			
427	Paper, construction, 100% sulphite, 18" x 24", 76 lb. VIOLET.	Pacon Tru-Ray #103073 or equal.	5760160-1701390	Complete Printer Source	No	1 - 50 Sheet Pack	7	Pacon	PAC103073	8.99	62.93			
428	Paper, construction, 100% sulphite, 18" x 24", 76 lb. WARM BROWN.	Pacon Tru-Ray #103089 or equal.	5760160-1724312	Complete Printer Source	No	1 - 50 Sheet Pack	6	Pacon	PAC103089	8.89	53.34			
429	Paper, construction, 100% sulphite, 18" x 24", 76 lb. WHITE.	Pacon Tru-Ray #103090 or equal.	5760160-1649962	Complete Printer Source	No	1 - 50 Sheet Pack	138	Pacon	PAC103090	7.99	1102.62			
430	Paper, construction, 100% sulphite, 18" x 24", 76 lb. YELLOW.	Pacon Tru-Ray #103068 or equal.	5760160-1649958	Complete Printer Source	No	1 - 50 Sheet Pack	17	Pacon	PAC103068	8.49	144.33			
410	Paper, construction, 100% sulphite, 18" x 24", 76 lb. STANDARD ASSORTED PACKAGE	(black, blue, dark brown, festive green, orange, pink, red, sky blue, white any yellow). Pacon Tru-Ray #103095 or equal.	5760160-1077365	Cascade School Supplies	No	1 - 50 Sheet Pack	60	Dixon Ticonderoga	P103095 CAS017534	9.92	595.2			
411	Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLACK.	Pacon Tru-Ray #103093 or equal.	5760160-1649959	Cascade School Supplies	No	1 - 50 Sheet Pack	95	Dixon Ticonderoga	P103093 CAS015986	9.57	909.15			
412	Paper, construction, 100% sulphite, 18" x 24", 76 lb. BLUE.	Pacon Tru-Ray #103086 or equal.	5760160-1649963	Cascade School Supplies	No	1 - 50 Sheet Pack	36	Dixon Ticonderoga	P103086 CAS015979	9.57	344.52			
413	Paper, construction, 100% sulphite, 18" x 24", 76 lb. BRILLIANT LIME.	Pacon Tru-Ray #103427 or equal.	5760160-1701389	Cascade School Supplies	No	1 - 50 Sheet Pack	34	Dixon Ticonderoga	103427 CAS016081	9.57	325.38			
414	Paper, construction, 100% sulphite, 18" x 24", 76 lb. DARK BROWN.	Pacon Tru-Ray #103088 or equal.	5760160-1701400	Cascade School Supplies	No	1 - 50 Sheet Pack	7	Dixon Ticonderoga	P103088 CAS035222	8.52	59.64			
415	Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE GREEN.	Pacon Tru-Ray #103070 or equal.	5760160-2008729	Cascade School Supplies	No	1 - 50 Sheet Pack	23	Dixon Ticonderoga	P103070 CAS035224	9.57	220.11			
416	Paper, construction, 100% sulphite, 18" x 24", 76 lb. FESTIVE RED.	Pacon Tru-Ray #103433 or equal.	5760160-1724305	Cascade School Supplies	No	1 - 50 Sheet Pack	29	Dixon Ticonderoga	103433 CAS017796	9.57	277.53			
													_	

417	Paper, construction, 100% sulphite, 18" x 24", 76 lb. GRAY.	Pacon Tru-Ray #103091 or equal.	5760160-1724306	Cascade School Supplies	No	1 - 50 Sheet Pack	24	Dixon Ticonderoga	P103091 CAS017609	9.57	229.68				
418	Paper, construction, 100% sulphite, 18" x 24", 76 lb. HOLIDAY RED.	Pacon Tru-Ray #102995 or equal.	5760160-1649957	Cascade School Supplies	No	1 - 50 Sheet Pack	15	Dixon Ticonderoga	102995 CAS035227	9.57	143.55				
419	Paper, construction, 100% sulphite, 18" x 24", 76 lb.	Pacon Tru-Ray #103064 or equal.	5760160-1701383		No	1 - 50 Sheet	17	Dixon Ticonderoga	103064	9.57	162.69				
	MAGENTA.			Supplies		Pack			CAS029766						
420	Paper, construction, 100% sulphite, 18" x 24", 76 lb. ORANGE.	Pacon Tru-Ray #103066 or equal.	5760160-1649961	Cascade School Supplies	No	1 - 50 Sheet Pack	16	Dixon Ticonderoga	103066 CAS015997	9.57	153.12				
421	Paper, construction, 100% sulphite, 18" x 24", 76 lb.	Pacon Tru-Ray #103076 or equal.	5760160-1701393		No	1 - 50 Sheet	10	Dixon Ticonderoga	103076	9.57	95.7				
	PINK.			Supplies		Pack			CAS017613						
422	Paper, construction, 100% sulphite, 18" x 24", 76 lb.	Pacon Tru-Ray #103083 or equal.	5760160-1649964	Cascade School	No	1 - 50 Sheet	13	Dixon Ticonderoga	103083	9.57	124.41				
422	PURPLE.	racon numay #100000 or equal.	3700100-1043304	Supplies	NO	Pack	13	Dixon riconderoga	CAS035230	3.37	124.41				
								1							
						<u> </u>	<u></u>			<u> </u>	<u></u>			<u> </u>	
423	Paper, construction, 100% sulphite, 18" x 24", 76 lb. ROYAL BLUE.	Pacon Tru-Ray #103081 or equal.	5760160-1724307		No	1 - 50 Sheet	13	Dixon Ticonderoga	103081 CAS035232	9.57	124.41				
	ROTAL BLUE.			Supplies		Pack		1	UN3US5232						
424	Paper, construction, 100% sulphite, 18" x 24", 76 lb.	Pacon Tru-Ray #103077 or equal.	5760160-1724308	Cascade School	No	1 - 50 Sheet	13	Dixon Ticonderoga	03077 CAS016078	9.57	124.41				
-	SHOCKING			Supplies	"	Pack				"					
	PINK.														
425	Paper, construction, 100% sulphite, 18" x 24", 76 lb. SKY BLUE.	Pacon Tru-Ray #103080 or equal.	5760160-1701397		No	1 - 50 Sheet Pack	35	Dixon Ticonderoga	103080 CAS016080	9.57	334.95				
	JKT DEUE.			Supplies		rdLK		1	CH3010000						
								1							
426	Paper, construction, 100% sulphite, 18" x 24", 76 lb.	Pacon Tru-Ray #103071 or equal.	5760160-1724311	Cascade School	No	1 - 50 Sheet	32	Dixon Ticonderoga	P103071	9.57	306.24				
	TURQUOISE.			Supplies		Pack			CAS016079						
								1							
427	Paper, construction, 100% sulphite, 18" x 24", 76 lb. VIOLET.	Pacon Tru-Ray #103073 or equal.	5760160-1701390	Cascade School Supplies	No	1 - 50 Sheet Pack	7	Dixon Ticonderoga	103073 CAS035235	8.12	56.84				
								1							
428	Paper, construction, 100% sulphite, 18" x 24", 76 lb.	Pacon Tru-Ray #103089 or equal.	5760160-1724312		No	1 - 50 Sheet	6	Dixon Ticonderoga	P103089	9.57	57.42				
	WARM BROWN.			Supplies		Pack		1	CAS029767						
420	Paper construction 100% sulphite 10" v 34" 75 ".	Dacon Tru-Pay #402000 or agual	5760160 16400C3	Carcado Sobos!	No	1 - 50 56	120	Divon Ticondors	P102000	7 20	1005.03				
429	Paper, construction, 100% sulphite, 18" x 24", 76 lb. WHITE.	Pacon Tru-Ray #103090 or equal.	5760160-1649962	Cascade School Supplies	No	1 - 50 Sheet Pack	138	Dixon Ticonderoga	P103090 CAS035236	7.29	1006.02				
								1							
								1							
430	Paper, construction, 100% sulphite, 18" x 24", 76 lb.	Pacon Tru-Ray #103068 or equal.	5760160-1649958		No	1 - 50 Sheet	17	Dixon Ticonderoga	P103068	9.57	162.69				
	YELLOW.			Supplies		Pack		1	CAS015985						
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
431-440	Item/Service	Description	Commodity Code		No Bid	иом	Quantity	Provider	Part Number	Price	Total Price	Notes	Supplier Notes	Award Status	Award Notes
431		THIS NOTE APPLIES TO ITEM NOS. 431 through 440: 58 lb., 50 sheet/pkg., all purpose, high bulk, high strength, smooth texture, cuts clean and folds evenly	5760160-1077276	School Specialty LLC	No	1 - 50 Sheet Pack	482	PACON PRANG	6503	0.87	419.34		201204		
		without cracking. Each film wrapped package must be marked with full				. JCK									
		description, i.e. groundwood, size, color, etc. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												Awarded	
		2.23MG THE WITHOUTED THOUSENING MODAWIFEE IS REQUIRED.													
432	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #6303 or equal.	5760160-1649877	School Specialty LLC	No	1 - 50 Sheet	453	PACON PRANG	6303	0.84	380.52		201183		
-32	BLACK.	r σεοπ συπτοπία πόσου οι Equal.	_,00100-10430/2	231001 Specialty LLC	.40	Pack	-33	- ACOM FINANC	5303	0.04	300.32		202103		
														Awarded	
														Awarueu	
433	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #7403 or equal.	5760160-1649876	School Specialty LLC	No	1 - 50 Sheet	347	PACON PRANG	7403	0.8	277.6		201234		
	BLUE.					Pack									
														Awarded	

								,						
434	Paper, construction, groundwood, 9" x 12", 58 lb. BROWN.	Pacon Sunworks #6703 or equal.	5/60160-1649873	School Specialty LLC	No	1 - 50 Sheet Pack	258	PACON PRANG	6703	0.84	216.72	201207		
													Awarded	
435	Paper, construction, groundwood, 9" x 12", 58 lb. HOLIDAY GREEN.	Pacon Sunworks #8003 or equal.	5760160-1649869	School Specialty LLC	No	1 - 50 Sheet Pack	354	PACON PRANG	8003	0.8	283.2	1506449		
	HOEIDAT GREEN.					rack								
													Awarded	
436	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #9903 or equal.	5760160-1649870	School Specialty LLC	No	1 - 50 Sheet	326	PACON PRANG	9903	1.06	345.56	201187		
	HOLIDAY RED.					Pack								
													Awarded	
437	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #6603 or equal.	5760160-1649874	School Specialty LLC	No	1 - 50 Sheet	255	PACON PRANG	6603	0.92	234.6	201181		
	ORANGE.					Pack								
													Awarded	
													Awaraca	
					1				1					
438	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #7203 or equal.	5760160-1649877	School Specialty LLC	No	1 - 50 Sheet	222	PACON PRANG	7203	0.8	177.6	201189		
	VIOLET.					Pack								
					1				1				Augustant	
					1				1				Awarded	
					1				1					
420	Paper construction groundwood 0" - 13" 50 "-	Pacon Sunworks #9203 or equal.	5760160 1640075	School Specialty 110	No	1 - 50 chart	722	PACON PRANG	9202	0.03	502.04	1506456		
439	Paper, construction, groundwood, 9" x 12", 58 lb. WHITE.	racon sunworks #9203 or equal.	2,00100-10498/2	School Specialty LLC	No	1 - 50 Sheet Pack	722	PACON PRANG	9203	0.82	592.04	1300456		
					1				1				Awarded	
					1				1					
				L										
440	Paper, construction, groundwood, 9" x 12", 58 lb. YELLOW.	Pacon Sunworks #8403 or equal.	5760160-1649871	School Specialty LLC	No	1 - 50 Sheet Pack	300	PACON PRANG	8403	0.8	240	201192		
	TEECOW.					rack								
													Awarded	
431	Paper, construction, groundwood, 9" x 12", 58 lb.	THIS NOTE APPLIES TO ITEM NOS. 431 through 440: 58 lb., 50 sheet/pkg., all	5760160-1077276		No	1 - 50 Sheet	482	Dixon Ticonderoga	6503 CAS125865	1.03	496.46			
	ASSORTED COLORS. Pacon Sunworks #6503 or equal.	purpose, high bulk, high strength, smooth texture, cuts clean and folds evenly without cracking. Each film wrapped package must be marked with full		Supplies		Pack								
		description, i.e. groundwood, size, color, etc. SAMPLE = 1 swatchbook. IF												
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												
432	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #6303 or equal.	5760160-1649872		No	1 - 50 Sheet	453	Dixon Ticonderoga	6303 CAS125961	1.03	466.59			
	BLACK.			Supplies		Pack								
433	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #7403 or equal.	5760160-1649876		No	1 - 50 Sheet	347	Dixon Ticonderoga	P7403 CAS125915	1.03	357.41			
	BLUE.			Supplies		Pack								
434	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #6703 or equal.	5760160-1649873	Cascade School	No	1 - 50 Sheet	258	Dixon Ticonderoga	P6703 CAS117327	1.03	265.74			
	BROWN.			Supplies		Pack								
435	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #8003 or equal.	5760160-1649869	Cascade School	No	1 - 50 Sheet	354	Dixon Ticonderoga	P8003 CAS125000	1.03	364.62			
433	HOLIDAY GREEN.	Tocon Summana #0003 Of Equal.	2.00100-1043009	Supplies	.40	Pack	334	_ ixon riconderoga	3003 CA3123309	1.03	304.02			
426	Departmention are all all and all are	Deepe Cupuralle 19903	E760160 46406==	Conned Select	N:-	1 50.05	220	Diver Ticardan	D0003 C454355	1.00	225.70			
436	Paper, construction, groundwood, 9" x 12", 58 lb. HOLIDAY RED.	Pacon Sunworks #9903 or equal.	5760160-1649870	Cascade School Supplies	No	1 - 50 Sheet Pack	326	Dixon Ticonderoga	P9903 CAS125874	1.03	335.78			
437	Paper, construction, groundwood, 9" x 12", 58 lb. ORANGE.	Pacon Sunworks #6603 or equal.	5760160-1649874	Cascade School	No	1 - 50 Sheet Pack	255	Dixon Ticonderoga	P6603 CAS125885	1.03	262.65			
	ONANGE.			Supplies		ratk								
438	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #7203 or equal.	5760160-1649877	Cascade School	No	1 - 50 Sheet	222	Dixon Ticonderoga	P7203 CAS125925	1.03	228.66			
	VIOLET.			Supplies		Pack								

439	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #9203 or equal.	5760160-1649875	Cascade School	No	1 - 50 Sheet	722	Dixon Ticonderoga	8703 CAS125995	1.03	743.66				
433	WHITE.	racon sunworks #3203 of Equal.	3700100-1043873	Supplies	140	Pack	722	Dixon riconderoga	8703 CA3123993	1.03	743.00				
440	December 1 and 1 a	David (1940)	F700400 4040074	Conside Calcord		4 5056	200	Diver Tirenders	D0 403 C45435005	4.03	300				
440	Paper, construction, groundwood, 9" x 12", 58 lb. YELLOW.	Pacon Sunworks #8403 or equal.	5760160-1649871	Cascade School Supplies	No	1 - 50 Sheet Pack	300	Dixon Ticonderoga	P8403 CAS125895	1.03	309				
431	Paper, construction, groundwood, 9" x 12", 58 lb. ASSORTED COLORS. Pacon Sunworks #6503 or equal.	THIS NOTE APPLIES TO ITEM NOS. 431 through 440: 58 lb., 50 sheet/pkg., all purpose, high bulk, high strength, smooth texture, cuts clean and folds evenly	5760160-1077276		No	1 - 50 Sheet	482	Pacon	PAC6503	1.09	525.38				
	ASSOCIED COLORS, Pacon Sunworks #6505 of equal.	without cracking. Each film wrapped package must be marked with full description, i.e. groundwood, size, color, etc. SAMPLE = 1 swatchbook. IF		Source		Pack									
		BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
432	P	Pacon Sunworks #6303 or equal.	5760160-1649872	Complete Printer		1 - 50 Sheet	453	B	PAC6303	1.09	493.77				
432	Paper, construction, groundwood, 9" x 12", 58 lb. BLACK.	Pacoli Sullworks #6505 of Equal.	3760160-1649872	Source	No	Pack	453	Pacon	PACOSOS	1.09	493.77				
433	Paper, construction, groundwood, 9" x 12", 58 lb. BLUE.	Pacon Sunworks #7403 or equal.	5760160-1649876	Complete Printer Source	No	1 - 50 Sheet Pack	347	Pacon	PAC7403	1.09	378.23				
	SEGE.			Source		ruck									
434	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #6703 or equal.	5760160-1649873	Complete Printer	No	1 - 50 Sheet	258	Pacon	PAC6703	1.09	281.22				
	BROWN.		111111111111111111111111111111111111111	Source		Pack				2.00					
435	Paper, construction, groundwood, 9" x 12", 58 lb. HOLIDAY GREEN.	Pacon Sunworks #8003 or equal.	5760160-1649869	Complete Printer Source	No	1 - 50 Sheet Pack	354	Pacon	PAC8003	1.09	385.86				
436	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #9903 or equal.	5760160-1649870	Complete Printer	No	1 - 50 Sheet	326	Pacon	PAC9903	1.26	410.76				
	HOLIDAY RED.			Source		Pack									
437	Paper, construction, groundwood, 9" x 12", 58 lb. ORANGE.	Pacon Sunworks #6603 or equal.	5760160-1649874	Complete Printer Source	No	1 - 50 Sheet Pack	255	Pacon	PAC6603	1.09	277.95				
438	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #7203 or equal.	5760160-1649877		No	1 - 50 Sheet	222	Pacon	PAC7203	1.06	235.32				
	VIOLET.			Source		Pack									
439	Paper, construction, groundwood, 9" x 12", 58 lb. WHITE.	Pacon Sunworks #9203 or equal.	5760160-1649875	Complete Printer Source	No	1 - 50 Sheet Pack	722	Pacon	PAC9203	1.09	786.98				
440	Paper, construction, groundwood, 9" x 12", 58 lb. YELLOW.	Pacon Sunworks #8403 or equal.	5760160-1649871	Complete Printer Source	No	1 - 50 Sheet Pack	300	Pacon	PAC8403	1.06	318				
	TELLOW.			Source		rdCK									
431	Paper, construction, groundwood, 9" x 12", 58 lb.	THIS NOTE APPLIES TO ITEM NOS. 431 through 440: 58 lb., 50 sheet/pkg., all	5760160-1077276	Lakeshore Learning	No	1 - 50 Sheet	482	PACON	TA50AC 48LB	1.39	669.98	Please reference "Per Quote	CONST PAPER 9X12-ASSORTED		
.51	ASSORTED COLORS. Pacon Sunworks #6503 or equal.	purpose, high bulk, high strength, smooth texture, cuts clean and folds evenly without cracking. Each film wrapped package must be marked with full	2077270	Materials, LLC		Pack	.02				223.30	#36588" on all purchase orders.	TERMS: NET 30		
		description, i.e. groundwood, size, color, etc. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
432	Paper, construction, groundwood, 9" x 12", 58 lb. BLACK.	Pacon Sunworks #6303 or equal.	5760160-1649872	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	453	PACON	TA50BK 48LB	1.39	629.67	#36588" on all purchase	CONST PAPER 9X12-BLACK TERMS: NET 30		
												orders.			
433	Paper, construction, groundwood, 9" x 12", 58 lb.	Pacon Sunworks #7403 or equal.	5760160-1649876	Lakeshore Learning	No	1 - 50 Sheet	347	PACON	TASOBU 48LB	1.39	482.33		CONST PAPER 9X12-BLUE TERMS:		
	BLUE.			Materials, LLC		Pack						#36588" on all purchase orders.	NET 30		

434	Paper, construction, groundwood, 9" x 12", 58 lb. BROWN.	Pacon Surworks #6703 or equal.	5760160-1649873	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	258	PACON	TA50BR 48LB	1.39	358.62	Please reference "Per Quote #36588" on all purchase orders.	CONST PAPER 9X12-BROWN TERMS: NET 30
435	Paper, construction, groundwood, 9" x 12", 58 lb. HOLIDAY GREEN.	Pacon Sunworks #8003 or equal.	5760160-1649869	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	354	PACON	TA50HG 48LB	1.39	492.06	Please reference "Per Quote #36588" on all purchase orders.	CONST PAPER 9X12-HOLIDAY GRN TERMS: NET 30
436	Paper, construction, groundwood, 9" x 12", 58 lb. HOLIDAY RED.	Pacon Sunworks #9903 or equal.	5760160-1649870	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	326	PACON	TA50HR 48LB	1.39	453.14	Please reference "Per Quote #36588" on all purchase orders.	CONST PAPER 9X12-HOLIDAY RED TERMS: NET 30
437	Paper, construction, groundwood, 9" x 12", 58 lb. ORANGE.	Pacon Sunworks #6603 or equal.	5760160-1649874	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	255	PACON	TA50RG 48LB	1.39	354.45	Please reference "Per Quote #36588" on all purchase orders.	CONST PAPER 9X12-ORANGE TERMS: NET 30
438	Paper, construction, groundwood, 9" x 12", 58 lb. VIOLET.	Pacon Surworks #7203 or equal.	5760160-1649877	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	222	PACON	TA50VT 48LB	1.39	308.58	Please reference "Per Quote #36588" on all purchase orders.	CONST PAPER 9X12-VIOLET TERMS: NET 30
439	Paper, construction, groundwood, 9" x 12", 58 lb. WHITE.			Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	722	PACON	TA50WT 48LB	1.39	1003.58	Please reference "Per Quote #36588" on all purchase orders.	CONST PAPER 9X12-WHITE TERMS: NET 30
440	Paper, construction, groundwood, 9" x 12", 58 lb. YELLOW.	Pacon Sunworks #8403 or equal.	5760160-1649871	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	300	PACON	TASOYE 48LB	1.39	417	Please reference "Per Quote #36588" on all purchase orders.	CONST PAPER 9X12-YELLOW TERMS: NET 30
431	Paper, construction, groundwood, 9" x 12", 58 lb. ASSORTED COLORS. Pacon Sunworks #6503 or equal.	THIS NOTE APPLIES TO ITEM NOS. 431 through 440: 58 lb., 50 sheet/plex, all purpose, high buth, high strength, smooth texture, cut clean and folds evenly without cracking. Each film wrapped package must be marked with full description, i.e. groundwood, size, color, etc. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760160-1077276	John R Green Co	No	1 - 50 Sheet Pack	482	PACON-P6503	37036	1.09	525.38		
432	Paper, construction, groundwood, 9° x 12°, 58 lb. BLACK.	Pacon Sunworks #6303 or equal.	5760160-1649872	John R Green Co	No	1 - 50 Sheet Pack	453	MODERN-81	36081	1.78	806.34		DIFFERENT BRAND
433	Paper, construction, groundwood, 9" x 12", 58 lb. BLUE.	Pacon Sunworks #7403 or equal.	5760160-1649876	John R Green Co	No	1 - 50 Sheet Pack	347	MODERN-30	36030	1.78	617.66		DIFFERENT BRAND
434	Paper, construction, groundwood, 9" x 12", 58 lb. BROWN.	Pacon Sunworks #6703 or equal.	5760160-1649873	John R Green Co	No	1 - 50 Sheet Pack	258	MODERN-16	36016	1.78	459.24		DIFFERENT BRAND
435	Paper, construction, groundwood, 9" x 12", 58 lb. HOLIDAY GREEN.	Pacon Surworks #8003 or equal.	5760160-1649869	John R Green Co	No	1 - 50 Sheet Pack	354	MODERN-43	36043	1.78	630.12		DIFFERENT BRAND-HOLIDAY GREEN
436	Paper, construction, groundwood, 9" x 12", 58 lb. HOLIDAY RED.	Pacon Sunworks #9903 or equal.	5760160-1649870	John R Green Co	No	1 - 50 Sheet Pack	326	MODERN-25	36025	1.78	580.28		DIFFERENT BRAND
437	Paper, construction, groundwood, 9" x 12", 58 lb. ORANGE.	Pacon Sunworks #6603 or equal.	5760160-1649874	John R Green Co	No	1 - 50 Sheet Pack	255	MODERN-60	36060	1.78	453.9		DIFFERENT BRAND
438	Paper, construction, groundwood, 9" x 12", 58 lb. VIOLET.	Pacon Sunworks #7203 or equal.	5760160-1649877	John R Green Co	No	1 - 50 Sheet Pack	222	MODERN-70	36070	1.78	395.16		DIFFERENT BRAND

439	Paper, construction, groundwood, 9" x 12", 58 lb. WHITE.	Pacon Sunworks #9203 or equal.	5760160-1649875	John R Green Co	No	1 - 50 Sheet Pack	722	PACON-P9203	37037	0.94	678.68				
	WHITE.					PdCK									
440	Paper, construction, groundwood, 9" x 12", 58 lb. YELLOW.	Pacon Sunworks #8403 or equal.	5760160-1649871	John R Green Co	No	1 - 50 Sheet Pack	300	MODERN-50	36050	1.78	534		DIFFERENT BRAND		
	TEEOW.					I dek									
Lot Item															
Number 441-450	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
441	Paper, construction, groundwood, 12" x 18", 58 lb.	(black, blue, brown, holiday green, pink, scarlet, violet, white, yellow and				1 - 50 Sheet	107	PACON PRANG	6507	1.73	185.11		201205		***************************************
	ASSORTED	yellow-orange). Pacon Sunworks #6507 or equal.				Pack									
	PACKAGE													Awarded	
442	Paper, construction, groundwood, 12" x 18", 58 lb. BLACK.	Pacon Sunworks #6307 or equal.	5760160-1649881	School Specialty LLC	No	1 - 50 Sheet Pack	89	PACON PRANG	6307	1.66	147.74		1506461		
	BLACK.					PdCK								Awarded	
1															
443	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #7407 or equal.	5760160-1649895	School Specialty LLC	No	1 - 50 Sheet	65	PACON PRANG	7407	1.53	99.45		201217		
-4-3	BLUE.	, acon sameons #7407 or equal.	.,00100-1043003	23.000 Specialty LLC	.40	Pack	33	- ACON FINING	,407	1.33	33.43		201217		
1														Awarded	
1															
444	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #6707 or equal.	5760160-1649882	School Specialty LLC	No	1 - 50 Sheet	36	PACON PRANG	6707	1.66	59.76		201211		
1	BROWN.					Pack									
														Awarded	
445	Paper, construction, groundwood, 12" x 18", 58 lb. HOLIDAY GREEN.	Pacon Sunworks #8007 or equal.	5760160-1649878	School Specialty LLC	No	1 - 50 Sheet Pack	60	PACON PRANG	8007	1.53	91.8		1506477		
	HOLIDAT GREEN.					PdCK								Awarded	
446	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #9907 or equal.	5760160.1640970	School Specialty LLC	No	1 - 50 Sheet	47	PACON PRANG	9907	2.02	94.94		201199		
440	HOLIDAY RED.	Pacon Sunworks #5907 or equal.	3760160-1649879	scribbi specialty LLC	NO	Pack	47	PACON PRANG	9907	2.02	94.94		201199		
														Awarded	
447	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #6607 or equal.	5760160-1649883	School Specialty LLC	No	1 - 50 Sheet	50	PACON PRANG	6607	1.88	94		299528		
	ORANGE.					Pack									
														Awarded	
448	Paper, construction, groundwood, 12" x 18", 58 lb. VIOLET.	Pacon Sunworks #7207 or equal.	5760160-1649886	School Specialty LLC	No	1 - 50 Sheet Pack	29	PACON PRANG	7207	1.53	44.37		201200		
	VIOLET.					Fack								Awarded	
449	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #9207 or equal.	5760160-1649884	School Specialty LLC	No	1 - 50 Sheet	135	PACON PRANG	9207	1.53	206.55		1506484		
	WHITE.					Pack									
1														Awarded	
1															
450	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #8407 or equal.	5760160-1649880	School Specialty LLC	No	1 - 50 Sheet	34	PACON PRANG	8407	1.53	52.02		201202		
1	YELLOW.					Pack								Awarded	
1														Awarucu	
441	Paper construction group dured 13" u.10". Fo II.	(black blue brown holiday groon piek seedet vielet white	5760160 1653730	Complete Prints	No	1 - 50 cha-+	107	Danen	PAC6507	2.00	223.63				
441	Paper, construction, groundwood, 12" x 18", 58 lb. ASSORTED	(black, blue, brown, holiday green, pink, scarlet, violet, white, yellow and yellow-orange). Pacon Sunworks #6507 or equal.	3/00100-1052/36	Source Source	No	1 - 50 Sheet Pack	107	Pacon	PAC6507	2.09	223.03				
	PACKAGE														
442	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #6307 or equal.	5760160-1649881		No	1 - 50 Sheet	89	Pacon	PAC6307	2.04	181.56				
	BLACK.			Source		Pack									
443	Paper, construction, groundwood, 12" x 18", 58 lb. BLUE.	Pacon Sunworks #7407 or equal.	5760160-1649885	Complete Printer Source	No	1 - 50 Sheet Pack	65	Pacon	PAC7407	1.89	122.85				
	DLUE.			Source		PACK									
444	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #6707 or equal.	5760160-1640993	Complete Printer	No	1 - 50 Sheet	36	Pacon	PAC6707	1.99	71.64				
444	BROWN.	racon Junworks #0707 OF equal.	3700100-1043082	Source Source	140	Pack	36	Facon	FAC0/0/	1.99	71.04				
445	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #8007 or equal.	5760160-1649878	Complete Printer	No	1 - 50 Sheet	60	Pacon	PAC8007	1.89	113.4				
	HOLIDAY GREEN.			Source		Pack									
446	Paper, construction, groundwood, 12" x 18", 58 lb. HOLIDAY RED.	Pacon Sunworks #9907 or equal.	5760160-1649879	Complete Printer Source	No	1 - 50 Sheet Pack	47	Pacon	PAC9907	2.49	117.03				
	HOLIDAT RED.			Source		FdLK									

					1			1						
447	Paper, construction, groundwood, 12" x 18", 58 lb. ORANGE.	Pacon Sunworks #6607 or equal.	5760160-1649883	Complete Printer Source	No	1 - 50 Sheet Pack	50	Pacon	PAC6607	2.19	109.5			
448	Paper, construction, groundwood, 12" x 18", 58 lb. VIOLET.	Pacon Sunworks #7207 or equal.	5760160-1649886	Complete Printer Source	No	1 - 50 Sheet Pack	29	Pacon	PAC7207	1.99	57.71			
	VIOLET.			Source		rack								
449	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #9207 or equal.	5760160-1649884		No	1 - 50 Sheet	135	Pacon	PAC9207	1.99	268.65			
	WHITE.			Source		Pack								
450	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #8407 or equal.	5760160-1649880	Complete Printer	No	1 - 50 Sheet	34	Pacon	PAC8407	1.99	67.66			
430	YELLOW.	racon samons notor of equal.	3700100 1043000	Source	140	Pack	54	1 00011	17100407	1.55	07.00			
441	Paper, construction, groundwood, 12" x 18", 58 lb. ASSORTED	(black, blue, brown, holiday green, pink, scarlet, violet, white, yellow and yellow-orange). Pacon Sunworks #6507 or equal.	5760160-1652736	Cascade School Supplies	No	1 - 50 Sheet Pack	107	Dixon Ticonderoga	P6507 CAS125965	2.06	220.42			
	PACKAGE	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,										
442	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #6307 or equal.	5760160-1649881		No	1 - 50 Sheet	89	Dixon Ticonderoga	P6307 CAS126061	2.06	183.34			
	BLACK.			Supplies		Pack								
443	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #7407 or equal.	5760160-1649885	Cascade School	No	1 - 50 Sheet	65	Dixon Ticonderoga	P7407 CAS126015	2.06	133.9	+		
	BLUE.			Supplies		Pack								
44.	Paner construction aroundured 428 408 55 "	Pacon Sunworks #6707 or equal.	5760160-1649882	Carpada C-lI	NI.	1 - 50 51	20	Divor Tiese door	D6707 CAS4473	3.00	74.40			
444	Paper, construction, groundwood, 12" x 18", 58 lb. BROWN.	racon sunworks #6/U/ or equal.	3/6U16U-1649882	Cascade School Supplies	No	1 - 50 Sheet Pack	36	Dixon Ticonderoga	ro/U/ CAS11/341	2.06	74.16			
445	Paper, construction, groundwood, 12" x 18", 58 lb. HOLIDAY GREEN.	Pacon Sunworks #8007 or equal.	5760160-1649878	Cascade School Supplies	No	1 - 50 Sheet Pack	60	Dixon Ticonderoga	P8007 CAS126009	2.06	123.6			
	HOLIDAT GREEN.			Supplies		PdCK								
446	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #9907 or equal.	5760160-1649879	Cascade School	No	1 - 50 Sheet	47	Dixon Ticonderoga	P9907 CAS125974	2.06	96.82			
	HOLIDAY RED.			Supplies		Pack								
447	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #6607 or equal.	5760160-1649883	Cascade School	No	1 - 50 Sheet	50	Dixon Ticonderoga	D6607 CAS125005	2.06	103			
447	ORANGE.	Pacon Sunworks #0007 or equal.	3700100-1043003	Supplies	NO	Pack	30	Dixon riconderoga	P0007 CA3123963	2.00	103			
448	Paper, construction, groundwood, 12" x 18", 58 lb. VIOLET.	Pacon Sunworks #7207 or equal.	5760160-1649886	Cascade School Supplies	No	1 - 50 Sheet Pack	29	Dixon Ticonderoga	P7207 CAS126025	2.06	59.74			
	violet.			заррисэ		ruck								
449	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #9207 or equal.	5760160-1649884		No	1 - 50 Sheet	135	Dixon Ticonderoga	P9207 CAS108960	2.06	278.1			
	WHITE.			Supplies		Pack								
450	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #8407 or equal.	5760160-1649880	Cascade School	No	1 - 50 Sheet	34	Dixon Ticonderoga	8407 CAS125995	2.06	70.04			
1	YELLOW.			Supplies		Pack								
	Danas construction	(blad, blue braum balid	E760100 40000	Lakask		1 506	40-	2400:	TAFAAC	2.75	207.11	Diagon sof	CONCT DADED 42V46	
441	Paper, construction, groundwood, 12" x 18", 58 lb. ASSORTED	(black, blue, brown, holiday green, pink, scarlet, violet, white, yellow and yellow-orange). Pacon Sunworks #6507 or equal.	5/60160-1652/36	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	107	PACON	TA51AC 48LB	2.78	297.46	Please reference "Per Quote #36586" on all purchase	CONST PAPER 12X18-ASSORTED TERMS: NET 30	
	PACKAGE											orders.		
442	Paper, construction, groundwood, 12" x 18", 58 lb. BLACK.	Pacon Sunworks #6307 or equal.	5760160-1649881	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	89	PACON	TA51BK 48LB	2.78	247.42	Please reference "Per Quote #36586" on all purchase	CONST PAPER 12X18-BLACK TERMS: NET 30	
	DEACK.			iviateridis, LLC		Fack						orders.	TERRIS. INCT SU	
443	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #7407 or equal.	5760160-1649885	Lakeshore Learning	No	1 - 50 Sheet	65	PACON	TA51BU 48LB	2.78	180.7	Please reference "Per Quote	CONST PAPER 12X18-BLUE TERMS:	
	BLUE.			Materials, LLC		Pack						#36586" on all purchase orders.	NET 30	
												orders.		
444	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #6707 or equal.	5760160-1649892	Lakeshore Learning	No	1 - 50 Sheet	36	PACON	TA51BR 48LB	2.78	100.08	Please reference "Per Quote	CONST PAPER 12X18-BROWN	
744	BROWN.	Tucon Sunivoras mozoz di Equal.	2.00100-1043002	Materials, LLC	.,,	Pack	30	, ACON	THOSEN HOLD	2.70	100.00	#36586" on all purchase	TERMS: NET 30	
												orders.		
445	Paper, construction, groundwood, 12" x 18", 58 lb. HOLIDAY GREEN.	Pacon Sunworks #8007 or equal.	5760160-1649878	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	60	PACON	TA51HG 48LB	2.78	166.8	Please reference "Per Quote #36586" on all purchase	CONST PAPER 12X18-HOLIDAY GR TERMS: NET 30	
	- Olection					- JCK						orders.		
446	Paper, construction, groundwood, 12" x 18", 58 lb.	Pacon Sunworks #9907 or equal.	5760160-1649879		No	1 - 50 Sheet	47	PACON	TA51HR 48LB	2.78	130.66		CONST PAPER 12X18-HOLIDAY RD	
	HOLIDAY RED.			Materials, LLC		Pack						#36586" on all purchase orders.	TERMS: NET 30	

			5760160-1649883									Please reference "Per Quote			
447	Paper, construction, groundwood, 12" x 18", 58 lb. ORANGE.	Pacon Sunworks #6607 or equal.	5/60160-1649883	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	50	PACON	TA51RG 48LB	2.78	139	#36586" on all purchase orders.	CONST PAPER 12X18-ORANGE TERMS: NET 30		
448	Paper, construction, groundwood, 12" x 18", 58 lb. VIOLET.	Pacon Sunworks #7207 or equal.	5760160-1649886	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	29	PACON	TA51VT 48LB	2.78	80.62	Please reference "Per Quote #36586" on all purchase orders.	CONST PAPER 12X18-VIOLET TERMS: NET 30		
449	Paper, construction, groundwood, 12" x 18", 58 lb. WHITE.	Pacon Sunworks #9207 or equal.	5760160-1649884	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	135	PACON	TA51WT 48LB	2.78	375.3	Please reference "Per Quote #36586" on all purchase orders.	CONST PAPER 12X18-WHITE TERMS: NET 30		
450	Paper, construction, groundwood, 12" x 18", 58 lb. YELLOW.	Pacon Sunworks #8407 or equal.	5760160-1649880	Lakeshore Learning Materials, LLC	No	1 - 50 Sheet Pack	34	PACON	TA51YE 48LB	2.78	94.52	Please reference "Per Quote #36586" on all purchase orders.	CONST PAPER 12X18-YELLOW TERMS: NET 30		
441	Paper, construction, groundwood, 12" x 18", 58 lb. ASSORTED PACKAGE	(black, blue, brown, holiday green, pink, scarlet, violet, white, yellow and yellow-orange). Pacon Sunworks #6507 or equal.	5760160-1652736	John R Green Co	No	1 - 50 Sheet Pack	107	PACON-P6507	37119	2.11	225.77				
442	Paper, construction, groundwood, 12" x 18", 58 lb. BLACK.	Pacon Sunworks #6307 or equal.	5760160-1649881	John R Green Co	No	1 - 50 Sheet Pack	89	MODERN-D81	36181	3.53	314.17		DIFFERENT BRAND		
443	Paper, construction, groundwood, 12" x 18", 58 lb. BLUE.	Pacon Sunworks #7407 or equal.	5760160-1649885	John R Green Co	No	1 - 50 Sheet Pack	65	MODERN-D30	36130	3.53	229.45		DIFFERENT BRAND		
444	Paper, construction, groundwood, 12" x 18", 58 lb. BROWN.	Pacon Sunworks #6707 or equal.	5760160-1649882	John R Green Co	No	1 - 50 Sheet Pack	36	MODERN-D16	36116	3.53	127.08		DIFFERENT BRAND		
445	Paper, construction, groundwood, 12" x 18", 58 lb. HOLIDAY GREEN.	Pacon Sunworks #8007 or equal.	5760160-1649878	John R Green Co	No	1 - 50 Sheet Pack	60	MODERN-D43	36143	3.53	211.8		DIFFERENT BRAND		
446	Paper, construction, groundwood, 12" x 18", 58 lb. HOLIDAY RED.	Pacon Sunworks #9907 or equal.	5760160-1649879	John R Green Co	No	1 - 50 Sheet Pack	47	MODERN-D25	36125	3.53	165.91		DIFFERENT BRAND		
447	Paper, construction, groundwood, 12" x 18", 58 lb. ORANGE.	Pacon Sunworks #6607 or equal.	5760160-1649883	John R Green Co	No	1 - 50 Sheet Pack	50	MODERN-D60	36160	3.53	176.5		DIFFERENT BRAND		
448	Paper, construction, groundwood, 12" x 18", 58 lb. VIOLET.	Pacon Sunworks #7207 or equal.	5760160-1649886	John R Green Co	No	1 - 50 Sheet Pack	29	MODERN-D70	36170	3.53	102.37		DIFFERENT BRAND		
449	Paper, construction, groundwood, 12" x 18", 58 lb. WHITE.	Pacon Sunworks #9207 or equal.	5760160-1649884	John R Green Co	No	1 - 50 Sheet Pack	135	MODERN-D80	36180	3.8	513		DIFFERENT BRAND		
450	Paper, construction, groundwood, 12" x 18", 58 lb. YELLOW.	Pacon Sunworks #8407 or equal.	5760160-1649880	John R Green Co	No	1 - 50 Sheet Pack	34	MODERN-D50	36150	3.53	120.02		DIFFERENT BRAND		
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
451-461 451	Item/Service Paper, construction, groundwood, 18" x 24", 58 lb. ASSORTED PACKAGE	Description (black, blue, brown, holiday green, pink, scarlet, violet, white, yellow and yellow-orange). Pacon Sunworks #6517 or equal.	5760160-1077267		No Bid	1 - 50 Sheet Pack	Quantity 52	Provider PACON PRANG	Part Number 6517	Price 4.6	Total Price 239.2	Notes	Supplier Notes 1506541	Award Status Awarded	Award Notes
452	Paper, construction, groundwood, 18" x 24", 58 lb. BLACK.	Pacon Sunworks #6317 or equal.	5760160-1649927	School Specialty LLC	No	1 - 50 Sheet Pack	38	PACON PRANG	6317	3.64	138.32		1506542	Awarded	
453	Paper, construction, groundwood, 18" x 24", 58 lb. BLUE.	Pacon Sunworks #7417 or equal.	5760160-1649934	School Specialty LLC	No	1 - 50 Sheet Pack	10	PACON PRANG	7417	3.25	32.5		1506543	Awarded	
454	Paper, construction, groundwood, 18" x 24", 58 lb. BROWN.	Pacon Sunworks #6717 or equal.	5760160-1649930	School Specialty LLC	No	1 - 50 Sheet Pack	13	PACON PRANG	6717	3.51	45.63		1506546	Awarded	
455	Paper, construction, groundwood, 18" x 24", 58 lb. GRAY.	Pacon Sunworks #8817 or equal.	5760160-1719446	School Specialty LLC	No	1 - 50 Sheet Pack	14	PACON PRANG	8817	3.42	47.88		1506547	Awarded	
Ь	<u> </u>		1			1		1							

456	Paper, construction, groundwood, 18" x 24", 58 lb. HOLIDAY GREEN.	Pacon Sunworks #8017 or equal.	5760160-1649924	School Specialty LLC	No	1 - 50 Sheet Pack	12	PACON PRANG	8017	3.25	39	1506548	Awarded	
457	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #9917 or equal.	5760160-1649925	School Specialty LLC	No	1 - 50 Sheet	18	PACON PRANG	9917	4.21	75.78	1506549		
	HOLIDAY RED.					Pack							Awarded	
458	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #6617 or equal.	5760160-1649932	School Specialty LLC	No	1 - 50 Sheet	4	PACON PRANG	6617	3.75	15	1506550		
	ORANGE.					Pack							Awarded	
459	Paper, construction, groundwood, 18" x 24", 58 lb. VIOLET.	Pacon Sunworks #7217 or equal.	5760160-1649936	School Specialty LLC	No	1 - 50 Sheet Pack	3	PACON PRANG	7217	3.25	9.75	1506554		
													Awarded	
460	Paper, construction, groundwood, 18" x 24", 58 lb. WHITE.	Pacon Sunworks #9217 or equal.	5760160-1649933	School Specialty LLC	No	1 - 50 Sheet Pack	67	PACON PRANG	9217	3.25	217.75	1506556		
													Awarded	
461	Paper, construction, groundwood, 18" x 24", 58 lb. YELLOW.	Pacon Sunworks #8417 or equal.	5760160-1649926	School Specialty LLC	No	1 - 50 Sheet Pack	7	PACON PRANG	8417	3.52	24.64	1506557		
	·												Awarded	
451	Paper, construction, groundwood, 18" x 24", 58 lb. ASSORTED PACKAGE	(black, blue, brown, holiday green, pink, scarlet, violet, white, yellow and yellow-orange). Pacon Sunworks #6517 or equal.	5760160-1077267	Complete Printer Source	No	1 - 50 Sheet Pack	52	Pacon	PAC6517	6.99	363.48			
452	Paper, construction, groundwood, 18" x 24", 58 lb. BLACK.	Pacon Sunworks #6317 or equal.	5760160-1649927	Complete Printer Source	No	1 - 50 Sheet Pack	38	Pacon	PAC6317	4.49	170.62			
453	Paper, construction, groundwood, 18" x 24", 58 lb. BLUE.	Pacon Sunworks #7417 or equal.	5760160-1649934	Complete Printer Source	No	1 - 50 Sheet Pack	10	Pacon	PAC7417	4.29	42.9			
	SECE.			Source		Tuck								
454	Paper, construction, groundwood, 18" x 24", 58 lb. BROWN.	Pacon Sunworks #6717 or equal.	5760160-1649930	Complete Printer Source	No	1 - 50 Sheet Pack	13	Pacon	PAC6717	4.39	57.07			
455	Paper, construction, groundwood, 18" x 24", 58 lb. GRAY.	Pacon Sunworks #8817 or equal.	5760160-1719446	Complete Printer Source	No	1 - 50 Sheet Pack	14	Pacon	PAC8817	4.29	60.06			
	GIAT.			Source		rack								
456	Paper, construction, groundwood, 18" x 24", 58 lb. HOLIDAY GREEN.	Pacon Sunworks #8017 or equal.	5760160-1649924	Complete Printer Source	No	1 - 50 Sheet Pack	12	Pacon	PAC8017	4.29	51.48			
457	Paper, construction, groundwood, 18" x 24", 58 lb. HOLIDAY RED.	Pacon Sunworks #9917 or equal.	5760160-1649925	Complete Printer Source	No	1 - 50 Sheet Pack	18	Pacon	PAC9917	4.89	88.02			
458	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #6617 or equal.	5760160-1649932		No	1 - 50 Sheet	4	Pacon	PAC6617	5.09	20.36			
	ORANGE.			Source		Pack								
459	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #7217 or equal.	5760160-1649936	Complete Printer	No	1 - 50 Sheet	3	Pacon	PAC7217	3.99	11.97			
433	VIOLET.	r deoritatimon πετε σι equal.		Source	.,,	Pack	,	1 30011	1707217	3.33	21.37			
460	Paper, construction, groundwood, 18" x 24", 58 lb. WHITE.	Pacon Sunworks #9217 or equal.	5760160-1649933	Complete Printer Source	No	1 - 50 Sheet Pack	67	Pacon	PAC9217	4.24	284.08			
461	Paper, construction, groundwood, 18" x 24", 58 lb. YELLOW.	Pacon Sunworks #8417 or equal.	5760160-1649926	Complete Printer Source	No	1 - 50 Sheet Pack	7	Pacon	PAC8417	4.39	30.73			
	rettow.			Source		rdCK								
451	Paper, construction, groundwood, 18" x 24", 58 lb. ASSORTED PACKAGE	(black, blue, brown, holiday green, pink, scarlet, violet, white, yellow and yellow-orange). Pacon Sunworks #6517 or equal.	5760160-1077267		No	1 - 50 Sheet	52	Dixon Ticonderoga	P6517 CAS126165	5.89	306.28			
	MODULI EU PAURAGE	yenow-orange). Pacon Sunworks #651/ or equal.		Supplies		Pack								
452	Paper, construction, groundwood, 18" x 24", 58 lb. BLACK.	Pacon Sunworks #6317 or equal.	5760160-1649927		No	1 - 50 Sheet Pack	38	Dixon Ticonderoga	6317 CAS126261	4.37	166.06			
	DLAUK.			Supplies		rdCK								
453	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #7417 or equal.	5760160-1649934	Cascade School	No	1 - 50 Sheet	10	Dixon Ticonderoga	7417 CAS126215	4.38	43.8			
	BLUE.	·		Supplies		Pack								

					1										T.
454	Paper, construction, groundwood, 18" x 24", 58 lb. BROWN.	Pacon Sunworks #6717 or equal.	5760160-1649930	Cascade School Supplies	No	1 - 50 Sheet Pack	13	Dixon Ticonderoga/Pacon	6718 CAS112346	6.72	87.36		Dixon Ticonderoga/Pacon 6718 Warm Brown		
455	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #8817 or equal.	5760160-1719446	Cascade School	No	1 - 50 Sheet	14	Divon Ticonderoga	8817 CAS126245	6.53	91.42				
	GRAY.			Supplies		Pack									
456	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #8017 or equal.	5760160-1649924	Cascade School	No	1 - 50 Sheet	12	Dixon Ticonderoga	8017 CAS126209	4.38	52.56				
	HOLIDAY GREEN.			Supplies		Pack									
457	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #9917 or equal.	5760160-1649925	Cascade School	No	1 - 50 Sheet	18	Dixon	9917 CAS099009	6.72	120.96		18 X 24 Holiday Red		
	HOLIDAY RED.			Supplies		Pack		Ticonderoga/Pacon/ Sunworks							
450	Daniel and April 241 50 lb	Pacon Sunworks #6617 or equal.	5760160-1649932	Consideration of	N	4 50564		Birra Tirradana	CC47 C45435405	4.20	47.53				
458	Paper, construction, groundwood, 18" x 24", 58 lb. ORANGE.	Pacon Sunworks #6617 or equal.	5760160-1649932	Cascade School Supplies	No	1 - 50 Sheet Pack	4	Dixon Ticonderoga	6617 CAS126185	4.38	17.52				
459	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #7217 or equal.	5760160-1649936	Cascade School	No	1 - 50 Sheet	3	Dixon Ticonderoga	7217 CAS126225	4.38	13.14				
	VIOLET.	•		Supplies		Pack		_							
L_					<u></u>					<u> </u>		<u> </u>		<u> </u>	
460	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #9217 or equal.	5760160-1649933	Cascade School	No	1 - 50 Sheet	67	Dixon Ticonderoga	8717 CAS126255	4.59	307.53		·		
	WHITE.			Supplies		Pack									
1															
					L			<u> </u>							
461	Paper, construction, groundwood, 18" x 24", 58 lb. YELLOW.	Pacon Sunworks #8417 or equal.	5760160-1649926	Cascade School Supplies	No	1 - 50 Sheet Pack	7	Dixon Ticonderoga	8417 CAS126195	4.38	30.66				
1	TELEOW.			Joppines		, ack									
451	Paper, construction, groundwood, 18" x 24", 58 lb.	(black, blue, brown, holiday green, pink, scarlet, violet, white, yellow and	5760160-1077267	John R Green Co	No	1 - 50 Sheet	52	MODERN-DD	36298	7	364		DIFFERENT BRAND		
451	ASSORTED PACKAGE	yellow-orange). Pacon Sunworks #6517 or equal.	3700100 1077207	John K Green co		Pack	32	modelii bb	30230	,	304		DITT ENERT DIVIND		
452	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #6317 or equal.	5760160-1649927	John R Green Co	No	1 - 50 Sheet	38	MODERN-DD81	36281	7.05	267.9		DIFFERENT BRAND		
	BLACK.					Pack									
453	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #7417 or equal.	5760160-1649934	John R Green Co	No	1 - 50 Sheet	10	MODERN-DD30	36230	7.05	70.5		DIFFERENT BRAND		
	BLUE.					Pack									
454	Daniel and April 241 50 lb	December 19747	F750450 4540030	taka B Caran Ca	N	4 50 Sh h	13	MODERN-DD16	36216	7.05	04.55		DIFFERENT BRAND		
434	Paper, construction, groundwood, 18" x 24", 58 lb. BROWN.	Pacon Sunworks #6717 or equal.	5760160-1649930	John R Green Co	No	1 - 50 Sheet Pack	15	WIODERIN-DD16	30210	7.05	91.65		DIFFERENT BRAIND		
455	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #8817 or equal.	5760160-1719446	John R Green Co	No	1 - 50 Sheet	14	MODERN-DD10	36210	7.05	98.7		DIFFERENT BRAND		
	GRAY.					Pack									
456	Paper, construction, groundwood, 18" x 24", 58 lb. HOLIDAY GREEN.	Pacon Sunworks #8017 or equal.	5760160-1649924	John R Green Co	No	1 - 50 Sheet Pack	12	MODERN-DD43	36243	7.05	84.6		DIFFERENT BRAND		
	HOLIDAY GREEN.					FACK									
457	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #0017 or squal	5760160-1649925	John P Cross C	No	1 - 50 Chart	10	MODERN-DD25	36225	7.05	126.0		DIFFERENT BRAND		
457	Paper, construction, groundwood, 18" x 24", 58 lb. HOLIDAY RED.	Pacon Sunworks #9917 or equal.	3760160-1649925	John K Green Co	No	1 - 50 Sheet Pack	18	WIODERN-DD25	30225	7.05	126.9		DIFFERENT BRAND		
458	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #6617 or equal.	5760160-1649932	John R Green Co	No	1 - 50 Sheet	4	MODERN-DD60	36260	7.05	28.2		DIFFERENT BRAND		
	ORANGE.					Pack									
459	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #7217 or equal.	5760160-1649936	John R Green Co	No	1 - 50 Sheet	3	MODERN-DD70	36270	7.05	21.15		DIFFERENT BRAND		
	VIOLET.					Pack									
		Description of the second seco	F750450	Library C		4 505		Montri	20000		50		DIFFERENCE		
460	Paper, construction, groundwood, 18" x 24", 58 lb. WHITE.	Pacon Sunworks #9217 or equal.	5/60160-1649933	John R Green Co	No	1 - 50 Sheet Pack	67	MODERN-DD80	36280	7.56	506.52		DIFFERENT BRAND		
						Jen									
461	Paper, construction, groundwood, 18" x 24", 58 lb.	Pacon Sunworks #8417 or equal.	5760160-1649926	John R Green Co	No	1 - 50 Sheet	7	MODERN-DD50	36250	7.05	49.35		DIFFERENT BRAND		
	YELLOW.					Pack									
Lot Item															
Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
462-464	Item/Service	Description	Commodity Code	Vendor Name	No Bid	UOM	Quantity	Provider	Part Number	Price	Total Price	Notes	Supplier Notes	Award Status	Award Notes

462	Paper, newsprint, 9" x 12", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0309N or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371966	School Specialty LLC	No	1 - 500 Sheet Ream	235	SCHOOL SMART BY APC	309	3.47	815.45		085596	Awarded	
463	Paper, newsprint, 12" x 18", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0312N or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371975	School Specialty LLC	No	1 - 500 Sheet Ream	51	SCHOOL SMART BY APC	312	6.93	353.43		085597	Awarded	
464	Paper, newsprint, 18" x 24", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0318N or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371984	School Specialty LLC	No	1 - 500 Sheet Ream	35	SCHOOL SMART BY APC	318	14.69	514.15		085598	Awarded	
462	Paper, newsprint, 9" x 12", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0309N or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371966	Complete Printer Source	No	1 - 500 Sheet Ream	235	American Paper Converters	AMPARP0309N	3.79	890.65				
463	Paper, newsprint, 12" x 18", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0312N or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371975	Complete Printer Source	No	1 - 500 Sheet Ream	51	American Paper Converters	AMPARP0312N	7.49	381.99				
464	Paper, newsprint, 18" x 24", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0318N or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371984	Complete Printer Source	No	1 - 500 Sheet Ream	35	American Paper Converters	AMPARP0318N	15.28	534.8				
462	Paper, newsprint, 9" x 12", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0309N or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371966	Cascade School Supplies	No	1 - 500 Sheet Ream	235	Dixon Ticonderoga/Pacon	P3407 CAS109629	4.26	1001.1		Dixon Ticonderoga/Pacon P3407		
463	Paper, newsprint, 12" x 18", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0312N or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371975	Cascade School Supplies	No	1 - 500 Sheet Ream	51	Dixon Ticonderoga/Pacon	P3409 CAS109631	8.11	413.61		Dixon Ticonderoga/Pacon P3409		
464	Paper, newsprint, 18" x 24", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0318N or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371984	Cascade School Supplies	No	1 - 500 Sheet Ream	35	American Paper	3181 CAS109633	15.9	556.5		American Paper 3181		
462	Paper, newsprint, 9" x 12", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0309N or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371966	John R Green Co	No	1 - 500 Sheet Ream	235	AMERICAN PAPER- 309	02306	5.49	1290.15				
463	Paper, newsprint, 12" x 18", 30 lb., universal practice drawing type,	White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0312N or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760360-1371975	John R Green Co	No	1 - 500 Sheet Ream	51	AMERICAN PAPER- 312	02307	10.97	559.47				
464		White, #1 grade, medium tooth, non-brittle, 500 sheets/ream. American Paper #ARP0318N or equal. IF BIDDING	5760360-1371984	John R Green Co	No	1 - 500	35	AMERICAN PAPER-	02308	22.15	775.25				
	drawing type,	#AKPUSION OF EQUAL IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.				Sheet Ream		318-1							
	arawing type,					Sheet Ream		318-1							
Lot Item Number		THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.						Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
Number 465-473	Item/Service	THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Description	Commodity Code		No Bid	UOM	Quantity	Manufacturer / Provider	Part Number	Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
Number		THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	Commodity Code 5760420-1649861		No Bid		Quantity 43	Manufacturer /			Total Price		Supplier Notes	Award Status	Award Notes Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473.
Number 465-473 465	Item/Service Paper, posterboard, 22" x 28", 25 sheets/pkg. BLACK.	THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Description THIS NOTE APPLIES TO ITEM MOS. 465 through 473: Smooth unform finish, brilliant colors on both diesé, 4 ply, used for posters, art morects, mats, mounting, block printing, painting, markers and stenciling. Paper must be packaged 25 sheets per cardboard carton from the manufacture. 5AMPLE = 1 swafthook. IF BIDDING THE	5760420-1649861			UOM 1 - 25 Sheet	Quantity 43	Manufacturer / Provider	Part Number	Price			Supplier Notes	Award Status	Reject - did not submit sample for Item 472 for
Number 465-473 465	Item/Service Paper, posterboard, 22" x 28", 25 sheets/pkg. BLACK. Pacon Peacock Railroad Board #5481-1 or equal. Paper, posterboard, 22" x 28", 25 sheets/pkg. HOLIDAY	THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Description THIS NOTE APPLIES TO ITEM NOS. 465 through 473: Smooth uniform finish, brilliant colors on both sides, 4 ply, used for posters, art projects, mats, mounting, block printing, painting, markers and steneding, Paper must be packaged 25 sheets per cardboard carton from the manufacturer. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760420-1649861	John R Green Co John R Green Co	No	UOM 1 - 25 Sheet Pack	15	Manufacturer / Provider PACON-P5481-1	Part Number 54005	Price 10.8	464.4		Supplier Notes	Award Status	Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473. Reject - did not submit sample for Item 472 for
Number 465-473 465 466 466	Hem/Service Paper, posterboard, 22" x 28", 25 sheets/pkg. BLACK. Pacon Peacock Railroad Board #5481-1 or equal. Paper, posterboard, 22" x 28", 25 sheets/pkg. HOUDAY GREEN. Paper, posterboard, 22" x 28", 25 sheets/pkg. LIGHT	Description THIS NOTE APPLIES TO ITEM NOS. 465 through 473: Smooth uniform finish, brilliant colors on both sides, 4 ply, used for posters, art projects, masts, mounting, block printing, painting, markers and stenciling. Paper must be packaged 25 sheets per cardboard carton from the manufacturer. SMMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Pacon Peacock Railroad Board #5466-1 or equal. Pacon Peacock Railroad Board #5484-1 or equal.	5760420-1649861 5760420-1649858 5760420-1649857	John R Green Co John R Green Co	No No	UOM 1 - 25 Sheet Pack 1 - 25 Sheet Pack	15	Manufacturer / Provider PACON-P5481-1 PACON-P5466-1	9art Number 54005 54006	10.8 10.8	162		Supplier Notes	Award Status	Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473. Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473. Reject - did not submit sample for Item 472 for Reject - did not submit sample for Item 472 for
Number 465-473 465 466 466	Item/Service Paper, posterboard, 22" x 28", 25 sheets/pkg, BLACK. Pacon Peacock Railroad Board #5481-1 or equal. Paper, posterboard, 22" x 28", 25 sheets/pkg, HOUDAY GREEN. Paper, posterboard, 22" x 28", 25 sheets/pkg, LIGHT BLUE.	Description THIS NOTE APPLIES TO ITEM NOS. 465 through 473: Smooth uniform finish, brilliant colors on both sides, 4 ply, used for posters, art projects, masts, mounting, block printing, painting, markers and stenciling. Paper must be packaged 25 sheets per cardboard carton from the manufacturer. SMMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Pacon Peacock Railroad Board #5466-1 or equal. Pacon Peacock Railroad Board #5484-1 or equal.	5760420-1649861 5760420-1649858 5760420-1649857 5760420-1649860	John R Green Co John R Green Co John R Green Co	No No	UOM 1 - 25 Sheet Pack 1 - 25 Sheet Pack 1 - 25 Sheet Pack 1 - 25 Sheet	38	Manufacturer / Provider PACON-P5481-1 PACON-P5466-1 PACON-P5484-1	Part Number	10.8 10.8	162		Supplier Notes	Award Status	Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473. Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473. Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473. Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473.
465-473 465 466 466 466 466 466 466 466 466 466	Item/Service Paper, posterboard, 22" x 28", 25 sheets/pkg, BLACK. Pacon Peacock Railroad Board #5481-1 or equal. Paper, posterboard, 22" x 28", 25 sheets/pkg, HOLIDAY GREEN. Paper, posterboard, 22" x 28", 25 sheets/pkg, LIGHT BLUE. Paper, posterboard, 22" x 28", 25 sheets/pkg, CRANGE.	Description THIS NOTE APPLIES TO ITEM NOS. 465 through 473: Smooth uniform finish, brilliant colors on both sides, 4 ply, used for posters, art projects, mats, mounting, block printing, painting, markers and stenciling. Paper must be packaged 25 sheets cardboard carton from the manufacture. SMMPE = 1 swetshoot, if BilDDING THE APPROVED PRODUCT, NO SAMPLE 16 REQUIRED. Pacon Peacock Railroad Board #5466-1 or equal. Pacon Peacock Railroad Board #5484-1 or equal. Pacon Peacock Railroad Board #5484-1 or equal.	5760420-1649861 5760420-1649858 5760420-1649857 5760420-1649860 5760420-2013154	John R Green Co John R Green Co John R Green Co John R Green Co	No No No	UOM 1 - 25 Sheet Pack 1 - 25 Sheet Pack 1 - 25 Sheet Pack 1 - 25 Sheet Pack	15 38 12 11	Manufacturer / Provider PACON-P5481-1 PACON-P5466-1 PACON-P5484-1 PACON-P5478-1	Part Number	10.8 10.8 10.8 11.11	464.4 162 422.18		Supplier Notes	Award Status	Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473. Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473. Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473. Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473. Reject - did not submit sample for Item 472 for evaluation for Lot Item Nos. 465 thru 473.

471		Pacon Peacock Railroad Board #5475-1 or equal.	5760420-1649856	John R Green Co	No	1 - 25 Sheet	24	PACON-P5475-1	54007	10.8	259.2			Reject - did not submit sample for Item 472 for
	Paper, posterboard, 22" x 28", 25 sheets/pkg. RED.	, dearn edeber hamoud sould #5475 1 of equal.	3700420 1043030	John Worker Co		Pack	2.4	174011134731	34007	10.0	233.2			evaluation for Lot Item Nos. 465 thru 473.
472	Paper, posterboard, 22" x 28", 25 sheets/pkg. WHITE.	Pacon Peacock Railroad Board #104159 or equal.	5760420-1372474	John R Green Co	No	1 - 25 Sheet	823	AMERICAN PAPER-	50105	6.75	5555.25	DIFFERENT BRAND		Reject - did not submit sample for Item 472 for
						Pack		RRYWH25						evaluation for Lot Item Nos. 465 thru 473.
473	Paper, posterboard, 22" x 28", 25 sheets/pkg. YELLOW.	Pacon Peacock Railroad Board #5472-1 or equal.	5760420-1649859	John R Green Co	No	1 - 25 Sheet	25	PACON-P5472-1	54011	13.6	340			Reject - did not submit sample for Item 472 for
		·				Pack								evaluation for Lot Item Nos. 465 thru 473.
465	Paper, posterboard, 22" x 28", 25 sheets/pkg. BLACK.	THIS NOTE APPLIES TO ITEM NOS. 465 through 473: Smooth	5760420-1649861	Complete Printer	No	1 - 25 Sheet	43	Pacon	PAC54811	11.29	485.47			
	Pacon Peacock Railroad Board #5481-1 or equal.	uniform finish, brilliant colors on both sides, 4 ply, used for posters, art projects, mats, mounting, block printing, painting,		Source		Pack								
		markers and stenciling. Paper must be packaged 25 sheets per cardboard carton from the manufacturer. SAMPLE = 1 swatchbook. IF BIDDING THE											Awarded	
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												
466	Paper, posterboard, 22" x 28", 25 sheets/pkg. HOLIDAY	Pacon Peacock Railroad Board #5466-1 or equal.	5760420-1649858	Complete Printer	No	1 - 25 Sheet	15	Pacon	PAC54661	11.29	169.35			
	GREEN.			Source		Pack								
													Awarded	
467	Paper, posterboard, 22" x 28", 25 sheets/pkg. LIGHT	Pacon Peacock Railroad Board #5484-1 or equal.	5760420-1649857	Complete Printer	No	1 - 25 Sheet	38	Pacon	PAC54841	11.29	429.02			
407	BLUE.	, dear reaction named state is 3404 1 or equal.	3700420 1043037	Source		Pack	30	i dedii	171034042	11.13	423.02			
													Awarded	
468	Paper, posterboard, 22" x 28", 25 sheets/pkg. ORANGE.	Pacon Peacock Railroad Board #5478-1 or equal.	5760420-1649860	Complete Printer	No	1 - 25 Sheet	12	Pacon	PAC54781	11.29	135.48			
400	Faper, posteriousis, 22 × 28 , 23 sireets, pag. Olivitot.	racon reactor namond board #3476-1 of equal.	3700420-1043800	Source	NO	Pack	12	Facon	FAC34761	11.23	133.40			
													Awarded	
469	Paper, posterboard, 22" x 28", 25 sheets/pkg. PINK.	Pacon Peacock Railroad Board #5468-1 or equal.	E760430 30131E4	Complete Printer	No	1 - 25 Sheet	11	Pacon	PAC54681	11.29	124.19			
469	Paper, posterboard, 22 x 28 , 25 sneets/pkg. PINK.	Расоп Реасоск кангоао воаго #5468-1 or equal.	5760420-2013154	Source Source	NO	Pack	11	Pacon	PAC54681	11.29	124.19			
													Awarded	
470	Day 1 - 1 - 2	David David David WEAR A constitution	5750430 4540053	Consolida Briston		4 25 51		B	DACE 4404	44.20	450.05			
470	Paper, posterboard, 22" x 28", 25 sheets/pkg. PURPLE.	Pacon Peacock Railroad Board #5448-1 or equal.	5760420-1649862	Complete Printer Source	No	1 - 25 Sheet Pack	14	Pacon	PAC54481	11.29	158.06			
													Awarded	
471	Paper, posterboard, 22" x 28", 25 sheets/pkg. RED.	Pacon Peacock Railroad Board #5475-1 or equal.	5760420-1649856	Complete Printer Source	No	1 - 25 Sheet Pack	24	Pacon	PAC54751	11.29	270.96			
													Awarded	
													,	
472	Paper, posterboard, 22" x 28", 25 sheets/pkg. WHITE.	Pacon Peacock Railroad Board #104159 or equal.	5760420-1372474	Complete Printer Source	No	1 - 25 Sheet Pack	823	Pacon	PAC104159	9.49	7810.27			
													Awarded	
473	Paper, posterboard, 22" x 28", 25 sheets/pkg. YELLOW.	Pacon Peacock Railroad Board #5472-1 or equal.	5760420-1649859	Complete Printer Source	No	1 - 25 Sheet Pack	25	Pacon	PAC54721	11.49	287.25			
													Awarded	
													Awarucu	
465	Paper, posterboard, 22" x 28", 25 sheets/pkg. BLACK. Pacon Peacock Railroad Board #5481-1 or equal.	THIS NOTE APPLIES TO ITEM NOS. 465 through 473: Smooth uniform finish, brilliant colors on both sides, 4 ply, used for posters, art	5760420-1649861	Cascade School Supplies	No	1 - 25 Sheet Pack	43	American Paper	RR4BK25 CAS030792	9.39	403.77	American Paper RR4BK25		
		projects, mats, mounting, block printing, painting, markers and stenciling. Paper must be packaged 25 sheets per cardboard												
		carton from the manufacturer. SAMPLE = 1 swatchbook. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												
466	Paper, posterboard, 22" x 28", 25 sheets/pkg. HOLIDAY GREEN.	Pacon Peacock Railroad Board #5466-1 or equal.	5760420-1649858	Cascade School Supplies	No	1 - 25 Sheet Pack	15	American Paper	RR4KGR25 CAS030795	9.39	140.85	American Paper RR4KGR25		
			l .	l	1					l	1	1		

467	Paper, posterboard, 22" x 28", 25 sheets/pkg. LIGHT BLUE.	Pacon Peacock Railroad Board #5484-1 or equal.	5760420-1649857	Cascade School Supplies	No	1 - 25 Sheet Pack	38	American Paper	RR4BL25 CAS030802	7.7	292.6		American Paper RR4RBL25 Royal Blue		
	BEGE.			Supplies		Fack			CA3030802				bide		
468	Paper, posterboard, 22" x 28", 25 sheets/pkg. ORANGE.	Pacon Peacock Railroad Board #5478-1 or equal.	5760420-1649860		No	1 - 25 Sheet	12	American Paper	RR4OR25	9.39	112.68				
				Supplies		Pack			CAS030794						
469	December 1991 201 25 short felic DINK	Pacon Peacock Railroad Board #5468-1 or equal.	5760420-2013154	Cascade School	No	1 - 25 Sheet	11	Ameriacn Paper	RR4PL25	7.7	84.7		A		
409	Paper, posterboard, 22" x 28", 25 sheets/pkg. PINK.	racon reacock hamoad board #5406-1 or equal.	3760420-2013134	Supplies	NO	Pack	11	Ameriacii Paper	CAS030801	7.7	04.7		American Paper RR4PL25		
470	Paper, posterboard, 22" x 28", 25 sheets/pkg. PURPLE.	Pacon Peacock Railroad Board #5448-1 or equal.	5760420-1649862		No	1 - 25 Sheet	14	Dixon	54681 CAS099009	7.7	107.8				
				Supplies		Pack		Ticonderoga/Pacon							
1															
1															
471	Paper, posterboard, 22" x 28", 25 sheets/pkg. RED.	Pacon Peacock Railroad Board #5475-1 or equal.	5760420-1649856	Cascade School	No	1 - 25 Sheet	24	American Paper	RR4RD25	7.7	184.8		American Paper RR4RD25		
		·		Supplies		Pack			CAS030800						
1															
1															
1															
					<u> </u>										
472	Paper, posterboard, 22" x 28", 25 sheets/pkg. WHITE.	Pacon Peacock Railroad Board #104159 or equal.	5760420-1372474	Cascade School Supplies	No	1 - 25 Sheet Pack	823	American Paper	RR4WH CAS030791	28.01	23052.23		American Paper RR4WH Sold 100 per Pack		
													P		
473	Paper, posterboard, 22" x 28", 25 sheets/pkg. YELLOW.	Pacon Peacock Railroad Board #5472-1 or equal.	5760420-1649859		No	1 - 25 Sheet	25	American Paper	RR4LYL25	9.39	234.75		American Paper RR4LYL25		
				Supplies		Pack			CAS030793						
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
Number 474-476	Item/Service	Description	Commodity Code	Vendor Name	No Bid		Quantity	Manufacturer / Provider	Manufacturer Part Number	Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
Number	Paper, storybook, 18" x 12", 1" ruled, same ruling as	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474	Commodity Code 5760440-1372269	Vendor Name School Specialty LLC		1 - 500	Quantity 159				Total Price		Supplier Notes 085217	Award Status	Award Notes
Number 474-476		American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for	Commodity Code 5760440-1372269	Vendor Name School Specialty LLC				Provider	Part Number	Price					Award Notes
Number 474-476	Paper, storybook, 18" x 12", 1" ruled, same ruling as	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474	Commodity Code 5760440-1372269	Vendor Name School Specialty LLC		1 - 500		Provider	Part Number	Price				Award Status Awarded	Award Notes
474-476 474	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line.	American Paper MANNLS29 or equal. THIS NOTE APPLIEST OT DTEM NOS. 474 through 476* Good grade of white pencil paper, 5° space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372269	School Specialty LLC	No	1 - 500 Sheet Ream	159	Provider APC	Part Number 1829	7.28	1157.52		085217		Award Notes
474-476 474	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as	American Paper MARNIA29 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MAPC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE	5760440-1372269	Vendor Name School Specialty LLC School Specialty LLC	No	1 - 500 Sheet Ream		Provider	Part Number	Price					Award Notes
474-476 474	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line.	American Paper MANNLS29 or equal. THIS NOTE APPLIEST OT DTEM NOS. 474 through 476* Good grade of white pencil paper, 5° space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372269	School Specialty LLC	No	1 - 500 Sheet Ream	159	Provider APC	Part Number 1829	7.28	1157.52		085217		Award Notes
474-476 474	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as	American Paper MARNIA29 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MAPC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE	5760440-1372269	School Specialty LLC	No	1 - 500 Sheet Ream	159	Provider APC	Part Number 1829	7.28	1157.52		085217	Awarded	Award Notes
Number 474-476 474 475	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/1.6" broken line.	American Paper MARNIAS2 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476 Cood grade of white pencil paper, 5° space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MAPC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372269 5760440-1372278	School Specialty LLC School Specialty LLC	No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream	159	Provider APC APC	1829 76	7.28 7.28	1157.52 771.68		085217 085218	Awarded	Award Notes
Number 474-476 474 475	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as	American Paper MARNIA29 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MAPC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE	5760440-1372269 5760440-1372278	School Specialty LLC	No No	1 - 500 Sheet Ream	159	Provider APC	Part Number 1829	7.28	1157.52		085217	Awarded	Award Notes
Number 474-476 474 475	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as	American Paper #ARN18129 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #APC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE	5760440-1372269 5760440-1372278	School Specialty LLC School Specialty LLC	No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream	159	Provider APC APC	1829 76	7.28 7.28	1157.52 771.68		085217 085218	Awarded	Award Notes
Number 474-476 474 475	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as	American Paper #ARN18129 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #APC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE	5760440-1372269 5760440-1372278	School Specialty LLC School Specialty LLC	No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream	159	Provider APC APC	1829 76	7.28 7.28	1157.52 771.68		085217 085218	Awarded Awarded	Award Notes
Number 474-476 474 475 476	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476: Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #APC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287	School Specialty LLC School Specialty LLC School Specialty LLC	No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream	106	Provider APC APC	76 1811	7.28 7.28 7.28	771.68 196.56		085217 085218 085219	Awarded Awarded	Award Notes
Number 474-476 474 475	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TEM NOS. 474 through 476: Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARPC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 6° space across top for	5760440-1372278 5760440-1372278 5760440-1372287	School Specialty LLC School Specialty LLC School Specialty LLC	No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream	159	Provider APC APC APC	1829 76	7.28 7.28	1157.52 771.68		085217 085218	Awarded Awarded	Award Notes
Number 474-476 474 475	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO side space needed, 500 sheets/ream. SAMPLE 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #APC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO side paper needed, 500 sheets/ream. SAMPLE	5760440-1372278 5760440-1372278 5760440-1372287	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School	No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream	106	Provider APC APC APC	76 1811 ARN1805	7.28 7.28 7.28	771.68 196.56		085217 085218 085219	Awarded Awarded	Award Notes
Number 474-476 474 475 476	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TEM NOS. 474 through 476: Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARPC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 6° space across top for	5760440-1372278 5760440-1372278 5760440-1372287	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School	No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream	106	Provider APC APC APC	76 1811 ARN1805	7.28 7.28 7.28	771.68 196.56		085217 085218 085219	Awarded Awarded	Award Notes
474 475 476 4774	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO side space needed, 500 sheets/ream. SAMPLE 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #APC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO side paper needed, 500 sheets/ream. SAMPLE	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies	No No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream	159 106 27 159	APC APC APC APC	76 1811 ARN1805 CAS109616	7.28 7.28 7.28	771.68 196.56		085217 085218 085219	Awarded Awarded	Award Notes
474 475 476 4774	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line.	American Paper MARN1829 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476- Good grade of white pencil paper, 5° space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476- Good grade or white pencil paper, 5° space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies	No No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream	159 106 27 159	APC APC APC APC	76 1811 ARN1805 CAS109616	7.28 7.28 7.28	771.68 771.68 196.56		085217 085218 085219 American Paper ARN1805	Awarded Awarded	Award Notes
474 475 476 4774	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line.	American Paper MARN1829 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream, SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1829 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream, SAMPLE is 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1829 or equal. SAMPLE = 5 sheets. IF BIDDING THE American Paper MARN1829 or equal. SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School	No No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream	159 106 27 159	APC APC APC APC	76 1811 ARN1805 CAS109616	7.28 7.28 7.28	771.68 771.68 196.56		085217 085218 085219 American Paper ARN1805	Awarded Awarded	Award Notes
474 475 476 4774	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line.	American Paper MARN1829 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream, SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1829 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream, SAMPLE is 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1829 or equal. SAMPLE = 5 sheets. IF BIDDING THE American Paper MARN1829 or equal. SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School	No No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream	159 106 27 159	APC APC APC APC	76 1811 ARN1805 CAS109616	7.28 7.28 7.28	771.68 771.68 196.56		085217 085218 085219 American Paper ARN1805	Awarded Awarded	Award Notes
474 475 476 477 475 476 477 475 477 477 477 477 477 477 477 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #APC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Cascade School	No No No	1 - 500 Sheet Ream	159 106 27 159	APC APC APC APC	76 1811 ARN1805 CAS109616	7.28 7.28 7.28	771.68 771.68 196.56		085217 085218 085219 American Paper ARN1805	Awarded Awarded	Award Notes
474 475 476 477 475 476 477 475 477 477 477 477 477 477 477 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line.	American Paper MARN1829 or equal. THIS NOTE APPLIES TO TIEM NOS. 474 through 476- Good grade of white pencil paper, 5° space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476- Good grade or white pencil paper, 6° space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper MARN1829 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Supplies	No No No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream	106 27 159	APC APC APC APC APC American Paper	76 1811 ARN1805 CAS109616 2651 CAS131041	7.28 7.28 7.28 7.28 7.28	771.68 196.56 1493.01		085217 085218 085219 American Paper ARN1805 Sold 250 Sheets per Pack	Awarded Awarded	Award Notes
474 475 476 477 475 476 477 475 477 477 477 477 477 477 477 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #APC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Cascade School	No No No No	1 - 500 Sheet Ream	106 27 159	APC APC APC APC APC American Paper	76 1811 ARN1805 CAS109616 2651 CAS131041	7.28 7.28 7.28 7.28 7.28	771.68 196.56 1493.01		085217 085218 085219 American Paper ARN1805 Sold 250 Sheets per Pack	Awarded Awarded	Award Notes
474 475 476 477 475 476 477 475 477 477 477 477 477 477 477 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #APC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 6" space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Cascade School	No No No No	1 - 500 Sheet Ream	106 27 159	APC APC APC APC APC American Paper	76 1811 ARN1805 CAS109616 2651 CAS131041	7.28 7.28 7.28 7.28 7.28	771.68 196.56 1493.01		085217 085218 085219 American Paper ARN1805 Sold 250 Sheets per Pack	Awarded Awarded	Award Notes
474 475 476 477 475 476 477 475 477 477 477 477 477 477 477 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TEM NOS. 474 through 476: Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE is 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372287 5760440-1372278 5760440-1372287 5760440-1372287 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Supplies Cascade School Cascade School Complete Printer	No No No No	1 - 500 Sheet Ream	106 27 159	APC APC APC APC APC American Paper Ideal Paper	76 1811 ARN1805 CAS109616 2651 CAS131041	7.28 7.28 7.28 7.28 7.28	771.68 196.56 1493.01		085217 085218 085219 American Paper ARN1805 Sold 250 Sheets per Pack	Awarded Awarded	Award Notes
474 475 476 477 476 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 6° space across top for American Paper #ARN1829 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1821 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372287 5760440-1372278 5760440-1372287 5760440-1372287 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No No No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream 1 - 500 Sheet Ream	106 27 159 27	APC APC APC APC APC APC Ideal Paper	76 1811 ARN1805 CAS109616 2651 CAS131041 ARN1823	7.28 7.28 7.28 7.28 7.28 7.28	1197.52 771.68 196.56 1493.01 828.92		085217 085218 085219 American Paper ARN1805 Sold 250 Sheets per Pack	Awarded Awarded	Award Notes
474 475 476 477 476 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TEM NOS. 474 through 476: Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE is 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372287 5760440-1372278 5760440-1372287 5760440-1372287 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Supplies Cascade School Cascade School Complete Printer	No No No No No	1 - 500 Sheet Ream	106 27 159 27	APC APC APC APC APC American Paper Ideal Paper	76 1811 ARN1805 CAS109616 2651 CAS131041 ARN1823	7.28 7.28 7.28 7.28 7.28 7.28	1197.52 771.68 196.56 1493.01 828.92		085217 085218 085219 American Paper ARN1805 Sold 250 Sheets per Pack	Awarded Awarded	Award Notes
474 475 476 477 477 477 477 477 477 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 3/8" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream, SAMPLE of S sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream, SAMPLE = S sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1812 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = S sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269 5760440-1372278 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Supplies Cascade School Supplies Complete Printer Source	No No No No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream	106 27 106 27 27	APC APC APC APC APC American Paper Ideal Paper American Paper Converters	76 1811 ARN1805 CAS109616 2651 CAS131041 ARN1823	7.28 7.28 7.28 7.28 7.28 8.99	1197.52 771.68 196.56 1493.01 828.92 208.44		085217 085218 085219 American Paper ARN1805 Sold 250 Sheets per Pack	Awarded Awarded	Award Notes
474 475 476 477 477 477 477 477 477 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except No skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARPC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1819 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 6° space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269 5760440-1372278 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Supplies Cascade School Supplies Complete Printer Complete Printer	No No No No No	1 - 500 Sheet Ream	106 27 159 27	APC APC APC APC APC APC American Paper Ideal Paper American Paper Converters American Paper	76 1811 ARN1805 CAS109616 2651 CAS131041 ARN1823	7.28 7.28 7.28 7.28 7.28 7.28	1197.52 771.68 196.56 1493.01 828.92		085217 085218 085219 American Paper ARN1805 Sold 250 Sheets per Pack	Awarded Awarded	Award Notes
474 475 476 477 477 477 477 477 477 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 3/8" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream, SAMPLE of S sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream, SAMPLE = S sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1812 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476: Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = S sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269 5760440-1372278 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Supplies Cascade School Supplies Complete Printer Source	No No No No No	1 - 500 Sheet Ream 1 - 500 Sheet Ream	106 27 106 27 27	APC APC APC APC APC American Paper Ideal Paper American Paper Converters	76 1811 ARN1805 CAS109616 2651 CAS131041 ARN1823	7.28 7.28 7.28 7.28 7.28 8.99	1197.52 771.68 196.56 1493.01 828.92 208.44		085217 085218 085219 American Paper ARN1805 Sold 250 Sheets per Pack	Awarded Awarded	Award Notes
474 475 476 477 477 477 477 477 477 477	Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line. Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line. Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line. Paper, storybook, 18" x 12", 1" ruled, same ruling as first grade paper, 1/2" broken line.	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO TEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except No skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARPC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 67 space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. American Paper #ARN1819 or equal. THIS NOTE APPLIES TO ITEM NOS. 474 through 476-Good grade of white pencil paper, 6° space across top for heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278 5760440-1372278 5760440-1372287 5760440-1372269 5760440-1372278 5760440-1372278	School Specialty LLC School Specialty LLC School Specialty LLC Cascade School Supplies Cascade School Supplies Cascade School Supplies Complete Printer Complete Printer	No No No No No	1 - 500 Sheet Ream	106 27 106 27 27	APC APC APC APC APC APC American Paper Ideal Paper American Paper Converters American Paper	76 1811 ARN1805 CAS109616 2651 CAS131041 ARN1823	7.28 7.28 7.28 7.28 7.28 8.99	1197.52 771.68 196.56 1493.01 828.92 208.44		085217 085218 085219 American Paper ARN1805 Sold 250 Sheets per Pack	Awarded Awarded	Award Notes

476	Paper, storybook, 18" x 12", 3/4" ruled, same ruling as	American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE	5760440-1372287	Complete Printer	No	1 - 500	27	American Paper	AMPARN1811	8.99	242.73				
	third grade paper, 3/8" broken line.	APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Sheet Ream		Converters		-					
474	Paper, storybook, 18" x 12", 1" ruled, same ruling as	American Paper #ARN1829 or equal. THIS NOTE APPLIES TO ITEM NOS. 474	5760440-1272260	John R Green Co	No	1 - 500	159	AMERICAN PAPER-	58039	12.91	2052.69				
4/4	first grade paper, 1/2" broken line.	through 476: Good grade of white pencil paper, 6" space across top for	3700440-1372203	John K Green Co	140	Sheet Ream	133	ARN1829	36039	12.51	2032.09				
		heading the story, except NO skip space needed, 500 sheets/ream. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
475	Paper, storybook, 18" x 12", 7/8" ruled, same ruling as second grade paper, 7/16" broken line.	American Paper #APC76 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372278	John R Green Co	No	1 - 500 Sheet Ream	106	AMERICAN PAPER- 76	57528	13.15	1393.9				
476	Paper, storybook, 18" x 12", 3/4" ruled, same ruling as third grade paper, 3/8" broken line.	American Paper #ARN1811 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760440-1372287	John R Green Co	No	1 - 500 Sheet Ream	27	KURTZ BROS/MODERN-363	02203	10.48	282.96		DIFFERENT BRAND		
	tillid grade paper, 3/6 broken line.	AFFROYED FRODUCT, NO SAMPLE IS REQUIRED.				Sileet itealii		BROS/ WIODERIV-303							
Lot Item															
Number 477-479	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
477	Paper, writing, first grade, 11" x 8 1/2", good quality,	White, ruled with a solid line 1" apart, with dotted guideline in between and				1 - 500	425	SCHOOL SMART BY	71	3.06	1300.5		085355		
	500 sheets/ream.	horizontal skip space in between each ruling. American Paper #ARP00771 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE				Sheet Ream		APC						Awarded	
		IS REQUIRED.													
478	Paper, writing, second grade, 11" x 8 1/2", good quality, 500 sheets/ream.	White, ruled with a solid line 3/4" apart, with guideline in between. American Paper #ARP00072 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED	5760440-1372241	School Specialty LLC	No	1 - 500 Sheet Ream	268	SCHOOL SMART BY APC	72	3.06	820.08		085357		
Ī	quanty, 500 Sheedy Leans.	PRODUCT, NO SAMPLE IS REQUIRED.				Since Realli		7.50						Awarded	
						1									
479	Paper, writing, third grade, 11" x 8 1/2", good quality, 500 sheets/ream.	White, ruled with a solid line 1/2" apart, with guideline 1/4" in between. American Paper #ARP00073 or equal. SAMPLE = 5 sheets. IF BIDDING THE	5760440-1372250	School Specialty LLC	No	1 - 500 Sheet Ream	186	SCHOOL SMART BY APC	73	3.06	569.16		085359		
Ī		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												Awarded	
477	Paper, writing, first grade, 11" x 8 1/2", good quality,	White, ruled with a solid line 1" apart, with dotted guideline in between and	5760440.1272222	Complete Brinter	No	1 - 500	425	American Paper	AMP771	3.99	1695.75				
4//	500 sheets/ream.	horizontal skip space in between each ruling. American Paper #ARP00771 or	3700440-1372232	Source	NO	Sheet Ream	423	Converters	AIVIP//I	5.99	1095.75				
		equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
478	Paper, writing, second grade, 11" x 8 1/2", good	White, ruled with a solid line 3/4" apart, with guideline in between. American	5760440-1372241	Complete Printer	No	1 - 500	268	American Paper	AMP72	3.79	1015.72				
	quality, 500 sheets/ream.	Paper #ARP00072 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Sheet Ream		Converters							
		PRODUCT, NO SAMPLE IS REQUIRED.													
479	Paper, writing, third grade, 11" x 8 1/2", good quality,	White, ruled with a solid line 1/2" apart, with guideline 1/4" in between.	5760440-1372250	Complete Printer	No	1 - 500	186	American Paper	AMP73	3.79	704.94				
	500 sheets/ream.	American Paper #ARP00073 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source		Sheet Ream		Converters							
477	Paper, writing, first grade, 11" x 8 1/2", good quality,	White, ruled with a solid line 1" apart, with dotted guideline in between and	5760440-1372232	John R Green Co	No	1 - 500 Sheet Ream	425	AMERICAN PAPER- ARP00771	57526	5.76	2448				
	500 sheets/ream.	horizontal skip space in between each ruling. American Paper #ARP00771 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE				Sneet Keam		ARPUU771							
		IS REQUIRED.													
478	Paper, writing, second grade, 11" x 8 1/2", good quality, 500 sheets/ream.	White, ruled with a solid line 3/4" apart, with guideline in between. American Paper #ARP00072 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED	5760440-1372241	John R Green Co	No	1 - 500 Sheet Ream	268	AMERICAN PAPER- ARP00072	57527	5.65	1514.2				
		PRODUCT, NO SAMPLE IS REQUIRED.													
479	Paper, writing, third grade, 11" x 8 1/2", good quality, 500 sheets/ream.	White, ruled with a solid line 1/2" apart, with guideline 1/4" in between. American Paper #ARP00073 or equal. SAMPLE = 5 sheets. IF BIDDING THE	5760440-1372250	John R Green Co	No	1 - 500 Sheet Ream	186	AMERICAN PAPER- ARP00073	57529	5.76	1071.36				
		APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
477	Paper, writing, first grade, 11" x 8 1/2", good quality,	White, ruled with a solid line 1" apart, with dotted guideline in between and	5760440-1372232	Lakeshore Learning	No	1 - 500	425	Pacon	TA2611	11.15	4738.75	Please reference "Per Quote	RED BASELINE NEWSPRINT-GR 1		
	500 sheets/ream.	horizontal skip space in between each ruling. American Paper #ARP00771 or		Materials, LLC		Sheet Ream						#36583" on all purchase	TERMS: NET 30		
		equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.										orders.			
478	Paper, writing, second grade, 11" x 8 1/2", good	White, ruled with a solid line 3/4" apart, with guideline in between. American	5760440-1372241	Lakeshore Learning	No	1 - 500	268	Pacon	TA2612	11.15	2988.2	Please reference "Per Quote	RED BASELINE NEWSPRINT-GR 2		
	quality, 500 sheets/ream.	Paper #ARP00072 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Materials, LLC		Sheet Ream						#36583" on all purchase orders.	TERMS: NET 30		
												2.36.3.			
479	Paper, writing, third grade, 11" x 8 1/2", good quality,	White, ruled with a solid line 1/2" apart, with guideline 1/4" in between.	5760440-1372250	Lakeshore Learning	No	1 - 500 Shoot Books	186	Pacon	TA2633	11.15	2073.9	Please reference "Per Quote	RED BASELINE NEWSPRINT-GR 3		
	500 sheets/ream.	American Paper #ARP00073 or equal. SAMPLE = 5 sheets. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Materials, LLC		Sheet Ream						#36583" on all purchase orders.			
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
480-482	Item/Service	Description	Commodity Code		No Bid	иом	Quantity	Provider	Part Number	Price	Total Price	Notes	Supplier Notes	Award Status	Award Notes
480	Pen, ballpoint, fine point. BLACK. Bic Round Stick #GSFG11BK or equal.	THIS NOTE APPLIES TO ITEM NOS. 480 through 482: Lightweight with grooved finger grip, ink flows smoothly, 12/box. SAMPLE = 1 box. IF BIDDING THE	5690660-1157920	Complete Printer Source	No	1 - 12 Count Box	3182	BIC	BICGSFG11BK	0.99	3150.18				
Ī		APPROVED PRODUCT, NO SAMPLE IS												Awarded	
4	Don hallowing 6	REQUIRED.	5500550	Consider Title		4 47 7	22	n:-	nicess						
481	Pen, ballpoint, fine point. BLUE.	Bic Round Stick #GSFG11BL, BICGSFG11BE or equal.	569U66U-1649822	Complete Printer Source	No	1 - 12 Count Box	3203	BIC	BICGSFG11BE	1.99	6373.97				
														Awarded	
482	Pen, ballpoint, fine point. RED.	Bic Round Stick #GSFG11RD or equal.	5690660-1640922	Complete Printer	No	1 - 12 Count	1256	BIC	BICGSFG11RD	0.99	1243.44				
402	ren, oanpoint, the point. NED.	bic noting stick #GSFG11RD OF equal.	5050000-1045023	Source Source	NU	Box	1230	DIC	DICOSCOTINO	0.99	1243.44				
Ī														Awarded	
			1						1						

480	Pen, ballpoint, fine point. BLACK. Bic Round Stick #GSFG11BK or equal.	THIS NOTE APPLIES TO ITEM NOS. 480 through 482: Lightweight with grooved finger grip, ink flows smoothly, 12/box. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-1157920	Cascade School Supplies	No	1 - 12 Count Box	3182	BIC USA	GSF11 CAS123112	1.49	4741.18		BIC USA GSF11		
481	Pen, ballpoint, fine point. BLUE.	Bic Round Stick #GSFG11BL, BICGSFG11BE or equal.	5690660-1649822	Cascade School Supplies	No	1 - 12 Count Box	3203	BIC USA	GSF11 CAS123111	1.49	4772.47				
482	Pen, ballpoint, fine point. RED.	Bic Round Stick #GSFG11RD or equal.	5690660-1649823	Cascade School Supplies	No	1 - 12 Count Box	1256	BIC USA	GSF11 CAS099009	1.49	1871.44				
480	Pen, ballpoint, fine point. BLACK. Bic Round Stick #GSFG11BK or equal.	THIS NOTE APPLIES TO ITEM NOS. 480 through 482: Lightweight with grooved finger grip, ink flows smoothly, 12/box. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-1157920	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	3182	BIC	GSFG11BK	1.8	5727.6				
481	Pen, ballpoint, fine point. BLUE.	Bic Round Stick #GSFG11BL, BICGSFG11BE or equal.	5690660-1649822	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	3203	BIC	GSFG11BL	1.8	5765.4				
482	Pen, ballpoint, fine point. RED.	Bic Round Stick #GSFG11RD or equal.	5690660-1649823	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	1256	BIC	GSFG11RD	1.8	2260.8				
480	Pen, ballpoint, fine point. BLACK. Bic Round Stick #GSFG11BK or equal.	THIS NOTE APPLIES TO ITEM NOS. 480 through 482: Lightweight with grooved finger grip, ink flows smoothly, 12/box. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-1157920	John R Green Co	No	1 - 12 Count Box	3182	BIC-GSFG11-BLK	GSFG11-BLK	2.01	6395.82				
481	Pen, ballpoint, fine point. BLUE.	Bic Round Stick #GSFG11BL, BICGSFG11BE or equal.	5690660-1649822	John R Green Co	No	1 - 12 Count Box	3203	BIC-GSFG11-BLU	GSFG11-BLU	2.01	6438.03				
482	Pen, ballpoint, fine point. RED.	Bic Round Stick #GSFG11RD or equal.	5690660-1649823	John R Green Co	No	1 - 12 Count Box	1256	BIC-GSFG11-RED	GSFG11-RED	2.01	2524.56				
Lot Item															
Number 483-485	h	Providetton	6	Vendor Name	No Bid	иом		Manufacturer /	Manufacturer	Unit Bid	Total Price	Vendor Response Item	Constitution Nation		Account Makes
483-485	Pen, ballpoint, medium point. BLACK. Bic Round Stick	Description THIS NOTE APPLIES TO ITEM NOS. 483 through 485: Long lasting, more than	Commodity Code 5690660-1157939		No Bid	1 - 12 Count	Quantity 1539	Provider BIC	Part Number GSM11BK	Price 1.19	1831.41	Notes	Supplier Notes	Award Status	Award Notes
	#GSM11BK or equal.	7,200 feet of writing, colorful frosted ventilated cap meets ISO safety standard. Translucerd barrel for visible ink supply. Flexible round barrel for writing comfort. The cap and end pile color is link color, fungisten cardide ball. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS		Вох				5.55				Awarded	
484	Pen, ballpoint, medium point. BLUE.	Bic Round Stick #GSM11BE or equal.	5690660-1649819	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	1168	BIC	GSM11BE	1.19	1389.92			Awarded	
485	Pen, ballpoint, medium point. RED.	Bic Round Stick #GSM11RD or equal.	5690660-1649820	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	501	BIC	GSM11RD	1.19	596.19			Awarded	
483	Pen, ballpoint, medium point. BLACK. Bic Round Stick #GSM11BK or equal.	THIS NOTE APPLIES TO ITEM NOS. 483 through 485: Long lasting, more than 7,200 feet of writing, colorful frosted ventilated cap meets ISO safety standards. Translucent barrel for visible ink supply. Flexible round barrel for writing comfort. The cap and end plug color is ink color, tungsten carbide ball. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS ROUNED.	5690660-1157939	John R Green Co	No	1 - 12 Count Box	1539	BIC-GSM11-BLK	08121	1.35	2077.65				
484															
	Pen, ballpoint, medium point. BLUE.	Bic Round Stick #GSM11BE or equal.	5690660-1649819	John R Green Co	No	1 - 12 Count Box	1168	BIC-GSM11-BLU	08120	1.35	1576.8				
485		Bic Round Stick #GSM11RD or equal.	5690660-1649820	John R Green Co		Вох									
485		Bic Round Stick #GSM11RD or equal.	5690660-1649820	John R Green Co		Box 1 - 12 Count	501								
	Pen, ballpoint, medium point. RED. Pen, ballpoint, medium point. BLACK. Bic Round Stick	Bic Round Stick #GSM11RD or equal. THIS NOTE APPLIES TO ITEM NOS. 483 through 485: Long lasting, more than 7,200 feet of writing, colorful frosted ventilated cap meets ISO safety standards. Translucent barrel for visible nic supply. The Robelto round barrel for writing comfort. The cap and end plug color is nik color, tungsten carbide ball. SAMPLE 1 Sox. IF BIDDING THE APPROVED PROUCT, NO SAMPLE IS	5690660-1649820	John R Green Co Complete Printer Source	No	1 - 12 Count Box	1539	BIC-GSM11-RED	08122	1.35	676.35				
483	Pen, ballpoint, medium point. RED. Pen, ballpoint, medium point. BLACK. Bic Round Stick #GSM118K or equal.	BIC Round Stick #GSM11RD or equal. THIS NOTE APPLIES TO ITEM NOS. 483 through 485: Long lasting, more than 7,200 feet of writing, colorful frosted ventilated cap meets 500 safety standards. Translucent barrel for wistle ink supply. Breible round barrel for writing comfort. The cap and end plug color is ink color, tungsten carbide ball. SAMPLE = 1 box. IF BIDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-1649820 5690660-1157939	John R Green Co Complete Printer Source Complete Printer Source	No No	1 - 12 Count Box 1 - 12 Count Box	1539	BIC-GSM11-RED	08122 BICGSM11BK	1.35	676.35 2077.65				

			1	1				1			1				
483	Pen, ballpoint, medium point. BLACK. Bic Round Stick #GSM11BK or equal.	THIS NOTE APPLIES TO ITEM NOS. 483 through 485: Long lasting, more than 7,200 feet of writing, colorful frosted ventilated cap meets ISO safety standards. Translucent barrel for writing comfort. The cap and end plug color is ink color, tungsten carbide ball. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-1157939	Cascade School Supplies	No	1 - 12 Count Box	1539	BIC USA	GSM11 CAS151788	1.49	2293.11				
484	Pen, ballpoint, medium point. BLUE.	Bic Round Stick #GSM11BE or equal.	5690660-1649819	Cascade School Supplies	No	1 - 12 Count Box	1168	BIC USA	GSM11 CAS151787	1.49	1740.32				
485	Pen, ballpoint, medium point. RED.	Bic Round Stick #GSM11RD or equal.	5690660-1649820	Cascade School Supplies	No	1 - 12 Count Box	501	BIC USA	GSM11 CAS151789	1.49	746.49				
Lot Item Number 486-489	Item/Service	Description	Commodity Code	Vendor Name	No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
486	Pen, ballpoint, medium point. BLACK. Bic Ultra Round Stick #GSMG11BK or equal.		5690660-1725855		No	1 - 12 Count Box		BIC	GSMG11BK	1.88	2265.4	Notes	Supplier Notes	Awarded	AWAID INUIES
487	Pen, ballpoint, medium point. BLUE.	Bic Ultra Round Stick #GSMG11BE or equal.	5690660-1725856	NATIONAL ART &	No	1 - 12 Count	817	BIC	GSMG11BE	1.88	1535.96				
407	ген, чапропи, тешит ропи. всес.	BIL UIII A NOUIIU SULE MSSIMOLLEE UI EQUAL	3690600-1723636	SCHOOL SUPPLIES	NO	Box	617	BIC .	GSWGIIBE	1.88	1335.96			Awarded	
488	Pen, ballpoint, medium point. GREEN.	Bic Ultra Round Stick #GSMG11GN or equal.	5690660-1649821	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	9	BIC	GSMG11GN	1.88	16.92			Awarded	
489	Pen, ballpoint, medium point. RED.	Bic Ultra Round Stick #GSMG11RD or equal.	5690660-1725857	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	264	BIC	GSMG11RD	1.88	496.32			Awarded	
486	Pen, ballpoint, medium point. BLACK. Bic Ultra Round Stick #GSMG11BK or equal.	THIS NOTE APPUES TO ITEM NOS. 486 through 489: Ultra smooth, easy glide ink, contoured rubber grip, ventilated cap meets ISO safety standards, translucent barref for visible ink supply, tungsten carbide ball, more than 4,300 feet of writing in each pen. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		John R Green Co	No	1 - 12 Count Box	1205	BIC-GSMG11-BLK	08591	2.24	2699.2				
487	Pen, ballpoint, medium point. BLUE.	Bic Ultra Round Stick #GSMG11BE or equal.	5690660-1725856	John R Green Co	No	1 - 12 Count Box	817	BIC-GSMG11-BLU	08590	2.24	1830.08				
488	Pen, ballpoint, medium point. GREEN.	Bic Ultra Round Stick #GSMG11GN or equal.	5690660-1649821	John R Green Co	No	1 - 12 Count Box	9	BIC-GSMG11-GRN	57979	2.03	18.27				
489	Pen, ballpoint, medium point. RED.	Bic Ultra Round Stick #GSMG11RD or equal.	5690660-1725857	John R Green Co	No	1 - 12 Count Box	264	BIC-GSMG11-RED	GSMG11-RED	2.01	530.64				
486	Pen, ballpoint, medium point. BLACK. Bic Ultra Round Stick #GSMG118K or equal.	THIS NOTE APPLIES TO ITEM NOS. 486 through 489: Ultra smooth, easy glide ink, contoured rubber grip, ventilated cap meets ISO safety standards, translucent barref for visible ink supply, taugster carbide ball, more than 4,300 feet of writing in each pen. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Complete Printer Source	No	1 - 12 Count Box	1205	BIC	BICGSMG11BK	2.22	2675.1				
487	Pen, ballpoint, medium point. BLUE.	Bic Ultra Round Stick #GSMG11BE or equal.	5690660-1725856	Complete Printer Source	No	1 - 12 Count Box	817	BIC	BICGSMG11BE	2.24	1830.08				
488	Pen, ballpoint, medium point. GREEN.	Bic Ultra Round Stick #GSMG11GN or equal.	5690660-1649821	Complete Printer Source	No	1 - 12 Count Box	9	BIC	BICGSMG11GN	0.99	8.91				
489	Pen, ballpoint, medium point. RED.	Bic Ultra Round Stick #GSMG11RD or equal.	5690660-1725857	Complete Printer Source	No	1 - 12 Count Box	264	BIC	BICGSMG11RD	2.24	591.36				

									1		1	1		1	
486	Pen, ballpoint, medium point. BLACK. Bic Ultra Round Stick #GSMG11BK or equal.	THIS NOTE APPLIES TO ITEM NOS. 486 through 489: Ultra smooth, easy glide ink, contoured rubber gir, eventilated cap meets ISO safety standards, translucent barrel for visible ink supply, tungsten carbide ball, more than 4,300 feet of writing in each pen. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Cascade School Supplies	No	1 - 12 Count Box	1205	BIC USA	GSMG11 CAS019535	2.61	3145.05				
487	Pen, ballpoint, medium point. BLUE.	Bic Ultra Round Stick #GSMG11BE or equal.	5690660-1725856	Cascade School Supplies	No	1 - 12 Count Box	817	BIC USA	GSMG11 CAS019536	2.61	2132.37				
488	Pen, ballpoint, medium point. GREEN.	Bic Ultra Round Stick #GSMG11GN or equal.	5690660-1649821	Cascade School Supplies	No	1 - 12 Count Box	9	Pentel Of America	BLD97D CAS027032	12.52	112.68		Pentel Of America BLD97D		
489	Pen, ballpoint, medium point. RED.	Bic Ultra Round Stick #GSMG11RD or equal.	5690660-1725857	Cascade School Supplies	No	1 - 12 Count Box	264	BIC USA	GSMG11 CAS025830	2.61	689.04				
Lot Item															
Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
490-491 490	Pen, counter, standard ballpoint, black ink, medium point, 24" ball chain, refillable. Antimicrobial.	Description MMF Industries #8007 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012755	Vendor Name John R Green Co	No Bid	1 - Each Purchase	Quantity 121	CONTROLTEK- CNK555564	08007	2.46	Total Price 297.66	Notes	Supplier Notes DIFFERENT BRAND	Award Status Awarded	Award Notes
491	Pen, counter refill, black ink, medium point, antimicrobial for Preventa #05057.	Standard counter pen. MMF Industries #8011 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012756	John R Green Co	No	1 - Each Purchase	161	CONTROLTEK- CNK555565	08011	1.36	218.96		DIFFERENT BRAND	Awarded	
Lot Item															
Number 492-494	Item/Service	Description	Commodity Code	Vendor Name	No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
492	Pen, gel, retractable, black ink, permanent, fade proof acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refillable. Zebra #46810 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012418	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box		ZEBRA	46810	9.78	4978.02			Awarded	***************************************
493	Pen, gel, retractable, blue ink, permanent, fade proof acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refillable. Zebra #46820 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012419	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	386	ZEBRA	46820	9.78	3775.08			Awarded	
494	Pen, gel, retractable, red ink, permanent, fade proof acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refillable. Zebra #46830 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012420	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	101	ZEBRA	46830	9.78	987.78			Awarded	
492	Pen, gel, retractable, black ink, permanent, fade proof acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refillable. Zebra #46810 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012418	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	509	ZEBRA	46810	9.95	5064.55				
493	Pen, gel, retractable, blue ink, permanent, fade proof acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refillable. Zebra #46820 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012419	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	386	ZEBRA	46820	9.95	3840.7				
494	Pen, gel, retractable, red ink, permanent, fade proof acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refillable. Zebra #46830 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012420	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	101	ZEBRA	46830	9.9	999.9				
492	Pen, gel, retractable, black ink, permanent, fade proof acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refillable. Zebra #46810 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012418	Complete Printer Source	No	1 - 12 Count Box	509	Zebra	ZEB46810	9.99	5084.91				
493	Pen, gel, retractable, blue ink, permanent, fade proof acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refillable. Zebra #46820 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Source	No	1 - 12 Count Box		Zebra	ZEB46820	9.99	3856.14				
494	Pen, gel, retractable, red ink, permanent, fade proof acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refillable. Zebra #46830 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012420	Source		1 - 12 Count Box	101	Zebra	ZEB46830	9.99	1008.99				
	acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refillable. Zebra #46810 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		1 - 12 Count Box		Zebra Pen	46810 CAS035959		7008.93				
	Pen, gel, retractable, blue ink, permanent, fade proof acid-free ink, latex-free grip.	Zebra #46820 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Supplies		1 - 12 Count Box		Zebra Pen	46820 CAS035180		5295.92				
494	Pen, gel, retractable, red ink, permanent, fade proof acid-free ink, latex-free grip.	Ergonomic barrel, 0.7 mm point, medium point type, 12/box, non-refiliable. Zebra 846830 or equal. SAMPLE = 2 pens. IF BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012420	Cascade School Supplies	No	1 - 12 Count Box	101	Zebra Pen	46830 CAS036987	13.77	1390.77				
Lot Item															
Number 495-497	Item/Service	Description	Commodity Code	Vendor Name	No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
495	Pen, gel, retractable, black ink, permanent, ink is acid-	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box,		NATIONAL ART &		1 - 12 Count		ZEBRA	46710	9.47	9290.07				
496	free and archival quality. Pen, gel, retractable, blue ink, permanent, ink is acid-	non-refillable. Zebra #46710 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box,	5690660-2012477	SCHOOL SUPPLIES NATIONAL ART &	No	Box 1 - 12 Count	937	ZEBRA	46720	9.47	8873.39			Awarded	
	free and archival quality.	non-refiliable. Zebra #46720 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		SCHOOL SUPPLIES		Box								Awarded	

497	Pen, gel, retractable, red ink, permanent, ink is acid- free and archival quality.	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box, non-refillable. Zebra #46730 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012423	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 12 Count Box	96	ZEBRA	46730	9.56	917.76			Awarded	
495	Pen, gel, retractable, black ink, permanent, ink is acid- free and archival quality.	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box, non-refillable. Zebra #46710 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012421	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	981	ZEBRA	46710	9.95	9760.95				
496	Pen, gel, retractable, blue ink, permanent, ink is acid- free and archival quality.	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box, non-refillable. Zebra #46720 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012422	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	937	ZEBRA	46720	9.95	9323.15				
497	Pen, gel, retractable, red ink, permanent, ink is acid- free and archival quality.	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box, non-refillable. Zebra #46730 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012423	PYRAMID SCHOOL PRODUCTS	No	1 - 12 Count Box	96	ZEBRA	46730	9.95	955.2				
495	Pen, gel, retractable, black ink, permanent, ink is acid- free and archival quality.	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box, non-refillable. Zebra #46710 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012421	Complete Printer Source	No	1 - 12 Count Box	981	Zebra	ZEB46710	9.99	9800.19				
496	Pen, gel, retractable, blue ink, permanent, ink is acid- free and archival quality.	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box, non-refillable. Zebra #46720 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012422	Complete Printer Source	No	1 - 12 Count Box	937	Zebra	ZEB46720	9.99	9360.63				
497	Pen, gel, retractable, red ink, permanent, ink is acid- free and archival quality.	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box, non-refillable. Zebra #46730 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012423	Complete Printer Source	No	1 - 12 Count Box	96	Zebra	ZEB46730	9.99	959.04				
495	Pen, gel, retractable, black ink, permanent, ink is acid- free and archival quality.	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box, non-refillable. Zebra #46710 or equal. SAMPEE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012421	Cascade School Supplies	No	1 - 12 Count Box	981	Pilot Corp	31020 CAS026252	17.16	16833.96		Pilot Corp 31020		
496	Pen, gel, retractable, blue ink, permanent, ink is acid- free and archival quality.	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box, non-refillable. Zebra #46720 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012422	Cascade School Supplies	No	1 - 12 Count Box	937	Pilot Corp	31021 CAS022878	17.16	16078.92		Pilot Corp 31021		
497	Pen, gel, retractable, red ink, permanent, ink is acid- free and archival quality.	Soft rubber grip, 0.5 mm point, fine point type, scratch free writing, 12/box, non-refillable. Zebra #46730 or equal. SAMPLE = 2 pens. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-2012423	Cascade School Supplies	No	1 - 12 Count Box	96	Pilot Corp	31022 CAS022876	17.16	1647.36		Pilot Corp 31022		
Lot Item							Ì	Manufacture (11-12-014		Vendor Response Item			
Number 498-501	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Notes	Supplier Notes	Award Status	Award Notes
498	Pen, marking, fine line, hard copy. BLACK. Liqui-Mark #41201 or equal.	THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base ink, smooth writing, hard plastic point. Certified AP non-toxic, conforms to	5690660-1198850	Cascade School Supplies	No	1 - 12 Count Box	74	Liqui-Mark	11201 CAS028652	3.58	264.92		Liqui-Mark 11201		Reject - did not submit a sample for evaluation.
		ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
499	Pen, marking, fine line, hard copy. BLUE.		5690660-1649853	Cascade School Supplies	No	1 - 12 Count Box	: 48	Liqui-Mark	11203 CAS028653	3.58	171.84		Liqui-Mark 11203		Reject - did not submit a sample for evaluation.
499	Pen, marking, fine line, hard copy. BLUE. Pen, marking, fine line, hard copy. GREEN.	SAMPLE IS REQUIRED.	5690660-1649853 5690660-1649854	Supplies	No No		48	Liqui-Mark Liqui-Mark	11203 CAS028653 11204 CAS028654		171.84 64.44		Uqui-Mark 11203 Uqui-Mark 11204		Reject - did not submit a sample for evaluation. Reject - did not submit a sample for evaluation.
		SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal.		Supplies Cascade School Supplies		Box 1 - 12 Count				3.58					
500	Pen, marking, fine line, hard copy. GREEN.	SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41204 or equal.	5690660-1649854 5690660-1649855	Supplies Cascade School Supplies Cascade School Supplies	No	1 - 12 Count Box	18	Liqui-Mark	11204 CAS028654	3.58	64.44		Liqui-Mark 11204	Awarded	Reject - did not submit a sample for evaluation.
500	Pen, marking, fine line, hard copy. GREEN. Pen, marking, fine line, hard copy. RED. Pen, marking, fine line, hard copy. BLACK. Liqui-Mark	SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41204 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base ink, smooth writing, hard plastic point. Certified AP non-toxic, conforms to ASTIM D4286, SAMPLE = 1 Nox. IE BIODING THE APPRIVED PROPUCT, NO	\$690660-1649854 \$690660-1649855 \$690660-1198850	Cascade School Supplies Cascade School Supplies Cascade School Supplies	No No	1 - 12 Count Box 1 - 12 Count Box 1 - 12 Count 1 - 12 Count	18	Liqui-Mark Liqui-Mark	11204 CAS028654 11207 CAS028655	3.58	64.44 118.14		Liqui-Mark 11204	Awarded Awarded	Reject - did not submit a sample for evaluation.
500	Pen, marking, fine line, hard copy. GREEN. Pen, marking, fine line, hard copy. RED. Pen, marking, fine line, hard copy. BLACK. Liqui-Mark #41201 or equal.	SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41204 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base ink, smooth writing, hard plastic point. Certified AP non-toxic, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690660-1649854 5690660-1649855 5690660-1198850 5690660-1649853	Supplies Cascade School Supplies Cascade School Supplies PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL	No No	Box 1 - 12 Count Box 1 - 12 Count Box 1 - 12 Count 1 - 12 Count Box	33	Liqui-Mark Liqui-Mark Liqui-Mark	11204 CAS028654 11207 CAS028655 41201	3.58	64.44 118.14 273.06		Liqui-Mark 11204		Reject - did not submit a sample for evaluation.
500	Pen, marking, fine line, hard copy. GREEN. Pen, marking, fine line, hard copy. RED. Pen, marking, fine line, hard copy. BLACK. Liqui-Mark #41201 or equal. Pen, marking, fine line, hard copy. BLUE.	SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base init, smooth writing, hard plastic point. Certified AP non-toxic, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal.	5690660-1649854 5690660-1649855 5690660-1198850 5690660-1649853	Supplies Cascade School Supplies Cascade School Supplies PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No No	Box 1 - 12 Count Box	18 33 74 48 18	Liqui-Mark Liqui-Mark Liqui-Mark LiquiMARK	11204 CAS028654 11207 CAS028655 41201 41202	3.58	64.44 118.14 273.06		Liqui-Mark 11204	Awarded	Reject - did not submit a sample for evaluation.
500 501 498 499	Pen, marking, fine line, hard copy. GREEN. Pen, marking, fine line, hard copy. RED. Pen, marking, fine line, hard copy. BLACK. Liqui-Mark. #41201 or equal. Pen, marking, fine line, hard copy. BLUE. Pen, marking, fine line, hard copy. GREEN.	SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41204 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base ink, smooth writing, hard plastic point. Certified AP non-toxic, conforms to ASTM D4236. SAMPLE = 1 box. IE BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal.	5690660-1649855 5690660-1649855 5690660-1198850 5690660-1649853	Cascade School Supplies Cascade School Supplies PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS	No No No No	1 - 12 Count Box	18 33 74 48 18	Liqui-Mark Liqui-Mark Liqui-Mark LiquiMARK LiquiMARK	11204 CAS028654 11207 CAS028655 41201 41202	3.58 3.58 3.69 3.69	273.06 273.06 177.12		Liqui-Mark 11204	Awarded Awarded	Reject - did not submit a sample for evaluation.
500 501 498 499 500	Pen, marking, fine line, hard copy. GREEN. Pen, marking, fine line, hard copy. RED. Pen, marking, fine line, hard copy. BLACK. Liqui-Mark 841201 or equal. Pen, marking, fine line, hard copy. BLUE. Pen, marking, fine line, hard copy. GREEN. Pen, marking, fine line, hard copy. RED.	SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base ink, smooth writing, hard plastic point. Certified AP non-toxic, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41207 or equal. THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base ink, smooth writing, hard plastic point. Certified AP non-toxic, conforms to ASTM D428. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO	5690660-1649854 5690660-1649855 5690660-1198850 5690660-1649853 5690660-1649854 5690660-1649855	Cascade School Supplies Cascade School Supplies PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS John R Green Co	No No No No No No	Box 1 - 12 Count Box 1	18 33 34 48 18 33 34 74	Liqui-Mark Liqui-Mark Liqui-Mark Liquimark Liquimark Liquimark	11204 CAS028654 11207 CAS028655 41201 41202 41204 41207	3.58 3.58 3.69 3.69 3.69	64.44 118.14 273.06 177.12 66.42		Liqui-Mark 11204	Awarded Awarded	Reject - did not submit a sample for evaluation.
500 501 498 499 500 501	Pen, marking, fine line, hard copy. GREEN. Pen, marking, fine line, hard copy. RED. Pen, marking, fine line, hard copy. BLACK. Liqui-Mark #41201 or equal. Pen, marking, fine line, hard copy. BLUE. Pen, marking, fine line, hard copy. GREEN. Pen, marking, fine line, hard copy. RED.	SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base ink, smooth writing, hard plastic point. Certified AP non-toxic, conforms to ASTM D4236. SAMPLE = 1 box. IE BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base ink, smooth writing, hard plastic point. Certified AP non-toxic, conforms to ASTM D4236. SAMPLE = 1 box. SAMPLE IS REQUIRED.	\$690660-1649855 \$690660-1649855 \$690660-1198850 \$690660-1649853 \$690660-1649855 \$690660-1649855	Cascade School Supplies Cascade School Supplies PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS DYRAMID SCHOOL PRODUCTS John R Green Co	No No No No No	Box 1 - 12 Count Box	18 33 34 48 18 33 34 74	Liqui-Mark Liqui-Mark Liqui-Mark Liquimark Liquimark Liquimark	11204 CAS028654 11207 CAS028655 41201 41202 41204 41207 57679	3.58 3.69 3.69 3.69 3.79	64.44 118.14 273.06 177.12 66.42 121.77		Liqui-Mark 11204	Awarded Awarded	Reject - did not submit a sample for evaluation.
500 501 498 499 500 501 498	Pen, marking, fine line, hard copy. GREEN. Pen, marking, fine line, hard copy. RED. Pen, marking, fine line, hard copy. BLACK. Liqui-Mark #41201 or equal. Pen, marking, fine line, hard copy. BLUE. Pen, marking, fine line, hard copy. GREEN. Pen, marking, fine line, hard copy. RED. Pen, marking, fine line, hard copy. BLACK. Liqui-Mark #41201 or equal. Pen, marking, fine line, hard copy. BLACK. Liqui-Mark #41201 or equal.	SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. Liqui-Mark #41207 or equal. THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base ink, smooth writing, hard plastic point. Certified AP non-toxic, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDIMG THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal. Liqui-Mark #41204 or equal. Liqui-Mark #41207 or equal. THIS NOTE APPLIES TO ITEM NOS. 498 through 501: Fast drying, water base ink, smooth writing, hard plastic point. Certified AP non-toxic, conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDIMG THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED. Liqui-Mark #41202 or equal.	5690660-1649854 5690660-1649855 5690660-1198850 5690660-1649853 5690660-1649855 5690660-1198850 5690660-1198850	Cascade School Supplies Cascade School Supplies Cascade School Supplies PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS PYRAMID SCHOOL PRODUCTS John R Green Co John R Green Co	No N	Box 1 - 12 Count Box	18 33 33 74 48 48 48	Liqui-Mark Liqui-Mark LiquiMARK LiquiMARK LiquiMARK LiquiMARK LiquiMARK LiquiMARK LiquiMARK	11204 CAS028654 11207 CAS028655 41201 41202 41204 41207 57679	3.58 3.58 3.69 3.69 3.69 3.79	64.44 118.14 273.06 177.12 66.42 121.77 280.46		Liqui-Mark 11204	Awarded Awarded	Reject - did not submit a sample for evaluation.

Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
502-504 502	Pencil, colored, pre-sharpened, 12 color set, 7" long in	Description THIS NOTE APPLIES TO ITEM NOS. 502 through 504: 3.3 mm cores for smooth	1220680-1701654		No Bid	UOM 1 - 12 Count	Quantity 13290	Provider CRAYOLA	Part Number 68-4012	Price 1.19	Total Price 15815.1	Notes	Supplier Notes	Award Status	Award Notes
	tuck box. Crayola #68-4012 or equal.	color laydown, sturdy, straight wood shaft, color names on pencils, barrel color matches pencil core, made from reforested wood, non-toxic. AP Seal conforms		PRODUCTS		Set									
		to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.												Awarded	
503	Pencil, colored, pre-sharpened, 24 color set, 7" long in tuck box.	Crayola #68-4024 or equal.	1220680-1701655	PYRAMID SCHOOL PRODUCTS	No	1 - 24 Count Set	2816	CRAYOLA	68-4024	2.31	6504.96				
														Awarded	
504	Pencil, colored, pre-sharpened, 12 color set, 3 1/2"	Crayola #68-4112 or equal.	5690680-1688515	PYRAMID SCHOOL	No	1 - 12 Count	3239	CRAYOLA	68-4112	0.96	3109.44				
	long in tuck box.			PRODUCTS		Set									
														Awarded	
502	Pencil, colored, pre-sharpened, 12 color set, 7" long in tuck box. Crayola #68-4012 or equal.	THIS NOTE APPLIES TO ITEM NOS. 502 through 504: 3.3 mm cores for smooth color laydown, sturdy, straight wood shaft, color names on pencils, barrel color	1220680-1701654	School Specialty LLC	No	1 - 12 Count Set	13290	CRAYOLA	68-4012	1.33	17675.7		160-1456		
		matches pencil core, made from reforested wood, non-toxic. AP Seal conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO													
		SAMPLE IS REQUIRED.													
503	Pencil, colored, pre-sharpened, 24 color set, 7" long in	Crayola #68-4024 or equal.	1220680-1701655	School Specialty LLC	No	1 - 24 Count	2816	CRAYOLA	68-4024	2.65	7462.4		008220		
	tuck box.					Set									
504	Pencil, colored, pre-sharpened, 12 color set, 3 1/2" long in tuck box.	Crayola #68-4112 or equal.	5690680-1688515	School Specialty LLC	No	1 - 12 Count Set	3239	CRAYOLA	68-4112	1.03	3336.17		008223		
502	Pencil, colored, pre-sharpened, 12 color set, 7" long in	THIS NOTE APPLIES TO ITEM NOS. 502 through 504: 3.3 mm cores for smooth	1220680-1701654	NATIONAL ART &	No	1 - 12 Count	13290	CRAYOLA	68-4012	1.32	17542.8				
	tuck box. Crayola #68-4012 or equal.	color laydown, sturdy, straight wood shaft, color names on pencils, barrel color matches pencil core, made from reforested wood, non-toxic. AP Seal conforms		SCHOOL SUPPLIES		Set									
		to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
503	Pencil, colored, pre-sharpened, 24 color set, 7" long in tuck box.	Crayola #68-4024 or equal.	1220680-1701655	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 24 Count Set	2816	CRAYOLA	68-4024	2.64	7434.24				
504	Pencil, colored, pre-sharpened, 12 color set, 3 1/2"	Crayola #68-4112 or equal.	5690680-1688515		No	1 - 12 Count	3239	CRAYOLA	68-4112	1.17	3789.63				
	long in tuck box.			SCHOOL SUPPLIES		Set									
502	Pencil, colored, pre-sharpened, 12 color set, 7" long in tuck box. Crayola #68-4012 or equal.	THIS NOTE APPLIES TO ITEM NOS. 502 through 504: 3.3 mm cores for smooth color laydown, sturdy, straight wood shaft, color names on pencils, barrel color	1220680-1701654	Complete Printer Source	No	1 - 12 Count Set	13290	Crayola	CYO684012	1.89	25118.1				
		matches pencil core, made from reforested wood, non-toxic. AP Seal conforms to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO													
		SAMPLE IS REQUIRED.													
503	Pencil, colored, pre-sharpened, 24 color set, 7" long in	Crayola #68-4024 or equal.	1220680-1701655		No	1 - 24 Count	2816	Crayola	CYO684024	3.29	9264.64				
	tuck box.			Source		Set									
	Development of the control of the co	County WCD Coop	F.COOCOO	Complete Total		4 42 -	2777	6 ·	Cuoce	4 :-	4022				
504	Pencil, colored, pre-sharpened, 12 color set, 3 1/2" long in tuck box.	Crayola #68-4112 or equal.	5690680-1688515	Complete Printer Source	No	1 - 12 Count Set	3239	Crayola	CYO684112	1.49	4826.11				
502		THIS NOTE APPLIES TO ITEM NOS. 502 through 504: 3.3 mm cores for smooth	1220680-1701654	John R Green Co	No	1 - 12 Count	13290	CRAYOLA-4012	06632	2.08	27643.2				
	tuck box. Crayola #68-4012 or equal.	color laydown, sturdy, straight wood shaft, color names on pencils, barrel color matches pencil core, made from reforested wood, non-toxic. AP Seal conforms				Set									
		to ASTM D4236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.													
F03	Donail solared are shares 1.24 1 7" 1		1220600 4704655	John D.C	h*-	1 24.0	2010	CDAVOLA 4037	06623	250	10024.00				
503	Pencil, colored, pre-sharpened, 24 color set, 7" long in tuck box.	Crayola #68-4024 or equal.	1220080-1/01655	John R Green Co	No	1 - 24 Count Set	2816	CRAYOLA-4024	06633	3.56	10024.96				
1															
504	Pencil, colored, pre-sharpened, 12 color set, 3 1/2"	Crayola #68-4112 or equal.	5690680-1688515	John R Green Co	No	1 - 12 Count	3239	CRAYOLA-4112	06638	1.34	4340.26				
	long in tuck box.					Set									

502	Pencil, colored, pre-sharpened, 12 color set, 7" long in tuck box. Crayola #68-4012 or equal.	THIS NOTE APPLIES TO ITEM NOS. 502 through 504: 3.3 mm cores for smooth color laydown, sturdy, straight wood shaft, color names on pencils, barrel color matches pencil core, made from reforested wood, non-toxic. AP Seal conforms to ASTM 04236. SAMPLE = 1 box. IF BIDDING THE APPROVED PRODUCT, NO	1220680-1701654	Cascade School Supplies	No	1 - 12 Count Set	13290	Crayola	4012 CAS149597	2.04	27111.6				
		SAMPLE IS REQUIRED.													
503	Pencil, colored, pre-sharpened, 24 color set, 7" long in tuck box.	Crayola #68-4024 or equal.	1220680-1701655	Cascade School Supplies	No	1 - 24 Count Set	2816	Crayola	684024 CAS149601	3.84	10813.44				
504	Pencil, colored, pre-sharpened, 12 color set, 3 1/2" long in tuck box.	Crayola #68-4112 or equal.	5690680-1688515	Cascade School Supplies	No	1 - 12 Count Set	3239	Crayola	684112 CAS099009	3.25	10526.75				
Lot Item Number								Manufacturer /	Manufacturer	Unit Bid		Vendor Response Item			
505-506	Item/Service Portfolio, 2 pocket, 3 metal fasteners for 3 hole	Description File-EZ #80128 or equal. SAMPLE = 2 folders. IF BIDDING THE APPROVED	Commodity Code 5690685-1372429	Vendor Name Cascade School	No Bid	UOM 1 - 25 Count	Quantity 1105	Provider Cascade Brand	Part Number 028176	Price 6.15	Total Price 6795.75	Notes	Supplier Notes Cascade Brand 028176	Award Status	Award Notes Reject - did not submit sample for evaluation.
303	punched 8 1/2" x 11" paper, assorted colors, leatherette embossed stock, 25/box.	PRODUCT, NO SAMPLE IS REQUIRED.	3030063-1372423	Supplies	No	Box	1103	Cascade Brand	028170	0.13	0733.73		Cascade Biand 028170		reject - did not submit sample for evaluation.
506	Portfolio, 2 pocket, 3 metal fasteners for 3 hole punched 8 1/2" x 11" paper, leatherette embossed. Stock, 25/box, one color per box.	Available colors: MOC-white, RZO-light blue, RZ3-4ark blue, RZ3-grape, RSS-red #60-green, RZO-pelow and #80-orang-File-EZ #80/ZS-X or equal. Color will be specified at time of purchase order. SAMPEE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-2012784	Cascade School Supplies	No	1 - 25 Count Box	1984	Cascade Brand	028178	6.15	12201.6		Cascade Brand 028178		Reject - did not submit sample for evaluation.
505	Portfolio, 2 pocket, 3 metal fasteners for 3 hole punched 8 1/2" x 11" paper, assorted colors, leatherette embossed stock, 25/box.	File-EZ #80128 or equal. SAMPLE = 2 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-1372429	John R Green Co	No	1 - 25 Count Box	1105	FILE-EZ-80128	16005	10.03	11083.15			Awarded	
506	Portfolio, 2 pocket, 3 metal fasteners for 3 hole punched 8 1/2" x 11" paper, leatherette embossed. Stock, 25/box, one color per box.	Available colors: 800-white, #20-light blue, #23-dark blue, #29-grape, #58-red, #60-green, #70-yellow and #80-grape, File Z #80128-XX or equal. Color will be specified at time of purchase order. SAMPLE = 2 of each color. If BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-2012784	John R Green Co	No	1 - 25 Count Box	1984	FILE-EZ-80128	57976	10.03	19899.52		PLEASE SPECIFY COLOR	Awarded	
505	Portfolio, 2 pocket, 3 metal fasteners for 3 hole punched 8 1/2" x 11" paper, assorted colors, leatherette embossed stock, 25/box.	File-EZ #80128 or equal. SAMPLE = 2 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-1372429	PYRAMID SCHOOL PRODUCTS	No	1 - 25 Count Box	1105	FILE-EZ	80128-00	9.95	10994.75				
506	Portfolio, 2 pocket, 3 metal fasteners for 3 hole punched 8 1/2" x 11" paper, leatherette embossed. Stock, 25/box, one color per box.	Available colors: #00-white, #20-light blue, #23-dark blue, #29-grape, #58-red, #60-green, #70-yellow and #80-orange. File-EZ #80128-XX or equal. Color will be specified at time of purchase order. SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-2012784	PYRAMID SCHOOL PRODUCTS	No	1 - 25 Count Box	1984	FILE-EZ	80128XX	10.29	20415.36				
505	Portfolio, 2 pocket, 3 metal fasteners for 3 hole punched 8 1/2" x 11" paper, assorted colors, leatherette embossed stock, 25/box.	File-EZ #80128 or equal. SAMPLE = 2 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-1372429	Complete Printer Source	No	1 - 25 Count Box	1105	File-EZ	FEZ80128	10.99	12143.95				
506	Portfolio, 2 pocket, 3 metal fasteners for 3 hole punched 8 1/2" x 11" paper, leatherette embossed. Stock, 25/box, one color per box.	Available colors: 800-white, #20-light blue, #23-dark blue, #29-grape, #58-red, #60-green, #70-yellow and #80-orange. File-EZ #80128-XX or equal. Color will be specified at time of purchase order. SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-2012784	Complete Printer Source	No	1 - 25 Count Box	1984	File-EZ	FEZ80128XX	10.99	21804.16				
Lot Item															
Number 507-508	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
507	Portfolio, 2 extra large pockets, holds 150 sheets up to 9" x 12" size sheets, assorted colors, Leatherette embossed stock, 25/box.	File-EZ #80912 or equal. SAMPLE = 2 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-1372438	Cascade School Supplies	No	1 - 25 Count Box	1633	Cascade Brand	028166	5.42	8850.86		Cascade Brand 028166		Reject - did not submit sample for evaluation.
508	9" x 12" size sheets, leatherette embossed, Stock,	Available colors: 800-white, 820-light blue, 823-34rds blue, 823-grape, 855-red, 860-green, 870-pellow and 880-orange, File-ZE 880312-XO er opual, Color will be specified at time of purchase order. SAMPLE = 2 of each color, IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Cascade School Supplies	No	1 - 25 Count Box	2386	Cascade Brand	0281**	5.42	12932.12		Cascade Brand Specify Color at order: 028170 Light Blue, 028167 Yellow, 028169 Green, 028168 Red, 028166 Assorted		Reject - did not submit sample for evaluation.
507	Portfolio, 2 extra large pockets, holds 150 sheets up to 9" x 12" size sheets, assorted colors, Leatherette embossed stock, 25/box.	File-EZ #80912 or equal. SAMPLE = 2 folders. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-1372438	John R Green Co	No	1 - 25 Count Box	1633	FILE-EZ-80912	58086	9.73	15889.09			Awarded	
508		Available colors: 800-white, #20-light blue, #23-dark blue, #29-grape, #58-red, #60-green, #70-yellow and #80-orange. File-EZ #86912-XX or equal. Color will be specified at time of purchase order. SAMPLE = 2 of each color. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690685-2012417	John R Green Co	No	1 - 25 Count Box	2386	FILE-EZ-80912	58090	9.73	23215.78		PLEASE SPECIFY COLOR	Awarded	
Lot Item															
Number 509-510 509	Item/Service Ring, looseleaf 1" dia. nickel plated steel. 100/box.	Description ACCO #72202 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	Commodity Code 5690640-2013900	Vendor Name NATIONAL ART & SCHOOL SUPPLIES	No Bid	1 - 100 Count Box	Quantity 204	Manufacturer / Provider EXTRIC	Manufacturer Part Number 1162	Unit Bid Price 4.2	Total Price 856.8	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes Reject - sample submitted is not equal, has 2 in. diameter.

				1								,			
510	Ring, looseleaf 1-1/2" dia. nickel plated steel. 100/box.	ACCO #72204 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2013901	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 100 Count Box	196	EXTRIC	1164	5.75	1127				Reject - sample submitted is not equal, has 2 in. diameter.
509	9	ACCO #72202 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PRODUCTS	No	1 - 100 Count Box	204	PYRAMID	1182641	4.79	977.16			Awarded	
510	Ring, looseleaf 1-1/2" dia. nickel plated steel. 100/box.	ACCO #72204 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2013901	PYRAMID SCHOOL PRODUCTS	No	1 - 100 Count Box	196	PYRAMID	1182674	5.29	1036.84			Awarded	
509	Ring, looseleaf 1" dia. nickel plated steel. 100/box.	ACCO #72202 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2013900	School Specialty LLC	No	1 - 100 Count Box	204	SCHOOL SMART	036975	4.97	1013.88		036975		
510	Ring, looseleaf 1-1/2" dia. nickel plated steel. 100/box.	ACCO #72204 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2013901	School Specialty LLC	No	1 - 100 Count Box	196	SCHOOL SMART	036978	6.73	1319.08		036978		
509	Ring, looseleaf 1" dia. nickel plated steel. 100/box.	ACCO #72202 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2013900	John R Green Co	No	1 - 100 Count Box	204	CHARLES LEONARD- R-29	03120	8.09	1650.36		DIFFERENT BRAND		
510	Ring, looseleaf 1-1/2" dia. nickel plated steel. 100/box.	ACCO #72204 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2013901	John R Green Co	No	1 - 100 Count Box	196	CLIPMALL-CR1.5	03124	8.88	1740.48		DIFFERENT BRAND		
509	Ring, looseleaf 1" dia. nickel plated steel. 100/box.	ACCO #72202 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2013900	Complete Printer Source	No	1 - 100 Count Box	204	ACCO	ACC72202	15.49	3159.96				
510	Ring, looseleaf 1-1/2" dia. nickel plated steel. 100/box.	ACCO #72204 or equal. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5690640-2013901	Complete Printer Source	No	1 - 100 Count Box	196	ACCO	ACC72204	18.99	3722.04				
Lot Item Number 511-512	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
511		Stainless steel safety edge blades features a safer blade angle, large finger loop and ergonomic thumb loop, animicrobial handle, lifetime warranty, for ages four and up. Fiskars #9416 or equal. SAMPE = 1 pair. FB IDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - Each Purchase	12145	FISKARS	9416	1.56	18946.2	iocs	Supplier Notes	Awarded	Autorited
512	Scissors, children's safety, pointed, 5" long, 1 3/4" cut, right or left hand.	Stainless steel safety edge blades features a safer blade angle, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages four and up. Fiskars #9430 or equal. SAMPLE = 1 pair. IE BIDINIA THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1722053	PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	6650	FISKARS	9430	1.56	10374			Awarded	
511	Scissors, children's safety, blunt, 5" long, 1 3/4" cut, right or left hand.	Stainless steel safety edge blades features a safer blade angle, large finger loop and ergonomic thumb loop, antimitrobla handle, lifetime warranty, for ages four and up. Fiskars #9416 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1722054	Complete Printer Source	No	1 - Each Purchase	12145	Fiskars	FSK1941601046	1.7	20646.5				
512	Scissors, children's safety, pointed, 5" long, 1 3/4" cut, right or left hand.	Stainless steel safety edge blades features a safer blade angle, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages four and up. Fiskars 19430 or equal. SAMPLE 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED.	2500720-1722053	Complete Printer Source	No	1 - Each Purchase	6650	Fiskars	FSK1943001046	1.7	11305				
511	Scissors, children's safety, blunt, 5" long, 1 3/4" cut, right or left hand.	Stainless steel safety edge blades features a safer blade angle, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages four and up. Fiskars #9416 or equal. SAMPLE a pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1722054	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	12145	Lakeshore	TS547	1.67	20282.15	Please reference "Per Quote #36590" on all purchase orders.	BEST-BUY BLUNT-TIP SCISSORS Payment Terms: Net 30"		
512	Scissors, children's safety, pointed, 5" long, 1 3/4" cut, right or left hand.	Stainless steel safety edge blades features a safer blade angle, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages four and up. Fiskars #9430 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED.	2500720-1722053	Lakeshore Learning Materials, LLC	No	1 - Each Purchase	6650	Lakeshore	GS454	1.85	12302.5	Please reference "Per Quote #36590" on all purchase orders.	SAFETY SCISSORS - EACH Payment Terms: Net 30"		
511	Scissors, children's safety, blunt, 5" long, 1 3/4" cut, right or left hand.	Staintes steel safety edge blades features a afer blade angle, large finger loop and ergonomic thumb loop, antimorbial handle, lifetime warranty, for ages four and up, riskars #9416 or equal. SMMPLE a pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1722054	School Specialty LLC	No	1 - Each Purchase	12145	FISKARS	9416-0-1066	1.75	21253.75		372698		
512	Scissors, children's safety, pointed, 5" long, 1 3/4" cut, right or left hand.	Stainless steel safety edge blades features a safer blade angle, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages four and up. Fiskars 19430 or equal. SAMPLE 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED.	2500720-1722053	School Specialty LLC	No	1 - Each Purchase	6650	FISKARS	9430-0-1064	1.75	11637.5		372701		
	right or left hand.	Staintes steel safety edge blades features a afer blade angle, large finger long and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for long and four and up. Fiskars #9416 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.			No	1 - Each Purchase	12145	FISKARS-19416- 1066	10381	1.84	22346.8				
512	Scissors, children's safety, pointed, 5" long, 1 3/4" cut, right or left hand.	Stainless steel safety edge blades features a safer blade angle, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages four and up. Fiskars #9430 or equal. SAMPLE = J pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE S REQUIRED.	2500720-1722053	John R Green Co	No	1 - Each Purchase	6650	FISKARS-9430	10379	1.84	12236				
511	Scissors, children's safety, blunt, 5" long, 1 3/4" cut, right or left hand.	Stainless steel safety edge blades features a safer blade angle, large finger loop and ergonomic thumb loop, antimicrobal handle, lifetime warranty, for loop and ergonomic thumb loop, antimicrobal handle, lifetime warranty, for loop four and up. Fiskars #9416 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1722054	Cascade School Supplies	No	1 - Each Purchase	12145	Fiskars Brands	1941601066 CAS028884	2.15	26111.75				
512	Scissors, children's safety, pointed, 5" long, 1 3/4" cut, right or left hand.	Stainless steel safety edge blades features a safer blade angle, large finger loop and ergonomic thumb loop, antimicrobial handle, lifetime warranty, for ages four and up. Fiskars 19430 or equal. SAMPLE = 1 pair. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	2500720-1722053	Cascade School Supplies	No	1 - Each Purchase	6650	Fiskars Brands	194300 CAS161569	2.15	14297.5				

Lot Item										Unit Bid		V			
Number 513-514	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Price	Total Price	Vendor Response Item Notes	Supplier Notes	Award Status	Award Notes
513	Staple, 1/4" specially engineered design.	Provides hassle-free stapling, (fits Swingline Optima stapler). Swingline #35556. NO SUBSTITUTE.	5690820-2012753	NATIONAL ART & SCHOOL SUPPLIES	No	1 - 37500 Count Box	616	SWINGLINE	35556	3.6	2217.6			Awarded	
514	Stapler, desktop, silver, reduced effort, ergonomic design, metal construction.	40 sheet stapling capacity, quick load front loading staple, staple capacity full strip (210). Swingline Optima 40 Model #57087845 or equal. SAMPLE = 1 stapler. IF BIDIOING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		NATIONAL ART & SCHOOL SUPPLIES	No	1 - Each Purchase	449	SWINGLINE	S7087845	21.29	9559.21			Awarded	
513	Staple, 1/4" specially engineered design.	Provides hassle-free stapling, (fits Swingline Optima stapler). Swingline #35556. NO SUBSTITUTE.	5690820-2012753	Complete Printer Source	No	1 - 37500 Count Box	616	ACCO	SWIS7035556	4.09	2519.44				
514	Stapler, desktop, silver, reduced effort, ergonomic design, metal construction.	40 sheet stapling capacity, quick load front loading staple, staple capacity full strip (210). Swingline Optima 40 Model #57087845 or equal. SAMPLE = 1 stapler. IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Complete Printer Source	No	1 - Each Purchase	449	ACCO	SWI7087845	22.89	10277.61				
513	Staple, 1/4" specially engineered design.	Provides hassie-free stapling, (fits Swingline Optima stapler). Swingline #33556. NO SUBSTITUTE.	5690820-2012753	PYRAMID SCHOOL PRODUCTS	No	1 - 37500 Count Box	616	SWINGLINE	35556	4.69	2889.04				
514	Stapler, desktop, silver, reduced effort, ergonomic design, metal construction.	40 sheet stapling capacity, quick load front loading staple, staple capacity full strip (210). Swingline Optima 40 Model #57087845 or equal. SAMPLE = 1 stapler. IF BIODING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		PYRAMID SCHOOL PRODUCTS	No	1 - Each Purchase	449	SWINGLINE	7087845	26.95	12100.55				
513	Staple, 1/4" specially engineered design.	Provides hassie-free stapling, (fits Swingline Optima stapler). Swingline #35556. NO SUBSTITUTE.	5690820-2012753	John R Green Co	No	1 - 37500 Count Box	616	ACCO/OPTIMA- 35556	03197	4.62	2845.92				
514	Stapler, desktop, silver, reduced effort, ergonomic design, metal construction.	40 sheet stapling capacity, quick load front loading staple, staple capacity full strip (210). Swingline Optima 40 Model #S7087845 or equal. SAMPLE = 1 stapler. IF BIDIOING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		John R Green Co	No	1 - Each Purchase	449	SWINGLINE/ACCO- S7087845	11482	27.9	12527.1				
513	Staple, 1/4" specially engineered design.	Provides hassle-free stapling, (fits Swingline Optima stapler), Swingline #35556. NO SUBSTITUTE.	5690820-2012753	Cascade School Supplies	No	1 - 37500 Count Box	616	Acco Brands/Swingline	S7035556 CAS031250	3.99	2457.84				
514	Stapler, desktop, silver, reduced effort, ergonomic design, metal construction.	40 sheet stapling capacity, quick load front loading staple, staple capacity full strip (210). Swingline Optima 40 Model #57087845 or equal. SAMPLE = 1 stapler. IF BIDIOING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Cascade School Supplies	No	1 - Each Purchase	449	Acco Brands/Swingline	87845 CAS030043	33.38	14987.62				

Jefferson County Public Schools	
Bid Tabulation	
Event Name: Instructional & Office Supplies (Line Item)	
Event ID: JCPS-8298	
Approval Date: March 5, 2024	
Date Bids Received: December 5, 2024	
Contract Period: March 5, 2024 through February 28, 2025	
Renewals: No renewal option	
Comments The Board will draw late to break the tie for the	N 05 434 444 0 463

Comments: The Board	d will draw	lots to brea	k the tie f	for Item Nos	. 95, 124,	144 & 162
---------------------	-------------	--------------	-------------	--------------	------------	-----------

Bid Items 1-182	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$1,636,726.83	\$0.00
	Complete Printer Source	\$1,606,426.00	\$112,131.16
	John R Green Co	\$1,590,693.30	\$82,338.31
	Kerr Office Group, Inc.	\$30,480.29	\$0.00
	Lakeshore Learning Materials, LLC	\$1,001,725.94	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$917,954.94	\$366,768.51
	odp BUSINESS SOLUTIONS, LLC	\$427,060.70	\$83,637.14
	PYRAMID SCHOOL PRODUCTS	\$1,291,203.58	\$300,188.65
	School Specialty LLC	\$1,547,594.52	\$276,649.20

Bid Items			
182-184	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$1,606.54	\$0.00
	Complete Printer Source	\$1,595.24	\$0.00
	John R Green Co	\$1,570.93	\$0.00
	Kerr Office Group, Inc.	\$1,087.06	\$1,087.06
	NATIONAL ART & SCHOOL SUPPLIES	\$1,433.38	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$1,529.58	\$0.00
Bid Items 185-190	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$1,321.26	\$0.00
	cascade serioor supplies	ψ1,321.20	\$0.00
	Complete Printer Source	\$3,747.17	\$0.00
	John R Green Co	\$1,742.85	\$1,742.85
	Kerr Office Group, Inc.	\$2,992.77	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$1,694.70	\$0.00
1	1		

Bid Items			
191-194	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$11,052.44	\$0.00
	Complete Printer Source	\$22,330.30	\$0.00
	John R Green Co	\$18,411.40	\$0.00
	Kerr Office Group, Inc.	\$19,820.46	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$16,773.22	\$16,773.22
Bid Items 195-198	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$13,549.06	\$0.00
	Complete Printer Source	\$37,350.95	\$0.00
	John R Green Co	\$28,653.86	\$0.00
	Kerr Office Group, Inc.	\$32,442.06	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$20,424.24	\$20,424.24

Bid Items 199-200	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$19,911.30	\$0.00
	Complete Printer Source	\$17,666.58	\$0.00
	John R Green Co	\$16,930.42	\$0.00
	Kerr Office Group, Inc.	\$16,342.14	\$16,342.14
Bid Items			
201-213	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$5,919.36	\$0.00
	Complete Biotock	Ć4 044 40	Ć4 044 40
	Complete Printer Source	\$4,841.10	\$4,841.10
	John R Green Co	\$6,706.56	\$0.00
	Kerr Office Group, Inc.	\$6,713.28	\$0.00
	Lakeshore Learning Materials, LLC	\$13,892.16	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$5,059.86	\$0.00

Bid Items			
214-216	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$2,788.77	\$0.00
	Complete Printer Source	\$4,211.70	\$0.00
	John R Green Co	\$4,240.42	\$0.00
	Kerr Office Group, Inc.	\$8,165.62	\$0.00
	School Specialty LLC	\$3,108.86	\$3,108.86
Bid Items 217-219	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$4,214.85	\$0.00
	Complete Printer Source	\$6,698.80	\$0.00
	John R Green Co	\$6,611.10	\$0.00
	Kerr Office Group, Inc.	\$12,690.46	\$0.00
	School Specialty LLC	\$4,947.66	\$4,947.66

Bid Items			
220-221	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$1,668.14	\$0.00
	John R Green Co	\$1,730.58	\$0.00
	Kerr Office Group, Inc.	\$1,933.10	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$2,089.04	\$0.00
	School Specialty LLC	\$1,388.40	\$1,388.40
Bid Items 222-223	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$372.36	\$0.00
	Complete Printer Source	\$701.58	\$0.00
	John R Green Co	\$325.89	\$325.89
	Kerr Office Group, Inc.	\$830.72	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$640.13	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$541.24	\$0.00
	School Specialty LLC	\$477.47	\$0.00

Bid Items 224-227	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$5,609.91	\$0.00
	Complete Printer Source	\$5,854.07	\$0.00
	John R Green Co	\$6,417.15	\$0.00
	Kerr Office Group, Inc.	\$5,638.35	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$4,962.38	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$4,917.05	\$0.00
	School Specialty LLC	\$4,539.97	\$4,539.97
Bid Items 228-230	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$3,960.80	\$0.00
	John R Green Co	\$4,248.20	\$0.00
	Kerr Office Group, Inc.	\$5,015.26	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$4,023.61	\$4,023.61

Bid Items 231-232	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$6,726.47	\$0.00
	Complete Printer Source	\$6,127.41	\$0.00
	John R Green Co	\$6,500.68	\$0.00
	Kerr Office Group, Inc.	\$7,084.57	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$5,534.18	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$3,001.04	\$3,001.04
	School Specialty LLC	\$3,514.61	\$0.00

Bid Items 233-237	Vendor	Bid Total	Awarded Total
233-237			
	Cascade School Supplies	\$80,209.36	\$0.00
	Complete Printer Source	\$69,507.06	\$0.00
	John R Green Co	\$79,154.78	\$0.00
	Kerr Office Group, Inc.	\$74,545.30	\$0.00
	Lakeshore Learning Materials, LLC	\$11,386.38	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$59,075.20	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$33,324.72	\$33,324.72
	School Specialty LLC	\$39,158.84	\$0.00

Bid Items 238-243	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$7,562.83	\$0.00
	Complete Printer Source	\$6,423.45	\$0.00
	John R Green Co	\$6,236.45	\$0.00
	Lakeshore Learning Materials, LLC	\$11,294.80	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$6,068.15	\$6,068.15
	School Specialty LLC	\$6,872.25	\$0.00
Bid Items 244-246	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$2,745.25	\$0.00
	Complete Printer Source	\$5,182.35	\$0.00
	John R Green Co	\$6,243.30	\$0.00
	Kerr Office Group, Inc.	\$6,844.51	\$0.00
	School Specialty LLC	\$3,509.57	\$3,509.57

Bid Items			
247-248	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$568.64	\$0.00
	John R Green Co	\$986.10	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$1,427.22	\$0.00
	School Specialty LLC	\$731.58	\$731.58
Bid Items 249-255	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$5,723.17	\$0.00
	Complete Printer Source	\$19,017.48	\$19,017.48
	John R Green Co	\$20,156.75	\$0.00
	School Specialty LLC	\$20,699.74	\$0.00

Bid Items 256-257	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$54,029.85	\$0.00
	Complete Printer Source	\$48,516.60	\$0.00
	John R Green Co	\$49,057.30	\$0.00
	Lakeshore Learning Materials, LLC	\$81,596.10	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$35,284.80	\$35,284.80
	PYRAMID SCHOOL PRODUCTS	\$44,106.00	\$0.00
	School Specialty LLC	\$55,132.50	\$0.00

Bid Items 258-259	Vendor	Bid Total	Awarded Total
230 233	Cascade School Supplies	\$2,929.20	\$0.00
	Complete Printer Source	\$4,060.52	\$0.00
	John R Green Co	\$2,749.08	\$0.00
	NATIONAL ART & SCHOOL	\$2,454.60	\$2,454.60
	SUPPLIES		
	PYRAMID SCHOOL PRODUCTS	\$2,800.36	\$0.00
		40.000.40	40.00
	School Specialty LLC	\$2,699.12	\$0.00
Bid Items	V	2:17:11	
Bid Items 260-268	Vendor Cassada Sahaal Supplies	Bid Total	Awarded Total
	Vendor Cascade School Supplies	Bid Total \$52,786.40	Awarded Total \$0.00
	Cascade School Supplies	\$52,786.40	\$0.00
	Cascade School Supplies	\$52,786.40	\$0.00
	Cascade School Supplies Complete Printer Source	\$52,786.40 \$46,574.63	\$0.00
	Cascade School Supplies Complete Printer Source John R Green Co NATIONAL ART & SCHOOL	\$52,786.40 \$46,574.63	\$0.00
	Cascade School Supplies Complete Printer Source John R Green Co NATIONAL ART & SCHOOL SUPPLIES	\$52,786.40 \$46,574.63 \$45,961.56 \$25,493.02	\$0.00 \$0.00 \$0.00 \$25,493.02
	Cascade School Supplies Complete Printer Source John R Green Co NATIONAL ART & SCHOOL	\$52,786.40 \$46,574.63 \$45,961.56	\$0.00 \$0.00 \$0.00
	Cascade School Supplies Complete Printer Source John R Green Co NATIONAL ART & SCHOOL SUPPLIES PYRAMID SCHOOL PRODUCTS	\$52,786.40 \$46,574.63 \$45,961.56 \$25,493.02 \$26,629.99	\$0.00 \$0.00 \$0.00 \$25,493.02 \$0.00
	Cascade School Supplies Complete Printer Source John R Green Co NATIONAL ART & SCHOOL SUPPLIES	\$52,786.40 \$46,574.63 \$45,961.56 \$25,493.02	\$0.00 \$0.00 \$0.00 \$25,493.02

Bid Items 269-273	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$27,467.32	\$0.00
	Complete Printer Source	\$20,426.96	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$19,187.46	\$19,187.46
	PYRAMID SCHOOL PRODUCTS	\$21,269.82	\$0.00
	School Specialty LLC	\$28,310.18	\$0.00
Bid Items 274-275	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$442.55	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$1,414.45	\$0.00
	School Specialty LLC	\$1,087.70	\$1,087.70

Bid Items 276-278	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$2,015.66	\$0.00
	Complete Printer Source	\$4,715.52	\$0.00
	John R Green Co	\$4,647.54	\$0.00
	School Specialty LLC	\$3,614.60	\$3,614.60
Bid Items 279-281	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$2,631.67	\$0.00
	Complete Printer Source	\$6,201.90	\$0.00
	John R Green Co	\$6,872.60	\$0.00
	School Specialty LLC	\$4,660.67	\$4,660.67

Bid Items 282-303	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$12,429.18	\$0.00
	Complete Printer Source	\$11,205.90	\$0.00
	John R Green Co	\$11,477.62	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$7,858.99	\$308.44
		4	4
	PYRAMID SCHOOL PRODUCTS	\$5,372.00	\$5,170.04
	School Specialty II C	ĆE 901 27	\$0.00
	School Specialty LLC	\$5,891.37	\$0.00
Bid Items	Vendor	Rid Total	Awarded Total
Bid Items 304-313	Vendor Cascade School Supplies	Bid Total \$4,652.52	Awarded Total \$0.00
	Vendor Cascade School Supplies	Bid Total \$4,652.52	Awarded Total \$0.00
	Cascade School Supplies	\$4,652.52	\$0.00
	Cascade School Supplies	\$4,652.52	\$0.00
	Cascade School Supplies Complete Printer Source	\$4,652.52 \$4,101.78	\$0.00
	Cascade School Supplies Complete Printer Source John R Green Co NATIONAL ART & SCHOOL	\$4,652.52 \$4,101.78	\$0.00
	Cascade School Supplies Complete Printer Source John R Green Co	\$4,652.52 \$4,101.78 \$4,073.08	\$0.00 \$0.00 \$0.00
	Cascade School Supplies Complete Printer Source John R Green Co NATIONAL ART & SCHOOL	\$4,652.52 \$4,101.78 \$4,073.08	\$0.00 \$0.00 \$0.00
	Cascade School Supplies Complete Printer Source John R Green Co NATIONAL ART & SCHOOL SUPPLIES PYRAMID SCHOOL PRODUCTS	\$4,652.52 \$4,101.78 \$4,073.08 \$3,616.80 \$2,868.78	\$0.00 \$0.00 \$0.00 \$0.00
	Cascade School Supplies Complete Printer Source John R Green Co NATIONAL ART & SCHOOL SUPPLIES	\$4,652.52 \$4,101.78 \$4,073.08 \$3,616.80	\$0.00 \$0.00 \$0.00 \$0.00

Bid Items 314-322	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$7,070.35	\$0.00
	Complete Printer Source	\$6,402.01	\$0.00
	John R Green Co	\$6,838.37	\$0.00
	Lakeshore Learning Materials, LLC	\$12,037.38	\$0.00
	School Specialty LLC	\$6,185.85	\$6,185.85
Bid Items 323-330	Vendor	Bid Total	Awarded Total
	Complete Printer Source	\$12,412.01	\$0.00
	John R Green Co	\$10,147.50	\$10,147.50
	School Specialty LLC	\$12,478.26	\$0.00

2.11			
Bid Items 331-346	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$1,771.91	\$0.00
	Complete Printer Source	\$2,514.88	\$0.00
	John R Green Co	\$2,077.79	\$2,077.79
	PYRAMID SCHOOL PRODUCTS	\$2,280.42	\$0.00
Bid Items 347-365	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$12,758.58	\$0.00
	Complete Printer Source	\$17,913.52	\$0.00
	John R Green Co	\$12,598.23	\$0.00
	Lakeshore Learning Materials, LLC	\$23,380.88	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$17,763.60	\$0.00
	School Specialty LLC	\$11,580.40	\$11,580.40

Bid Items			
366-367	Vendor	Bid Total	Awarded Total
	Complete Printer Source	\$16,067.46	\$0.00
	John R Green Co	\$16,520.14	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$18,058.30	\$0.00
	School Specialty LLC	\$14,989.52	\$14,989.52
Bid Items 368-371	Vendor	Bid Total	Awarded Total
	Complete Printer Source	\$15,297.21	\$0.00
	John R Green Co	\$15,250.43	\$15,250.43
Bid Items 372-375	Vendor	Bid Total	Awarded Total
	Complete Printer Source	\$11,755.46	\$11,755.46
	John R Green Co	\$12,030.50	\$0.00
		-	_

Bid Items 376-377	Vendor	Bid Total	Awarded Total
	Complete Printer Source	\$6,967.54	\$0.00
	John R Green Co	\$8,473.86	\$0.00
	School Specialty LLC	\$6,674.54	\$6,674.54
Bid Items 378-379	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$4,350.78	\$0.00
	Complete Printer Source	\$5,430.84	\$0.00
	John R Green Co	\$8,166.39	\$0.00
	Lakeshore Learning Materials, LLC	\$18,185.80	\$0.00
	School Specialty LLC	\$4,634.44	\$4,634.44

Did Itoms			
Bid Items 380-396	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$17,544.80	\$0.00
	Complete Printer Source	\$17,330.15	\$0.00
	John R Green Co	\$14,893.23	\$0.00
	School Specialty LLC	\$12,965.28	\$12,965.28
Bid Items 397-409	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$10,956.69	\$0.00
	Complete Printer Source	\$9,570.33	\$0.00
	John R Green Co	\$9,272.19	\$0.00
	School Specialty LLC	\$7,997.42	\$7,997.42
Bid Items 410-430	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$5,813.66	\$0.00
	Complete Printer Source	\$5,684.20	\$0.00
	School Specialty LLC	\$4,460.30	\$4,460.30

Bid Items 431-440	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$3,830.57	\$0.00
	Complete Printer Source	\$4,093.47	\$0.00
	John R Green Co	\$5,680.76	\$0.00
	Lakeshore Learning Materials, LLC	\$5,169.41	\$0.00
	School Specialty LLC	\$3,167.18	\$3,167.18
Bid Items 441-450	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$1,343.12	\$0.00
	Complete Printer Source	\$1,333.63	\$0.00
	John R Green Co	\$2,186.07	\$0.00
	Lakeshore Learning Materials, LLC	\$1,812.56	\$0.00
		64.075.74	\$1,075.74
	School Specialty LLC	\$1,075.74	\$1,075.74
	School Specialty LLC	\$1,075.74	\$1,075.74

Did Hama			
Bid Items 451-461	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$1,237.29	\$0.00
	Complete Printer Source	\$1,180.77	\$0.00
	John R Green Co	\$1,709.47	\$0.00
	School Specialty LLC	\$885.45	\$885.45
Bid Items 462-464	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$1,971.21	\$0.00
	Complete Printer Source	\$1,807.44	\$0.00
	John R Green Co	\$2,624.87	\$0.00
	School Specialty LLC	\$1,683.03	\$1,683.03
Bid Items			
465-473	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$24,614.18	\$0.00
	Complete Printer Source	\$9,870.05	\$9,870.05
	John R Green Co	\$7,640.43	\$0.00

Bid Items 474-476	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$2,530.37	\$0.00
	Complete Printer Source	\$2,625.08	\$0.00
	John R Green Co	\$3,729.55	\$0.00
	School Specialty LLC	\$2,125.76	\$2,125.76
Bid Items 477-479	Vendor	Bid Total	Awarded Total
	Complete Printer Source	\$3,416.41	\$0.00
	John R Green Co	\$5,033.56	\$0.00
	Lakeshore Learning Materials, LLC	\$9,800.85	\$0.00
	School Specialty LLC	\$2,689.74	\$2,689.74

Bid Items			
480-482	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$11,385.09	\$0.00
	Complete Printer Source	\$10,767.59	\$10,767.59
	John R Green Co	\$15,358.41	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$13,753.80	\$0.00
Bid Items 483-485	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$4,779.92	\$0.00
	Complete Printer Source	\$4,330.80	\$0.00
	John R Green Co	\$4,330.80	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$3,817.52	\$3,817.52
Bid Items 486-489	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$6,079.14	\$0.00
	Complete Printer Source	\$5,105.45	\$0.00
	John R Green Co	\$5,078.19	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$4,314.60	\$4,314.60

Bid Items 490-491	Vendor	Bid Total	Awarded Total
	John R Green Co	\$516.62	\$516.62
Bid Items 492-494	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$13,695.62	\$0.00
	Complete Printer Source	\$9,950.04	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$9,740.88	\$9,740.88
	PYRAMID SCHOOL PRODUCTS	\$9,905.15	\$0.00
Bid Items 495-497	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$34,560.24	\$0.00
	Complete Printer Source	\$20,119.86	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$19,081.22	\$19,081.22
	PYRAMID SCHOOL PRODUCTS	\$20,039.30	\$0.00

Bid Items			
498-501	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$619.34	\$0.00
	John R Green Co	\$669.53	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$638.37	\$638.37
Bid Items 502-504	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$48,451.79	\$0.00
	Complete Printer Source	\$39,208.85	\$0.00
	John R Green Co	\$42,008.42	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$28,766.67	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$25,429.50	\$25,429.50
	School Specialty LLC	\$28,474.27	\$0.00
		_	

Bid Items			
505-506	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$18,997.35	\$0.00
	Complete Printer Source	\$33,948.11	\$0.00
	John R Green Co	\$30,982.67	\$30,982.67
	PYRAMID SCHOOL PRODUCTS	\$31,410.11	\$0.00
Bid Items			
507-508	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$21,782.98	\$0.00
	John R Green Co	\$39,104.87	\$39,104.87
Bid Items 509-510	Vendor	Bid Total	Awarded Total
	Complete Printer Source	\$6,882.00	\$0.00
	John R Green Co	\$3,390.84	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$1,983.80	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$2,014.00	\$2,014.00
	School Specialty LLC	\$2,332.96	\$0.00

Bid Items 511-512	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$40,409.25	\$0.00
	Complete Printer Source	\$31,951.50	\$0.00
	John R Green Co	\$34,582.80	\$0.00
	Lakeshore Learning Materials, LLC	\$32,584.65	\$0.00
	PYRAMID SCHOOL PRODUCTS	\$29,320.20	\$29,320.20
	School Specialty LLC	\$32,891.25	\$0.00
Bid Items 513-514	Vendor	Bid Total	Awarded Total
	Cascade School Supplies	\$17,445.46	\$0.00
	Complete Printer Source	\$12,797.05	\$0.00
	John R Green Co	\$15,373.02	\$0.00
	NATIONAL ART & SCHOOL SUPPLIES	\$11,776.81	\$11,776.81
	PYRAMID SCHOOL PRODUCTS	\$14,989.59	\$0.00